
 MASTER LINE CARD



2
3

Lighting Fixtures 
Pages 4-17

LED Bulbs & Lamps 
Pages 18-31

Tools & Hardware 
Pages 32-75

Cord/Cable, Connectors, & Devices
Pages 76-91

Industrial Motor Controls & Automation  
Pages 92-127

Explore a full line of products to fulfill the needs of any 

job site or project. Tamlite and Fusion Lamps sell lighting 

fixtures and components. F4P has all your safety gear and 

hardware needs. RPP provides receptacles, wall plates, 

cords, and more. MCG supplies you with a wide range of 

industrial control products. And Centaur has a wide variety 

of premium electrical installation components.

TAMCO LINE CARD

Electrical Installation Components
Pages 130-248



4

To explore Tamlite Lighting’s full product line, scan  

the QR code with your phone to browse our website!

Questions? Reach out to us at  
INFO@TAMLITEUSA.COM

Tamlite Lighting provides a full range of lighting 

fixtures serving the residential, commercial 

and industrial markets. Tamlite produces and 

continually innovates its product o�ering to meet 

the demands of today’s customer through its US 

manufacturing capabilities.

About Tamlite Lighting

5



WWW.TAMLITEUSA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.TAMLITEUSA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

BACK-LIT & EDGE-LIT FLAT PANELS  

BLP22-4040D-DIM2-W 0584-0004 2X2 BACK-LIT LED PNL 40W 4K- GEN2 1

BLP24-5040D-DIM2-W 0584-0013 2X4 BACK-LIT LED PNL 50W 4K- GEN2 1

BLP14-CSWS-DIM 0546-0240 1X4 BACKLIT PANEL, CCT & WATTAGE SELECT 1

BLP22-CSWS-DIM 0546-0243 2X2 BACKLIT PANEL, CCT & WATTAGE SELECT 1

BLP24-CSWS-DIM 0546-0246 2X4 BACKLIT PANEL, CCT & WATTAGE SELECT 1

BLP14-CSWS-DIM-EM 0553-2948 1X4 BACKLIT PANEL, CCT & WATTAGE SELECT, EMB 1

BLP22-CSWS-DIM-EM 0553-2945 2X2 BACKLIT PANEL, CCT & WATTAGE SELECT, EMB 1

BLP24-CSWS-DIM-EM 0553-2942 2X4 BACKLIT PANEL, CCT & WATTAGE SELECT, EMB 1

TLP22-4040D-DIM2-W 0355-7709 2X2 LED PNL 40W 4K 1

TLP22-4050D-DIM2-W 0387-2676 2X2 LED PNL 40W 5K 1

TLP22-40-CSD-DIM-W 0476-6631 2X2 LED PNL 40W COLOR SWITCHABLE 35/4/5K 1

TLP22-5040D-DIM2-W 0353-4588 2X2 LED PNL 50W 4K 1

TLP22-5050D-DIM2-W 0353-4591 2X2 LED PNL 50W 5K 1

TLP24-50-CSD-DIM-W 0476-6634 2X4 LED PNL 50W COLOR SWITCHABLE 35/4/5K 1

LPSM-14-KIT-WT 0551-8794 1X4 SURFACE MOUNT KIT WHITE 1

LPSM-22-KIT-WT 0551-8797 2X2 SURFACE MOUNT KIT WHITE 1

LPSM-24-KIT-WT 0551-8800 2X4 SURFACE MOUNT KIT WHITE 1

4 5

PART # STOCK CODE DESCRIPTION PER

LINEAR HIGHBAY  

TAMHLX110W850M 0582-6396 MF-2FT 110W LED LINEAR HIGHBAY 5K MATTE LENS 1

TAMHLX165W850M 0582-6399 2FT 165W LED LINEAR HIGHBAY 5K MATTE LENS 1

TAMHLX220W850M 0582-6402 4FT 220W LED LINEAR HIGHBAY 5K MATTE LENS 1

TAMHLX300W850M 0582-6405 4FT 300W LED LINEAR HIGHBAY 5K MATTE LENS 1

IBLED24-150D1L850 0381-7989 MF- 2FT IBLED 4BRD 15,000LM 5000K 1

IBLED26-270D1L850 0381-7995 MF- 2FT IBLED 6BRD 27,000LM 5000K 1

IBLED43-200D1L850 0591-9294 MF-4FT IBLED 3BRD 20000LM 5000K 1

IBLED43-250D1L850 0591-9306 MF-4FT IBLED 3BRD 25,000LM 5000K 1

IBLED44-270D2L850 0591-9318 MF-4FT IBLED 4BRD 27,000LM 5000K 1

IBLED46-350D3L850 0591-9327 MF-4FT IBLED 6BRD 35,000LM 5000K 1

IBLED48-450D4L850 0591-9336 MF-4FT IBLED 8BRD 45,000LM 5000K 1

IBLED48-500D4L850 0583-7601 MF-4FT IBLED 8BRD 50,000LM 5000K 1

HORLED2-130D1OL850 0546-1719 2FT LED HIGHBAY, 75W, 5000K, OPAQUE LEN 1

HORLED2-200D2OL850 0546-1740 2FT LED HIGHBAY, 150W, 5000K, OPAQUE LEN 1

HORLED2-270D4OL850 0548-1126 2FT LED HIGHBAY, 150W, 5000K, OPAQUE LEN 1

HORLED2-370D4OL850 0546-1803 2FT LED HIGHBAY, 300W, 5000K, OPAQUE LEN 1

TAHLED2-130D1L850 0576-3246 2FT HIGH BAY 13,000 LUMENS 5K 1

TAHLED2-200D2L850 0576-3249 2FT HIGH BAY 20,000 LUMENS 5K 1

TAHLED2-240D2L850 0576-3255 2FT HIGH BAY 24,000 LUMENS 5K 1

TAHLED4-130D1L850 0576-3192 4FT HIGH BAY 13,000 LUMENS 5K 1

TAHLED4-200D2L850 0583-7226 4FT HIGH BAY 20,000 LUMENS 5K 1

TAHLED4-360D4L850 0576-3225 4FT HIGH BAY 36,000 LUMENS 5K 1

PART # STOCK CODE DESCRIPTION PER

UFO HIGHBAY  

CTAMUFO100W850 0492-3795 100W 5K CONTRACTOR SERIES UFO HIGH BAY 1

CTAMUFO150W850 0492-3804 150W 5K CONTRACTOR SERIES UFO HIGH BAY 1

CTAMUFO150W850WH 0544-3770 150W 5K CONTRACTOR SERIES UFO HIGH BAY, WHITE 1

CTAMUFO200W850 0492-3816 200W 5K CONTRACTOR SERIES UFO HIGH BAY 1

CTAMUFO240W850 0492-3819 240W 5K CONTRACTOR SERIES UFO HIGH BAY 1

CTAMUFO240W850WH 0544-3776 240W 5K CONTRACTOR SERIES UFO HIGH BAY 1

CTAMUFO150W-CSWS 0582-7005 DLC5.1 UFO HIBAY, 80W/100W/150W. 4K/5K 1

CTAMUFO150W-CSWS-WH 0582-7008 DLC5.1 UFO HIBAY, 80W/100W/150W. 4K/5K-WHITE BODY 1

CTAMUFO240W-CSWS 0582-7002 DLC5.1 UFO HIBAY, 180W/200W/240W. 4K/5K 1

CTAMUFO240W-CSWS-WH 0582-7011 DLC5.1 UFO HIBAY, 180W/200W/240W. 4K/5K-WHITE BODY 1

BLP24

BLP22

BLP14

CTAMUFO

CTAMUFO-CSWS

TAMHLX

IBLED

HORLED

TAHLED

PART # STOCK CODE DESCRIPTION PER

WASH DOWN/ENCLOSED  

CNCFLED4-40D1L840 0485-6331 4FT CONTRACTOR NCF 4000LM 4K 1

CNCFLED4-40D1L850 0485-6334 4FT CONTRACTOR NCF 4000LM 5K 1

CT2432D 0277-4880 2 LAMP 4FT 32W 120-277V ENCL & GASK WET 1

CT4832D 0275-4828 4 LAMP 8FT 32W 120-277V ENCL & GASK WET 1

CTNLED4-40D1LCR1L850 0448-8651 4FT ENC GASKET 4000LM 5K CLR RIB LEN 1

CTNLED4-50D1LCR1L850 0448-8741 4FT ENC GASKET 5000LM 5K CLR RIB LEN 1

CTNLED4-80D1LCR1L840 0448-9887 4FT ENC GASKET 8000LM 4K CLR RIB LEN 1

CTNLED4-100D1LCR1L850 0448-9908 4FT ENC GASKET 10000LM 5K CLR RIB LEN 1

CTNLED8-80D1LCR1L850 0448-9965 8FT ENC GASKET 8000LM 5K CLR RIB LENS 1

CTNLED8-100D1LCR1L850 0449-5923 8FT ENC GASKET 10000LM 5K CLR RIB LEN 1

CTNLED8-150D2LCR1L850 0536-3304 8FT ENC GASKET 15000LM 5K CLR RIB LEN 1

CTNLED8-200D2LCR1L850 0449-5959 8FT ENC GASKET 20000LM 5K CLR RIB LEN 1

CTNLEDT4-18D2L840 0330-7968 4FT  WIRED ONE END C/W 2 X 4K LAMPS 1

CTNLEDT4-18D2L850 0330-7971 4FT  WIRED ONE END C/W 2 X 5K LAMPS 1

CTNLEDT4-D2 0343-8801 4FT 2  LAMP  WIRED ONE END 1

CTNLEDT4-D2-DE 0439-2633 4FT 2  LAMP  WIRED  BOTH ENDS 1

CTNLEDT8-18D4L850 0330-7977 8FT  WIRED ONE END C/W 4  5K LAMPS 1

CTNLEDT8-D4 0392-9892 8FT 4 X 4FT LAMP  WIRED ONE END 1

CTNLEDT8-D4-DE 0440-2992 8FT 4 X 4FT LAMP  WIRED  BOTH ENDS 1

CNCFLED4

CTNLED



WWW.TAMLITEUSA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.TAMLITEUSA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

6 7

PART # STOCK CODE DESCRIPTION PER

LINEAR STRIPS  

SLWLEDT2-9D1L850 0330-7941 2FT WIDE WIRED ONE END C/W 5K LAMP 1

SLWLEDT2-9D2L850 0330-7935 2FT WIDE WIRED ONE END C/W 2 X 5K LAMPS 1

SLWLEDT2-D1 0393-5703 2FT WIDE WIRED ONE END 1

SLWLEDT2-D1-DE 0432-5397 2FT WIDE WIRED AT BOTH ENDS 1

SLWLEDT2-D2 0346-4895 2FT 2 LAMP  WIDE WIRED ONE END 1

SLWLEDT2-D2-DE 0432-5424 2FT 2 LAMP WIDE WIRED AT BOTH ENDS 1

SLWLEDT4-18D2L850 0330-7929 4FT WIDE WIRED ONE END C/W 2 X 5K LAMPS 1

SLWLEDT4-D2 0329-0856 4FT 2 LAMP WIDE WIRED ONE END 1

SLWLEDT4-D2-DE 0433-9305 4FT 2 LAMP WIDE WIRED AT BOTH END 1

SLWLEDT8-18D4L850 0330-7917 8FT WIDE WIRED ONE END C/W 4X4FT5K LAMPS 1

SLWLEDT8-D1-DE96-FA8 0542-2881 8FT 1 X 8FTLAMPS WIDE WIRED AT BOTH ENDS 1

SLWLEDT8-D1-DE96-R17D 0542-2908 8FT 1 X 8FTLAMPS WIDE WIRED AT BOTH ENDS-HO 1

SLWLEDT8-D2-DE96-FA8 0531-9279 8FT 2 X 8FTLAMPS WIDE WIRED AT BOTH ENDS 1

SLWLEDT8-D2-DE96-R17D 0542-2911 8FT 2 X 8FTLAMPS WIDE WIRED AT BOTH ENDS-HO 1

SLWLEDT8-D4 0329-0859 8FT 4 X 4FT LAMPS WIDE WIRED ONE END 1

SLWLEDT8-D4-DE 0433-9302 8FT 4 X 4FTLAMPS WIDE WIRED AT BOTH ENDS 1

INDILEDT4-18D2L850 0392-3910 4FT IND WIRED ONE END C/W 2 X 5K LAMPS 1

PART # STOCK CODE DESCRIPTION PER

LINEAR STRIPS  

CSLNLED4-36D1L840 0538-9842 4FT 3600LM 4K NARROW STRIP C/W LENS 1

CSLNLED4-36D1L850 0538-9848 4FT 3600LM 5K NARROW STRIP C/W LENS 1

CSLNLED8-72D1L840 0538-9851 8FT 7200LM 4K NARROW STRIP C/W LENS 1

CSLNLED8-72D1L850 0538-9854 8FT 7200LM 5K NARROW STRIP C/W LENS 1

SLN1432D 0268-8804 4FT NARROW BODY STRIP LIGHT F32T8 1

SLNLED4-40D1O1L850 0446-0511 4FT NARROW STRIP 4000LM 5K LENS 1

SLNLED4-80D1O1L850 0446-0730 4FT NARROW STRIP 8000LM 5K LENS 1

SLNLED8-60D1O1L840 0446-5650 8FT NARROW STRIP  6000LM 4K OPAQUE LENS 1

SLNLED8-80D1O1L850 0446-5665 8FT NARROW STRIP 8000LM 5K OPAQUE LENS 1

SLNLEDT2-D1 0352-3338 2FT NARROW STRIP WIRED ONE END 1

SLNLEDT4-D1 0348-0843 4FT NARROW WIRED ONE END 1

SLNLEDT8-D2 0357-1167 8FT 2 X 4FT LAMP NARROW WIRED ONE END 1

SLW2432D 0268-8825 2 LAMP F32T8 STRIP LIGHT WIDE BODY 1

SLW28110D 0268-6359 2 TL 8FT 110W EB MULTI-V T12 HO STRIP 1

SLW4832D 0268-8843 4 LAMP 8FT T8  WIDE  STRIP 1

SLWLED4-40D1O1L850 0441-5718 4FT WIDE STRIP 4000LM 5K LENS 1

SLWLED4-40D1O1L850OS20 0531-8355 4FT WIDE 4000LM 5K LENS OS 20%, STAIRWELL 1

SLWLED4-60D1O1L850 0441-5763 4FT WIDE STRIP 6000LM 5K LENS 1

SLWLED4-80D1O1L850 0441-5784 4FT WIDE STRIP  8000LM 5K LENS 1

SLWLED8-100D2O1L840 0443-4390 8FT WIDE STRIP 10000LM LENS 1

SLWLED8-120D2O1L850 0446-0949 8FT WIDE STRIP 12000LM 5K LENS 1

SLWLED8-150D2O1L850 0542-1351 8FT WIDE STRIP LED 15000LM 5K LENS 1

SLWLED8-80D1O1L840 0443-2443 8FT WIDE STRIP 8000LM 4K LENS 1

PART # STOCK CODE DESCRIPTION PER

WRAPS  

CWLLED2-20D1L840 0474-0315 2FT 2000LM 4K CONTRACTOR WRAP 1

CWLLED2-20D1L850 0474-0318 2FT 2000LM 5K CONTRACTOR WRAP 1

CWLLED4-32D1L840 0453-6282 4FT 3200LM 4K CONTRACTOR  WRAP 1

CWLLED4-32D1L850 0453-6285 4FT 3200LM 5K CONTRACTOR  WRAP 1

WL2217D 0268-8930 WRAP FIXTURE 2 LAMP F17T8 ELECTRONIC 120 1

WL2432D 0277-0449 4FT 32W 2 LAMP RESI WRAP 120/277 1

WLSLED4-40D1P1L840 0438-6621 4FT WRAP 4000LM 4K CLR PRISM LENS 1

WLSLED4-50D1P1L840 0438-6627 4FT WRAP 5000LM 35K CLR PRISM LENS 1

WLSLED4-60D1P1L840 0439-1331 4FT WRAP 6000LM 4K CLR PRISMLENS 1

WLSLEDT2-9D2P1L840 0336-2949 2FT 2 LAMP WIRED ONE END C/W 4K LAMPS 1

WLSLEDT4-18D2P1L840 0336-2955 4FT 2 LAMP WIRED ONE END C/W 4K LAMPS 1

WLSLEDT4-18D2P1L850 0336-2958 4FT 2 LAMP WIRED ONE END C/W 5K LAMPS 1

WLSLEDT4-18D4P1L840 0353-1729 4FT 4 LAMP WIRED ONE END C/W 4K LAMPS 1

WLSLEDT4-18D4P1L850 0352-2795 4FT 4 LAMP WIRED ONE END C/W 5K LAMPS 1

WLSLEDT4-D2P1 0345-8286 4FT 2 LAMP WIRED ONE END 1

WLSLEDT4-D4P1 0345-8289 4FT 4 LAMP WIRED ONE END 1

WLSLEDT4-D2P1-DE 0433-9437 4FT 2 LAMP WIRED BOTH ENDS 1

CSLNLED

SLN

SLW

SLWLEDT

INDILEDT

CWLLED

WLSLED

PART # STOCK CODE DESCRIPTION PER

STANDARD (PRISMATIC LENS) TROFFERS   

TC22-232D1P1L841 0289-5333 2X2 3" COMMERCIAL RECESSED TROFFER-U BEND 1

TC22-317D1P1L841 0298-0002 2X2 3" COMMERCIAL RECESSED TROFFER 1

TC22-417D1P1L841 0303-9921 2X2 3" COMMERCIAL RECESSED TROFFER 1

TC24-332D1P1L841 0283-3638 2X4 3" COMMERCIAL RECESSED TROFFER 1

TC24-432D1P1L841 0289-5336 2X4 3" COMMERCIAL RECESSED TROFFER 1

TCLED22-40D1P1L840 0387-1965 2X2 3IN TCLED 4000LM 4000K .095 LENS 1

TCLED22-50D1P1L840 0387-2013 2X2 3IN TCLED 4000LM 4000K .095 LENS 1

TCLED24-40D1P1L840 0356-6673 2X4 3" COMMERCIAL RECESSED TROFFER- LED 1

TCLED24-50D1P1L840 0338-5218 2X4 3" COMMERCIAL RECESSED TROFFER- LED 1

TCLED24-60D1P1L840 0358-7151 2X4 3" COMMERCIAL RECESSED TROFFER- LED 1

TCLED24-70D1P1L840 0387-2373 2X4 3" COMMERCIAL RECESSED TROFFER- LED 1

TCLEDT22-9D3P1 0354-1779 2X2 TCLEDT 3-9W TUBES .095PRSM LENS 1

TCLEDT22-9D3P1L840 0358-0008 2X2 TCLEDT 3-9W TUBES .095PRSM 40K 1

TCLEDT22-9D4P1 0387-2490 2X2 3" COMMERCIAL RECESSED TROFFER- LED 1

TCLEDT22-9D4P1L850 0387-2502 2X2 3" COMMERCIAL RECESSED TROFFER- LED 1

TCLEDT24-18D2P1L850 0387-2550 2X4 2-18W LED TUBE .095 PRSM LENS 50K 1

TCLEDT24-18D3P1 0330-7341 2X4 TCLEDT 3-18W TUBE PRSM LENS NO LAMPS 1

TCLEDT24-18D3P1L840 0356-6976 2X4 3TCLEDT 3-18W LED TUBE PRSM LENS 40K 1

TCLEDT24-18D4P1 0336-2469 2X4 3" COMMERCIAL RECESSED TROFFER- LED 1

TCLEDT24-18D4P1L840 0353-4726 2X4 3" COMMERCIAL RECESSED TROFFER- LED 1

TCLED



WWW.TAMLITEUSA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.TAMLITEUSA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

CTVLED

STVLED

IDLED

8 9

PART # STOCK CODE DESCRIPTION PER

OUTDOOR LED  

CYCLEDCSBZ 0580-0212 20W LED WALLPACK, 120-277V, 5000 1

DSLED505K 0324-1599 50W LED DARK SKY WALLPACK 120/277V 1

DSLED505K-PC 0546-1365 50W LED DARK SKY WALLPACK 120/277V W/PC 1

DSLED505K-EM 0546-1368 50W LED DARK SKY WALLPACK 120/277V W/EM 1

DSLED505K-EM-PC 0549-3657 50W LED DARK SKY WALLPACK 120/277V W/EM & PC 1

DSLED805K 0324-1602 80W LED DARK SKY WALLPACK 120/277V 1

DSLED805K-PC 0546-1362 80W LED DARK SKY WALLPACK 120/277V W/PC 1

DSLED805K-EM 0546-1257 80W LED DARK SKY WALLPACK 120/277V W/EM 1

DSLED805K-EM-PC 0549-3660 80W LED DARK SKY WALLPACK 120/277V W/EM & PC 1

DDSLED305K 0542-1606 30W LED DUSK TO DAWN 1

DDSLED505K 0321-0819 50W LED DUSK TO DAWN 120/277V 1

DDSLED805K 0380-7315 80W LED DUSK TO DAWN 1

DMX-AMP-RGBW 0432-5985 DMX AMPLIFIER FOR RGBW 1

DMX-DECODER-RGBW 0431-8191 DMX DECODER RGBW 12-24V IP67 4CH 1

DMX-WIFI-RGBW 0431-8173 DMX WIFI RGBW TOUCHPAD 12-24V 1

HID/MED 0221-6412 MED BASE SOCKET 1

HID/MOG 0221-3301 MOGUL BASE SOCKET 1

MPFLED125KK 0427-2864 12W LED FLOOD, 120-277V, KNUCKLE 1

MPFLED305KK 0331-9170 30W LED FLOOD, 120-277V, KNUCKLE 1

MPFLED305KY 0331-9173 30W LED FLOOD, 120-277V, YOKE 1

MPFLED505KK 0331-9176 50W LED FLOOD, 120-277V, KNUCKLE 1

MPFLED505KY 0331-9179 50W LED FLOOD, 120-277V, YOKE 1

MPFLEDWS5KSF 0582-4383 50-150W WATT SEL,5K,120-277V SLIPFIT 1

MPFLEDWS5KTR 0582-4380 50-150W WATT SEL,5K,120-277V TRUN 1

SPLED6005K-100-E-YK 0490-6626 600W LED SPORTSLIGHT, 277-480V 1

SPLED6005K-30-E-YK 0449-6871 600W LED SPORTS LIGHT, 480V, YOK 1

SPLEDPTF 0519-5412 LED SPORTSLIGHT POLE TOP FITTER 1

SPLWS5K 30 E YK  BK 0583-5945 SPRT LGT 5K 277-480V YOKE BLK WATT SLCT 1

SPLWS5K 30 U YK  BK 0583-5840 SPRT LGT 5K 120-277V YOKE BLK WATT SLCT 1

SPLWS5K 80 E YK  BK 0583-5963 SPRT LGT 5K 277-480V YOKE BLK WATT SLCT 1

SPLWS5K 80 U YK  BK 0583-5960 SPRT LGT 5K 120-277V YOKE BLK WATT SLCT 1

SPLWS VISOR 0583-5966 BLACK VISOR FOR SPLWS SPORTLIGHTER 1

STL2412-22 0427-6746 LED STRING LIGHTS 24FT 12 FILAME 1

TABFL3015BZK 0332-1498 15W LED BULLET FLOOD BRZ KNUCKLE 1

TABFL3028BZK 0332-1504 28W LED BULLET FLOOD BRZ KNUCKLE 1

TABFL3042BZK 0332-1510 42W LED BULLET FLOOD BRZ KNUCKLE 1

TABFL5015BZK 0332-1501 15W LED BULLET FLOOD BRZ KNUCKLE 1

TABFL5028BZK 0332-1507 28W LED BULLET FLOOD BRZ KNUCKLE 1

TABFL5042BZK 0332-1513 42W LED BULLET FLOOD BRZ KNUCKLE 1

PART # STOCK CODE DESCRIPTION PER

VOLUMETRIC/INDIRECT TROFFERS  

CTIVLED22-40CS 0542-3529 2X2 LED INDIRECT VOLUMETRIC 35K/4K/5K 1

CTIVLED24-50CS 0542-3535 2X4 LED INDIRECT VOLUMETRIC 35/4/5K 1

CTVLED22-40V1CS 0541-0920 2X2 LED VOLUMETRIC 1 CHANNEL 35K/4K/5K 1

CTVLED22-40V2CS 0541-0926 2X2 LED VOLUMETRIC 2 CHANNEL 35K/4K/5K 1

CTVLED24-50V1CS 0541-0932 2X4 LED VOLUMETRIC 1 CHANNEL 35K/4K/5K 1

CTVLED24-50V2CS 0541-0935 2X4 LED VOLUMETRIC 2 CHANNEL 35K/4K/5K 1

STVLED22-40D1L840 0550-6668 SLIM 2X2 4000LM VOLUMETRIC 40K 1

STVLED22-40D1L840-EM 0551-4558 SLIM 2X2 4000LM VOLUMETRIC 4K EM 1

STVLED22-60D1L840 0550-6674 SLIM 2X2 6000LM VOLUMETRIC 4000K 1

STVLED22-60D1L840-EM 0563-3154 SLIM 2X2 6000LM VOLUMETRIC 4K EM 1

STVLED24-40D1L840 0550-6680 SLIM 2X4 4000LM VOLUMETRIC 4K 1

STVLED24-40D1L840-EM 0551-4576 SLIM 2X4 4000LM VOLUMETRIC 4K EM 1

STVLED24-60D1L840 0550-6686 SLIM 2X4 6000LM VOLUMETRIC 4K 1

STVLED24-60D1L840-EM 0551-4594 SLIM 2X4 6000LM VOLUMETRIC 4K EM 1

STVLED24-80D1L840 0550-6689 SLIM 2X4 8000LM VOLUMETRIC 4K 1

STVLED24-80D1L840-EM 0551-4603 SLIM 2X4 8000LM VOLUMETRIC 4K EM 1

IDLED22-C40D1L840 0386-8611 2X2 RECESSED INDIRECT CENTER BASKET- LED 1

CTIVLED22

AAFL

AWCLED

BOLED

CFL

COWS

BOLWS

CYCLED

DSLED

DDSLED

MPFLED

PART # STOCK CODE DESCRIPTION PER

OUTDOOR LED  

AAFL-RGBW74GR-24 0431-7657 RGBW 3000K 74W GRAY 24V LED FLOOD 1

AWCLED275K1BZ 0353-0388 27W LED UP/DOWN CYLINDER 120/277 1

AWCLED275K2BZ 0353-0391 27W LED UP/DOWN CYLINDER 120/277 1

BOLWSCSDCBZ 0583-7289 43" LED CCT/WATTAGE SELCT BOLLARD BZ 1

BOLED275KDLBZ 0369-6552 27W LED LOUVERED BOLLARD 120/277 1

CANOPY NIPPLE 0332-1495 CANOPY SCREW NIPPLE FOR TAFL & T 1

CFL5080BZSF 0536-0154 80W 5K LED FLD BRONZE SLIPFITTER 1

COWS3015BZ 0490-5384 UP/DWN WALL SCONCE 3K 15W NO FAC 1

COWS3015WH 0505-9446 UP/DWN WALL SCONCE 3K 15W NO F/P 1

COWS4015BZ 0505-9443 UP/DWN WALL SCONCE 4K 15W NO FAC 1

COWS4015WH 0505-9449 UP/DWN WALL SCONCE 4K 15W NO F/P 1

COWS5015BZ 0490-5408 UP/DWN WALL SCONCE 5K 15W NO FAC 1

COWS5015WH 0505-9452 UP/DWN WALL SCONCE 5K 15W NO F/P 1

COWSP01BZ 0491-5113 BRONZE FACE PLATE #1 FOR COWS SC 1

COWSP01WH 0505-9455 WHITE FACE PLATE #1 FOR COWS SCO 1

COWSP02BZ 0491-5116 BRONZE FACE PLATE #2 FOR COWS SC 1

COWSP02WH 0505-9458 WHITE FACE PLATE #2 FOR COWS SCO 1

COWSP03BZ 0491-5119 BRONZE FACE PLATE #3 FOR COWS SC 1

COWSP03WH 0505-9461 WHITE FACE PLATE #3 FOR COWS SCO 1

COWSP04WH 0505-9464 WHITE FACE PLATE #4 FOR COWS SCO 1

STL

TABFL

SPLED



WWW.TAMLITEUSA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.TAMLITEUSA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

TASL
TSL

TCOSL

W1LEDWSCS

W2LED

W2LEDWSCS

W3LED

PART # STOCK CODE DESCRIPTION PER

OUTDOOR LED  

TASLL3BK 0301-7601 120V LED STEP LGT BLACK 1

TASLL3BZ 0299-0469 120V LED STEP LGT W/VERT/HORIZ L 1

TASLL3SS 0301-7604 120V LED STEP LGT 1

TASLL3WH 0299-9214 120V LED STEP LGT 1

TATFLL3015BZK 0332-1288 15W BRZ LED FLD LGT KNUCKLE 30K 1

TATFLL3015WHK 0332-1291 15W WHT LED FLD LGT KNUCKLE 30K 1

TATFLL3030BZK 0332-1294 30W BRZ LED FLD LGT KNUCKLE 30K 1

TATFLL3030WHK 0332-1297 30W WHT LED FLD LGT KNUCKLE 3000 1

TATFLL4015BZK 0448-7904 15W BRZ LED FLD LGT KNUCKLE 4K 1 1

TATFLL4030BZK 0448-7907 30W BRZ LED FLD LGT KNUCKLE 4K 1 1

TATFLL4050BZK 0448-7910 50W BRZ LED FLD LGT KNUCKLE 4K 1 1

TATFLL5015BZ 0309-5523 15W 1467LM LED FLOOD 120/277V DL 1

TATFLL5015BZK 0309-6441 15W LED KNUCKLE MNTD FLD LGT DLC 1

TATFLL5015WH 0314-1528 15W WHT LED FLD LGT YOKE 100/277 1

TATFLL5015WHK 0314-1525 15W WHT LED FLD LGT KNUCKLE 100/ 1

TATFLL5030BZ 0309-5520 30W 2899LM LED FLOOD 120/277V DL 1

TATFLL5030BZK 0309-6447 30W LED KNUCKLE MNTD FLD LGT DLC 1

TATFLL5030WH 0314-1522 30W WHT LED FLD LGT YOKE 100/277 1

TATFLL5030WHK 0314-1537 30W WHT LED FLD LGT KNUCKLE 100/ 1

TATFLL5050BZ 0309-5517 50W 4905LM LED FLOOD 120/277V DL 1

TATFLL5050BZK 0309-6444 50W LED KNUCKLE MNTD FLD LGT DLC 1

TATFLL5050WH 0314-1534 50W WHT LED FLD LGT YOKE 100/277 1

TATFLL5050WHK 0314-1531 50W WHT LED FLD LGT KNUCKLE 100/ 1

TCOFLCS15BZK 0541-0578 CCT FLD 3/4/5K 15W FLOOD BRONZE KNUCKLE 1

CHRG25 WSCSBZ 0583-7634 FLD 25W WS CCT 120-277V BRONZE YOKE 1

CHRG25 WSCSBZK 0583-7661 FLD 25W WS CCT 120-277V BRONZE KNUCKLE 1

CHRG60 WSCSBZ 0583-7652 FLD 60W WS CCT 120-277V BRONZE YOKE 1

CHRG60 WSCSBZK 0583-7667 FLD 60W WS CCT 120-277V BRONZE KNUCKLE 1

CHRG80 WSCSBZ 0583-7655 FLD 80W WS CCT 120-277V BRONZE YOKE 1

CHRG80 WSCSBZK 0583-7670 FLD 80W WS CCT 120-277V BRONZE KNUCKLE 1

TCOFLRGBW530BK-60 0550-6053 RGBW 5K 120-277V 30W 60DEG FLD BLK 1

TCOFLRGBW572BK-60 0583-6368 RGBW 5K 120-277V 72W 60DEG FLD BLK 1

TCOC5040WH 0542-2269 LED CANOPY 40W 120/277V WHT 5000K 1

TCOC5040BZ 0535-9479 LED CANOPY 40W 120/277V BRZ 5000K 1

TCOC5060WH 0542-2272 LED CANOPY 60W 120/277V WHT 5000K 1

TCOC5060BZ 0535-9482 LED CANOPY 60W 120/277V BRZ 5000K 1

TCOC5075WH 0542-2275 LED CANOPY 75W 120/277V WHT 5000K 1

TCOC5075BZ 0535-9776 LED CANOPY 70W 120/277V BRZ 5000K 1

TCOPTCS35BK 0541-1439 CCT POST TOP 3/4/5K 35W 120/277V BLACK 1

TCOPTCS55BZ 0541-1523 CCT POST TOP 3/4/5K 35W 120/277V BRONZE 1

TCOSL5020SF 0541-1526 20W GRAY LED SOLAR FLD 5K SLIPFITTER 1

TCOC5075WH 0542-2275 LED CANOPY 75W 120/277V WHT 5000K 1

TCOC5075BZ 0535-9776 LED CANOPY 70W 120/277V BRZ 5000K 1

TCOPTCS35BK 0541-1439 CCT POST TOP 3/4/5K 35W 120/277V BLACK 1

TCOPTCS55BZ 0541-1523 CCT POST TOP 3/4/5K 35W 120/277V BRONZE 1

10 11

PART # STOCK CODE DESCRIPTION PER

OUTDOOR LED  

TCOSL5020SF 0541-1526 20W GRAY LED SOLAR FLD 5K SLIPFITTER 1

TSL23050BK 0448-8960 2FT LED SIGN LGT 3K 50W BLK SMB 1

TSL25050BK 0448-8963 2FT LED SIGN LGT 5K 50W BLK SMB 1

TSL2COWL 0448-7826 2FT BLACK COWL FOR TSL2 FIXTURE 1

TSL-KNUCKLE 0448-8966 SET OF 2 KUNCKLE MOUNTS FOR TSL 1

VPBM1501/2 0285-5193 150W MAXIMUM BOX MNT VAPORPROOF 1

VPWM1501/2 0285-5196 150W MAXIMUM WALL MNT VAPORPROOF 1

W1LEDWSCS 0582-4230 15-30W WATT AND CCT LED WLPCK 120-277V 1

W2LED504K 0530-5659 50W LED WALL PACK 4K VISOR INCLUDED 1

W2LED504K-PC 0543-0780 50W LED WALL PACK 4K VISOR INCLUDED W/PC 1

W2LED504K-EM 0546-4107 50W LED WALL PACK 4K VISOR INCLUDED W/EM 1

W2LED504K-EM-PC 0549-3645 50W LED WALL PACK 4K VISOR INCLUDED W/EM & PC 1

W2LED505K 0313-3833 50W LED WALL PACK 5K VISOR INCLUDED 1

W2LED505K-PC 0546-4104 50W LED WALL PACK 5K VISOR INCLUDED W/PC 1

W2LED505K-EM 0439-2636 50W LED WALL PACK 5K VISOR INCLUDED W/EM 1

W2LED505K-EM-PC 0549-3648 50W LED WALL PACK 5K VISOR INCLUDED W/EM & PC 1

W2LED604K 0530-5662 60W LED WALL PACK 4K VISOR INCLUDED 1

W2LED604K-PC 0546-4122 60W LED WALL PACK 4K VISOR INCLUDED W/PC 1

W2LED605K 0305-5545 60W LED WALLPACK 5K VISOR INCLUDED 1

W2LED605K-PC 0546-4119 60W LED WALLPACK 5K VISOR INCLUDED W/PC 1

W2LED804K 0530-5665 80W LED WALLPACK 4K VISOR INCLUDED 1

W2LED804K-PC 0546-4128 80W LED WALLPACK 4K VISOR INCLUDED W/PC 1

W2LED804K-EM 0546-4125 80W LED WALLPACK 4K VISOR INCLUDED W/EM 1

W2LED804K-EM-PC 0549-3651 80W LED WALLPACK 4K VISOR INCLUDED W/EM & PC 1

W2LED805K 0305-5551 80W LED WALLPACK 5K VISOR INCLUDED 1

W2LED805K-PC 0545-3424 80W LED WALLPACK 5K VISOR INCLUDED W/PC 1

W2LED805K-EM 0439-2639 80W LED WALLPACK 5K VISOR INCLUDED W/EM 1

W2LED805K-EM-PC 0549-3424 80W LED WALLPACK 5K VISOR INCLUDED W/EM & PC 1

W2LEDWSCS 0544-3950 50W-80W WATTAGE & COLOR SECT 120-277V BZ 1

W2LEDWSCS-PC 0549-3654 50W-80W WATTAGE & COLOR SECT 120-277V BZ W/PC 1

W2LEDWSCSWH 0545-2164 50W-80W WATTAGE & COLOR SECT 120-277V WH 1

W3LEDWSCS 0576-3174 80W-120W LED WALLPACK 120-277V CCT SECT 1

WPALED305K 0339-4143 30W LED ADJ WALLPACK 120/277V 1

WPALED505K 0339-4146 50W LED ADJ WALLPACK 120/277V 1

TCOSTRD3006BZ 0544-4064 RND STEPLIGHT 3K 6W BRONZE 120-2 1

TCOSTRD5006BZ 0544-4067 RND STEPLIGHT 5K 6W BRONZE 120-2 1

TCOSTSPT18BZ 0544-4082 18" BRONZE SGLE MOUNTING POST FO 1

TCOSTSQ3006BZ 0544-4070 SQUARE STEPLIGHT 3K 6W BRONZE 12 1

TCOSTSQ5006BZ 0544-4073 SQUARE STEPLIGHT 5K 6W BRONZE 12 1

TATFL

CHRG

TCOFL

TCOFLR

TCOC

TCOPT

WPALED

TCOSTRD

TCOSTSQ



WWW.TAMLITEUSA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.TAMLITEUSA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

BALLAST & LAMP KITS  

BKHPQ100 0001-4500 100W HPS QUAD TAP BALLAST KIT 1

BKHPQ250 0004-2340 250W HPS QUAD TAP BALLAST KIT 1

BKHPQ400 0244-8525 400W HPS QUAD TAP BALLAST KIT 1

BKHPQ70 0001-4497 70W HPS QUAD TAP BALLAST KIT 1

BKMHF1000 0222-6195 1000W MH BALLAST 1

BKMHF175 0273-8748 175W 5 TAP BALLAST KIT, NO LAMP 1

BKMHF250 0274-0263 250W MH BALLAST KIT QUAD TAP NO 1

BKMHF400 0237-7275 400W MH QUINT TAP BALLAST KIT NO 1

BKMHQ100 0001-4548 100W MH QUAD TAP BALLAST KIT 1

BKMHQ1000 0244-8552 1000W MH QUAD TAP BALLAST KIT 1

BKMHQ150 0004-2343 150W MH QUAD TAP 1

BKMHQ1500 0244-8558 1500W MH QUAD TAP 1

BKMHQ175 0001-4551 175W MH QUAD TAP 1

BKMHQ250 0001-4560 250W MH QUAD TAP 1

BKMHQ400 0244-8546 400W MH QUAD TAP 1

BKMHQ50 0244-8537 50W MH QUAD TAP BALLAST KIT 1

BKMHQ70 0250-7871 70W-MH-QUAD TAP BALLAST 1

BKHPQ100LMD 0001-4323 100W HPS QUAD TAP C/W MED BASE L 1

BKHPQ100LMG 0016-6429 100W HPS QUAD TAP C/W MOG BASE L 1

BKHPQ250LMG 0001-4341 250W HPS QUAD TAP BALLAST KIT C/ 1

BKHPQ400LMG 0001-4350 400W HPS QUAD TAP BALLAST KIT C/ 1

BKMHF1000BT7 0250-7868 1000W-MH-5 TAP BALLAST KIT-BT37 1

BKMHF1000LMG 0016-6447 1000W MH 5-TAP BALLAST KIT C/W L 1

BKMHF175LMD 0286-5186 175W MH, QUINT TAP, MED BASE ED1 1

BKMHF175LMG 0252-1212 175W MH QUINT TAP BALLAST KIT C/ 1

BKMHF250LMG 0251-7918 250W MH QUINT TAP BALLAST KIT C/ 1

BKMHF400LMG 0004-2319 400W, 5 TAAP BALLAST KIT WITH LA 1

BKMHQ1000BT7 0278-2212 1000W REDUCED JACKET QUAD TAP BA 1

BKMHQ1000LMG 0001-4425 1000W MH QUAD TAP C/W MOGUL BASE 1

BKMHQ100LMD 0001-4374 100W MH QUAD TAP C/W MED BASE LA 1

BKMHQ100LMG 0016-6450 100W MH QUAD TAP BALLAST KIT C/W 1

BKMHQ1500LMG 0016-6453 1500W MH QUAD TAP BALLAST KIT C/ 1

BKMHQ150LMD 0001-4377 150W MH QUAD TAP BLST KIT C/W ME 1

BKMHQ150LMG 0016-6456 150W MH QUAD TAP BLST KIT C/W MO 1

BKMHQ175LMD 0016-6459 175W MH QUAD TAP BLST KIT C/W ME 1

BKMHQ175LMG 0001-4395 175W MH QUAD TAP BLST KIT C/W MO 1

BKMHQ250LMG 0001-4404 250W MH QUAD TAP BALLAST KIT C/W 1

BKMHQ400ED37 0283-9524 400W MH QUAD TAP W-ED37 1

BKMHQ400LMG 0001-4413 400W MH QUAD TAP BALLAST KIT C/W 1

BKMHQ50LMD 0220-5336 50W MH QUAD TAP BLST KIT C/W MED 1

BKMHQ70LMD 0001-4368 70W MH QUAD TAP BLST KIT C/W MED 1

12 13

PART # STOCK CODE DESCRIPTION PER

BRACKETS & BULLHORNS  

TCOBR3BZ 0541-0782 3 LIGHT BULLHORN, W/3 INLINE 2-3/8 TENON 1

TCOBR2BZ 0539-6481 2 LIGHT TUBULAR BULLHORN 1

TCOBR3120BZ 0541-0785 3 LIGHT BULLHORN 3 2-3/8" TENON @ 120 DE 1

TCOBR490BZ 5410797 4 LIGHT BULLHORN, W/4  2-3/8" TENONS @90 1

TCOBS2BZ 0540-3141 2-LIGHT BULL HORN SQUARE BRKT 1

TCOWR190BZ 0539-6523 1 LIGHT WALL BRACKET 2-3/8 TENON BRONZE 1

TCOPR190BZ 0541-0815 1 LIGHT STEEL WALL MOUNT BRACKET @ 90 1

TCOWR290BZ 0541-0803 2 LIGHT WALL MOUNT BRACKET, 2-3/8 TENONS 1

TCOWPR1BZ 0541-0788 1 LIGHT WOOD POLE BRACKET, 2-3/8 TENON, 1

TCOWPR2BZ 0541-0794 2 LIGHT WOOD POLE BRACKET, 2-3/8 TENONS, 1

TCOWS1BZ 0541-0770 1 LGT WALL ANG BRACKET TRUNION MNT FLD 1

TCOWR1BZ 0541-0800 TUBULAR STEEL SIDE TENON WALL BRACKET 1

TCOTR3IBZ 0541-0776 POLE TOP ADAPTER, 3" OD TO 2-3/8" TENON 1

TCOTS5IBZ 0541-0812 INTERNAL TENON ADAPTOR FOR 5INCH SQ POLE 1

PART # STOCK CODE DESCRIPTION PER

STRK AREA LIGHTS  

STRK805K T5 U SP BZ 0603-6909 80W AREA LIGHT, SQUARE POLE MOUNT 1

STRK805K T5 U RP BZ 0603-6918 80W AREA LIGHT, ROUND POLE MOUNT 1

STRK805K T5 U SF BZ 0582-8484 80W AREA LIGHT, SLIPFITTER MOUNT 1

STRK805K T5 U TR BZ 0582-8496 80W AREA LIGHT, TRUNNION MOUNT 1

STRK1505K T5 U SP BZ 0603-6993 150W AREA LIGHT, SQUARE POLE MOUNT 1

STRK1505K T5 U RP BZ 0603-7122 150W AREA LIGHT, ROUND POLE MOUNT 1

STRK1505K T5 U SF BZ 0582-8487 150W AREA LIGHT, SLIPFITTER MOUNT 1

STRK1505K T5 U TR BZ 0582-8499 150W AREA LIGHT, TRUNNION MOUNT 1

STRK1505K T5 E SP BZ 0599-0190 150W AREA LIGHT, SQUARE POLE MOUNT 1

STRK1505K T5 E RP BZ 0603-7203 150W AREA LIGHT, ROUND POLE MOUNT 1

STRK1505K T5 E SF BZ 0596-7549 150W AREA LIGHT, SLIPFITTER MOUNT 1

STRK1505K T5 E TR BZ 0603-7206 150W AREA LIGHT, TRUNNION MOUNT 1

STRK2305K T5 U SP BZ 0603-7293 230W AREA LIGHT, SQUARE POLE MOUNT 1

STRK2305K T5 U RP BZ 0603-7296 230W AREA LIGHT, ROUND POLE MOUNT 1

STRK2305K T5 U SF BZ 0582-8490 230W AREA LIGHT, SLIPFITTER MOUNT 1

STRK2305K T5 U TR BZ 0582-8502 230W AREA LIGHT, TRUNNION MOUNT 1

STRK2305K T5 E SP BZ 0603-7347 230W AREA LIGHT, SQUARE POLE MOUNT 1

STRK2305K T5 E RP BZ 0603-7353 230W AREA LIGHT, ROUND POLE MOUNT 1

STRK2305K T5 E SF BZ 0609-2712 230W AREA LIGHT, SLIPFITTER MOUNT 1

STRK2305K T5 E TR BZ 0603-7356 230W AREA LIGHT, TRUNNION MOUNT 1

STRK3005K T5 U SP BZ 0599-1942 300W AREA LIGHT, SQUARE POLE MOUNT 1

STRK3005K T5 U RP BZ 0603-7095 300W AREA LIGHT, ROUND POLE MOUNT 1

STRK3005K T5 U SF BZ 0582-8493 300W AREA LIGHT, SLIPFITTER MOUNT 1

STRK3005K T5 U TR BZ 0582-8505 300W AREA LIGHT, TRUNNION MOUNT 1

STRK3005K T5 E SP BZ 0603-7686 300W AREA LIGHT, SQUARE POLE MOUNT 1

STRK3005K T5 E RP BZ 0603-7689 300W AREA LIGHT, ROUND POLE MOUNT 1

STRK3005K T5 E SF BZ 0603-7683 300W AREA LIGHT, SLIPFITTER MOUNT 1

STRK3005K T5 E TR BZ 0603-7692 300W AREA LIGHT, TRUNNION MOUNT 1

BALLAST KIT

LAMPED BALLAST KIT

TCOBR3120BZ

TCOBR2BZ

TCOPR190BZ

TCOBS2BZ

TCOTR3IBZ

STRK



WWW.TAMLITEUSA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.TAMLITEUSA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

CLY-5CCTA SLIM DISK

TRR56RF-CS

BATH FAN MOTOR 
 & GRILLE

PART # STOCK CODE DESCRIPTION PER

BATH FANS

ABF50 0355-7844 50 CFM BATH VENT FAN 120V SQUARE 1

ABF70 0355-7856 70 CFM BATH FAN 120V 3.5 SONES 1

ABF80 0355-7865 80 CFM BATH FAN 120V 0.6 SONES 1

ABF100 0355-7838 100 CFM BATH FAN 120V 2 SONES 1

ABFQ80 0355-7886 80 CFM ULTRA-QUIET BATH FAN 120V 1

ABFQ110 0355-7880 110 CFM ULTRA-QUIET BATH FAN 0.9 1

ABFCFMA-50100 0554-6232 CFM ADJ BATHFAN 50-100CFM 1.6 - 1

ABFQCFMA-80140 0554-6229 QUIET CFM ADJ BATHFAN 80-140 CFM 1

ABF50-RF 0554-6226 50CFM RETROFIT FOR BROAN/NUTONE 1

ABF70-RF 0554-6445 70CFM RETROFIT FOR BROAN/NUTONE 1

14 15

PART # STOCK CODE DESCRIPTION PER

RECESSED LED 

CLY8-CCTA/WH 0531-5823 8" CCT ADJUSTABLE SLIM LGT, IC RATED, WH 1

CLY6-CCTA/WH 0531-5631 6" CCT ADJUSTABLE SLIM LGT, IC RATED, WH 1

CLY4-CCTA/WH 0531-5625 4" CCT ADJUSTABLE SLIM LGT, IC RATED, WH 1

CLY6B-CCTA/WH 0539-1381 6" CCT ADJ BAFFLE SLIM LGT, IC RATED, WH 1

CLY4B-CCTA/WH 0539-1384 4" CCT ADJ BAFFLE SLIM LGT, IC RATED, WH 1

CLY6-30K/WH 0439-0995 3K 6" SLIM LGT, IC RATED, WET LOC, WHITE 1

CLY4-30K/WH 0439-0977 3K 4" SLIM LGT, IC RATED, WET LOC, WHITE 1

CLY3-5CCTA/WH 0586-4346 3" 120-277V, 5CCT SLIM DISK WAFER 1

CLY4-5CCTA/WH 0584-0076 4" 120-277V, 5CCT SLIM DISK WAFER 1

CLY6-5CCTA/WH 0584-0082 6" 120-277V, 5CCT SLIM DISK WAFER 1

CLY8-5CCTA/WH 0584-0085 8" 120-277V, 5CCT SLIM DISK WAFER 1

CLY4B-5CCTA/WH 0586-5042 4" 120-277V, 5CCT SLIM DISK WAFER BAFFLE 1

CLY6B-5CCTA/WH 0586-5045 6" 120-277V, 5CCT SLIM DISK WAFER BAFFLE 1

CLY4G-5CCTA/WH 0586-4328 4" 120-277V, 5CCT SLIM DISK WAFER GIMBLE 1

CLY6G-5CCTA/WH 0586-4331 6" 120-277V, 5CCT SLIM DISK WAFER GIMBLE 1

TRR56RF-CS 0544-4145 5/6" LED WHT RETROFIT CS 3K/4K/5K 800LM 1

TRR4RF-CS 0544-4148 4" LED WHT RETROFIT CS 3K/4K/5K 600LMS 1

TRR56RF-5CCTA 0584-0097 6" LED RETROFIT, 120-277V, 5CCT 1

TRR4RF-5CCTA 0584-0100 4" LED RETROFIT, 120-277V, 5CCT 1

CH-8-WSCS-WH-UZTD 0544-3764 8" CS COMM RETRO 3K/35K/4K/5K WS 18W/24W 1

CH-6-WSCS-WH-UZTD 0544-3761 6" CS COM RETRO 3K/35K/4K/5K WS 12/17.5W 1

RFJ654DOB-3 0425-4141 J-BOX DOB LED WHT DISK LGT 3K 1

IC56RF-3 0362-9232 5/6" 11.5W LED RETROFIT 800LM 120V 3K 1

IC56RF-4 0632-9235 5/6" 11.5W LED RETROFIT 800LM 120V 4K 1

PART # STOCK CODE DESCRIPTION PER

BATHFANS WITH LIGHTS

ABF50L 0355-7850 50 CFM BATH FAN W/LIGHT 120V 3.5 1

ABF70L 0355-7859 70 CFM BATH FAN W/LIGHT 120V 3.5 1

ABF80R 0355-7862 80 CFM RECESSED BATH FAN 6" TRIM 1

ABF80L 0355-7868 80 CFM BATH FAN W/ LIGHT 120V 0.6 1

ABF100L 0355-7841 100 CFM BATH FAN W/ LIGHT 120V 2 1

ABFQ80L 0355-7889 80 CFM ULTRA-QUIET BATH FAN W/LI 1

ABFQ110L 0355-7883 110 CFM ULTRA-QUIET BATH FAN W/L 1

PART # STOCK CODE DESCRIPTION PER

BATHFANS WITH LIGHTS CONTRACTOR 6 PKS

ABF50H 0355-7847 50 CFM BATH FAN HOUSING 1

ABF70H 0554-6202 70 CFM BATH FAN HOUSING 4" DUCT 1

ABF50M 0355-7853 50 CFM BATH FAN MOTOR & GRILLE 1

ABF70M 0554-6199 70 CFM BATH FAN MOTOR & GRILLE 1

PART # STOCK CODE COMPATIBILITY PER

ACCESSORIES

 ABF HUMIDITY  0355-7835  ABF90, ABF100, ABF90LM ABF100L, ABF80R 1

 ABFQ BLUETOOTH  0355-7871  ABFQ80, ABFQ110, ABFQ80L, ABFQ110L 1

 ABFQ MOTION  0355-7874  ABFQ80, ABFQ110, ABFQ80L, ABFQ110L 1

 ABFQ SPEED  0355-7877  ABFQ80, ABFQ110 1

 ABFFD11  0554-6223  FIRE DAMPER FOR ABFQ80 & ABFQ110 1

 ABFRF CLIPS  0554-6196  ADDVENT RETROFIT CLIPS 4 PK 1

ABF

ABFL

HOUSING

PART # STOCK CODE COMPATIBILITY PER

ACCESSORIES

 DB1-2WH  0355-7892  BUILDER CHIME KIT SINGLE GANG W/ 1

 DB3-2WH  0355-7895  BUILDER CHIME KIT DOUBLE GANG W/ 1

 ABFRF CLIPS

 DB1-2WH

CLY SLIM

CH-8-WSCS-WH-UZTD

RFJ654DOB-3

IC56RF-3

PART # STOCK CODE DESCRIPTION PER

RECESSED LED 

IC206ATQ 0253-5345 6" IC-RATED NEW WORK HSNG QUICK CONN A/T 1

IC206ATQF 0266-0391 6" IC-RATED NEW WORK HSNG QUICK CONN A/T,  
FLOATING SOCKET 1

IC206RAT 0253-5348 6" IC-RATED REMODEL HOUSING A/T 1

IC205AT 0263-9931 5" IC RATED NEW WORK 1

IC205RAT 0264-1650 5" IC RATED AIRTIGHT REMODEL 75W 1

IC104AT 0263-9934 4" IC-RATED NEW WORK HOUSING A/T 1

IC104RAT 0300-2070 4" IC A/T REMODEL HSNG W/QN 1

TM102A-WH/WR 0253-5369 6" WHITE FULL CONE BAFFLE A/T 1

TM24B-WH/WH 0263-9952 4" WHITE BAFFLE W/ WHITE RING 1

TLD4RM21-UNV 0373-7442 4" REMODEL FRAME 21W 1

TLD6RM28-UNV 0373-7463 6" REMODEL FRAME 28W 1

TLD6RM48-UNV 0373-7466 6" REMODEL FRAME 48W 1

TLD8RM52-UNV 0373-7487 8" REMODEL FRAME 52W 1

IC206RAT

IC205AT

IC206ATQ

IC205RAT



WWW.TAMLITEUSA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.TAMLITEUSA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

RECESSED CANS & TRIMS

TLD4NW21-UNV-EM 0373-7439 4" EMERGENCY NW HOUSING (W/HANGER BARS) 21W 1

TLD6NW28-UNV-EM 0373-7454 6" EMERGENCY NW HOUSING (W/HANGER BARS) 21W 1

TLD6NW48-UNV-EM 0373-7460 6" EMERGENCY NW HOUSING (W/HANGER BARS) 48W 1

TLD8NW52-UNV-EM 0373-7484 8" EMERGENCY NW HOUSING (W/HANGER BARS) 52W 1

TLD4NW21-UNV 0374-3319 4" NEW WORK HOUSING (W/HANGER BARS) 21W 1

TLD6NW15-UNV 0549-6324 6" NEW WORK HOUSING (W/HANGER BARS) 15W 1

TLD6NW28-UNV 0373-7451 6" NEW WORK HOUSING (W/HANGER BARS) 28W 1

TLD6NW48-UNV 0373-7457 6" NEW WORK HOUSING (W/HANGER BARS) 48W 1

TLD8NW52-UNV 0373-7481 8" NEW WORK HOUSING (W/HANGER BARS) 52W 1

TLD4TR2130K-HZ 0373-7445 4" 21W TRIM HAZE 3000K, 90CRI 1080 LUMENS 1

TLD6TR1530K-HZ 0549-6327 6" 15W TRIM HAZE 3000K, 90CRI, 1500 LMS 1

TLD6TR2830K-HZ 0373-7469 6" 28W TRIM HAZE 3000K, 90 CRI, 2160 LUMENS 1

TLD6TR4830K-HZ 0373-7475 6" 48W TRIM HAZE 3000K, 90 CRI, 3670 LUMENS 1

TLD8TR5230K-HZ 0373-7490 8" 52W TRIM HAZE 3000K, 90CRI 3630 LUMENS 1

TLDRW21-UNV 0373-7496 RETRO WHIP 21W 120-277V UL LISTED 1

TLDRW28-UNV 0373-7499 RETRO WHIP 28W 120-277V UL LISTED 1

TLDRW48-UNV 0373-7502 RETRO WHIP 48W 120-277V UL LISTED 1

TLDRW52-UNV 0373-7505 RETRO WHIP 52W 120-277V UL LISTED 1

16 17

PART # STOCK CODE DESCRIPTION PER

UNDER CABINETS

TAUC08WH 0583-4388 8" WHITE 27K, 3K, 4K, 90 CRI LED UNDERCABINET 1

TAUC11MO 0546-1695 11" MOCHA 27K, 3K, 4K, 90 CRI LED UNDERCABINET 1

TAUC11WH 0432-2376 11" WHITE 27K, 3K, 4K, 90 CRI LED UNDERCABINET 1

TAUC18MO 0546-1698 18" MOCHA 27K, 3K, 4K, 90 CRI LED UNDERCABINET 1

TAUC18WH 0432-2379 18" WHITE 27K, 3K, 4K, 90 CRI LED UNDERCABINET 1

TAUC22MO 0546-1701 22" MOCHA 27K, 3K, 4K, 90 CRI LED UNDERCABINET 1

TAUC22WH 0432-2412 22" WHITE 27K, 3K, 4K, 90 CRI LED UNDERCABINET 1

TAUC32MO 0546-1713 32" MOCHA 27K, 3K, 4K, 90 CRI LED UNDERCABINET 1

TAUC32WH 0432-2415 32" WHITE 27K, 3K, 4K, 90 CRI LED UNDERCABINET 1

TRRMUC-48WD 0542-8224 48W DRIVER FOR TRRMUC SERIES 1

TRRMUC1205WH 0542-5245 12" MINI UNDERCAB 5W WHITE 3K 1

TRRMUC2008WH 0542-5248 20" MINI UNDERCAB 8W WHITE 3K 1

TRRMUC4015WH 0542-5251 40" MINI UNDERCAB 15W WHITE 3K 1

TRRPL-30K/WH 0550-7091 LED PUCK LIGHT 24V FROSTED WHITE 3K 1

TRRPL-40K/WH 0550-7100 LED PUCK LIGHT 24V FROSTED WHITE 4K 1

TRRPL-36WD 0550-7139 36W 24V DRIVER FOR TRRPL PUCK LGT WHITE 1

PART # STOCK CODE DESCRIPTION PER

RIBBON TAPE

TALRT16KIT-CTG2 0314-2527 CHASE TAPE LED RIBBON INSTALL KIT GEN 2 1

TALRT16KIT-CW/WWG2 0314-2521 CW/WW/ LED RIBBON TAPE INSTALL KIT GEN 2 1

TALRT16KIT-CWG2 0314-2515 COOL WHITE LED RIBBON TAPE INSTALL KIT GEN 2 1

TALRT16KIT-RGBG2 0314-2524 RGB LED RIBBON INSTALL KIT GEN 2 1

TALRT16KIT-WWG2 0314-2518 WARM WHITE LED RIBBON TAPE INSTALL KIT GEN 2 1

TALRT16R-CTG2 0314-2542 16FT REEL LED CHASE RIBBON TAPE GEN 2 1

TALRT16R-CW/WWG2 0314-2536 16FT REEL LED CW/WW RIBBON TAPE GEN 2 1

TALRT16R-CWG2 0314-2530 16FT REEL LED COOL WHITE RIBBON TAPE GEN 2 1

TALRT16R-RGBG2 0314-2539 16FT REEL LED RGB RIBBON TAPE GEN 2 1

TALRT16R-WWG2 0314-2533 16FT REEL LED WARM WHT RIBBON TAPE GEN 2 1

TRRRT16KIT-RGBNW 0549-5727 24V RGBNW (4K) 16FT KIT IP20 1

TRRRT16KIT-RGBNW-W 0549-5739 24V RGBNW (4K) 16FT KIT IP65 1

TRRRT16KIT-RGBWW 0549-5694 24V RGBWW (3K) 16FT KIT IP20 1

TRRRT16KIT-RGBWW-W 0549-5733 24V RGBWW (3K) 16FT KIT IP65 1

TRRRT16R-RGBNW 0549-5730 24V RGBNW (4K) 16FT REEL IP20 1

TRRRT16R-RGBNW-WET 0549-5754 24V RGBNW (4K) 16FT REEL IP65 1

TRRRT16R-RGBWW 0549-5724 24V RGBWW (3K) 16FT REEL IP20 1

TRRRT16R-RGBWW-WET 0549-5745 24V RGBWW (3K) 16FT REEL IP65 1

IC104AT

IC104RAT

TLD4NW21-UNV

TLD4TR2130K-HZ

TRRMUC2008WH

TRRPL-36WD

TAUC11WH

TALRT16KIT-CTG2

TALRT16KIT-CWG2

PART # STOCK CODE DESCRIPTION PER

RIBBON TAPE (1OO FT REELS)

CSRT100RB-CW 0327-6813 CNTR LED RIBBON TAPE 100FT BLK R 1

CSRT100RB-CWHL 0327-6816 CNTR HI LED RIBN TAPE 100FT BK R 1

CSRT100RB-NW 0391-2204 CNTR LED RIBBON TAPE 100FT BLK R 1

CSRT100RB-NWHL 0391-2207 CNTR HL LED RIBN TAPE 100FT BK R 1

CSRT100RB-WW 0327-6819 CNTR LED RIBBON TAPE 100FT BLK R 1

CSRT100RB-WWHL 0327-6822 CNTR HL LED RIBN TAPE 100FT BLK 1

CSRT100RW-CW 0327-6825 CNTR LED RIBBON TAPE 100FT WHT R 1

CSRT100RW-CWHL 0327-6828 CNTR HL LED RIBN TAPE 100FT WHT 1

CSRT100RW-NW 0391-2228 CNTR LED RIBBON TAPE 100FT WHT R 1

CSRT100RW-NWHL 0391-2231 CNTR HL LED RIBN TAPE 100FT WHT 1

CSRT100RW-WW 0327-6831 CNTR LED RIBBON TAPE 100FT WHT R 1

CSRT100RW-WW3K 0549-5808 CNTR LED RIBBON TAPE 100FT WHT R 1

CSRT100RW-WW3KHL 0549-5811 CNTR LED RIBBON TAPE 100FT WHT R 1

CSRT100RW-WWHL 0327-6834 CNTR HL LED RIBN TAPE 100FT WHT 1

CSRT100RB-CW

PART # STOCK CODE DESCRIPTION PER

DIMMER AND DRIVER

TLVC60W-12 0580-2000 60W 12V OP 120V IN, DIMMER DRIVE 1

TLVC60W-24 0580-2003 60W 24V OP 120V IN, DIMMER DRIVE 1 DIMMER DRIVE



18 19

To explore Fusion Lamps full product line, scan  

the QR code with your phone to browse our website!

Questions? Reach out to us at  
INFO@FUSION-LAMPS.COM

Fusion Lamps understands the future of lighting, 

and its’ product o�ering reflects it. Check out our 

wide-ranging product o�ering of LED bulbs 

and lamps.

About Fusion Lamps



WWW.FUSION-LAMPS.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.FUSION-LAMPS.COM FOR CURRENT INFORMATION

MASTER LINE CARD

FLED T KIT

FPLHMED

FPLHMOD

FLHT8UWLS

FLHT8TPNS

FLHT8HOF

FLHT8SPNS

FMMR

PART # STOCK CODE DESCRIPTION PER BOX

ELECTRONIC BALLAST SERIES

FB226CFLMV 0276-7116 FUSION 26W 2L CFL 120/277V ELECTRONIC E 1/10

FB232MVE 0276-7119 FUSION 32W 2L T8 120/277V ELECTRONIC E 1/10

FB240120E 0279-5904 FUSION 40W 2L T12 120V ELECTRONIC E 1/10

FB242CFLMV 0276-7128 FUSION 42W 2L CFL  120/277V ELECTRONIC E 1/10

FB254T5MVE 0276-7131 FUSION 54W 2L T5 120/277V ELECTRONIC E 1/10

FB259T8120E 0276-7134 FUSION 59W 2L T8 120V ELECTRONIC E 1/10

FB259T8MVE 0276-7137 FUSION 59W 2L T8 120/277V ELECTRONIC E 1/10

FB2HO96MV 0276-7149 FUSION 110W 2L T12 F96 HO ELECTRONIC E 1/10

FB332MVE 0280-3515 FUSION  32W T8 120-277 ELECTRONIC E 1/10

FB432MVE 0276-7152 FUSION 32W 4L T8 120/277V ELECTRONIC IS2/3 LAMP E 1/10

FB454T5MVE 0276-7155 FUSION 54W 4L T5 120/277V ELECTRONIC E 1/10

20 21

PART # STOCK CODE DESCRIPTION PER BOX

LAMPHOLDERS & SOCKETS SERIES

FPLHMED 0299-3661 660 WATT E26 MED PORCELAIN SOCKET E 1

FPLHMOG 0299-3664 1500W MOG BASE PORCELAIN SOCKET E 1

FLHT8SNS 0542-1981  T8 SHORT SNAP-IN SOCKET NON-SHUNTE E 1

FLHT8SS 0542-3424  T8 SHORT SNAP-IN SOCKET SHUNTED E 1

FLHT8NS 0299-3643 T8 MED SNAP-IN LAMP HOLDER SOCKET NON-SHUNTE E 1

FLHT8S 0299-3646 T8 MED SNAP-IN LAMP HOLDER SOCKET SHUNTED E 1

FLHT5 0299-3649 T5 LAMPHOLDER E 1

FLHT5SNS 0586-4616 T5 SPRING LOAD NON-SHUNTED E 1

FLHT5FNS 0586-4619 T5 FIXED NON-SHUNTED E 1

FLHT8UWLS 0299-3652 T8 U LAMP HOLDER  SHUNTED E 1

FLHT8UWLNS 0539-4420 T8 U LAMP HOLDER  NON-SHUNTED E 1

FLHT8WLS 0542-3409 T8 LAMP HOLDER FOR WRAP LIGHT SHUNTED E 1

FLHT8WLNS 0538-9800 T8 LAMP HOLDER FOR WRAP LIGHT UN-SHUNTED E 1

FLHT8TPNS 0299-3655 T8 LAMP HOLDER TALL PROFILE 23.5MM NON-S E 1

FLHT8TPS 0299-3658 T8 LAMP HOLDER TALL PROFILE 23.5MM SHUNT E 1

FLHT8HOF 0539-4384 T8 HO LAMP HOLDER FIXED E 1

FLHT8HOS 0539-4381 T8 HO LAMP HOLDER SPRING LOAD E 1

FLH-FL700-WB 0587-8977 FIXED T12HO LAMP SOCKET E 1

FLH-FL701-WB 0587-8980 SPRING T12HO LAMP SOCKET E 1

FLHT8SPNS 0538-7808 T8 FIXED SINGLE PIN LAMP HOLDER E 1

FLHT8SSPNS 0538-7805 T8 SPRING LOAD SINGLE PIN LAMP HOLDER E 1

FMMR 0313-4400 MOG TO MED REDUCER E 1

FMCR 0314-7765 MED TO CAND REDUCER E 1

FMME 0544-7745 MOG TO MOG EXTENDER E 1

FMMA 0314-7768 MED TO MOG ADAPTOR E 1

PART # STOCK CODE DESCRIPTION PER BOX

LED INSTALL KIT SERIES

FLED T KIT 0289-2846 1 LAMP TOMBSTONE KIT LED READY E 1

FLED T KIT 2L 0314-3862 2 LAMP TOMBSTONE KIT LED READY E 1

FLED T KIT 3L 0314-3865 3 LAMP TOMBSTONE LIT LED READY E 1

FLED T KIT 4L 0314-3868 4 LAMP TOMBSTONE KIT LED READY E 1

PART # STOCK CODE DESCRIPTION PER BOX

INCANDESCENT SERIES SERIES

FI30R20/FL 0256-2732 R20 30W FL E 60

FI50R20/FL 0256-2729 R20 50W FL E 100

PART # STOCK CODE DESCRIPTION PER BOX

ECO HALOGEN SERIES

FH60PAR38/ECO/FL 0291-6648 60W HALOGEN ECO PAR38 120V FLOOD E 15

FH70PAR38/ECO/FL 0291-6651 70W HALOGEN ECO PAR38 120V  FLOOD E 15

FB432MVE

FI30R20/FL

FH60PAR38/ECO/FL

PART # STOCK CODE DESCRIPTION PER BOX

CFL PL 2-PIN SERIES

FCF13TT830/2 PIN 0246-7881 CF13W TT 830 GX23 2PIN E 50

FCF13DTT830/2 PIN 0246-7899 CF13W DTT 830 GX23-2 2PIN  E 50

FCF18DTT830/2 PIN 0246-7908 CF18W DTT 830 G24D-2 2PIN  E 50

FCF26DTT830/2 PIN 0246-7917 CF26W DTT 830 G24D-3 2PIN  E 50

FCF26DTT835/2 PIN 0246-7920 CF26W DTT 835 G24D-3 2PIN  E 50

FCF26DTT841/2 PIN 0246-7923 CF26W DTT 841 G24D-3 2PIN  E 50 FCF13TT830/2 PIN



WWW.FUSION-LAMPS.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.FUSION-LAMPS.COM FOR CURRENT INFORMATION

MASTER LINE CARD

22 23

PART # STOCK CODE DESCRIPTION PER BOX

CFL PLL SERIES    

FCF36PLL841/4P 0279-7485 CF 36W DLL 841 2G11 4PIN E 50

FCF40PLL841/4P 0275-7369 CF 40W DLL 841 2G11 4PIN E 50

FCF55PLL841/4P 0275-7372 CF 55W DLL 841 2G11 4PIN E 50

PART # STOCK CODE DESCRIPTION PER BOX

CFL PL 4-PIN

FCF13DTT835/4 PIN 0246-7938 CF 13W DTT 835 G24Q-1  4PIN E 50

FCF13DTT841/4 PIN 0246-7941 CF 13W DTT 841 G24Q-1  4PIN E 50

FCF18DTT841/4 PIN 0246-7950 CF 18W DTT 841 G24Q-2  4PIN E 50

FCF26DTT835/4 PIN 0246-7956 CF 26W DTT 835 G24Q-3  4PIN E 50

FCF26DTT841/4 PIN 0246-7959 CF 26W DTT 841 G24Q-3  4PIN E 50

FCF26DTT850/4 PIN 0268-1151 CF 26W DTT 850 G24Q-3  4PIN E 50

FCF18TTT830/4 PIN 0246-7962 CF 18W TTT 830 GX24Q-2  4PIN E 50

FCF18TTT835/4 PIN 0246-7965 CF 18W TTT 835 GX24Q-2  4PIN E 50

FCF18TTT841/4 PIN 0246-7968 CF 18W TTT 841 GX24Q-2  4PIN E 50

FCF26TTT830/4 PIN 0246-7971 CF 26W TTT 830 GX24Q-3  4PIN E 50

FCF26TTT835/4 PIN 0246-7974 CF 26W TTT 835 GX24Q-3  4PIN E 50

FCF26TTT841/4 PIN 0246-7977 CF 26W TTT 841 GX24Q-3  4PIN E 50

FCF32TTT835/4 PIN 0246-7983 CF 32W TTT 835 GX24Q-3  4PIN  E 50

FCF32TTT841/4 PIN 0246-7986 CF 32W TTT 841 GX24Q-3  4PIN E 50

FCF42TTT830/4 PIN 0246-7989 CF 42W TTT 830 GX24Q-4  4PIN E 50

FCF42TTT835/4 PIN 0246-7992 CF 42W TTT 835 GX24Q-4  4PIN E 50

FCF42TTT841/4 PIN 0246-7995 CF 42W TTT 841 GX24Q-4  4PIN E 50

PART # STOCK CODE DESCRIPTION PER BOX

T5 FLUORESCENT TUBE SERIES    

FF8T5/830 0269-5188 8W T5 830 G5 BASE E 10

FF14T5/835  0275-8041 14W T5 835 G5 BASE E 25

FF14T5/841 0275-7375 14W T5 841 G5 BASE E 25

FF28T5/835 0275-8044 28W T5 835 G5 BASE E 25

FF28T5/841 0275-7378 28W T5 841 G5 BASE E 25

FF54T5/835 HO 0257-9655 54W T5 835 G5 BASE E 25

FF54T5/841 HO 0252-7980 54W T5 841 G5 BASE E 25

FF54T5/850 HO 0269-4108 54W T5 850 G5 BASE E 25

FF54T5/865 HO 0279-9798 54W T5 865 G5 BASE E 25

PART # STOCK CODE DESCRIPTION PER BOX

T8 FLUORESCENT TUBE 700 SERIES    

FF17T8/735 0246-8061 17W T8 735 G13 BASE E 25

PART # STOCK CODE DESCRIPTION PER BOX

T8 FLUORESCENT TUBE 800 SERIES    

FF17T8/830 0246-8067 17W T8 830 G13 BASE E 25

FF17T8/835 0246-8070 17W T8 835 G13 BASE E 25

FF17T8/841 0246-8073 17W T8 841 G13 BASE E 25

FF17T8/850 0256-2753 17W T8 850 G13 BASE E 25

FF25T8/830 0246-8085 25W T8 830 G13 BASE 3FT E 25

FF25T8/835 0246-8088 25W T8 835 G13 BASE 3FT E 25

FF25T8/841 0246-8091 25W T8 841 G13 BASE 3FT E 25

FF32T8/830 0246-8103 32W T8 830 G13 BASE E 25

FF32T8/835 0246-8106 32W T8 835 G13 BASE E 25

FF32T8/841 0246-8109 32W T8 841 G13 BASE E 25

FF32T8/850 0261-7236 32W T8 850 G13 BASE E 25

FF32T8/865 0279-9795 32W T8 865 G13 BASE E 25

FCF13DTT835/4 PIN

FCF32TTT835/4 PIN

FCF36PLL841/4P

FF8T5/830

FF17T8/735

FF17T8/830

PART # STOCK CODE DESCRIPTION PER BOX

T8 FLUROESCENT TUBE ES 800 SERIES    

FF25T8/830 4FT 0280-1574 4FT 25W T8 830 ENERGY SAVER E 25

FF25T8/850 4FT 0279-9789 4FT 25W T8 850 ENERGY SAVER E 25

FF28T8/830 4FT 0280-1580 4FT 28W T8 830 ENERGY SAVER E 25

FF28T8/835 4FT 0280-1583 4FT 28W T8 835 ENERGY SAVER E 25

FF28T8/841 4FT 0273-3954 4FT 28W T8 841 ENERGY SAVER E 25

FF28T8/850 4FT 0279-9792 4FT 28W T8 850 ENERGY SAVER E 25

FF25T8/830 4FT

PART # STOCK CODE DESCRIPTION PER BOX

T8 FLUORESCENT TUBE HLO 800 SERIES    

FF32T8/835 HLO 0280-1589 4FT 32W T8 835 HLO ENERGY SAVER E 25

FF32T8/841 HLO 0280-1592 4FT 32W T8 841 HLO ENERGY SAVER E 25

FF32T8/850 HLO 0280-1595 4FT 32W T8 850 HLO ENERGY SAVER E 25 FF32T8/830 HLO



WWW.FUSION-LAMPS.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.FUSION-LAMPS.COM FOR CURRENT INFORMATION

MASTER LINE CARD

24 25

PART # STOCK CODE DESCRIPTION PER BOX

T-12 FLUORESCENT TUBE SERIES    

F34T12CW 0543-0873  F40 4FT T12 40W CW 4100K-G13 BASE E 30

F34T12DX 0269-8821 F40 4FT T12 40W DX 6500K-G13 BASE E 30

F48T12/CW/HO 0269-8827 F48 4FT T12 60W CW 4100K HO-R17D E 15

F48T12/DX/HO 0275-6040 F48 4FT T12 60W DX 6500K HO-R17D E 15

F60T12/CW 0246-8142 F60 5FT T12 50W CW 4100K SNGL-PIN E 15

F60T12/CW/HO 0274-9548 F60 5FT T12 75W CW 4100K HO R17D E 15

F60T12/DX/HO 0274-9551 F60 5FT T12 75W CW 6500K HO R17D E 15

F72T12/DX 0281-1432 F72 6FT T12 55W DX 6500K SINGLE PIN E 15

F72T12/CW/HO 0273-3963 F72 6FT T12 85W CW 4100K HO-R17D E 15

F72T12/DX/HO 0273-3966 F72 6FT T12 85W DX 6500K HO-R17D E 15

F96T12/DX/HO-O 0284-5437 F96 8FT T12 110W DX 6500K HO-R17D E 15

F96T12/DX 0273-3969 F96 8FT T12 75W DX 6500K SS-SNGL PIN E 15

F96T12/CW 0321-4218 F96 8FT T12 75W CW 4100K SS-SNGL PIN E 15

PART # STOCK CODE DESCRIPTION PER BOX

T8 8FT FLUORESCENT TUBE SERIES    

FO96T8/841 0547-9182 (22149) F96 8FT T8 59W 800 4100K 1 PIN E 24

PART # STOCK CODE DESCRIPTION PER BOX

T8 - T12 FLUORESCENT TUBE U-BEND SERIES    

FF32T8/741/U6 0246-8196 32W T8 741 U-TUBE 6” G13 BASE E 10

FF32T8/835/U6 0293-4759 32W T8 835 U-TUBE 6" G13 BASE E 10

FF32T8/841/U6 0287-6244 32W T8 841 U-TUBE 6" G13 BASE E 10

FF32T8/850/U6 0287-6247 32W T8 850 U-TUBE 6" G13 BASE E 10

PART # STOCK CODE DESCRIPTION PER BOX

T8 XLL FLUROESCENT TUBE SERIES    

FF32T8/835/FP/XLL 0291-5961 32W T8 835 G13 BASE FUSION PRO X LONG LIFE E 25

FF32T8/841/FP/XLL 0291-5964 32W T8 841 G13 BASE FUSION PRO X LONG LIFE E 25

FF32T8/850/FP/XLL 0291-6967 32W T8 850 G13 BASE FUSION PRO X LONG LIFE E 25

FF32T8/865/FP/XLL 0291-5970 32W T8 865 G13 BASE FUSION PRO X LONG LIFE E 25

FO96T8/841

FF32T8/741/U6

F72T12/CW/HO

FF32T8/835/FP/XLL

PART # STOCK CODE DESCRIPTION PER BOX

HIGH PRESSURE SODIUM SERIES    

FHPS70/MED 0246-8277 LU 70W ED17 MED – CLEAR E 24

FHPS100/MOG 0246-8283 LU 100W ED23 MOG – CLEAR E 24

FHPS150/MED 0246-8268 LU 150W ED17 MED – CLEAR E 24

FHPS150/MOG 0246-8286 LU 150W ED23 MOG – CLEAR E 24

FHPS250/MOG 0258-8214 LU 250W ED28  MOG – CLEAR E 12

FHPS400/T15 MOG 0246-8301 LU 400W T15 MOG  – CLEAR E 24

FHPS400/ET18 MOG 0267-0411 LU 400W ET18  MOG – CLEAR E 12

FHPS400/MOG 0246-8295 LU400 ED37 MOG – CLEAR E 12

FHPS400/ET18 MOG

PART # STOCK CODE DESCRIPTION PER BOX

METAL HALIDE SERIES    

FMH50U/MED 0246-8226 MH 50W PS U ED17 MED – CLEAR E 12

FMH70U/MED 0246-8232 MH 70W PS U ED17 MED – CLEAR E 12

FMH100U/MED 0246-8214 MH 100W PS U ED17 MED – CLEAR E 12

FMH150U/MED 0258-8211 MH 150W PS U ED17 MED – CLEAR E 12

FMH175/MED 0246-8220 MH 175W PS U ED17 MED – CLEAR E 12

FMH175U/MOG 0246-8241 MH 175W U ED28 MOG – CLEAR E 12

FMH250U/MOG 0246-8244 MH 250W U ED28 MOG – CLEAR E 12

FMH400/ED37/MOG 0246-8253 MH 400W U ED37 MOG – CLEAR E 12

FMH1000U/BT37 0246-8250 MH 1000W U BT37 MOG – CLEAR E 12

FMH1000U/BT56 0246-8256 MH 1000W U BT56 MOG – CLEAR E 6

FMH1500U/BT56 0255-5700 MH 1500W U BT56 MOG – CLEAR E 6

FMH175/MED

FMH1000U/BT56

PART # STOCK CODE DESCRIPTION PER BOX

PULSE START METAL HALIDE SERIES    

FMP100/ED17-P/U/4K/MED 0279-7395 MH 100W PS U ED17 MED –  PULSE START E 12

FMP175/ED17/PS/BU/4K/MED 0279-7401 MH 175W PS BU ED17 MED –  PULSE START E 12

FMP175/ED28/PS/BU/4K 0279-7404 MH 175W PS BU ED28 MOG –  PULSE START E 12

FMP320/ED28/PS/BU/4K 0279-7410 MH 320W PS BU ED28 MOG –  PULSE START E 12

FMP350/ED28/PS/BU/4K 0279-7416 MH 350W PS BU ED28 MOG –  PULSE START E 12

FMP360/BT37/BU/4K 0279-7419 MH 360W PS BU BT37 MOG –  PULSE START E 12

FMP400/ED37/PS/BU/4K 0279-7425 MH 400W PS BU BT37 MOF –  PULSE START E 12

FMP100/ED17-P/U/4K/MED



WWW.FUSION-LAMPS.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.FUSION-LAMPS.COM FOR CURRENT INFORMATION

MASTER LINE CARD

26 27

PART # STOCK CODE DESCRIPTION PER BOX

TYPE A+B FTL CS DUAL T8 SERIES    

FTL8T8/CS/DUAL 0581-9712 8W LED T8 G13 CS 2FT DUAL  E 25

FTL18T8/CS/DUAL 0581-9718 18W LED T8 G13 CS 4FT DUAL  E 25

PART # STOCK CODE DESCRIPTION PER BOX

TYPE A+B FTL DUAL T8 SERIES    

FTL18T8/840/DUAL 0552-1542 18W LED T8 G13 40K 4FT DUAL  E 25

FTL18T8/850/DUAL 0552-1545 18W LED T8 G13 50K 4FT DUAL  E 25

FTL8T8/840/DUAL 0552-1554 8W LED T8 G13 40K 2FT DUAL  E 25

FTL8T8/850/DUAL 0552-1557 8W LED T8 G13 50K 2FT DUAL  E 25

PART # STOCK CODE DESCRIPTION PER BOX

FLED DIRECT T5 SERIES    

FLED25T5/850/DIRECTV3 0492-3102 25W LED T5 G5 5K DIRECT DLC4.0 E 25

FTL8T8/CS/DUAL

FTL18T8/840/DUAL

FLED25T5/850/DIRECTV3

PART # STOCK CODE DESCRIPTION PER BOX

(TYPE B) FLED DOUBLE ENDED BYPASS T5 SERIES    

FLED25T5/840/DEBYPASS 0424-7877 25W T5 LED 840 DE BYPASS E 25

FLED25T5/850/DEBYPASS 0424-7880 25W T5 LED 850 DE BYPASS E 25

PART # STOCK CODE DESCRIPTION PER BOX

(TYPE B) FLED BYPASS T8 SERIES    

FLED18T8/835/BYPASS 0328-9620 18W LED T8 G13 35K 4FT BYPASS DLC E 25

FLED18T8/840/BYPASS 0308-8614 18W LED T8 G13 4K 4FT BYPASS DLC E 25

FLED18T8/850/BYPASS 0308-8617 18W LED T8 G13 5K 4FT BYPASS DLC E 25

FLED9T8/840/BYPASS 0308-8620 9W LED T8 G13 4K 2FT BYPASS DLC E 25

FLED9T8/850/BYPASS 0308-8623 9W LED T8 G13 5K 2FT BYPASS DLC E 25

FLED15T8/840/BYPASS 0386-7006 15W LED T8 G13 4K 4FT BYPASS DLC E 25

FLED15T8/850/BYPASS 0386-7009 15W LED T8 G13 5K 4FT BYPASS DLC E 25

FLED25T5/840/DEBYPASS

FLED18T8/835/BYPASS

PART # STOCK CODE DESCRIPTION PER BOX

(TYPE B) FLED DOUBLE ENDED BYPASS T8 SERIES    

CFLED14T8/850/DEBYPASS 0533-9442 14W LED T8 G13 5K 4FT D/E BYPASS DLC E 25

CFLED14T8/840/DEBYPASS 0533-9439 14W LED T8 G13 840 4FT DE BYPASS DLC E 25

FLED17T8/840/DEBYPASSV2 0445-8462 17W LED T8 G13 840 DE BYPASS V2 E 25

FLED17T8/850/DEBYPASSV2 0445-8465 17W LED T8 G13 850 DE BYPASS V2 E 25

FLED9T8/840/DEBYPASSV2 0449-5545 9W LED T8 G13 4K 2FT D/E BYPASS DLC E 25

FLED9T8/850/DEBYPASSV2 0449-5551 9W LED T8 G13 5K 2FT D/E BYPASS DLC E 25

FLED18T8/835/BYPASS

FTL18.5T8/840/SD/BYPASS

PART # STOCK CODE DESCRIPTION PER BOX

(TYPE B) FLED DOUBLE/SINGLE ENDED BYPASS T8 2600LM SERIES

FTL18.5T8/840/SD/BYPASS 0580-4631 18.5W LED T8 G13 840 SINGLE/DE BYPASS E 25

FTL18.5T8/850/SD/BYPASS 0580-4634 18.5W LED T8 G13 850 SINGLE/DE BYPASS E 25

PART # STOCK CODE DESCRIPTION PER BOX

(TYPE B) FLED DOUBLE/SINGLE ENDED BYPASS T8 SERIES

FTL14T8/840/SD/BYPASS 0580-4616 14W LED T8 G13 840 SINGLE/DE BYPASS E 25

FTL14T8/850/SD/BYPASS 0580-4622 14W LED T8 G13 850 SINGLE/DE BYPASS E 25

PART # STOCK CODE DESCRIPTION PER BOX

(TYPE B) FLED DOUBLE/SINGLE ENDED BYPASS T8 SERIES-(ASSEMBLED IN THE USA) 

FLED17T8/840/SE/DEBYPASS-USA 0544-4052 17W LED T8 G13 840 SINGLE/DE BYPASS E 25

FLED17T8/850/SE/DEBYPASS-USA 0544-4055 17W LED T8 G13 850 SINGLE/DE BYPASS E 25

PART # STOCK CODE DESCRIPTION PER BOX

(TYPE B) FLED U-TUBE SERIES   

FLED18T8UTUBE/4K/BYPASS 0389-2602 18W LED UBEND 2G13 4K BYPASS E 12

FLED18T8UTUBE/5K/BYPASS 0389-2605 18W LED UBEND 2G13 5K BYPASS E 12

PART # STOCK CODE DESCRIPTION PER BOX

(TYPE B) FLED DOUBLE ENDED BYPASS T8 8FT SERIES    

FTL40T8FA8/840/DEBYPASS 0567-3201 40W LED T8 FA8 4K 8FT D/E BYPASS E 10

FTL40T8FA8/850/DEBYPASS 0567-3204 40W LED T8 FA8 5K 8FT D/E BYPASS E 10

FTL40T8R17D/840/DEBYPASS 0567-3210 40W LED T8 R17D 4K 8FT D/E BYPASS E 10

FTL40T8R17D/850/DEBYPASS 0567-3213 40W LED T8 R17D 5K 8FT D/E BYPASS E 10

FTL14T8/840/SD/BYPASS

FLED17T8/840/SE/DEBYPASS-USA

FLED18T8UTUBE/4K/BYPASS

FTL40T8FA8/840/DEBYPASS



WWW.FUSION-LAMPS.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.FUSION-LAMPS.COM FOR CURRENT INFORMATION

MASTER LINE CARD

28 29

PART # STOCK CODE DESCRIPTION PER BOX

FLED PAR20 SERIES    

FLED8PAR20927 0448-7061 8W LED PAR20 927 DIM E 60

FLED8PAR20930 0448-7064 8W LED PAR20 930 DIM E 60

FLED8PAR20950 0448-7076 8W LED PAR20 950 DIM E 60 FLED8PAR20927

PART # STOCK CODE DESCRIPTION PER BOX

FLED WET LOCATION PAR30 SERIES    

FLED12PAR30LN930W 0448-7052 12W LED PAR30 LN 930 DIM E 24

FLED12PAR30LN950W 0448-7058 12W LED PAR30 LN 950 DIM E 24

PART # STOCK CODE DESCRIPTION PER BOX

FLED WET LOCATION PAR38 SERIES    

FLED16.5PAR38927W 0448-7025 16.5W LED PAR38 927 DIM E 24

FLED16.5PAR38930W 0448-7028 16.5W LED PAR38 930 DIM E 24

FLED16.5PAR38950W 0448-7034 16.5W LED PAR38 950 DIM E 24

PART # STOCK CODE DESCRIPTION PER BOX

FLED BR40 SERIES    

FLED15.5BR40850 0446-0646 15.5W LED BR40 850 DIM E 24

FLED12PAR30LN930W

FLED16.5PAR38927W

FLED15.5BR40850

PART # STOCK CODE DESCRIPTION PER BOX

FLED R20 SERIES    

FLED7.5R20827 0446-0649 7.5W LED R20 827 DIM E 24

FLED7.5R20830 0446-0652 7.5W LED R20 830 DIM E 24

FLED7.5R20840 0446-0655 7.5W LED R20 840 DIM E 24

FLED7.5R20850 0446-0658 7.5W LED R20 850 DIM E 24

PART # STOCK CODE DESCRIPTION PER BOX

FLED HID SERIES    

FLED15HID/5K/MEDV4 0540-4206 15W LED HID 5K MED E 24

FLED19HID/5K/MEDV4 0540-4215 19W LED HID 5K MED E 24

FLED27HID/5K/MEDV4 0540-4242 27W LED HID 5K MED E 12

FLED27HID/5K/MOGV4 0540-4245 27W LED HID 5K MED E 12

FLED36HID/5K/MEDV4 0540-4218 36W LED HID 5K MED E 12

FLED36HID/5K/MOGV4 0540-4221 36W LED HID 5K MOG E 12

FLED54HID/5K/MOGV4 0540-4230 54W LED HID 5K MOG E 12

FLED80HID/5K/MOGV4 0540-4233 80W LED HID 5K MOG E 6

FLED100HID/5K/MOGV4 0540-4236 100W LED HID 5K MOG E 6

FLED125HID/5K/MOGV4 0540-4239 125W LED HID 5K MOG E 6

PART # STOCK CODE DESCRIPTION PER BOX

FLED HID WS/CS SERIES    

FL27/HID/WSCS/MED 0553-0728 27W LEDHID WS 12W-18W CS 3K-4K-5K MED E 24

FL27/HID/WSCS/MOG 0553-0731 27W LEDHID WS 12W-18W CS 3K-4K-5K MOG E 24

FL45/HID/WSCS/MED 0553-0734 45W LEDHID WS 27W-36W CS 3K-4K-5K MED E 12

FL45/HID/WSCS/MOG 0553-0737 45W LEDHID WS 27W-36W CS 3K-4K-5K MOG E 12

FL63/HID/WSCS/MOG 0553-0743 63W LEDHID WS 36W-54W CS 3K-4K-5K MOG E 12

FL100/HID/WSCS/SO/MOG 0553-3566 100W LEDHID WS 63W-80W CS 3K-4K-5K SO OPTION MOG E 6

FLED7.5R20827

FLED15HID/5K/MEDV4

FL27/HID/WSCS/MED

PART # STOCK CODE DESCRIPTION PER BOX

FLED PL SERIES    

FLED12/PL/835/H2PIN 0491-7918 12W LED PL DUAL 835 HOR 2P G24D E 48

FLED12/PL/840/H2PIN 0491-7921 12W LED PL DUAL 840 HOR 2P G24D E 48

FLED12/PL/835/V2PIN 0491-7924 12W LED PL DUAL 835 VERT 2P G24D E 48

FLED12/PL/840/V2PIN 0491-7927 12W LED PL DUAL 840 VERT 2P G24D E 48

FLED12/PL/835/H4PIN 0491-7930 12W LED PL 835 HOR 4P G24Q/GX24Q E 48

FLED12/PL/840/H4PIN 0491-7933 12W LED PL 840 HOR 4P G24Q/GX24Q E 48

FLED12/PL/835/V4PIN 0491-7939 12W LED PL 835 VERT 4P G24Q/GX24Q E 48

FLED12/PL/840/V4PIN 0491-7942 12W LED PL 840 VERT 4P G24Q/GX24Q E 48

FLED12/PL/835/H2PIN

PART # STOCK CODE DESCRIPTION PER BOX

FLED MR16 SERIES    

FLED6MR16830V2 0493-0728 6W MR16 LED DIM 830 E 60

FLED6MR16830V2



WWW.FUSION-LAMPS.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.FUSION-LAMPS.COM FOR CURRENT INFORMATION

MASTER LINE CARD

30 31

PART # STOCK CODE DESCRIPTION PER BOX

FLED BR30  SERIES     

FL8BR30827 0582-6237 8W LED BR30 827 DIM E 50

FL8BR30830 0582-6240 8W LED BR30 830 DIM E 50

FL8BR30840 0582-6243 8W LED BR30 840 DIM E 50

FL8BR30850 0582-6246 8W LED BR30 850 DIM E 50

FL8.5BR30827 0582-7413 8.5W LED BR30 827 DIM E 40

FL8.5BR30830 0582-7416 8.5W LED BR30 830 DIM E 40

FL8.5BR30840 0582-7419 8.5W LED BR30 840 DIM E 40

FL8.5BR30850 0582-7422 8.5W LED BR30 850 DIM E 40

PART # STOCK CODE DESCRIPTION PER BOX

FLED A19 OMNI DIMMABLE ES SERIES     

FL9A19827 0582-4455 9W LED A19 OMNI 827 DIM E 100

FL9A19830 0582-4458 9W LED A19 OMNI 830 DIM E 100

FL9A19840 0582-4464 9W LED A19 OMNI 840 DIM E 100

FL9A19850 0582-4467 9W LED A19 OMNI 850 DIM E 100

PART # STOCK CODE DESCRIPTION PER BOX

FLED A19 NON DIM SERIES    

FL9A19827ND 0582-4473 9W LED A19 830 NON DIM E 100

FL9A19830ND 0582-4476 9W LED A19 840 NON DIM E 100

FL9A19840ND 0582-4479 9W LED A19 850 NON DIM E 100

FL9A19850ND 0582-4482 9W LED A19 850 NON DIM E 100

CLED5.5A19827ND 0446-0613 5.5W LED A19 827 NON DIM E 60

CLED5.5A19830ND 0446-0616 5.5W LED A19 830 NON DIM E 60

CLED5.5A19840ND 0446-0619 5.5W LED A19 840 NON DIM E 60

FL8BR30827

FL9A19827

FL9A19827ND

PART # STOCK CODE DESCRIPTION PER BOX

FLED FILAMENT SERIES    

FLEDF4.5B10CAND827C 0549-3873 4.5W B10 CAND DIM 827 CLEAR E 60

FLEDF4B10MED827C 0527-7690 4W B10 MED DIM 827 CLEAR E 24

FLEDF7.5A19827C 0316-2915 7.5W A19 DIM 827 CLEAR E 24

FLEDF5ST19724A 0316-2918 5W ST19 DIM 724 AMBER E 12

FLEDF4.9G25827C 0391-2471 4.9W G25 DIM 827 CLEAR E 6

PART # STOCK CODE DESCRIPTION PER BOX

FLED HIGHBAY RETRO SERIES    

FLED80HBR/SO/5K 0538-9857 80W LEDHID 5K MOG/SENSOR OPTION E 4

FLED100HBR/SO/5K 0550-5897 100W LEDHID 5K MOG/SENSOR OPTION E 4

FLED120HBR/SO/5K 0550-5900 120W LEDHID 5K MOG/SENSOR OPTION E 4

FL155HBR/5K 0582-4008 155W LED HIGHBAY RETRO 5K EX39 E 4

FL200HBR/5K 0582-5733 200W LED HIGHBAY RETRO 5K EX39 E 4

FLEDF7.5A19827C

FLED80HBR/SO/5K

PART # STOCK CODE DESCRIPTION PER BOX

FLED AREA LIGHT SERIES    

FL75AR/5K/SO/MOG 0579-8781 75W LED AREAS LIGHT 5K MOG SENSOR OPT E 6

FL110AR/5K/SO/MOG 0579-8784 110W LED AREAS LIGHT 5K MOG SENSOR OPT E 6
FL75AR/5K/SO/MOG

PART # STOCK CODE DESCRIPTION PER BOX

LED CAPSULE    

FLED4.5G9CAP/3K/CLR 0550-6212 4.5W G9 CAPSULE 3K CLEAR E 1/500

PART # STOCK CODE DESCRIPTION PER BOX

SENSORS AND REMOTE    

FMIC SENSOR 0538-9905 MICROWAVE SENSOR FOR HBR/HID SERIES E 1/150

FPIR SENSOR 0550-6632 PIR SENSOR FOR HBR/HID SERIES E 1/150

FSENSOR REMOTE 0551-5149 SENSOR REMOTE FOR HBR/HID SERIES E 1/100

FLED4.5G9CAP/3K/CLR

FMIC SENSOR



32

To explore F4P’s full product line, scan the QC  

code with your phone to browse our website!

Questions? Reach out to us at  
INFO@F4P-USA.COM

F4P o�ers a wide array of everyday electrical 

products and materials, including tape, wire 

connectors, fasteners, chemicals, safety gear, and 

even tools like ladders and extension cords. F4P’s 

quality products are designed with its namesake 

in mind – to be “First for Performance”.

About F4P

33



WWW.F4P-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.F4P-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

LADDERS

F4P FSL4 0331-7310 4 FT FIBERGLASS STEP LADDER 300L 1

F4P FSL6 0331-7313 6 FT FIBERGLASS STEP LADDER 300L 1

F4P FSL8 0331-7316 8 FT FIBERGLASS STEP LADDER 300L 1

F4P FSL10 0331-7319 10 FT FIBERGLASS STEP LADDER 300 1

F4P FSL12 0331-7322 12 FT FIBERGLASS STEP LADDER 300 1

F4P FSL4-P 0542-1957 4 FT FIBERGLASS PLATFORM LADDER 300LB 1

F4P FSL6-P 0542-1960 6 FT FIBERGLASS PLATFORM LADDER 300LB 1

F4P FSL8-P 1542-1963 8 FT FIBERGLASS PLATFORM LADDER 300LB 1

F4P FSL4-T 0542-1966 4 FT FIBERGLASS TRIPOD LADDER 300LB 1

F4P FSL6-T 1542-1969 6 FT FIBERGLASS TRIPOD LADDER 300LB 1

F4P FSL8-T 0542-1972 8 FT FIBERGLASS TRIPOD LADDER 300LB 1

F4P FSL10-T 0542-1975 10 FT FIBERGLASS TRIPOD LADDER 300LB 1

F4P FSL12-T 0542-1978 12 FT FIBERGLASS TRIPOD LADDER 300LB 1

F4P FSL6-HD 0542-1945 6 FT FIBERGLASS HEAVY DUTY LADDER 375LB 1

F4P FSL8-HD 0542-1948 8 FT FIBERGLASS HEAVY DUTY LADDER 375LB 1

F4P FSL10-HD 0542-1951 10 FT FIBERGLASS HEAVY DUTY LADDER 375LB 1

F4P FSL12-HD 0542-1954 12 FT FIBERGLASS HEAVY DUTY LADDER 375LB 1

34 35

PART # STOCK CODE DESCRIPTION PER

SHOVELS

F4P FS-4T 0553-3581 FIBERGLASS SHOVEL 4" GRADE TRENCHING 1

F4P FS-5T 0553-3590 FIBERGLASS SHOVEL 5" GRADE TRENCHING 1

F4P FS-DDS 0553-3572 FIBERGLASS SHOVEL 27" D-HANDLE DRAIN SPADE 1

F4P FS-DS 0553-3569 FIBERGLASS SHOVEL DRAIN SPADE 1

F4P FS-RP 0553-3575 FIBERGLASS SHOVEL #2 ROUND POINT 1

F4P FS-SP 0553-3578 FIBERGLASS SHOVEL #2 SQUARE POINT 1

F4P PHD 0553-3593 FIBERGLASS POST HOLE DIGGER 1

* 10’ & 12’ ladders must be bought in multiples of two.

PART # STOCK CODE DESCRIPTION PER

BLUETOOTH SPEAKERS

F4P BTSPK-B 0492-3438 PORTABLE BLUETOOTH SPEAKER - BLACK 1

F4P BTSPK-O 0492-3444 PORTABLE BLUETOOTH SPEAKER - ORANGE 1

PART # STOCK CODE DESCRIPTION PER

TOOL BAGS

F4P TBP-B 0374-3862 HEAVY DUTY TOOL BACKPACK BLK 1

F4P TBP-C 0374-3865 HEAVY DUTY TOOL BACKPACK CAMO 1

F4P TBT-B 0356-1645 8" X 8" HD TOOL TOTE BLACK 1

F4P TBT-C 0356-1648 8" X 8" HD TOOL TOTE CAMO 1

PART # STOCK CODE DESCRIPTION PER

BAGS

F4P TRASH BAGS 0338-5143 HEAVY DUTY 3 MIL 42 GAL BAGS 32 CT 1

F4P PLASTIC BAGS 0322-7037 1000CT BX BLACK F4P BAGS 12X24 1

PART # STOCK CODE DESCRIPTION PER

GAS CANS

F4P-GAS-5GAL 0550-6443 5 GALLON GAS CAN W/QUICK FLOW SPOUT 1

PART # STOCK CODE DESCRIPTION PER

LOCKOUT/TAGOUT

F4P LOTO HASPS 0424-3617 2 PC 1" LOCKOUT HASPS 1

F4P LOTO KIT 0424-3608 BASIC LOCKOUT/TAGOUT KIT 1

F4P LOTO KIT-T 0424-3611 TEAM LOCKOUT/TAGOUT KIT 1

F4P LOTO LOCK 0424-3632 RED LOCKOUT PADLOCK 2 KEYS 1

F4P LOTO TAGS 0424-3614 5 PC LOCKOUT TAGS "DO NOT OPERATE" 1

F4P LOTO CB 0443-4609 480/600V BREAKER LOCKOUT 1

F4P LOTO CB-MP 0443-4600 6 PK MULTI-POLE BREAKER LOCKOUTS 1

F4P LOTO CABLE 0574-2987 CABLE LOCKOUT - 6FT 1

F4P LOTO DP 0574-3002 DOUBLE POLE BREAKER LOCKOUT - 4P 1

F4P LOTO LOCK-KA 0574-2984 KEYED ALIKE LOTO LOCKS - 6PC 1

F4P LOTO LS 0576-7530 UNIVERSAL LIGHT SWITCH LOCKOUT 1

F4P LOTO PLUG-L 0574-2999 PLUG LOCKOUT LARGE 220V-L/500V 1

F4P LOTO PLUG-S 0574-2996 PLUG LOCKOUT SMALL 110V 1

F4P LOTO SP 0574-3005 SINGLE POLE BREAKER LOCKOUT - 6P 1

F4P LOTO SP-277 0574-3014 277V BREAKER LOCKOUT -  6PC 1

F4P LOTO SP-H 0574-3011 HINGED SINGLE POLE BREAKER LOCKO 1

F4P FSL6

F4P FS-RP

F4P BTSPK-O

F4P TBP-B

F4P-GAS-5GAL

F4P LOTO KIT-T

F4P TRASH BAGS



WWW.F4P-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.F4P-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

F4P VOLT-S

F4P WATT-C 

PART # STOCK CODE DESCRIPTION PER

SAFETY GEAR

F4P GLV-4131-L 0330-8034 LIGHT GLOVE SPAN+NITRILE LARGE 1

F4P GLV-4131-M 0330-8031 LIGHT GLOVE SPAN+NITRILE MED 1

F4P GLV-4131-S 0330-8028 LIGHT GLOVE SPAN+NITRILE SMALL 1

F4P GLV-4131-XL 0330-8037 LIGHT GLOVE SPAN+NITRILE X-LRG 1

F4P GLV-4543-L 0330-8049 CUT RESIST 5 GLOVE NITRILE LARGE 1

F4P GLV-4543-M 0330-8046 CUT RESIST 5 GLOVE NITRILE MED 1

F4P GLV-4543-S 0330-8043 CUT RESIST 5 GLOVE NITRILE SMALL 1

F4P GLV-4543-XL 0330-8052 CUT RESIST 5 GLOVE NITRILE X-LRG 1

F4P GLV-IMP-L 0330-8067 CUT 5 IMPACT GLOVES LARGE 1

F4P GLV-IMP-M 0330-8064 CUT 5 IMPACT GLOVES MEDIUM 1

F4P GLV-IMP-S 0330-8061 CUT 5 IMPACT GLOVES SMALL 1

F4P GLV-IMP-XL 0330-8070 CUT 5 IMPACT GLOVES X-LARGE 1

F4P AMP-C 0345-4101 PREMIUM ANTI-FOG CAMO GLASSES CLR 1

F4P AMP-S 0345-4104 PREMIUM ANTI-FOG CAMO GLASSES MIRROR 1

F4P AMP-Y 0345-4107 PREMIUM ANTI-FOG CAMO GLASSES YLW 1

F4P AMP-P 0440-2287 POLARIZED CAMO SAFETY SUNGLASSES 1

F4P VOLT-C 0336-2724 ANTI-FOG SAFETY GLASSES CLEAR 1

F4P VOLT-S 0336-2727 ANTI-FOG SAFETY GLASSES (SMOKE) 1

F4P VOLT-Y 0336-2730 ANTI-FOG SAFETY GLASSES CLEAR 1

F4P WATT-C 0336-2691 TEAR OFF SAFETY GLASSES CLEAR 1

F4P WATT-S 0336-2694 TEAR OFF SAFETY GLASSES (SMOKE) 1

F4P VEST-BA-L 0336-2748 5-PT BREAK AWAY HI VIS VEST LIME 1

F4P VEST-BA-XL 0336-2751 5-PT BREAK AWAY HI VIS VEST LIME 1

F4P VEST-BA-XXL 0336-2754 5-PT BREAK AWAY HI VIS VEST LIME 1

F4P VEST-L 0330-8244 HI VIS ANSI 2 ZIP VEST LIME LARG 1

F4P VEST-XL 0330-8247 HI VIS ANSI 2 ZIP VEST LIME X-LA 1

F4P VEST-XXL 0330-8250 HI VIS ANSI 2 ZIP VEST LIME XX-L 1

F4P SC 0356-6712 NO-SKID SHOE COVER 50 CT BOX 1

F4P EP-200 0345-4500 ANSI FOAM EAR PLUGS 200 PAIR BOX 1

F4P HH-W 0345-4485 WHITE CLASS E HARDHAT W/ RATCHET 1

F4P HH-W-FB 0345-4494 FULL BRIM WHT HARDHT CLASS E RATCHET 1

F4P HH-Y 0345-4488 YLW CLASS E HARDHAT W/ RATCHET 1

F4P HH-Y-FB 0345-4497 FULL BRIM YLW HARDHT CLASS E RATCHET 1

F4P HH-B 0439-2807 BLUE CLASS E HARDHAT W/ RATCHET 1

F4P MASK-50 0345-4503 GEN PURPOSE DUST MASK 50CT BOX 1

F4P PPE-KIT 0381-7737 5 PIECE SAFETY GEAR STARTER KIT 1

F4P PPE-KIT-FB 0381-7740 5 PC SAFETY START KIT FULL BRIM HH 1

F4P SANITIZER-L 0546-7761 HAND SANITIZER 8 OZ 1

F4P SANITIZER-S 0546-7764 HAND SANITIZER 2 OZ 1

F4P FAK100 0544-1472 FIRST AID KIT 100PC 1

F4P FAK228 0544-1478 FIRST AID KIT 228PC 1

F4P NECK SLEEVE-BLUE 0549-2502 BLUE NECK SLEEVE 1

F4P NECK SLEEVE-GREEN 0549-2505 GREEN NECK SLEEVE 1

F4P NECK SLEEVE-GREY 0549-2499 GREY NECK SLEEVE 1

F4P KP-1 0581-1870 HEAVY DUTY KNEE PADS WITH GEL INSERTS 1

F4P KP-2 0581-1873 KNEE PADS WITH GEL INSERTS+STRAP 1

36 37

PART # STOCK CODE DESCRIPTION PER

MARKING FLAGS

F4P FLAG21-B 0542-9424 4X5 21"  BLUE MARKING FLAG 100CT BUNDLE 1

F4P FLAG21-G 0542-9439 4X5 21" GREEN MARKING FLAG 100CT BUNDLE 1

F4P FLAG21-O 0542-9442 4X5 21" ORANGE MARKING FLAG 100CT BUNDLE 1

F4P FLAG21-P 0542-9445 4X5 21" PURPLE MARKING FLAG 100CT BUNDLE 1

F4P FLAG21-R 0542-9430 4X5 21" RED MARKING FLAG 100CT BUNDLE 1

F4P FLAG21-W 0542-9433 4X5 21" WHITE MARKING FLAG 100CT BUNDLE 1

F4P FLAG21-Y 0542-9436 4X5 21" YELLOW MARKING FLAG 100CT BUNDLE 1

F4P FLAG-B 0541-6455 4X5 30" BLUE MARKING FLAG 100CT 1

F4P FLAG-G 0505-0215 4X5 30" GREEN MARKING FLAG 100CT 1

F4P FLAG-O 0362-6517 4X5 30" ORANGE MARKING FLAG 100CT 1

F4P FLAG-P 0545-8611 4X5 30" PURPLE MARKING FLAG 100CT 1

F4P FLAG-R 0362-6520 4X5 30" RED MARKING FLAG 100CT 1

F4P FLAG-W 0446-0289 4X5 30" WHITE MARKING FLAG 100CT 1

F4P FENCE 0542-9487 4X100 ORANGE SAFETY BARRICADE FENCE 1

F4P FENCE-HD 0542-9490 4X100 ORG HEAVY DUTY SAFETY BARRICADE FENCE 1

PART # STOCK CODE DESCRIPTION PER

TRAFFIC CONES & TRIANGLE KITS

F4P TRIANGLE KIT 0312-4062 3 PC DOT REFLECTIVE ROADSIDE KIT 1

F4P CONE 0423-5547 18" PLAIN TRAFFIC CONE 1

F4P CONE-RC 0423-5550 18" CONE W/ REFLECTIVE COLLAR 1

PART # STOCK CODE DESCRIPTION PER

EXTENSION CORDS

F4P TT25 0315-1077 12/3 SJTW LE TRIPLE TAP FAN EXT CORD 1

F4P TT50 0327-7146 50FT 12/3 SJTW LE TRIP TAP CORD 1

WH HI VIS 50LE 0264-0969 50FT EXTENSION CORD 12/3 W/LIGHTED END 1

WH HI VIS 100LE 0264-0972 100FT EXTENSION CORD 12/3 W/LIGHTED END 1

F4P 14/3-100LE 0327-7269 100FT 14/3 SJTW LIT-END EXT CORD 1

F4P 14/3-25LE 0327-7272 25FT 14/3 SJTW LIT-END EXT CORD 1

F4P 14/3-50LE 0327-7266 50FT 14/3 SJTW LIT-END EXT CORD 1

F4P SCR50 0303-6765 4 OUTLET 12/3 14.5A CORD REEL 1

F4P PS4-6 0338-6640 4 OUTLET GFCI POWER STRIP 6FT 1

F4P GLV-4131 

F4P GLV-IMP

F4P VEST-BA

F4P SC

F4P EP-200

F4P HH-Y-FB

F4P MASK-50

F4P KP-1

F4P FLAG21-O

F4P FENCE

F4P CONE-RC

F4P SCR50



WWW.F4P-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.F4P-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

CLIPS

F4P ALLIGATOR 0280-9329 F4P UNINSULATED ALLIGATOR SPRING CLIPS 1-1/2" 1

SO 304 0251-1072 STAND OFF CLIPS BAG OF 100 100

38 39

PART # STOCK CODE DESCRIPTION PER

 CABLE TIES 

F4PAR-07-50-MH 0273-0957 F4P 7" PLENUM MOUNT HOLE CABLE TIE 100

F4PAR-07-50-35C 0273-0948 F4P 7" PLENUM CABLE TIE 100

F4PAR-11-50-35C 0273-0951 F4P 11" PLENUM CABLE TIE 100

F4PAR-14-50-35C 0273-0954 F4P 14" PLENUM CABLE TIE 100

F4P04-18B 0276-9300 F4P 4" CABLE TIE 18LBS - BLACK 100

F4P04-18W 0276-9303 F4P 4" CABLE TIE 18LBS - WHITE 100

F4P05-40B 0276-9306 F4P 5" CABLE TIE 40LBS - BLACK 100

F4P05-40W 0276-9309 F4P 5" CABLE TIE 40LBS - WHITE 100

F4P06-18B 0276-9312 F4P 6" CABLE TIE 18LBS - BLACK 100

F4P06-18W 0276-9315 F4P 6" CABLE TIE 18LBS - WHITE 100

F4P07-50B 0276-9318 F4P 7" CABLE TIE 50LBS - BLACK 100

F4P07-50W 0276-9330 F4P 7" CABLE TIE 50LBS - WHITE 100

F4P07-50B-M 0276-9321 F4P 7" CABLE TIE 50LBS - BLACK - BULK PACK 1000

F4P07-50W-M 0276-9333 F4P 7" CABLE TIE 50LBS - WHITE - BULK PACK 1000

F4P07-50M-B 0276-9324 F4P 7" MOUNTING TIE 50LBS - BLACK 100

F4P07-50M-W 0276-9327 F4P 7" MOUNTING TIE 50LBS - WHITE 100

F4P08-120B 0276-9336 F4P 8" CABLE TIE 120LBS - BLACK 100

F4P08-120W 0276-9339 F4P 8" CABLE TIE 120LBS - WHITE 100

F4P11-50B 0276-9342 F4P 11" CABLE TIE 50LBS - BLACK 100

F4P11-50W 0276-9348 F4P 11" CABLE TIE 50LBS - WHITE 100

F4P11-50B-M 0276-9345 F4P 11" CABLE TIE 50LBS - BLACK - BULK PACK 1000

F4P11-50W-M 0276-9351 F4P 11" CABLE TIE 50LBS - WHITE - BULK PACK 1000

F4P11-50M-B 0362-9052 11" MOUNTING TIE 50 LBS BLACK 100

F4P11-50M-W 0362-9055 11" MOUNTING TIE 50 LBS WHITE 100

F4P14-50B 0276-9366 F4P 14" CABLE TIE 50LBS - BLACK 100

F4P14-50B-500 0304-9326 F4P 14" CABLE TIE 50LBS - 500CT BLACK 1000

F4P14-50W 0276-9369 F4P 14" CABLE TIE 50LBS - WHITE 100

F4P14-50W-500 0304-9329 F4P 14" CABLE TIE 50LBS - 500CT WHITE 1000

F4P14-120B 0276-9354 F4P 14" CABLE TIE 120LBS - BLACK 100

F4P14-120W 0276-9363 F4P 14" CABLE TIE 120LBS - WHITE 100

F4P14-120M-B 0276-9357 F4P 14" MOUNTING TIE 120LBS - BLACK 100

F4P14-120M-W 0276-9360 F4P 14" MOUNTING TIE 120LBS - WHITE 100

F4P17-50B 0276-9372 F4P 17" CABLE TIE 50LBS - BLACK 100

F4P17-50W 0276-9375 F4P 17" CABLE TIE 50LBS - WHITE 100

F4P24-175B 0276-9378 F4P 24" CABLE TIE 175LBS - BLACK 100

F4P24-175W 0276-9381 F4P 24" CABLE TIE 175LBS - WHITE 100

F4P36-175B 0276-9408 F4P 36" CABLE TIE 175LBS - BLACK 100

F4P36-175W 0285-5127 F4P 36" CABLE TIE 175LBS - WHITE 100

F4P46-175B 0276-9411 F4P 48" CABLE TIE 175LBS - BLACK 100

PART # STOCK CODE DESCRIPTION PER

ANTI OX & LUBE

F4P NOOX-X 4 0250-0554 F4P ANTI OX  4 OZ BOTTLE 1

F4P NOOX-X 8 0216-0516 F4P ANTI OX  8 OZ BOTTLE 1

PART # STOCK CODE DESCRIPTION PER

WIPES

F4P WIPES 0313-8162 70 CT TUB MULTISURFACE TOWELS 1

F4P RAGS-2 0327-7515 2 LB BAG PREMIUM WHT WASHCLOTHS 1

PART # STOCK CODE DESCRIPTION PER

AEROSOLS

F4P DEGREASER 0321-3363 ELECTRICAL DEGREASER 37KV 16OZ 1

F4P RUST CRUSHER 0339-6807 PENETRATING OIL HIGH DIELECTRIC 1

F4P ZINC RICH 0321-3366 ZINC GALV SPRAY 16OZ CAN 1

F4P CONTACT 0321-3360 CONTACT CLNER 36.7KV 16OZ CAN 1

WASP 0248-9319 SPRAYON WASP & HORNET KILLER S0085700 1

PART # STOCK CODE DESCRIPTION PER

CABLE MANAGEMENT

F4P STACKERS 0581-8233 CABLE STACKER 25CT=1BAG 1

F4P WC 0595-3521 METAL STUD CLIP 100CT BOX 1

SO 304

F4P NOOX-X 4

F4P WIPES

F4P ZINC RICH

F4P STACKERS

F4P07-50M-W

F4P14-120B



WWW.F4P-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.F4P-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

 CABLE TIES - STAINLESS

F4P14-100SS 0314-2824 14" 100LB STAINLESS STEEL CABLE TIE 100

F4P14-250SS 0314-2839 14" 250LB STAINLESS STEEL CABLE TIE 100

F4P06-100SS 0314-2818 6" 100LB STAINLESS STEEL CABLE TIE 100

F4P08-100SS 0314-2821 8" 100LB STAINLESS STEEL CABLE TIE 100

F4P20-100SS 0314-2827 20" 100LB STAINLESS STEEL CABLE TIE 100

F4P27-100SS 0314-2830 27" 100LB STAINLESS STEEL CABLE TIE 100

F4P06-250SS 0314-2833 6" 2500LB STAINLESS STEEL CABLE TIE 100

F4P08-250SS 0314-2836 8" 250LB STAINLESS STEEL CABLE TIE 100

F4P20-250SS 0314-2842 20" 250LB STAINLESS STEEL CABLE TIE 100

F4P27-250SS 0314-2845 27" 250LB STAINLESS STEEL CABLE TIE 100

40 41

PART # STOCK CODE DESCRIPTION PER

 CABLE TIES - METAL DETECTABLE

F4P04-18MD 0314-3511 4" 18LB METAL DETECT CABLE TIE TEAL 100

F4P07-50MD 0314-3517 7" 50LB METAL DETECT CABLE TIE TEAL 100

F4P08-40MD 0314-3514 8" 40LB METAL DETECT CABLE TIE TEAL 100

F4P11-50MD 0314-3520 11" 50LB METAL DETECT CABLE TIE TEAL 100

F4P14-120MD 0314-3526 14" 120LB METAL DETECT CABLE TIE TEAL 100

F4P14-50MD 0314-3523 14" 50LB METAL DETECT CABLE TIE TEAL 100

PART # STOCK CODE DESCRIPTION PER

 CABLE TIES - COLD WEATHER

F4P07-50CW-B 0314-3175 7" 50LB COLD WEATHER CABLE TIE 100

F4P11-50CW-B 0314-3178 11" 50LB COLD WEATHER CABLE TIE 100

F4P14-50CW-B 0314-3181 14" 50LB COLD WEATHER CABLE TIE 100

F4P14-120CW-B 0314-3190 14" 120LB COLD WEATHER CABLE TIE 100

PART # STOCK CODE DESCRIPTION PER

 CABLE TIES - RELEASABLE

F4P05-50RL-W 0314-3139 5" 50LB RELEASABLE CABLE TIE WHITE 100

F4P05-50RL-B 0314-3145 5" 50LB RELEASABLE CABLE TIE BLACK 100

F4P08-50RL-W 0314-3148 8" 50LB RELEASABLE CABLE TIE WHITE 100

F4P08-50RL-B 0314-3151 8" 50LB RELEASABLE CABLE TIE BLACK 100

F4P12-50RL-W 0314-3157 12" 50LB RELEASABLE CABLE TIE WHITE 100

F4P12-50RL-B 0314-3163 12" 50LB RELEASABLE CABLE TIE BLACK 100

F4P14-50RL-W 0314-3166 14" 50LB RELEASABLE CABLE TIE WHITE 100

F4P14-50RL-B 0314-3172 14" 50LB RELEASABLE CABLE TIE BLACK 100

PART # STOCK CODE DESCRIPTION PER

 CABLE TIES - SPECIAL COLORS

F4P11-50-COLORS 0354-1899 11" 50LB MULTICOLOR PACK CABLE TIE 100

F4P07-50R 0328-4844 7" 50LB RED CABLE TIE 100 CT 100

F4P11-50R 0328-4847 11" 50LB RED CABLE TIE 100 CT 100

PART # STOCK CODE DESCRIPTION PER

 CABLE TIES - ID

F4P04-18ID-W 0314-3454 4" 18LB IDENTIFICATION CABLE TIE WHITE 100

F4P04-18FL-W 0314-3457 4" 18LB FLAG IDENTIFICATION CABLE TIE WHITE 100

F4P07-50ID-W 0314-3463 7" 50LB IDENTIFICATION CABLE TIE WHITE 100

F4P07-50ID-B 0314-3466 7" 50LB IDENTIFICATION CABLE TIE BLACK 100

F4P11-50ID-W 0314-3469 11" 50LB IDENTIFICATION CABLE TIE WHITE 100

F4P14-50MD 0314-3523 14" 50LB METAL DETECT CABLE TIE TEAL 100

PART # STOCK CODE DESCRIPTION PER

ADHESIVE BLOCKS 

F4P1MPABLK 0277-7856 F4P 1" MOUNTING PAD ACRYLIC -BLACK 100 PACK 100

F4P1MPAWH 0277-7859 F4P 1" MOUNTING PAD ACRYLIC -WHITE 100 PACK 100

F4P3/4MPABLK 0277-7862 F4P 3/4" MOUNTING PAD ACRYLIC -BLACK 100 PACK 100

F4P3/4MPAWH 0277-7865 F4P 3/4" MOUNTING PAD ACRYLIC -WHITE 100 PACK 100

F4P14-50MD 0314-3523 14" 50LB METAL DETECT CABLE TIE TEAL 100

F4P27-100SS

F4P07-50CW-B

F4P05-50RL-B

F4P11-50-COLORS

F4P04-18MD

F4P04-18ID-W

F4P1MPAWH



WWW.F4P-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.F4P-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

NYLON CABLE CLAMPS

F4P NC-18W 0314-1543 1/8" NYLON CABLE CLAMP WHT 100

F4P NC-18B 0314-1546 1/8" NYLON CABLE CLAMP BLK 100

F4P NC-316W 0314-1549 3/16" NYLON CABLE CLAMP WHT 100

F4P NC-316B 0314-1552 3/16 NYLON CABLE CLAMP BLK 100

F4P NC-14W 0314-1555 1/4" NYLON CABLE CLAMP WHT 100

F4P NC-14B 0314-1558 1/4" NYLON CABLE CLAMP BLK 100

F4P NC-516W 0314-1561 5/16" NYLON CABLE CLAMP WHT 100

F4P NC-516B 0314-1564 5/16" NYLON CABLE CLAMP BLK 100

F4P NC-38W 0314-1567 3/8" NYLON CABLE CLAMP WHT 100

F4P NC-38B 0314-1570 3/8" NYLON CABLE CLAMP BLK 100

F4P NC-12W 0314-1573 1/2" NYLON CABLE CLAMP WHT 100

F4P NC-12B 0314-1576 1/2" NYLON CABLE CLAMP BLK 100

F4P NC-58W 0314-1579 5/8" NYLON CABLE CLAMP WHT 100

F4P NC-58B 0314-1582 5/8" NYLON CABLE CLAMP BLK 100

F4P NC-34W 0314-1585 3/4" NYLON CABLE CLAMP WHT 100

F4P NC-34B 0314-1588 3/4" NYLON CABLE CLAMP BLK 100

F4P NC-100W 0314-1591 1" NYLON CABLE CLAMP WHT 100

F4P NC-100B 0314-1594 1" NYLON CABLE CLAMP BLK 100

F4P NC-114W 0314-1597 1-1/4" NYLON CABLE CLAMP WHT 100

F4P NC-114B 0314-1600 1-1/4" NYLON CABLE CLAMP BLK 100

F4P NC-112W 0314-1603 1-1/2" NYLON CABLE CLAMP WHT 100

F4P NC-112B 0314-1606 1-1/2" NYLON CABLE CLAMP BLK 100

42 43

PART # STOCK CODE DESCRIPTION PER

CRIMP TERMINALS

F4P CRIMP KIT 0303-7152 265 PIECE CRIMP TERMINAL KIT 18 SLOT BOX 1

F4P-KRR6 0293-8716 KRIMP RING RED 22-18AWG STUD # 6 X 100 1

F4P-KRR8 0293-8719 KRIMP RING RED 22-18AWG STUD # 8 X 100 1

F4P-KRR10 0293-8713 KRIMP RING RED 22-18AWG STUD # 10 X 100 1

F4P-KRB6 0293-8707 KRIMP RING BLU 16-14AWG STUD # 6 X 100 1

F4P-KRB8 0293-8710 KRIMP RING BLU 16-14AWG STUD # 8 X 100 1

F4P-KRB10 0293-8704 KRIMP RING BLU 16-14AWG STUD # 10 X 100 1

F4P-KRY8 0293-8728 KRIMP RING YLW 12-10AWG STUD # 8 X 50 1

F4P-KRY10 0293-8725 KRIMP RING YLW 12-10AWG STUD # 10 X 50 1

F4P-KRY1/4 0293-8722 KRIMP RING YLW 12-10AWG STUD # 1/4 X 50 1

F4P-KSR6 0293-8752 KRIMP SPADE RED 22-18AWG STUD # 6 X 100 1

F4P-KSR8 0293-8755 KRIMP SPADE RED 22-18AWG STUD # 8 X 100 1

F4P-KSR10 0293-8749 KRIMP SPADE RED 22-18AWG STUD # 10 X 100 1

F4P-KSB6 0293-8734 KRIMP SPADE BLU 16-14AWG STUD # 6 X 100 1

F4P-KSB8 0293-8737 KRIMP SPADE BLU 16-14AWG STUD # 8 X 100 1

F4P-KSB10 0293-8731 KRIMP SPADE BLU 16-14AWG STUD # 10 X 100 1

F4P-KSY8 0293-8764 KRIMP SPADE YLW 12-10AWG STUD # 8 X 50 1

F4P-KSY10 0293-8761 KRIMP SPADE YLW 12-10AWG STUD # 10 X 50 1

F4P-KSY1/4 0293-8758 KRIMP SPADE YLW 12-10AWG STUD # 1/4 X 50 1

F4P-KBR 0293-8671 KRIMP BUTT RED 22-18AWG X 100 1

PART # STOCK CODE DESCRIPTION PER

CRIMP TERMINALS

F4P-KBB 0293-8668 KRIMP BUTT BLU 16-14AWG X 100 1

F4P-KBY 0293-8674 KRIMP BUTT YLW 12-10AWG X 50 1

F4P-KCEC22-16 0293-8683 KRIMP CLOSED END CONN 22-16AWG X 100 1

F4P-KCEC22-14 0293-8680 KRIMP CLOSED END CONN 16-14AWG X 100 1

F4P-KCEC22-10 0293-8677 KRIMP CLOSED END CONN 12-10AWG X 50 1

F4P-KCEC22-10-B 0363-7917 22-10 AWG CLOSED CONN 500CT BAG 1

F4P-KCEC22-14-B 0363-7920 22-14 AWG CLOSED CONN 1000CT BAG 1

F4P-KCEC22-16-B 0363-7923 22-16 AWG CLOSED CONN 1000CT BAG 1

F4P-KFCR 0293-8689 KRIMP FEMALE CONN RED 22-18AWG X 100 1

F4P-KFCB 0293-8686 KRIMP FEMALE CONN BLU 16-14AWG X 100 1

F4P-KFCY 0293-8692 KRIMP FEMALE CONN YLW 12-10AWG X 50 1

F4P-KMCR 0293-8698 KRIMP MALE CONN RED 22-18AWG X 100 1

F4P-KMCB 0293-8695 KRIMP MALE CONN BLU 16-14AWG X 100 1

F4P-KMCY 0293-8701 KRIMP MALE CONN YLW 12-10AWG X 50 1

F4P-KSPR 0293-8743 KWIK SPLICE RED 22-16AWG X 20 1

F4P-KSPB 0293-8740 KWIK SPLICE BLU 16-14AWG X 20 1

F4P-KSPY 0293-8746 KWIK SPLICE YLW 12-10AWG X 10 1

F4P KSPB-B 0316-4757 BULK BAG 500CT KWIK SPLICE BLU 16-14AWG 1

F4P KSPR-B 0316-4634 BULK BAG 500CT KWIK SPLICE RED 22-18AWG 1

F4P KSPY-B 0316-4760 BULK BAG 250CT KWIK SPLICE YEL 12-10AWG 1

F4P KRR6-S 0302-6439 SMALL PACK 30 CRIMP RING 22-18AWG STUD # 6 1

F4P KRR8-S 0302-6454 SMALL PACK 30 CRIMP RING 22-18AWG STUD#8 1

F4P KRR10-S 0302-6457 SMALL PACK 30 CRIMP RING 22-18AWG STUD#10 1

F4P KRB6-S 0302-6460 SMALL PACK 30 CRIMP RING 16-14AWG STUD#6 1

F4P KRB8-S 0302-6463 SMALL PACK 30 CRIMP RING 16-14AWG STUD#8 1

F4P KRB10-S 0302-6466 SMALL PACK 30 CRIMP RING BLU 16-14AWG STUD#10 1

F4P KRY6-S 0302-6469 SMALL PACK 20 CRIMP RING 12-10AWG STUD#6 1

F4P KRY8-S 0302-6472 SMALL PACK 20 CRIMP RING 12-10AWG STUD#8 1

F4P KRY10-S 0302-6475 SMALL PCK 20 CRIMP RING 12-10AWG STUD#10 1

F4P KRY1/4-S 0302-6478 SMALL PACK 20 CRIMP RING 12-10AWG STUD1/4 1

F4P KSR6-S 0302-6481 SMALL PK 30 CRIMP SPADE 22-18AWG STUD#6 1

F4P KSR8-S 0302-6484 SMALL PK 30 CRIMP SPADE 22-18AWG STUD#8 1

F4P KSR10-S 0302-6487 SMALL PK 30 CRIMP SPADE 22-18AWG STUD#10 1

F4P KSB6-S 0302-6490 SMALL PK 30 CRIMP SPADE 16-14AWG STUD#6 1

F4P KSB8-S 0302-6493 SMALL PK 30 CRIMP SPADE 16-14AWG STUD#8 1

F4P KSB10-S 0302-6496 SMALL PK 30 CRIMP SPADE 16-14AWG STUD#10 1

F4P KSY6-S 0302-6499 SMALL PACK 20 CRIMP SPADE 12-10 AWG STUD#6 1

F4P KSY8-S 0302-6502 SMALL PACK 20 CRIMP SPADE 12-10 AWG STUD#8 1

F4P KSY10-S 0302-6505 SMALL PK 20 CRIMP SPADE 12-10 AWG STUD#10 1

F4P KSY1/4-S 0302-6508 SMALL PK 15 CRIMP SPADE 12-10AWG STUD1/4 1

F4P KFCR-S 0302-6511 SMALL PACK 25 FEMALE CONN RED 22-18AWG 1

F4P KFCB-S 0302-6514 SMALL PACK 25 FEMALE CONN BLUE 16-14 AWG 1

F4P KFCY-S 0302-6517 SMALL PACK 20 FEMALE CONN YLW 12-10 AWG 1

F4P KMCR-S 0302-6520 SMALL PACK 20 MALE CONN RED 22-18 AWG 1

F4P KMCB-S 0302-6523 SMALL PACK 20 MALE CONN BLUE 22-18 AWG 1

F4P KMCY-S 0302-6526 SMALL PACK 15 MALE CONN YLW 12-10 AWG 1

F4P KBR-S 0302-6529 SMALL PACK 25 CRIMP BUTT RED 22-18 AWG 1

F4P KBB-S 0302-6532 SMALL PACK 25 CRIMP BUTT BLUE 16-14 AWG 1

F4P KBY-S 0302-6535 SMALL PACK 20 CRIMP BUTT YLW 12-10 AWG 1

F4P NC-100W

F4P NC-100B

F4P CRIMP KIT

F4P-KRB8

F4P-KRR8

F4P-KRY8

F4P-KSR8

F4P-KSY8

F4P-KCEC22-14

F4P-KFCB

F4P-KFCR

F4P-KFCY

F4P-KMCB

F4P-KMCR

F4P-KMCY

F4P-KRY8

F4P-KSPB

F4P-KSPR

F4P-KSPY



WWW.F4P-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.F4P-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

DRILL BITS- ARBOR

F4PPD 0278-5602 HSS PILOT DRILL BIT FOR ARBOR 6.35X80MM (1/4" X 3-1/8") 1

F4PABL 0276-8607 3/8" HEX SHANK HSS ARBOR FOR 1-1/4"-6" HOLE SAWS 1

F4PABS 0276-8610 3/8" HEX SHANK HSS ARBOR FOR 3/4"-1-1/8" HOLE SAWS 1

44 45

PART # STOCK CODE DESCRIPTION PER

DRIL BITS-SHIP AUGER / NAIL EATERS

F4P SAB1 0262-2117 3/4' X 8' LONG HEAVY DUTY SHIP AUGER 1

F4P SAB2 0262-2120 7/8' X 8' LONG HEAVY DUTY SHIP AUGER 1

F4P SAB3 0262-2123 1 1/8' X 8 LONG HEAVY DUTY SHIP AUGER 1

F4P SAB4 0262-2126 3/4' X 18' LONG HEAVY DUTY SHIP AUGER 1

F4P SAB5 0262-2129 F4P 7/8' X 18' LONG HEAVY DUTY SHIP AUGER 1

F4P SAB5A 0273-9057 15/16" X 18" LONG HEAVY DUTY SHIP AUGER 1

F4P SAB5B 0273-9060 1" X 18" LONG HEAVY DUTY SHIP AUGER 1

F4P SAB6 0262-2132 1 1/8' X 18' LONG HEAVY DUTY SHIP AUGER 1

PART # STOCK CODE DESCRIPTION PER

FIRE  STOPPING

F4P FIRE BLOCK 0250-8648 F4P RECTORSEAL RS 136- FIRE BLOCK UL APPROVED  ASTM  E 136 1

F4P FIRE STOP 814 + 0214-6959 F4P FIRE STOP COMMERCIAL FIRESTOPPING SEALANT TUBE 1

F4P CAULKGUN 0309-1443 DRIPLESS CAULK GUN WITH CUTTER 1

F4P FS 814+  5 GAL 0313-3008 COMMERCIAL FIRE CAULK 5 GAL BUCKET 1

F4P FIRE FOAM 0303-3777 FIREBLOCKING FOAM SEALANT ORANGE 12 OZ 1

F4P FSPP 0309-6057 FIRESTOP PUTTY PAD 7" X 7" RED 1

F4P FSC-1.5 0380-7591 1.5" FIRESTOP COLLAR 1

F4P FSC-2 0380-7594 2" FIRESTOP COLLAR 1

F4P FSC-3 0380-7597 3" FIRESTOP COLLAR 1

F4P FSC-4 0380-7600 4" FIRESTOP COLLAR 1

F4P FSPW 0380-7588 2" X 4" X 8" FIRESTOP PILLOW 1

PART # STOCK CODE DESCRIPTION PER

DRILL BITS - FLEX 

F4PFLEX3/8" 0276-8616 1200MM X 3/8" FLEXIBLE DRILL BIT 1

F4PFLEX1/2" 0276-8613 1200MM X 1/2" FLEXIBLE DRILL BIT 1

PART # STOCK CODE DESCRIPTION PER

DRILL BITS - STEP- TITANIUM

F4P DB1 0256-1619 F4P 1/8" - 1/2" 13 STEPS 1/4 HEX SHANK 1

F4P DB2 0256-1622 F4P 3/16" X 1/2" 6 STEPS 1/4" HEX SHANK 1

F4P DB3 0256-1625 F4P1/4" - 3/4" 9 STEPS 3/8" HEX SHANK 1

F4P DB4 0256-1628 F4P 3/16" X 7/8" 12 STEPS 3/8" SHANK 1

F4P DB5 0256-1634 F4P 7/16" X 1 1/8" 10 STEPS 3/8" HEX SHANK 1

F4P DB6 0256-1631 F4P 1/4" X 1 3/8" 10 STEPS 3/8" HEX SHANK 1

PART # STOCK CODE DESCRIPTION PER

STANDARD CAULK

F4P SILICONE C 0292-9644 F4P 10FL OZ SILICONE CLEAR 1

F4P SILICONE W 0380-7585 WHITE PAINTABLE LATEX CAULK 10.1 OZ 1

F4P SILICONE CAN 0544-3788 10FL OZ SILICONE CLEAR 1

PART # STOCK CODE DESCRIPTION PER

GENERAL PURPOSE FOAM

F4P FOAM 0307-6110 GENERAL PURPOSE EXPANDING FOAM 12 OZ 1

PART # STOCK CODE DESCRIPTION PER

PAINT

APWA03550 0279-6129 SOLVENT FLAT BLACK 1

APWA03611 0279-6132 SOLVENT BASED RED PAINT 1

APWA03615 0279-6135 SOLVENT BASED PURPLE PAINT 1

APWA03731 0279-6138 SOLVENT BASED SAFETY ORANGE 1

APWA03900 0279-6141 SOLVENT BASED WHITE PAINT 1

S03612 0352-3377 PINK SAFETY UPSIDE DOWN PAINT 20 OZ CAN 1

S03620 0373-0965 FLU BLUE SAFETY UPSIDE DOWN PAINT 20 OZ CAN 1

S03630 0262-9938 GREEN SAFETY UPSIDE DOWN PAINT 20 OZ CAN 1

S03650 0262-9932 RED/ORANGE UPSIDE DOWN PAINT 20 OZ CAN 1

S03700 0352-3380 FLU ORANGE UPSIDE DOWN PAINT 20 OZ CAN 1

S03725 0316-2195 FLAT BLACK UPSIDE DOWN PAINT 20 OZ CAN 1

S03901 0262-9935 WHITE UPSIDE DOWN PAINT 20 OZ CAN 1

SO3801 0267-1830 YELLOW UPSIDE DOWN PAIN 20 OZ CAN 1

SO3911 0267-1827 RED UPSIDE DOWN PAINT 20 OZ CAN 1

03621APWA-BLUE 0276-7806 KRYLON SOLVENT BASED MARKER PAINT BLUE 1

F4PPD

F4P SAB3

F4PFLEX3/8”

F4P DB3

F4P FSPP

F4P FSC-1.5

F4P SILICONE W

F4P FOAM

S03650



WWW.F4P-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.F4P-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

GROUNDING PIGTAILS

F4PPT-SD12G 0284-3460 F4P GROUNDING PIGTAIL SOLID 100PK 12G 100

F4PPT-SD 0277-8780 F4P GROUNDING PIGTAIL SOLID 100 PK 100

F4PPT-ST 0277-8783 F4P GROUNDING PIGTAIL STRANDED 100PK 100

46 47

PART # STOCK CODE DESCRIPTION PER

COPPER CRIMP SLEEVES

F4P CS-1808 0332-4486 18-8 AWG CU CRIMP SLEEVE 100CT 1

F4P CS-1810 0332-4483 18-10 AWG CU CRIMP SLEEVE 100CT 1

F4P CS1810-B 0490-5402 18-10 AWG CU CRIMP SLEEVE 1,000CT BAG 1

PART # STOCK CODE DESCRIPTION PER

LUGS

F4P LLA-0 0294-6201 LAYIN LUG 1/0-8 AWG 100

F4P LLA-250 0294-6204 LAYIN LUG 250-6 AWG 100

F4P LLA-4 0294-6207 LAYIN LUG 4-14 AWG 100

F4P LMAS-0 0294-6135 ALUM SGL LUG 1/0-14 AWG (AL/CU) 100

F4P LMAS-2 0294-6168 ALUM SGL LUG 2-14 AWG (AL/CU) 100

F4P LMAS-2/0 0294-6162 ALUM SGL LUG 2/0-14 AWG (AL/CU) 100

F4P LMAS-4 0294-6174 ALUM SGL LUG 4-14 AWG (AL/CU) 100

F4P LMAD-0 0316-5243 ALUM DOUBLE LUG 1/0-14 AWG (AL/CU) 100

F4P LMAD-2/0 0316-5246 ALUM DOUBLE LUG 2/0-14 AWG (AL/CU) 100

F4P LMAD-250 0316-5261 ALUM DOUBLE LUG 250MCM-6 AWG (AL/CU) 100

F4P LLC-4DB 0302-7537 LAY-IN CONNECTOR 4-14 AWG, COPPER W/ STAINLESS STEEL SCREWS 100

F4P LLTPC-4DB 0302-7540
LAY-IN CONNECTOR 4-14 AWG, TIN PLATED COPPER W/  

STAINLESS STEEL SCREWS
100

PART # STOCK CODE DESCRIPTION PER

SPLIT BOLTS

F4P SB8UL 0267-0819 8 AWG COPPER SPLIT BOLT 100

F4P SB6UL 0267-0816 6 AWG COPPER SPLIT BOLT 100

F4P SB4UL 0267-0813 4 AWG COPPER SPLIT BOLT 100

F4P SB2UL 0302-7510 2 AWG COPPER SPLIT BOLT 100

F4P SB1/0UL 0302-7513 1/0 AWG COPPER SPLIT BOLT 100

F4P SB2/0UL 0302-7516 2/0 AWG COPPER SPLIT BOLT 100

F4P SB3/0UL 0302-7519 3/0 AWG COPPER SPLIT BOLT 100

F4P SB250UL 0302-7522 250 MCM COPPER SPLIT BOLT 100

F4P SB350UL 0302-7525 350 MCM COPPER SPLIT BOLT 100

F4P SB500UL 0302-7528 500 MCM COPPER SPLIT BOLT 100

PART # STOCK CODE DESCRIPTION PER

GROUNDING SCREWS & CLIPS

CESGRCJ 0242-5047 100 GROUNDING CLIP #14-#12 1

CES1032X38GGSJ 0211-0332 100 HEX GREEN GROUNDING SCREW TYPE C 10/32 X 3/8 1

CES10X12GGSSDSJ 0222-6516 100 HEX GREEN GROUNDING SCREW SELF DRILL 10 X 1/2 1

CES1032X12GGSTFJ 0270-2235 100 HEX GREEN GROUNDING SCREW TYPE F 10/32 X 1/2 1

PART # STOCK CODE DESCRIPTION PER

GROUND CLAMPS

F4P GRC-34 0294-6213 3/4" GRND ROD CLAMP 100

F4P GRC-50 0294-6216 1/2" GROUND ROD CLAMP 100

F4P GRC-58 0294-6219 5/8" GRND ROD CLAMP 100

F4P GRC-3834 0302-7531 MULTI-SIZE 3/4"&3/8" GROUND ROD CLAMP 100

F4P GRC-38 0302-7534 3/8" GROUND ROD CLAMP 100

F4P GPC-1 0302-7489 BRONZE GROUND CLAMP 1/2"-1" PIPE, 2 STR 100

F4P GPC-2 0302-7501 BRONZE GROUND CLAMP 1-1/4"-2" PIPE 2 STR 100

F4P GPC-4 0302-7504 BRONZE GROUND CLAMP, 2-1/2"-4" PIPE 2 STR 100

F4P GPC-1DB 0302-7507 DB GROUND CLAMP 1/2-1" PIPE BRASS SCREW 100

F4P GLC-12HDB 0332-4489 1" HD DB GRN CLMP W/HORIZ LAY-IN 1

F4P GLC140DB 0336-2670 1" HD DB GRN CLAMP W/ LAY-IN 1

F4PPT-SD12G

F4P CS-1810

F4P SB8UL

CESGRCJ

F4P LLC-4DB

F4P LMAS-4

F4P GRC-50 

F4P GPC-1



WWW.F4P-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.F4P-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

INSULATED LUGS

F4P IL2-2 0381-8196 2-14 AWG 2 PORT UV BLACK MULTI-TAP 1

F4P IL2-2S 0381-8199 2-14 AWG 2 PORT 1 WAY UV BLACK MULTI-TAP 1

F4P IL2-3 0381-8202 2-14 AWG 3 PORT UV BLACK MULTI-TAP 1

F4P IL2-3S 0381-8205 2-14 AWG 3 PORT 1 WAY UV BLACK MULTI-TAP 1

F4P IL2-4 0381-8208 2-14 AWG 4 PORT UV BLACK MULTI-TAP 1

F4P IL2-4S 0381-8211 2-14 AWG 4 PORT 1 WAY UV BLACK MULTI-TAP 1

F4P IL2-5 0381-8214 2-14 AWG 5 PORT UV BLACK MULTI-TAP 1

F4P IL2-5S 0381-8217 2-14 AWG 5 PORT 1 WAY UV BLACK MULTI-TAP 1

F4P IL2-6 0381-8220 2-14 AWG 6 PORT UV BLACK MULTI-TAP 1

F4P IL2-8 0381-8223 2-14 AWG 8 PORT UV BLACK  MULTI-TAP 1

F4P IL2/0-2 0381-8100 2/0 AWG 2 PORTUV BLACK MULTI-TAP 1

F4P IL2/0-3 0381-8103 2/0 AWG 3 PORT UV BLACK MULTI-TAP 1

F4P IL2/0-3S 0381-8106 2/0 AWG 3 PORT 1 WAY UV BLACK MULTI-TAP 1

F4P IL2/0-4 0381-8109 2/0 AWG 4 PORT UV BLACK MULTI-TAP 1

F4P IL2/0-4S 0381-8112 2/0 AWG 4 PORT 1 WAY UV BLACK MULTI-TAP 1

F4P IL2/0-5 0381-8115 2/0 AWG 5 PORT UV BLACK MULTI-TAP 1

F4P IL2/0-5S 0381-8118 2/0 AWG 5 PORT 1 WAY UV BLACK MULTI-TAP 1

F4P IL2/0-6 0381-8121 2/0 AWG 6 PORT UV BLACK MULTI-TAP 1

F4P IL2/0-6S 0381-8124 2/0 AWG 6 PORT 1 WAY UV BLACK MULTI-TAP 1

F4P IL2/0-7 0381-8127 2/0 AWG 7 PORT UV BLACK MULTI-TAP 1

F4P IL2/0-8 0381-8130 2/0 AWG 8 PORT UV BLACK MULTI-TAP 1

F4P IL250-2 0381-8133 250 MCM 2 PORT UV BLACK MULTI-TAP 1

F4P IL250-2S 0453-6330 251 MCM 2 PORT 1 WAY UV BLACK MULTI-TAP 1

F4P IL250-3 0381-8136 250 MCM 3 PORT UV BLACK MULTI-TAP 1

F4P IL250-3S 0381-8139 250 MCM 3 PORT 1 WAY UV BLACK MULTI-TAP 1

F4P IL250-4 0381-8142 250 MCM 4 PORT UV BLACK MULTI-TAP 1

F4P IL250-4S 0381-8145 250 MCM 4 PORT 1 WAY UV BLACK MULTI-TAP 1

F4P IL250-5 0381-8148 250 MCM 5 PORT UV BLACK MULTI-TAP 1

F4P IL250-5S 0381-8151 250 MCM 5 PORT 1 WAY UV BLACK MULTI-TAP 1

F4P IL250-6 0381-8154 250 MCM 6 PORT UV BLACK MULTI-TAP 1

F4P IL250-7 0381-8157 250 MCM 7 PORT UV BLACK MULTI-TAP 1

F4P IL250-8 0381-8160 250 MCM 8 PORT UV BLACK MULTI-TAP 1

F4P IL350-2 0381-8163 350 MCM 2 PORT UV BLACK MULTI-TAP 1

F4P IL350-3 0381-8166 350 MCM 3 PORT UV BLACK MULTI-TAP 1

F4P IL350-3S 0381-8169 350 MCM 3 PORT 1 WAY UV BLACK MULTI-TAP 1

F4P IL350-4 0381-8172 350 MCM 4 PORT UV BLACK MULTI-TAP 1

F4P IL350-4S 0381-8175 350 MCM 4 PORT 1 WAY UV BLACK MULTI-TAP 1

F4P IL350-5 0381-8178 350 MCM 5 PORT UV BLACK MULTI-TAP 1

F4P IL350-5S 0381-8181 350 MCM 5 PORT 1 WAY UV BLACK MULTI-TAP 1

F4P IL350-6 0381-8184 350 MCM 6 PORT UV BLACK MULTI-TAP 1

F4P IL350-6S 0381-8187 350 MCM 6 PORT 1 WAY UV BLACK MULTI-TAP 1

F4P IL350-7 0381-8190 350 MCM 7 PORT UV BLACK MULTI-TAP 1

F4P IL350-8 0381-8193 350 MCM 8 PORT UV BLACK MULTI-TAP 1

F4P IL500-2 0381-8226 500 MCM 2 PORT UV BLACK MULTI-TAP 1

F4P IL500-3 0381-8229 500 MCM 3 PORT UV BLACK MULTI-TAP 1

F4P IL500-4 0381-8232 500 MCM 4 PORT UV BLACK MULTI-TAP 1

F4P IL500-4S 0381-8235 500 MCM 4 PORT 1 WAY UV BLACK MULTI-TAP 1

F4P IL500-5 0381-8238 500 MCM 5 PORT UV BLACK MULTI-TAP 1

48 49

PART # STOCK CODE DESCRIPTION PER

INSULATED LUGS

F4P IL500-6 0381-8241 500 MCM 6 PORT UV BLACK MULTI-TAP 1

F4P IL500-6S 0381-8244 500 MCM 6 PORT 1 WAY UV BLACK MULTI-TAP 1

F4P IL500-7 0381-8247 500 MCM 7 PORT UV BLACK MULTI-TAP 1

F4P IL500-8 0381-8250 500 MCM 8 PORT UV BLACK MULTI-TAP 1

F4P IL500-8S 0381-8253 500 MCM 8 PORT 1 WAY UV BLACK MULTI-TAP 1

F4P IL750-10 0381-8256 750 MCM 10 PORT UV BLACK MULTI-TAP 1

F4P IL750-2 0381-8259 750 MCM 2 PORT UV BLACK MULTI-TAP 1

F4P IL750-3 0381-8262 750 MCM 3 PORT UV BLACK MULTI-TAP 1

F4P IL750-4 0381-8265 750 MCM 4 PORT UV BLACK MULTI-TAP 1

F4P IL750-5 0381-8268 750 MCM 5 PORT UV BLACK MULTI-TAP 1

F4P IL750-6 0381-8271 750 MCM 6 PORT UV BLACK MULTI-TAP 1

F4P IL750-7 0381-8274 750 MCM 7 PORT UV BLACK MULTI-TAP 1

F4P IL750-8 0381-8277 750 MCM 8 PORT UV BLACK MULTI-TAP 1

F4P ISR2/0 0381-8280 2/0 AWG STRAIGHT UV BLACK CABLE SPLICE 1

F4P ISR250 0381-8283 250 MCM STRAIGHT UV BLACK CABLE SPLICE 1

F4P ISR350 0381-8286 350 MCM STRAIGHT UV BLACK CABLE SPLICE 1

F4P ISR500 0381-8289 500 MCM STRAIGHT UV BLACK CABLE SPLICE 1

F4P ILC2/0-2 0554-7285 2/0 AWG 2 PORT MULTI-TAP 1

F4P ILC2/0-3 0554-7288 2/0 AWG 3 PORT CLEAR MULTI-TAP 1

F4P ILC2/0-3S 0554-7291 2/0 AWG 3 PORT 1 WAY CLEAR MULTI-TAP 1

F4P ILC2/0-4 0554-7294 2/0 AWG 4 PORT CLEAR MULTI-TAP 1

F4P ILC2/0-4S 0554-7297 2/0 AWG 4 PORT 1 WAY CLEAR MULTI-TAP 1

F4P ILC2/0-5 0554-7300 2/0 AWG 5 PORT CLEAR MULTI-TAP 1

F4P ILC2/0-5S 0554-7303 2/0 AWG 5 PORT 1 WAY CLEAR MULTI-TAP 1

F4P ILC2/0-6 0554-7306 2/0 AWG 6 PORT CLEAR MULTI-TAP 1

F4P ILC2/0-6S 0554-7309 2/0 AWG 6 PORT 1 WAY CLEAR MULTI-TAP 1

F4P ILC2/0-7 0554-7312 2/0 AWG 7 PORT CLEAR MULTI-TAP 1

F4P ILC2/0-8 0554-7315 2/0 AWG 8 PORT CLEAR MULTI-TAP 1

F4P ILC3/0-2S 0587-5914 3/0 AWG 2 PORT 1 WAY CLEAR MULTI-TAP 1

F4P ILC3/0-3 0587-5820 3/0 AWG 3 PORT CLEAR MULTI-TAP 1

F4P ILC3/0-3S 0587-5812 3/0 AWG 3 PORT 1 WAY CLEAR MULTI-TAP 1

F4P ILC250-2 0554-7318 250 MCM 2 PORT CLEAR MULTI-TAP 1

F4P ILC250-3 0554-7321 250 MCM 3 PORT CLEAR MULTI-TAP 1

F4P ILC250-3S 0554-7324 250 MCM 3 PORT 1 WAY CLEAR MULTI-TAP 1

F4P ILC250-4 0554-7327 250 MCM 4 PORT CLEAR MULTI-TAP 1

F4P ILC250-4S 0554-7330 250 MCM 4 PORT 1 WAY CLEAR MULTI-TAP 1

F4P ILC250-5 0554-7333 250 MCM 5 PORT CLEAR MULTI-TAP 1

F4P ILC250-5S 0556-6569 250 MCM 5 PORT 1 WAY CLEAR MULTI TAP 1

F4P ILC250-6 0554-7336 250 MCM 6 PORT CLEAR MULTI-TAP 1

F4P ILC250-7 0554-7339 250 MCM 7 PORT CLEAR MULTI-TAP 1

F4P ILC250-8 0554-7342 250 MCM 8 PORT CLEAR MULTI-TAP 1

F4P ILC350-2 0554-7345 350 MCM 2 PORT CLEAR MULTI-TAP 1

F4P ILC350-3 0554-7348 350 MCM 3 PORT CLEAR MULTI-TAP 1

F4P ILC350-3S 0554-7351 350 MCM 3 PORT 1 WAY CLEAR MULTI-TAP 1

F4P ILC350-4 0554-7354 350 MCM 4 PORT CLEAR MULTI-TAP 1

F4P ILC350-4S 0554-7357 350 MCM 4 PORT 1 WAY CLEAR MULTI-TAP 1

F4P ILC350-5 0554-7360 350 MCM 5 PORT CLEAR MULTI-TAP 1

F4P ILC350-5S 0554-7363 350 MCM 5 PORT 1 WAY CLEAR MULTI-TAP 1

INSULATED LUGS BLACK  CLEAR MULTI-TAP



WWW.F4P-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.F4P-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

INSULATED LUGS

F4P ILC350-6 0554-7366 350 MCM 6 PORT CLEAR MULTI-TAP 1

F4P ILC350-6S 0554-7369 350 MCM 6 PORT 1 WAY CLEAR MULTI-TAP 1

F4P ILC350-7 0554-7372 350 MCM 7 PORT CLEAR MULTI-TAP 1

F4P ILC350-8 0554-7375 350 MCM 8 PORT CLEAR MULTI-TAP 1

F4P ILC4-2 0554-7378 4-14 AWG 2 PORT CLEAR MULTI-TAP 1

F4P ILC4-2S 0554-7381 4-14 AWG 2 PORT 1 WAY CLEAR MULTI-TAP 1

F4P ILC4-3 0554-7384 4-14 AWG 3 PORT CLEAR MULTI-TAP 1

F4P ILC4-3S 0554-7387 4-14 AWG 3 PORT 1 WAY CLEAR MULTI-TAP 1

F4P ILC4-4 0554-7390 4-14 AWG 4 PORT CLEAR MULTI-TAP 1

F4P ILC4-4S 0554-7393 4-14 AWG 4 PORT 1 WAY CLEAR MULTI-TAP 1

F4P ILC4-5 0554-7396 4-14 AWG 5 PORT CLEAR MULTI-TAP 1

F4P ILC4-5S 0554-7399 4-14 AWG 5 PORT 1 WAY CLEAR MULTI-TAP 1

F4P ILC4-6 0554-7402 4-14 AWG 6 PORT CLEAR MULTI-TAP 1

F4P ILC4-8 0554-7405 4-14 AWG 8 PORT CLEAR MULTI-TAP 1

F4P ILC500-2 0554-7408 500 MCM 2 PORT CLEAR MULTI-TAP 1

F4P ILC500-3 0554-7411 500 MCM 3 PORT CLEAR MULTI-TAP 1

F4P ILC500-4 0554-7414 500 MCM 4 PORT CLEAR MULTI-TAP 1

F4P ILC500-4S 0554-7417 500 MCM 4 PORT 1 WAY CLEAR MULTI-TAP 1

F4P ILC500-5 0554-7420 500 MCM 5 PORT CLEAR MULTI-TAP 1

F4P ILC500-6 0554-7423 500 MCM 6 PORT CLEAR MULTI-TAP 1

F4P ILC500-6S 0554-7426 500 MCM 6 PORT 1 WAY CLEAR MULTI-TAP 1

F4P ILC500-7 0554-7429 500 MCM 7 PORT CLEAR MULTI-TAP 1

F4P ILC500-8 0554-7432 500 MCM 8 PORT CLEAR MULTI-TAP 1

F4P ILC500-8S 0554-7435 500 MCM 8 PORT 1 WAY CLEAR MULTI-TAP 1

F4P ILC600-2 0587-5953 600 MCM 2 PORT CLEAR MULTI-TAP 1

F4P ILC750-10 0554-7438 750 MCM 10 PORT CLEAR MULTI-TAP 1

F4P ILC750-2 0554-7441 750 MCM 2 PORT CLEAR MULTI-TAP 1

F4P ILC750-3 0554-7444 750 MCM 3 PORT CLEAR MULTI-TAP 1

F4P ILC750-4 0554-7447 750 MCM 4 PORT CLEAR MULTI-TAP 1

F4P ILC750-5 0554-7450 750 MCM 5 PORT CLEAR MULTI-TAP 1

F4P ILC750-6 0554-7453 750 MCM 6 PORT CLEAR MULTI-TAP 1

F4P ILC750-7 0554-7456 750 MCM 7 PORT CLEAR MULTI-TAP 1

F4P ILC750-8 0554-7459 750 MCM 8 PORT CLEAR MULTI-TAP 1

F4P ISRC1/0 0587-5959 1/0 AWG STRAIGHT CABLE SPLICE CLEAR 1

F4P ISRC2/0 0556-6557 2/0 AWG STRAIGHT CABLE SPLICE CLEAR 1

F4P ISRC250 0556-6560 250 MCM STRAIGHT CABLE SPLICE CLEAR 1

F4P ISRC350 0556-6563 350 MCM STRAIGHT CABLE SPLICE CLEAR 1

F4P ISRC500 0556-6566 500 MCM STRAIGHT CABLE SPLICE CLEAR 1

50 51

PART # STOCK CODE DESCRIPTION PER

COPPER CRIMP LUGS

F4P CB1 0336-2544 #1 CU COMPRESSION SPLICE GREEN 100

F4P CB1-L 0336-2607 #1 CU COMPRESSION SPLICE GREEN L 100

F4P CB1/0 0336-2547 1/0 CU COMPRESSION SPLICE PINK 100

F4P CB1/0-L 0336-2613 1/0 CU COMPRESSION SPLICE PINK L 100

F4P CB2 0336-2541 #2 CU COMPRESSION SPLICE BROWN 100

F4P CB2-L 0336-2601 #2 CU COMPRESSION SPLICE BROWN L 100

F4P CB2/0 0336-2550 2/0 CU COMPRESSION SPLICE BLACK 100

F4P CB2/0-L 0336-2616 2/0 CU COMPRESSION SPLICE BLACK 100

F4P CB250 0336-2559 250 CU COMPRESSION SPLICE YELLOW 100

F4P CB250-L 0336-2625 250 CU COMPRESSION SPLICE YELLOW 100

F4P CB3/0 0336-2553 3/0 CU COMPRESSION SPLICE ORANGE 100

F4P CB3/0-L 0336-2619 3/0 CU COMPRESSION SPLICE ORANGE 100

F4P CB300 0336-2562 300 CU COMPRESSION SPLICE WHITE 100

F4P CB300-L 0336-2628 300 CU COMPRESSION SPLICE WHITE 100

F4P CB350 0336-2565 350 CU COMPRESSION SPLICE RED 100

F4P CB350-L 0336-2643 350 CU COMPRESSION SPLICE RED LO 100

F4P CB4 0336-2538 #4 CU COMPRESSION SPLICE GRAY 100

F4P CB4-L 0336-2598 #4 CU COMPRESSION SPLICE GRAY LO 100

F4P CB4/0 0336-2556 4/0 CU COMPRESSION SPLICE PURPLE 100

F4P CB4/0-L 0336-2622 4/0 CU COMPRESSION SPLICE PURPLE 100

F4P CB400 0336-2568 400 CU COMPRESSION SPLICE BLUE 100

F4P CB400-L 0336-2646 400 CU COMPRESSION SPLICE BLUE L 100

F4P CB500 0336-2571 500 CU COMPRESSION SPLICE BROWN 100

F4P CB500-L 0336-2649 500 CU COMPRESSION SPLICE BROWN 100

F4P CB6 0336-2535 #6 CU COMPRESSION SPLICE BLUE 100

F4P CB6-L 0336-2595 #6 CU COMPRESSION SPLICE BLUE LO 100

F4P CB600 0336-2574 600 CU COMPRESSION SPLICE GREEN 100

F4P CB600-L 0336-2652 600 CU COMPRESSION SPLICE GREEN 100

F4P CB750 0336-2577 750 CU COMPRESSION SPLICE BLACK 100

F4P CB750-L 0336-2655 750 CU COMPRESSION SPLICE BLACK 100

F4P CB8 0336-2523 #8 CU COMPRESSION SPLICE RED 100

F4P CB8-L 0336-2592 #8 CU COMPRESSION SPLICE RED LON 100

F4P CL1038 0309-7161 1/0 AWG 3/8 STUD CU COMP LUG PNK 100

F4P CL1038-2H 0309-7350 1 AWG 3/8 STUD 2HOLE CU COMP LUG 100

F4P CL1048 0309-7164 1/0 AWG 1/2 STUD CU COMP LUG PNK 100

F4P CL1048-2H 0309-7353 1 AWG 1/2 STUD 2HOLE CU COMP LUG 100

F4P CL1056 0309-7158 1/0 AWG 5/16 STUD CU COMP LUG PN 100

F4P CL114 0309-7146 1 AWG 1/4 STUD CU COMPRESSION LU 100

F4P CL138 0309-7152 1 AWG 3/8 STUD CU COMP LUG GREEN 100

F4P CL138-LB 0309-7269 1 AWG 3/8 STUD LONG CU COMP LUG 100

F4P CL156 0309-7149 1 AWG 5/16 STUD CU COMP LUG GRN 100

F4P CL2014-2H 0309-7359 2/0 AWG 1/4 STUD 2HOLE CU COMP L 100

F4P CL2038 0309-7170 2/0 AWG 3/8 STUD CU COMP LUG BLK 100

F4P CL2038-2H 0309-7356 2/0 AWG 3/8 STUD 2HOLE CU COMP L 100

F4P CL2038-LB 0309-7272 2/0 AWG 3/8 STUD LONG CU COMP LU 100

F4P CL2048 0309-7173 2/0 AWG 1/2 STUD CU COMP LUG BLK 100

F4P CL2048-2H 0309-7362 2/0 AWG 1/2 STUD 2HOLE CU COMP L 100

F4P CL2048-LB 0309-7275 2/0 AWG 1/2 STUD LONG CU COMP LU 100

COPPER CRIMP LUGS CLEAR MULTI-TAP



WWW.F4P-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.F4P-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

COPPER CRIMP LUGS

F4P CL2056 0309-7167 2/0 AWG 5/16 STUD CU COMP LUG BL 100

F4P CL214 0309-7137 2 AWG 1/4 STUD CU COMPRESSION LU 100

F4P CL214-LB 0309-7266 2 AWG 1/4 STUD LONG CU COMP LUG 100

F4P CL2142-2H 0309-7347 2 AWG 1/4 STUD 2HOLE CU COMP LUG 100

F4P CL238 0309-7143 2 AWG 3/8 STUD CU COMPRESSION LU 100

F4P CL238-2H 0309-7344 2 AWG 3/8 STUD 2HOLE CU COMP LUG 100

F4P CL238-LB 0309-7263 2 AWG 3/8 STUD LONG CU COMP LUG 100

F4P CL25038 0309-7197 250 MCM 3/8 STUD CU COMP LUG YLW 100

F4P CL25038-2H 0309-7377 250 MCM 3/8 STUD 2HOLE CU COMP L 100

F4P CL25048 0309-7200 250 MCM 1/2 STUD CU COMP LUG YLW 100

F4P CL25048-2H 0309-7380 250 MCM 1/2 STUD 2HOLE CU COMP L 100

F4P CL25048-LB 0309-7290 250 MCM 1/2 STUD LONG CU COMP LU 100

F4P CL256 0309-7140 2 AWG 5/16 STUD CU COMPRESSION L 100

F4P CL256-2H 0309-7341 2 AWG 5/16 STUD 2HOLE CU COMP LU 100

F4P CL256-LB 0309-7260 2 AWG 5/16 STUD LONG CU COMP LUG 100

F4P CL30048 0309-7203 300 MCM 1/2 STUD CU COMP LUG WHT 100

F4P CL30048-2H 0309-7383 300 MCM 1/2 STUD 2HOLE CU COMP L 100

F4P CL30048-LB 0309-7293 300 MCM 1/2 STUD LONG CU COMP LU 100

F4P CL3038 0309-7176 3/0 AWG 3/8 STUD CU COMP LUG ORN 100

F4P CL3038-2H 0309-7365 3/0 AWG 3/8 STUD 2HOLE CU COMP L 100

F4P CL3038-LB 0309-7278 3/0 AWG 3/8 STUD LONG CU COMP LU 100

F4P CL3048 0309-7179 3/0 AWG 1/2 STUD CU COMP LUG ORG 100

F4P CL3048-2H 0309-7368 3/0 AWG 1/2 STUD 2HOLE CU COMP L 100

F4P CL3048-LB 0309-7281 3/0 AWG 1/2 STUD LONG CU COMP LU 100

F4P CL35038-2H 0309-7389 350 MCM 3/8 STUD 2HOLE CU COMP L 100

F4P CL35048 0309-7206 350 MCM 1/2 STUD CU COMP LUG RED 100

F4P CL35048-2H 0309-7386 350 MCM 1/2 STUD 2HOLE CU COMP L 100

F4P CL35048-LB 0309-7296 350 MCM 1/2 STUD LONG CU COMP LU 100

F4P CL40048 0309-7209 400 MCM 1/2 STUD CU COMP LUG BLU 100

F4P CL40048-2H 0309-7392 400 MCM 1/2 STUD 2HOLE CU COMP L 100

F4P CL40048-LB 0309-7299 400 MCM 1/2 STUD LONG CU COMP LU 100

F4P CL4038 0309-7182 4/0 AWG 3/8 STUD CU COMP LUG PUR 100

F4P CL4038-2H 0309-7371 4/0 AWG 3/8 STUD 2HOLE CU COMP L 100

F4P CL4038-LB 0309-7284 4/0 AWG 3/8 STUD LONG CU COMP LU 100

F4P CL4048 0309-7185 4/0 AWG 1/2 STUD CU COMP LUG PUR 100

F4P CL4048-2H 0309-7374 4/0 AWG 1/2 STUD 2HOLE CU COMP L 100

F4P CL4048-LB 0309-7287 4/0 AWG 1/2 STUD LONG CU COMP LU 100

F4P CL414 0309-7128 4 AWG 1/4 STUD CU COMPRESSION LU 100

F4P CL414-2H 0309-7329 4 AWG 1/4 STUD 2HOLE CU COMP LUG 100

F4P CL414-LB 0309-7251 4 AWG 1/4 STUD LONG CU COMP LUG 100

F4P CL4142-2H 0309-7335 4 AWG 1/4 STUD 2HOLE CU COMP LUG 100

F4P CL438 0309-7134 4 AWG 3/8 STUD CU COMPRESSION LU 100

F4P CL438-2H 0309-7332 4 AWG 3/8 STUD 2HOLE CU COMP LUG 100

F4P CL438-LB 0309-7254 4 AWG 3/8 STUD LONG CU COMP LUG 100

F4P CL448-2H 0309-7338 4 AWG 1/2 STUD 2HOLE CU COMP LUG 100

F4P CL456 0309-7131 4 AWG 5/16 STUD CU COMPRESSION L 100

52 53

PART # STOCK CODE DESCRIPTION PER

COPPER CRIMP LUGS

F4P CL456-LB 0309-7257 4 AWG 5/16 STUD LONG CU COMP LUG 100

F4P CL50038-2H 0309-7398 500 MCM 3/8 STUD 2HOLE CU COMP L 100

F4P CL50048 0309-7212 500 MCM 1/2 STUD CU COMP LUG BRN 100

F4P CL50048-2H 0309-7395 500 MCM 1/2 STUD 2HOLE CU COMP L 100

F4P CL50048-LB 0309-7302 500 MCM 1/2 STUD LONG CU COMP LU 100

F4P CL50058 0309-7215 500 MCM 5/8 STUD CU COMP LUG BRN 100

F4P CL50058-LB 0309-7305 500 MCM 5/8 STUD LONG CU COMP LU 100

F4P CL60038-2H 0309-7404 600 MCM 3/8 STUD 2HOLE CU COMP L 100

F4P CL60048 0309-7221 600 MCM 1/2 STUD CU COMP LUG GRN 100

F4P CL60048-2H 0309-7401 600 MCM 1/2 STUD 2HOLE CU COMP L 100

F4P CL60058 0309-7218 600 MCM 5/8 STUD CU COMP LUG GRN 100

F4P CL60058-LB 0309-7308 600 MCM 5/8 STUD LONG CU COMP LU 100

F4P CL614 0309-7119 6 AWG 1/4 STUD CU COMPRESSION LU 100

F4P CL614-2H 0309-7317 6 AWG 1/4 STUD 2HOLE CU COMP LUG 100

F4P CL614-LB 0309-7245 6 AWG 1/4 STUD LONG CU COMP LUG 100

F4P CL6142-2H 0309-7323 6 AWG 1/4 STUD 2HOLE CU COMP LUG 100

F4P CL638-2H 0309-7326 6 AWG 3/8 STUD 2HOLE CU COMP LUG 100

F4P CL638-LB 0309-7248 6 AWG 3/8 STUD LONG CU COMP LUG 100

F4P CL648-2H 0309-7320 6 AWG 1/2 STUD 2HOLE CU COMP LUG 100

F4P CL656 0309-7122 6 AWG 5/16 STUD CU COMPRESSION L 100

F4P CL75038-2H 0309-7410 750 MCM 3/8 STUD 2HOLE CU COMP L 100

F4P CL75048-2H 0309-7407 750 MCM 1/2 STUD 2HOLE CU COMP L 100

F4P CL75058 0309-7224 750 MCM 5/8 STUD CU COMP LUG BLK 100

F4P CL75058-LB 0309-7311 750 MCM 5/8 STUD LONG CU COMP LU 100

F4P CL814 0309-7116 8 AWG 1/4 STUD CU COMPRESSION LU 100

F4P CL814-LB 0309-7242 8 AWG 1/4 STUD LONG CU COMP LUG 100

F4P CL8141-2H 0309-7314 8 AWG 1/4 STUD 2HOLE CU COMP LUG 100

PART # STOCK CODE DESCRIPTION PER

JACK CHAIN

F4PJCHAIN-12 0277-8960 F4P 100 FT #12 JACK CHAIN 1

PART # STOCK CODE DESCRIPTION PER

TEMPORARY LIGHTING

F4P TLS14/2-100 0279-7509 F4P TEMP LIGHT STRING SJTW14/2-100FT 1

F4P TLS14/3-100 0316-4799 100' TEMP LT 14/3 W/ FEMALE END 1

F4P MH400TL 0289-4364 F4P 400W M/H TEMP LTG C/W WIRE-GUARD 1

F4P MH400TL+LP 0294-6222 F4P 400W MH TEMP LTG W/ LAMP 1

COPPER CRIMP LUGS

COPPER CRIMP LUGS

F4PJCHAIN-12

F4P TLS14/2-100



WWW.F4P-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.F4P-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

ROPE & WIRE PULLING

F4P ROPE BUCKET 0008-1718 F4P 6,500 FT PULLROPE 210LB STRENGTH- TWINE 1

F4P PL6-2200 0427-3935 2200FT 600 LBS POLY LINE BUCKET 1

F4P PL500 0316-4283 500FT POLY PULL LINE 210LBS 1

F4P CMT-3000 0320-3616 3000FT 160LB CONDUIT MEAS TAPE 1

F4P PMT12-500 0331-6884 1/2" PRINTED MEAS/PULL TAPE 500FT 1

F4P PMT12-1500 0331-6887 1/2" PRINTED MEAS/PULL TAPE 1500FT 1

F4P PMT12-3000 0318-8142 1/2" 1250LB MEAS/PULL TAPE 3000FT 1

F4P PMT316-3000 0318-8136 3/16" 400LB MEAS/PULL TAPE 3000FT 1

F4P PMT34-500 0331-6896 3/4" PRINTED MEAS/PULL TAPE 500FT 1

F4P PMT34-1500 0331-6899 3/4" PRINTED MEAS/PULL TAPE 1500FT 1

F4P PMT34-3000 0318-8148 3/4" 2500LB MEAS/PULL TAPE 3000FT 1

F4P PMT58-500 0331-6890 5/8" PRINTED MEAS/PULL TAPE 500FT 1

F4P PMT58-1500 0331-6893 5/8" PRINTED MEAS/PULL TAPE 1500FT 1

F4P PMT58-3000 0318-8145 5/8" 1800LB MEAS/PULL TAPE 3000FT 1

F4P PR12-300 0320-4777 1/2" X 300FT PULL ROPE YELLOW 1

F4P PR12-600 0320-4780 1/2" X 600FT PULL ROPE YELLOW 1

F4P PR14-600 0320-4771 1/4" X 600FT PULL ROPE YELLOW 1

F4P PR38-600 0320-4774 3/8" X 600FT PULL ROPE YELLOW 1

F4P MLW-250 0424-0272 250' MASON LINE WHITE 1

F4P MLW-500 0424-0275 500' MASON LINE WHITE 1

F4P MLW-1000 0424-0278 1000' MASON LINE WHITE 1

F4P MLO-250 0424-0281 250' MASON LINE NEON ORANGE 1

F4P MLO-500 0424-0284 500' MASON LINE NEON ORANGE 1

F4P MLO-1000 0424-0287 1000' MASON LINE NEON ORANGE 1

54 55

PART # STOCK CODE DESCRIPTION PER

HOLESAWS

F4P19HS 0276-8541 BI-METAL HOLE SAW 19MM 3/4", 47MM DEEP 1

F4P22HS 0276-8544 BI-METAL HOLE SAW 22MM 7/8", 47MM DEEP 1

F4P25HS 0276-8547 BI-METAL HOLE SAW 25MM 1", 47MM DEEP 1

F4P28HS 0276-8553 BI-METAL HOLE SAW 28MM 1-1/8", 47MM DEEP 1

F4P32HS 0276-8556 BI-METAL HOLE SAW 32MM 1-1/4", 47MM DEEP 1

F4P35HS 0276-8559 BI-METAL HOLE SAW 35MM 1-3/8", 47MM DEEP 1

F4P38HS 0276-8562 BI-METAL HOLE SAW 38MM 1-1/2", 47MM DEEP 1

F4P41HS 0276-8565 BI-METAL HOLE SAW 41MM 1-5/8", 47MM DEEP 1

F4P44HS 0276-8568 BI-METAL HOLE SAW 44MM 1-3/4", 47MM DEEP 1

F4P51HS 0276-8571 BI-METAL HOLE SAW 51MM 2", 47MM DEEP 1

F4P54HS 0276-8574 BI-METAL HOLE SAW 54MM 2-1/8", 47MM DEEP 1

F4P57HS 0276-8577 BI-METAL HOLE SAW 57MM 2-1/4", 47MM DEEP 1

F4P60HS 0276-8580 BI-METAL HOLE SAW 60MM 2-3/8", 47MM DEEP 1

F4P64HS 0276-8583 BI-METAL HOLE SAW 64MM 2-1/2", 47MM DEEP 1

F4P67HS 0276-8586 BI-METAL HOLE SAW 67MM 2-5/8", 47MM DEEP 1

F4P70HS 0276-8589 BI-METAL HOLE SAW 70MM 2-3/4", 47MM DEEP 1

F4P76HS 0276-8592 BI-METAL HOLE SAW 76MM 3", 47MM DEEP 1

F4P83HS 0276-8595 BI-METAL HOLE SAW 83MM 3-1/4", 47MM DEEP 1

F4P89HS 0276-8598 BI-METAL HOLE SAW 89MM 3-1/2", 47MM DEEP 1

F4P92HS 0276-8601 BI-METAL HOLE SAW 92MM 3-5/8", 47MM DEEP 1

F4P94HS 0276-8604 BI-METAL HOLE SAW 94MM 3-3/4", 47MM DEEP 1

F4P102HS 0276-8514 BI-METAL HOLE SAW 102MM 4", 47MM DEEP 1

F4P105HS 0276-8517 BI-METAL HOLE SAW 105MM 4-1/8", 47MM DEEP 1

F4P108HS 0276-8520 BI-METAL HOLE SAW 108MM 4-1/4", 47MM DEEP 1

F4P111HS 0276-8523 BI-METAL HOLE SAW 111MM 4-3/8", 47MM DEEP 1

F4P114HS 0276-8526 BI-METAL HOLE SAW 114MM 4-1/2", 47MM DEEP 1

F4P121HS 0276-8529 BI-METAL HOLE SAW 121MM 4-3/4", 47MM DEEP 1

F4P140HS 0276-8532 BI-METAL HOLE SAW 140MM 5-1/2", 47MM DEEP 1

F4P146HS 0276-8535 BI-METAL HOLE SAW 146MM 5-3/4", 47MM DEEP 1

F4P152HS 0276-8538 BI-METAL HOLE SAW 153MM 6", 47MM DEEP 1

PART # STOCK CODE DESCRIPTION PER

CONDUIT PISTONS

F4P CP1/2 0544-3197 CONDUIT PISTON 1/2" - 5 PACK 1

F4P CP3/4 0544-3200 CONDUIT PISTON 3/4" - 5 PACK 1

F4P CP1 0544-3203 CONDUIT PISTON 1" - 5 PACK 1

F4P CP1-1/4 0544-3206 CONDUIT PISTON 1-1/4" - 2 PACK 1

F4P CP1-1/2 0544-3209 CONDUIT PISTON 1-1/2" - 2 PACK 1

F4P CP2 0544-3212 CONDUIT PISTON 2" 1

F4P CP2-1/2 0544-3215 CONDUIT PISTON 2-1/2" 1

F4P CP3 0544-3218 CONDUIT PISTON 3" 1

F4P CP3-1/2 0544-3221 CONDUIT PISTON 3-1/2" 1

F4P CP4 0544-3224 CONDUIT PISTON 4" 1

F4P CP5 0544-3227 CONDUIT PISTON 5" 1

F4P CP6 0544-3230 CONDUIT PISTON 6" 1

F4P CP PACK 0544-3353 CONDUIT PISTON 1/2", 3/4", 1", 1-1/4",1-1/2", 2" PACK 1

PART # STOCK CODE DESCRIPTION PER

SPLICE KITS

F4P 830 0238-9962 F4P SPLICE KIT - 14 TO 8 AWG UF 600V COPPER UL 1

F4P 831 0238-9965 F4P SPLICE KIT  - 8 TO 2 AWG 600V COPPER & ALUMINUM UL 1

F4P 832 0238-9968 F4P SPLICE KIT - 1 AWG  TO 250 MCM 600V COPPER & ALUMINUM UL 1

F4P PMT12-500

F4P PR12-300

F4P CP3

F4P44HS

F4P 831



WWW.F4P-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.F4P-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

TAPE

F4P DUCT TAPE 0012-0946 F4P 2" X 60 YARDS DUCT TAPE 1

F4P DUCT PLUS 0312-9861 2" X 60YD PREMIUM GRADE DUCT TAPE 1

F4P DUCT PRO 0312-9864 2" X 60YD PROFESSIONAL GRADE DUCT TAPE 1

F4P TBK 0278-9838 F4P ELECTRICAL PVC TAPE 0.007"X3/4"X66' BLK 1

F4P TBL 0278-9841 F4P ELECTRICAL PVC TAPE 0.007"X3/4"X66' BLU 1

F4P TBN 0278-9844 F4P ELECTRICAL PVC TAPE 0.007"X3/4"X66' BRN 1

F4P TGN 0278-9847 F4P ELECTRICAL PVC TAPE 0.007"X3/4"X66' GRN 1

F4P TGY 0278-9850 F4P ELECTRICAL PVC TAPE 0.007"X3/4"X66' GRY 1

F4P TOR 0278-9853 F4P ELECTRICAL PVC TAPE 0.007"X3/4"X66' ORN 1

F4P TPL 0278-9856 F4P ELECTRICAL PVC TAPE 0.007"X3/4"X66' PUR 1

F4P TRD 0278-9859 F4P ELECTRICAL PVC TAPE 0.007"X3/4"X66' RED 1

F4P TWH 0278-9862 F4P ELECTRICAL PVC TAPE 0.007"X3/4"X66' WHT 1

F4P TYW 0278-9865 F4P ELECTRICAL PVC TAPE 0.007"X3/4"X66' YEL 1

F4P TBK PRO 0300-1662 F4P PREMIUM PVC TAPE 0.007"X3/4"X66` BLK 1

F4P TBL PRO 0448-7508 F4P PREMIUM PVC TAPE 0.007"X3/4"X66 BLUE 1

F4P TBN PRO 0448-7511 F4P PREMIUM PVC TAPE 0.007"X3/4"X66 BRN 1

F4P TGN PRO 0448-7514 F4P PREMIUM PVC TAPE 0.007"X3/4"X66 GRN 1

F4P TGY PRO 0448-7517 F4P PREMIUM PVC TAPE 0.007"X3/4"X66 GRY 1

F4P TOR PRO 0448-7520 F4P PREMIUM PVC TAPE 0.007"X3/4"X66 ORG 1

F4P TPL PRO 0448-7523 F4P PREMIUM PVC TAPE 0.007"X3/4"X66 PRL 1

F4P TRD PRO 0448-7526 F4P PREMIUM PVC TAPE 0.007"X3/4"X66 RED 1

F4P TWH PRO 0448-7529 F4P PREMIUM PVC TAPE 0.007"X3/4"X66 WHT 1

F4P TYW PRO 0448-7532 F4P PREMIUM PVC TAPE 0.007"X3/4"X66 YLW 1

F4P TAPE RACK ** 0300-0552 F4P TAPE DISPLAY RACK 1

56 57

PART # STOCK CODE DESCRIPTION PER

MISC TAPE 

DBTAPE-GRN 0554-7252 6" DETECT GRN ELECT CAUTION TAPE 1000FT 1

UGTAPE3 0269-9298 NON DETECTABLE 3" RED ELECTRICAL CAUTION TAPE 1000' 1

UGTAPE3-C 0542-9469 NON DETECTABLE 3" ORANGE FIBER OPTIC CAUTION TAPE 1000' 1

UGTAPE3-G 0542-9475 NON DETECTABLE 3" YELLOW GAS CAUTION TAPE 1000' 1

UGTAPE6 0269-9301 NON DETECTABLE 6" RED ELECTRICAL CAUTION TAPE 1000' 1

UGTAPE6-C 0542-9472 NON DETECTABLE 6" ORANGE FIBER OPTIC CAUTION TAPE 1000' 1

UGTAPE6-G 0542-9478 NON DETECTABLE 6" YELLOW GASL CAUTION TAPE 1000' 1

PACKINGTAPE 0012-4237 2" X 110YARDS PREMIUM PACKING CLEAR PACKING TAPE 1

F4P PT200 0318-8604 2" X 110 YD PREMIUM PACKING TAPE 1

STRETCHWRAP 0237-1809 STRETCH WRAP 1,500FT 18" WIDE  80 GUAGE 1

F4P RST075 0309-4179 3/4" HV RUBBER TAPE 69KV 30FTX30MIL 1

F4P RST100 0309-4182 1" HV RUBBER TAPE 69KV 30FTX30MIL 1

F4P RST150 0309-4185 1.5" HV RUBBER TAPE 69KV 30FTX30MIL 1

F4P LVRST075 0314-6301 3/4" LV RUBBER TAPE 600V 22FTX30MIL 1

F4P LVRST150 0314-6310 1.5" LV RUBBER TAPE 600V 22FTX30MIL 1

F4P LVRST200 0314-6313 2" LV RUBBER TAPE 600V 22FTX30MIL 1

F4P FT075 0314-4216 3/4" X 60FT FRICTION TAPE BLK 1

F4P RMT250-2 0314-4225 2.5" X 2FT RUBBER MASTIC TAPE 1

F4P GCT050 0314-4219 1/2" X 66FT GLASS CLOTH TAPE 1

F4P GCT075 0314-4222 3/4" X 66FT GLASS CLOTH TAPE 1

F4P BPT200 0314-6559 2" X 60YD BLUE PAINTERS TAPE 1

ALUFOIL 0256-4325 ALUMINUM FOIL TAPE 2" X 90' 1

F4P105HS 0276-8517 BI-METAL HOLE SAW 105MM 4-1/8", 47MM DEEP 1

F4P108HS 0276-8520 BI-METAL HOLE SAW 108MM 4-1/4", 47MM DEEP 1

F4P111HS 0276-8523 BI-METAL HOLE SAW 111MM 4-3/8", 47MM DEEP 1

F4P114HS 0276-8526 BI-METAL HOLE SAW 114MM 4-1/2", 47MM DEEP 1

F4P121HS 0276-8529 BI-METAL HOLE SAW 121MM 4-3/4", 47MM DEEP 1

F4P140HS 0276-8532 BI-METAL HOLE SAW 140MM 5-1/2", 47MM DEEP 1

F4P146HS 0276-8535 BI-METAL HOLE SAW 146MM 5-3/4", 47MM DEEP 1

F4P152HS 0276-8538 BI-METAL HOLE SAW 153MM 6", 47MM DEEP 1

PART # STOCK CODE DESCRIPTION PER

MISC TAPE 

CAUTION TAPE 0295-1295 3" X 1000 FT YELLOW "CAUTION" TAPE 1

CAUTION TAPE-B 0542-9400 3" X 1000 FT YELLOW "CAUTION" "CUIDADO" BILINGUAL TAPE 1

BARRICADE TAPE-R 0542-9409 3" X 500FT 7 MILL "DANGER" TAPE RED 1

BARRICADE TAPE-Y 0542-9406 3" X 500FT 7 MILL "CAUTION" TAPE YELLOW 1

DANGER TAPE 0535-9503 3" X 1000FT 2 MILL "DANGER"  TAPE RED 1

DANGER TAPE-B 0542-9403 3" X 1000FT 2 MILL "DANGER" "PELIGRO" BILINGUAL TAPE RED 1

HVTAPE-3 0542-9493 3" X 100FT 3 MILL "DANGER HIGH VOLTAGE" TAPE RED 1

DBTAPE2 0269-9289 DETECTABLE 2" RED ELECTRICAL CAUTION TAPE 1000' 1

DBTAPE2-C 0542-9451 2" DETECT ORG OPT CAUTION TAPE 100FT 1

DBTAPE2-G 0542-9460 2" DETECT YLW GAS CAUTION TAPE 100FT 1

DBTAPE2-GRN 0544-7246 2" DETECT GRN SEWER CAUTION TAPE 100FT 1

DBTAPE3 0269-9292 DETECTABLE 3" RED ELECTRICAL CAUTION TAPE 1000' 1

DBTAPE3-C 0542-9457 3" DETECT GREN SEWER CAUTION TAPE 100FT 1

DBTAPE3-G 0542-9463 3" DETECT YLW GAS CAUTION TAPE 100FT 1

DBTAPE3-GRN 0554-9463 3" DETECT GRN SEWER CAUTION TAPE 100FT 1

DBTAPE6 0269-9295 DETECTABLE 6" RED ELECTRICAL CAUTION TAPE 1000' 1

DBTAPE6-C 0328-5057 6" DETECT RED ELECT CAUTION TAPE 1000FT 1

DBTAPE-G 0542-9466 6" DETECT YLW GAS CAUTION TAPE 1000FT 1

** Free with the purchase of a case of tape (150 rolls), any color mix and match (one per branch maximum)  
  

PART # STOCK CODE DESCRIPTION PER

KNIVES

F4P DWS 0305-7549 DRYWALL SAW 150MM 1

F4P UFK 0304-7655 FOLDING UTILITY KNIFE 2 POSITION 1

PART # STOCK CODE DESCRIPTION PER

CONDUIT BENDERS

EMT1/2B 0244-2003 1/2" EMT BENDER-HEAD ONLY 1

EMT3/4B 0244-2006 3/4" EMT BENDER- HEAD ONLY 1

EMT1B 0244-2009 1" EMT BENDER- HEAD ONLY 1

EMTBHANDLE 0244-2012 BENDER HANDLE FOR 1/2 & 3/4 HEAD 1

EMTBHANDLE-1 0314-4531 BENDER HANDLE FOR 1" HEAD 1

F4P DUCT PLUS

F4P TGN

CAUTION TAPE

DANGER TAPE

UGTAPE3

DBTAPE3

F4P PT200

F4P RST075

 F4P RMT250-2

F4P TAPE RACK **

F4P UFK

EMT1/2B



WWW.F4P-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.F4P-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

WIRE NUTS

F4P J1102 0219-0114 LG JAR 550 YELLOW WING NUTS 1

F4P J1202 0219-0117 LG JAR 500 TAN WING NUTS 1

F4P J1302 0219-0120 LG JAR 350 RED WING NUTS 1

F4P J1702 0301-2150 LG JAR 150 BIG BLUE WING NUTS 1

F4P J3002 0285-7749 F4P WING ORANGE-JAR 750 PIECE COUNT 1

F4P J4002 0301-2144 LG JAR 500 YELLOW WIRE NUTS 1

F4P J6002 0301-2147 LG JAR 400 RED WIRE NUTS 1

F4P J9902 0242-0421 LG JAR 400 GREEN WING NUTS 1

N 1000 0214-8096 SLIM JIM WING NUT YELLOW IN 100 BOX 1000

N 1001 0214-8099 SLIM JIM WING NUT YELLOW IN 500 BAG 1000

N 2000 0214-8102 SLIM JIM WING NUT RED IN 100 BOX 1000

N 2001 0214-8105 SLIM JIM WING NUT RED IN 500 BAG 1000

P 1000 0012-2098 WIRE GRAY SMALL  - 100 BOX 1000

P 1001 0012-2101 WIRE GRAY SMALL  - 1000 BAG 1000

P 1100 0012-2128 WING YELLOW - 100 BOX 1000

P 1101 0012-2131 WING YELLOW - 500 BAG 1000

P 1200 0012-2134 WING TAN - 100 BOX 1000

P 1201 0012-2137 WING TAN - 500 BAG 1000

P 1300 0012-2140 WING RED - 100 BOX 1000

P 1301 0012-2143 WING RED - 500 BAG 1000

P 1500 0012-2146 WING GRAY - 50 BOX 1000

P 1501 0012-2149 WING GRAY - 250 BAG 1000

P 1700 0012-2152 WING BLUE - 50 BOX 1000

P 1701 0012-2155 WING BLUE - 100 BAG 1000

P 2000 0012-2104 WIRE BLUE SMALL  - 100 BOX 1000

P 2001 0012-2107 WIRE BLUE SMALL  - 500 BAG 1000

P 3000 0012-2110 WIRE ORANGE SMALL - 100 BOX 1000

P 3001 0012-2113 WIRE ORANGE SMALL - 500 BAG 1000

P 4000 0012-2116 WIRE YELLOW - 100 BOX 1000

P 4001 0012-2119 WIRE YELLOW - 500 BAG 1000

P 6000 0012-2122 WIRE RED - 100 BOX 1000

P 6001 0012-2125 WIRE RED - 500 BAG 1000

P 9900 0012-2158 WING GREEN - 100 BOX 1000

P 9901 0012-2161 WING GREEN  -500 BAG 1000

F4P 7001H 0303-3621 BLACK HI TEMP LARGE WIRE NUT 500 CT BAG 1000

F4P H1004 0301-5348 SMALL HANGHOLE BAG OF 12 SMALL BLUE WIRE NUTS 1

F4P H2004 0301-5351 SMALL HANGHOLE BAG OF 12 SMALL GRAY WIRE NUTS 1

58 59

PART # STOCK CODE DESCRIPTION PER

WIRE NUTS

F4P H3004 0301-5354 SMALL HANGHOLE BAG OF 12 ORANGE WIRE NUTS 1

F4P H4004 0301-5357 SMALL HANGHOLE BAG OF 12 YELLOW WIRE NUTS 1

F4P H6004 0301-5360 SMALL HANGHOLE BAG OF 12 RED WIRE NUTS 1

F4P H1104 0301-5363 SMALL HANGHOLE BAG OF 12 YELLOW WING NUTS 1

F4P H1204 0301-5366 SMALL HANGHOLE BAG OF 12 TAN WING NUTS 1

F4P H1304 0301-5369 SMALL HANGHOLE BAG OF 12 RED WING NUTS 1

F4P H1504 0301-5372 SMALL HANGHOLE BAG OF 6 GRAY WING NUTS 1

F4P H1704 0301-5375 SMALL HANGHOLE BAG OF 6 LARGE BLUE WING NUTS 1

F4P H9904 0301-5381 SMALL HANGHOLE BAG OF 12 GREEN GROUNDING WING NUTS 1

F4P HN1004 0301-5384 SMALL HANGHOLE BAG OF 12 YELLOW SLIM JIM WIRE NUTS 1

F4P HN2004 0301-5387 SMALL HANGHOLE BAG OF 12 RED SLIM JIM WIRE NUTS 1

F4P S1003 0301-5336 SMALL JAR OF 500 SMALL GRAY WIRE NUTS 1

F4P S2003 0301-5339 SMALL JAR OF 400 SMALL BLUE WIRE NUTS 1

F4P S3003 0301-5306 SMALL JAR 300 ORANGE WIRE NUTS 1

F4P S4003 0301-5309 SMALL JAR OF 150 YELLOW WIRE NUTS 1

F4P S6003 0301-5312 SMALL JAR OF 100 RED WIRE NUTS 1

F4P S1103 0301-5315 SMALL JAR 200 YELLOW WING NUT 1

F4P S1203 0301-5318 SMALL JAR 175 TAN WING NUT 1

F4P S1303 0301-5321 SMALL JAR 120 RED WING NUT 1

F4P S1503 0301-5324 SMALL JAR OF 50 LARGE GRAY WING NUTS 1

F4P S1703 0301-5327 SMALL JAR 50 BIG BLUE WING NUT 1

F4P S9903 0301-5330 SMALL JAR 150 GREEN WING NUT 1

F4P S7003H 0305-2224 SMALL JAR OF 300 BLACK HI-TEMP WIRE NUTS 1

F4P SN1003 0301-5342 SMALL JAR OF 200 YELLOW SLIM JIM WIRE NUTS 1

F4P SN2003 0301-5345 SMALL JAR OF 100 RED SLIM JIM WIRE NUTS 1

F4P 1105 0309-6657 BULK DRUM 22000 YELLOW WING NUTS 1

F4P 1205 0309-6660 BULK DRUM 20000 TAN WING NUTS 1

F4P 1305 0309-6663 BULK DRUM 14000 RED WING NUTS 1

F4P 1705 0313-4796 BULK DRUM 9500 BLUE WING NUTS 1

F4P 3005 0309-6666 BULK DRUM 28000 ORANGE WIRE NUTS 1

F4P 4005 0313-4790 BULK DRUM 35000 YELLOW WIRE NUTS 1

F4P 6005 0313-4781 BULK DRUM 25000 RED WIRE NUTS 1

F4P 9905 0309-6669 BULK DRUM 16000 GREEN WING NUTS 1

F4P WPWC12-H 0544-0014 SMALL WATERPROOF WIRE CONNECTOR 20CT CLAMSHELL 1

F4P WPWC12-J 0544-0017 SMALL WATERPROOF WIRE CONNECTOR 120CT JAR 1

F4P WPWC8-H 0544-0020 LARGE WATERPROOF WIRE CONNECTOR 10CT CLAMSHELL 1

F4P WPWC8-J 0544-0023 LARGE WATERPROOF WIRE CONNECTOR 100CT JAR 1

RED WIRE NUT

YELLOW WIRE NUT

ORANGE WIRE NUT

BLUE WIRE NUT

GREEN WING CONNECTOR

GRAY WING CONNECTOR

RED WING CONNECTOR

YELLOW WING CONNECTOR

TAN WING CONNECTOR

WATERPROOF WIRE CONNECTOR

RED SLIM WIRE CONNECTORS

YELLOW SLIM WIRE CONNECTORS

HIGH-TEMP WIRE NUTS

BULK DRUM



WWW.F4P-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.F4P-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

F4P PIWC-8

F4P PIWC-6

F4P PIWC-5

F4P PIWC-4

F4P PIWC-3

PART # STOCK CODE DESCRIPTION PER

PUSH-IN WIRE CONNECTORS

F4P PIWC-2-J 0476-7153 500CT JAR 2 POLE PUSH-IN CONN 1

F4P PIWC-3-J 0476-7156 300CT JAR 3 POLE PUSH-IN CONN 1

F4P PIWC-4-J 0476-7159 250CT JAR 4 POLE PUSH-IN CONN 1

F4P PIWC-5-J 0476-7162 200CT JAR 5 POLE PUSH-IN CONN 1

F4P PIWC-6-J 0476-7165 6 POLE PUSH-IN CONN 150CT JAR 1

F4P PIWC-8-J 0476-7168 8 POLE PUSH-IN CONN 100CT JAR 1

F4P PIWC-2-B 0312-5157 2 POLE PUSH-IN CONN 500CT BAG 100

F4P PIWC-3-B 0312-5160 3 POLE PUSH-IN CONN 400CT BAG 100

F4P PIWC-4-B 0312-5163 4 POLE PUSH-IN CONN 300CT BAG 100

F4P PIWC-5-B 0312-5166 5 POLE PUSH-IN CONN 300CT BAG 100

F4P PIWC-6-B 0312-5169 6 POLE PUSH-IN CONN 250CT BAG 100

F4P PIWC-8-B 0312-5172 8 POLE PUSH-IN CONN 200CT BAG 100

F4P PIWC-2 0312-4854 2 POLE PUSH-IN CONN 100CT BOX 100

F4P PIWC-3 0312-4857 3 POLE PUSH-IN CONN 100CT BOX 100

F4P PIWC-4 0312-4860 4 POLE PUSH-IN CONN 75CT BOX 100

F4P PIWC-5 0312-4863 5 POLE PUSH-IN CONN 50CT BOX 100

F4P PIWC-6 0312-4866 6 POLE PUSH-IN CONN 50CT BOX 100

F4P PIWC-8 0312-4869 8 POLE PUSH-IN CONN 40CT BOX 100

60 61

PART # STOCK CODE DESCRIPTION PER

WIRE MARKER BOOKS

F4P WM 1X2 1/2 SL 0269-2632 F4P 1" X 2 1/2" SELF LAMINATING LABEL BOOK 1

F4P WM 1X5 SL 0269-2635 F4P 1" X 5" SELF LAMINATING LABEL BOOK 1

F4P WM 0-9 0215-6142 F4P 45 MARKERS PER BOOK - NUMBERS 0 THRU 9 1

F4P WM 1-45 0215-6145 F4P 10 MARKERS PER BOOK - NUMBERS 1 THRU 45 1

F4P WM 46-90 0215-6148 F4P 10 MARKERS PER BOOK - NUMBERS 46 THRU 90 1

F4P WM A-Z, 0-15 0215-6151 F4P 10 MARKERS PER BOOK - A THRU Z, 0 THRU 15, +, -, / 1

F4P WM PANEL 0295-2627 F4P PANEL LEGEND MARKERS 1

PART # STOCK CODE DESCRIPTION PER

LABELS

F4P ARC FLASH 0302-5713 ARC FLASH HAZARD LABEL 3.5"X5" 1

F4P ARC BILING 0321-0360 ARC FLASH ENG-SPANISH LABEL 3.5" X 5" 1

F4P ARC315 0316-4628 ARC FLASH HAZARD LABEL 1.5"X3" 1

F4P CLEARANCE36 0316-4631 7X10 OSHA DANGER LABEL 36" PANEL CLEAR 1

F4P 120-208V 0308-9220 4"X1" 120/208 VOLT MARKER 4 PACK 1

F4P 277-480V 0308-9223 4"X1" 277/480 VOLT MARKER 4 PACK 1

F4P 120V 0320-5797 4"X1" 120 VOLT MARKER 4 PACK 1

F4P 277V 0320-5800 4"X1" 277 VOLT MARKER 4 PACK 1

F4P HIGHVOLT2X9 0309-4656 2.25" X 9" DANGER HIGH VOLTAGE LABEL 1

F4P HIGHVOLT7X10 0309-4659 7" X 10" DANGER HIGH VOLTAGE LABEL 1

F4P 208V 0328-4814 4"X1" 208 VOLTAGE MARKER 1

F4P 240V 0328-4817 4"X1" 240 VOLTAGE MARKER 1

F4P 480V 0328-4820 4"X1" 480 VOLTAGE MARKER 1

F4P 480V-2X9 0328-4823 2" X 9" 480V VOLTAGE MARKER 1

F4P 120-208V-2X9 0328-4826 2" X 9" 120/208V VOLTAGE MARKER 1

F4P 277-480V-2X9 0328-4829 2" X 9" 277/408V VOLTAGE MARKER 1

PART # STOCK CODE DESCRIPTION PER

LUBRICANTS

BUSTER 0013-4287 PENETRATING LUBRICANT 15OZ SPRAY *OBSOLETE* 1

F4P CUT OIL QT 0314-3835 QUART SYNTHETIC CUTTING FLUID CLEAR 1

F4P CUT OIL GL 0320-7666 GALLON SYNTH. CUTTING FLUID CLEAR 1

F4P EZP-32 0346-2552 WIRE LUBE QUART SQUEEZE BOTTLE 1

F4P EZP-1 0346-2555 WIRE LUBE GALLON SIZE 1

F4P EZP-5 0346-2558 WIRE LUBE 5 GALLON SIZE 1

PART # STOCK CODE DESCRIPTION PER

ANCHOR KITS

F4P STORM KIT 0533-4402 HURRICANE FASTENER KIT 1

F4P HEXANC 0009-9625 10X1 HEX HEAD SCREW W/ BLUE PLASTIC PLUGS/100PCS 1

F4P HEXANC-B 0348-0387 10X1 HEX SCREW + BLUE ANC W/ BIT 1

F4P NYLZIP 0235-2156 F4P ZIP NYLON ANCHOR KIT - 50 PCS COUNT 1

F4P PANANC 0009-9628 10X1 PAN HEAD SCREW W/ BLUE PLASTIC PLUGS/100PCS 1

F4P PANANC-B 0348-0402 10X1 HEX SCREW + BLUE ANC W/ BIT 1

F4P ZINZIP 0235-2153 F4P ZIP ZINC ANCHOR KIT - 50PCS COUNT 1

PART # STOCK CODE DESCRIPTION PER

SLA BATTERIES

F4P 0645 0287-1591 EMERGENCY LIGHT BATTERY 6VOLT 4.5AMP - LEAD ACID 1

F4P 1270 0287-1594 EMERGENCY LIGHT BATTERY 12VOLT 7AMP - LEAD ACID 1

F4P 0607 0330-8433 SLA BATTERY 6 VOLT 7 AH 1

F4P 0612 0314-4498 SLA BATTERY 6 VOLT 12 AH 1

F4P 1212 0330-8436 SLA BATTERY 12 VOLT 12 AH 1

F4P PIWC-2

F4P WM A-Z, 0-15

F4P ARC FLASH

F4P 120V

F4P CUT OIL QT

F4P HEXANC

F4P 1270



WWW.F4P-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.F4P-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

ALKALINE BATTERIES

RAYOVAC 941C 0358-0356 RAYOVAC 6VOLT SPRING TOP INDUSTRIAL BATTERY 1

F4P AL-AA 0485-6289 F4P AA BATTERY 1

F4P AL-AAA 0485-6292 F4P AAA BATTERY 1

F4P AL-9V 0485-6193 F4P 9V BATTERY 1

F4P AL-C 0485-6295 F4P C BATTERY 1

F4P AL-D 0485-6298 F4P D BATTERY 1

62 63

PART # STOCK CODE DESCRIPTION PER

THREADED ROD

F4P ROD12-10 0362-9073 1/2-13 X 10FT THREADED ROD 1

F4P ROD12-6 0362-9070 1/2-13 X 6FT THREADED ROD 1

F4P ROD12-6SS 0362-9214 1/2-13 X 6FT STAINLESS THREAD ROD 1

F4P ROD14-10 0362-9061 1/4-20 X 10FT THREADED ROD 1

F4P ROD14-6 0362-9058 1/4-20 X 6FT THREADED ROD 1

F4P ROD14-6SS 0362-9208 1/4-20 X 6FT STAINLESS THREAD ROD 1

F4P ROD38-10 0362-9067 3/8-16 X 10FT THREADED ROD 1

F4P ROD38-6 0362-9064 3/8-16 X 6FT THREADED ROD 1

F4P ROD38-6SS 0362-9211 3/8-16 X 6FT STAINLESS THREAD ROD 1

PART # STOCK CODE DESCRIPTION PER

CAT-A-PILLAR

CESCAT25 0352-5612 CATAPILLAR DEVICE SPCR 25 CT JAR 1

CESCAT100 0352-5618 CATAPILLAR DEVICE SPCR 100 CT BOX 1

PART # STOCK CODE DESCRIPTION PER

DRILL BITS

TP87186 0240-6861 DRILL & TAP COMBO - TUBE PACK 6/32 1

TP87188 0240-6864 DRILL & TAP COMBO - TUBE PACK 8/32 1

TP87194 0240-6873 DRILL & TAP COMBO - TUBE PACK 1/4-20 1

TP3918 0549-8763 ROTARY STRAIGHT SHANK MASONRY DRILL - TUBE PACK 3/16 X 3 1

TP9706 0243-0348 ROTARY STRAIGHT SHANK MASONRY DRILL - TUBE PACK 3/16 X 3-12 1

TP9708 0243-0351 ROTARY STRAIGHT SHANK MASONRY DRILL - TUBE PACK 1/4 X 4 1

TP9852 0240-6879 ROTARY STRAIGHT SHANK MASONRY DRILL - TUBE PACK 1/4 X 6 1

TP9712 0240-6882 ROTARY STRAIGHT SHANK MASONRY DRILL - TUBE PACK 5/16 X 4 1

TP9714 0243-0354 ROTARY STRAIGHT SHANK MASONRY DRILL - TUBE PACK 3/8 X 6 1

TP9720 0255-8220 ROTARY STRAIGHT SHANK MASONRY DRILL - TUBE PACK 1/2 X 6 1

TPHSD135-18 0243-0330 135 DEGREE HIGH SPEED DRILL - TUBE PACK - 3 PER 1/8 1

TPHSD135-316 0243-0333 135 DEGREE HIGH SPEED DRILL - TUBE PACK - 2 PER 3/16 1

TPHSD135-14 0243-0336 135 DEGREE HIGH SPEED DRILL - TUBE PACK - 2 PER 40182 1

TPHSD135-516 0243-0339 135 DEGREE HIGH SPEED DRILL - TUBE PACK 40314 1

TPHSD135-38 0243-0342 135 DEGREE HIGH SPEED DRILL - TUBE PACK 40245 1

TPHSD135-12 0243-0345 135 DEGREE HIGH SPEED DRILL - TUBE PACK 40180 1

250PB2 0211-9155 PHILLIPS BIT TIP - 10 PER BOX #2 X 1 1

TP302P 0243-0318 PHILLIPS INSERT BIT TIP - TUBE PACK #2 X 2 1

TP362P 0243-0327 PHILLIPS INSERT BIT TIP - TUBE PACK #2 X 6 1

TPMSHL14 0243-0312 MAGNETIC HEX CHUCK - TUBE PACK 1/4 X 2-9/16 1

TPMSHL14-6 0253-1979 MAGNETIC HEX CHUCK - TUBE PACK 1/4 X 6 1

TPMSHL516 0243-0357 MAGNETIC HEX CHUCK - TUBE PACK 5/16 X 2-9/16 1

TPMSHL516-4 0243-0315 MAGNETIC HEX CHUCK - TUBE PACK 5/16 X 4 1

TPMSHL516-6 0446-0856 MAGNETIC HEX CHUCK - TUBE PACK 5/16 X 6 1

TPMSHL38 0243-0360 MAGNETIC HEX CHUCK - TUBE PACK 3/8 X 2-9/16 1

TPSDS-14X6 0243-0387 SDS HAMMER DRILL 1/4 X 6 1

TPSDS-38X6 0243-0381 SDS HAMMER DRILL 3/8 X 6 1

TPSDS-12X6 0243-0384 SDS HAMMER DRILL 1/2 X 6 1

PART # STOCK CODE DESCRIPTION PER

STAPLES

F4P S100-100 0318-8829 #100 STEEL STAPLE 100 CT JAR 1

F4P S100-500 0318-8832 #100 STEEL STAPLE 500 CT JAR 1

F4P S100-5K 0318-8835 #100 STEEL STAPLE 5000 CT BUCKET 1

F4P S125-100 0318-8838 #125 STEEL STAPLE 100 CT JAR 1

F4P S125-500 0318-8841 #125 STEEL STAPLE 500 CT JAR 1

F4P S125-5K 0318-8844 #125 STEEL STAPLE 5000 CT BUCKET 1

F4P S131-100 0318-8823 #131 STEEL STAPLE 100 CT JAR 1

F4P S141-100 0318-8826 #141 STEEL STAPLE 100 CT JAR 1

F4P SPI100-100 0318-8847 #100 PLASTIC INSULATED STEEL STAPLE 100 CT JAR 1

F4P SPI100-5K 0318-8850 #100 PLASTIC INSULATED STEEL STAPLE 5000 CT BUCKET 1

P1005M 0212-1017 #100 STAPLE 5,000CT PAIL 1

P125-5M 0212-1086 #125 STAPLE 5,000CT 1

F4P J4100J 0545-2419 #6 PLASTIC SER STAPLE 50CT JAR 1

F4P J4300J 0545-2422 #2 PLASTIC SER STAPLE 25CT JAR 1

F4P J4400J 0545-2425 #2 PLASTIC SEU STAPLE 25CT JAR 1

F4P J4500J 0545-2428 4/0 PLASTIC SEU STAPLE 25CT JAR 1

F4P J4600J 0545-2431 4/0 PLASTIC SEU STAPLE 15CT JAR 1

F4P AL-AA

CESCAT25

TPSDS-14X6

TPHSD135-14

TPMSHL38

THREADED ROD

F4P SPI100-100

F4P J4100J

PART # STOCK CODE DESCRIPTION PER

KICK PLATES

WI KP16S 0582-4170 F4P 16GA SMALL 2.5" KICK PLATES 100 CT BOX 100

WI KP16L 0279-7437 F4P 16GA LARGE 6" KICK PLATES 100 CT BOX 100

F4P KP3.5-6-T 0320-4039 3.5" X 6" KICK PLATE W/ TEETH 16 GA 100

F4P KP3.5-6 0320-4042 3.5" X 6" KICK PLATE 16 GA 100

F4P KP3.5-18 0320-4048 3.5" X 18" KICK PLATE 16 GA 100

F4P KP5-18F 0322-8945 5" X 18" KICK PLATE 16 FRISCO 100

F4P KP6-8 0328-7559 16 GA 6" X 8" PROTECT PLATE 8 HOLE 100

FHA-18 0212-9922 18" FHA STRAP 1

FHA-3-18 0212-9925 3"X18" FHA STRAP 1

KICKPLATE



WWW.F4P-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.F4P-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

SCREWS

TWG 0213-3975 TIE WIRE HOT DIP GALVANIZED - 20 PER CASE 1

CES143 0327-6924 HAMMER DRIVE PIN 1

CES8X12HWHSTSZJ 0210-9369 100 HEX WASHER HEAD TAPPING SCREW 8 X 1/2 1

CES8X34HWHSTSZJ 0210-9372 100 HEX WASHER HEAD TAPPING SCREW 8 X 3/4 1

CES8X1HWHSTSZJ 0210-9375 100 HEX WASHER HEAD TAPPING SCREW 8 X 1 1

CES8X114HWHSTSZJ 0210-9378 100 HEX WASHER HEAD TAPPING SCREW 8 X 1-1/4 1

CES8X112HWHSTSZJ 0210-9381 100 HEX WASHER HEAD TAPPING SCREW 8 X 1-1/2 1

CES8X2HWHSTSZJ 0210-9384 100 HEX WASHER HEAD TAPPING SCREW 8 X 2 1

CES10X12HWHSTSZJ 0210-9387 100 HEX WASHER HEAD TAPPING SCREW 10 X 1/2 1

CES10X34HWHSTSZJ 0210-9390 100 HEX WASHER HEAD TAPPING SCREW 10 X 3/4 1

CES10X1HWHSTSZJ 0210-9393 100 HEX WASHER HEAD TAPPING SCREW 10 X 1/2 1

CES10X114HWHSTSZJ 0210-9396 100 HEX WASHER HEAD TAPPING SCREW 10 X 1-1/4 1

CES10X112HWHSTSZJ 0210-9399 100 HEX WASHER HEAD TAPPING SCREW 10 X 1-1/2 1

CES10X2HWHSTSZJ 0210-9402 100 HEX WASHER HEAD TAPPING SCREW 10 X 2 1

CES10X212HWHSTSZJ 0210-9405 100 HEX WASHER HEAD TAPPING SCREW 10 X 2/1/2 1

CES10X3HWHSTSZJ 0210-9408 100 HEX WASHER HEAD TAPPING SCREW 10 X 3 1

CES12X12HWHSTSZJ 0210-9411 100 HEX WASHER HEAD TAPPING SCREW 12 X 1/2 1

CES12X34HWHSTSZJ 0210-9414 100 HEX WASHER HEAD TAPPING SCREW 12 X 3/4 1

CES12X1HWHSTSZJ 0210-9417 100 HEX WASHER HEAD TAPPING SCREW 12 X 1 1

CES12X114HWHSTSZJ 0210-9420 100 HEX WASHER HEAD TAPPING SCREW 12 X 1-1/4 1

CES12X112HWHSTSZJ 0210-9423 100 HEX WASHER HEAD TAPPING SCREW 12 X 1-1/2 1

CES12X2HWHSTSZJ 0210-9426 100 HEX WASHER HEAD TAPPING SCREW 12 X 2 1

CES12X212HWHSTSZJ 0210-9429 100 HEX WASHER HEAD TAPPING SCREW 12 X 2-1/2 1

CES12X3HWHSTSZJ 0210-9432 100 HEX WASHER HEAD TAPPING SCREW 12 X 3 1

CES14X12HWHSTSZJ 0210-9435 100 HEX WASHER HEAD TAPPING SCREW 14 X 1/2 1

CES14X1HWHSTSZJ 0210-9438 100 HEX WASHER HEAD TAPPING SCREW 14 X 1 1

CES14X114HWHSTSZJ 0210-9441 100 HEX WASHER HEAD TAPPING SCREW 14 X 1-1/4 1

CES14X112HWHSTSZJ 0210-9444 100 HEX WASHER HEAD TAPPING SCREW 14 X 1-1/2 1

CES14X2HWHSTSZJ 0318-8499 0318-8499 #14 X 2 HEX WASH HEAD TAP SCRW 1

CES14X3HWHSTSZJ 0273-9858 50 HEX WASHER HEAD TAPPING SCREW 14 X 3 1

CES10X1HWHSTSSSJ 0285-0558 100 HEX WASHER HEAD SLOT TAPPING SCREW 18-8 SS 10X1 1

CESHWHKIT 0257-4726 HWH TAPPING SCREW ASSORTMENT KIT 1

CES6X12PHCTSZJ 0210-9447 100 PAN HEAD COMBO TAPPING SCREW 6 X 1/2 1

CES6X34PHCTSZJ 0210-9450 100 PAN HEAD COMBO TAPPING SCREW 6 X 3/4 1

CES6X1PHCTSZJ 0210-9453 100 PAN HEAD COMBO TAPPING SCREW 6 X 1 1

CES6X114PHCTSZJ 0210-9456 100 PAN HEAD COMBO TAPPING SCREW 6 X 1-1/4 1

CES6X112PHCTSZJ 0210-9459 100 PAN HEAD COMBO TAPPING SCREW 6 X 1-1/2 1

CES6X2PHCTSZJ 0273-9837 100 PAN HEAD COMBO TAPPING SCREW 6 X 2 1

CES8X12PHCTSZJ 0210-9462 100 PAN HEAD COMBO TAPPING SCREW 8 X 1/2 1

CES8X34PHCTSZJ 0210-9465 100 PAN HEAD COMBO TAPPING SCREW 8 X 3/4 1

CES8X1PHCTSZJ 0210-9468 100 PAN HEAD COMBO TAPPING SCREW 8 X 1 1

CES8X114PHCTSZJ 0210-9471 100 PAN HEAD COMBO TAPPING SCREW 8 X 1-1/4 1

CES8X112PHCTSZJ 0210-9474 100 PAN HEAD COMBO TAPPING SCREW 8 X 1-1/2 1

CES8X2PHCTSZJ 0210-9477 100 PAN HEAD COMBO TAPPING SCREW 8 X 2 1

CES10X12PHCTSZJ 0210-9480 100 PAN HEAD COMBO TAPPING SCREW 10 X 1/2 1

CES10X12PHPTSSSJ 0373-1010 100 PAN HEAD PHILLIP TAPPING SCREW 10 X 1/2 - STAINLESS 1

CES10X34PHCTSZJ 0210-9483 100 PAN HEAD COMBO TAPPING SCREW 10 X 3/4 1

CES10X1PHCTSZJ 0210-9486 100 PAN HEAD COMBO TAPPING SCREW 10 X 1 1

64 65

PART # STOCK CODE DESCRIPTION PER

SCREWS

CES10X114PHCTSZJ 0210-9489 100 PAN HEAD COMBO TAPPING SCREW 10 X 1-1/4 1

CES10X112PHCTSZJ 0210-9492 100 PAN HEAD COMBO TAPPING SCREW 10 X 1-1/2 1

CES10X2PHCTSZJ 0210-9495 100 PAN HEAD COMBO TAPPING SCREW 10 X 2 1

CES12X12PHCTSZJ 0210-9498 100 PAN HEAD COMBO TAPPING SCREW 12 X 1/2 1

CES12X34PHCTSZJ 0210-9501 100 PAN HEAD COMBO TAPPING SCREW 12 X 3/4 1

CES12X1PHCTSZJ 0210-9504 100 PAN HEAD COMBO TAPPING SCREW 12 X 1 1

CES12X114PHCTSZJ 0210-9507 100 PAN HEAD COMBO TAPPING SCREW12 X 1-1/4 1

CES12X112PHCTSZJ 0210-9510 100 PAN HEAD COMBO TAPPING SCREW 12 X 1-1/2 1

CES12X2PHCTSZJ 0210-9513 100 PAN HEAD COMBO TAPPING SCREW 12 X 2 1

CES12X3PHCTSZJ 0222-6486 100 PAN HEAD COMBO TAPPING SCREW 12 X 3 1

CES8X34PHSQTSZJ 0210-9519 100 PAN HEAD SQUARE DRIVE TAPPING SCREW 8 X 3/4 1

CES8X1PHSQTSZJ 0210-9522 100 PAN HEAD SQUARE DRIVE TAPPING SCREW 8 X 1 1

CES8X112PHSQTSZJ 0210-9525 100 PAN HEAD SQUARE DRIVE TAPPING SCREW 8 X 1-1/2 1

CES8X2PHSQTSZJ 0273-9843 100 PAN HEAD SQUARE DRIVE TAPPING SCREW 8 X 2 1

CES10X12PHSQTSZJ 0255-0840 100 PAN HEAD SQUARE DRIVE TAPPING SCREW 10 X 1/2 1

CES10X34PHSQTSZJ 0210-9528 100 PAN HEAD SQUARE DRIVE TAPPING SCREW 10 X 3/4 1

CES10X1PHSQTSZJ 0210-9531 100 PAN HEAD SQUARE DRIVE TAPPING SCREW 10 X 1 1

CES10X114PHSQTSZJ 0210-9534 100 PAN HEAD SQUARE DRIVE TAPPING SCREW 10 X 1-1/4 1

CES10X112PHSQTSZJ 0210-9537 100 PAN HEAD SQUARE DRIVE TAPPING SCREW 10 X 1-1/2 1

CES10X2PHSQTSZJ 0210-9540 100 PAN HEAD SQUARE DRIVE TAPPING SCREW 10 X 2 1

CES12X12PHSQTSZJ 0244-1376 100 PAN HEAD SQUARE DRIVE TAPPING SCREW 12 X 1/2 1

CES12X34PHSQTSZJ 0244-1379 100 PAN HEAD SQUARE DRIVE TAPPING SCREW 12 X 3/4 1

CES12X1PHSQTSZJ 0210-9543 100 PAN HEAD SQUARE DRIVE TAPPING SCREW 12 X 1 1

CES12X114PHSQTSZJ 0210-9546 100 PAN HEAD SQUARE DRIVE TAPPING SCREW 12 X 1-1/4 1

CES12X112PHSQTSZJ 0210-9549 100 PAN HEAD SQUARE DRIVE TAPPING SCREW 12 X 1-1/2 1

CES12X2PHSQTSZJ 0244-1373 100 PAN HEAD SQUARE DRIVE TAPPING SCREW 12 X 2 1

CES10X34PHSQTSSSJ 0249-0012 100 PAN HEAD SQUARE DRIVE TAPPING SCREW STAINLESS 10 X 3/4 1

CES10X1PHSQTSSSJ 0249-0015 100 PAN HEAD SQUARE DRIVE TAPPING SCREW STAINLESS 10 X 1 1

CES10X114PHSQTSSSJ 0249-0018 100 PAN HEAD SQUARE DRIVE TAPPING SCREW STAINLESS 10 X 1-1/4 1

CES10X112PHSQTSSSJ 0249-0021 100 PAN HEAD SQUARE DRIVE TAPPING SCREW STAINLESS 10 X 1-1/2 1

CES10X2PHSQTSSSJ 0249-0024 100 PAN HEAD SQUARE DRIVE TAPPING SCREW STAINLESS 10 X 2 1

CES632X38RHSMSZJ 0210-9552 100 ROUND HEAD COMBO MACHINE SCREW 6/32 X 3/8 1

CES632X12RHCMSZJ 0210-9555 100 ROUND HEAD COMBO MACHINE SCREW 6/32 X 1/2 1

CES632X34RHCMSZJ 0210-9558 100 ROUND HEAD COMBO MACHINE SCREW 6/32 X 3/4 1

CES632X1RHCMSZJ 0210-9561 100 ROUND HEAD COMBO MACHINE SCREW 6/32 X 1 1

CES632X114RHCMSZJ 0210-9564 100 ROUND HEAD COMBO MACHINE SCREW 6/32 X 1-1/4 1

CES632X112RHCMSZJ 0210-9567 100 ROUND HEAD COMBO MACHINE SCREW 6 32 X 1-1/2 1

CES632X2RHCMSZJ 0210-9570 100 ROUND HEAD COMBO MACHINE SCREW 6/32 X 2 1

CESPC632X2RHCMSZB 0440-2251 6,000 ROUND HEAD COMBO MACHINE SCREW 6/32 X 2 1

CES632X212RHSMSZJ 0382-7727 100 ROUND HEAD COMBO MACHINE SCREW 6/32 X 2-1/2 1

CES632X3RHSMSZJ 0210-9573 100 ROUND HEAD COMBO MACHINE SCREW 6/32 X 3 1

CES832X12RHCMSZJ 0210-9576 100 ROUND HEAD COMBO MACHINE SCREW 8/32 X 1/2 1

CES832X34RHCMSZJ 0210-9579 100 ROUND HEAD COMBO MACHINE SCREW 8/32 X 3/4 1

CES832X1RHCMSZJ 0210-9582 100 ROUND HEAD COMBO MACHINE SCREW 8/32 X 1 1

CES832X114RHCMSZJ 0210-9585 100 ROUND HEAD COMBO MACHINE SCREW 8/32 X 1-1/4 1

CES832X112RHCMSZJ 0210-9588 100 ROUND HEAD COMBO MACHINE SCREW 8/32 X 1-1/2 1

CES832X2RHCMSZJ 0210-9591 100 ROUND HEAD COMBO MACHINE SCREW 8/32 X 2 1

CESPC832X2RHCMSZB 0440-2254 4,000 ROUND HEAD COMBO MACHINE SCREW 8/32 X 2 1

PAN HEAD SQUARE DRIVE  
TAPPING SCREW

ROUND HEAD COMBO 
 MACHINE SCREW

 WASHER HEAD  
TAPPING SCREW

CESHWHKIT

PAN HEAD COMBO  
TAPPING SCREW

TWG



WWW.F4P-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.F4P-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

SCREWS

CES832X212RHCMSZJ 0210-9594 100 ROUND HEAD COMBO MACHINE SCREW 8/32 X 2-1/2 1

CES832X3RHCMSZJ 0210-9597 100 ROUND HEAD COMBO MACHINE SCREW 8/32 X 3 1

CES1024X12RHCMSZJ 0210-9600 100 ROUND HEAD COMBO MACHINE SCREW 10/24 X 1/2 1

CES1024X34RHCMSZJ 0210-9603 100 ROUND HEAD COMBO MACHINE SCREW 10/24 X 3/4 1

CES1024X1RHCMSZJ 0210-9606 100 ROUND HEAD COMBO MACHINE SCREW 10/24 X 1 1

CES1024X114RHSMSZJ 0210-9609 100 ROUND HEAD COMBO MACHINE SCREW 10/24 X 1-1/4 1

CES1024X112RHCMSZJ 0210-9612 100 ROUND HEAD COMBO MACHINE SCREW 10/24 X 1-1/2 1

CES1024X2RHSMSZJ 0210-9615 100 ROUND HEAD COMBO MACHINE SCREW 10/24 X 2 1

CES1032X12RHSMSZJ 0210-9618 100 ROUND HEAD COMBO MACHINE SCREW 10/32 X 1/2 1

CES1032X34RHSMSZJ 0210-9621 100 ROUND HEAD COMBO MACHINE SCREW 10/32 X 3/4 1

CES1032X1RHCMSZJ 0210-9624 100 ROUND HEAD COMBO MACHINE SCREW 10/32 X 1 1

CES1032X114RHSMSZJ 0210-9627 100 ROUND HEAD COMBO MACHINE SCREW 10/32 X 1-1/4 1

CES1032X112RHCMSZJ 0210-9630 100 ROUND HEAD COMBO MACHINE SCREW 10/32 X 1-1/2 1

CES1032X2RHCMSZJ 0210-9633 100 ROUND HEAD COMBO MACHINE SCREW 10/32 X 2 1

CES14X38RHCMSZJ 0210-9636 100 ROUND HEAD COMBO MACHINE SCREW 1/4 X 3/8 1

CES14X12RHCMSZJ 0210-9639 100 ROUND HEAD COMBO MACHINE SCREW 1/4 X 1/2 1

CES14X34RHCMSZJ 0210-9642 100 ROUND HEAD COMBO MACHINE SCREW 1/4 X 3/4 1

CES14X1RHCMSZJ 0210-9645 100 ROUND HEAD COMBO MACHINE SCREW 1/4 X 1 1

CES14X114RHCMSZJ 0210-9648 100 ROUND HEAD COMBO MACHINE SCREW 1/4 X 1-1/4 1

CES14X112RHCMSZJ 0210-9651 100 ROUND HEAD COMBO MACHINE SCREW 1/4 X 1-1/2 1

CES14X2RHCMSZJ 0210-9654 100 ROUND HEAD COMBO MACHINE SCREW 1/4 X 2 1

CES14X212RHCMSZJ 0210-9657 100 ROUND HEAD COMBO MACHINE SCREW 1/4 X 2-1/2 1

CES14X3RHCMSZJ 0210-9660 100 ROUND HEAD COMBO MACHINE SCREW 1/4 X 3 1

CES38X1RHSMSZJ 0210-9663 100 ROUND HEAD COMBO MACHINE SCREW3/8 X 1 1

66 67

PART # STOCK CODE DESCRIPTION PER

FASTENERS

CES632X1FHPMSZJ 0241-0020 100 FLAT HEAD PHILLIP MACHINE SCREW ZINC 6/32 X 1 1

CES632X114FHPMSZJ 0241-0023 100 FLAT HEAD PHILLIP MACHINE SCREW ZINC 6/32 X 1-1/4 1

CES632X112FHPMSZJ 0241-0026 100 FLAT HEAD PHILLIP MACHINE SCREW ZINC 6/32 X 1-1/2 1

CES632X2FHPMSZJ 0222-6489 100 FLAT HEAD PHILLIP MACHINE SCREW ZINC 6/32 X 2 1

CES632X212FHPMSZJ 0255-0855 100 FLAT HEAD PHILLIP MACHINE SCREW ZINC 6/32 X 2-1/2 1

CES632X3FHPMSZJ 0240-5883 100 FLAT HEAD PHILLIP MACHINE SCREW ZINC 6/32 X 3 1

CES832X1FHPMSZJ 0240-5886 100 FLAT HEAD PHILLIP MACHINE SCREW ZINC 8/32 X 1 1

CES1DSJ 0210-9693 100 BUGLE PHILLIP COARSE DRYWALL SCREW BLACK 6 X 1 1

CES118DSJ 0210-9696 100 BUGLE PHILLIP COARSE DRYWALL SCREW BLACK 6 X 1-1/8 1

CES114DSJ 0210-9699 100 BUGLE PHILLIP COARSE DRYWALL SCREW BLACK 6 X 1-1/4 1

CES158DSJ 0210-9702 100 BUGLE PHILLIP COARSE DRYWALL SCREW BLACK 6 X 1-5/8 1

CES2DSJ 0210-9705 100 BUGLE PHILLIP COARSE DRYWALL SCREW BLACK 6 X 2 1

CES214DSJ 0210-9708 100 BUGLE PHILLIP COARSE DRYWALL SCREW BLACK 8 X 2-1/4 1

CES212DSJ 0210-9711 100 BUGLE PHILLIP COARSE DRYWALL SCREW BLACK 8 X 2-1/2 1

CES3DSJ 0210-9714 100 BUGLE PHILLIP COARSE DRYWALL SCREW BLACK 8 X 3 1

CESDSKIT 0257-4720  SCREW ASSORTMENT KIT 1

CES1DSYZJ 0273-9870 100 BUGLE PHILLIP DRYWALL SCREW YELLOW ZINC 6 X 1 1

CES114DSYZJ 0255-0858 100 BUGLE PHILLIP DRYWALL SCREW YELLOW ZINC 6 X 1-1/4 1

CES158DSYZJ 0255-0861 100 BUGLE PHILLIP DRYWALL SCREW YELLOW ZINC 6 X 1-5/8 1

CES2DSYZJ 0255-0864 100 BUGLE PHILLIP DRYWALL SCREW YELLOW ZINC 6 X 2 1

CES6X12FHPTSZJ 0314-3133 100 FLAT HEAD PHILLIP SHARP POINT TAPPING SCREW 6 X 1/2 1

CES8X12WHPSPTSZJ 0250-0353 100 WAFER PHILLIP SHARP POINT TAPPING SCREW 8 X 1/2 1

CES8X12WHPSPTS5C 0255-0867 500 WAFER PHILLIP SHARP POINT TAPPING SCREW 8 X 1/2 1

CES8X34WHPSPTSZJ 0250-0356 100 WAFER PHILLIP SHARP POINT TAPPING SCREW 8 X 3/4 1

CES8X34WHPSPTS5C 0345-8013 500 WAFER PHILLIP SHARP POINT TAPPING SCREW 8 X 3/4 1

CES8X1WHPSPTSZJ 0255-0870 100 WAFER PHILLIP SHARP POINT TAPPING SCREW 8 X 1 1

CESP812WHPSPTSZ 0362-6727 8X1/2 WAFER SHARP PT SCRW 10K CT 1

CES8X12WHPSDSJ 0210-9717 100 WAFER PHILLIP SELF DRILL SCREW 8 X 1/2 1

CES8X12WHPSDS5C 0255-0873 500 WAFER PHILLIP SELF DRILL SCREW 8 X 1/2 1

CES8X34WHPSDSJ 0210-9720 100 WAFER PHILLIP SELF DRILL SCREW 8 X 3/4 1

CES8X34WHPSDS5C 0245-8092 500 WAFER PHILLIP SELF DRILL SCREW 8 X 3/4 1

CES8X1WHPSDSJ 0210-9723 100 WAFER PHILLIP SELF DRILL SCREW 8 X 1/2 1

CES8X114WHPSDSJ 0210-9726 100 WAFER PHILLIP SELF DRILL SCREW 8 X 1-1/4 1

CESWAFERKIT 0257-4729 WAFER PHIL SELF DRILL ASSORTMENT KIT 1

CES8X12HTJ 0210-9729 100 HEX WASHER HEAD SELF DRILL SCREW 8 X 1/2 1

CES8X34HTJ 0210-9732 100 HEX WASHER HEAD SELF DRILL SCREW 8 X 3/4 1

CES8X1HTJ 0210-9735 100 HEX WASHER HEAD SELF DRILL SCREW 8 X 1 1

CES8X114HTJ 0210-9738 100 HEX WASHER HEAD SELF DRILL SCREW 8 X 1-1/4 1

CES8X112HTJ 0210-9741 100 HEX WASHER HEAD SELF DRILL SCREW 8 X 1-1/2 1

CES8X2HTJ 0210-9744 100 HEX WASHER HEAD SELF DRILL SCREW 8 X 2 1

CES10X12HTJ 0210-9747 100 HEX WASHER HEAD SELF DRILL SCREW 10 X 1/2 1

CESPC1012HTM 0320-5056 1000 HEX WASHER HEAD SELF DRILL SCREW 10 X 1/2 1

CES10X34HTJ 0210-9750 100 HEX WASHER HEAD SELF DRILL SCREW 10 X 3/4 1

CES10X1HTJ 0210-9753 100 HEX WASHER HEAD SELF DRILL SCREW 10 X 1 1

CES10X114HTJ 0210-9756 100 HEX WASHER HEAD SELF DRILL SCREW 10 X 1-1/4 1

CES10X114HTSS 0423-5388 100 HEX WASHER HEAD SELF DRILL SCREW 10 X 1-1/4 - STAINLESS 1

CES10X112HTJ 0210-9759 100 HEX WASHER HEAD SELF DRILL SCREW 10 X 1-1/2 1

CES10X2HTJ 0210-9762 100 HEX WASHER HEAD SELF DRILL SCREW 10 X 2 1

PART # STOCK CODE DESCRIPTION PER

FASTENERS

CES38X34RHSMSZJ 0358-7850 3/8 X 3/4 ROUND SLOT MS ZINC 1

CES38X114RHSMSZJ 0358-7844 3/8 X 1-1/4 ROUND SLOT MS ZINC 1

CES38X112RHSMSZJ 0358-7835 3/8 X 1-1/2 ROUND SLOT MS 1

CES38X2RHSMSZJ 0381-8091 3/8 X 2 ROUND SLOT MS - ZINC 1

CES632X12FHSMSZJ 0210-9666 100 FLAT HEAD SLOT MACHINE SCREW 6/32 X 1/2 1

CES632X34FHSMSZJ 0210-9669 100 FLAT HEAD SLOT MACHINE SCREW 6/32 X 3/4 1

CES632X1FHSMSZJ 0210-9672 100 FLAT HEAD SLOT MACHINE SCREW 6/32 X 1 1

CES632X114FHSMSZJ 0210-9675 100 FLAT HEAD SLOT MACHINE SCREW 6/32 X 1-1/4 1

CES632X112FHSMSZJ 0210-9678 100 FLAT HEAD SLOT MACHINE SCREW 6/32 X 1-1/2 1

CES632X2FHSMSZJ 0210-9681 100 FLAT HEAD SLOT MACHINE SCREW 6/32 X 2 1

CES632X212FHSMSZJ 0210-9684 100 FLAT HEAD SLOT MACHINE SCREW 6/32 X 2-1/2 1

CES632X3FHSMSZJ 0210-9687 100 FLAT HEAD SLOT MACHINE SCREW 6/32 X 3 1

CES832X2FHSMSZJ 0210-9690 100 FLAT HEAD SLOT MACHINE SCREW 8/32 X 2 1

CES832X3FHSMSZJ 0273-9867 100 FLAT HEAD SLOT MACHINE SCREW 8/32 X 3 1

CES1024X14PHSMSSSJ 0371-9547 10-24X1/4 PAN SLOT M/S STAINLESS 1

CES1024X12PHSMSSSJ 0371-9544 10-24X1/2 PAN SLOT M/S STAINLESS 1

CES632X12FHPMSZJ 0241-0014 100 FLAT HEAD PHILLIP MACHINE SCREW ZINC 6/32 X 1/2 1

CES632X34FHPMSZJ 0241-0017 100 FLAT HEAD PHILLIP MACHINE SCREW ZINC 6/32 X 3/4 1

ROUND HEAD COMBO 
 MACHINE SCREW

FLAT HEAD SLOT  
MACHINE SCREW

FLAT HEAD PHILLIP  
MACHINE SCREW ZINC

CESDSKIT

BUGLE PHILLIP COARSE  
DRYWALL SCREW BLACK 

WAFER PHILLIP SHARP POINT  
TAPPING SCREW

WAFER PHILLIP SELF 
 DRILL SCREW

HEX WASHER HEAD SELF  
DRILL SCREW



WWW.F4P-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.F4P-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

FASTENERS

CES12X34HTJ 0210-9765 100 HEX WASHER HEAD SELF DRILL SCREW 12 X 3/4 1

CES12X1HTJ 0210-9768 100 HEX WASHER HEAD SELF DRILL SCREW 12 X 1 1

CES12X114HTJ 0210-9771 100 HEX WASHER HEAD SELF DRILL SCREW 12 X 1-1/4 1

CES12X112HTJ 0210-9774 100 HEX WASHER HEAD SELF DRILL SCREW 12 X 1-1/2 1

CES12X2HTJ 0210-9777 100 HEX WASHER HEAD SELF DRILL SCREW12 X 2 1

CES12X3HTJ 0222-6492 100 HEX WASHER HEAD SELF DRILL SCREW 12 X 3 1

CES14X34HTJ 0210-9780 100 HEX WASHER HEAD SELF DRILL SCREW 14 X 3/4 1

CES14X1HTJ 0210-9783 100 HEX WASHER HEAD SELF DRILL SCREW 14 X 1 1

CES14X112HTJ 0210-9786 100 HEX WASHER HEAD SELF DRILL SCREW 14 X 1-1/2 1

CES14X212HTJ 0240-5880 100 HEX WASHER HEAD SELF DRILL SCREW 14 X 2-1/2 1

CES1224X2HTJ 0391-2225 100 HEX WASHER HEAD SELF DRILL SCREW 10/24 X 2 1

CESTEKKIT 0257-4723 SELF DRILL SCREW ASSORTMENT KIT 1

CES8X1HTSSJ 0361-9062 8X1 HWH SELF DRILL SCR STAINLESS 1

CES8X12PHPTSSSJ 0373-0995 100 PAN PHILLIPS SELF DRILL SCREW 8 X 1/2  - STAINLESS 1

CES8X12PHPTJ 0240-2103 100 PAN PHILLIP SELF DRILL SCREW 8 X 1/2 1

CES8X34PHPTJ 0240-2106 100 PAN PHILLIP SELF DRILL SCREW 8 X 3/4 1

CES8X1PHPTJ 0240-2109 100 PAN PHILLIP SELF DRILL SCREW 8 X 1 1

CES10X12PHPTJ 0255-0879 100 PAN PHILLIP SELF DRILL SCREW 10 X 1/2 1

CES10X34PHPTJ 0240-2112 100 PAN PHILLIP SELF DRILL SCREW 10 X 3/4 1

CES10X1PHPTJ 0222-6495 100 PAN PHILLIP SELF DRILL SCREW 10 X 1 1

CES10X112PHPTJ 0255-0885 100 PAN PHILLIP SELF DRILL SCREW 10 X 1-1/2 1

CESPHCKIT 0358-7817 PAN SHEET METAL SCREW ASSORT KIT 1

CES1224X114HTJ 0244-6734 100 HEX WASHER HEAD SELF DRILL TYPE 5  12/24 X 1-1/4 1

CES6X716PHPFSSPJ 0210-9789 100 PAN PHILLIP FRAMING SCREW SHARP POINT 6 X 7/16 1

CES6X716PHPFSSPMJ 0255-0888 1000 PAN PHILLIP FRAMING SCREW SHARP POINT 6 X 7/16 1

CES6X716PHPFTJ 0210-9792 100 PAN PHILLIP FRAMING SCREW SELF DRILL 6 X 7/16 1

CES632X12IPSJ 0211-0317 100 IVORY PLATE SCREW 6/32 X 1/2 1

CES632X12WPSJ 0211-0320 100 WHITE PLATE SCREW 6/32 X 1/2 1

CES632X12APSJ 0211-0323 100 ALMOND PLATE SCREW 6/32 X 1/2 1

CES632X1IPSJ 0211-0326 100 IVORY PLATE SCREW 6/32 X 1 1

CES632X1WPSJ 0211-0329 100 WHITE PLATE SCREW 6/32 X 1/2 1

CESPSKIT 0241-5816 PLATE SCREW ASSORTMENT KIT 1

CES632X1RSZJ 0211-0335 100 TRUSS COMBO RECEPTACLE SCREW 6/32 X 1 1

CES632X112RSZJ 0211-0338 100 TRUSS COMBO RECEPTACLE SCREW 6/32 X 1-1/2 1

CES632X2RSZJ 0211-0341 100 TRUSS COMBO RECEPTACLE SCREW 6/32 X 2 1

68 69

PART # STOCK CODE DESCRIPTION PER

NUTS

CES632HMSNZJ 0210-9795 100 HEX MACHINE SCREW NUT 6-32 1

CES832HMSNZJ 0210-9798 100 HEX MACHINE SCREW NUT 8-32 1

CES1024HMSNZJ 0210-9801 100 HEX MACHINE SCREW NUT 10-24 1

CES1032HMSNZJ 0210-9804 100 HEX MACHINE SCREW NUT 10-32 1

CES14FHNUSSZJ 0210-9807 100 FINISHED HEX NUT ZINC 1/4-20 1

CES516FHNUSSZJ 0210-9810 100 FINISHED HEX NUT ZINC 5/16-18 1

CES38FHNUSSZJ 0210-9813 100 FINISHED HEX NUT ZINC 3/8-16 1

CES12FHNUSSZJ 0210-9816 100 FINISHED HEX NUT ZINC 1/2-13 1

CES1420HNSSJ 0274-0200 100 HEX NUT 18-8 STAINLESS STEEL 1/4-20 1

CES3816HNSSJ 0249-0042 100 HEX NUT 18-8 STAINLESS STEEL 3/8-16 1

CESHNKIT 0356-6556 HEX NUT ASSORT KIT 1

CES1213HNSSJ 0371-9286 1/2-13 HX NUT STAINLESS STEEL 1

CES832HNSSJ 0363-2712 8-32 HEX NUT STAINLESS STEEL 1

CES51618HNSSJ 0361-9077 5/16-18 HEX NUT STAINLESS 1

CES632NLNZJ 0321-1854 100 NYLON INSERT LOCK NUT 6/32 1

CES14NLNUSSZJ 0210-9819 100 NYLON INSERT LOCK NUT 1/4-20 1

CES38NLNUSSZJ 0210-9822 100 NYLON INSERT LOCK NUT 3/8-16 1

CES12NLNUSSZJ 0210-9825 100 NYLON INSERT LOCK NUT 1/2-13 1

CES1024NLNZJ 0358-7820 10-24 NYLON INS LOCK NUT 1

CES14RCZJ 0210-9828 100 ROD COUPLING NUT 1/4-20 1

CES38RCZJ 0210-9831 100 ROD COUPLING NUT 3/8-16 1

CES12RCZJ 0210-9834 50 ROD COUPLING NUT 1/2-13 1

CESTEKKIT

PAN PHILLIP SELF 
 DRILL SCREW

PAN PHILLIP SELF  
DRILL SCREW

 PLATE SCREW

HEX MACHINE  
SCREW NUT

FINISHED HEX  
NUT ZINC



WWW.F4P-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.F4P-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

WASHERS

CESFENWKIT 0346-7862 FENDER WASHER KIT 1

CESFWKIT 0346-7871 FLAT WASHER KIT 1

CES516X112FWSSJ 0361-9083 5/16X1-1/2 FEND WASHER STAINLESS 1

CES316FWUSSZJ 0210-9837 100 FLAT WASHER USS ZINC PLATED 3/16 1

CES14FWUSSZJ 0210-9840 100 FLAT WASHER USS ZINC PLATED 1/4 1

CES516FWUSSZJ 0210-9843 100 FLAT WASHER USS ZINC PLATED 5/16 1

CES38FWUSSZJ 0210-9846 100 FLAT WASHER USS ZINC PLATED 3/8 1

CES12FWUSSZJ 0210-9849 100 FLAT WASHER USS ZINC PLATED 1/2 1

CES4FWSAEZJ 0210-9852 100 FLAT WASHER USS ZINC PLATED #4 1

CES6FWSAEZJ 0210-9855 100 FLAT WASHER USS ZINC PLATED #6 1

CES8FWSAEZJ 0210-9858 100 FLAT WASHER USS ZINC PLATED #8 1

CES10FWSAEZJ 0210-9861 100 FLAT WASHER USS ZINC PLATED #10 1

CES14FWSAEZJ 0210-9864 100 FLAT WASHER USS ZINC PLATED 1/4 1

CES38FWSAEZJ 0210-9867 100 FLAT WASHER USS ZINC PLATED 3/8 1

CES12FWSAEZJ 0210-9870 100 FLAT WASHER USS ZINC PLATED 1/2 1

CES12FWSSJ 0371-9319 1/2" FLAT WASHER STAINLESS 1

CES8FWSSJ 0371-9316 #8 FLAT WASHER STAINLESS 1

CES516FWSSJ 0361-9080 5/16 FLAT WASHER STAINLESS 1

CES316X1FWZJ 0210-9873 100 FENDER WASHER 3/16 X 1 1

CES316X114FWZJ 0210-9876 100 FENDER WASHER 3/16 X 1-1/4 1

CES14X1FWZJ 0210-9879 100 FENDER WASHER 1/4 X 1 1

CES14X114FWZJ 0210-9882 100 FENDER WASHER 1/4 X 1-1/4 1

CES14X112FWZJ 0210-9885 100 FENDER WASHER 1/4 X 1-1/2 1

CES14X2FWZJ 0210-9888 100 FENDER WASHER 1/4 X 2 1

CES516X112FWZJ 0255-0891 100 FENDER WASHER 5/16 X 1-1/2 1

CES38X114FWZJ 0210-9891 100 FENDER WASHER 3/8 X 1-1/4 1

CES38X112FWZJ 0210-9894 100 FENDER WASHER 3/8 X 1-1/2 1

CES38X2FWZJ 0210-9897 100 FENDER WASHER 3/8 X 2 1

CES12X112FWZJ 0210-9900 100 FENDER WASHER 1/2 X 1-1/2 1

CES12X2FWZJ 0210-9903 100 FENDER WASHER 1/2 X 2 1

CES14FWSSJ 0249-0027 100 FLAT WASHER 18-8 STAINLESS STEEL 1/4 1

CES38FWSSJ 0249-0030 100 FLAT WASHER 18-8 STAINLESS STEEL 3/8 1

CES14X1FWSSJ 0274-0203 100 FENDER WASHER 18-8 STAINLESS STEEL 1/4 X 1 1

CES14X114FWSSJ 0274-0206 100 FENDER WASHER 18-8 STAINLESS STEEL 1/4 X 1-1/4 1

CES14X112FWSSJ 0249-0033 100 FENDER WASHER 18-8 STAINLESS STEEL 1/4 X 1-1/2 1

CES38X114FWSSJ 0249-0036 100 FENDER WASHER 18-8 STAINLESS STEEL 3/8 X 1-1/4 1

CES38X112FWSSJ 0274-0209 100 FENDER WASHER 18-8 STAINLESS STEEL 3/8 X 1-1/2 1

CES4LWZJ 0210-9906 100 LOCK WASHER #4 1

CES6LWZJ 0210-9909 100 LOCK WASHER #6 1

CES8LWZJ 0210-9912 100 LOCK WASHER #8 1

CES10LWZJ 0210-9915 100 LOCK WASHER #10 1

CES14LWZJ 0210-9918 100 LOCK WASHER 1/4 1

CES516LWZJ 0210-9921 100 LOCK WASHER 5/16 1

CES38LWZJ 0210-9924 100 LOCK WASHER 3/8 1

CES12LWZJ 0210-9927 100 LOCK WASHER 1/2 1

CES12LWSSJ 0371-9325 1/2 LOCK WASHER STAINLESS 1

CES38LWSSJ 0371-9322 3/8 LOCK WASHER STAINLESS 1

CES12BWSS 0346-7043 1/2 X 1-3/8" STAINLESS BELLEVILLE WASHER 1

F4P14LWSS 0348-0441 1/4 LOCK WASHER STAINLESS 1

70 71

PART # STOCK CODE DESCRIPTION PER

BOLTS

CES14X12HBG2ZJ 0210-9930 100 HEX BOLT GRADE 2 FULLY THREADED 1/4 X 1/2 1

CES14X34HBG2ZJ 0210-9933 100 HEX BOLT GRADE 2 FULLY THREADED 1/4 X 3/4 1

CES14X1HBG2ZJ 0210-9936 100 HEX BOLT GRADE 2 FULLY THREADED 1/4 X 1 1

CES14X114HBG2ZJ 0210-9939 100 HEX BOLT GRADE 2 FULLY THREADED 1/4 X1-1/4 1

CES14X112HBG2ZJ 0210-9942 100 HEX BOLT GRADE 2 FULLY THREADED 1/4 X 1-1/2 1

CES14X2HBG2ZJ 0210-9945 100 HEX BOLT GRADE 2 FULLY THREADED 1/4 X 2 1

CES14X212HBG2ZJ 0210-9948 100 HEX BOLT GRADE 2 FULLY THREADED 1/4 X 2-1/2 1

CES14X3HBG2ZJ 0210-9951 50 HEX BOLT GRADE 2 FULLY THREADED 1/4 X 3 1

CES14X312HBG2ZJ 0210-9954 50 HEX BOLT GRADE 2 FULLY THREADED 1/4 X 3-1/2 1

CES14X4HBG2ZJ 0210-9957 50 HEX BOLT GRADE 2 FULLY THREADED 1/4 X 4 1

CES38X12HBG2ZJ 0210-9960 100 HEX BOLT GRADE 2 FULLY THREADED 3/8 X 1/2 1

CES38X34HBG2ZJ 0210-9963 100 HEX BOLT GRADE 2 FULLY THREADED 3/8 X 3/4 1

CES38X1HBG2ZJ 0210-9966 100 HEX BOLT GRADE 2 FULLY THREADED 3/8 X 1 1

CES38X114HBG2ZJ 0210-9969 100 HEX BOLT GRADE 2 FULLY THREADED 3/8 X 1-1/4 1

CES38X112HBG2ZJ 0210-9972 100 HEX BOLT GRADE 2 FULLY THREADED 3/8 X 1-1/2 1

CES38X2HBG2ZJ 0210-9975 50 HEX BOLT GRADE 2 FULLY THREADED 3/8 X 2 1

CES38X212HBG2ZJ 0210-9978 50 HEX BOLT GRADE 2 FULLY THREADED 3/8 X 2-1/2 1

CES38X3HBG2ZJ 0210-9981 50 HEX BOLT GRADE 2 FULLY THREADED 3/8 X 3 1

CES38X312HBG2ZJ 0210-9984 25 HEX BOLT GRADE 2 FULLY THREADED 3/8 X 3-1/2 1

CES38X4HBG2ZJ 0210-9987 25 HEX BOLT GRADE 2 FULLY THREADED 3/8 X 4 1

CES38X5HBG2Z 0348-0174 3/8" X 5 HEX BOLT GRADE 2 50 CT 1

CES12X34HBG2ZJ 0210-9990 50 HEX BOLT GRADE 2 FULLY THREADED 1/2 X 3/4 1

CES12X1HBG2ZJ 0210-9993 50 HEX BOLT GRADE 2 FULLY THREADED 1/2 X 1 1

CES12X114HBG2ZJ 0210-9996 50 HEX BOLT GRADE 2 FULLY THREADED 1/2 X 1-1/4 1

CES12X112HBG2ZJ 0210-9999 50 HEX BOLT GRADE 2 FULLY THREADED 1/2 X 1-1/2 1

CES12X2HBG2ZJ 0211-0002 50 HEX BOLT GRADE 2 FULLY THREADED 1/2 X 2 1

CES12X212HBG2ZJ 0211-0005 25 HEX BOLT GRADE 2 FULLY THREADED 1/2 X 2-1/2 1

CES12X3HBG2ZJ 0211-0008 25 HEX BOLT GRADE 2 FULLY THREADED 1/2 X 3 1

CES12X312HBG2ZJ 0211-0011 25 HEX BOLT GRADE 2 FULLY THREADED 1/2 X 3-1/2 1

CES12X4HBG2ZJ 0211-0014 25 HEX BOLT GRADE 2 FULLY THREADED 1/2 X 4 1

CES14X1HBSSJ 0274-0212 50 HEX BOLT 18-8 STAINLESS STEEL 1/4 X 1 1

CES14X114HBSSJ 0274-0215 50 HEX BOLT 18-8 STAINLESS STEEL 1/4 X 1-1/4 1

CES14X112HBSSJ 0274-0218 50 HEX BOLT 18-8 STAINLESS STEEL 1/4 X 1-1/2 1

CES14X4HBSSJ 0249-0045 50 HEX BOLT 18-8 STAINLESS STEEL 1/4 X 4 1

CES38X1HBSSJ 0312-4188 3/8 X 1 HEX BOLT 18-8 STAINLESS 1

CES38X4HBSSJ 0249-0048 25 HEX BOLT 18-8 STAINLESS STEEL 3/8 X 4 1

CES12X112HBSSJ 0371-9340 1/2-13 X 1-1/2" HEX BOLT STAINLE 1

CES12X114HBSSJ 0371-9337 1/2-13 X 1-1/4" HEX BOLT STAINLE 1

CES12X1HBSSJ 0371-9334 1/2-13 X 1" HEX BOLT STAINLESS 1

CES38X34HBSSJ 0361-9065 3/8X3/4 HEX BOLT STAINLESS 1

CES38X114HBSSJ 0348-0423 3/8 X 1-1/4 HEX BOLT 18-8 STAINL 1

CES14X12HBG5USSZJ 0211-0017 100 HEX BOLT GRADE 5     1/4-20 X 1/2 1

CES14X34HBG5USSZJ 0211-0020 100 HEX BOLT GRADE 5     1/4-20 X 3/4 1

CES14X1HBG5USSZJ 0211-0023 100 HEX BOLT GRADE 5     1/4-20 X 1 1

CES14X114HBG5USSZJ 0211-0026 100 HEX BOLT GRADE 5     1/4-20 X 1-1/4 1

CES14X112HBG5USSZJ 0211-0029 100 HEX BOLT GRADE 5     1/4-20 X 1-1/2 1

CES38X12HBG5USSZJ 0211-0032 100 HEX BOLT GRADE 5     3/8-16 X 1/2 1

CES38X1HBG5USSZJ 0211-0035 100 HEX BOLT GRADE 5     3/8-16 X 1 1

CES38X114HBG5USSZJ 0211-0038 101 HEX BOLT GRADE 5     3/8-16 X 1-1/4 1

FLAT WASHER USS  
ZINC PLATED

FLAT WASHER 18-8  
STAINLESS STEEL

FLAT WASHER USS  
ZINC PLATED

LOCK WASHER STAINLESS

HEX BOLT 18-8  
STAINLESS STEEL

 HEX BOLT GRADE 2  
FULLY THREADED 

 HEX BOLT GRADE 5



WWW.F4P-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.F4P-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

BOLTS

CES38X112HBG5USSZJ 0211-0041 100 HEX BOLT GRADE 5     3/8-16 X 1-1/2 1

CES12X1HBG5USSZJ 0211-0044 50 HEX BOLT GRADE 5     1/2-13 X 1 1

CES14X1HLBZJ 0211-0047 100 HEX LAG BOLT 1/4 X 1 1

CES14X114HLBZJ 0211-0050 100 HEX LAG BOLT 1/4 X 1-1/4 1

CES14X112HLBZJ 0211-0053 100 HEX LAG BOLT 1/4 X 1-1/2 1

CES14X2HLBZJ 0211-0056 100 HEX LAG BOLT 1/4 X 2 1

CES14X212HLBZJ 0211-0059 100 HEX LAG BOLT 1/4 X 2-1/2 1

CES14X3HLBZJ 0211-0062 50 HEX LAG BOLT 1/4 X 3 1

CES38X1HLBZJ 0211-0065 100 HEX LAG BOLT 3/8 X 1 1

CES38X114HLBZJ 0211-0068 100 HEX LAG BOLT 3/8 X 1-1/4 1

CES38X112HLBZJ 0211-0071 100 HEX LAG BOLT 3/8 X 1-1/2 1

CES38X2HLBZJ 0211-0074 50 HEX LAG BOLT 3/8 X 2 1

CES38X212HLBZJ 0211-0077 50 HEX LAG BOLT 3/8 X 2-1/2 1

CES38X3HLBZJ 0211-0080 50 HEX LAG BOLT 3/8 X 3 1

CES12X112HLBZJ 0211-0083 50 HEX LAG BOLT 1/2 X 1-1/2 1

CES12X2HLBZJ 0211-0086 50 HEX LAG BOLT 1/2 X 2 1

CES12X212HLBZJ 0211-0089 25 HEX LAG BOLT 1/2 X 2-1/2 1

CES12X3HLBZJ 0211-0092 25 HEX LAG BOLT 1/2 X 3 1

CES14X12RHSSBZJ 0211-0098 100 ROUND HEAD COMBO STOVE BOLT 1/4 X 1/2 1

CES14X34RHSSBZJ 0211-0101 100 ROUND HEAD COMBO STOVE BOLT 1/4 X 3/4 1

CES14X1RHSSBZJ 0211-0104 100 ROUND HEAD COMBO STOVE BOLT 1/4 X 1 1

CES14X114RHSSBZJ 0211-0107 100 ROUND HEAD COMBO STOVE BOLT 1/4 X 1-1/4 1

CES14X112RHSSBZJ 0211-0110 100 ROUND HEAD COMBO STOVE BOLT 1/4 X 1-1/2 1

CES14X2RHSSBZJ 0211-0113 100 ROUND HEAD COMBO STOVE BOLT 1/4 X 2 1

CES14X3RHSSBZJ 0211-0116 100 ROUND HEAD COMBO STOVE BOLT 1/4 X 3 1

CES1SHJ 0211-0119 100 S-HOOK FOR JACK CHAIN 1" 1

CES112SHJ 0211-0122 100 S-HOOK FOR JACK CHAIN 1-1/2 1

CES14X2EBJ 0211-0128 100 TURNED EYE BOLT WITH HEX NUTS 1/4 X 2 1

CES14X3EBJ 0211-0131 50 TURNED EYE BOLT WITH HEX NUTS 1/4 X 3 1

CES14X4EBJ 0211-0134 50 TURNED EYE BOLT WITH HEX NUTS 1/4 X 4 1

CES38X4EBJ 0211-0137 25 TURNED EYE BOLT WITH HEX NUTS 3/8 X 4 1

CES38X5EBJ 0211-0140 20 TURNED EYE BOLT WITH HEX NUTS 3/8 X 5 1

CES38X212CBZ 0356-2005 3/8" X 2-1/2" CARRAIGE BOLT 50CT 1

72 73

PART # STOCK CODE DESCRIPTION PER

ANCHORS

CES2345J 0211-0143 100 NYLON ZIP IT ANCHOR 1

CES2346J 0211-0146 100 METAL ZIP IT ANCHOR 1

CES2350J 0211-0149 100 JR. NYLON ZIP IT ANCHOR 1

CES2351J 0211-0152 100 JR. METAL ZIP IT ANCHOR 1

CES2266J 0308-9781 100 HEX HEAD WALL DOG ANCHOR 1

CES2316J 0211-0155 100 PAN PHILLIP WALL DOG ANCHOR 1

CES2316J-5C 0274-0233 500 PAN PHILLIP WALL DOG ANCHOR 1

CES2314J-5C 0274-0236 500 OVAL PHILLIP WALL DOG ANCHOR 1

CES5023J 0211-0158 100 MUSHROOM COMBO TOGGLE BOLT 1/8 X 2 1

CES5033J 0211-0161 50 MUSHROOM COMBO TOGGLE BOLT 1/8 X 3 1

CES5043J 0211-0164 50 MUSHROOM COMBO TOGGLE BOLT 1/8 X 4 1

CES5133J 0211-0167 50 MUSHROOM COMBO TOGGLE BOLT 3/16 X 3 1

CES5143J 0211-0170 50 MUSHROOM COMBO TOGGLE BOLT 3/16 X 4 1

CES5233J 0211-0173 25 MUSHROOM COMBO TOGGLE BOLT 1/4 X 3 1

CES5243J 0211-0176 25 MUSHROOM COMBO TOGGLE BOLT 1/4 X 4 1

CES5121J 0255-0900 50 ROUND HEAD TOGGLE BOLT 3/16 X 2 1

CES5131J 0211-0179 50 ROUND HEAD TOGGLE BOLT 3/16 X 3 1

CES5141J 0240-2118 50 ROUND HEAD TOGGLE BOLT 3/16 X 4 1

CES5231J 0255-0903 25 ROUND HEAD TOGGLE BOLT 1/4 X 3 1

CES5241J 0211-0182 25 ROUND HEAD TOGGLE BOLT 1/4 X 4 1

CES5261J 0211-0185 25 ROUND HEAD TOGGLE BOLT 1/4 X 6 1

CES5431J 0211-0188 20ROUND HEAD TOGGLE BOLT 3/8 X 3 1

CES5441J 0211-0191 15 ROUND HEAD TOGGLE BOLT 3/8 X 4 1

CES5461J 0211-0194 10 ROUND HEAD TOGGLE BOLT 3/8 X 6 1

CES8559J 0211-0197 100 BLUE CONICAL PLASTIC ANCHOR 4-6 X 3/4 1

CES8569J 0211-0200 100 BLUE CONICAL PLASTIC ANCHOR 8-10 X 7/8 1

CES8579J 0211-0203 100 BLUE CONICAL PLASTIC ANCHOR 10-12 X 1 1

CES8589J 0211-0206 100 BLUE CONICAL PLASTIC ANCHOR 14-16 X 1-1/2 1

CES8599J 0270-2592 100 SUPER YELLOW PLASTIC ANCHOR 10-12 X 1 1

CES8812J 0211-0209 100 LEAD MACHINE SCREW ANCHOR 1/4-20 1

CES8816J 0211-0212 50 LEAD MACHINE SCREW ANCHOR 3/8-16 1

CES2701IJ 0255-0909 100 ZAMAC HAMMER DRIVE ANCHOR 3/16 X 7/8 1

CES2702J 0211-0221 100 ZAMAC HAMMER SCREW ANCHOR 1/4 X 3/4 1

CES2702IJ 0222-6498 100 ZAMAC HAMMER DRIVE ANCHOR 1/4 X 3/4 1

CES2703J 0211-0224 100 ZAMAC HAMMER SCREW ANCHOR 1/4 X 1 1

CES2703IJ 0222-6501 100 ZAMAC HAMMER DRIVE ANCHOR 1/4 X1 1

CES2704J 0211-0227 100 ZAMAC HAMMER SCREW ANCHOR 1/4 X 1-1/4 1

CES2704IJ 0222-6504 100 ZAMAC HAMMER DRIVE ANCHOR 1/4 X 1-1/4 1

CES2705J 0211-0230 100 ZAMAC HAMMER SCREW ANCHOR 1/4 X 1-1/2 1

CES2705IJ 0222-6507 100 ZAMAC HAMMER DRIVE ANCHOR 1/4 X 1-1/2 1

CES2706J 0211-0233 100 ZAMAC HAMMER SCREW ANCHOR 1/4 X 2 1

CES1402J 0211-0236 100 HAMMER DRIVE PIN 1/4 X 3/4 1

CES1403J 0211-0239 100 HAMMER DRIVE PIN 1/4 X 1 1

CES1404J 0211-0242 100 HAMMER DRIVE PIN 1/4 X 1-1/4 1

CES1405J 0211-0245 100 HAMMER DRIVE PIN 1/4 X 1-1/2 1

CES1406J 0274-0242 100 HAMMER DRIVE PIN 1/4 X 2 1

CES6325J 0211-0251 100 INTERNAL PLUG DROP IN ANCHOR 1/4-20 1

ROUND HEAD COMBO  
STOVE BOLT

HEX LAG BOLT

TURNED EYE BOLT 
WITH HEX NUT

 BLUE CONICAL  
PLASTIC ANCHOR

PAN PHILLIP  
WALL DOG ANCHOR

METAL ZIP IT ANCHOR

LEAD MACHINE  
SCREW ANCHOR

ZAMAC HAMMER
SCREW ANCHOR

 HAMMER DRIVE PIN



WWW.F4P-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.F4P-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

ANCHORS

CES6337J 0211-0254 50 INTERNAL PLUG DROP IN ANCHOR 3/8-16 1

CES6350J 0211-0257 50 INTERNAL PLUG DROP IN ANCHOR 1/2 -13 1

CES6400J 0211-0269 100 WEDGE ANCHORS1/4 X 1-3/4 1

CES6402J 0211-0272 100 WEDGE ANCHORS 1/4 X 2-1/4 1

CES6410J 0211-0275 50 WEDGE ANCHORS 3/8 X 2-1/4 1

CES6412J 0211-0278 50 WEDGE ANCHORS 3/8 X 2-3/4 1

CES6413J 0221-6646 50 WEDGE ANCHORS 3/8 X 3 1

CES6414J 0211-0281 25 WEDGE ANCHORS 3/8 X 3-3/4 1

CES6420J 0211-0284 25 WEDGE ANCHORS 1/2 X 2-3/4 1

CES2505J 0211-0287 100 ACORN NUT SLEEVE ANCHOR 1/4 X 5/8 1

CES2513J 0211-0290 100 ACORN NUT SLEEVE ANCHOR 1/4 X 1-3/8 1

CES2522J 0211-0293 100 ACORN NUT SLEEVE ANCHOR 1/4 X 2-1/4 1

CES3114J 0211-0296 100 HEX NUT SLEEVE ANCHOR 5/16 X 1-1/2 1

CES3717J 0211-0299 50 HEX NUT SLEEVE ANCHOR 3/8 X 1-7/8 1

CES3730J 0255-0912 25 HEX NUT SLEEVE ANCHOR 3/8 X 3 1

CES3802J 0222-6513 100 HEX HEAD MASONRY SCREW (TAPPER) 3/16 X 1-1/4 1

CES3803J 0250-0359 100 HEX HEAD MASONRY SCREW (TAPPER) 3/16 X 1-3/4 1

CES3804J 0262-3362 100 HEX HEAD MASONRY SCREW (TAPPER) 3/16 X 2-1/4 1

CES3805J 0262-3365 100 HEX HEAD MASONRY SCREW (TAPPER) 3/16 X 2-3/4 1

CES3808J 0240-2124 100 HEX HEAD MASONRY SCREW (TAPPER) 3/16 X 4 1

CES3902J 0211-0302 100 HEX HEAD MASONRY SCREW (TAPPER) 1/4 X 1-1/4 1

CES3903J 0211-0305 100 HEX HEAD MASONRY SCREW (TAPPER) 1/4 X 1-3/4 1

CES3904J 0211-0308 100 HEX HEAD MASONRY SCREW (TAPPER) 1/4 X 2-1/4 1

CES3905J 0242-2275 100 HEX HEAD MASONRY SCREW (TAPPER) 1/4 X 2-3/4 1

CES3906J 0255-0921 100 HEX HEAD MASONRY SCREW (TAPPER) 1/4 X 3-1/4 1

CES3811J 0246-7191 100 FLAT PHILLIP MASONRY SCREW (TAPPER) 3/16 X 1-3/4 1

CES 3813J 0330-8076 3/16 X 2-1/4 FLAT HD MASONRY SCR 1

CES3910J 0261-5133 100 FLAT PHILLIP MASONRY SCREW (TAPPER) 1/4 X 1-1/4 1

CES3911J 0261-5136 100 FLAT PHILLIP MASONRY SCREW (TAPPER) 1/4 X 1-3/4 1

CES1104J 0211-0311 100 LEAD SCREW ANCHOR 6-8 X 1 1

CES1114J 0211-0314 100 LEAD SCREW ANCHOR 10-14 X 1 1

CES3755J 0246-7197 100 LEAD SCREW ANCHOR 1/4-20 1

CES3758J 0255-0933 50 PIPE SPIKE ANCHOR 3/8-16 1

CES8610E 0259-4016 PAN HEAD SQUARE DRIVE ANCHOR KIT - BOX VERSION 10 X 1 1

CES8710E 0219-2445 HEX WASHER COMBO ANCHOR KIT - BOX VERSION 10 X 1 1

CES8710EJ 0255-1962 HEX WASHER COMBO ANCHOR KIT - JAR VERSION 10 X 1 1

CES8711EJ 0255-1965 PAN HEAD COMBO ANCHOR KIT - JAR VERSION 10 X 1 1

CES2368J 0215-8935 NYLON ZIP IT ANCHOR KIT - JAR VERSION 1

CES2369J 0221-0889 METAL ZIP IT ANCHOR KIT - JAR VERSION 1

CES7159J 0380-5971 VERTICAL ROD HANGER STEEL 3/8 1

CES7184J 0380-7243 VERTICAL ROD HANGER STEEL - SIDE MOUNT - 3/8 1

CES7162J 0380-7240 VERTICAL ROD HANGER WOOD - 3/8-16 1

CES7163J 0255-0936 20 END DRILL VERTIGO FOR WOOD 1/4-20 1

CES7165J 0255-0939 20 END DRILL VERTIGO FOR WOOD 3/8-16 1

CES7171J 0315-1797 1/4 - 20 CONCRETE VERTIGO HANGER 50CT 1

CESP316J 0211-0344 100 ONE HOLE TUBING STRAP 1/8 1

CESP416J 0211-0347 100 ONE HOLE TUBING STRAP 1/4 1

74 75

PART # STOCK CODE DESCRIPTION PER

ANCHORS

CESP38BXJ 0255-0945 100 ONE HOLE BX STRAP 3/8 1

CES9439J 0363-2100 10-14 X 1-1/2 LEAD ANCHOR 100CT 1

CES7170J 0362-7150 SIDE MOUNT 3/8 ROD HANGER 20CT W 1

CES7185J 0362-7147 SIDE MOUNT HANGER - WOOD W/ TOOL 1

CESP4054 0358-7826 1/4" STAP TOGGLE ANC KIT 50 CT 1

CES7155J 0356-1945 1/4-20 VERT ROD HANGER STEEL 1

CES1064J 0353-4504 3/8" LAG SHIELD ANCHOR 25 CT 1

R50022J 0329-9907 POWDER DRIVE PIN 3/4 SHANK 100 J 1

R50382 0329-9904 POWDER PIN - 1/2 EMT CLIP 1" SHA 1

R50382J 0329-9901 POWER PIN - 1/2 EMT CLIP 1" SHAN 1

PRODUCT WARRANTY INFORMATION:
F4P conducts regular testing to ensure the products you rely on meet the most 
stringent standards. If you have any issues, concerns, or questions regarding the 
quality of our products, please reach out to us at the number or email address below

By phone:  772.878.4944    By Email: info@f4p-usa.com

FIBERGLASS STEP LADDERS

F4P (Tamco Group) warrants its ladder products to be free from defects in material 
and workmanship, excluding normal wear and damage from mishandling, for 90 days 
from date of shipment. Warranty is valid at the Company’s discretion and judgment of 
product being used properly and for its intended use. The Company shall not be liable 
for any consequential damages, which may occur. 

The Company will at no charge repair or replace at its option any part which the 
Company determines has failed during the warranty period due to defects in material 
or workmanship.

TOOLS & BAGS

F4P (Tamco Group) provides a limited lifetime warranty on its hand tools and bag 
products to be free from defects in material and workmanship. This warranty is valid 
at the Company’s discretion and judgment of product being used properly and for its 
intended use. This warranty covers only manufacturing defects and does not cover 
any damage caused by misuse, neglect, accidents, abrasion, exposure to extreme 
temperatures, solvents, acids, water, normal wear and tear or transport damage.

The Company will at no charge repair or replace at its option any part which the 
Company determines has failed during the warranty period due to defects in material 
or workmanship.

ACORN NUT  
SLEEVE ANCHOR

WEDGE ANCHORS

INTERNAL PLUG DROP  
IN ANCHOR

HEX NUT  
SLEEVE ANCHOR

 HEX HEAD MASONRY 
 SCREW (TAPPER)

LEAD SCREW ANCHOR

HEX WASHER  
COMBO ANCHOR KIT

NYLON ZIP IT  
ANCHOR KIT

ONE HOLE BX STRAP



76

To explore RPP’s full product line, scan  

the QR code with your phone to browse our website!

Questions? Reach out to us at  
INFO@RPP-USA.COM

RPP o�ers the sensor, the switch, and everything 

in between. With reliability as a staple of RPP, rest 

assured when purchasing our cord/cable, connectors, 

devices, and everything else. Whether working in a 

commercial, residential, or industrial application, RPP 

o�ers solutions tailored to your needs.

About RPP

77



WWW.RPP-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.RPP-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

LAMP HOLDERS    

WH ULFM238 0010-2634 UL KEYLESS PLASTIC LAMP HOLDER 1

78 79

PART # STOCK CODE DESCRIPTION PER

LOCKING DEVICES    

L720-P 0292-9884 20A 277V/AC 2P 3W LKG DEVICE PLU 1

L720-R 0292-9887 20A 277V/AC 2P 3W LKG DEVICE RCP 1

L820-C 0292-9890 20A 480V/AC 2P 3W LKG DEVICE CON 1

L820-P 0292-9893 20A 480V/AC 2P 3W LKG DEVICE PLU 1

L820-R 0292-9896 20A 480V/AC 2P 3W LKG DEVICE RCP 1

TT30 0425-4462 30A 125V 3W TRAVEL TRAILER FM RC 1

PART # STOCK CODE DESCRIPTION PER

LOCKING DEVICES    

L1020-C 0292-9899 20A 125/250V 3P 3W LKG DEVICE CO 1

L1020-P 0292-9902 20A 125/250V 3P 3W LKG DEVICE PL 1

L1020-R 0292-9905 20A 125/250V 3P 3W LKG DEVICE RC 1

L1030-C 0292-9908 30A 125/250V 3P 3W LKG DEVICE CO 1

L1030-P 0292-9911 30A 125/250V 3P 3W LKG DEVICE PL 1

L1030-R 0292-9914 30A 125/250V 3P 3W LKG DEVICE RC 1

L1420-C 0277-0356 20A 125/250V/AC 3POLE 4WIRE LCKI 1

L1420-P 0277-0359 20A 125/250V/AC 3POLE 4WIRE LCKI 1

L1420-R 0277-0362 20A 125/250V/AC 3POLE 4WIRE LCKI 1

L1430-C 0277-0365 30A 125/250V/AC 3POLE 4WIRE LCKI 1

L1430-P 0277-0368 30A 125/250V/AC 3POLE 4WIRE LCKI 1

L1430-R 0277-0371 30A 125/250V/AC 3POLE 4WIRE LCKI 1

L1520-C 0292-9917 NEMA 15-20 20A 3P 4W 3PH 250V LK 1

L1520-P 0292-9920 NEMA 15-20 20A 3P 4W 3PH 250V LK 1

L1520-R 0292-9923 NEMA 15-20 20A 3P 4W 3PH 250V LK 1

L1530-C 0292-9926 NEMA 15-30 30A 3P 4W 3PH 250V LK 1

L1530-P 0292-9929 NEMA 15-30 30A 3P 4W 3PH 250V LK 1

L1530-R 0292-9932 NEMA 15-30 30A 3P 4W 3PH 250V LK 1

L1620-C 0292-9935 20A 480V 3P 4W LKG DEVICE CONN 1

L1620-P 0292-9938 20A 480V 3P 4W LKG DEVICE PLUG 1

L1620-R 0292-9941 20A 480V 3P 4W LKG DEVICE RCPT 1

L1630-C 0292-9944 30A 480V 3P 4W LKG DEVICE CONN 1

L1630-P 0292-9947 30A 480V 3P 4W LKG DEVICE PLUG 1

L1630-R 0292-9950 NEMA 16-30 30A 3P 4W 3PH 480V LK 1

L2120-C 0292-9953 20A 120/208V 4P 5W LKG DEVICE CO 1

L2120-P 0292-9956 20A 120/208V 4P 5W LKG DEVICE PL 1

L2120-R 0292-9959 20A 120/208V 4P 5W LKG DEVICE RC 1

L2130-C 0292-9962 30A 120/208V 4P 5W LKG DEVICE CO 1

L2130-P 0292-9965 30A 120/208V 4P 5W LKG DEVICE PL 1

L2130-R 0292-9968 30A 120/208V 4P 5W LKG DEVICE RC 1

L520-C 0277-0374 20A 125V/AC 2POLE 3WIRE LCKING D 1

L520-P 0277-0377 20A 125V/AC 2POLE 3WIRE LCKING D 1

L520-R 0277-0380 20A 125V/AC 2POLE 3WIRE LCKING D 1

L530-C 0277-0383 30A 125V/AC 2POLE 3WIRE LCKING D 1

L530-P 0277-0386 30A 125V/AC 2POLE 3WIRE LCKING D 1

L530-R 0277-0389 30A 125V/AC 2POLE 3WIRE LCKING D 1

L620-C 0277-0392 20A 250V/AC 2POLE 3WIRE LCKING D 1

L620-P 0277-0395 20A 250V/AC 2POLE 3WIRE LCKING D 1

L620-R 0277-0398 20A 250V/AC 2POLE 2WIRE LCKING D 1

L630-C 0277-0401 30A 250V/AC 2POLE 3WIRE LCKING D 1

L630-P 0277-0404 30A 250V/AC 2POLE 3WIRE LCKING D 1

L630-R 0277-0407 30A 250V/AC 2POLE 3WIRE LCKING R 1

L720-C 0292-9881 20A 277V/AC 2P 3W LKG DEVICE CON 1

PART # STOCK CODE DESCRIPTION PER

USB DEVICES    

USB15BK 0315-2058 15A TR DUP. RCPT/DUAL USB 4.0A 5 1

USB15BR 0315-2061 15A TR DUP RCPT, DUAL USB 4.0A 5 1

USB15IV 0315-2070 15A TR DUP RCPT, DUAL USB 4.0A 5 1

USB15LA 0315-2073 15A TR DUP RCPT, DUAL USB 4.0A 5 1

USB15SR-WH 0369-9558 15A TR SGL RCPT, DUAL USB 4.0A 5 1

USB15WH 0315-2076 15A TR DUP RCPT, DUAL USB 4.0A 5 1

USB20WH 0315-2079 20A TR DUP RCPT, DUAL USB 4.0A 5 1

USB4WH 0315-2082 4 PORT USB CHARGER, 4.0A 5VDC, 1 1

PART # STOCK CODE DESCRIPTION PER

GFCI RECEPTACLES    

GFCI15ST-IV 0544-4091 SLF TST GFCI 15A 125V IVORY 1

GFCI15ST-LA 0544-4094 SLF TST GFCI 15A 125V LIGHT ALMO 1

GFCI15ST-WH 0544-3560 SLF TST GFCI 15A 125V WHITE 1

GFCI15STTR-IV 0544-4100 SLF TST GFCI TR 15A 125V IVORY 1

GFCI15STTR-LA 0544-4103 SLF TST GFCI WR TR 15A 125V LIGH 1

GFCI15STTR-WH 0544-3563 SLF TST GFCI TR 15A 125V WHITE 1

GFCI15STTRWR-IV 0544-4109 SLF TST GFCI WR TR 15A 125V IV 1

GFCI15STTRWR-LA 0544-4112 SLF TST GFCI WR TR 15A 125V LA 1

GFCI15STTRWR-WH 0544-3566 SLF TST GFCI WR TR 15A 125V WHIT 1

GFCI20ST-IV 0544-4118 SLF TST GFCI 20A 125V IVORY 1

GFCI20ST-LA 0544-4121 SLF TST GFCI 20A 125V LIGHT ALMO 1

GFCI20ST-WH 0544-3569 SLF TST GFCI 20A 125V WHITE 1

GFCI20STTR-IV 0544-4127 SLF TST GFCI TR 20A 125V IVORY 1

GFCI20STTR-LA 0544-4130 SLF TST GFCI TR 20A 125V LIGHT A 1

GFCI20STTR-WH 0544-3572 SLF TST GFCI TR 20A 125V WHITE 1

GFCI20STTRWR-IV 0544-4136 SLF TST GFCI WR TR 20A 125V IVOR 1

GFCI20STTRWR-LA 0544-4139 SLF TST GFCI WR TR 20A 125V LIGH 1

GFCI20STTRWR-WH 0544-3575 SLF TST GFCI WR TR 20A 125V WHIT 1

WH ULFM238

L1020-P

L1020-C

L1020-R

TT30

USB15WH

GFCI15ST-WH



WWW.RPP-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.RPP-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

APPLIANCE CORDS    

WH AP14/3-6A 0279-7515 WH APLCORD SJTW14/3 ANGLE PLUG 6 1

WH AP14/3-6S 0279-7518 WH APLCORD SJTW14/3 STRAIGHT PLU 1

WH AP14/3-9S 0279-7521 WH APLCORD SJTW14/3 STRAIGHT PLU 1

WH AP16/3-3S 0279-7524 WH APLCORD SJTW16/3 STRAIGHT PLU 1

WH AP16/3-6A 0279-7527 WH APLCORD SJTW16/3 ANGLE PLUG 6 1

WH AP16/3-6S 0279-7530 WH APLCORD SJTW16/3 STRAIGHT PLU 1

WH AP16/3-9S 0279-7533 WH APLCORD SJTW16/3 STRAIGHT PLU 1

80 81

PART # STOCK CODE DESCRIPTION PER

WEATHERPROOF COVER 

WP11C 0433-8522 1G, 1" DEPTH, FLAT COVER, CLEAR 1

WP11G 0381-6942 1G, 1" DEPTH, FLAT COVER, GRAY 1

WP11MW 0433-8543 1G, 1" DEPTH, FLAT COVER, METALL 1

WP11MZ 0434-0205 1G,1"DEPTH, FLAT COVER, METALLIC 1

WP11W 0433-8525 1G, 1" DEPTH, FLAT COVER, WHITE 1

WP12RXHG 0434-0223 1G,2"D,RESI,EXP,EXTRA DUTY IN-US 1

WP12RXHW 0434-0229 1G,2"D,RESI,EXP,EXTRA DUTY IN-US 1

WP12RXHZ 0434-0235 1G,2"D,RESI,EXP,EXTRA DUTY IN-US 1

WP12XHG 0381-6966 1G, 2" DEPTH,EXP,EXTRA DUTY IN-U 1

WP13C 0313-3284 1G, 3" DEPTH, STANDARD IN-USE, C 1

WP13HC 0313-3290 1G, 3" DEPTH EXTRA DUTY IN-USE,C 1

WP21C 0434-0187 2G, 1" DEPTH, FLAT COVER, CLEAR 1

WP21G 0381-6945 2G, 1" DEPTH, FLAT COVER, GRAY 1

WP21W 0433-9092 2G, 1" DEPTH, FLAT COVER, WHITE 1

WP22XHG 0381-6957 2G, 2" DEPTH,EXP,EXTRA DUTY IN-U 1

WP23C 0313-3287 2G, 3" DEPTH, STANDARD IN-USE, C 1

WP23HC 0313-3293 2G, 3" DEPTH EXTRA DUTY IN-USE,C 1

WP11MG 0381-6948 1G, 1" DEPTH, FLAT COVER, METALL 1

WP12XHW 0433-8567 1G, 2" DEPTH,EXP,EXTRA DUTY IN-U 1

WP12XHZ 0433-8570 1G,2" DEPTH,EXP,EXTRA DUTY IN-US 1

PART # STOCK CODE DESCRIPTION PER

DRYER CORDS    

WH DC4/3 0279-7536 WH DRYCORD SRDT10/3 30A 4FT3PIN 1

WH DC4/4 0279-7539 WH DRYCORD SRDT10/4 30A 4FT4PIN 1

WH DC6/3 0279-7542 WH DRYCORD SRDT10/3 30A 6FT3PIN 1

WH DC6/4 0279-7545 WH DRYCORD SRDT10/4 30A 6FT4PIN 1

PART # STOCK CODE DESCRIPTION PER

GENERATOR CORDS    

WH GC 2010 0389-2116 20A 10FT GENERATOR CORD SET 1

WH GC 20100 0389-2128 20A 100FT GENERATOR CORD SET 1

WH GC 2020 0389-2119 20A 20FT GENERATOR CORD SET 1

WH GC 2050 0389-2125 20A 50FT GENERATOR CORD SET 1

WH GC 3010 0389-2131 30A 10FT GENERATOR CORD SET 1

WH GC 30100 0389-2143 30A 100FT GENERATOR CORD SET 1

WH GC 3020 0389-2134 30A 20FT GENERATOR CORD SET 1

WH GC 3050 0389-2140 30A 50FT GENERATOR CORD SET 1

WH GC 5010 0575-7774 50A 10FT GEN CORD SET (14-50 + C 1

WH GC 5020 0575-7783 50A 20FT GEN CORD SET (14-50 + C 1

WH GC 5030 0575-7777 50A 30FT GEN CORD SET (14-50 + C 1

WH GC 5050 0575-7780 50A 50FT GEN CORD SET (14-50 + C 1

GPWRB30 0552-4896 30 AMP PWR INLET BOX 1

GPWRB50 0552-4899 50 AMP PWR INLET BOX 1

PART # STOCK CODE DESCRIPTION PER

RANGE CORDS    

WH RC4/3 0279-7560 WH RGECORD SRDT6/2+8/1 50A 4FT3P 1

WH RC4/4 0279-7563 WH RGECORD SRDT6/2+8/2 50A 4FT4P 1

WH RC6/3 0279-7566 WH RGECORD SRDT6/2+8/1 50A 6FT3P 1

WH RC6/4 0279-7569 WH RGECORD SRDT6/2+8/2 50A 6FT4P 1

APPLIANCE CORDS

DRYER CORDS

WH GC 3010

RANGE CORDS

WP13C

WP23C



WWW.RPP-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.RPP-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

SWITCHES    

C1115-IV 0280-3929 15A 120V 1P DOUBLE SWITCH IVORY 1

C1115-LA 0280-3932 15A 120V  1P DOUBLE SWITCH LT AL 1

C1115-WH 0280-3926 15A 120V  1P DOUBLE SWITCH WHITE 1

C1R15-IV 0280-3947 15A 120V AC SWITCH 15 A 125V RCP 1

C1R15-LA 0277-2642 15A 120V AC SW 15A 125V RCPT LT 1

C1R15-WH 0280-3944 15A 120V AC SWITCH 15 A 125V RCP 1

CD11115-IV 0280-3953 TRIPLE ROCKER DECOR SW 15 A 120/ 1

CD11115-LA 0277-2678 LT ALM TRIPLE ROCKER DECOR SW 15 1

CD11115-WH 0280-3950 TRIPLE ROCKER DECOR SW 15A 120/2 1

CD1115-IV 0280-3959 DECOR DOUBLE ROCKER SW 15A 120/2 1

CD1115-LA 0277-2681 LT ALM DECOR DBL ROCKER SW 15A 1 1

CD1115-WH 0280-3956 DECOR DOUBLE ROCKER SW 15A 120/2 1

CD1R15-IV 0280-3965 DECOR 15A 120V SW 15A 125V RCPT 1

CD1R15-LA 0277-2684 LT ALM  DECOR 15A 120V SW 15A 12 1

CD1R15-WH 0280-3962 DECOR 15A 120V SW 15A 125V RCPT 1

CPL15-IV 0280-3938 15A 120V 1P & PILOT LIGHT SWITCH 1

CPL15-LA 0280-3941 15A 120V 1P & PILOT LIGHT SWITCH 1

CPL15-WH 0280-3935 15A 120V 1P & PILOT LIGHT SWITCH 1

CR15-IV 0288-1698 15A 125V COMM GRADE NEMA 5-15R R 1

CR15-WH 0288-1701 15A 125V COMM GRADE NEMA 5-15R R 1

CR20-BR 0284-7180 20A COMM GRADE RCPT BRN 1

CR20-IV 0289-0683 COMMERCIAL GRADE 20 AMP RCPT IVO 1

CR20-LA 0288-6975 20A COMM GRADE RCPT LT-ALM 1

CSB120-BR 0279-6903 20A BACK&SIDE WIRE 120/277V SING 1

CSB120-IV 0279-6906 20A BACK&SIDE WIRE 120/277V SING 1

CSB120-LA 0279-6909 20A BACK&SIDE WIRE 120/277V SING 1

CSB120-WH 0279-6912 20A BACK&SIDE WIRE 120/277V SING 1

CSB320-BR 0279-6921 20A BACK&SIDE WIRE 120/277V 3 WA 1

CSB320-IV 0279-6924 20A BACK&SIDE WIRE 120/277V 3 WA 1

CSB320-LA 0279-6927 20A BACK&SIDE WIRE 120/277V 3 WA 1

CSB320-WH 0279-6930 20A BACK&SIDE WIRE 120/277V 3 WA 1

DR15-IV 0289-0386 DPLX RCPT IVORY 15A PUSH IN SIDE 1

DR15-WH 0277-4862 15A 125V DUPLEX WHT RECPT 1

DRD15-IV 0289-0674 DPLX RECEPT DECORATOR 15A RESI G 1

DRD15-LA 0277-2687 DPLX RCPT DECORA RESI GRADE LT A 1

DRD15-WH 0289-0677 DPLX RECEPT DECORATOR 15A RESI G 1

FWD15-IV 0289-1346 FOUR-WAY DECORATOR SW IVORY 1

FWD15-LA 0277-2618 4 WAY DECORA 15A LT ALM 120/277 1

FWD15-WH 0289-1349 4 WAY DECORATOR SW WHITE 1

FWT15-IV 0289-1121 4 WAY TOGGLE SW IVORY 1

FWT15-LA 0277-2645 4 WAY TOG SW LT ALM 15A 120/277V 1

FWT15-WH 0289-1124 4 WAY TOGGLE SW WHITE 1

SPD15-BK 0284-7186 15A 120/277VAC 1P DECORA SW PUSH 1

SPD15-BR 0284-7189 15A 120/277VAC 1P DECORA SW PUSH 1

SPD15-LA 0277-2621 15A 120/277V 1P DECORA SW LT ALM 1

SPD15-WH 0289-0749 15 AMP, SP, DECORATOR SW, WHITE 1

SPD20-LA 0277-2624 1P DECORA 20A LT ALM  SIDE WIRED 1

SPD20-WH 0289-1184 SGL POLE DECORATOR 20 AMP WHITE 1

82 83

PART # STOCK CODE DESCRIPTION PER

SWITCHES    

SPT15-IV 0289-0458 SGL POLE 15A TOGGLE SW IVORY 1

SPT15-LA 0277-2648 1P TOG SW LT ALM 15P 120/277VAC 1

SPT15-WH 0289-0461 SGL POLE 15A TOGGLE SW WHITE 1

PART # STOCK CODE DESCRIPTION PER

PLUGS & CONNECTORS       

RPP5266P 0280-9233 NEMA 5-15P 15A 125V PLUG 1

RPP5269C 0280-9236 NEMA 5-15R 15A 125V CONNECTOR 1

RPP5366P 0280-9239 NEMA 5-20P 20A 125V PLUG 1

RPP5369C 0280-9242 NEMA 5-20R 20A 125V CONNECTOR 1

RPP5466P 0280-9245 NEMA 6-20P 20A 250V PLUG 1

RPP5469C 0280-9248 NEMA 6-20R 20A 250V CONNECTOR 1

RPP5666P 0280-9251 NEMA 6-15P 15A 250V PLUG 1

RPP5669C 0280-9254 NEMA 6-15R 15A 250V CONNECTOR 1

PART # STOCK CODE DESCRIPTION PER

DRYER & RANGE RECEPTACLES    

FMD1030R-BK 0276-8259 30A 125/250V 3W FLUSH MNT DRYER 1

FMD1030R-WH 0276-8262 30A 125/250V 3W FLUSH MNT DRYER 1

FMD1430R-BK 0273-5232 FLUSH MOUNT DRYER RECEPTACLE STR 1

FMD1430R-WH 0289-1292 FLUSH MOUNT DRYER RCPT STRAIGHT 1

FMR1050R-BK 0276-8265 50A 125/250V 3W FLUSH MNT RANGE 1

FMR1050R-WH 0276-8268 50A 125/250V 3W FLUSH MNT RANGE 1

FMR1450R-BK 0273-5238 FLUSH MOUNT RANGE RECEPTACLE STR 1

FMR1450R-WH 0289-1295 FLUSH MOUNT RANGE RCPT STRAIGHT 1

RPP335AP 0425-4465 30/50A 125/250V 3W ANGLE PLUG 1

RPP435AP 0425-4468 30/50A 125/250V 4W ANGLE PLUG 1

SMD1030R-BK 0424-2777 30A 125/250V 3W SURFACE MNT DRYE 1

SMD1430R-BK 0424-2780 SURFACE MNT DRYER REC STR BLADE 1

SMR1050R-BK 0424-2783 50A 125/250V 3W SURFACE MNT RANG 1

SMR1450R-BK 0424-2786 SURFACE MNT RANGE RECEPT STR BLA 1

FWD15-WH

CSB120-WH

CD11115-WH

SPT15-WH

RPP5266P

FMD1430R-WH



WWW.RPP-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.RPP-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

RECEPTACLES        

HGR20-IV 0288-1704 20A 125V HG NEMA 5-20R DPLX RCPT 1

HGR20-OR 0288-1707 20A 125V HG NEMA 5-20R DPLX RCPT 1

HGR20-RD 0288-1710 20A 125V HG NEMA 5-20R DPLX RCPT 1

HGR20-WH 0288-1713 20A 125V HG NEMA 5-20R DPLX RCPT 1

IGR20-IV 0289-1334 ISOLATED GROUND DPLX RCPT IVORY 1

IGR20-OR 0288-1716 20A 125V IG NEMA 5-20R DPLX RCPT 1

IGR20-RD 0288-1719 20A 125V IG NEMA 5-20R DPLX RCPT 1

IGR20-WH 0288-1722 20A 125V IG NEMA 5-20R DPLX RCPT 1

SR15-IV 0289-0545 SGL RCPT IVORY 1

SR15-WH 0289-0551 15A/125V SGL RECEPT WHITE 1

SR20-IV 0289-1007 20 AMP/125V SGL RECEPT IVORY 1

SR20-LA 0284-7192 20A 125V SGL RCPT NEMA5-20R LT A 1

SR20-WH 0277-4865 20A 125V SINGLE RECPT WHT 1

SR20250-IV 0284-7195 20A 250V SGL RCPT NEMA6-20R IV 1

SR20250-LA 0284-7198 20A 250V SGL RCPT NEMA6-20R LT A 1

SR20250-WH 0284-7201 20A 250V SGL RCPT NEMA6-20R WHT 1

SRTR15-IV 0288-1743 15A SGL RCPT TR IVORY 1

SRTR15-LA 0288-1746 15A SGL RCPT TR LT ALM 1

SRTR15-WH 0288-1749 15A SGL RCPT TR WHITE 1

SRTR20-IV 0288-1752 20A SGL RCPT TR IVORY 1

SRTR20-LA 0288-1755 20A SGL RCPT TR LT ALM 1

SRTR20-WH 0288-1758 20A SGL RCPT TR WHITE 1

TRCR20-IV 0284-6688 20A 125V N5-20R COMM GRD TMP RES 1

TRCR20-LA 0288-1740 20A TR COMM GRADE RCPT LT ALM 1

TRCR20-WH 0284-6691 20A 125V N5-20R COMM GRD TMP RES 1

TRDR15-BK 0289-0593 TAMPER RESISTANT DPLX RECEP BLAC 1

TRDR15-BR 0289-0596 TAMPER RESISTANT DPLX RECEP BROW 1

TRDR15-IV 0273-6705 TAMPER RESISTANT DUP RECPT IVORY 1

TRDR15-LA 0277-2846 TAMPER RESISTANT DPLX RCPT LT AL 1

TRDR15-WH 0273-6708 TAMPER RESISTANT DUP RECPT WHITE 1

TRDRD15-IV 0273-6711 TAMPER RESISTANT DECORA DUP RECP 1

TRDRD15-LA 0277-2849 TAMPER RESISTANT DECORA DPLX RCP 1

TRDRD15-WH 0273-6702 TAMPER RESISTANT DECORATOR DUPLE 1

TRWDR15-WH 0293-3340 15A 125V T/R W/R DPLX RCPT 5-15R 1

TWD15-IV 0289-0908 THREE WAY DECORATOR SW IVORY 1

TWD15-LA 0277-2633 15A 120/277V 3-WAY DECORA SW LT 1

TWD15-WH 0289-0911 3 WAY DECORATOR SW WHITE 1

TWT15-IV 0289-0584 3 WAY TOGGLE SW IVORY 1

TWT15-LA 0277-2639 3 WAY TOG SW LT ALM 15A 120/277V 1

TWT15-WH 0289-0587 3 WAY TOGGLE SW WHITE 1

84 85

PART # STOCK CODE DESCRIPTION PER

WALLPLATES & DATA CONNECTORS    

SP13 0275-5530 1G BLANK PLATE SS 1

SP26 0275-5566 1G DECOR/GFCI SS 1

P1-IV 0269-7129 1G TOGGLE SW PLATE IVY 1

P1-LA 0277-2699 1G TOGGLE SW WALLPLATE LT ALM 1

P1-WH 0269-7132 1G TOG SW PLATE WHT 1

P11-IV 0279-8940 1G PHONE/CABLE 0.406" DIA HOLE I 1

P11-LA 0280-5309 1G PHONE/CABLE 0.406" DIA HOLE L 1

P11-WH 0279-8943 1G PHONE/CABLE 0.406" DIA HOLE W 1

P113-IV 0269-7243 2G 1 BLANK 1 TOG IVY 1

P113-LA 0277-2735 2G COMBO 1 BLANK /1 TOG LT ALM 1

P113-WH 0269-7246 2G 1 BLANK 1 TOG WHT 1

P126-IV 0269-7267 2G 1 TOG 1 DECO/GFCI IVY 1

P126-LA 0277-2774 2G COMBO TOG/ DECORA LT ALM 1

P126-WH 0269-7270 2G 1 TOG 1 DECO/GFCI WHT 1

P13-IV 0269-7111 1G BLANK IVY 1

P13-LA 0277-2693 1G BLANK PLASTIC WALLPLATE LT AL 1

P13-WH 0269-7114 1G BLANK WHT 1

P18-IV 0269-7261 2G 1 TOG 1 DUPLEX IVY 1

P18-LA 0277-2771 2G COMBO TOG/ DUPLEX RCPT LA 1

P18-WH 0269-7264 2G 1 TOG 1 DUPLEX WHT 1

P2-IV 0269-7135 2G TOG SW PLATE IVY 1

P2-LA 0277-2702 2G TOGGLE SW WALLPLATE LT ALM 1

P2-WH 0269-7138 2G TOG SW PLATE WHT 1

P23-IV 0269-7117 2G BLANK IVY 1

P23-LA 0277-2696 2G BLANK PLASTIC WALLPLATE LT AL 1

P23-WH 0269-7120 2G BLANK WHT 1

P26-IV 0269-7195 1G DECOR/GFI IVY 1

P26-LA 0277-2738 1G DECORA GFCI PLASTIC WALLPLATE 1

P26-WH 0269-7198 1G DECOR GFI WHT 1

P2613-IV 0289-0620 COMBO 2G BLANK AND DECO/GFCI IVO 1

P2613-LA 0289-0623 2G 1 BLANK 1 GFCI LT ALM 1

P2613-WH 0289-0626 COMBO 2G BLANK AND DECO/GFCI WHI 1

P262-IV 0269-7201 2G DECOR GFI IVY 1

P262-LA 0277-2741 2G DECORA GFCI PLASTIC WALLPLATE 1

P262-WH 0269-7204 2G DECOR GFI WHT 1

P263-IV 0269-7207 3G DECOR GFI IVY 1

P263-LA 0277-2744 3G DECORA GFCI PLASTIC WALLPLATE 1

P263-WH 0269-7210 3G DECOR GFI WHT 1

P264-IV 0269-7213 4G DECOR GFI IVY 1

P264-LA 0277-2747 4G DECORA GFCI PLASTIC WALLPLATE 1

P264-WH 0269-7216 4G DECOR GFI WHT 1

P265-IV 0269-7219 5G DECOR GFI IVY 1

P265-LA 0277-2750 5G DECORA GFCI PLASTIC WALLPLATE 1

P265-WH 0269-7222 5G DECOR GFI WHT 1

P266-IV 0269-7225 6G DECOR GFI IVY 1

P266-LA 0277-2753 6G DECORA GFCI PLASTIC WALLPLATE 1

P266-WH 0269-7228 6G DECOR GFI WHT 1

P2F-IV 0279-8946 1G DUPLEX F TYPE CON FEMALE TO F 1

SR15-WH

TWD15-WH

IGR20-WH P1-WH

P262-WH

P26-WH



WWW.RPP-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.RPP-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

WALLPLATES & DATA CONNECTORS      

P33-IV 0269-7123 3G BLANK IVY 1

P33-LA 0277-2708 3G BLANK PLASTIC WALLPLATE LT AL 1

P33-WH 0269-7126 3G BLANK WHT 1

P4-IV 0269-7147 4G TOG SW PLATE IVY 1

P4-LA 0277-2711 4G TOGGLE SW WALLPLATE LT ALM 1

P4-WH 0269-7150 4G TOG SW PLATE WHT 1

P5-IV 0269-7153 5G TOG SW PLATE IVY 1

P5-LA 0277-2714 5G TOGGLE SW WALLPLATE LT ALM 1

P5-WH 0269-7156 5G TOG SW PLATE WHT 1

P6-IV 0269-7159 6G TOG SW PLATE IVY 1

P6-LA 0277-2717 6G TOGGLE SW WALLPLATE LT ALM 1

P6-WH 0269-7162 6G TOG SW PLATE WHT 1

P7-IV 0269-7237 1G SNGL RECEP 1.406" IVY 1

P7-LA 0277-2759 SGL RCPT PLATE LT ALM 1

P7-WH 0269-7240 1G SNGL RECEPT 1.406" WHT 1

P8-IV 0269-7165 1G DUPLEX RECEPT PLATE IVY 1

P8-LA 0277-2720 1G DPLX RCPT PLASTIC WALLPLATE L 1

P8-WH 0269-7168 1G DUPLEX RECEPT PLATE WHT 1

P813-IV 0289-0650 COMBO 2G BLANK AND DPLX RECEPT I 1

P813-LA 0289-0653 COMBO 2G 1 BLANK AND 1 TOGGLE LI 1

P813-WH 0289-0656 COMBO 2G BLANK AND DPLX RECEPT W 1

P82-IV 0269-7171 2G DUPLEX RECEPT PLATE IVY 1

P82-LA 0277-2723 2G DPLX RCPT PLASTIC WALLPLATE L 1

P82-WH 0269-7174 2G DUPLEX RECEPT PLATE WHT 1

P826-IV 0269-7279 2G 1 DUPLEX 1 GFCI IVY 1

P826-LA 0277-2780 2G COMBO DPLX RCPT/ DECORA GFCI 1

P826-WH 0269-7282 2G 1 DUPLEX 1 GFCI WHT 1

P83-IV 0269-7177 3G DUPLEX RECEPT PLATE IVY 1

P83-LA 0277-2726 3G DPLX RCPT PLASTIC WALLPLATE L 1

P83-WH 0269-7180 3G DUPLEX RECEPT PLATE WHT 1

P84-IV 0269-7183 4G DUPLEX RECEPT PLATE IVY 1

P84-LA 0277-2729 4G DPLX RCPT PLASTIC WALLPLATE L 1

P84-WH 0269-7186 4G DUPLEX RECEPT PLATE WHT 1

P87-IV 0269-7285 2G 1 DUPLEX 1 SNGL RECEPT IVY 1

P87-LA 0277-2783 2G COMBO DPLX / SGL RCPT LT ALM 1

P87-WH 0269-7288 2G 1 DUPLEX 1 SNGL RECEPT WHT 1

PF-IV 0279-8952 1G PLATE SNGL F TYPE CONN FEMALE 1

PFTEL-IV 0279-8958 1G 1 FYTPE CON FEML TO FEML 1 RJ 1

PFTEL-WH 0279-8961 1G 1 FYTPE CON FEML TO FEML 1 RJ 1

PTEL264-IV 0279-8964 1G 2 MOD TELE JACKS DPLX RJ11 6 1

PTEL264-WH 0279-8967 1G 2 MOD TELE JACKS DPLX RJ11 6 1

PTEL266-IV 0279-8970 1G DUPLEX RJ11 6 POS 6CONN IVORY 1

PTEL266-WH 0279-8973 1G DUPLEX RJ11 6 POS 6CONN WHITE 1

PTEL64-IV 0279-8976 1G OPEN MOD TELE JACK 1 RJ11 JAC 1

PTEL64-WH 0279-8979 1G OPEN MOD TELE JACK 1 RJ11 JAC 1

PTEL66-IV 0279-8982 1G PLATE ONE RJ11 JACK 6 POS 6CO 1

PTEL66-WH 0279-8985 1G PLATE ONE RJ11 JACK 6 POS 6CO 1

86 87

PART # STOCK CODE DESCRIPTION PER

WALLPLATES & DATA CONNECTORS    

RDC1-IV 0279-8988 1G 1-PORT PLATE IVORY 1

RDC101-IV 0279-8880 GOLD F TYPE COUPLR BULKHD FEMALE 1

RDC101-WH 0279-8883 GOLD F TYPE COUPLR BULKHD FEMALE 1

RDC102-IV 0279-8886 NICKEL F TYPE COUPLR BULKHD FEMA 1

RDC104-BL 0279-9372 CATEGORY 6 JACKS BLUE 1

RDC104-GR 0279-9375 CATEGORY 6 JACKS GREEN 1

RDC104-GY 0279-9378 CATEGORY 6 JACKS GRAY 1

RDC104-IV 0279-8898 CATEGORY 6 JACKS IVORY 1

RDC104-OR 0279-9381 CATEGORY 6 JACKS ORANGE 1

RDC104-WH 0279-8901 CATEGORY 6 JACKS WHITE 1

RDC105-BL 0279-9387 CATEGORY 5E JACKS BLUE 1

RDC105-GR 0279-9390 CATEGORY 5E JACKS GREEN 1

RDC105-GY 0279-9393 CATEGORY 5E JACKS GRAY 1

RDC105-OR 0279-9396 CATEGORY 5E JACKS ORANGE 1

RDC2-IV 0279-8994 1G 2-PORT PLATE IVORY 1

RDC3-IV 0279-9000 1G 3-PORT PLATE IVORY 1

RDC3-WH 0279-9003 1G 3-PORT PLATE WHITE 1

RDC4-IV 0279-9006 1G 4-PORT PLATE IVORY 1

RDC4-WH 0279-9009 1G 4-PORT PLATE WHITE 1

PF-WH 0279-8955 1G PLATE SNGL F TYPE CONN FEMALE 1

RDC103-IV 0279-8892 KEYSTONE BLANK ADAPTER ALM 1

RDC103-WH 0279-8895 KEYSTONE BLANK ADAPTER BLACK 1

RDC105-BL 0289-1301 CATEGORY 5E JACKS BROWN 1

RDC501-IV 0279-8910 1 RJ11 JACK,4POS 4 CONDTR IVORY 1

RDC501-WH 0279-8913 1 RJ11 JACK,4POS 4 CONDTR WHITE 1

RDC503-IV 0279-8916 DUPLEX RJ11 JACKS 4 POS 4 COND I 1

RDC503-WH 0279-8919 DUPLEX RJ11 JACKS 4 POS 4 COND W 1

RDC505-IV 0279-8922 SINGLE F-TYPE CONN WALL JACK FEM 1

RDC505-WH 0279-8925 SINGLE F-TYPE CONN WALL JACK FEM 1

RDC506-IV 0279-8928 DUPLEX F-TYPE CONN WALL JACK FEM 1

RDC506-WH 0279-8931 DUPLEX F-TYPE CONN WALL JACK FEM 1

RDC507-IV 0279-8934 COMBO ONE RJ11 4 POS 4 COND ONE 1

RDC507-WH 0279-8937 COMBO ONE RJ11 4 POS 4 COND ONE 1

RDC511-IV 0279-9012 1G DIMMER PLASTIC SHAFT ADAPTER 1

RDC511-WH 0279-9015 1G DIMMER PLASTIC SHAFT ADAPTER 1

RDC513-IV 0279-9021 1G BLANK ADAPTER DECORATOR IVORY 1

RDC513-WH 0279-9018 1G BLANK ADAPTER DECORATOR WHITE 1

RDC6-IV 0279-9024 1G 6-PORT PLATE IVORY 1

RDC6-WH 0279-9027 1G 6-PORT PLATE WHITE 1

RPM1-IV 0274-0050 RPP MID SIZE 1G TOGGLE SW PLATE 1

RPM1-LA 0277-2789 1G MID-SIZE TOGGLE SW PLATE LT A 1

RPM1-WH 0274-0053 RPP MID SIZE 1G TOGGLE SW PLATE 1

RPM126-IV 0274-0182 RPP MID SIZE 2G TOGGLE & DECOR 1

RPM126-LA 0277-2819 2G MID-SIZE TOG/ DPLX RCPT LT AL 1

RPM126-WH 0274-0185 RPP MID SIZE 2G TOGGLE & DECOR 1

RPM13-IV 0274-0140 RPP MID SIZE 1G BLANK PLATE IVY 1

RPM13-LA 0277-2822 1G MID-SIZE BLANK PLATE LT ALM 1

P8-WH

P83-WH

P8-WH

RDC3-WH

RDC501-WH

PTEL64-WH



WWW.RPP-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.RPP-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

WALLPLATES & DATA CONNECTORS      

RPM13-WH 0274-0143 RPP MID SIZE 1G BLANK PLATE WHT 1

RPM18-IV 0274-0176 RPP MID SIZE 2G TOG & DUPLEX REC 1

RPM18-LA 0277-2825 2G MID-SIZE TOG/ DPLX RCPT LT AL 1

RPM18-WH 0274-0179 RPP MID SIZE 2G TOG & DUPLEX REC 1

RPM2-IV 0274-0056 RPP MID SIZE 2G TOGGLE SW PLATE 1

RPM2-LA 0277-2792 2G MID-SIZE TOGGLE SW PLATE LT A 1

RPM2-WH 0274-0059 RPP MID SIZE 2G TOGGLE SW PLATE 1

RPM23-IV 0274-0146 RPP MID SIZE 2G BLANK PLATE IVY 1

RPM23-LA 0277-2828 2G MID-SIZE BLANK PLATE LT ALM 1

RPM23-WH 0274-0149 RPP MID SIZE 2G BLANK PLATE WHT 1

RPM26-WH 0274-0107 RPP MID SIZE 1G DECOR/GFCI PLATE 1

RPM262-IV 0274-0110 RPP MID SIZE 2G DECOR/GFCI PLATE 1

RPM262-LA 0277-2798 2G MID-SIZE DECORA/GFCI PLATE LT 1

RPM262-WH 0274-0113 RPP MID SIZE 2G DECOR/GFCI PLATE 1

RPM263-IV 0274-0116 RPP MID SIZE 3G DECOR/GFCI PLATE 1

RPM263-LA 0277-2831 3G MID-SIZE DECORA/GFCI PLATE LI 1

RPM263-WH 0274-0119 RPP MID SIZE 3G DECOR/GFCI PLATE 1

RPM264-IV 0274-0122 RPP MID SIZE 4G DECOR/GFCI PLATE 1

RPM264-LA 0277-2834 4G MID-SIZE DECORA/GFCI PLATE LT 1

RPM264-WH 0274-0125 RPP MID SIZE 4G DECOR/GFCI PLATE 1

RPM265-IV 0274-0128 RPP MID SIZE 5G DECOR/GFCI PLATE 1

RPM265-LA 0277-2837 5G MID-SIZE DECORA/GFCI PLATE LT 1

RPM265-WH 0274-0131 RPP MID SIZE 5G DECOR/GFCI PLATE 1

RPM266-IV 0274-0134 RPP MID SIZE 6G DECOR/GFCI PLATE 1

RPM266-LA 0277-2840 6G MID-SIZE DECORA/GFCI PLATE LT 1

RPM266-WH 0274-0137 RPP MID SIZE 6G DECOR/GFCI PLATE 1

RPM3-IV 0274-0062 RPP MID SIZE 3G TOGGLE SW PLATE 1

RPM3-LA 0277-2801 3G MID-SIZE TOGGLE SW PLATE LT A 1

RPM3-WH 0274-0065 RPP MID SIZE 3G TOGGLE SW PLATE 1

RPM4-IV 0274-0068 RPP MID SIZE 4G TOGGLE SW PLATE 1

RPM4-LA 0277-2804 4G MID-SIZE TOGGLE SW PLATE LT A 1

RPM4-WH 0280-0605 4G MID SIZE TOGGLE SW PLATE WHT 1

RPM5-IV 0274-0074 RPP MID SIZE 5G TOGGLE SW PLATE 1

RPM5-LA 0277-2807 5G MID-SIZE TOGGLE SW PLATE LT A 1

RPM5-WH 0289-1517 MID SIZE 5G TOGGLE SW PLATE WHIT 1

RPM6-IV 0274-0080 RPP MID SIZE 6G TOGGLE SW PLATE 1

RPM6-LA 0277-2810 6G MID-SIZE TOGGLE SW PLATE LT A 1

RPM6-WH 0289-1541 6G MID SIZE TOGGLE SW PLATE WHIT 1

RPM8-IV 0274-0092 RPP MID SIZE 1G DUPLEX RECEPT PL 1

RPM8-LA 0277-2813 1G MID-SIZE DPLX RCPT PLATE LT A 1

RPM8-WH 0274-0095 RPP MID SIZE 1G DUPLEX RECEPT PL 1

RPM82-IV 0274-0098 RPP MID SIZE 2G DUPLEX RECEPT PL 1

RPM82-LA 0277-2816 2G MID-SIZE DPLX RCPT PLATELT AL 1

RPM82-WH 0274-0101 RPP MID SIZE 2G DUPLEX RECEPT PL 1

RPM826-IV 0274-0188 RPP MID SIZE 2G DUPLEX RECEPT 1

RPM826-LA 0277-2843 2G MID-SIZE DPLX RCPT/ DECORA /G 1

RPM826-WH 0274-0191 RPP MID SIZE 2G DUPLEX RECEPT 1

88 89

PART # STOCK CODE DESCRIPTION PER

WALLPLATES & DATA CONNECTORS    

SP1 0275-5542 1G TOGGLE SWITCH SS 1

SP11 0275-5581 1G PHONE/CABLE 0.406" DIA. HOLE 1

SP113 0275-5593 2G 1 BLANK 1 TOG SS 1

SP126 0275-5605 2G 1 TOGGLE 1 DECOR/GFCI S 1

SP18 0275-5602 2G 1 TOG 1 DUPLEX SS 1

SP2 0275-5545 2G TOG SW SS 1

SP23 0275-5533 2G BLANK PLATE SS 1

SP262 0275-5569 2G DECOR/GFCI SS 1

SP263 0275-5572 3G DECOR/GFCI SS 1

SP264 0275-5575 4G DECOR/GFCI SS 1

SP28 0275-5614 3G 2G TOG 1 DUPLEX 1

SP3 0275-5548 3G TOG SW SS 1

SP33 0275-5536 3G BLANK PLATE SS 1

SP4 0275-5551 4G TOG SW SS 1

SP43 0275-5539 4G BLANK PLATE SS 1

SP7 0275-5578 1G SNGL RECEPT 1.406" DIA HOLE 1

SP703 0288-1737 2G PWR OUTLET 2.125 DIA HOLE SS 1

SP720 0275-5587 1G TL SINGLE RECEPT 1.620" DIA 1

SP8 0275-5554 1G DUPLEX RECEPT SS 1

SP82 0275-5557 2 1G DUPLEX RECEPT SS 1

SP826 0275-5608 2G 1 DUPLEX 1 DECORA/ GFCI STA 1

RDL2-WH 0542-7915 2 PORT DATA PLATE W/LABELS WH 1

RDL4-WH 0542-7912 4 PORT DATA PLATE W/LABELS WH 1

RDR1-WH 0542-3820 SINGLE GANG RECES. DATA PLATE 1

RDS1-WH 0542-3784 SINGLE PORT DATA STRAP WHITE 1

RDS2-WH 0542-3787 TWO PORT DATA STRAP WHITE 1

RDS3-WH 0542-3790 THREE PORT DATA STRAP WHITE 1

RDS4-WH 0542-3793 FOUR PORT DATA STRAP WHITE 1

RG6 COMP 0316-3197 COMP CONN RG6/RG59 (QTY 1 - 1 JA 1

RJ 45 PT5 0493-0857 CAT5 RJ45 PASS THROUGH (100PCS - 1

RJ 45 PT6 0493-0860 CAT6 RJ45 PASS THROUGH (100PCS - 1

RJ 45 0223-6692 TELEPHONE RJ45 PLUG (QTY 1 - 1 J 100

PART # STOCK CODE DESCRIPTION PER

HDMI    

WC HDMI10IW 0542-0895 10FT 2.0V 4K IN-WALL RATED HDMI 1

WC HDMI15IW 0542-0898 15FT 2.0V 4K IN-WALL RATED HDMI 1

WC HDMI25IW 0542-0901 25FT 2.0V 4K IN-WALL RATED HDMI 1

WC HDMI50IW 0542-0904 50FT 2.0V 4K IN-WALL RATED HDMI 1

WC HDMI6IW 0542-0892 6FT 2.0V 4K IN-WALL RATED HDMI C 1

RPM1-WH

RPM18-WH

RPM5-WH

RPM1-WH

RG6 COMP

HDMI



WWW.RPP-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.RPP-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

OCCUPANCY SENSORS    

VCMPC50H 0288-1725 LINE VOLTAGE CEILING SENS FIXT M 1

VCDOSW-WH 0320-3895 DUAL-TECH 120/277V, WALL OCC 120 1

VCMDC50L 0320-3883 DUAL TECH CEILING SENSOR, LV, 16 1

VCMDC50V 0320-3886 DUAL TECH, 120/277V CEILNG MT, 1 1

VCMPC50L 0288-1731 LOW VOLTAGE CEILING SENSOR 1

VCMPC50V 0288-1734 LINE VOLTAGE CEILING SENSOR 1

VCOSSW15-IV 0277-7088 INFARED SP WALL SW OCC SENSOR IN 1

VCOSSW15-WH 0277-7091 INFARED SP WALL SW OCC SENSOR IN 1

VCOSW15-IV 0277-7094 PSSVE INFRD 15A SP WALL SW OCC S 1

VCOSW15-WH 0277-7097 PSSVE INFRD 15A SP WALL SW OCC S 1

VCOSWD15-WH 0277-7100 DECOR PSSVE INFARED WALL SW OCC 1

VCOSWDJ15-WH 0280-0245 COM GRD INFRD SP PIR WALL SW OCC 1

VCPP24 0288-1728 LOW VOLTAGE PWR PACK 1

VCSSVW15-IV 0277-7103 PASSVE INFARD WALL SW VACNCY SEN 1

VCSSVW15-WH 0277-7106 PASSVE INFARD WALL SW VACNCY SEN 1

90 91

PART # STOCK CODE DESCRIPTION PER

PHOTOCONTROLS    

PES-120-FM-S 0541-1019 PHOTO ELEC SWITCH 120V FIX MNT S 1

PES-120-WM-M 0541-1025 PHOTO ELEC SWITCH 120V WALL MNT 1

PES-MV-TL 0541-1031 PHOTO ELEC SWITCH MULTI VOLT TWI 1

PES-MV-WM 0541-1022 PHOTO ELEC SWITCH MUTI VOLT WALL 1

PES-TL-R 0542-0889 RECEPTACLE TWIST LOCK PHOTOCONTR 1

PESI-MV-FM-S 0541-1016 PHOTO ELEC SWTCH INT MLTI-V FIX 1

PESI-MV-PFM 0541-1028 PHOTO ELEC SWTCH INT MLTI-V FIX 1

PART # STOCK CODE DESCRIPTION PER

CHARGING ACCESSORIES       

I-PCC-10 0541-9857 NYLON BRAID USB CBL 10FT IPHONE 1

I-PCC-5 0541-9851 NYLON BRAID USB CABLE 5FT IPHONE 1

I-PCC-6 0541-9854 NYLON BRAID USB CABLE 6FT IPHONE 1

MU-PCC-10 0541-9866 NYLON BRAID USB CBL 10FT MICRO U 1

MU-PCC-5 0541-9860 NYLON BRAID USB CABLE 5FT MICRO 1

MU-PCC-6 0541-9863 NYLON BRAID USB CABLE 6FT MICRO 1

UC-PCC-10 0544-8009 NYLON BRAID USB-C CBL 10FT BLK 1

UC-PCC-6 0544-8012 NYLON BRAID USB-C CBL 6FT BLK 1

UC-PPC-5 0544-8015 NYLON BRAID USB-C CBL 5FT BLK 1

USB-CCBK 0546-6795 2-PORT 2.4A USB CAR CHARGER BLK 1

USB-WCBK 0546-6792 2-PORT 2A USB WALL CHARGER BLK 1

PART # STOCK CODE DESCRIPTION PER

TIMERS    

TP-MECH-MULTIV 0574-5846 N3R PL 40A 120-277 MECH TIMER SPST/DPST 1

TP-DIGI-MULTIV 0574-5849 N3R PL 40A 120-277 DIGIT TIMER SPST/DPST 1

PART # STOCK CODE DESCRIPTION PER

SURGE PROTECTORS       

RPP-120/240SPD+ 0545-3043 UL LISTED TYPE 1 SPD 120/240VAC 1

RPP-SPD1ULTRA 0545-3052 UL LISTED TYPE 1 120/240VAC SPD W/ALARM 1

PART # STOCK CODE DESCRIPTION PER

CORD GRIPS    

RPP7677 0454-6791 DST T 3/4 NPT INS 0.52-0.73 1

RPP7676 0454-6788 DST T 1/2 NPT INS 0.40-0.54 1

RPP6972 0454-6818 SUP BUS DR 0.56-0.73 1

RPP7678 0454-6794 DST T 1 NPT INS 0.70-0.97 1

RPP6973 0454-6821 SUP BUS DR 0.73-0.85 1

RPP7675 0454-6785 DST T 1/2 NPT INS 0.30-0.43 1

RPP6971 0454-6815 SUP BUS DR 0.43-0.56 1

RPP7742 0474-0276 DLX 3/4 NPT SRT M 0.63-0.75 1

RPP6974 0454-6824 SUP BUS DR 0.85-1.00 1

RPP7679 0454-6797 DST T 1.25 NPT INS 0.94-1.25 1

RPP6970 0454-6812 SUP BUS DR 0.32-0.43 1

VCDOSW-WH

VCMDC50V

TP-MECH-MULTIV

RPP-120/240SPD+

RPP7675 

PES-120-FM-S

I-PCC-6



92

To explore MCG’s full product line, scan  

the QR code with your phone to browse our website!

Questions? Reach out to us at  
INFO@MCG-USA.COM

MCG Industrial specializes in industrial motor controls 

and automation products. While recognized for its 

large product o ering of individual components, MCG 

o ers a variety of custom-built solutions. Its’ UL 508 

certification supports the expertise of the team and 

the quality of the products produced.

About MCG

93



WWW.MCG-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.MCG-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

AC DISCONNECTS

MAC-DNP60 0427-5870 AC DISCONNECT - PLASTIC 60A NON- 1

MAC-DNS60 0427-5873 AC DISCONNECT - METAL 60A NON-FU 1

94 95

PART # STOCK CODE DESCRIPTION PER

START CAPACITORS

AMSY108/125-252 0576-5985 NEW-108-130(MFD) 125V START CAP 1

AMSY108/250-252 0576-5964 NEW-108-130(UF) 250V START CAP 1

AMSY124/250-252 0576-5976 NEW-124-149(MFD) 250V START CAP 1

AMSY161/125-252 0576-5958 NEW-161-193(MFD) 125V START CAP 1

AMSY161/330-252 0576-5961 NEW-161-193(MFD) 330V START CAP 1

AMSY189/125-252 0576-5979 NEW-189-227(MFD) 125V START CAP 1

AMSY216/250-252 0576-5973 NEW-216-259(MFD) 250V START CAP 1

AMSY270/250-252 0576-5988 NEW-270-324(MFD) 250V START CAP 1

AMSY270/330-252 0576-5982 NEW-270-324(MFD) 330V START CAP 1

AMSY708/125-252 0576-5991 NEW-708-850(MFD) 125V START CAP 1

AMSY88/250-252 0576-5970 NEW-88-108(MFD) 250V START CAP 1

MAC-DNP60

PART # STOCK CODE DESCRIPTION PER

AC MOTORS

ACM1/2DDB-MAX 0582-4206 1/2HP 208-230 4SP 2.85-2.65A 107 1

ACM1/3CF 0582-4227 1/3HP, 208-230V 2SP 2.2-1.9 825 1

ACM1/3CF-208/230 0582-4200 1/3HP, 208-230V 1SP 2.4A 1075 RP 1

ACM1/3CF-MAX 0582-4203 1/3HP,208-230V 1SP1.95-1.8A 1075 1

ACM1/3DDB-208/230 0582-4212 1/3HP, 208-230V 3SP 2.29A 1075RP 1

ACM1/4CF-1075 0582-4197 1/4HP, 208-230V 1SP 1.7A 1075RPM 1

PART # STOCK CODE DESCRIPTION PER

RUN CAPACITORS

AMRY050R440-151 0425-5641 5(MFD) 440V ROUND CASE RUN CAP 1

AMRY050V440-151 0425-5599 5(MFD) 440V OVAL CASE RUN CAP 1

AMRY075R440-151 0425-5644 7.5(MFD) 440V ROUND CASE RUN CAP 1

AMRY075V440-151 0425-5602 7.5(MFD) 440V OVAL CASE RUN CAP 1

AMRY100R440-151 0425-5680 10(MFD) 440V ROUND CASE RUN CAP 1

AMRY100V440-151 0425-5605 10(MFD) 440V OVAL CASE RUN CAP 1

AMRY125R440-151 0425-5683 12.5(MFD) 440V ROUND CASE RUN CA 1

AMRY150R440-151 0425-5686 15(MFD) 440V ROUND CASE RUN CAP 1

AMRY150V440-151 0425-5608 15(MFD) 440V OVAL CASE RUN CAP 1

AMRY200R440-151 0425-5689 20(MFD) 440V ROUND CASE RUN CAP 1

AMRY200V440-151 0425-5611 20(MFD) 440V OVAL CASE RUN CAP 1

AMRY250R440-151 0425-5692 25(MFD) 440V ROUND CASE RUN CAP 1

AMRY250V440-151 0425-5614 25(MFD) 440V OVAL CASE RUN CAP 1

AMRY300R440-151 0425-5695 30(MFD) 440V ROUND CASE RUN CAP 1

AMRY300V440-151 0425-5617 30(MFD) 440V OVAL CASE RUN CAP 1

AMRY350D050R440-15 0425-5719 35/5(MFD) 440V ROUND CASE DUEL R 1

AMRY350R440-151 0425-5698 35(MFD) 440V ROUND CASE RUN CAP 1

AMRY350V440-151 0425-5620 35(MFD) 440V OVAL CASE RUN CAP 1

AMRY400R440-151 0425-5701 40(MFD) 440V ROUND CASE RUN CAP 1

AMRY400V440-151 0425-5623 40(MFD) 440V OVAL CASE RUN CAP 1

AMRY450R440-151 0425-5704 45(MFD) 440V ROUND CASE RUN CAP 1

AMRY450V440-151 0425-5626 45(MFD) 440V OVAL CASE RUN CAP 1

AMRY500R440-151 0425-5707 50(MFD) 440V ROUND CASE RUN CAP 1

AMRY550D050V440-15 0425-5716 55/5(MFD) 440V OVAL CASE RUN CAP 1

AMRY550R440-151 0425-5710 55(MFD) 440V ROUND CASE RUN CAP 1

AMRY600R440-151 0425-5713 60(MFD) 440V ROUND CASE RUN CAP 1

PART # STOCK CODE DESCRIPTION PER

DEFINITE PURPOSE CONTACTORS

MDP20A-2P-120 0425-0544 MDP CONT 2 POLE 20A 120VAC COIL 1

MDP20A-2P-208/240 0425-0547 MDP CONT 2 POLE 20A 208/240VAC C 1

MDP20A-2P-24 0425-0541 MDP CONT 2 POLE 20A 24VAC COIL 1

MDP20A-2P-277 0425-0550 MDP CONT 2 POLE 20A 277VAC COIL 1

MDP20A-3P-120 0425-0868 MDP CONT 3 POLE 20A 120VAC COIL 1

MDP20A-3P-208/240 0425-0865 MDP CONT 3 POLE 20A 208/240VAC C 1

MDP20A-3P-24 0425-0871 MDP CONT 3 POLE 20A 24VAC COIL 1

MDP20A-3P-277 0425-0862 MDP CONT 3 POLE 20A 277VAC COIL 1

MDP25A-1.5-120 0425-0508 MDP CONT 1.5 POLE 25A 120VAC COI 1

MDP25A-1.5-208/240 0425-0511 MDP CONT 1.5 POLE 25A 208/240VAC 1

MDP25A-1.5-24 0425-0505 MDP CONT 1.5 POLE 25A 24VAC COIL 1

MDP25A-1.5-277 0425-0514 MDP CONT 1.5 POLE 25AV 277VAC CO 1

MDP25A-2P-208/240 0425-0895 MDP CONT 2 POLE 25A 208/240VAC C 1

MDP25A-2P-24 0425-0553 MDP CONT 2 POLE 25A 24VAC COIL 1

MDP25A-2P-277 0425-0892 MDP CONT 2 POLE 25A 277VAC COIL 1

MDP25A-3P-120 0425-0856 MDP CONT 3 POLE 25A 120VAC COIL 1

MDP25A-3P-208/240 0425-0853 MDP CONT 3 POLE 25A 208/240VAC C 1

MDP25A-3P-24 0425-0859 MDP CONT 3 POLE 25A 24VAC COIL 1

MDP25A-3P-277 0425-0850 MDP CONT 3 POLE 25A 277VAC COIL 1

MDP25A-4P-120 0425-0787 MDP CONT 4 POLE 25A 120VAC COIL 1

MDP25A-4P-208/240 0425-0784 MDP CONT 4 POLE 25A 208/240VAC C 1

MDP25A-4P-24 0425-0790 MDP CONT 4 POLE 25A 24VAC COIL 1

MDP25A-4P-277 0425-0781 MDP CONT 4 POLE 25A 277VAC COIL 1

MDP30A-1.5-120 0425-0520 MDP CONT 1.5 POLE 30A 120VAC COI 1

MDP30A-1.5-208/240 0425-0523 MDP CONT 1.5 POLE 30A 208/240VAC 1

MDP30A-1.5-24 0425-0517 MDP CONT 1.5 POLE 30A 24VAC COIL 1

MDP30A-1.5-277 0425-0526 MDP CONT 1.5 POLE 30A 277VAC COI 1

MDP30A-2P-120 0425-0889 MDP CONT 2 POLE 30A 120VAC COIL 1

MDP30A-2P-208/240 0425-0886 MDP CONT 2 POLE 30A 208/240VAC C 1

MDP30A-2P-24 0425-1858 MDP CONT 2 POLE 30A 24VAC COIL 1

MDP30A-2P-277 0425-0883 MDP CONT 2 POLE 30A 277VAC COIL 1

MDP30A-3P-120 0425-0844 MDP CONT 3 POLE 30A 120VAC COIL 1

MAC-DNS60

ACM1/2DDB-MAX

AMRY200V440-151

START CAPACITORS

1.5 POLE

2 POLE



WWW.MCG-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.MCG-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

DEFINITE PURPOSE CONTACTORS

MDP30A-3P-208/240 0425-0841 MDP CONT 3 POLE 30A 208/240VAC C 1

MDP30A-3P-24 0425-0847 MDP CONT 3 POLE 30A 24VAC COIL 1

MDP30A-3P-277 0425-0838 MDP CONT 3 POLE 30A 277VAC COIL 1

MDP30A-4P-120 0425-0574 MDP CONT 4 POLE 30A 120VAC COIL 1

MDP30A-4P-208/240 0425-0775 MDP CONT 4 POLE 30A 208/240VAC C 1

MDP30A-4P-24 0425-0778 MDP CONT 4 POLE 30A 24VAC COIL 1

MDP30A-4P-277 0425-0772 MDP CONT 4 POLE 30A 277VAC COIL 1

MDP40A-1.5-120 0425-0532 MDP CONT 1.5 POLE 40A 120VAC COI 1

MDP40A-1.5-208/240 0425-0535 MDP CONT 1.5 POLE 40A 208/240VAC 1

MDP40A-1.5-24 0425-0529 MDP CONT 1.5 POLE 40A 24VAC COIL 1

MDP40A-1.5-277 0425-0538 MDP CONT 1.5 POLE 40A 277VAC COI 1

MDP40A-2P-120 0425-0880 MDP CONT 2 POLE 40A 120VAC COIL 1

MDP40A-2P-208/240 0425-0877 MDP CONT 2 POLE 40A 208/240VAC C 1

MDP40A-2P-277 0425-0874 MDP CONT 2 POLE 40A 277VAC COIL 1

MDP40A-3P-120 0425-0832 MDP CONT 3 POLE 40A 120VAC COIL 1

MDP40A-3P-208/240 0425-0829 MDP CONT 3 POLE 40A 208/240VAC C 1

MDP40A-3P-24 0425-0835 MDP CONT 3 POLE 40A 24VAC COIL 1

MDP40A-3P-277 0425-0826 MDP CONT 3 POLE 40A 277VAC COIL 1

MDP40A-4P-120 0425-0583 MDP CONT 4 POLE 40A 120VAC COIL 1

MDP40A-4P-208/240 0425-0577 MDP CONT 4 POLE 40A 208/240VAC C 1

MDP40A-4P-24 0425-0571 MDP CONT 4 POLE 40A 24VAC COIL 1

MDP40A-4P-277 0425-0580 MDP CONT 4 POLE 40A 277VAC COIL 1

MDP50A-3P-120 0425-1852 MDP CONT 3 POLE 50A 120VAC COIL 1

MDP50A-3P-208/240 0425-0820 MDP CONT 3 POLE 50A 208/240VAC C 1

MDP50A-3P-24 0425-0823 MDP CONT 3 POLE 50A 24VAC COIL 1

MDP50A-3P-277 0425-0817 MDP CONT 3 POLE 50A 277VAC COIL 1

MDP60A-3P-120 0425-0811 MDP CONT 3 POLE 60A 120VAC COIL 1

MDP60A-3P-208/240 0425-0808 MDP CONT 3 POLE 60A 208/240VAC C 1

MDP60A-3P-24 0425-0814 MDP CONT 3 POLE 60A 24VAC COIL 1

MDP60A-3P-277 0425-0805 MDP CONT 3 POLE 60A 277VAC COIL 1

MDP75A-3P-120 0425-0799 MDP CONT 3 POLE 75A 120VAC COIL 1

MDP75A-3P-208/240 0425-0796 MDP CONT 3 POLE 75A 208/240VAC C 1

MDP75A-3P-24 0425-0802 MDP CONT 3 POLE 75A 24VAC COIL 1

MDP75A-3P-277 0425-0793 MDP CONT 3 POLE 75A 277VAC COIL 1

MDP75A-4P-208/240 0556-4079 MDP CONT 4 POLE 75A 208/240VAC C 1

MDP90A-3P-120 0425-0568 MDP CONT 3 POLE 90A 120VAC COIL 1

MDP90A-3P-208/240 0425-0562 MDP CONT 3 POLE 90A 208/240VAC C 1

MDP90A-3P-24 0425-0556 MDP CONT 3 POLE 90A 24VAC COIL 1

MDP90A-3P-277 0425-0565 MDP CONT 3 POLE 90A 277VAC COIL 1

MDPA-1NC 0539-5830 1NC AUX CONT FOR DP 3P 20-60A / 1

MDPA-1NC/1NO 0539-5833 1NC/1NO AUX  FOR DP 3P20-60A &4P 1

MDPA-1NO 0539-5836 1NO AUX FOR DP3P20-60A & 4P20-40 1

MDPA-2NC 0539-5839 2 NC AUX FOR DP 3P20-60A & 4P20- 1

MDPA-2NO 0539-5842 2 NO AUX FOR DP 3P20-60A & 4P20- 1

MDPA-2SPDT 0539-5845 2 - SPDT AUX FOR DP 3P30-60A & 4 1

MDPA-90SPDT 0539-5911 1NO 1NC AUX FOR DP 3P75-90A 1

MDPA-SPDT2 0539-5908 1 - SPDT AUX FOR DP 3P20-60A & 4 1

96 97

PART # STOCK CODE DESCRIPTION PER

IEC CONTACTORS & OVERLOADS

MCG-09/11-120V 0529-2954 9A 3P CONT 1NO1NC AUX 120VAC COI 1

MCG-09/11-12VDC 0529-2972 9A 3P CONT 1NO1NC AUX 12VDC COIL 1

MCG-09/11-208V 0529-2963 9A 3P CONT 1NO1NC  AUX 208VAC CO 1

MCG-09/11-240V 0529-2957 9A 3P CONT 1NO1NC AUX 240VAC COI 1

MCG-09/11-24V 0529-2960 9A 3P CONT 1NO1NC AUX 24VAC COIL 1

MCG-09/11-24VDC 0529-2975 9A 3P CONT 1NO1NC AUX 24VDC COIL 1

MCG-09/11-277V 0529-2966 9A 3P CONT 1NO1NC AUX 277VAC COI 1

MCG-09/11-480V 0529-2969 9A 3P CONT 1NO1NC AUX 480VAC COI 1

MCG-100/11-120V 0529-3188 100A 3P CONT 1NO1NC AUX 120VAC C 1

MCG-100/11-208V 0529-3197 100A 3P CONT 1NO1NC AUX 208VAC C 1

MCG-100/11-240V 0529-3185 100A 3P CONT 1NO1NC AUX 240VAC C 1

MCG-100/11-24V 0529-3191 100A 3P CONT 1NO1NC AUX 24VAC CO 1

MCG-100/11-24VDC 0529-3182 100A 3P CONT 1NO1NC AUX 24VDC CO 1

MCG-100/11-277V 0529-3200 100A 3P CONT 1NO1NC AUX 277VAC C 1

MCG-100/11-480V 0529-3194 100A 3P CONT 1NO1NC AUX 480VAC C 1

MCG-12/11-120V 0529-2978 12A 3P CONT 1NO1NC AUX 120VAC CO 1

MCG-12/11-12VDC 0529-2996 12A 3P CONT 1NO1NC AUX 12VDC COI 1

MCG-12/11-208V 0529-2987 12A 3P CONT 1NO1NC AUX 208VAC CO 1

MCG-12/11-240V 0529-2981 12A 3P CONT 1NO1NC AUX 240VAC CO 1

MCG-12/11-24V 0529-2984 12A 3P CONT 1NO1NC AUX 24VAC COI 1

MCG-12/11-24VDC 0529-2999 12A 3P CONT 1NO1NC AUX 24VDC COI 1

MCG-12/11-277V 0529-2990 12A 3P CONT 1NO1NC AUX 277VAC CO 1

MCG-12/11-480V 0529-2993 12A 3P CONT 1NO1NC AUX 480VAC CO 1

MCG-130/11-120V 0529-3212 130A 3P CONT 1NO1NC AUX 120VAC C 1

MCG-130/11-240V 0529-3203 130A 3P CONT 1NO1NC AUX 240VAC C 1

MCG-130/11-24V 0529-3209 130A 3P CONT 1NO1NC AUX 24VAC CO 1

MCG-130/11-24VDC 0529-3206 130A 3P CONT 1NO1NC AUX 24VDC CO 1

MCG-130/11-440V 0529-3215 130A 3P CONT 1NO1NC AUX 440VAC C 1

MCG-150/11-120V 0529-3227 150A 3P CONT 1NO1NC AUX 120VAC C 1

MCG-150/11-240V 0529-3218 150A 3P CONT 1NO1NC AUX 240VAC C 1

MCG-150/11-24V 0529-3224 150A 3P CONT 1NO1NC AUX 24VAC CO 1

MCG-150/11-24VDC 0529-3221 150A 3P CONT 1NO1NC AUX 24VDC CO 1

MCG-150/11-440V 0529-3230 150A 3P CONT 1NO1NC AUX 440VAC C 1

MCG-18/11-120V 0529-3002 18A 3P CONT 1NO1NC AUX 120VAC CO 1

MCG-18/11-12VDC 0529-3020 18A 3P CONT 1NO1NC AUX 12VDC COI 1

MCG-18/11-208V 0529-3011 18A 3P CONT 1NO1NC AUX 208VAC CO 1

MCG-18/11-240V 0529-3005 18A 3P CONT 1NO1NC AUX 240VAC CO 1

MCG-18/11-24V 0529-3008 18A 3P CONT 1NO1NC AUX 24VAC COI 1

MCG-18/11-24VDC 0529-3023 18A 3P CONT 1NO1NC AUX 24VDC COI 1

MCG-18/11-277V 0529-3014 18A 3P CONT 1NO1NC AUX 277VAC CO 1

MCG-18/11-480V 0529-3017 18A 3P CONT 1NO1NC AUX 480VAC CO 1

MCG-18/1A-120V 0539-5599 18A 3P CONT 1NO AUX 120VAC COIL 1

MCG-18/1A-208V 0539-5602 18A 3P CONT 1NO AUX 208VAC COIL 1

MCG-18/1A-240V 0539-5605 18A 3P CONT 1NO AUX 240 VAC COIL 1

MCG-18/1A-24V 0539-5596 18A 3P CONT 1NOAUX 24VAC COIL 1

MCG-18/1A-480V 0539-5608 18A 3P CONT 1NO AUX 480VAC COIL 1

MCG-18RV-120V 0505-0020 18A REVERSING CONTACTOR 120V COI 1

MCG-22/11-120V 0529-3026 22A 3P CONT 1NO1NC AUX 120VAC CO 1

4 POLE

3 POLE

IEC CONTACTORS



WWW.MCG-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.MCG-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

IEC CONTACTORS & OVERLOADS

MCG-22/11-12VDC 0529-3044 22A 3P CONT 1NO1NC AUX 12VDC COI 1

MCG-22/11-208V 0529-3035 22A 3P CONT 1NO1NC AUX 208VAC CO 1

MCG-22/11-240V 0529-3029 22A 3P CONT 1NO1NC AUX 240VAC CO 1

MCG-22/11-24V 0529-3032 22A 3P CONT 1NO1NC AUX 24VAC COI 1

MCG-22/11-24VDC 0529-3047 22A 3P CONT 1NO1NC AUX 24VDC COI 1

MCG-22/11-277V 0529-3038 22A 3P CONT 1NO1NC AUX 277VAC CO 1

MCG-22/11-480V 0529-3041 22A 3P CONT 1NO1NC AUX 480VAC CO 1

MCG-22/4P-120V 0529-3266 22A 4P CONT NO AUX 120VAC COIL 1

MCG-22/4P-208V 0529-3269 22A 4P CONT NO AUX 208VAC COIL 1

MCG-22/4P-240V 0529-3260 22A 4P CONT NO AUX 240VAC COIL 1

MCG-22/4P-24V 0529-3263 22A 4P CONT NO AUX 24VAC COIL 1

MCG-22/4P-277V 0529-3272 22A 4P CONT NO AUX 277VAC COIL 1

MCG-22/4P-480V 0529-3275 22A 4P CONT NO AUX 480VAC COIL 1

MCG-225/22-100MV 0529-3233 225A 3P CONT 2NO2NC AUX 100-240V 1

MCG-225/22-24VACDC 0529-3236 225A 3P CONT 2NO2NC AUX 24VAC/DC 1

MCG-225/22-440MV 0529-3239 225A 3P CONT 2NO2NC AUX 440VAC C 1

MCG-265/22-100MV 0529-3242 265A 3P CONT 2NO2NC AUX 100-240V 1

MCG-265/22-440MV 0529-3245 265A 3P CONT 2NO2NC AUX 440VAC C 1

MCG-32/11-120V 0529-3050 32A 3P CONT 1NO1NC AUX 120VAC CO 1

MCG-32/11-12VDC 0529-3068 32A 3P CONT 1NO1NC AUX 12VDC COI 1

MCG-32/11-208V 0529-3059 32A 3P CONT 1NO1NC AUX 208VAC CO 1

MCG-32/11-240V 0529-3053 32A 3P CONT 1NO1NC AUX 240VAC CO 1

MCG-32/11-24V 0529-3056 32A 3P CONT 1NO1NC AUX 24VAC COI 1

MCG-32/11-24VDC 0529-3071 32A 3P CONT 1NO1NC AUX 24VDC COI 1

MCG-32/11-277V 0529-3062 32A 3P CONT 1NO1NC AUX 277VAC CO 1

MCG-32/11-480V 0529-3065 32A 3P CONT 1NO1NC AUX 480VAC CO 1

MCG-330/22-100MV 0529-3248 330A 3P CONT 2NO2NC AUX 100-240V 1

MCG-330/22-440MV 0529-3251 330A 3P CONT 2NO2NC AUX 440VAC C 1

MCG-40/11-120V 0529-3074 40A 3P CONT 1NO1NC AUX 120VAC CO 1

MCG-40/11-12VDC 0529-3092 40A 3P CONT 1NO1NC AUX 12VDC COI 1

MCG-40/11-208V 0529-3083 40A 3P CONT 1NO1NC AUX 208VAC CO 1

MCG-40/11-240V 0529-3077 40A 3P CONT 1NO1NC AUX 240VAC CO 1

MCG-40/11-24V 0529-3080 40A 3P CONT 1NO1NC AUX 24VAC COI 1

MCG-40/11-24VDC 0529-3095 40A 3P CONT 1NO1NC AUX 24VDC COI 1

MCG-40/11-277V 0529-3086 40A 3P CONT 1NO1NC AUX 277VAC CO 1

MCG-40/11-480V 0529-3089 40A 3P CONT 1NO1NC AUX 480VAC CO 1

MCG-40/4P-120V 0529-3284 40A 4P CONT NO AUX 120VAC COIL 1

MCG-40/4P-208V 0529-3287 40A 4P CONT NO AUX 208VAC COIL 1

MCG-40/4P-240V 0529-3278 40A 4P CONT NO AUX 240VAC COIL 1

MCG-40/4P-24V 0529-3281 40A 4P CONT NO AUX 24VAC COIL 1

MCG-40/4P-277V 0529-3290 40A 4P CONT NO AUX 277VAC COIL 1

MCG-40/4P-480V 0529-3293 40A 4P CONT NO AUX 480VAC COIL 1

MCG-400/22-100MV 0529-3254 400A 3P CONT 2NO2NC AUX 100-240V 1

MCG-400/22-440MV 0529-3257 400A 3P CONT 2NO2NC AUX 440VAC C 1

MCG-50/11-120V 0529-3101 50A 3P CONT 1NO1NC AUX 120VAC CO 1

MCG-50/11-208V 0529-3110 50A 3P CONT 1NO1NC AUX 208VAC CO 1

MCG-50/11-240V 0529-3098 50A 3P CONT 1NO1NC AUX 240VAC CO 1

MCG-50/11-24V 0529-3104 50A 3P CONT 1NO1NC AUX 24VAC COI 1

98 99

PART # STOCK CODE DESCRIPTION PER

IEC CONTACTORS & OVERLOADS

MCG-50/11-24VDC 0529-3116 50A 3P CONT 1NO1NC AUX 24VDC COI 1

MCG-50/11-277V 0529-3113 50A 3P CONT 1NO1NC AUX 277VAC CO 1

MCG-50/11-480V 0529-3107 50A 3P CONT 1NO1NC AUX 480VAC CO 1

MCG-65/11-120V 0529-3122 65A 3P CONT 1NO1NC AUX 120VAC CO 1

MCG-65/11-208V 0529-3131 65A 3P CONT 1NO1NC AUX 208VAC CO 1

MCG-65/11-240V 0529-3119 65A 3P CONT 1NO1NC AUX 240VAC CO 1

MCG-65/11-24V 0529-3125 65A 3P CONT 1NO1NC AUX 24VAC COI 1

MCG-65/11-24VDC 0529-3137 65A 3P CONT 1NO1NC AUX 24VDC COI 1

MCG-65/11-277V 0529-3134 65A 3P CONT 1NO1NC AUX 277VAC CO 1

MCG-65/11-480V 0529-3128 65A 3P CONT 1NO1NC AUX 480VAC CO 1

MCG-75/11-120V 0529-3143 75A 3P CONT 1NO1NC AUX 120VAC CO 1

MCG-75/11-208V 0529-3152 75A 3P CONT 1NO1NC AUX 208VAC CO 1

MCG-75/11-240V 0529-3140 75A 3P CONT 1NO1NC AUX 240VAC CO 1

MCG-75/11-24V 0529-3146 75A 3P CONT 1NO1NC AUX 24VAC COI 1

MCG-75/11-24VDC 0529-3158 75A 3P CONT 1NO1NC AUX 24VDC COI 1

MCG-75/11-277V 0529-3155 75A 3P CONT 1NO1NC AUX 277VAC CO 1

MCG-75/11-480V 0529-3149 75A 3P CONT 1NO1NC AUX 480VAC CO 1

MCG-85/11-120V 0529-3167 85A 3P CONT 1NO1NC AUX 120VAC CO 1

MCG-85/11-208V 0529-3176 85A 3P CONT 1NO1NC AUX 208VAC CO 1

MCG-85/11-240V 0529-3164 85A 3P CONT 1NO1NC AUX 240VAC CO 1

MCG-85/11-24V 0529-3170 85A 3P CONT 1NO1NC AUX 24VAC COI 1

MCG-85/11-24VDC 0529-3161 85A 3P CONT 1NO1NC AUX 24VDC COI 1

MCG-85/11-277V 0529-3179 85A 3P CONT 1NO1NC AUX 277VAC CO 1

MCG-85/11-480V 0529-3173 85A 3P CONT 1NO1NC AUX 480VAC CO 1

MCL-12/10-120V 0529-3299 12A 3P MINI CONT 1NO AUX 120VAC 1

MCL-12/10-208V 0529-3302 12A 3P MINI CONT 1NO AUX 208VAC 1

MCL-12/10-240V 0529-3311 12A 3P MINI CONT 1NO AUX 240VAC 1

MCL-12/10-24V 0529-3296 12A 3P MINI CONT 1NO AUX 24VAC C 1

MCL-12/10-277V 0529-3305 12A 3P MINI CONT 1NO AUX 277VAC 1

MCL-12/10-480V 0529-3308 12A 3P MINI CONT 1NO AUX 480VAC 1

MCG-12RV-24VAC 0549-5742 12A REVERSING CONT 24VAC COIL 1

MCG-12RV-24VDC 0556-5966 12A REVERSING CONT 24VDC COIL 1

MCG-150RV-120V 0541-0773 150A REVERSING CONTACTOR 120V CO 1

MCG-22RV-120V 0562-9641 22A REVERSING CONT 120V COIL W/A 1

MCG-32RV-120V 0475-9164 32A REVERSING CONT 120V COIL W/A 1

MCG-32RV-208V 0542-3607 32A REVERSING CONT 208V COIL W/A 1

MCG-32RV-240V 0545-3412 32A REVERSING CONT 240VAC COIL W 1

MCG-32RV-24V 0539-8233 32A 3PHASE REVERSING CONT 24VAC 1

MCG-32RV-24VDC 0554-6286 32A REVERSING CONTACTOR 24VDC CO 1

MCG-40RV-120V 0542-2506 40A REVERSING CONT 120V COIL W/ 1

MCG-65RV-120V 0542-7549 65A REVERSING CONT 120V COIL W/A 1

MCG-9RV-120V 0487-9695 LS CONT 9A REVERSING 120V COIL 1

MCG-9RV-240V 0550-7103 9A REVERSING CONTACTOR 240VAC CO 1

MCG-9RV-24VDC 0544-3989 9A 3P 24VDC COIL REV CONT 1NO/1N 1

MCG-9RV-480V 0550-6386 9A REVERSING CONTACTOR 480V W/ A 1

IEC CONTACTORS IEC CONTACTORS



WWW.MCG-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.MCG-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

THERMAL OVERLOAD RELAYS

OLH-12/3H-0.16 0529-3650 OL RELAY 0.1-0.16A USE W/MCG-18/ 1

OLH-12/3H-0.25 0529-3653 OL RELAY 0.16-0.25A USE W/ MCG-1 1

OLH-12/3H-0.4 0529-3656 OL RELAY 0.25-0.4A USE W/ MCG-18 1

OLH-12/3H-0.63 0529-3659 OL RELAY 0.4-0.63A USE W/ MCG-18 1

OLH-12/3H-1 0529-3662 OL RELAY 0.63-1A USE W/ MCG-18/1 1

OLH-12/3H-1.6 0529-3665 OL RELAY 1-1.6A USE W/ MCG-18/1A 1

OLH-12/3H-10 0529-3683 OL RELAY 7-10A USE W/ MCG-18/1A 1

OLH-12/3H-13 0529-3686 OL RELAY 9-13A USE W/ MCG-18/1A 1

OLH-12/3H-18 0529-3689 OL RELAY 12-18A USE W/ MCG-18/1A 1

OLH-12/3H-2.5 0529-3668 OL RELAY 1.6-2.5A USE W/ MCG-18- 1

OLH-12/3H-4 0529-3671 OL RELAY 2.5-4A USE W/ MCG-18/1A 1

OLH-12/3H-6 0529-3674 OL RELAY 4-6A USE W/ MCG-18/1A 1

OLH-12/3H-8 0529-3677 OL RELAY 5-8A USE W/ MCG-18/1A 1

OLH-12/3H-9 0529-3680 OL RELAY 6-9A USE W/ MCG-18/1A 1

OLH-150/3H-105 0529-3749 OL RELAY 80-105A USE W/MCG-130,M 1

OLH-150/3H-130 0529-3752 OL RELAY 95-130A USE W/MCG-130,M 1

OLH-150/3H-150 0529-3755 OL RELAY 110-150A USE W/MCG-130, 1

OLH-150/3H-85 0529-3746 OL RELAY 63-85A USE W/MCG-130,MC 1

OLH-225/3H-125 0529-3758 OL RELAY 85-125A USE W/MCG-225/2 1

OLH-225/3H-160 0529-3761 OL RELAY 100-160A USE W/MCG-225/ 1

OLH-225/3H-185 0529-3764 OL RELAY 120-185A USE W/MCG-225/ 1

OLH-225/3H-240 0529-3767 OL RELAY 160-240A USE W/MCG-225/ 1

OLH-32/3H-0.16 0539-4993 OL RELAY  0.1-0.16A USE W/MCG-9 1

OLH-32/3H-0.25 0539-4996 OL RELAY 0.16-0.25A USE W/MCG-9 1

OLH-32/3H-0.4 0539-4999 OL RELAY 0.25 - 0.4A USE W/MCG-9 1

OLH-32/3H-0.63 0539-5002 OL RELAY 0.4 - 0.63A USE W/MCG-9 1

OLH-32/3H-1 0539-5005 OL RELAY 0.63 - 1A USE W/MCG-9 - 1

OLH-32/3H-1.6 0539-5008 OL RELAY 1 - 1.6A USE W/MCG-9 - 1

OLH-32/3H-10 0539-5047 OL RELAY 7 - 10A USE W/MCG-9 - M 1

OLH-32/3H-13 0529-3692 OL RELAY 9-13A USE W/MCG-9 - MCG 1

OLH-32/3H-18 0529-3695 OL RELAY 12-18A USE W/MCG-9 - MC 1

OLH-32/3H-2.5 0539-5032 OL RELAY 1.6 - 2.5A USE W/MCG-9 1

OLH-32/3H-22 0529-3698 OL RELAY 16-22A USE W/MCG-9 - MC 1

OLH-32/3H-25 0529-3701 OL RELAY 18-25A USE W/MCG-9 - MC 1

OLH-32/3H-32 0529-3704 OL RELAY 22-32A USE W/MCG-9 - MC 1

OLH-32/3H-4 0539-5035 OL RELAY 2.5 - 4A USE W/MCG-9 - 1

OLH-32/3H-40 0529-3707 OL RELAY 28-40A USE W/MCG-9 - MC 1

OLH-32/3H-6 0539-5038 OL RELAY 4 - 6A USE W/MCG-9 - MC 1

OLH-32/3H-8 0539-5041 OL RELAY 5 - 8A USE W/MCG-9 - MC 1

OLH-32/3H-9 0539-5044 OL RELAY 6 - 9A USE W/MCG-9 - MC 1

OLH-400/3H-185 0529-3770 OL RELAY 120-185A USE W/MCG-265 1

OLH-400/3H-240 0529-3773 OL RELAY 160-240A USE W/MCG-265 1

OLH-400/3H-330 0529-3776 OL RELAY 200-330A USE W/MCG-265 1

OLH-400/3H-400 0529-3779 OL RELAY 260-400A USE W/MCG-265 1

OLH-63/3H-25 0529-3710 OL RELAY 18-25A USE W/MCG-50 - M 1

OLH-63/3H-36 0529-3713 OL RELAY 24-36A USE W/MCG-50 - M 1

OLH-63/3H-40 0529-3716 OL RELAY 28-40A USE W/MCG-50 - M 1

OLH-63/3H-50 0529-3719 OL RELAY 34-50A USE W/MCG-50 - M 1

100 101

PART # STOCK CODE DESCRIPTION PER

THERMAL OVERLOAD RELAYS

OLH-63/3H-65 0529-3722 OL RELAY 45-65A USE W/MCG-50 - M 1

OLH-95/3H-100 0529-3743 OL RELAY 80-100A USE W/MCG-75 - 1

OLH-95/3H-40 0529-3725 OL RELAY 28-40A USE W/MCG-75 - M 1

OLH-95/3H-50 0529-3728 OL RELAY 34-50A USE W/MCG-75 - M 1

OLH-95/3H-65 0529-3731 OL RELAY 45-65A USE W/MCG-75 - M 1

OLH-95/3H-75 0529-3734 OL RELAY 54-75A USE W/MCG-75 - M 1

OLH-95/3H-85 0529-3737 OL RELAY 63-85A USE W/MCG-75 - M 1

OLH-95/3H-95 0529-3740 OL RELAY 70-95A USE W/MCG-75 - M 1

MCOL-12M/3-0.16 0529-3599 OL RELAY 0.1-0.16A  USE W/ MCL-1 1

MCOL-12M/3-0.25 0529-3602 OL RELAY 0.16-0.25A  USE W/ MCL- 1

MCOL-12M/3-0.4 0529-3605 OL RELAY 0.25-0.4A USE W/ MCL-12 1

MCOL-12M/3-0.63 0529-3608 OL RELAY 0.4-0.63A  USE W/ MCL-1 1

MCOL-12M/3-1 0529-3611 OL RELAY 0.63-1A  USE W/ MCL-12/ 1

MCOL-12M/3-1.6 0529-3614 OL RELAY 1-1.6A  USE W/ MCL-12/1 1

MCOL-12M/3-10 0529-3632 OL RELAY 7-10A  USE W/ MCL-12/10 1

MCOL-12M/3-2.5 0529-3617 OL RELAY 1.6-2.5A  USE W/ MCL-12 1

MCOL-12M/3-4 0529-3620 OL RELAY 2.5-4A  USE W/ MCL-12/1 1

MCOL-12M/3-6 0529-3623 OL RELAY 4-6A  USE W/ MCL-12/10 1

MCOL-12M/3-8 0529-3626 OL RELAY 5-8A  USE W/ MCL-12/10 1

MCOL-12M/3-9 0529-3629 OL RELAY 6-9A  USE W/MCL-12/10 1

PART # STOCK CODE DESCRIPTION PER

IEC ACCESSORIES

MCG-150/FMA-02 0529-3347 FRONT MOUNT AUX 2NC FOR MCG-9-15 1

MCG-150/FMA-04 0529-3332 FRONT MOUNT AUX 4NC FOR MCG-9-15 1

MCG-150/FMA-11 0529-3353 FRONT MOUNT AUX 1NO1NC FOR MCG-9 1

MCG-150/FMA-13 0529-3344 FRONT MOUNT AUX 1NO3NC FOR MCG-9 1

MCG-150/FMA-20 0529-3350 FRONT MOUNT AUX 2NO FOR MCG-9-15 1

MCG-150/FMA-22 0529-3341 FRONT MOUNT AUX 2NO2NC FOR MCG-9 1

MCG-150/FMA-31 0529-3338 FRONT MOUNT AUX 3NO1NC FOR MCG-9 1

MCG-150/FMA-40 0529-3335 FRONT MOUNT AUX 4NO FOR MCG-9-15 1

MCG-150/SMA-11 0529-3356 SIDE MOUNT AUX 1NO1NC FOR MG-9-1 1

MCG-800/SMA-11 0529-3359 SIDE MOUNT AUX 1NO1NC FOR MCG-18 1

MCG-65ML-120V 0529-3401 LATCH UNIT FOR UP TO MCG-65, 120 1

MCG-65ML-240V 0529-3398 LATCH UNIT FOR UP TO MCG-65, 240 1

MCG-65ML-24VACDC 0529-3395 LATCH UNIT FOR UP TO MCG-65, 24V 1

MCG-65ML-440V 0529-3392 LATCH UNIT FOR UP TO MCG-65, 440 1

MCG-225ML-100V 0529-3425 LATCH UNIT FOR MCG-185-225, 100V 1

MCG-225ML-200V 0529-3422 LATCH UNIT FOR MCG-185-225, 200V 1

MCG-150ML-120V 0529-3413 LATCH UNIT FOR MCG-75-150, 120VA 1

MCG-150ML-240V 0529-3410 LATCH UNIT FOR MCG-75-150, 240VA 1

MCG-150ML-24VACDC 0529-3407 LATCH UNIT FOR MCG-75-150, 24VAC 1

MCG-150ML-440V 0529-3404 LATCH UNIT FOR MCG-75-150, 440VA 1

LS100-SC-120V 0546-0633 120V SPARE COIL FOR MCG-75/11-MC 1

LS100-SC-240V 0546-0636 240V SPARE COIL FOR MCG-75/11-MC 1

THERMAL OVERLOAD RELAYS

THERMAL OVERLOAD RELAYS

MMP-FMA-13

MCG-150/FMA-31



WWW.MCG-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.MCG-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

IEC ACCESSORIES

LS100-SC-277V 0546-0639 277V SPARE COIL FOR MCG-75/11-MC 1

LS100-SC-480V 0546-0642 480V SPARE COIL FOR MCG-75/11-MC 1

LS22-SC-120V 0546-0555 120V SPARE COIL FOR MCG-09/11-MC 1

LS22-SC-208V 0546-0561 208V SPARE COIL FOR MCG-09/11-MC 1

LS22-SC-240V 0546-0558 240V SPARE COIL FOR MCG-09/11-MC 1

LS22-SC-24V 0546-0549 24VAC SPARE COIL FOR MCG-09/11-M 1

LS22-SC-277V 0546-0567 277V SPARE COIL FOR MCG-09/11-MC 1

LS22-SC-480V 0546-0570 480V SPARE COIL FOR MCG-09/11-MC 1

LS40-SC-120V 0546-0585 120V SPARE COIL FOR MCG-32/11-MC 1

LS40-SC-208V 0546-0588 208V SPARE COIL FOR MCG-32/11-MC 1

LS40-SC-240V 0546-0591 240V SPARE COIL FOR MCG-32/11-MC 1

LS40-SC-24V 0546-0582 24VAC SPARE COIL FOR MCG-32/11-M 1

LS40-SC-277V 0546-0594 277V SPARE COIL FOR MCG-32/11-MC 1

LS40-SC-480V 0546-0603 480V SPARE COIL FOR MCG-32/11-MC 1

LS65-SC-120V 0546-0612 120V SPARE COIL FOR MCG-50/11-MC 1

LS65-SC-208V 0546-0618 208V SPARE COIL FOR MCG-50/11-MC 1

LS65-SC-240V 0546-0624 240V SPARE COIL FOR MCG-50/11-MC 1

LS65-SC-24V 0546-0609 24VAC SPARE COIL FOR MCG-50/11-M 1

LS65-SC-440V 0546-0627 440V SPARE COIL FOR MCG-50/11-MC 1

MCG-MILU-400AR 0548-0826 MECH INTERLOCK FOR MCG-185-MCG-4 1

MCG-400ML-100V 0529-3419 LATCH UNIT FOR UP TO MCG-265-400 1

MCG-400ML-200V 0529-3416 LATCH UNIT FOR MCG-265-400, 200V 1

MCG-BAR-185-400-4P 0529-3446 BARRIER UNIT 4 PACK MCG-185-400 1

MCG-DA63H-65AC 0529-3380 DIRECT ADAPTER FOR MMP63 + MCL65 1

MCG-LK-185-225 0529-3386 LUG KIT FOR MCG-185,225A 1

MCG-LK-265-400 0529-3389 LUG KIT FOR MCG-265,330,400A 1

MCG-MILU-11 0529-3329 MECHANICAL INTERLOCK UNIT 9-150 1

MCG-RWK/32-40 0529-3320 REVERSING WIRE KIT 32-40 AF 1

MCG-RWK/50-65 0529-3317 REVERSING WIRE KIT 50-65 AF 1

MCG-RWK/75-100 0529-3314 REVERSING WIRE KIT 75-100 AF 1

MCG-RWK/9-22 0529-3323 REVERSING WIRE KIT 9-22 AF 1

MCG-TDC-110-220V 0529-3428 MCG-CONT TIME DELAY CLOSE 110-22 1

MCG-TDC-24VACDC 0529-3434 MCG-CONT TIME DELAY CLOSE 24VACD 1

MCG-TDO-110-220V 0529-3431 MCG-CONT TIME DELAY OPEN 110-220 1

MCG-TDO-24VACDC 0529-3437 MCG-CONT TIME DELAY OPEN 24VACDC 1

MCG-TSC-185-225 0529-3443 TERMINAL COVERS MCG185-225 1

MCG-TSC-265-400 0529-3440 TERMINAL COVERS MCG265-400 1

MCL-MILU 0529-3326 MINI CONTACTOR REVERSING INTERLO 1

102 103

PART # STOCK CODE DESCRIPTION PER

LIGHTING CONTACTORS

MCGLCEE-12P-120V 0285-3672 LIGHTING CONTACTOR ENCL 12P 40A 1

MCGLCEE-12P-208V 0296-3550 LIGHTING CONTACTOR ENCL 12P 40A 1

MCGLCEE-12P-240V 0285-3675 LIGHTING CONTACTOR ENCL 12P 40A 1

MCGLCEE-12P-24V 0443-4498 LIGHTING CONTACTOR ENCL 12P 40A 1

MCGLCEE-12P-277V 0289-6377 LIGHTING CONTACTOR ENCL 12P 40A 1

MCGLCEE-16P-120V 0285-3678 LIGHTING CONTACTOR ENCL 16P 40A 1

MCGLCEE-16P-240V 0285-3681 LIGHTING CONTACTOR ENCL 16P 40A 1

MCGLCEE-16P-24V 0443-4501 LIGHTING CONTACTOR ENCL 16P 40A 1

MCGLCEE-16P-277V 0289-6380 LIGHTING CONTACTOR ENCL 16P 40A 1

MCGLCEE-20P-120V 0549-2427 LIGHTING CONTACTOR ENCL 20P 40A 1

MCGLCEE-4P-120V 0285-3660 LIGHTING CONTACTOR ENCL 4P 40A 1 1

MCGLCEE-4P-240V 0285-3663 LIGHTING CONTACTOR ENCL 4P 40A 2 1

MCGLCEE-4P-24V 0443-4495 LIGHTING CONTACTOR ENCL 4P 40A 2 1

MCGLCEE-4P-277V 0289-6371 LIGHTING CONTACTOR ENCL 4P 40A 2 1

MCGLCEE-4P-480V 0304-9215 LIGHTING CONTACTOR ENCL 4P 40A 4 1

MCGLCEE-8P-120V 0285-3666 LIGHTING CONTACTOR ENCL 8P 40A 1 1

MCGLCEE-8P-208V 0303-5424 LIGHTING CONTACTOR ENCL 8P 40A 2 1

MCGLCEE-8P-240V 0285-3669 LIGHTING CONTACTOR ENCL 8P 40A 2 1

MCGLCEE-8P-24V 0303-7656 LIGHTING CONTACTOR ENCL 8P 40A 2 1

MCGLCEE-8P-277V 0289-6374 LIGHTING CONTACTOR ENCL 8P 40A 2 1

MCGLCEM-12P-120V 0285-3657 MECH LIGHT CONT ENLC 12P 40A 120 1

MCGLCEM-12P-240V 0285-3684 MECH LIGHT CONT ENCL 12P 40A 240 1

MCGLCEM-16P-120V 0285-3687 MECH LIGHT CONT ENCL 16P 40A 120 1

MCGLCEM-16P-240V 0285-3690 MECH LIGHT CONT ENCL 16P 40A 240 1

MCGLCEM-4P-120V 0285-3621 MECH LIGHT CONT ENCL 4P 40A 120V 1

MCGLCEM-4P-240V 0285-3651 MECH LIGHT CONT ENCL 4P 40A 240V 1

MCGLCEM-4P-24V 0309-4176 MECH LIGHT CONT ENCL 4P 40A 24V 1

MCGLCEM-8P-120V 0285-3639 MECH LIGHT CONT ENCL 8P 40A 120V 1

MCGLCEM-8P-240V 0285-3654 MECH LIGHT CONT ENCL 8P 40A 240V 1

MCGLCOE-12P-120V 0285-3705 LIGHTING CONTACTOR OPEN 12P 40A 1

MCGLCOE-12P-208V 0300-3051 LIGHTING CONTACTOR OPEN 12P 40A 1

MCGLCOE-12P-240V 0285-3708 LIGHTING CONTACTOR OPEN 12P 40A 1

MCGLCOE-12P-24V 0323-4372 LIGHTING CONTACTOR OPEN 12P 40A 1

MCGLCOE-12P-277V 0288-1626 LIGHTING CONTACTOR OPEN 12P 40A 1

MCGLCOE-16P-120V 0285-3711 LIGHTING CONTACTOR OPEN 16P 40A 1

MCGLCOE-16P-208V 0300-3054 LIGHTING CONTACTOR OPEN 16P 40A 1

MCGLCOE-16P-240V 0285-3714 LIGHTING CONTACTOR OPEN 16P 40A 1

MCGLCOE-16P-24V 0551-6829 LIGHTING CONTACTOR OPEN 16P 40A 1

MCGLCOE-16P-277V 0289-6386 LIGHTING CONTACTOR OPEN 16P 40A 1

MCGLCOE-4P-120V 0285-3693 LIGHTING CONTACTOR OPEN 4P 40A 1 1

MCGLCOE-4P-208V 0300-3045 LIGHTING CONTACTOR OPEN 4P 25A 2 1

MCGLCOE-4P-240V 0285-3696 LIGHTING CONTACTOR OPEN 4P 40A 2 1

MCGLCOE-4P-24V 0300-0480 LIGHTING CONTACTOR OPEN 4P 40A 2 1

MCGLCOE-4P-277V 0289-5393 LIGHTING CONTACTOR OPEN 4P 40A 2 1

MCGLCOE-4P-480V 0554-3709 LIGHTING CONTACTOR OPEN 4P 40A 4 1

MCGLCOE-8P-120V 0285-3699 LIGHTING CONTACTOR OPEN 8P 40A 1 1

MCGLCOE-8P-208V 0300-3048 LIGHTING CONTACTOR OPEN 8P 40A 2 1

MCGLCOE-8P-240V 0285-3702 LIGHTING CONTACTOR OPEN 8P 40A 2 1

SPARE COIL

MCG-TSC-185-225

MCG-RWK/32-40

MECH INTERLOCK

4 POLE



WWW.MCG-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.MCG-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

LIGHTING CONTACTORS

MCGLCOM-12P-120V 0285-3723 MECH LIGHT CONT OPEN 12P 40A 120 1

MCGLCOM-12P-240V 0285-3726 MECH LIGHT CONT OPEN 12P 40A 240 1

MCGLCOM-16P-120V 0285-3648 MECH LIGHT CONT OPEN 16P 40A 120 1

MCGLCOM-16P-240V 0285-3729 MECH LIGHT CONT OPEN 16P 40A 240 1

MCGLCOM-4P-120V 0285-3615 MECH LIGHT CONT OPEN 4P 40A 120V 1

MCGLCOM-4P-240V 0285-3717 MECH LIGHT CONT OPEN 4P 40A 240V 1

MCGLCOM-4P-24V 0298-9494 MECH LIGHT CONT OPEN 4P 40A 24VA 1

MCGLCOM-8P-120V 0285-3645 MECH LIGHT CONT OPEN 8P 40A 120V 1

MCGLCOM-8P-240V 0285-3720 MECH LIGHT CONT OPEN 8P 40A 240V 1

MCGLCOM-8P-277V 0558-8151 MECH LIGHT CONT OPEN 8P 40A 277V 1

104 105

PART # STOCK CODE DESCRIPTION PER

MANUAL MOTOR STARTERS

MCG-DA32H-22AC 0529-3368 DIRECT ADAPTER FOR MMP32 + MCL22 1

MCG-DA32H-22DC 0529-3371 DIRECT ADAPTER FOR MMP32 + MCL22 1

MCG-DA32H-40AC 0529-3374 DIRECT ADAPTER FOR MMP32 + MCL40 1

MCG-DA32H-40DC 0529-3377 DIRECT ADAPTER FOR MMP32 + MCL40 1

MEH100-115 0529-3587 MMS-100 DISCONNECT HANDLE/SHAFT 1

MEH100-315 0529-3596 MMS-100 DISCONNECT HANDLE/SHAFT 1

MEH32-115 0529-3581 MMS-32 DISCONNECT HANDLE/SHAFT 1 1

MEH32-315 0529-3590 MMS-32 DISCONNECT HANDLE/SHAFT 3 1

MEH63-115 0529-3584 MMS-63 DISCONNECT HANDLE/SHAFT 1 1

MEH63-315 0529-3593 MMS-63 DISCONNECT HANDLE/SHAFT 3 1

PART # STOCK CODE DESCRIPTION PER

MANUAL MOTOR STARTERS

MMP-100H-100 0529-3560 MANUAL MOTOR STARTER 80-100 AMPS 1

MMP-100H-63 0529-3551 MANUAL MOTOR STARTER 45-63 AMPS 1

MMP-100H-75 0529-3554 MANUAL MOTOR STARTER 55-75 AMPS 1

MMP-100H-90 0529-3557 MANUAL MOTOR STARTER 70-90 AMPS 1

MMP-32H-0.16 0529-3488 MANUAL MOTOR STARTER 0.1-0.16 AM 1

MMP-32H-0.25 0529-3491 MANUAL MOTOR STARTER 0.16-0.25 A 1

MMP-32H-0.4 0529-3494 MANUAL MOTOR STARTER 0.25-0.4 AM 1

MMP-32H-0.63 0529-3497 MANUAL MOTOR STARTER 0.4-0.63 AM 1

MMP-32H-1 0529-3500 MANUAL MOTOR STARTER 0.63-1 AMPS 1

MMP-32H-1.6 0529-3503 MANUAL MOTOR STARTER 1-1.6 AMPS 1

MMP-32H-10 0529-3518 MANUAL MOTOR STARTER 6-10 AMPS 1

MMP-32H-13 0529-3521 MANUAL MOTOR STARTER 9-13 AMPS 1

MMP-32H-17 0529-3524 MANUAL MOTOR STARTER 11-17 AMPS 1

MMP-32H-2.5 0529-3506 MANUAL MOTOR STARTER 1.6-2.5 AMP 1

MMP-32H-22 0529-3527 MANUAL MOTOR STARTER 14-22 AMPS 1

MMP-32H-26 0529-3530 MANUAL MOTOR STARTER 18-26 AMPS 1

MMP-32H-32 0529-3533 MANUAL MOTOR STARTER 22-32 AMPS 1

MMP-32H-4 0529-3509 MANUAL MOTOR STARTER 2.5-4 AMPS 1

MMP-32H-40 0529-3536 MANUAL MOTOR STARTER 28-40 AMPS 1

MMP-32H-6 0529-3512 MANUAL MOTOR STARTER 4-6AMPS 1

MMP-32H-8 0529-3515 MANUAL MOTOR STARTER 5-8 AMPS 1

MMP-63H-40 0529-3539 MANUAL MOTOR STARTER 28-40 AMPS 1

MMP-63H-50 0529-3542 MANUAL MOTOR STARTER 34-50 AMPS 1

MMP-63H-63 0529-3545 MANUAL MOTOR STARTER 45-63 AMPS 1

MMP-63H-65 0529-3548 MANUAL MOTOR STARTER 47-65 AMPS 1

MMP-FMA-02 0529-3569 FRONT MOUNT AUX CONT FOR MMS 2NC 1

MMP-FMA-11 0529-3566 FRONT MOUNT AUX CONT FOR MMS 1NO 1

MMP-FMA-20 0529-3563 FRONT MOUNT AUX CONT FOR MMS 2NO 1

MMP-SMA-02 0529-3578 SIDE MOUNT AUX CONT FOR MMS 2NC 1

MMP-SMA-11 0529-3575 SIDE MOUNT AUX CONT FOR MMS 1NO1 1

MMP-SMA-20 0529-3572 SIDE MOUNT AUX CONT FOR MMS 2NO 1

MCG-DA32H-12AC 0529-3362 DIRECT ADAPTER FOR MMP32 + MCL12 1

MCG-DA32H-12DC 0529-3365 DIRECT ADAPTER FOR MMP32 + MCL12 1

PART # STOCK CODE DESCRIPTION PER

COMBO IEC MOTOR STARTERS

ME4D09/2.5-240-SS 0556-4292 9AM 3P 240VAC 1.6-2.5A OL N4 STA 1

ME4D09/4-120-HOA-D 0558-8079 N4 MS 9A 120VAC CONT, 2.5-4A OL, 1

ME4D09/4-120-SS 0556-4613 9AM 3P 120VAC 4-6 OL, N4 S/S 1

ME4D09/6-120-HOA 0556-5648 9AM 3P 120VAC 4-6 OL, N4 HOA 1

ME4D12/13-240 0562-9347 MS 12A 240V 9-13 OL 1

ME4D150/130-240-SS 0554-5656 150A 3P 240VAC MS 95-130A OL, N4 1

ME4D150/150-120-HO 0563-1807 MS METAL ENC 150A 130-150 OL 120 1

ME4D150/160-120-HO 0556-4451 150A 3P 120VAC MS 100-160 OL, N4 1

ME4D18/10-480-WR 0554-6235 18A 3P 480VAC MS, 7-10A OL, N4 W 1

ME4D18/18-120 0556-6512 18A 3P 120VAC MS 12-18 OL, NEMA 1

ME4D18/18-208 0562-9908 18A 3P 208VAC MS 12-18 OL NEMA 4 1

ME4D18/18-240 0562-9350 MS 18A 240V 12-18OL N4 1

ME4D18/18-480-SS-W 0556-6239 18A 480VAC CNT 12-18A OL, SS/R N 1

ME4D18/2.5-120-WR 0552-2214 18A 3P 120VAC MS 1.6-2.5A OL N4 1

ME4D18/8-240-SS 0554-1021 18A 3P 240VAC MS 5-8A OL N4 STAR 1

ME4D22/13-480-SS 0545-6856 22A 3P 480VAC MS 9-13A OL N4 STA 1

ME4D22/18-208-WR 0554-5401 22A 3P 208VAC MS 12-18A OL, N4 W 1

ME4D265/330-120-HO 0556-6458 265A 100MVAC 200-330 OL, HOA, G/ 1

ME4D32/10-240-HOA- 0544-4493 N4 ENCL 32A MS 7-10 OL HOA HOUR 1

ME4D32/25-277-SS 0542-1087 32A 277VAC MS 17-25A OVLD N4 STA 1

ME4D32/32-120-HOA 0562-9542 MS 32A 120V 22-32 OL N4 HANDS/OF 1

ME4D32/32-120-SS 0562-9329 MS 32A 120V 22-32 OL N4 START/ST 1

ME4D32/32-240 0558-4494 32A 3 POLE 240V, 22-32 OL, N4 MS 1

ME4D32/32-240-R 0552-7137 32A 3 POLE 240VAC N4 ENCL CONTAC 1

ME4D32/32-240-SS 0556-5744 32A 240VAC 22-23 OL, N4 START/ST 1

ME4D32/32-480-SS-D 0553-3017 32A 3P 120VAC MS, 22-32 OL, N4 S 1

ME4D32/32-480-SS-W 0553-2801 32A 3P 120VAC MS, 22-32 OL, N4 S 1

ME4D330/330-120-HO 0556-6443 330A 100MVAC 200-330 OL, HOA, G/ 1

ME4D40/32-120-HOA 0558-8385 N4 40A 120V CONT, 22-32 OL, HOA 1

ME4D40/40-120 0556-6506 40A 3P 120VAC MS 28-40 OL, N4 1

ME4D40/40-120-HOA- 0562-8867 N4 MS 40A 120VAC CONT, 28-40 OL, 1

ME4D40/40-208-SS 0558-8082 N4 MS 40A 208VAC CONT, 28-40A OL 1

8 POLE

MANUAL MOTOR STARTER

MMP-32H

MCG-DA32H

ME4D SERIES

ME4D SERIES



WWW.MCG-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.MCG-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

COMBO IEC MOTOR STARTERS

ME4D40/40-240-SS-W 0554-6250 40A 3P 240VAC MS 28-40 OL N4 S/S 1

ME4D50/50-120 0562-8663 N4 50A 120V CONT, 34-50 OL 1

ME4D50/50-120-SS-3 0558-8328 N4 50A 120V CONT, 34-50 OL, SS 3 1

ME4D50/50-240-SS 0556-4493 50A 3P 240VAC MS 34-50 OL, N4 S/ 1

ME4D50/50-480-SS 0562-9380 3P 50A 480VAC MS 34-50 OL, N4 S/ 1

ME4D65/50-480-SS 0562-9386 3P 65A 480VAC MS, 34-50 OL, SS 1

ME4D65/65-120-SS 0562-9326 65A 3P 120VAC 45-65OL N4 START/S 1

ME4D65/65-208 0438-3915 65A 3P 208VAC MS, 45-65A OL N4 E 1

ME4D65/65-240-SS 0558-8193 65A 3P 240VAC 45-65OL, N4 S/S 1

ME4D65/65-480-SS 0563-0199 65A 3P 480V MS, 45-65 OL, START/ 1

ME4D65/65-480-SS-W 0553-2351 65A 3P 480V MS, 45-65A OL, N4 S/ 1

ME4D65/85-208-SS 0558-7836 65A 3P 208VAC MS, 63-85 OL MET E 1

ME4D65/85-240-SS 0556-7472 65A 3P 240VAC 63-85OL, N4 S/S 1

ME4D75/65-208-HOA 0554-6136 75A 3P 208VAC MS 45-65A OL, N4 E 1

ME4D85/85-240-SS 0554-4660 85A 3P 240VAC MS 63-85A OL, N4 S 1

ME4D9/6-240-HOA 0556-5657 9A 3P 240VAC 4-6 OL, N4 HOA 1

ME4D9/9-240-H0A 0556-5651 9A 3P 240VAC 6-9A OL, N4 HOA 1

MSP-09/2.5-208-SS 0562-8639 N4X 3P 9A 208VAC, 1.6-2.5A OL ST 1

MSP-09/2.5-24V 0563-0223 N4X 9A 24V CONT, 1.6-2.5 OL 1

MSP-09/2.5-480-SS 0563-0208 N4X 9A 480V CONT, 1.6-2.5 OL, ST 1

MSP-09/4-480-SS 0562-8687 N4X 9A 480V CONT, 2.5-4A OL, STA 1

MSP09/04-240 0562-9383 N4X 9A 240V 2.5-4 OL 1

MSP09/09-120-HOA 0558-7605 N4 SC ENC 9A 6-9 OL 120 COIL HOA 1

MSP12/13-120-HOA 0563-1243 N4 SC ENC 12A 9-13OL 120V COIL H 1

MSP12/13-24-HOA 0556-7700 N4 SC ENC 12A 9-13 OL 24 COIL HO 1

MSP12/2.5-24-HOA 0551-3259 N4 SC ENC 12A 1.6-2.5 OL 24 COIL 1

MSP12/4-208 0552-4902 N4 SC ENC 12A 2.5-4 OL 208 COIL 1

MSP12/4-208-HOA 0552-4560 N4 SC ENC 12A 2.5-4 OL 208 COIL 1

MSP12/4-208-SS 0552-4563 N4 SC ENC 12A 2.5-4 OL 208 COIL 1

MSP12/4-240 0551-5389 N4 SC ENC 12A 2.5-4A OL 240 COIL 1

MSP12/4-480-SS 0547-9314 N4 SC ENC 12A 2.5-6A OL 480 COIL 1

MSP12/6-120 0552-4884 N4 SC ENC 12A 4-6 OL 120 COIL 1

MSP12/6-120-HOA 0550-5939 N4 SC ENC 12A 4-6 OL 120 COIL HO 1

MSP12/6-120-I/O 0549-0927 N4 SC ENC 12A 4-6A OL 120 COIL I 1

MSP12/6-240 0552-1500 N4 SC ENC 12A 4-6A OL 240 COIL 1

MSP12/6-240-SS 0544-8126 N4 SC ENC 12A 4-6OL 240 COIL STA 1

MSP18/0.4-120 0556-2087 N4 SC ENC 18A 0.24-0.4 120VAC CO 1

MSP18/10-120-SS 0549-9573 N4 SC ENC 18A 7-10 OL 120 COIL S 1

MSP18/10-24 0552-0240 N4 SC ENC 18A 7-10A OL 24VAC COI 1

MSP18/10-240-SS 0545-7324 N4 SC ENC 18A 6 -10A OL 240 COIL 1

MSP18/13-120-I/O 0545-7000 N4 SC ENC 18A 9-13 OL 120 COIL O 1

MSP18/13-240-SS 0558-4506 N4 SC ENC 18A 9-13 OL 240 COIL W 1

MSP18/18-120 0556-6503 N4 SC ENCL 18A 120V 12-18A OL 1

MSP18/2.5-120-SS 0544-0551 N4 SC ENC 18A 1.6-2.5 OL 120 COI 1

MSP18/22-480-I/O 0558-4749 N4 SC ENC 18A 18-22 OL 480 COIL 1

MSP18/4-120 0545-2080 N4 SC ENC 18A 2.5-4 OL 120VAC CO 1

MSP18/4-120-SS 0550-6788 N4 SC ENC 18A 2.5-4 OL 120 COIL 1

MSP18/8-120-HOA 0545-2950 N4 SC ENC 18A 5-8 OL 120 COIL HO 1

106 107

PART # STOCK CODE DESCRIPTION PER

COMBO IEC MOTOR STARTERS

MSP18/8-240-SS 0550-1580 N4 SC ENC 18A 5-8 OL 240 COIL ST 1

MSP18/8-480-SS 0554-1345 N4 SC ENC 18A 5-8 OL 480 COIL ST 1

MSP22/10-120-SS 0549-6042 N4 SC ENC 22A 7-10 OL 120 COIL S 1

MSP22/10-208-HOA 0542-5530 N4 SC ENC 22A 7-10 OL 208 COIL H 1

MSP22/10-480-SS 0547-9317 N4 SC ENC 22A 7-10A OL 480 COIL 1

MSP22/13-120-HOA 0552-1665 N4 SC ENC 22A 9-13A OL 120V COIL 1

MSP22/13-208-SS 0542-8536 N4 SC ENC 22A 9-13 OL 208 COIL S 1

MSP22/18-120-SS 0554-0586 N4 SC ENC 18A 12-18 OL 120 COIL 1

MSP22/18-208-SS 0552-4569 N4 SC ENC 22A 12-18 OL 208 COIL 1

MSP22/22-120 0554-5101 N4 SC ENC 22A 16-22 OL 120 COIL 1

MSP22/22-120-I/O 0558-7443 DIRECT ON LINE STARTER 22A 120V 1

MSP22/22-120-SS 0553-2951 N4 SC ENC 22A 16-22A OL 120V COI 1

MSP22/4-208-SS 0544-7844 N4 SC ENC 22A 2.5-4 OL 208 COIL 1

MSP22/4-480-SS 0544-8051 N4 SC ENC 22A 2.5-4 OL 480 COIL 1

MSP22/6-208-I/OP 0542-9427 N4 SC ENC 22A 4-6 OL 208 COIL ON 1

MSP22/9-120 0545-1189 N4 SC ENC 22A 6-9A  OL 120 COIL 1

MSP32-120-ESTOP 0547-9221 N4 SC ENC 32A NO OL 120 COIL EST 1

MSP32-22-120-I/O 0558-7716 DIRECT ON LINE STARTER 32A 120V 1

MSP32/10-120-SS 0543-8607 N4 SC ENC 32A 7-10 OL 120 COIL S 1

MSP32/10-24 0544-0317 N4 SC ENC 32A 7-10 OL 24VAC COIL 1

MSP32/10-277-SS 0548-7054 N4 SC ENC 32A 7-10 OL 277 COIL S 1

MSP32/13-120-SS 0542-3937 N4 SC ENC 32A 9-13 OL 120 COIL S 1

MSP32/13-240-SS 0545-9778 N4 SC ENC 32A 9-13A OL 240 COIL 1

MSP32/18-120 0544-3257 N4 SC ENC 32A 12-18 OL 120VAC CO 1

MSP32/18-120-HOA 0546-4872 N4 SC ENC 32A 12-18OL 120VAC COI 1

MSP32/18-120-SS 0542-5449 N4 SC ENC 32A 12-18OL 120 COIL S 1

MSP32/18-208 0543-9621 N4 SC ENC 32A 12-18OL 208V COIL 1

MSP32/18-208-HOA 0545-1390 N4 SC ENC 32A 12-18OL 208 COIL H 1

MSP32/18-208-SS 0544-4655 N4 SC ENC 32A 12-18OL 208 COIL S 1

MSP32/18-240-SS 0545-3886 N4 SC ENC 32A 12-18OL 240 COIL S 1

MSP32/18-277-SS 0547-9209 N4 SC ENC 32A 12-18 OL 277VAC  S 1

MSP32/18-480-SS 0549-5604 N4 SC ENC 32A 12-18 OL 480 COIL 1

MSP32/22-120 0549-1449 N4 SC ENC 32A 16-22A OL 120VAC C 1

MSP32/22-240 0554-6859 N4 SC ENC 32A 16-22 OL 240 COIL 1

MSP32/22-240-I/O 0551-4612 N4 SC ENC 32A 16-22 OL 240 COIL 1

MSP32/25-120 0542-1615 N4 SC ENCL MS 32A 18-25 OL 120V 1

MSP32/25-120-SS 0551-5023 N4 SC ENC 32A 18-25 OL 120 COIL 1

MSP32/25-208 0544-4667 N4 SC ENC 32A 18-25OL 208V COIL 1

MSP32/25-208-SS 0545-6439 N4 SC ENC 32A 18-25OL 208V COIL 1

MSP32/25-240-SS 0543-9909 N4 SC ENC 32A 18-25OL 240 COIL S 1

MSP32/25-480-SS 0545-6442 N4 SC ENC 32A 18-25 OL 480 COIL 1

MSP32/32-120 0544-0923 N4 SC ENC 32A 22-32 OL 120 COIL 1

MSP32/32-120-HOA 0545-6862 N4 SC ENCL 32A 22-32 OL 120 COIL 1

MSP32/32-120-SS 0544-4967 N4 SC ENC 32A 22-32OL 120 COIL S 1

MSP32/32-208-SS 0549-4827 N4 SC ENC 32A 22-32 OL 208 COIL 1

MSP32/32-240 0546-5046 N4 SC ENC 32A 22-32 OL 240 COIL 1

MSP32/32-240-SS 0552-7146 N4 SC ENC 32A 22-32 OL 240 COIL 1

MSP32/32/-240-SS 0552-7233 N4 SC ENC 32A 22-32OL 240V COIL 1

MSP32-22-120-HOA MSP32-18-120-SS



WWW.MCG-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.MCG-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

COMBO IEC MOTOR STARTERS

MSP32/6-120-SS 0542-5452 N4 SC ENC 32A 4-6 OL 120 COIL ST 1

MSP32/8-120-SS 0544-0266 N4 SC ENC 32A 5-8 OL 120 COIL ST 1

MSP32/8-240-SS 0542-3931 N4 SC ENC 32 A 5-8 OL 240 COIL S 1

MSP40/18-120-HOA 0550-5960 N4 SC ENC 40A 12-18 OL 120 COIL 1

MSP40/22-120-SS 0553-2954 N4 SC ENC 40A 18-25 OL 120 COIL 1

MSP40/25-120-SS 0549-6969 N4 SC ENC 40A 18-25 OL 120 COIL 1

MSP40/25-24 0544-0320 N4 SC ENC 40A 18-25 OL 24VAC COI 1

MSP40/25-480-SS 0544-0695 N4 SC ENC 40A 18-25 OL 480 COIL 1

MSP40/32-120 0544-9065 N4X ENC 40A 22-32 OL 120 COIL 1

MSP40/32-120-HOA 0556-7481 40A 3P 120VAC MS, 22-32 OL, N4X, 1

MSP40/32-120-SS 0542-4750 N4X ENC 40A 22-32 OL 120 COIL ST 1

MSP40/32-120-WR 0544-7691 N4 SC ENC 40A 22-32 OL 120 COIL 1

MSP40/32-240-SS 0553-3473 N4 SC ENC 40A 240 COIL 22-32 OL 1

MSP40/40-120 0549-1446 N4 SC ENC 40A 28-40A OL 120VAC C 1

MSP40/40-120-HOA 0546-0492 N4 SC ENC 40A 28-40 OL 120VAC CO 1

MSP40/40-120-SS 0545-6901 N4 SC ENC 40A 28-40 OL 120 COIL 1

MSP40/40-240 0543-6567 N4X ENC 40A 28-40 OL 240 COIL 1

MSP40/40-240-ES 0558-8043 N4X ENC 40A 28-40 OL 240 COIL 1

MSP40/40-240-SES 0543-9804 N4XP 40A 28-40 OL 240 COIL START 1

MSP40/40-240-SS 0545-2434 N4 SC ENC 40A 28-40 OL 240 COIL 1

MSP40/40-277 0554-6856 N4 SC ENC 40A 28-40 OL 277 COIL 1

108 109

PART # STOCK CODE DESCRIPTION PER

NEMA CONTROL STATIONS

N4-SS-PL 0542-3688 N4 3PB CS START/STOP/RED 120VAC 1

N4-SSRL 0538-3059 2 PB CONT STN START/STOP RUN LIG 1

N4-TSRS 0550-5822 N4 METAL 4PB CS TRIP/START/RESET 1

N4-UD 0433-8282 NEMA 4 UP DOWN CS 1

N4-UDES 0551-6052 N4 3PB CS UP/DOWN/ESTOP 1

N4-UDLR 0539-7336 N4 UP, DOWN, LEFT, RIGHT CONTROL 1

N4-UDS 0543-9723 NEMA 4 UP/DOWN/STOP CS 1

N4-WBY 0544-3266 NEMA 4 CS WHITE BLACK YELLOW PB 1

N4F-SSERS 0546-1758 N4X FIBERGLASS 3PB CS START/STOP 1

N4P-2/2PSS 0545-2551 NEMA 4 POLY 2 - 2 POS SAFETY SWI 1

N4P-2P/SS 0545-5965 N4X POLY 3PB CS START/STOP/REMOT 1

N4P-2PK 0545-8779 NEMA 4 POLY 2 POS KEY SWITCH 2NO 1

N4P-2PKSS 0545-2548 NEMA 4 POLY 2 - KEY SWITCHES ON/ 1

N4P-DPESTOP 0459-2997 N4XP 20A 20 DP 208/240VAC W/ EST 1

N4P-EFS1 0449-5377 N4XP EMERGENCY FAN START 20A 120 1

N4P-ESSI-24V 0544-1562 N4 POLY KSE BOX EMER SAFETY SWIT 1

N4P-ESTOP 0449-0883 NEMA 4 POLY ESTOP TWIST RELEASE 1

N4P-ESTOP-Y 0541-6251 OBSOLETE - USE N4PY-ESTOP 1

N4P-ESTOP/ALARM 0545-8458 NEMA 4 POLE ESTOP TWIST RELEASE 1

N4P-HOA 0543-9918 NEMA 4 POLY HAND/OFF/AUTO CS 1

N4P-I/O 0539-0229 NEMA 4 POLY ENCL ON/OFF SWITCH C 1

N4P-I/O-S 0554-5953 N4X POLY ON/OFF & START CS 1

N4P-OC 0543-9924 NEMA 4 POLY OPEN/.CLOSE CS 1

N4P-OCS 0543-9927 NEMA 4 POLY OPEN/CLOSE/STOP CS 1

N4P-RPB 0550-6200 N4X FIBER 1PB CS RED MOMENTARY 1 1

N4P-SCS 0549-7023 N4X POLY START/CAUTION/STOP MAIN 1

N4P-SS 0459-0672 NEMA 4 POLY  START/STOP CS 1

N4P-SS-M 0549-7014 N4X POLY START/STOP CS MAINTAINE 1

N4P-SS-PL 0539-5983 N4X POLY START/STOP CS W/ PILOT 1

N4P-SSERS 0449-5554 N4X FIBER CS 3PB START/STOP ESTO 1

N4P-UD 0543-9930 NEMA 4 POLY UP/DOWN  CS 1

N4P-UDK 0545-1675 N4 POLY 3PB CS UP DOWN ON/OFF KE 1

N4P-UDS 0543-9933 NEMA 4 POLY UP/DOWN/STOP CS 1

N4P-WBY 0544-3263 NEMA 4 POLY CS WHITE BLACK YELLO 1

N4P-YPB 0541-9875 1 PB CS W/ YLW BUTTON 1

N4PY-ESTOP 0544-0698 ESTOP TWIST REL YLW PLASTIC CS 1 1

N4SS-ESTOP 0531-9003 N4 STAINLESS ESTOP TWST RELEASE 1

N4SS-FRS 0556-6095 SS 3 HOLE CNTRL STATION F/R/S 1

N4SS-I/O 0542-5263 N4 STAINLESS ON/OFF MOMENTARY PB 1

N4SS-SS 0541-7256 N4X STAINLESS 2PB CS START/STOP 1

N4XP-BPB 0551-6607 N4X POLY W/CLEAR LID BLACK PB 1N 1

N4XP-ESR 0491-7897 NEMA 4 POLY SHUNT TRIP MOMENTARY 1

N4XP-ESTOP 0544-0410 NEMA 4X POLY ENCL ESTOP 4X4X3 TW 1

N4XP-ESTOP-ALARM 0547-9551 N4X POLY TWST REL ESTOP W/ ALARM 1

N4XP-ESTOP-K 0493-3719 N4X POLY ENCL ESTOP 4X4X3 KEY RE 1

N4XP-ESTOP-NO 0545-4633 NEMA 4X POLY ENCL ESTOP TWIST RE 1

N4XP-ESTOP-Y 0543-0882 YLW N4X POLY  ESTOP 4X4X3  TWIST 1

N4XP-ESTOP-YM 0546-1251 N4X YLW POLY ENCL ESTOP 4X4X3 MO 1

PART # STOCK CODE DESCRIPTION PER

NEMA CONTROL STATIONS

N4-EI/O 0539-0061 N4 ENCLOSED ON/OFF SWITCH LOCKAB 1

N4-ESR 0425-0196 N4 ESTOP SHUNT TRIP 2 NO/1NC MOM 1

N4-ESR-PP 0438-4062 N4 ESTOP SHUNT TRIP 2 NO/1NC PUS 1

N4-ESTOP 0308-9694 NEMA 4 ESTOP STATION TWIST REL 2 1

N4-ESTOP-GEN 0545-5107 NEMA 4 TWIST RELEASE ESTOP "GEN 1

N4-ESTOP-PP 0315-4989 NEMA 4 ESTOP STATION PUSH PULL 1

N4-ESTOP-WK 0544-2948 NEMA 4 ESTOP STN TWIST RELEASE W 1

N4-ESTOP/START/PL 0542-0406 N4 CS ESTOP/START/PILOT LIGHT AM 1

N4-ESTOPSTNO 0315-5232 NEMA 4 ESTOP SHUNT TRIP 2NO MOME 1

N4-FR 0545-2539 N4 2PB CS FORWARD REVERSE 1

N4-FRS 0543-9912 NEMA 4 FORWARD/REVERSE/STOP CS 1

N4-GPB 0542-5143 N4 1PB CS GREEN MOMENTARY 1NO/1N 1

N4-HOA 0543-3132 NEMA 3 POS SWITCH HOA CS 1

N4-HOA-WK 0539-5707 N4 3POS MAINT W/KEY 2NO 1

N4-I/O 0543-9915 NEMA 4 ON/OFF CS 1

N4-I/OK-R 0543-8139 N4 2PB CS I/O KEY SWITCH W/RESET 1

N4-ILLSS 0492-5385 NEMA 4 ILLUMINATED START/STOP ST 1

N4-OC 0542-2167 NEMA 4 OPEN CLOSE CS 1

N4-OCS 0539-1081 NEMA 4 OPEN/CLOSE/STOP CS 1

N4-RPB 0542-3706 N4 1PB CS RED MOMENTARY 1NO/1NC 1

N4-SESTOP 0556-7370 NEMA4, MAINT RPB, SESTOP 1

N4-SS 0543-9699 NEMA 4 START/STOP CS 1

N4-SS-ES 0369-4125 NEMA 4 START/STOP/ESTOP 1

P NEMA4
EMERGENCY STOP

XP NEMA4
EMERGENCY STOP

PY NEMA4
EMERGENCY STOP

FRS CONTROL STATIONS

SSES CONTROL STATIONS

MSP32-18-120-SS



WWW.MCG-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.MCG-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

NEMA CONTROL STATIONS

N4XP-OCS 0558-4689 N4 ENCLOSURE CLR/OPEN/CLOSE/STOP 1

N4XSS-HOA 0562-8621 NEMA 4 SS HAND/OFF/AUTO 1

N4XSS-MESTOP 0539-7312 N4X STAINLESS TWIST RELEASE ESTO 1

NP4-ESTOP 0544-1127 TWIST RELEASE ESTOP PLASTIC CONR 1

110 111

PART # STOCK CODE DESCRIPTION PER

CONTROL TRANSFORMERS

MO 0025HC 0284-9064 CONTROL TRANS 25VA 120/240-12/24 1

MO 0050HC 0284-9067 CONTROL TRANS 50VA 120/240-12/24 1

MO 0050IC 0284-9070 CONTROL TRANS 50VA 277-12/24VAC 1

MO 0050IH 0284-9073 CONTROL TRANS 50VA 277-120/240VA 1

MO 0050LC 0284-9076 CONTROL TRANS 50VA 380/347-12/24 1

MO 0050LH 0284-9079 CONTROL TRANS 50VA 380/347-120/2 1

MO 0050NC 0284-9082 CONTROL TRANS 50VA 208/416-12/24 1

MO 0050NH 0284-9085 CONTROL TRANS 50VA 208/418-120-2 1

MO 0050PC 0284-9088 CONTROL TRANS 50VA 240/480-12/24 1

MO 0050PH 0284-9091 CONTROL TRANS 50VA 240/480-120/2 1

MO 0050UC 0293-0571 CONTROL TRANS 50VA 480/600-12/24 1

MO 0050UH 0293-0574 CONTROL TRANS 50VA 480/600-120/2 1

MO 0100HC 0284-9094 CONTROL TRANS 100VA 120/240-12/2 1

MO 0100IC 0284-9097 CONTROL TRANS 100VA 277-12/24VAC 1

MO 0100IH 0284-9100 CONTROL TRANS 100VA 277-120/240V 1

MO 0100LC 0284-9103 CONTROL TRANS 100VA 380/347-12/2 1

MO 0100LH 0284-9106 CONTROL TRANS 100VA 380/347-120/ 1

MO 0100NC 0284-9109 CONTROL TRANS 100VA 208/416-12/2 1

MO 0100NH 0284-9112 CONTROL TRANS 100VA 208/416-120/ 1

MO 0100PC 0284-9115 CONTROL TRANS 100VA 240/480-12/2 1

MO 0100PH 0279-9408 CONTROL TRANS 100VA 240/480-120/ 1

MO 0150HC 0284-9118 CONTROL TRANS 150VA 120/240-12/2 1

MO 0150IC 0284-9121 CONTROL TRANS 150VA 277-12/24VAC 1

MO 0150LC 0284-9124 CONTROL TRANS 150VA 380/347-12/2 1

MO 0150LH 0284-9127 CONTROL TRANS 150VA 380/347-120/ 1

MO 0150PC 0284-9130 CONTROL TRANS 150VA 240/480-12/2 1

MO 0150PH 0284-9133 CONTROL TRANS 150VA 240/480-120/ 1

MO 0150UH 0330-7581 CONTROL TRANS 150VA 480/600-120/ 1

MO 0250HC 0284-9139 CONTROL TRANS 250VA 120/240-12/2 1

MO 0250IC 0284-9142 CONTROL TRANS 250VA 277-12/24VAC 1

MO 0250IH 0284-9136 CONTROL TRANS 250VA 277-120/240V 1

MO 0250LC 0284-9145 CONTROL TRANS 250VA 380/347-12/2 1

MO 0250LH 0284-9148 CONTROL TRANS 250VA 380/347-120/ 1

MO 0250NC 0284-9151 CONTROL TRANS 250VA 208/416-12/2 1

MO 0250NH 0284-9154 CONTROL TRANS 250VA 208/416-120/ 1

MO 0250PC 0284-9157 CONTROL TRANS 250VA 240/480-12/2 1

MO 0250PH 0284-9160 CONTROL TRANS 250VA 240/480-120/ 1

MO 0500HC 0284-9163 CONTROL TRANS 500VA 120/240-12/2 1

MO 0500IC 0284-9166 CONTROL TRANS 500VA 277-12/24VAC 1

MO 0500IH 0284-9169 CONTROL TRANS 500VA 277-120/240V 1

MO 0500LC 0284-9172 CONTROL TRANS 500VA 380/247-12/2 1

MO 0500LH 0284-9175 CONTROL TRANS 500VA 380/347-120/ 1

MO 0500NC 0284-9178 CONTROL TRANS 500VA 208/416-12/2 1

MO 0500NH 0284-9208 CONTROL TRANS 500VA 208/416-120/ 1

MO 0500PC 0284-9181 CONTROL TRANS 500VA 240/480-12/2 1

MO 0500PH 0284-9184 CONTROL TRANS 500VA 240/480-120/ 1

MO 1000HC 0284-9187 CONTROL TRANS 1000VA 120/240-12/ 1

MO 1000IH 0284-9190 CONTROL TRANS 1000VA 277-120/240 1

PART # STOCK CODE DESCRIPTION PER

ICE CUBE RELAYS & BASES

MCS 11PRB120V 0544-8117 11 PIN PLUG IN RELAY & BASE 120V 1

MCS 11PRB24V 0544-8120 11 PIN PLUG IN RELAY & BASE 24VA 1

MCS 2PBRG 0543-9633 22MM DOUBLE PB MOM RED/GRN 1NO/1 1

MCS 2PKSS 0543-8640 22MM 2 POS KEYED SEL SWITCH 1NO/ 1

MCS 2PSS 0543-8634 22MM 2 POS SELECTOR SWITCH 1NO/1 1

MCS 3PSS 0543-8637 22MM 3 POS SELECTOR SWITCH 2NO 1

MCS 8PRB120V 0543-8703 8 PIN PLUG IN 10A RELAY & BASE 1 1

MCS 8PRB240V 0543-8727 8 PIN PLUG IN 10A RELAY & BASE 2 1

MCS 8PRB24V 0543-8718 8 PIN PLUG IN 10A RELAY & BASE 2 1

MCR152012231012WTL 0425-0346 RELAY PLUG-IN 10A 8PIN 2PDT 12VD 1

MCR152012231024WTL 0284-4846 RELAY PLUG-IN 10A 8PIN 2PDT 24VD 1

MCR152012235024WTL 0283-0656 RELAY PLUG-IN 10A 8PIN 2PDT 24VA 1

MCR152012235120WTL 0281-4036 RELAY PLUG-IN 10A 8PIN 2PDT 120V 1

MCR152012235240WTL 0284-4849 RELAY PLUG-IN 10A 8PIN 2PDT 240V 1

MCR152013231012WTL 0281-4039 RELAY PLUG-IN 10A 11PIN 3PDT 12V 1

MCR152013231024WTL 0281-4042 RELAY PLUG-IN 10A 11PIN 3PDT 24V 1

MCR152013235012WTL 0296-7099 RELAY PLUG-IN 10A 11PIN 3PDT 12V 1

MCR152013235024WTL 0210-1092 RELAY PLUG-IN 10A 11PIN 3PDT 24V 1

MCR152013235120WTL 0210-1095 RELAY PLUG-IN 10A 11PIN 3PDT 120 1

MCR152013235240WTL 0284-4852 RELAY PLUG-IN 10A 11PIN 3PDT 240 1

MCR22012231024WTL 0296-7045 RELAY PLUG-IN 12A 8 BLADE 2PDT 2 1

MCR22012235024WTL 0296-7060 RELAY PLUG-IN 12A 8 BLADE 2PDT 2 1

MCR22012235120WTL 0296-7063 RELAY PLUG-IN 12A 8 BLADE 2PDT 1 1

MCR22012235240WTL 0296-7066 RELAY PLUG-IN 12A 8 BLADE 2PDT 2 1

MCR32013231012WTL 0296-7069 RELAY PLUG-IN 10A 11 BLADE 3PDT 1

MCR32013231024WTL 0296-7072 RELAY PLUG-IN 10A 11 BLADE 3PDT 1

MCR32013235012WTL 0296-7075 RELAY PLUG-IN 10A 11 BLADE 3PDT 1

MCR32013235024WTL 0296-7078 RELAY PLUG-IN 10A 11 BLADE 3PDT 1

MCR32013235120WTL 0296-7081 RELAY PLUG-IN 10A 11 BLADE 3PDT 1

MCR32013235240WTL 0296-7084 RELAY PLUG-IN 10A 11 BLADE 3PDT 1

MCR42014231012WTL 0281-4048 RELAY PLUG-IN 6A 14 BLADE 4PDT 1 1

MCR42014231024WTL 0281-4045 RELAY PLUG-IN 6A 14 BLADE 4PDT 2 1

MCR42014235024WTL 0284-4855 RELAY PLUG-IN 6A 14 BLADE 4PDT 2 1

MCR42014235120WTL 0284-4858 RELAY PLUG-IN 6A 14 BLADE 4PDT 1 1

MCR42014235240WTL 0284-4861 RELAY PLUG-IN 6A 14 BLADE 4PDT 2 1

MCRGZT2 0296-7087 8 BLADE BASE FOR TYPE R2 RELAY 1

MCRGZT3 0296-7090 11 BLADE BASE FOR TYPE R3 RELAY 1

MCRGZT4 0281-4033 14 BLADE BASE FOR TYPE R4 RELAY 1

MCRPZ11 0210-1101 11PIN BASE FOR TYPE R15 RELAY 1

MCRPZ8 0210-1098 8PIN OCTAL BASE FOR TYPE R15 REL 1

MCR ICE  
CUBE RELAYS

BASES

MO CONTROL
TRANSFORMERS



WWW.MCG-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.MCG-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

CONTROL TRANSFORMERS

MO 1000LH 0284-9193 CONTROL TRANS 1000VA 380/347-120 1

MO 1000NH 0284-9196 CONTROL TRANS 1000VA 208/416-120 1

MO 1000PH 0284-9199 CONTROL TRANS 1000VA 240/480-120 1

MO 2000HC 0284-9202 CONTROL TRANS 2000VA 120/240-12/ 1

MO 2000PH 0284-9205 CONTROL TRANS 2000VA 240/480-120 1

MO 5000PH 0284-9211 CONTROL TRANS 5000VA 240/480-120 1

MO0050QC 0541-0842 50VA 600 PRIM 12/24 SECOND XFORM 1

MO0500QH 0541-0845 500VA 600 PRIM 1020-240 SEC 1 PH 1

MO3000IH 0309-3369 3000VA 277-120V 50/60HZ 1PH OPEN 1

TMI00502000XK 0322-7946 50VA 208/230/460 - 24/115 VAC CO 1

TMI01002002XK 0393-3195 100VA 208/230/460 - 24/115VAC CO 1

TMI0100HBXK 0446-5716 100VA 120/240 - 24VAC CONT TRANS 1

TMI0100MQ15XK 0446-5725 100VA 208/277 - 120VAC CONT TRAN 1

TMI01502003XK 0322-7949 150VA 208/230/460 - 24/115VAC CO 1

TMI0150HBXK 0446-5719 150VA 120/240 - 24VAC CONT TRANS 1

TMI0150MQ15XK 0446-5728 150VA 208/277 - 120VAC CONT TRAN 1

TMI02002004XK 0393-3198 200VA 208/230/460 - 24/115VAC CO 1

TMI02502005XK 0322-7952 250VA 208/230/460 - 24/115VAC CO 1

TMI0250HBXK 0446-5722 250VA 120/240 - 24VAC CONT TRANS 1

TMI0250MQ15XK 0446-5731 250VA 208/277 - 120VAC CONT TRAN 1

TMI03502007XK 0393-3201 350VA 208/230/460 - 24/115VAC CO 1

TMI05002008XK 0322-7955 500VA 208/230/460 - 24/115VAC CO 1

TMI07502009XK 0393-3204 750VA 208/230/460 - 24/115VAC CO 1

TMI1000PEXK 0330-7188 1000VA 208/230/460 - 24/115VAC C 1

112 113

PART # STOCK CODE DESCRIPTION PER

METAL ENCLOSURES

R423612 0284-9682 NEMA4-12 ENCL W/BACK PLATE 42X36 1

R483620 0320-4054 NEMA4-12 ENCL W/BACKPLATE 48X36X 1

R603616 0284-9685 NEMA4-12 ENCL W/BACK PLATE 60X36 1

R603620 0320-4057 NEMA4-12 ENCL W/BACKPLATE 60X36X 1

S-201008-M3R 0362-7957 NEMA3R ENCL 20X10X8 NO BACKPLATE 1

S100804 0284-9688 NEMA4-12 ENCL W/BACK PLATE 10X8X 1

S100806 0304-7274 NEMA 4-12 ENCL W/BACKPLATE 10X8X 1

S10106 0301-0302 NEMA 4-12 ENCL W/BACK PLATE 10X1 1

S121005 0312-2448 NEMA4-12 ENCL W/BACKPLATE 12X10X 1

S121008 0302-0544 NEMA4-12 ENCL W/BACKPLATE 12X10X 1

S121206 0284-9691 NEMA4-12 ENCL W/BACK PLATE 12X12 1

S141206 0302-0538 NEMA4-12 ENCL W/BACKPLATE 14X12X 1

S141208 0302-0541 NEMA4-12 ENCL W/BACKPLATE 14X12X 1

S161006-M4 0391-2048 NEM 4-12 ENCL 16X10X6 NO BP 1

S161406 0304-7277 NEMA 4-12 ENCL W/BACKPLATE 16X14 1

S161408 0284-9694 NEMA4-12 ENCL W/BACK PLATE 16X14 1

S201008-M4 0391-2051 NEM 4-12 ENCL 20X10X8 NO BP 1

S201208-M3R 0362-7969 NEMA3R ENCL 20X12X8 NO BACKPLATE 1

S201208-M4 0391-2054 NEM 4-12 ENCL 20X12X8 NO BP 1

S201610 0284-9697 NEMA4-12 ENCL W/BACK PLATE 20X16 1

S241208 0301-7703 NEMA4-12 ENCL W/BACKPLATE 24X12X 1

S241210 0301-7709 NEMA4-12 ENCL W/BACKPLATE 24X12X 1

S241210-M3R 0362-7960 NEMA3R ENCL 24X12X10 NO BACKPLAT 1

S241210-M4 0391-2057 NEM 4-12 ENCL 24X12X10 NO BP 1

S241410-M3R 0362-7966 NEMA3R ENCL 24X14X10 NO BACKPLAT 1

S241410-M4 0391-2060 NEM 4-12 ENCL 24X14X10 NO BP 1

S241608 0304-9722 NEMA 4-12 ENCL W/BACKPLATE 24X16 1

S242006 0304-9725 NEMA 4-12 ENCL W/ BACKPLATE 24X2 1

S242010 0285-6111 NEMA 4-12 ENCL W/BACK PLATE 24X2 1

S301410-M4 0391-2114 NEM 4-12 ENCL 30X14X10 NO BP 1

S301612-M3R 0362-7963 NEMA3R ENCL 30X16X12 NO BACKPLAT 1

S301612-M4 0391-2063 NEM 4-12 ENCL 30X16X12 NO BP 1

R24248WD30 0449-6187 R242408 N4 ENCL W/ 32A 3 POLE DI 1

S121008WL 0549-6198 N4 12X10X8 ENCLOSURE W/LOUVERS 1

SCE-10086ELJ 0432-4146 NEMA 4 ENCL 10X8X6 NO BP SAG 1

SCE-1008ELJ 0381-6975 NEMA 4 ENCL 10X8X4 NO BP SAG 1

SCE-120706 0563-3553 BOLT PACK - ELJ ENCLOSURE 1

SCE-1210ELJ 0381-6960 NEMA 4 ENCL 12X10X6 NO BP SAG 1

SCE-1212ELJ 0539-4417 NEMA 4 ENCL 12X12X6 NO BP SAG 1

SCE-16148ELJ 0449-5650 NEMA 4 ENCL 16X14X8 NO BP SAG 1

SCE-16148ELJW 0485-6325 NEMA 4 ENCL 16X14X8 W/WINDOW NO 1

SCE-18N1606NK-B 0556-8087 BLUE LCP NEMA 1 18X16X6 1

SCE-20EL1606LP 0356-7501 NEMA 4 ENCL 20X16X6 NO BP SAG 1

SCE-20EL1608LP 0542-3766 NEMA 4- ENCL 20X16X8 NO BP 1

SCE-20EL1612LP 0473-9640 NEMA 4 ENCL 20X16X12 NO BP 1

SCE-20EL2008LP 0539-6175 NEMA 4 ENCL 20X20X8 NO BP  SAG 1

SCE-20N2006LP 0473-9304 NEMA 1 ENCL 20X20X6 NO BP SAG HI 1

SCE-20N20MPP 0473-9307 SUB PANEL FOR SCE2020 PERFORATED 1

PART # STOCK CODE DESCRIPTION PER

METAL ENCLOSURES

1PBM 0288-1518 1-HOLE CONTROL STATION NEMA 12 1

2PBM 0288-1521 2-HOLE CONTROL STATION NEMA 12 1

3PBM 0288-1524 3-HOLE CONTROL STATION NEMA 12 1

4PBM 0309-0192 4-HOLE CONTROL STATION NEMA 12 1

R161206 0328-3167 NEMA4-12 ENCL W/BACKPLATE 16X12X 1

R161606 0328-3164 NEMA4-12 ENCL W/BACKPLATE 16X16X 1

R201606 0284-9655 NEMA4-12 ENCL W/BACK PLATE 20X16 1

R241608 0284-9658 NEMA4-12 ENCL W/BACK PLATE 24X16 1

R242006 0284-9661 NEMA4-12 ENCL W/BACK PLATE 24X20 1

R242010 0284-9664 NEMA4-12 ENCL W/BACK PLATE 24X20 1

R242408 0284-9667 NEMA4-12 ENCL W/BACK PLATE 24X24 1

R242410 0301-1430 NEMA4-12 ENCL W/BACK PLATE 24X24 1

R302006 0284-9670 NEMA4-12 ENCL W/BACK PLATE 30X20 1

R302408 0284-9673 NEMA4-12 ENCL W/BACK PLATE 30X24 1

R303008 0354-1944 NEMA 4-12 ENCL W/ BACKPLATE 30X3 1

R362410 0284-9676 NEMA4-12 ENCL W/BACK PLATE 36X24 1

R363008 0315-2511 NEMA 4-12 ENCL W/BACK PLATE 36X3 1

R363012 0284-9679 NEMA4-12 ENCL W/BACK PLATE 36X30 1

R363016 0320-4060 NEMA4-12 ENCL W/BACKPLATE 36X30X 1

TMI FUSED SECONDARY 
 STEP DOWN TRANSFORMER

22MM PUSH BUTTON
NEMA ENCLOSURES

NEMA 4-12 METAL 
WITH HINGED COVER



WWW.MCG-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.MCG-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

METAL ENCLOSURES

SCE-20XEL2108LP 0449-5689 N4 ENCL WITH FLANGE 20X21X8 1

SCE-24EL1206LP 0373-5519 NEMA 4 ENCL 24X12X6 NO BP SAG 1

SCE-24EL1608LP 0433-9584 NEMA 4 ENCL 24X16X8 NO BP SAG 1

SCE-24EL2006LP 0545-6940 NEMA 4 ENCL 24X20X6 NO BP SAG 1

SCE-24EL2010LP 0536-5239 NEMA 4 ENCL 24X20X10 NO BP SAG 1

SCE-24EL2012LP 0445-8360 NEMA 4 ENCL 24X20X12 NO BP SAG 1

SCE-24EL2408LP 0443-4363 NEMA 4 ENCL 24X24X08 NO BP SAG 1

SCE-24EL2410LP 0443-4366 NEMA 4 ENCL 24X24X10 NO BP SAG 1

SCE-24EL2416LP 0542-8608 NEMA 4 ENCL 24X24X16 NO BP SAG 1

SCE-24EL4210WFLP 0543-3321 SAG 24X42X10 NEMA 4-12 ENCL DBL 1

SCE-24N2006NK-B 0554-6865 24X20X6 N1 ENCL BLUE SAGINAW 1

SCE-24XEL2510LP 0443-4360 N4 ENCL WITH FLANGE 24X25X10 1

SCE-29VR2412 0541-0590 N3R VENTED ENCL 29X24X12 NO BP W 1

SCE-30EL2010LP 0552-0405 N4-12 30X20X10 ENCL NO BP SAG 1

SCE-30EL2406LP 0542-0973 NEMA 4 ENCL 30X24X6 NO BP 1

SCE-30EL2408LP 0490-5471 NEMA 4 ENCL 30X24X8 NO BP 1

SCE-30EL2412LP 0546-0663 NEMA 4 ENCL 30X24X12 NO BP 1

SCE-30EL2420LP 0544-0665 NEMA 4-12 ENCL 30X24X20 NO BP SA 1

SCE-30EL2424LP 0443-3973 NEMA 4 30X24X24 NO BP SAG 1

SCE-30EL3008LP 0539-6169 NEMA 4 ENCL 30X30X8 NO BP 1

SCE-30EL3608LP 0542-3727 NEMA 4 30X36X8 NO BP SAG 1

SCE-30EL4210WFLP 0539-7885 NEMA 4 ENCL 30X42X10 2DR W/ HNDL 1

SCE-30N2412LP 0389-3211 NEMA 1 ENCL 30X24X12 NO BACKPLAT 1

SCE-30N24MP 0389-3214 SUB PANEL FLAT FOR N1 SCE-30N24 1

SCE-30XEL2510LP 0443-4357 N4 ENCL WITH FLANGE 30X25X10 1

SCE-35VR2412 0476-6646 N3R VENTED ENCL 35X24X12 NO BP W 1

SCE-36EL2408LP 0539-0106 NEMA 4 ENCL 36X24X8 NO BP SAG 1

SCE-36EL3008LP 0432-4149 NEMA 4 ENCL 36X30X8 NO BP SAG 1

SCE-36EL3012LP 0491-7915 NEMA 4 ENCL 36-X30X12 NO BP SAG 1

SCE-36EL3016LP 0545-3628 NEMA 4 ENCL 36X30X16 NO BP 1

SCE-36EL3020LP 0543-6651 NEMA 4 ENCL 36X30X20 NO BP SAG 1

SCE-36EL3612LP 0543-6645 NEMA 4 ENCL 36X36X12 NO BP SAG 1

SCE-36EL3616LP 0446-0412 NEMA 4 ENCL 36X36X16 NO BP SAG 1

SCE-36XEL2510LP 0449-5695 N4 ENCL WITH FLANGE 36X25X10 NO 1

SCE-424212WFLP 0544-3707 NEMA 4-12 DBL DR ENCL 42X42X12 1

SCE-42XEL3112LP 0531-6996 N4 ENCL WITH FLANG 42X31X12 1

SCE-47VR2414 0449-5692 N3R VENTED ENCL 47X24X14 NO BP W 1

SCE-484816WFLP 0424-8003 NEMA 3R,12 ENCL 48X48X16 NO BACK 1

SCE-48EL3612LP 0542-3760 NEMA 4 ENCL 48X36X12 NO BP 1

SCE-48H3608LP 0542-1081 N4 ENCL 48X36X8 NO BP 1

SCE-4PB 0425-1549 30MM 4 PUSH BUTTON STATION METAL 1

SCE-604816LP 0425-5785 N4 ENCL 60X48X16 DBL DOOR W/ FEE 1

SCE-60EL3612LP 0540-4059 N4 ENCL 60X36X12 NO BACK PLATE 1

SCE-60EL3616LP 0393-3072 N4 ENCL 60X36X16 NO BACK PLATE 1

SCE-60EL3620LP 0427-3089 N4 ENCL 60X36X20 NO BACK PLATE 1

SCE-60EL3624LP 0389-3652 N4 ENCL 60X36X24 NO BACK PLATE 1

SCE-60EL3624LPPL 0532-4301 N4 ENCL 60X36X24 3PT LATCH NO BA 1

SCE-60EL6018LPPL 0449-5404 N4 ENCL 60X60X18 DBL DR W/FT NO 1

114 115

PART # STOCK CODE DESCRIPTION PER

METAL ENCLOSURES

SCE-72EL3018FS 0543-6447 N4 ENCL 72X30X18 NO BACK PLATE 1

SCE-72EL3024FS 0567-1545 EL FS ENCLOSURE N4-12 72X30X24 1

SCE-72P30F1 0543-6450 BACK PLATE FOR SCE-72X30 "WHITE" 1

SCE-DF24EL24LP 0542-8611 PANEL, DEAD FRONTWALL MOUNT 20X2 1

SCE-DF30EL24LP 0542-1072 PANEL, DEAD FRONT  WALL MOUNT 26 1

SCE-L9126ELJ 0505-1289 N4 ENCL 9X12X6 TROUGH BOX NO BP 1

SCE-L9186ELJ 0527-8557 N4 ENCL 9X18X6 TROUGH BOX NO BP 1

SCE-L9366ELJ 0536-3571 N4 ENCL 9X36X6 TROUGH BOX NO BP 1

SCE-1PBSSI 0438-9690 N4X STAINLESS 1 HOLE PB STATION 1

SCE-2PBSSI 0438-9693 N4X STAINLESS 2 HOLE PB STATION 1

SCE-3PBSSI 0438-9696 N4X STAINLESS 3 HOLE PB STATION 1

PART # STOCK CODE DESCRIPTION PER

NON-METALLIC ENCLOSURES

1PBF 0458-8473 1 PB CONTROL STATION NEMA4X FIBE 1

1PBF-L 0536-0025 1 PB CONTROL STATION N4X FIBER - 1

2PBF 0538-8507 2 PB CONTROL STATION NEMA 4X FIB 1

3PBF 0542-1180 3 PB CONTROL STATION NEMA 4X FIB 1

4PBF 0542-1183 4 PB CONTROL STATION NEMA 4X FIB 1

AR1084CHL 0449-5134 10X8X4 NEMA 4X FIBER NM LATCH OP 1

AR1084CHSSL 0449-5131 10X8X4 NEMA 4X FIBER ENCL OPQ DO 1

AR1084CHSSLT 0449-5128 10X8X4 NEMA 4X FIBER ENCL CLR DO 1

AR1086CHSSL 0449-5140 10X8X6 NEMA 4X FIBER ENCL OPQ DO 1

AR1086CHSSLT 0449-5137 10X8X6 NEMA 4X FIBER ENCL CLR DO 1

AR12106CHL 0449-5149 12X10X6 NEMA 4X FIBER NM LATCH O 1

AR12106CHSSL 0449-5146 12X10X6 NEMA 4X FIBER ENCL OPQ D 1

AR12106CHSSLT 0449-5143 12X10X6 NEMA 4X FIBER ENCL CLR D 1

AR14127CHL 0449-5158 14X12X6 NEMA 4X FIBER NM LATCH O 1

AR14127CHSSL 0449-5155 14X12X6 NEMA 4X FIBER ENCL OPQ D 1

AR14127CHSSLT 0449-5152 14X12X6 NEMA 4X FIBER ENCL CLR D 1

AR16148CHSSL 0449-5164 16X14X7 NEMA 4X FIBER ENCL OPQ D 1

AR16148CHSSLT 0449-5161 16X14X7 NEMA 4X FIBER ENCL CLR D 1

AR181610CHSSL 0449-5170 18X16X10 NEMA 4X FIBER ENCL OPQ 1

AR181610CHSSLT 0449-5167 18X16X10 NEMA 4X FIVER ENCL CLR 1

AR242410CHSSL 0449-5122 24X24X10 NEMA 4X FIBER ENCL OPQ 1

AR664CHSSL 0449-5176 6X6X4 NEMA 4X FIBER ENCL OPQ DOO 1

AR664CHSSLT 0449-5173 6X6X4 NEMA 4X FIVER ENCL CLR DOO 1

AR865CHSSL 0449-5182 8X6X4 NEMA 4X FIBER ENCL OPQ DOO 1

AR865CHSSLT 0449-5179 8X6X4 NEMA 4X FIBER ENCL CLR DOO 1

AR884CHSSL 0449-5188 8X8X4 NEMA 4X FIBER ENCL OPQ DOO 1

AR884CHSSLT 0449-5185 8X8X4 NEMA 4X FIBER ENCL CLR DOO 1

PCMH125G 0538-8510 POLY CARB BOX IP66/67 9 X 5.5 X 1

G201608 0492-5355 20X16X8 N4X POLY ENCL OPAQUE DOO 1

G242410 0296-3388 24X24X10 NEMA 4X POLY ENCL OPAQU 1

G242410C 0434-5494 24X24X10 NEMA 4 POLY ENCL CLEAR 1

SCE SERIES 
STAINLESS STEEL

AR SERIES
NEMA 4X POLY

SCE SERIES 
STAINLESS STEEL



WWW.MCG-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.MCG-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

NON-METALLIC ENCLOSURES

G242410E 0425-1999 24X24X10 N4XPOLY ENCL OPAQUE NO 1

H10084HCLL 0296-3391 10X8X4 NEMA 4X POLY ENCL CLR DOO 1

H10084HLL 0296-3394 10X8X4 NEMA 4X POLY ENCL OPAQUE 1

H10084HNL 0313-1010 10X8X4 NEMA 4X POLY NON METALIC 1

H10084S 0554-4267 N4X POLY SCREW COVER ENCL 10X8X4 1

H10086HCLL 0296-3397 10X8X6 NEMA 4X POLY ENCL CLR DOO 1

H10086HLL 0296-3400 10X8X6 NEMA 4X POLY ENCL OPAQUE 1

H10086HLL-BLK 0308-9718 10X8X6 NEMA 4 X POLY ENCLOSURE B 1

H10086HLL-WHT 0308-9721 10X8X6 NEMA 4X POLY ENCLOSURE WH 1

H12106HCLL 0296-3403 12X10X6 NEMA 4X POLY ENCL CLR DO 1

H12106HLL 0296-3406 12X10X6 NEMA 4X POLY ENCL OPAQUE 1

H12106HLL-BLK 0308-9724 12X10X6 NEMA 4X POLY ENCLOSURE B 1

H12106HLL-WHT 0308-9727 12X10X6 NEMA 4X POLY ENCLOSURE W 1

H12106HNL 0315-2148 12X10X6 NEMA 4X POLY NON METALIC 1

H12106S 0542-2413 12X10X6 N4X POLY ENCL SCREW COVE 1

H141206HCLL 0296-3409 14X12X6 NEMA 4X POLY ENCL CLR DO 1

H141206HLL 0296-3412 14X12X6 NEMA 4X POLY ENCL OPAQUE 1

H141206HNL 0315-2151 14X12X6 NEMA 4X POLY NON METALLI 1

H161407HCLL 0296-3415 16X14X7 NEMA 4X POLY ENCL CLR DO 1

H161407HLL 0296-3418 16X14X7 NEMA 4X POLY ENCL OPAQUE 1

H181610HCLL 0296-3421 18X16X10 NEMA 4X POLY ENCL CLR D 1

H181610HLL 0296-3424 18X16X10 NEMA 4X POLY ENCL OPAQU 1

H6064HCLL 0296-3427 6X6X4 NEMA 4X POLY ENCL CLR DOOR 1

H6064HLL 0296-3430 6X6X4 NEMA 4X POLY ENCL OPAQUE D 1

H8064HCLL 0296-3991 8X6X4 NEMA 4X POLY ENCL CLR DOOR 1

H8064HLL 0296-3994 8X6X4 NEMA 4X POLY ENCL OPAQUE D 1

H8084HCLL 0296-3433 8X8X4 NEMA 4X POLY ENCL CLR DOOR 1

H8084HLL 0296-3436 8X8X4 NEMA 4X POLY ENCL OPAQUE D 1

P4043C 0448-9278 4X4X3 N4X POLY ENCL CLR CVR 1

P4043C-YLW 0538-8135 4X4X3 N4X POLY ENCL "YLW" W/ CLR 1

SCE-1614ELJ 0381-6969 NEMA 4 ENCL 16X14X6 NO BP SAG 1

SCE-1PBFG 0449-5701 1PB ENCL FIBERGLASS N4X 1

SCE-2PBFG 0449-5698 2PB ENCL FIBERGLASS N4X 1

SCE-2PBI 0541-7268 NEMA 4-12 2 PB CONTROL STATION E 1

SCE-3PBFG 0449-5416 3PB ENCL FIBERGLASS NEMA 4X 1

116 117

PART # STOCK CODE DESCRIPTION PER

ROTARY SWITCHES & DISCONNECTS

CI-EPH32-65S 0321-0762 NEMA 4X MMS ENCLOSURE ROTARY 32H 1

CI-MEH-100/115 0381-7521 CMS-100 DOOR DISCONNECT KIT 4.5" 1

CI-MEH-100/315 0381-7524 CMS-100 DOOR DISCONNECT KIT 12" 1

CI-MEH-32/115 0331-7205 CMS-32H DOOR DISCONNECT KITS 4.5 1

CI-MEH-32/315 0331-7208 CMS-32H DOOR DISCONNECT 12" SHAF 1

CI-MEH-63/315 0358-3374 CMS-63H DOOR DISCONNECT 12" SHAF 1

MBD11253P 0285-4725 3P 125A 600V W/ADJUST SHAFT RD H 1

MBD11253PSH 0285-4728 3P 125A 600V W/ADJUST SHAFT SH H 1

MBD1323P 0285-4758 3P 32A 600V W/ADJUST SHAFT RD HA 1

MBD1323PSH 0285-4761 3P 32A 600V W/ADJUST SHAFT SH HA 1

MBD1633P 0285-4764 3P 63A 600V W/ADJUST SHAFT RD HA 1

MBD1633PSH 0285-4767 3P 63A 600V W/ADJUST SHAFT SH HA 1

MBD1803P 0285-4731 3P 80A 600V W/ADJUST SHAFT RD HA 1

MBD1803PSH 0285-4734 3P 80A 600V W/ADJUST SHAFT SH HA 1

MBPM1003P 0295-5933 3P 100A SIDE/FRONT MNT RD HANDLE 1

MBPM323P 0285-4716 3P 32A SIDE/FRONT MNT RD HANDLE 1

MBPM633P 0285-4719 3P 63A SIDE/FRONT MNT RD HANDLE 1

MRD1253PSH 0288-2781 ENCLOSED IP65 3P 125A 600V 1

MRD633P 0285-5136 ENCLOSED IP65 3P 63A 600V 1

PART # STOCK CODE DESCRIPTION PER

PUSH BUTTONS & SWITCHES

KEPB22ER-02 0449-6763 22MM ESTOP MUCH (40MM) MOM 2NC 1

KEPB22ERK-02 0449-6766 22MM ESTOP MUCH (40MM) KEY REL 2 1

KEPB22ERK-11 0449-6769 22MM ESTOP MUCH (40MM) KEY REL 1 1

KEPB22ERS-02 0449-6772 22MM ESTOP MUCH (40MM) TWIST REL 1

KEPB22ERS-11 0449-6775 22MM ESTOP MUCH (40MM) TWIST REL 1

KSEB2241A-22 0542-0856 22MM EMER SWITCH ILL 110VAC 2NO2 1

KSEB2242A-22 0542-0853 22MM EMER SWITCH ILL 220VAC 2NO2 1

KSEP224-22 0542-0859 22MM EMER SWITCH TWIST REL 2NO2N 1

KSL25-K 0544-1409 SPARE KEYS FOR NS22-K SERIES 1

LP22-1 0449-6778 EMERGENCY STOP LEGEND PLATE 60MM 1

NS22-A CONTACT 0449-6745 NS22 N/O CB 1

NS22-B CONTACT 0449-6748 NS22 N/C CB 1

NS22-BA-L1ALB1A1B 0449-6340 22MM ILL PB MNT BLU 1NO/1NC 110V 1

NS22-BA-L1ALG1A1B 0449-6334 22MM ILL PB MNT GRN 1NO/1NC 110V 1

NS22-BA-L1ALO1A1B 0449-6346 22MM ILL PB MNT ORNG 1NO/1NC 110 1

NS22-BA-L1ALR1A1B 0449-6331 22MM ILL PB MNT RED 1NO/1NC 110V 1

NS22-BA-L1ALW1A1B 0449-6343 22MM ILL PB MNT WHT 1NO/1NC 110V 1

NS22-BA-L1ALY1A1B 0449-6337 22MM ILL PB MNT YLW 1NO/1NC 110V 1

NS22-BA-L2ALB1A1B 0449-6358 22MM ILL PB MNT BLUE 1NO/1NC 220 1

NS22-BA-L2ALG1A1B 0449-6352 22MM ILL PB MNT GRN 1NO/1NC 220V 1

NS22-BA-L2ALO1A1B 0449-6364 22MM ILL PB MNT ORNG 1NO/1NC 220 1

NS22-BA-L2ALR1A1B 0449-6349 22MM ILL PB MNT RED 1NO/1NC 220V 1

NS22-BA-L2ALW1A1B 0449-6361 22MM ILL PB MNT WHT 1NO/1NC 220V 1

SCE SERIES STEEL
BACK PLATES

OPEN DISCONNECTS

DOOR DISCONNECTS

NS22-A CONTACT



WWW.MCG-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.MCG-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

PUSH BUTTONS & SWITCHES

NS22-BA-L2ALY1A1B 0449-6355 22MM ILL PB MNT YLW 1NO/1NC 220V 1

NS22-BA-L2CB1A1B 0449-6436 22MM MAINT BLU 1NO/1NC 24VAC/DC 1

NS22-BA-L3CG1A1B 0449-6430 22MM MAINT GRN 1NO/1NC 24VAC/DC 1

NS22-BA-L3CO1A1B 0449-6442 22MM MAINT ORNG 1NO/1NC 24VAC/DC 1

NS22-BA-L3CR1A1B 0449-6427 22MM MAINT RED 1NO/1NC 24VAC/DC 1

NS22-BA-L3CW1A1B 0449-6439 22MM MAINT WHT 1NO/1NC 24VAC/DC 1

NS22-BA-L3CY1A1B 0449-6433 22MM MAINT YLW 1NO/1NC 24VAC/DC 1

NS22-BERL1AL-R1A01 0542-0865 22MM ILL MUSH TWST REL 110VAC LE 1

NS22-BERL2AL-R1A01 0542-0868 22MM ILL MUSH TWST REL 220VAC LE 1

NS22-BERL3AL-R1A01 0544-3713 ILL MUSH TWST REL 24VAC LED 1NO1 1

NS22-BM-L1ALB1A1B 0449-6250 22MM ILL PB MOM BLU 1NO/1NC 110V 1

NS22-BM-L1ALG1A1B 0449-6241 22MM ILL PB MOM GRN 1NO/1NC 110V 1

NS22-BM-L1ALO1A1B 0449-6247 22MM ILL PB MOM ORNG 1NO/1NC 110 1

NS22-BM-L1ALR1A1B 0449-6238 22MM ILL PB MOM RED 1NO/1NC 110V 1

NS22-BM-L1ALW1A1B 0449-6256 22MM ILL PB MOM WHT 1NO/1NC 110V 1

NS22-BM-L1ALY1A1B 0449-6244 22MM ILL PB MOM YLW 1NO/1NC 110V 1

NS22-BM-L2ALB1A1B 0449-6271 22MM ILL PB MOM BLU 1NO/1NC 220V 1

NS22-BM-L2ALG1A1B 0449-6262 22MM ILL PB MOM GRN 1NO/1NC 220V 1

NS22-BM-L2ALO1A1B 0449-6268 22MM ILL PB MOM ORNG 1NO/1NC 220 1

NS22-BM-L2ALR1A1B 0449-6259 22MM ILL PB MOM RED 1NO/1NC 220V 1

NS22-BM-L2ALW1A1B 0449-6274 22MM ILL PB MOM WHT 1NO/1NC 220V 1

NS22-BM-L2ALY1A1B 0449-6265 22MM ILL PB MOM YLW 1NO/1NC 220V 1

NS22-BM-L3CB1A1B 0449-6307 22MM ILL PB MOM BLU 1NO/1NC 24VA 1

NS22-BM-L3CG1A1B 0449-6295 22MM ILL PB MOM GRN 1NO/1NC 24VA 1

NS22-BM-L3CO1A1B 0449-6310 22MM ILL PB MOM ORN 1NO/1NC 24VA 1

NS22-BM-L3CR1A1B 0449-6280 22MM ILL PB MOM RED 1NO/1NC 24VA 1

NS22-BM-L3CW1A1B 0449-6301 22MM ILL PB MOM WHT 1NO/1NC 24VA 1

NS22-BM-L3CY1A1B 0449-6298 22MM ILL PB MOM YLW 1NO/1NC 24VA 1

NS22-D BOOTSEAL 0449-6757 NS22- D BOOT SEAL 1

NS22-DM-1A01B 0449-6148 22MM DBL PB MOMENTARY RED/GRN 1N 1

NS22-DM-L1AL1A1B 0449-6505 22MM ILL DBL PB MOM 110VAC LED 1 1

NS22-DM-L2AL1A1B 0449-6508 22MM ILL DBL PB MOM 220VAC LED 1 1

NS22-DM-L3C1A1B 0449-6511 22MM ILL DBL PB MOM 24AC/DC LED 1

NS22-K2-1A01B 0449-6220 22MM KEYED SW 2 POS MAINT 1NO/1N 1

NS22-K3-1A01A 0449-6226 22MM KEYED SW 3 POS MAINT 2NO CB 1

NS22-K3-1A01B 0449-6223 22MM KEYED SW 3 POS MAINT 1NO/1N 1

NS22-K3R-1A01B 0449-6235 22MM KEYED SW 3 POS LFT MAIN RT 1

NS22-KA2-1A01B 0449-6229 22MM KEYED SW 2 POS MOMENT 1NO/1 1

NS22-KA3-1A01B 0449-6232 22MM KEYED SW 3 POS MOMENT 1NO/1 1

NS22-L-L1ALB 0449-6682 22MM PILOT LIGHT BLUE 110VAC LED 1

NS22-L-L1ALG 0449-6676 22MM PILOT LIGHT GREEN 110VAC LE 1

NS22-L-L1ALO 0449-6688 22MM PILOT LIGHT ORANGE 110VAC L 1

NS22-L-L1ALR 0449-6673 22MM PILOT LIGHT RED 110VAC LED 1

NS22-L-L1ALW 0449-6685 22MM PILOT LIGHT WHITE 110VAC LE 1

NS22-L-L1ALY 0449-6679 22MM PILOT LIGHT YELLOW 110VAC L 1

NS22-L-L2ALB 0449-6700 22MM PILOT LIGHT BLUE 220VAC LED 1

NS22-L-L2ALG 0449-6694 22MM PILOT LIGHT GREEN 220VAC LE 1

NS22-L-L2ALO 0449-6706 22MM PILOT LIGHT ORANGE 220VAC L 1

118 119

PART # STOCK CODE DESCRIPTION PER

PUSH BUTTONS & SWITCHES

NS22-L-L2ALR 0449-6691 22MM PILOT LIGHT RED 220VAC LED 1

NS22-L-L2ALW 0449-6703 22MM PILOT LIGHT WHITE 220VAC LE 1

NS22-L-L2ALY 0449-6697 22MM PILOT LIGHT YELLOW 220VAC L 1

NS22-L-L3CB 0449-6718 22MM PILOT LIGHT BLUE 24VAC/DC L 1

NS22-L-L3CG 0449-6712 22MM PILOT LIGHT GREEN 24VAC/DC 1

NS22-L-L3CO 0449-6724 22MM PILOT LIGHT ORANGE 24VAC/DC 1

NS22-L-L3CR 0449-6709 22MM PILOT LIGHT RED 24VAC/DC LE 1

NS22-L-L3CW 0449-6721 22MM PILOT LIGHT WHITE 24VAC/DC 1

NS22-L-L3CY 0449-6715 22MM PILOT LIGHT YELLOW 24VAC/DC 1

NS22-L-L5AB 0449-6739 22MM PILOT LIGHT BLUE 440VAC LED 1

NS22-L-L5AC 0449-6742 22MM PILOT LIGHT CLR 440VAC LED 1

NS22-L-L5AG 0449-6733 22MM PILOT LIGHT GRN 440VAC LED 1

NS22-L-L5AR 0449-6730 22MM PILOT LIGHT RED 440VAC LED 1

NS22-L-L5AW 0449-6727 22MM PILOT LIGHT WHT 440VAC LED 1

NS22-L-L5AY 0449-6736 22MM PILOT LIGHT YLW 440VAC LED 1

NS22-NP 0449-6754 22MM NAMEPLATE HOLDER BLACK 1

NS22-PA-B1A01B 0449-6124 22MM PB MAINT PUSH ON/OFF BLU 1N 1

NS22-PA-BK1A01B 0449-6118 22MM PB MAINT PUSH ON/OFF BLK 1N 1

NS22-PA-G1A01B 0449-6106 22MM PB MAINT PUSH ON/OFF GRN 1N 1

NS22-PA-R1A01B 0449-6103 22MM PB MAINT PUSH ON/OFF RED 1N 1

NS22-PA-W1A01B 0449-6127 22MM PB MAINT PUSH ON/OFF WHT 1N 1

NS22-PA-Y1A01B 0449-6115 22MM PB MAINT PUSH ON/OFF YLW 1N 1

NS22-PEM-B1A01B 0449-6139 22MM MUSH MOMENTARY BLU 1NO/1NC 1

NS22-PEM-G1A01B 0449-6130 22MM MUSH MOMENTARY GRN 1NO/1NC 1

NS22-PEM-O1A01B 0449-6145 22MM MUSH MOMENTARY ORN 1NO/1NC 1

NS22-PEM-R1A01B 0449-6133 22MM MUSH MOMENTARY RED 1NO/1NC 1

NS22-PEM-W1A01B 0449-6142 22MM MUSH MOMENTARY WHT 1NO/1NC 1

NS22-PEM-Y1A01B 0449-6136 22MM MUSH MOMENTARY YLW 1NO/1NC 1

NS22-PER-R1A01B 0542-0862 22MM MUSH TWIST RELEASE RED 1NO/ 1

NS22-PM-B1A01B 0449-6085 22MM PB MOMENTARY BLUE 1NO/1NC C 1

NS22-PM-BK1A01B 0449-6082 22MM PB MOMENTARY BLACK 1NO/1NC 1

NS22-PM-G1A01B 0449-6076 22MM PB MOMENTARY GREEN 1NO/1NC 1

NS22-PM-R1A01B 0449-6073 22MM PB MOMENTARY RED 1NO/1NC CB 1

NS22-PM-W1A01B 0449-6088 22MM PB MOMENTARY WHITE 1NO/1NC 1

NS22-PM-Y1A01B 0449-6079 22MM PB MOMENTARY YELLOW 1NO/1NC 1

NS22-S2-1A01B 0449-6151 22MM SEL SW 2 POS MAINT 1NO/1NC 1

NS22-S2-L1ALG1A1B 0449-6538 22MM GRN SEL SW 2POS MNT 110VAC 1

NS22-S2-L1ALR1A1B 0449-6535 22MM RED SEL SW 2POS MNT 110VAC 1

NS22-S2-L1ALY1A1B 0449-6541 22MM YLW SEL SW 2POS MNT 110VAC 1

NS22-S2-L2ALG1A1B 0449-6526 22MM GRN SEL SW 2POS MNT 220VAC 1

NS22-S2-L2ALR1A1B 0449-6523 22MM RED SEL SW 2POS MNT 220VAC 1

NS22-S2-L2ALY1A1B 0449-6529 22MM YLW SEL SW 2POS MNT 220VAC 1

NS22-S2-L3CG1A1B 0449-6517 22MM GRN SEL SW 2POS MNT 24AC/DC 1

NS22-S2-L3CR1A1B 0449-6514 22MM RED SEL SW 2POS MNT 24AC/DC 1

NS22-S2-L3CY1A1B 0449-6520 22MM YLW SEL SW 2POS MNT 24AC/DC 1

NS22-S3-1A01A 0449-6157 22MM SEL SW 3 POS MAINT 2NO CB 1

NS22-S3-1A01B 0449-6154 22MM SEL SW 3 POS MAINT 1NO/1NC 1

NS22-S3-L1ALG1A1B 0449-6565 22MM GRN SEL SW 3POS MNT 110VAC 1

NS22 ESTOPS

NS22- D BOOT SEAL

NS22 STANDARD 
KNOB SELECTOR

NS22 DOUBLE BUTTON

SELECTOR SWITCHES  
ILLUMINATED

NS22 KEYED SELECTOR



WWW.MCG-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.MCG-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

PUSH BUTTONS & SWITCHES

NS22-S3-L1ALR1A1B 0449-6562 22MM RED SEL SW 3POS MNT 110VAC 1

NS22-S3-L1ALY1A1B 0449-6568 22MM YLW SEL SW 3POS MNT 110VAC 1

NS22-S3-L2ALG1A1B 0449-6556 22MM GRN SEL SW 3POS MNT 220VAC1 1

NS22-S3-L2ALR1A1B 0449-6553 22MM RED SEL SW 3POS MNT 220VAC 1

NS22-S3-L2ALY1A1B 0449-6559 22MM YLW SEL SW 3POS MNT 220VAC 1

NS22-S3-L3CG1A1B 0449-6547 22MM GRN SEL SW 3POS MNT 24AC/DC 1

NS22-S3-L3CR1A1B 0449-6544 22MM RED SEL SW 3POS MNT 24AC/DC 1

NS22-S3-L3CY1A1B 0449-6550 22MM YLW SEL SW 3POS MNT 24AC/DC 1

NS22-S3R-1A01B 0449-6166 22MM SEL SW 3 POS LFT MNT RT MOM 1

NS22-SA2-1A01B 0449-6160 22MM SEL SW 2 POS MOMENTARY 1NO/ 1

NS22-SA3-1A01B 0449-6163 22MM SEL SW 3 POS MOMENTARY 1NO/ 1

NS22-SL2-1A01B 0449-6202 22MM SEL SW LH 2 POS MAINT 1NO/1 1

NS22-SL3-1A01A 0449-6208 22MM SEL SW LH 3 POS MAINT 2NO C 1

NS22-SL3-1A01B 0449-6205 22MM SEL SW LH 3 POS MAINT 1NO/1 1

NS22-SL3-L1ALG1A1B 0449-6667 22MM SEL LH 3POS MNT 110VAC GRN 1

NS22-SL3-L1ALR1A1B 0449-6664 22MM SEL LH 3POS MNT 110VAC RED 1

NS22-SL3-L1ALY1A1B 0449-6670 22MM SEL LH 3POS MNT 110VAC YLW 1

NS22-SL3-L2ALG1A1B 0449-6583 22MM GRN SEL LH 3POS MNT 220VAC 1

NS22-SL3-L2ALR1A1B 0449-6580 22MM RED SEL LH 3POS MNT 220VAC 1

NS22-SL3-L2ALY1A1B 0449-6586 22MM YLW SEL LH 3POS MNT 220VAC 1

NS22-SL3-L3CG1A1B 0449-6574 22MM GRN SEL LH 3POS MNT 24AC/DC 1

NS22-SL3-L3CR1A1B 0449-6571 22MM RED SEL LH 3POS MNT 24AC/DC 1

NS22-SL3-L3CY1A1B 0449-6577 22MM YLW SEL LH 3POS MNT 24AC/DC 1

NS22-SL3R-1A01B 0449-6217 22MM SEL SW LH 3 POS LF MAIN RT 1

NS22-SLA2-1A01B 0449-6211 22MM SEL SW LH 2 POS MOMENT 1NO/ 1

NS22-SLA3-1A01B 0449-6214 22MM SEL SW LH 3 POS MOMENT 1NO/ 1

SC22-KEPB 0449-6781 EMERGENCY STOP SHROUD FOR KEPB22 1

120 121

PART # STOCK CODE DESCRIPTION PER

WIRE DUCT

NAB-1522GHD 0539-4279 WIRING DUCT 1 1/2 X 2 1/4 - GREY 1

NAB-1522WHD 0539-4282 WIRING DUCT 1 1/2 X 2 1/4 - WHIT 1

NAB-1530GHD 0539-4288 WIRING DUCT 1 1/2 X 3 - GREY 1

NAB-1530WHD 0539-4291 WIRING DUCT 1 1/2 X 3 -WHITE 1

NAB-1540GHD 0539-4294 WIRING DUCT 1 1/2 X 4 - GREY 1

NAB-1540WHD 0539-4297 WIRING DUCT 1 1/2 X 4 - WHTIE 1

NAB-2215GHD 0539-4300 WIRING DUCT 2 1/4 X 1 1/2 - GREY 1

NAB-2215WHD 0539-4303 WIRING DUCT 2 1/4 X 1 1/2 - WHIT 1

NAB-2222GHD 0539-4306 WIRING DUCT 2 1/4 X 2 1/4 - GREY 1

NAB-2222WHD 0539-4309 WIRING DUCT - 2 1/4 X 2 1/4 - WH 1

NAB-2230GHD 0539-4312 WIRING DUCT 2 1/4 X 3 - GREY 1

NAB-2230WHD 0539-4315 WIRING DUCT 2 1/4 X 3 - WHITE 1

NAB-2240GHD 0539-4318 WIRING DUCT 2 1/4 X 4 - GREY 1

NAB-2240WHD 0539-4321 WIRING DUCT 2 1/4 X 4 - WHITE 1

NAB-3015GHD 0539-4324 WIRING DUCT 3 X 1 1/2 - GREY 1

NAB-3015WHD 0539-4327 WIRING DUCT 3 X 1 1/2 - WHITE 1

NAB-3022GHD 0539-4330 WIRING DUCT 3 X 2 1/4 - GREY 1

NAB-3022WHD 0539-4333 WIRING DUCT 3 X 2 1/4 - WHITE 1

NAB-3030GHD 0539-4336 WIRING DUCT 3 X 3 - GREY 1

NAB-3030WHD 0539-4339 WIRING DUCT 3 X 3 - WHITE 1

NAB-3040GHD 0539-4342 WIRING DUCT 3 X 4 - GREY 1

NAB-3040WHD 0539-4345 WIRING DUCT 3 X 4 - WHITE 1

NAB-3050GHD 0539-4348 WIRING DUCT 3 X 5 - GREY 1

NAB-3050WHD 0539-4351 WIRING DUCT 3 X 5 - WHITE 1

NAB-4015GHD 0539-4354 WIRING DUCT 4 X 1 1/2 - GREY 1

NAB-4015WHD 0539-4357 WIRING DUCT 4 X 1 1/2 - WHITE 1

NAB-4022GHD 0539-4360 WIRING DUCT 4 X 2 1/4 - GREY 1

NAB-4022WHD 0539-4363 WIRING DUCT 4 X 2 1/4 - WHITE 1

NAB-4030GHD 0539-4366 WIRING DUCT 4 X 3 - GREY 1

NAB-4030WHD 0539-4369 WIRING DUCT 4 X 3 - WHITE 1

NAB-4040GHD 0539-4372 WIRING DUCT 4 X 4 - GREY 1
PART # STOCK CODE DESCRIPTION PER

WIRE DUCT

NAB-0510GHD 0539-4207 WIRING DUCT 1/2 X 1 - GREY 1

NAB-0510WHD 0539-4219 WIRING DUCT 1/2 X 1 - WHITE 1

NAB-0522GHD 0539-4222 WIRING DUCT 1/2 X 2 1/4 - GREY 1

NAB-0522WHD 0539-4225 WIRING DUCT 1/2 X 2 1/4 - WHITE 1

NAB-1010GHD 0539-4228 WIRING DUCT 1 X 1 - GREY 1

NAB-1010WHD 0539-4231 WIRING DUCT 1 X 1 - WHITE 1

NAB-1015GHD 0539-4234 WIRING DUCT 1 X 1 1/2 - GREY 1

NAB-1015WHD 0539-4237 WIRING DUCT 1 X 1 1/2 - WHITE 1

NAB-1022GHD 0539-4240 WIRING DUCT 1 X 2 1/4 - GREY 1

NAB-1022WHD 0539-4243 WIRING DUCT 1 X 2 1/4 - WHITE 1

NAB-1030GHD 0539-4261 WIRING DUCT 1 X 3 - GREY 1

NAB-1030WHD 0539-4264 WIRING DUCT 1 X 3 - WHITE 1

NAB-1040GHD 0539-4267 WIRING DUCT 1 X 4 - GREY 1

NAB-1040WHD 0539-4270 WIRING DUCT 1 X 4 - WHITE 1

NAB-1515GHD 0539-4273 WIRING DUCT 1 1/2 X 1 1/2 - GREY 1

NAB-1515WHD 0539-4276 WIRING DUCT 1 1/2 X 1 1/2 - WHIT 1

PART # STOCK CODE DESCRIPTION PER

TERMINAL BLOCKS

304120M 0285-4380 TERMINAL BLOCK GRAY 20A 26-12AWG 100

304121M 0285-4368 TERMINAL BLOCK BLUE 20A 26-12AWG 100

304122M 0308-9697 TERMINAL BLOCK GREEN 20A 26-12AW 100

304123M 0288-7008 TERMINAL BLOCK YELLOW 20A 26-12A 100

304124M 0285-4383 TERMINAL BLOCK RED 20A 26-12AWG 100

304125M 0289-8843 TERMINAL BLOCK BLACK 20A 26-12AW 100

304126M 0289-8846 TERMINAL BLOCK WHITE 20A 26-12AW 100

304127M 0289-8849 TERMINAL BLOCK ORANGE 20A 26-12A 100

304128M 0289-8852 TERMINAL BLOCK BROWN 20A 26-12AW 100

304129M 0296-9460 TERMINAL BLOCK BEIGE 20A 26-12AW 100

304130M 0285-4386 TERMINAL BLOCK GRAY 30A 26-10AWG 100

304131M 0285-4389 TERMINAL BLOCK BLUE 30A 26-10AWG 100

EMERGENCY STOP  
LEGEND PLATE

WIRING DUCT GREY

WIRING DUCT GREY

TERMINAL BLOCK GRAY



WWW.MCG-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.MCG-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

TERMINAL BLOCKS

304133M 0289-8855 TERMINAL BLOCK YELLOW 30A 26-10A 100

304134M 0285-4392 TERMINAL BLOCK RED 30A 26-10AWG 100

304135M 0289-8858 TERMINAL BLOCK BLACK 30A 26-10AW 100

304136M 0289-8861 TERMINAL BLOCK WHITE 30A 26-10AW 100

304137M 0289-8864 TERMINAL BLOCK ORANGE 30A 26-10A 100

304138M 0289-8867 TERMINAL BLOCK BROWN 30A 26-10AW 100

304140M 0285-4395 TERMINAL BLOCK GRAY 50A 26-8AWG 100

304141M 0285-4398 TERMINAL BLOCK BLUE 50A 26-8AWG 100

304143M 0289-8870 TERMINAL BLOCK YELLOW 50A 26-8AW 100

304144M 0285-4401 TERMINAL BLOCK RED 50A 26-8AWG 100

304145M 0289-8873 TERMINAL BLOCK BLACK 50A 26-8AWG 100

304146M 0289-8876 TERMINAL BLOCK WHITE 50A 26-8AWG 100

304147M 0289-8879 TERMINAL BLOCK ORANGE 50A 26-8AW 100

304148M 0289-8882 TERMINAL BLOCK BROWN 50A 26-8AWG 100

304150M 0285-4404 TERMINAL BLOCK GRAY 65A 16-6AWG 100

304151M 0285-4407 TERMINAL BLOCK BLUE 65A 16-6AWG 100

304154M 0285-4410 TERMINAL BLOCK RED 65A 16-6AWG 100

304190M 0285-4413 TERMINAL BLOCK GRAY 175A 2/0AWG 100

304191M 0285-4416 TERMINAL BLOCK BLUE 175A 2/0AWG 100

304194M 0285-4419 TERMINAL BLOCK RED 175A 2/0AWG 100

304210M 0352-2093 TERMINAL BLOCK GREY AVK4 PUSH IN 1

304214M 0352-2096 TERMINAL BLOCK RED AVK4 PUSH IN 1

304215M 0352-2099 TERMINAL BLOCK BLACK AVK 4 PUSH 1

304240M 0285-4422 TERMINAL BLOCK GRAY 80A 10-4AWG 100

304241M 0285-4425 TERMINAL BLOCK BLUE 80A 10-4AWG 100

304244M 0285-4428 TERMINAL BLOCK RED 80A 10-4AWG 100

304250M 0285-4431 TERMINAL BLOCK GRAY 115A 12-2AWG 100

304251M 0285-4434 TERMINAL BLOCK BLUE 115A 12-2AWG 100

304254M 0285-4437 TERMINAL BLOCK RED 115A 12-2AWG 100

319100M 0296-9466 2LVL THRU TERM BEIGE 30A 26-10AW 100

319101M 0296-6931 2LVL THRU TERM BLUE 30A 26-10AWG 100

319103M 0296-6934 2LVL THRU TERM YELLOW 30A 26-10A 100

319104M 0296-6937 2LVL THRU TERM RED 30A 26-10AWG 100

319105M 0296-6940 2LVL THRU TERM BLACK 30A 26-10AW 100

319106M 0296-6943 2LVL THRU TERM WHITE 30A 26-10AW 100

319107M 0296-6946 2LVL THRU TERM ORANGE 30A 26-10A 100

319108M 0296-6949 2LVL THRU TERM BROWN 30A 26-10AW 100

319109M 0285-4542 2LVL THRU TERM GREY 30A 26-10AWG 100

319129M 0285-4374 2LVL THRU TERM JUMPER30A 26-10AW 100

319219M 0285-4377 2LVL THRU TERM W/DIODE 30A 26-10 100

319319M 0285-4545 2LVL THRU TERM LED 24VAC 30A 26- 100

319329M 0285-4548 2LVL THRU TERM LED 24VDC 30A 26- 100

324109M 0285-4554 3LVL THRU TERM 24A 24-12AWG 300V 100

326051M 0290-4435 SPRING CLAMP TERMINAL BLUE 20A 2 100

326059M 0290-4438 SPRING CLAMP TERMINAL GRAY 20A 2 100

334120M 0285-4440 GROUNDING TERMINAL 26-10AWG 100

334140M 0285-4443 GROUNDING TERMINAL 16-8AWG 100

334180M 0352-2102 GROUNDING BLOCK AVK4TRD 1

122 123

PART # STOCK CODE DESCRIPTION PER

TERMINAL BLOCKS

334200M 0285-4446 GROUNDING TERMINAL 4AWG 100

334210M 0285-4449 GROUNDING TERMINAL 2AWG 100

336110M 0290-4441 SPRING CLAMP GRNDG TERMINAL CAMO 100

351129M 0289-8885 TERMINAL BLOCK GRAY FUSED 6.3A 2 100

353109M 0289-8888 TERMINAL BLOCK GRY DISCONNECT 16 100

353309M 0345-8121 4MM DOUBLE DECK FUSE TERM BLOCK 1

353329M 0346-8582 4MM DOUBLE DECK TERMINAL WITH LE 1

354109M 0354-1914 TERMINAL FUSE BLOCK 10A 26-10AWG 1

430002M 0346-7166 TERMINAL STRIP 12T BLK 3.75" 22 1

430012M 0346-7169 TERMINAL STRIP 12T BLK 4.5" 22 - 1

430022M 0346-7172 TERMINAL STRIP 12T BLK 5.25" 14 1

430032M 0346-7175 TERMINAL STRIP 12T BLK 7" 10 - 6 1

431002M 0346-7106 TERMINAL STRIP 12T WHT 3.75" 22- 1

431012M 0346-7109 TERMINAL STRIP 12T WHT 4.5" 22 - 1

431022M 0346-7112 TERMINAL STRIP 12T WHT 5.25" 14 1

431032M 0346-7115 TERMINAL STRIP 12T WHT 7" 10 - 6 1

444120M 0285-4452 END COVER GRAY 20-65A TERM 100

444121M 0296-6973 END COVER BLUE 20-65A TERM 100

444123M 0296-6976 END COVER YELLOW 20-65A TERM 100

444124M 0296-6979 END COVER RED 20-65A TERM 100

444125M 0296-6982 END COVER BLACK 20-65A TERM 100

444126M 0296-6985 END COVER WHITE 20-65A TERM 100

444127M 0296-6988 END COVER ORANGE 20-65A TERM 100

444128M 0296-6991 END COVER BROWN 20-65A TERM 100

444170M 0285-4455 END COVER GRAY 80A TERMINALS 100

446212T 0290-4444 END CVR CAMO GRN SPRING GRND TER 100

446219M 0290-4447 END CVR GRAY SPRING CLAMP TERMIN 100

449010M 0285-4551 END PLATE GREY 2 LVL TERM BLOCKS 100

449011M 0296-6952 END PLATE BLUE 2 LVL TERM BLOCKS 100

449013M 0296-6955 END PLATE YELLOW 2 LVL TERM BLOC 100

449014M 0296-6958 END PLATE RED 2 LVL TERM BLOCKS 100

449015M 0296-6961 END PLATE BLACK 2 LVL TERM BLOCK 100

449016M 0296-6964 END PLATE WHITE 2 LVL TERM BLOCK 100

449017M 0296-6967 END PLATE ORANGE 2 LVL TERM BLOC 100

449018M 0296-6970 END PLATE BROWN 2 LVL TERM BLOCK 100

450059M 0289-8891 END CVR GRY FOR DISCONNECT TERMI 100

450139M 0285-4557 END PLATE 3 LEVEL TERM BLOCK 100

450209M 0345-8124 COVER PLATE FOR 353309M 1

462120M 0285-4458 SEPARATOR  GRAY 100

474122M 0285-4461 CROSS CONNECTOR 2WAY 12AWG 100

474123M 0285-4464 CROSS CONNECTOR 3WAY 12AWG 100

474124M 0285-4467 CROSS CONNECTOR 4WAY 12AWG 100

474129M 0285-4470 CROSS CONNECTOR 10WAY 12AWG 100

474132M 0285-4473 CROSS CONNECTOR 2WAY 8AWG 2LVL 100

474133M 0285-4476 CROSS CONNECTOR 3WAY 10AWG 2LVL 100

474134M 0285-4479 CROSS CONNECTOR 4WAY 10AWG 2LVL 100

474139M 0285-4482 CROSS CONNECTOR 10WAY 10AWG 2LVL 100

474142M 0285-4485 CROSS CONNECTOR 2WAY 8AWG 100

TERMINAL BLOCK GRAY TERMINAL STRIPS



WWW.MCG-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.MCG-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

PART # STOCK CODE DESCRIPTION PER

TERMINAL BLOCKS

474143M 0285-4488 CROSS CONNECTOR 3WAY 8AWG 100

474144M 0285-4491 CROSS CONNECTOR 4WAY 8AWG 100

474149M 0285-4494 CROSS CONNECTOR 10WAY 8AWG 100

474152M 0285-4497 CROSS CONNECTOR 2WAY 6AWG 100

474153M 0285-4500 CROSS CONNECTOR 3WAY 6AWG 100

474154M 0285-4503 CROSS CONNECTOR 4WAY 6AWG 100

474159M 0285-4506 CROSS CONNECTOR 10WAY 6AWG 100

474162M 0285-4509 CROSS CONNECTOR 2WAY 4AWG 100

474163M 0285-4512 CROSS CONNECTOR 3WAY 4AWG 100

474164M 0285-4515 CROSS CONNECTOR 4WAY 4AWG 100

474169M 0285-4518 CROSS CONNECTOR 10WAY 4AWG 100

474172M 0285-4521 CROSS CONNECTOR 2WAY 1/0 AWG 100

474173M 0285-4524 CROSS CONNECTOR 3WAY 1/0 AWG 100

474174M 0285-4527 CROSS CONNECTOR 4WAY 1/0 AWG 100

474179M 0285-4530 CROSS CONNECTOR 10WAY 1/O AWG 100

476229M 0290-4450 PUSH-IN CROSS CONNECTION 10 WAY 100

476234M 0289-8894 COMB STYLE CONN DISCON TERMS 4 W 100

476239M 0352-2108 PUSH IN JUMPER UK4/10 1

476249M 0346-7274 JUMPER LINK FOR 353309M 1

480132M 0285-4560 CROSS CONNECTOR 2WAY 3LVL 100

480133M 0285-4563 CROSS CONNECTOR 3WAY 3LVL 100

480134M 0285-4566 CROSS CONNECTOR 4WAY LVL 100

480139M 0285-4569 CROSS CONNECTOR 10WAY 3LVL 100

495049M 0285-4371 END BRACKET GRAY 100

495059M 0358-7853 TERMINAL END BRACKET NO SCREW 100

501101M 0285-4572 MOUNTING RAIL SUPPORT 100

505020M 0328-7277 TERMINAL MARKERS "1-10" 10 SETS 1

505021M 0328-7280 TERMINAL MARKERS "11-20" 10 SETS 1

505040M 0289-8897 TERMINAL MARKERS "1-50" 10 SETS 1

505041M 0289-8900 TERMINAL MARKERS "51-100" 10 SET 1

505042M 0289-8903 TERMINAL MARKERS "101-150" 10 SE 1

505043M 0289-8906 TERMINAL MARKERS "151-200" 10 SE 1

505073M 0289-8909 TERMINAL MARKERS "N" (500PCS) 1

505090M 0289-8912 TERMINAL MARKERS "L1" (500PCS) 1

505091M 0289-8915 TERMINAL MARKERS "L2" (500PCS) 1

505092M 0289-8918 TERMINAL MARKERS "L3" (500PCS) 1

505097M 0289-8921 TERMINAL MARKERS GRND SYMBOL  (5 1

505390M 0363-5604 PLOTTER TAG DG 10X6 WHITE 360PC 1

505910M 0285-4365 TERMINAL MARKERS (BLANK) 500PACK 1

AVK474324 0285-4533 CROSS CONNECTOR 4WAY 2LVL 100

AVK474329 0285-4536 CROSS CONNECTOR 10WAY 2LVL 100

DINRAIL S2 0295-6950 OBSOLETE USE DINRAILS 1

124 125

PART # STOCK CODE DESCRIPTION PER

CABLE GLANDS

MBISP04 0303-5055 CABLE GLAND SPIRAL M20X1.5 PA GR 1

MBISP06 0303-5058 CABLE GLAND SPIRAL M25X1.5 PA GR 1

MBMEN02RL 0303-5061 CABLE GLAND M20X1.5 PA GRY 5-9MM 1

MBMEN13RL 0303-5064 CABLE GLAND M25X1.5 LT GRY 9-13M 1

MBML02 0303-5067 LOCKNUT M20X1.5 PA GRY 1

MBML03 0303-5070 LOCKNUT M25X1.5 PA GRY 1

MBNBC02S 0303-5073 CABLE GLAND NPT 1/2" BRS 10-14MM 1

MBNBC03 0303-5076 CABLE GLAND NPT 3/4" BRS 14-18MM 1

MBNSPA01R 0303-5079 CABLE GLAND SPIRAL NPT 3/8" PA G 1

MBNSPC02R 0303-5082 CABLE GLAND SPIRAL NPT 1/2" PA G 1

MBNSPD03R 0303-5085 CBL GLAND SPIRAL NPT 3/4" PA GRY 1

MBPL01 0303-5088 LOCKNUT NPT 3/8" PA GRY 1

MBPL02 0303-5091 LOCKNUT NPT 1/2" PA GRY 1

MBPL03 0303-5094 LOCKNUT NPT 3/4" PA GRY 1

MBPL04 0303-5097 LOCKNUT NPT 1" PA GRY 1

MBPL21 0551-6592 LOCKNUT NPT 3/8" PA BLACK 1

MBPL22 0551-4942 LOCK NUT NPT 1/2" BLACK 1

MBSP04R 0303-5100 CABLE GLAND NPT 1" PA GRY 12-20M 1

MBSPA01R 0303-5103 CABLE GLAND NPT 3/8" PA GRY 3-7M 1

MBSPA21R 0551-6589 CABLE GLANT NPT 3/8" PA BLACK 3- 1

MBSPB02R 0303-5106 CABLE GLAND NPT 1/2" PA GRY 5-9M 1

MBSPB22R 0551-4936 CABLE GLAND NPT 1/2" 5-9MM BLACK 1

MBSPC-02(2X6) 0315-0762 CABLE GLAND MH 2X6MM 1/2" NPT PA 1

MBSPC02R 0303-5109 CABLE GLAND NPT 1/2" PA GRY 7-12 1

MBSPC22R 0551-4939 CABLE GLAND NPT 1/2" 7-12MM BLAC 1

MBSPD03R 0303-5112 CABLE GLAND NPT 3/4" PA GRY 9-16 1

PART # STOCK CODE DESCRIPTION PER

MINI CIRCUIT BREAKERS

MCSMB1C0.5 0300-9324 0.5 AMP 1 POLE MCB DIN MOUNT 1

MCSMB1C1 0298-9221 1 AMP 1 POLE MCB DIN MOUNTABLE 1

MCSMB1C10 0300-9345 10 AMP 1 POLE MCB DIN MOUNTABLE 1

MCSMB1C16 0305-3142 16AMP 1POLE MCB DIN MOUNTABLE 1

MCSMB1C2 0300-9333 2 AMP 1 POLE MCB DIN MOUTABLE 1

MCSMB1C20 0300-9357 20 AMP 1 POLE MCB DIN MOUNTABLE 1

MCSMB1C25 0300-9360 25 AMP 1 POLE MCB DIN MOUNTABLE 1

MCSMB1C3 0300-9336 3 AMP 1 POLE MCB DIN MOUNTABLE 1

MCSMB1C32 0300-9363 32 AMP 1 POLE MCB DIN MOUNTABLE 1

MCSMB1C40 0300-9366 40 AMP 1 POLE MCB DIN MOUNTABLE 1

MCSMB1C5 0300-9339 5 AMP 1 POLE MCB DIN MOUNTABLE 1

MCSMB1C6 0300-9342 6 AMP 1 POLE MCB DIN MOUNTABLE 1

MCSMB2C1 0300-9408 1 AMP 2 POLE MCB DIN MOUONTABLE 1

MCSMB2C10 0300-9420 10 AMP 2 POLE MCB DIN MOUNTABLE 1

MCSMB2C16 0305-3145 16AMP 2POLE MCB DIN MOUNTABLE 1

MCSMB2C20 0300-9423 OBSOLETE USE PART # MCSMB2C25 1

SLOTTED DIN RAIL

MARKERS

CABLE GLANDS

NS22 DOUBLE BUTTON 
CABLE GLANDS 

 (CORD GRIPS) BRASS

NPT CABLE GLANDS

MINI CIRCUIT BREAKERS



WWW.MCG-USA.COM
Visit our website

11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COMSTANDARDS SUBJECT TO CHANGE. VISIT WWW.MCG-USA.COM FOR CURRENT INFORMATION

MASTER LINE CARD

126 127

PART # STOCK CODE DESCRIPTION PER

MINI CIRCUIT BREAKERS

MCSMB2C25 0300-9426 25 AMP 2 POLE MCB DIN MOUNTABLE 1

MCSMB2C3 0300-9411 3 AMP 2 POLE MCB DIN MOUNTABLE 1

MCSMB2C32 0300-9429 32 AMP 2 POLE MCB DIN MOUNTABLE 1

MCSMB2C40 0300-9432 40 AMP 2 POLE MCB DIN MOUNTABLE 1

MCSMB2C5 0300-9414 5 AMP 2 POLE MCB DIN MOUNTABLE 1

MCSMB2C6 0300-9417 6 AMP 2 POLE MCB DIN MOUNTABLE 1

MCSMB3C1 0300-9435 1 AMP 3 POLE MCB DIN MOUNTABLE 1

MCSMB3C10 0300-9450 10 AMP 3 POLE MCB DIN MOUNTABLE 1

MCSMB3C16 0305-3148 16AMP 3POLE DIN MOUNTABLE 1

MCSMB3C20 0300-9453 20 AMP 3 POLE MCB DIN MOUNTABLE 1

MCSMB3C25 0300-9456 25 AMP 3 POLE MCB DIN MOUNTABLE 1

MCSMB3C3 0300-9438 3 AMP 3 POLE MCB DIN MOUNTABLE 1

MCSMB3C32 0300-9459 32 AMP 3 POLE MCB DIN MOUNTABLE 1

MCSMB3C40 0300-9462 40 AMP 3 POLE MCB DIN MOUNTABLE 1

MCSMB3C5 0300-9441 5 AMP 3 POLE MCB DIN MOUNTABLE 1

MCSMB3C6 0300-9447 6 AMP 3 POLE MCB DIN MOUNTABLE 1

PART # STOCK CODE DESCRIPTION PER

VARIABLE FREQUENCY DRIVES

LSLV0015S100-4EONN 0425-1000 S100 VFD 2HP 380-480VAC (4A) 1

LSLV0022C100-2 0545-7150 C100 VFD 3HP 200-240VAC (11A) 1

LSLV0022C100-4 0425-0952 C100 VFD 3HP 380-480VAC (5.5A) 1

LSLV0022G100-2 0425-0937 G100 VFD 3HP 200-240VAC (11A) 1

LSLV0022G100-4EOFN 0562-8840 G100 VFD 3HP 380-480VAC (6.9A) 1

LSLV0022S100-2EONN 0425-0976 S100 VFD 3HP 200-240VAC (11A) 1

LSLV0022S100-4EONN 0425-1003 S100 VFD 3HP 380-480VAC (5.5A) 1

LSLV0037C100-2 0425-0940 C100 VFD 5HP 200-240VAC (16A) 1

LSLV0037C100-4 0425-0958 C100 VFD 5HP 380-480VAC (7.5A) 1

LSLV0037H100-4COFN 0538-2972 H100 VFD 5HP 380-480VAC (8A) 1

LSLV0037S100-2EXNN 0425-1030 S100 N4X VFD 5HP 200-240VAC (16A 1

LSLV0040G100-2 0545-7162 G100 VFD 5 HP 200-240VAC (17A) 1

LSLV0040G100-4EOFN 0556-6326 3PH 380-480VAC VFD 5HP 9AMP 1

LSLV0040S100-2EONN 0425-0979 S100 VFD 5.4HP 200-240VAC (16A) 1

LSLV0040S100-4EONN 0425-1006 S100 VFD 5.4HP 380-480VAC (8A) 1

LSLV0055C100-4 0425-0961 C100 VFD 7.5HP 380-480VAC (12A) 1

LSLV0055G100 0546-4590 G100 VFD 7.5HP 200-240VAC (24A) 1

LSLV0055H100-4COFN 0473-7813 H100 VFD 7.5HP 380 - 480VAC (12A 1

LSLV0055S100-2EONN 0425-0982 S100 VFD 7.5HP 200-240VAC (24A) 1

LSLV0055S100-4EOFN 0425-1009 S100 VFD 7.5HP 380-480VAC (12A) 1

LSLV0055SP100-4CEF 0538-9896 H100 VFD 7.5HP 480VAC W/ BYPASS 1

LSLV0075C100-2 0542-2416 C100 VFD 10HP 200-240VAC (32A) 1

LSLV0075H100-2CONN 0539-9112 H100 VFD 10HP 200 - 240VAC (30A) 1

LSLV0075S100-2EONN 0425-0985 S100 VFD 10HP 200-240VAC (32A) 1

LSLV0075S100-2EXNN 0545-5149 S100 VFD N4X 10HP 200-240V (32A) 1

LSLV0075S100-4EOFN 0425-1012 S100 VFD 10HP 380-480VAC (16A) 1

LSLV0075SP100-4CEF 0541-0689 H100 VFD 10HP 480VAC W/BYPASS 1

LSLV0110S100-2EONN 0425-0988 S100 VFD 15HP 200-240VAC (46A) 1

LSLV0110S100-2EXNN 0539-0145 S100 N4X VFD 15HP 200-240VAC (46 1

LSLV0110S100-4EOFN 0425-1015 S100 VFD 15HP 380-480VAC (24A) 1

LSLV0110S100-4EXNN 0473-9295 S100 N4X VFD 15HP 480VAC (24A) 1

LSLV0150H100-4COFN 0538-2984 H100 VFD 20HP 380 - 480VAC (30A) 1

LSLV0150S100-2EONN 0425-0994 S100 VFD 20HP 200-240VAC (60A) 1

LSLV0150S100-4EOFN 0425-1018 S100 VFD 20HP 380-480VAC (30A) 1

LSLV0185H100-2CONN 0425-1546 H100 VFD 25HP 200 - 240VAC (69A) 1

LSLV0185S100-4EOFN 0425-1021 S100 VFD 25HP 380-480VAC (39A) 1

LSLV0185SP100-4CEF 0440-1738 25HP 460VAC (38A) VFD H100 W/BYP 1

LSLV0220S100-4EOFN 0425-1027 S100 VFD 30HP 380-480VAC (45A) 1

LSLV0300H100-4COFN 0546-0645 H100 VFD 40HP 380-480VAC (61A) 1

LSLV0300S100-4COND 0448-8978 S100 VFD 40HP 380-480VAC (61A) 1

LSLV0370H100-4COFD 0558-4476 380V 3PH 37KW 73A 50HP H100 DRIV 1

LSLV0370S100-4COND 0544-8819 S100 VFD 50HP 380-480VAC (75A) 1

LSLV0550S100-4COND 0551-8953 S100 VFD 75 HP 380-480VAC (110A) 1

LSLV1100H100-4COFD 0542-0958 H100 VFD 150HP CT 480VAC (223A) 1

LSLV1320H100-4COFD 0556-6467 300-500VAC 200HP 246A S100 VFD 1

LSLV1600H100-4COFD 0531-9525 H100 VFD 250HP CT480VAC (325A) 1

PART # STOCK CODE DESCRIPTION PER

VARIABLE FREQUENCY DRIVES

LSLV-C100-KPK-2M 0545-2536 VFD KEYPAD/DISPLAY KIT 1

LSLV-G100-CM B 0546-1068 LS VFD G100 CONDUIT MOD B FS 2-3 1

LSLV-G100-CM-B 0544-1499 LS VFD G100 CONDUIT MOD FRAME B 1

LSLV-G100-KPK-2M 0545-7021 VFD KEYPAD/DISPLAY KIT 2 METER C 1

LSLV-H100-CK-A 0473-9148 LS VFD H100 CONDUIT KIT A FS 1, 1

LSLV-H100-CM-C 0549-5895 H100 VFD CONDUIT MODULE SIZE 3 1

LSLV-H100-KP 0546-0648 H100 VFD KEY PAD/DISPLAY 1

LSLV-H100-RC2 0546-0651 H100 VFD REMOTE CABLE 2M 1

LSLV-S100-CM F 0545-7255 LS VFD S100 CONDUIT MOD F FS 11 1

LSLV-S100-CM G 0542-3640 LS VFD S100 CONDUIT MOD G FS 12, 1

LSLV-S100-CM-A 0547-9269 VFD S100 CONDUIT MOD A FS 1-2 05 1

LSLV-S100-CM-B 0544-0917 VF S100 CONDUIT MOD B FS 4-5, 2 1

LSLV-S100-CM-I 0552-2265 LS VFD S100 CONDUIT MOD 3PH 480 1

LSLV0004C100-2 0425-0928 C100 VFD 0.5HP 200-240VAC (2.5A) 1

LSLV0004C100-4 0425-0943 C100 VFD 0.5HP 380-480VAC (1.3A) 1

LSLV0004M100-1EOFN 0545-3067 M100 VFD 1PH 0.5HP 200-240VAC (2 1

LSLV0004S100-2EONN 0473-9169 S100 VFD 1/2HP 200-240VAC (2.5A) 1

LSLV0008C100-2 0425-0931 C100 VFD 1HP 200-240VAC (5A) 1

LSLV0008C100-4 0425-0946 C100 VFD 1HP 380-480VAC (2.5A) 1

LSLV0008S100-2EONN 0425-0970 S100 VFD 1HP 200-240VAC (5A) 1

LSLV0008S100-4EONN 0425-0997 S100 VFD 1HP 380-480VAC (2.5A) 1

LSLV0015C100-1 0541-0104 C100 VFD 2HP 1P 200-240VAC (8A) 1

LSLV0015C100-2 0425-0934 C100 VFD 2HP 200-240VAC (8A) 1

LSLV0015G100-2EONN 0545-1711 G100 VFD 2HP 200-240V (8A) 1

LSLV0015G100-4 0425-0949 G100 VFD 2HP 380-480VAC (4A) 1

LSLV0015S100-2EONN 0425-0973 S100 VFD 2HP 200-240VAC (8A) 1

LSLV0015S100-2EXNN 0425-1033 S100 N4X VFD 2HP 200-240VAC (8A) 1

MINI CIRCUIT BREAKERS

S100

H100

G100

H100

M100

H100 BYPASS



15

To explore Centaur’s full product line, scan  

the QR code with your phone to browse our website!

Questions? Reach out to us at  
INFO@CENTAURINSTALLATION.COM

Centaur Electrical Installation manufactures 

and distributes premium electrical installation 

components. Installation materials, including conduit, 

struts, fittings, and junction boxes available in a 

multitude of finishes and materials, including PVC 

 and steel.

About CENTAUR

15



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

130 131

PART# STOCK CODE DESCRIPTION PER

4 11/16” INDUSTRIAL COVERS

CM-5511 0262-7481 4-11/16” SQ. INDUSTRIAL COVER, 1/2” RAIS 100

CM-5512 0262-7484 4-11/16” SQ. INDUSTRIAL COVER, 1/2” RAIS 100

CM-5514 0267-8925 4-11/16” SQ SWITCH/GFCI-1/2 RAISED 100

CM-5522 0262-7487 4-11/16” SQ. INDUSTRIAL COVER, 1/2” RAIS 100

CM-5524 0267-9195 4-11/16” SQ CVR 2 GFCI OR DECOR SW 100

CM-5544 0262-7490 4-11/16” SQ. INDUSTRIAL COVER, 1/2” RAIS 100

PART# STOCK CODE DESCRIPTION PER

4 11/16” MUDRINGS

CM-51000 0262-7571 4-11/16” SQ 1G DEVICE RING FLAT 100

CM-51025 0262-7574 4-11/16” SQ 1G DEVICE RING 1/4” RAISED 100

CM-51050 0262-7577 4-11/16” SQ 1G DEVICE RING 1/2” RAISED 100

CM-51058 0262-7580 4-11/16” SQ 1G DEVICE RING 5/8” RAISED 100

CM-51075 0262-7583 4-11/16” SQ 1G DEVICE RING 3/4” RAISED 100

CM-51100 0262-7586 4-11/16” SQ 1G DEVICE RING 1” RAISED 100

CM-51125 0262-7589 4-11/16” SQ 1G DEVICE RING 1-1/4” RAISED 100

CM-51150 0262-7592 4-11/16” SQ 1G DEVICE RING 1-1/2” RAISED 100

CM-51200 0262-7595 4-11/16” SQ 1G DEVICE RING 2” RAISED 100

CM-52000 0262-7598 4-11/16” SQ 2G DEVICE RING FLAT 100

CM-52025 0262-7601 4-11/16” SQ 2G DEVICE RING 1/4” RAISED 100

CM-52050 0262-7604 4-11/16” SQ 2G DEVICE RING 1/2” RAISED 100

CM-52058 0262-7607 4-11/16” SQ 2G DEVICE RING 5/8” RAISED 100

CM-52075 0262-7610 4-11/16” SQ 2G DEVICE RING 3/4” RAISED 100

CM-52100 0262-7613 4-11/16” SQ 2G DEVICE RING 1” RAISED 100

CM-52125 0262-7616 4-11/16” SQ 2G DEVICE RING 1-1/4” RAISE 100

CM-52150 0262-7619 4-11/16” SQ 2G DEVICE RING 1-1/2” RAISE 100

CM-52200 0262-7622 4-11/16” SQ 2G DEVICE RING 2” RAISED 100

CM-53000 0278-3955 4-11/16”SQ CVR 2-3/4 OPENING 100

CM-53050 0262-7625 4-11/16” SQ. COVER, 2.75” OPENING, 1/2” 100

CM-53058 0262-7628 4-11/16” SQ. COVER, 2.75” OPENING, 5/8” 100

CM-53075 0281-4234 4-11/16 SQ 3/4 RAISED COVER 100

CM-53100 0262-7631 4-11/16” SQ. COVER, 2.75” OPENING, 1” RA 100

CM-53125 0281-4237 4-11/16 SQ 1-1/4 RAISED COVER 100

CM-53150 0281-4240 4-11/16 SQ 1-1/4 RAISED COVER 100

CM-53200 0281-4243 4-11/16 SQ 2 RAISED COVER 100

PART# STOCK CODE DESCRIPTION PER

4 11/16” STEEL BOXES

CM-5SDB-100 0262-7922 4-11/16” SQ. BOX, 2-1/8” DEEP, 1” K.O. - 100

CM-5SDB-100-FB 0266-3796 4 11/16 1” KO FB 100

CM-5SDB-125 0262-7925 4-11/16” SQ. BOX, 2-1/8” DEEP, 1-1/4” K. 100

CM-5SDB-50/75-EXT 0262-7934 4-11/16” SQ. EXT. BOX, 2-1/8” DEEP, 1/2” 100

CM-51000

PART# STOCK CODE DESCRIPTION PER

3 1/2” OCTAGON & ROUND COVERS

CM-3RBC 0262-7661 3-1/2” ROUND COVER, FLAT, BLANK 100

CM-3RBCK 0262-7664 3-1/2” ROUND COVER, FLAT, 1/2” K.O. 100

PART# STOCK CODE DESCRIPTION PER

3 1/2” OCTAGON STEEL BOXES

CM-3RB-50 0262-7655 3-1/2” OCT. BOX, 1-1/2” DEEP, 1/2” K.O.S 100

CM-3RB-50-EXT 0262-7658 3-1/2” OCT. EXT. BOX, 1-1/2” DEEP, 1/2” 100

CM-3RB-50-FB 0288-0237 3” DRAWN OCT BOX + BRKT 1-1/2” DEEP 100

CM-3RB-NM 0269-6178 3-1/2 OCT BOX 1-1/2 DEEP W/NM CBL CLAMPS 100

CM-3RB-NM-E 0314-0859 3-1/2” OCT BX DRAWN 1-1/2” DP W/NM CLMPS 100

CM-3RB-NM-FB 0277-1982 3-1/2” OCT BOX W/NM CLAMP/FLAT BRKT 100

PART# STOCK CODE DESCRIPTION PER

4 1/2” OCTAGON & ROUND COVERS 

CM-3RC-DR 0288-0270 3-1/2” ROUND CVR, FLAT, DUP REC 100

PART# STOCK CODE DESCRIPTION PER

4 11/16” COVER PLATES

CM-5BC 0262-7916 4-11/16” SQ. COVER, FLAT, BLANK 100

CM-5BC-MKO 0288-0411 4-11/16” CVR, FLAT, MOON KO 100

CM-5BCK 0262-7919 4-11/16” SQ. COVER, FLAT, 1/2” K.O. 100

CM-5CB 0288-0414 4” OCTAGONAL RING 5” DEEP 100

CM-5SAR1G 0276-9021 1G ADJ RING FOR 5 SQ BX 100

CM-5SAR2G 0276-9024 2G ADJ RING FOR 5 SQ BOX 100

CM-5SDB-MC 0275-5512 4 11/16” SQ BOX 2-1/8 DP  W/ MC CL 100

CM-5SDB-MC-FB 0288-0420 4-11/16” SQ BX 2-1/8” DP MC/BX CBL CLMP 100

CM-5SDB-MC-MS 0288-1356 4-11/16” SQ BX 2-1/8” DP W/BX/MCCLP MS B 100

CM-5SDB-MKO-PT 0288-0423 4-11/16” SQ BOX 2-1/8” DEEP W/PIGTAIL 100

CM-5SDP-100 0288-1359 4-11/16” SQ LV PARTITIONS 100

CM-5SLB-2MKO 0268-5009 4-11/16 BOX 1-1/4 KO 1IN KO 100

CM-5501 0262-7457 4-11/16” SQ. INDUSTRIAL COVER, 1/2” RAIS 100

CM-5502 0262-7460 4-11/16” SQ. INDUSTRIAL COVER, 1/2” RAIS 100

CM-5503 0262-7463 4-11/16” SQ. INDUSTRIAL COVER, 1/2” RAIS 100

CM-5504 0262-7466 4-11/16” SQ. INDUSTRIAL COVER, 1/2” RAIS 100

CM-5505 0262-7469 4-11/16” SQ. INDUSTRIAL COVER, 1/2” RAIS 100

CM-5506 0262-7472 4-11/16” SQ. INDUSTRIAL COVER, 1/2” RAIS 100

CM-5507 0262-7475 4-11/16” SQ. INDUSTRIAL COVER, 1/2” RAIS 100

CM-5508 0262-7478 4-11/16” SQ. INDUSTRIAL COVER, 1/2” RAIS 100

CM-3RBC

CM-3RB-50

CM-3RC-DR

CM-5BC

CM-5501

CM-5SDB-100



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

132 133

CM-5SDB-100

PART# STOCK CODE DESCRIPTION PER

4” INDUSTRIAL COVERS

CM-4424 0262-7448 4” SQ. INDUSTRIAL CVR, 1/2” RAISED, DU 100

CM-4433 0262-7451 4” SQ. INDUSTRIAL CVR, 1/2” RAISED, TW 100

CM-4444 0262-7454 4” SQ. INDUSTRIAL CVR, 1/2” RAISED, TW 100

PART# STOCK CODE DESCRIPTION PER

4” MUDRINGS

CM-41000 0262-7493 4” SQ 1G DEVICE RING FLAT 100

CM-41025 0262-7496 4” SQ 1G DEVICE RING 1/4” RAISED 100

CM-41050 0262-7499 4” SQ 1G DEVICE RING 1/2” RAISED 100

CM-41058 0262-7502 4” SQ 1G DEVICE RING 5/8” RAISED 100

CM-41075 0262-7505 4” SQ 1G DEVICE RING 3/4” RAISED 100

CM-41100 0262-7508 4” SQ 1G DEVICE RING 1” RAISED 100

CM-41125 0262-7511 4” SQ 1G DEVICE RING 1-1/4” RAISED 100

CM-41150 0262-7514 4” SQ 1G DEVICE RING 1-1/2” RAISED 100

CM-41200 0262-7517 4” SQ 1G DEVICE RING 2” RAISED 100

CM-42000 0262-7520 4” SQ 2G DEVICE RING FLAT 100

CM-42025 0262-7523 4” SQ 2G DEVICE RING 1/4” RAISED 100

CM-42050 0262-7526 4” SQ 2G DEVICE RING 1/2” RAISED 100

CM-42058 0262-7529 4” SQ 2G DEVICE RING 5/8” RAISED 100

CM-42075 0262-7532 4” SQ 2G DEVICE RING 3/4” RAISED 100

CM-42100 0262-7535 4” SQ 2G DEVICE RING 1” RAISED 100

CM-42125 0262-7538 4” SQ 2G DEVICE RING 1-1/4” RAISED 100

CM-42150 0262-7541 4” SQ 2G DEVICE RING 1-1/2” RAISED 100

CM-42200 0262-7544 4” SQ 2G DEVICE RING 2” RAISED 100

CM-43000 0262-7547 4” SQ. CVR, 2.75” OPENING, FLAT 100

CM-43050 0262-7550 4” SQ. CVR, 2.75” OPENING, 1/2” RAISED 100

CM-43058 0262-7553 4” SQ. CVR, 2.75” OPENING, 5/8” RAISED 100

CM-43075 0262-7556 4” SQ. CVR, 2.75” OPENING, 3/7” RAISED 100

CM-43100 0262-7559 4” SQ. CVR, 2.75” OPENING, 1” RAISED 100

CM-43125 0262-7562 4” SQ. CVR, 2.75” OPENING, 1-1/4” RAIS 100

CM-43150 0262-7565 4” SQ. CVR, 2.75” OPENING, 1-1/2” RAIS 100

CM-43200 0262-7568 4” SQ. CVR, 2.75” OPENING, 2” RAISED 100

CM-4R000 0288-0348 4” RND CVR FLAT OPEN EARS (2) 3/4” OC 100

CM-4R000S 0314-0862 4” RND CVR FLAT OPEN EARS 2-3/4” O.C. 100

CM-4R050 0262-7700 4” ROUND COVER, 2.75” DIA. OPENING, 1/2” 100

CM-4R058 0262-7703 4” ROUND COVER, 2.75” DIA. OPENING, 5/8” 100

CM-4R075 0262-7706 4” ROUND COVER, 2.75” DIA. OPENING, 3/4” 100

CM-4R100 0262-7709 4” ROUND COVER, 2.75” DIA. OPENING, 1” R 100

CM-4R1000 0314-0865 4” RND CVR FLAT 1G DEVICE RING 100

CM-4R1058 0314-0868 4” RND CVR 3.5 CU IN RAISED 5/8” 1G DEVI 100

CM-4R125 0288-0351 4” RND CVR 1-1/4” RAISED OPEN EARS (2) 3 100

CM-4R150 0288-0354 4” RND CVR 1-1/2” RAISED OPEN EARS (2) 3 100

CM-4413

PART# STOCK CODE DESCRIPTION PER

4 11/16” STEEL BOXES

CM-5SDB-75 0275-7063 4-11/16” SQ. BOX, 2-1/8” DEEP, 3/4” K.O. 100

CM-5SDB-75/100 0262-7937 4-11/16” SQ. BOX, 2-1/8” DEEP, 3/4” & 1” 100

CM-5SDB-75/100-FB 0280-9701 4-11/16 SQ OUTLET BOX W/BRACKET 100

CM-5SDB-MKO 0262-7940 4-11/16” SQ. BOX, 2-1/8” DEEP, M.K.O. - 100

CM-5SDB-MKO-EXT 0262-7943 4-11/16” SQ. EXT. BOX, 2-1/8” DEEP, M.K. 100

CM-5SDB-MKO-FB 0262-7946 4-11/16” SQ. BOX, 2-1/8” DEEP, M.K.O., F 100

CM-5SDB-MKO-MS 0288-1353 4-11/16” SQ BX 2-1/8” DP MS BRKT 100

CM-5SSB-MKO 0262-7949 4-11/16” SHALLOW BOX, 1-1/2” DEEP, M.K.O 100

CM-5SSB-MKO-EXT 0262-7952 4-11/16” SHALLOW EXT. BOX, 1-1/2” DEEP, 100

CM-D5SDB-50/75 0270-1746 4-11/16” SQ. BOX 2-1/8 DEEP 1/2@ 3/4 K0 100

CM-D5SDB-CKO 0262-8018 4-11/16” SQ. BOX, 2-1/8” DEEP, C.K.O. - 100

CM-D5SSB-50/75 0316-4418 4-11/16” SQ DRAWN BX 1-1/2” DP 29.5 CU 100

CM-D5SSB-50/75-EXT 0363-5205 4-11/16” SQ DRAWN EXTENSION 1-1/2” DP 2 100

CM-D5SSB-75 0363-5202 4-11/16” SQ DRAWN BOX 1-1/2” DP W/ 3/4” 100

PART# STOCK CODE DESCRIPTION PER

4” COVER PLATES

CM-4BC 0262-7667 4” SQ. CVR, FLAT, BLANK 100

CM-4BC-MKO 0262-7673 4” SQ. CVR, FLAT, M.K.O. 100

CM-4BCK 0262-7670 4” SQ. CVR, FLAT, 1/2” K.O. 100

CM-SCR-75 0262-8315 4” ROUND SWIVEL-TYPE COVER W/3/4” TRE 100

CM-SCS-75 0262-8318 4” SQ SWIVEL-TYPE COVER W/3/4” TR 100

PART# STOCK CODE DESCRIPTION PER

4” INDUSTRIAL COVERS

CM-4400 0262-7406 4” SQ. INDUSTRIAL CVR, 1/2” RAISED, BL 100

CM-4401 0262-7409 4” SQ. INDUSTRIAL CVR, 1/2” RAISED, TO 100

CM-4402 0262-7412 4” SQ. INDUSTRIAL CVR, 1/2” RAISED, DU 100

CM-4403 0262-7415 4” SQ. INDUSTRIAL CVR, 1/2” RAISED, 1. 100

CM-4404 0262-7418 4” SQ. INDUSTRIAL CVR, 1/2” RAISED, GF 100

CM-4405 0262-7421 4” SQ. INDUSTRIAL CVR, 1/2” RAISED, 1. 100

CM-4406 0262-7424 4” SQ. INDUSTRIAL CVR, 1/2” RAISED, 1. 100

CM-4407 0262-7427 4” SQ. INDUSTRIAL CVR, 1/2” RAISED, 2. 100

CM-4408 0262-7430 4” SQ. INDUSTRIAL CVR, 1/2” RAISED, 2. 100

CM-4409 0288-0267 4” SQ IND CVR 1/2” RAISED PWR OUTLET 50A 100

CM-4411 0262-7433 4” SQ. INDUSTRIAL CVR, 1/2” RAISED, TW 100

CM-4412 0262-7436 4” SQ. INDUSTRIAL CVR, 1/2” RAISED, TO 100

CM-4413 0262-7439 4” SQ. INDUSTRIAL CVR, 1/2” RAISED, TO 100

CM-4414 0262-7442 4” SQ. INDUSTRIAL CVR, 1/2” RAISED, TO 100

CM-4422 0262-7445 4” SQ. INDUSTRIAL CVR, 1/2” RAISED, TW 100

CM-4423 0277-1985 2G RS CVR DUP/SIN REC 100

CM-4BC

CM-4400

CM-41000



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

134 135

CM-4RBC

PART# STOCK CODE DESCRIPTION PER

4” OCTAGON STEEL BOXES

CM-4RB-NM-SG 0272-9406 4-IN OCT BOX 1-1/2 DP 100

CM-4RDB-MKO 0262-7784 4” OCT. DEEP BOX, 2-1/8” DEEP, M.K.O. - 100

CM-4RDB-MKO-FB 0277-3014 4” OCT BOX 2-1/8” DEEP W/BRACKET 100

CM-4RDB-NM 0288-0369 2-1/8” DEEP OCT DB W/NM CBL CLMPS 100

CM-4RDB-NM-FB 0288-0372 2-1/8” DD OCT BX W/NM CBL CLMP FB BKT 100

CM-4RDB-NM-LB 0288-2328 4” OCT BX W/NM CLMP LB BRKT 100

CM-D4RB-50 0262-7976 4” OCT. BOX, 1-1/2” DEEP, 1/2” K.O. - DR 100

CM-D4RB-50-EXT 0288-0447 4” OCT DRAWN EXT BOX1-1/2” DP 1/2 KO 100

CM-D4RB-50/75 0262-7979 4” OCT BOX 1-1/2” DEEP, 1/2” & 3/4” K 100

CM-D4RB-50/75-EXT 0288-0444 4” OCT DRAWN EXT BX 1-1/2” DP 1/2 & 3/4 100

CM-D4RB-75 0279-8841 4” OCT BOX 1-1/2” DEEP 3/4” KO 100

CM-D4RDB-50 0363-5256 -OBS 4” OCTAGON BOX DRAWN 2-1/8” DP 21.5 100

CM-D4RDB-50/75 0363-5262 4” OCTAGON BOX WELDED 2-1/8” DP 21.5 CU 100

CM-D4RDB-50/75-FB 0363-5265 4” OCTAGON BOX WELDED 2-1/8” DP 21.5 CU 100

CM-D4RDB-75 0363-5259 4” OCTAGON BOX DRAWN 2-1/8” DP 21.5 CU 100

PART# STOCK CODE DESCRIPTION PER

4” STEEL BOXES

CM-4SB-50-EXT 0262-7799 4” SQ. EXT., 1/2” DEEP, 1/2” K.O. - WELD 100

CM-4SB-50/75-EXT 0262-7793 4” SQ. EXT., 1- 1/2” D 1/2” & 3/4” K.O. 100

CM-4SB-MC 0262-7811 4” SQ. BOX, 1-1/2” DEEP, MC CLAMPS 100

CM-4SB-MC-B 0262-7814 4” SQ. BOX, 1-1/2” DEEP, MC CLAMPS, B BR 100

CM-4SB-MC-FB 0262-7817 4” SQ. BOX, 1-1/2” DEEP, MC CLAMPS, FB B 100

CM-4SB-MC-MS 0262-7820 4” SQ. BOX, 1-1/2” DEEP, MC CLAMPS, MS B 100

CM-4SB-MC-PT 0314-0826 4 “ SQ BX 1-1/2” DP W/BX/MC CLMPS 100

CM-4SB-MC-WB 0262-7823 4” SQ. BOX, 1-1/2” DEEP, MC CLAMPS, WB B 100

CM-4SB-MKO 0262-7826 4” SQ.  BOX, 1-1/2”. DEEP, M.K.O. - WELD 100

CM-4SB-MKO-AB 0288-0381 4” SQ BOX 1-1/2” DEEP ANGLE BRKT 100

CM-4SB-MKO-B 0262-7829 4” SQ.  BOX, 1-1/2”. DEEP, M.K.O., B BRA 100

CM-4SB-MKO-EHB 0262-7832 4” SQ.-TO-HANDY BOX EXT., 1/2” DEEP, M.K 100

CM-4SB-MKO-EXT 0262-7835 4” SQ. EXT.,1 1/2” DEEP, M.K.O. - WELDED 100

CM-4SB-MKO-FB 0262-7838 4” SQ.  BOX, 1-1/2”. DEEP, M.K.O., FB BR 100

CM-4SB-MKO-MS 0262-7841 4” SQ.  BOX, 1-1/2”. DEEP, M.K.O., MS BR 100

CM-4SB-MKO-OB 0262-7844 4” SQ.  BOX, 1-1/2”. DEEP, M.K.O., OB BR 100

CM-4SB-MKO-PT 0273-9375 4” SQ BOX 1- 1/2” DEEP MKO W/PIG TAIL 100

CM-4SB-MKO-WB 0262-7847 4” SQ.  BOX, 1-1/2”. DEEP, M.K.O., WB BR 100

CM-4SB-NM 0262-7850 4” SQ. BOX, 1-1/2” DEEP, NM CLAMPS 100

CM-4SB-NM-B 0262-7853 4” SQ. BOX, 1-1/2” DEEP, NM CLAMPS, B BR 100

CM-4SB-NM-FB 0262-7856 4” SQ. BOX, 1-1/2” DEEP, NM CLAMPS, FB B 100

CM-4SB-NM-MS 0262-7859 4” SQ. BOX, 1-1/2” DEEP, NM CLAMPS, MS B 100

CM-4SB-NM-WB 0262-7862 4” SQ. BOX, 1-1/2” DEEP, NM CLAMPS, WB B 100

CM-4SDB-100 0262-7865 4” SQ. DEEP BOX, 2-1/8” DEEP, M.K.O. - W 100

CM-4SB-50-EXT

PART# STOCK CODE DESCRIPTION PER

4” MUDRINGS

CM-4R200 0288-0357 4” RND CVR 2” RAISED OPEN EARS (2) 3/4” 100

CM-OSMR150 0314-7909 1G 4” SQ OFFSET MUD RING RAISED 1/2” 100

CM-OSMR158 0314-7912 1G 4” SQ OFFSET MUD RING RAISED 5/8” 100

CM-OSMR175 0314-7915 1G 4” SQ OFFSET MUD RING RAISED 3/4” 100

CM-OSMR250 0314-7918 2G 4” SQ OFFSET MUD RING RAISED 1/2” 100

CM-OSMR258 0314-7921 2G 4” SQ OFFSET MUD RING RAISED 5/8” 100

CM-OSMR275 0314-7924 2G 4” SQ OFFSET MUD RING RAISED 3/4” 100

PART# STOCK CODE DESCRIPTION PER

4” OCTAGON & ROUND COVERS

CM-4RBC 0262-7727 4” OCTAGONAL COVER, FLAT, BLANK 100

CM-4RBC-MKO 0288-2379 4” OCTAGONAL COVER FLAT, MKO 100

CM-4RBCK 0262-7730 4” OCTAGONAL COVER, FLAT, 1/2” K.O. 100

CM-4RBCR 0288-0360 4” ROUND CVR FLAT BLANK 100

CM-4RC-DR 0262-7772 4” OCTAGONAL COVER, FLAT, DUPLEX RECEPTA 100

CM-4RC-PO 0288-0363 4” OCT CVR FLAT 1.6” DIA PWR OUTLET 100

CM-4RC-SR 0262-7775 4” OCTAGONAL COVER, FLAT, 1.406” DIA. 15 100

CM-4RC-TS 0288-0366 4” OCTAGONAL CVR FLAT TOG SW 100

CM-4RDB-MC 0262-7778 4” OCT. DEEP BOX, 2-1/8” DEEP, MC CLAMPS 100

CM-4RDB-MC-FB 0262-7781 4” OCT. DEEP BOX, 2-1/8” DEEP, MC CLAMPS 100

CM-4RDB-MC-LB 0288-2325 4” OCT BS W/BX/MC CLMP LB BRKT 100

PART# STOCK CODE DESCRIPTION PER

4” OCTAGON STEEL BOXES

CM-4RB-50-BHA 0262-7715 4” OCT. BOX, 1-1/2” DEEP, 1/2” K.O., BHA 100

CM-4RB-50-EXT 0262-7718 4” OCT. EXTENSION BOX, 1-1/2” DEEP, 1/2” 100

CM-4RB-50-FB 0262-7721 4” OCT. BOX, 1-1/2” DEEP, 1/2” K.O., FB 100

CM-4RB-50-LB 0262-7724 4” OCT. BOX, 1-1/2” DEEP, 1/2” K.O., LB 100

CM-4RB-MC 0262-7733 4” OCT. BOX, 1-1/2” DEEP, MC CLAMPS - WE 100

CM-4RB-MC-BHA 0262-7736 4” OCT. BOX, 1-1/2” DEEP, MC CLAMPS, BHA 100

CM-4RB-MC-E 0262-7739 4” OCT. BOX, 1-1/2” DEEP, MC CLAMPS, EAR 100

CM-4RB-MC-FB 0262-7742 4” OCT. BOX, 1-1/2” DEEP, MC CLAMPS, LB 100

CM-4RB-MC-LB 0262-7745 4” OCT. BOX, 1-1/2” DEEP, MC CLAMPS, LB 100

CM-4RB-MKO 0262-7748 4” OCT. BOX, 1-1/2”. DEEP, M.K.O. - WELD 100

CM-4RB-MKO-EXT 0262-7751 4” OCT. EXTENSION BOX, 1-1/2”. DEEP, M.K 100

CM-4RB-MKO-FB 0262-7754 4” OCT. BOX, 1-1/2”. DEEP, M.K.O., FB BR 100

CM-4RB-NM 0262-7757 4” OCT. BOX, 1-1/2” DEEP, NM CLAMPS - WE 100

CM-4RB-NM-BHA 0262-7760 4” OCT. BOX, 1-1/2” DEEP, NM CLAMPS, BHA 100

CM-4RB-NM-E 0262-7763 4” OCT. BOX, 1-1/2” DEEP, NM CLAMPS, EAR 100

CM-4RB-NM-FB 0262-7766 4” OCT. BOX, 1-1/2” DEEP, NM CLAMPS, FB 100

CM-4RB-NM-LB 0262-7769 4” OCT. BOX, 1-1/2” DEEP, NM CLAMPS, LB 100

CM-4R125

CM-4RB-50-BHA

CM-D4RB-50



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

136 137

PART# STOCK CODE DESCRIPTION PER

5 DEGREE COUPLING

5CP2BB  0321-0120 5 DEGREE COUPLING 100

5CP2BB 0321-0120 2” 5 DEG COUP B X+C318 B (5EC20) 100

5CP2BS 0321-0123 2” 5 DEG COUP B X S (5EC20BS) 100

5CP3BB 0321-0126 3” 5 DEG COUP B X B (5EC30) 100

5CP3BS 0321-0129 3” 5 DEG COUP B X S (5EC30BS) 100

5CP4BB 0321-0132 4” 5 DEG COUP B X B (5EC40) 100

5CP4BS 0321-0135 4” 5 DEG COUP B X S (5EC40BS) 100

5CP5BB 0278-3757 5” 5 DEGREE COUPLING 100

5CP6BB 0321-0138 6” 5 DEG COUP B X B (5EC60) 100

5CP6BS 0321-0141 6” 5 DEG COUP B X S (5EC60BS) 100

PART# STOCK CODE DESCRIPTION PER

     6 1/2” OCTAGON & ROUND COVERS

CM-3RC-SR 0288-0276 3-1/2” RND CVR FLAT 1.406” DIA, 15A SGL 100

PART# STOCK CODE DESCRIPTION PER

6 11/16” STEEL BOXES

CM-D5SDB-50/75-FB 0262-8015 4-11/16” SQ. BOX, 2-1/8” DEEP, 1/2” & 3/ 100

CM-D5SSB-50 0363-5199 4-11/16” SQ DRAWN BOX 1-1/2” DP W/RAISED 100

PART# STOCK CODE DESCRIPTION PER

6 DEGREE COUPLING

5CP3BB  0321-0126 6 DEGREE COUPLING 100

PART# STOCK CODE DESCRIPTION PER

7 1/2” OCTAGON & ROUND COVERS

CM-3RC-TS 0288-0279 3-1/2” RND CVR FLAT TOGGLE SW 100

PART# STOCK CODE DESCRIPTION PER

7 DEGREE COUPLING

5CP4BB  0321-0132 7 DEGREE COUPLING 100

PART# STOCK CODE DESCRIPTION PER

8 DEGREE COUPLING

5CP5BB  0278-3757 8 DEGREE COUPLING 100

CM-3RC-SR

PART# STOCK CODE DESCRIPTION PER

4” STEEL BOXES

CM-4SDB-100-FB 0266-1930 4SQ 2-1/8 DEEP W/ 1/2-3/4-1 KO 100

CM-4SDB-75 0262-7877 4” SQ. DEEP BOX, 2-1/8” DEEP, 3/4” K.O. 100

CM-4SDB-75/100 0268-9644 4”SQ. DEEP BOX, 2-1/8 DEEP, 3/4-1 KO 100

CM-4SDB-MC 0262-7883 4” SQ. DEEP BOX, 2-1/8” DEEP, MC CLAMPS 100

CM-4SDB-MC-B 0288-0393 4” SQ BX 2-1/8” DP MX/BX CBL CLMP B BKT 100

CM-4SDB-MC-FB 0262-7886 4” SQ. DEEP BOX, 2-1/8” DEEP, MC CLAMPS, 100

CM-4SDB-MC-FB-PT 0314-0835 4” SQ BX 2-1/8” DP W/BX/MC CLMPS 100

CM-4SDB-MC-MS 0262-7889 4” SQ. DEEP BOX, 2-1/8” DEEP, MC CLAMPS, 100

CM-4SDB-MC-WB 0288-0396 4” SQ BX 2-1/8” DP MX/BX CBL CLMP WD BKT 100

CM-4SDB-MKO 0262-7892 4” SQ. DEEP BOX, 2-1/8” DEEP, M. K.O. - 100

CM-4SDB-MKO-EXT 0288-1344 4” SQ EXTENSION BOX 2-1/8” DEEP 100

CM-4SDB-MKO-FB 0262-7895 4” SQ. DEEP BOX, 2-1/8” DEEP, M. K.O., F 100

CM-4SDB-MKO-MS 0262-7898 4” SQ. DEEP BOX, 2-1/8” DEEP, M. K.O., M 100

CM-4SDB-MKO-PT 0270-0117 4” SQ. (4S) WELDED DEEP BOX W/ GROUND PI 100

CM-4SDB-MKO-WB 0262-7901 4” SQ. DEEP BOX, 2-1/8” DEEP, M. K.O., W 100

CM-4SDB-NM 0288-0399 4” SQ BOX 2-1/8” DEEP NM CABLE CLAMPS 100

CM-4SDB-NM-B 0273-0504 4-IN SQ BOX 2-1/8” DP NM CLAMPS 100

CM-4SDB-NM-FB 0262-7904 4” SQ. DEEP BOX, 2-1/8” DEEP, NM CLAMPS, 100

CM-4SDB-NM-WB 0288-0402 4” SQ BX 2-1/8” DP NM CBL CLMP WD BKT 100

CM-4SEDB-CKO 0288-0405 4” SQ BOX 3-1/2” EXTRA DEEP BOX 100

CM-4SEDB-CKO-FB 0288-0408 4” SQ BX 3-1/2” EXTRA DEEP BX FB BRKT 100

CM-D4SB-50 0262-7982 4” SQ BOX 1-1/2” DEEP, 1/2” K.O.-DR 100

CM-D4SB-50/75 0262-7985 4” SQ BOX, 1-1/2” DEEP, 1/2” & 3/4” K 100

CM-D4SB-75 0269-9040 4” SQ BOX 1-1/2” DEEP 3/4” KO 100

CM-D4SB-CKO 0262-7991 4” SQ.  BOX, 1-1/2”. DEEP, C. K.O. - DRA 100

CM-D4SDB-50 0262-7997 4” SQ. DEEP BOX, 2-1/8” DEEP, 1/2” K.O. 100

CM-D4SDB-50/75 0288-0459 4” SQ DRAWN BX 2-1/8” DEEP 1/2 & 3/4 KO 100

CM-D4SDB-75 0262-8000 4” SQ. DEEP BOX, 2-1/8” DEEP, 1/2” K.O., 100

CM-D4SDB-CKO 0262-8006 4” SQ. DEEP BOX, 2-1/8”. DEEP, C. K.O. - 100

CM-D4SDB-CKO-FB 0262-8009 4” SQ. DEEP BOX, 2-1/8”. DEEP, C. K.O., 100

CM-D4SSB-50 0262-8012 4” SQ. SUPER SHALLOW BOX, 1-1/4” DEEP, 1 100

PART# STOCK CODE DESCRIPTION PER

5 1/2” OCTAGON & ROUND COVERS

CM-3RC-PO 0288-0273 3-1/2” RND CVR FLAT 1.594” DIA, 20A PWR 100

PART# STOCK CODE DESCRIPTION PER

5 11/16” STEEL BOXES

CM-D5SDB-50/75-EXT 0363-5196 4-11/16” SQ DRAWN BOX 2-1/8” DP 42.0 CU. 100

CM-D5SDB-CKO-FB 0288-0471 4-11/16” SQ DRAWN BX 2-1/8” DP CKO FB BK 100

CM-3RC-PO

CM-D5SDB-50/75-EXT

CM-3RC-TS

CM-4SB-50-EXT



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

138 139

PART# STOCK CODE DESCRIPTION PER

ANGLE FITTINGS

AF12S4 0346-8504 4 HOLE GUSSET 304 STAINLESS 100

AF13 0304-8570 CORNER ANGLE 3 WAY 3 HOLE EG 100

AF13GN 0304-8978 CORNER ANGLE 3 WAY 3 HOLE GN 100

AF13S4 0304-9050 CORNER ANGLE 3 WAY 3 HOLE SS304 100

AF13S6 0305-7612 CORNER ANGLE 3 WAY 3 HOLES 316SS 100

AF13YC 0305-7615 CORNER ANGLE 3 WAY 3 HOLE YC 100

AF14GN 0304-8981 CORNER ANGLE 3 WAY 4 HOLE GN 100

AF14HD 0304-8912 DS-CORNER ANGLE 3 WAY 4 HOLE HDG 100

AF14S4 0304-9053 CORNER ANGLE 3 WAY 4 HOLE SS304 100

AF14S6 0305-7618 CORNER ANGLE 3 WAY 4 HOLE 316SS 100

AF14YC 0305-7621 CORNER ANGLE 3 WAY 4 HOLE YC 100

AF15 0305-7624 CORNER ANGLE 3 WAY GUSSET 4 HOLE EG 100

AF16 0305-7627 CORNER ANGLE 3 WAY GUSSET 5 HOLE EG 100

AF17 0304-8573 CORNER ANGLE UNIVERSAL GUS 7 HOLE EG 100

AF17GN 0305-7630 CORNER ANGLE UNIVERSAL GUS 7 HOLE GN 100

AF17HD 0305-7633 CORNER ANGLE UNIVERSAL GUS 7 HOLE HDG 100

AF17YC 0305-7636 CORNER ANGLE UNIVERSAL GUS 7 HOLE YC 100

AF18 0315-3588 4 HOLE GUSSET CORNER LEFT ANGLE 100

AF19 0315-3591 4 HOLE GUSSET CORNER ANGLE RIGHT 100

AF1YC 0305-7639 CORNER ANGLE NO TWIST 2 HOLE YC 100

AF2 0304-8549 CORNER ANGLE 2 HOLE EG 100

AF2-1 0316-3254 2 HOLE CORNER ANGLE 3/8” HOLES 100

AF20 0304-8576 CORNER ANGLE ADJ 2 HOLE 2 5/8” EG 100

AF21 0304-8579 CORNER ANGLE ADJ 2 HOLE 4 7/8”  EG 100

AF22 0304-8582 CORNER ANGLE ADJ 2 HOLE 6 7/8” EG 100

AF23 0304-8585 CORNER ANGLE ADJ 3 HOLE EG 100

AF24 0304-8588 CORNER ANGLE ADJ GUSSET 2 HOLE EG 100

AF25 0304-8591 CORNER ANGLE ADJ GUS 4 HOLE 6 5/8” EG 100

AF26 0304-8594 CORNER ANGLE ADJ GUS 4 HOLE 8 5/8” EG 100

AF27 0304-8597 CORNER ANGLE OFFSET 4 HOLE EG 100

AF28 0315-3594 4 HOLE OFFSET BENT TEE (LEFT HAND) 100

AF29 0315-3597 4 HOLE OFFSET BENT TEEL (RIGHT HAND) 100

AF2GN 0304-8972 CORNER ANGLE 2 HOLE GN 100

AF2HD 0304-8906 CORNER ANGLE 2 HOLE HDG 100

AF2S4 0304-9038 CORNER ANGLE 2 HOLE SS304 100

AF2S6 0304-9116 CORNER ANGLE 2 HOLE 316SS 100

AF2YC 0305-7642 CORNER ANGLE 2 HOLE YC 100

AF3 0304-8552 CORNER ANGLE 3 HOLE EG 100

AF30 0304-8600 CORNER ANGLE OPEN 45 DEG 2 HOLE EG 100

AF30-1 0315-8808 CORNER ANGLE OPEN 30 DEG 2 HOLE EG 100

AF30-2 0315-8811 CORNER ANGLE OPEN 60 DEG 2 HOLE EG 100

AF30GN 0305-7645 CORNER ANGLE OPEN 45 DEG 2 HOLE GN 100

AF30HD 0304-8915 CORNER ANGLE OPEN 45 DEG 2 HOLE HDG 100

CM-1GX75

PART# STOCK CODE DESCRIPTION PER

ADJUSTABLE MUDRINGS

CM-1GX75 0288-0231 1G EXTENSION FOR ADJ RING 100

CM-2GX75 0288-0234 2G EXTENSION FOR ADJ RING 100

CM-3GAR-34 0314-0949 3G ADJ RING FOR 3G SW BX 100

CM-4AR1G-34 0314-0961 1G ADJ RING FOR 4” SQ BXS 100

CM-4AR1G-58 0314-0958 1G ADJ RING FOR 4” SQ BXS 100

CM-4AR2G-58 0314-0955 2G ADJ RING FOR 4” RND BXS 100

CM-4ARR-34 0314-0952 RND ADJ RING FOR 4” SQ BX 100

CM-4SAR1G 0276-9015 1G ADJ RING FOR 4 SQ BX 100

CM-4SAR2G 0276-9018 2G ADJ RING FOR 4 SQ BX 100

PART# STOCK CODE DESCRIPTION PER

ALUMINUM FLEX

WI 560230REEL 0553-2585 1/2” ALUMINUM FLEX CONDUIT 1000FT REEL 100

WI 560330REEL 0553-2588 3/4” ALUMINUM FLEX CONDUIT 500FT REEL 100

WI 560424REEL 0553-2591 1” ALUMINUM FLEX CONDUIT 300FT REEL 100

WI 560524REEL 0553-2594 1-1/4” ALUMINUM FLEX CONDUIT 200FT REEL 100

WI 560622REEL 0553-2597 1-1/2” ALUMINUM FLEX CONDUIT 100FT REEL 100

WI 560722REEL 0553-2600 2” ALUMINUM FLEX CONDUIT 100FT REEL 100

PART# STOCK CODE DESCRIPTION PER

ALUMINUM FLEX - D

WI 560130 0287-8767 WI AL FLEX COND 100FT X 3/8” 100

WI 560130REEL 0553-2582 3/8” ALUMINUM FLEX CONDUIT 1000FT REEL 100

WI 560230 0287-8770 WI AL FLEX COND 100FT X 1/2” 100

WI 560330 0287-8773 WI AL FLEX COND 100FT X 3/4” 100

WI 560424 0287-8776 WI AL FLEX COND 100FT X 1” 100

WI 560524 0287-8779 WI AL FLEX COND 50FT X 1-1/4” 100

WI 560622 0287-8782 WI AL FLEX COND 50FT X 1-1/2” 100

WI 560722 0287-8785 WI AL FLEX COND 25FT X 2” 100

WI 560822 0287-8788 WI AL FLEX COND 25FT X 2-1/2” 100

WI 560922 0287-8791 WI AL FLEX COND 25FT X 3” 100

WI 561022 0287-8794 WI AL FLEX COND 25FT X 3-1/2” 100

WI 561122 0287-8797 WI AL FLEX COND25FT X 4” 100

PART# STOCK CODE DESCRIPTION PER

ANGLE FITTINGS

AF1 0304-8546 CORNER ANGLE NO TWIST 2 HOLE EG 100

AF10 0304-8564 CORNER ANGLE CROSS GUSSET 3 HOLE EG 100

AF11 0304-8567 CORNER ANGLE CROSS GUSSET 5 HOLE EG 100

AF12 0315-3585 4 HOLE ANGLE 100

WI 560230REEL

AF11

AF11



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

140 141

PART# STOCK CODE DESCRIPTION PER

ANGLE FITTINGS

AF8S4 0304-9044 CORNER ANGLE CROSS 2 HOLE SS304 100

AF8S6 0304-9122 CORNER ANGLE CROSS 2 HOLE 316SS 100

AF8YC 0305-7687 CORNER ANGLE CROSS 2 HOLE YC 100

AF9 0304-8561 CORNER ANGLE CROSS 3 HOLE EG 100

AF9S4 0304-9047 CORNER ANGLE CROSS 3 HOLE SS304 100

AF9S6 0304-9125 CORNER ANGLE CROSS 3 HOLE 316SS 100

AF9YC 0305-7690 CORNER ANGLE CROSS 3 HOLE YC 100

WI SCA2H 0261-2343 STRUT ANGLE BKT 2 HOLE CNR ANGLE 100

WI SCA4H 0261-2346 STRUT ANGLE BKT 4 HOLE CNR ANGLE 100

PART# STOCK CODE DESCRIPTION PER

BAR HANGERS & SUPPORT SYSTEMS

CM-BHA-1 0262-7958 ADJUSTABLE BAR HANGER W/STUD FOR JOIS 100

CM-BHA-16 0262-7961 11” TO 18” ADJ. BOX BRACKET -  MOUNT BOX 100

CM-BHA-1C 0269-6985 ADJ BAR HANGER W/CLIP 100

CM-BHA-24 0262-7964 15 3/4” TO 26” ADJ BOX BRACKET 100

CM-BHT-1 0262-7967 24” T-BAR BRACKET FOR USE W/BOXES 1-1 100

CM-BHT-1A 0276-9522 ADJUSTABLE BAR HANGER 100

CM-BHT-1HD 0446-0955 HEAVY DUTY T-GRID BOX HANGER- 24” SPAN 100

CM-BHT-1HDXT 0448-9230 CM-BHT-1HD EXTENSION BRACKET3-5/8” H 100

CM-BHT-C 0284-6910 BAR HANGER CLIP AND SCREW 100

CM-FMB-1 0448-9233 FIXED MOUNTING BRACKET - SINGLE BOX 100

CM-FMB-16 0314-7975 FIXED MOUNTING BRACKET FOR 16” STUD SPAC 100

CM-FMB-24 0314-7972 FIXED MOUNTING BRACKET FOR 24” STUD SPAC 100

PART# STOCK CODE DESCRIPTION PER

BEAM CLAMPS

BC1 0305-7597 BEAM CLAMP 3/4” MAX. FLANGE THICK EG 100

BC3 0305-7606 BEAM CLAMP & J HOOK ASS 5 1/2-9 FLAN EG 100

BC4 0305-7705 BEAM CLAMP & J HOOK ASS 8-12 FLANGE EG 100

BCAS129EG 0305-7708 BEAM CLAMP ANCHOR STRAP 9” EG 100

BCAS1512EG 0305-7711 BEAM CLAMP ANCHOR STRAP 12” EG 100

BCAS1815EG 0305-7714 BEAM CLAMP ANCHOR STRAP 15” EG 100

BCAS96EG 0305-7717 BEAM CLAMP ANCHOR STRAP 6” EG 100

BCC037PL 0316-3302 C-CLP W/LOCKNUT MALLEABLE IRON 3/8-16PL 100

BCC050PL 0316-3305 C-CLP W/LOCKNUT MALLEABLE IRON 1/2-13PL 100

BCCLN037EG 0315-8796 C-CLAMP W/ LN PRESSED STEEL EG 100

BCRS025EG 0304-8330 BEAM CLAMP ELECTRICAL 1/4” EG 100

BCRS025S6 0309-2403 BEAM CLAMP ELECTRICAL 1/4” SS316 100

BCRS037EG 0304-8333 BEAM CLAMP ELECTRICAL 3/8” EG 100

BCRS050EG 0304-8336 BEAM CLAMP ELECTRICAL 1/2” EG 100

PART# STOCK CODE DESCRIPTION PER

ANGLE FITTINGS

AF30S4 0305-7648 CORNER ANGLE OPEN 45 DEG 2 HOLE SS304 100

AF30S6 0305-7651 CORNER ANGLE OPEN 45 DEG 2 HOLE 316SS 100

AF30YC 0305-7654 CORNER ANGLE OPEN 45 DEG 2 HOLE YC 100

AF31 0304-8603 CORNER ANGLE CLOSED 45 DEG 2 HOLE EG 100

AF31-1 0315-8814 CORNER ANGLE CLOSED 30 DEG 2 HOLE EG 100

AF31-2 0315-8817 CORNER ANGLE CLOSED 60 DEG 2 HOLE EG 100

AF31GN 0305-7657 CORNER ANGLE CLOSED 45 DEG 2 HOLE GN 100

AF31HD 0304-8918 CORNER ANGLE CLOSED 45 DEG 2 HOLE HDG 100

AF31S4 0305-7660 CORNER ANGLE CLOSED 45 DEG 2 HOLE SS304 100

AF31S6 0305-7663 CORNER ANGLE CLOSED 45 DEG 2 HOLE 316SS 100

AF31YC 0305-7666 CORNER ANGLE CLOSED 45 DEG 2 HOLE YC 100

AF32 0304-8612 CORNER ANGLE OPEN 45 DEG 4 HOLE EG 100

AF32-1 0316-3272 4 HOLE OPEN 30DEG CORNER ANGLE 100

AF32S6 0545-1678 DS-CORNER ANGLE OPEN 45 DEF 4 HOLE SS 100

AF33 0304-8615 CORNER ANGLE CLOSED 45 DEG 4 HOLE EG 100

AF33S4 0425-3949 CORNER ANGLE CLOSED 45 DEG 4 HOLE S4 100

AF33S6 0425-3964 CORNER ANGLE CLOSED 45 DEG 4 HOLE S6 100

AF34 0304-8618 CORNER ANGLE ADJUST HINGED 4 HOLE EG 100

AF35 0304-8621 CORNER ANGLE ADJUST HINGED 3 HOLE 1/2” 100

AF36 0304-8624 CORNER ANGLE 1 HOLE 3 7/8” EG 100

AF37 0304-8627 CORNER ANGLE 1 HOLE 5 7/8” EG 100

AF38 0304-8630 CORNER ANGLE 1 HOLE 7 7/8” EG 100

AF39 0304-8633 CORNER ANGLE 1 HOLE 9 7/8” EG 100

AF3HD 0304-8909 CORNER ANGLE 3 HOLE HDG 100

AF4 0304-8555 CORNER ANGLE 4 HOLE EG 100

AF40 0304-8636 ANGLE BRACE 8” EG 100

AF41 0304-8639 ANGLE BRACE 12” EG 100

AF42 0304-8642 ANGLE BRACE 16” EG 100

AF42HD 0583-4280 ANGLE BRACE 16” HOT DIPPED GALV 100

AF43 0304-8645 ANGLE BRACE 18” EG 100

AF44 0304-8648 ANGLE BRACE 24” EG 100

AF4GN 0304-8975 CORNER ANGLE 4 HOLE GN 100

AF4HD 0305-7669 CORNER ANGLE 4 HOLE HDG 100

AF4S4 0304-9041 CORNER ANGLE 4 HOLE SS304 100

AF4S6 0304-9119 CORNER ANGLE 4 HOLE 316SS 100

AF4YC 0305-7672 CORNER ANGLE 4 HOLE YC 100

AF5 0304-8558 CORNER ANGLE 2 HOLE 3” EG 100

AF6 0305-7675 CORNER ANGLE 2 HOLE 3-1/2” EG 100

AF66 0353-4483 2 HOLE ADJUSTABLE CORNER ANGLE 100

AF7 0305-7678 CORNER ANGLE 2 HOLE 4” EG 100

AF8-1 0316-3257 2 HOLE CROSS CORNER ANGLE 3/8” HOLES 100

AF8GN 0305-7681 CORNER ANGLE CROSS 2 HOLE GN 100

AF8HD 0305-7684 CORNER ANGLE CROSS 2 HOLE HDG 100

AF3HD

CM-BHA-1C

HFH10

AF3HD



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

142 143

PART# STOCK CODE DESCRIPTION PER

BEAM CLAMPS

SBCLAMPYC 0305-8650 STRUT TO BM CLP SQ U-BLT 13/16 & 1-5/8 Y 100

SBCW 0304-8309 STRUT TO BEAM CLAMP-WINDOW 1-5/8 EG 100

SBCWS4 0346-8366 STRUT TO BEAM CLAMP WINDOW 1-5/8 S4 100

SBCZ 0305-8653 STRUT TO BEAM CLAMP Z-TYPE EG 100

SCB20 0305-8656 STRUT TO BEAM CLAMP C-TYPE (1/4”) EG 100

SCB21 0305-8659 STRUT TO BEAM CLAMP C-TYPE (3/8”) EG 100

STBNT 0304-8318 STRUT TO BEAM CLAMP NOTCHED TYPE EG 100

STBU 0309-1065 STR TO BEAM CLMP W/SQ U-BOLT 6-1/2” MAX 100

UJBC1 0305-8857 BM CLP SQ U-BLT 1-5/8 CHN W J-HK 4-6 EG 100

UJBC2 0305-8860 BM CLP SQ U-BLT 1-5/8 CHN W J-HK 6-9 EG 100

UJBC3 0305-8863 BM CLP SQ U-BLT 1-5/8 CHN W J-HK 9-12 EG 100

UJBC4 0305-8866 BM CLP SQ U-BLT 3-1/4 CHN W J-HK 4-6 EG 100

UJBC5 0305-8869 BM CLP SQ U-BLT 3-1/4 CHN W J-HK 6-9 EG 100

UJBC6 0305-8872 BM CLP SQ U-BLT 3-1/4 CHN W J-HK 9-12 EG 100

UPBESHDG 0583-4343 UTILITY POLE BRACKET-EXT STANDOFF-HDG 100

WI SBCLAMP 0287-6292 WI STRUT 2 BEAM CLAMP 13/16” & 1-5/8” CH 100

PART# STOCK CODE DESCRIPTION PER

BRACKETS

B1050EG 0304-8342 BRACKET 3 HOLE 10 1/2” 100

B1250EG 0304-8345 BRACKET 6 HOLE 12 1/2” 100

B1450EG 0304-8348 BRACKET 6 HOLE 14 1/2” 100

B850EG 0305-7693 BRACKET 3 HOLE 8-1/2” 100

BB1650EG 0305-7696 BRACKET WITH BRACE 6 HOLE 16-1/2” 100

BB1850EG 0305-7699 BRACKET WITH BRACE 6 HOLE 18-1/2” 100

BB2050EG 0305-7702 BRACKET WITH BRACE 6 HOLE 20-1/2” 100

BDOB 0305-7756 OUTLET BOX BOLT DOWN EG 100

BR158 0305-7759 BRACKET FOR 1-5/8” CHANNEL 100

BR3125 0305-7762 BRACKET FOR 3-1/4” CHANNEL 100

CB1200EG 0304-8387 BRACKET CHANNEL BRACED 12” EG 100

CB1800EG 0304-8390 BRACKET CHANNEL BRACED 18” EG 100

CB2400EG 0304-8393 BRACKET CHANNEL BRACED 24” EG 100

CB3000EG 0305-7765 BRACKET CHANNEL BRACED 30” EG 100

CB3600EG 0305-7768 BRACKET CHANNEL BRACED 36” EG 100

FCB1200EG 0304-8357 BRACKET CHANNEL SINGLE 12” 100

FCB1800EG 0304-8360 BRACKET CHANNEL SINGLE 18” 100

FCB2400EG 0305-8041 BRACKET CHANNEL SINGLE 24” 100

FCB600EG 0304-8351 BRACKET CHANNEL SINGLE 6” 100

FCB600YC 0305-8044 BRACKET CHANNEL SINGLE 6” YC 100

FCB800EG 0304-8354 BRACKET CHANNEL SINGLE 9” 100

HCB1200EG 0316-3347 BRKT CHAN 1-5/8” CHAN 2 HOLE HEAVY 12” 100

HCB1800EG 0316-3365 BRKT CHAN 1-5/8” CHAN 2 HOLE HEAVY 18” 100

PART# STOCK CODE DESCRIPTION PER

BEAM CLAMPS

BCSADP 0305-7720 BEAM CLAMP SWIVEL ADAPTER EG 100

BCU025EG 0304-8339 BEAM CLAMP 1/4” EG 100

BCU037EG 0304-8321 BEAM CLAMP TOP 3/8” EG 100

BCU037PL 0305-7723 BEAM CLAMP TOP 3/8” PL 100

BCU050EG 0304-8324 BEAM CLAMP TOP 1/2” EG 100

BCU050PL 0305-7726 BEAM CLAMP TOP 1/2” PL 100

BCU062EG 0305-7729 BEAM CLAMP TOP 5/8” EG 100

BCU062PL 0305-7732 BEAM CLAMP TOP 5/8” PL 100

BCU075EG 0305-7735 BEAM CLAMP TOP 3/4” EG 100

BCU075PL 0305-7738 BEAM CLAMP TOP 3/4” PL 100

BCUM037EG 0304-8327 BEAM CLAMP WIDE MOUTH 3/8” EG 100

BCUM037PL 0305-7741 BEAM CLAMP WIDE MOUTH 3/8” PL 100

BCUM050EG 0305-7744 BEAM CLAMP WIDE MOUTH 1/2” EG 100

BCUM050PL 0305-7747 BEAM CLAMP WIDE MOUTH 1/2” PL 100

BCUM062EG 0305-7750 BEAM CLAMP WIDE MOUTH 5/8” EG 100

BCUM062PL 0305-7753 BEAM CLAMP WIDE MOUTH 5/8” PL 100

FSBC37EG 0315-2112 STEEL BM CLP 3/8” RD 7/8MAX FLAN THK EG 100

FSBC50EG 0305-8047 STEEL BM CLP 1/2 RD 7/8 MAX FLAN THK EG 100

FSBC62EG 0305-8050 STEEL BM CLP 5/8 RD 7/8 MAX FLAN THK EG 100

HDFSBC37EG075 0305-8071 HD STL BM CLP 3/8 RD 3/4-1 5/8 FLN THK E 100

HDFSBC37EG78 0305-8074 HD STL BM CLP 3/8 RD 7/8 MAX FLN THK EG 100

HDFSBC50EG075 0305-8077 HD STL BM CLP 1/2 RD 3/4-1 5/8 FLN THK E 100

HDFSBC50EG78 0305-8080 HD STL BM CLP 1/2 RD 7/8 MAX FLN THK EG 100

HDFSBC62EG075 0305-8083 HD STL BM CLP 5/8 RD 3/4-1 5/8 FLN THK E 100

HDFSBC62EG78 0305-8086 HD STL BM CLP 5/8 RD 7/8 MAX FLN THK EG 100

HFH10 0304-8471 HINGED CHANNEL HGR 1 5/8 CHAN 9/16 HL EG 100

HFH11 0304-8474 HINGED CHANNEL HGR 3 1/4 CHAN 9/16 HL EG 100

HFH12 0304-8477 HINGED CHANNEL HGR 1 5/8 CHAN 7/8 HL EG 100

HFH13 0304-8480 HINGED CHANNEL HGR 3 1/4 CHAN 7/8 HL EG 100

HN037EG 0322-7853 HEX NUT 3/8-16 EG 100

LDBC 0315-8799 LIGHT DUTY BEAM CLAMP 100

LDBC3/8 0448-8834 LIGHT DUTY BEAM CLAMP 3/8 100

SBCAP1000 0313-6827 STRUT TO BEAM SPREADER CAPS- DESIGN LOAD 100

SBCAP500 0304-8312 STRUT TO BEAM SPREADER CAPS EG 100

SBCCP 0305-8638 STRUT TO BEAM CLAMP C-TYPE WD FLG EG 100

SBCLAMP1 0304-8315 STRUT TO BM CLP SQ U-BLT 2-7/16&3-1/4 EG 100

SBCLAMP1HD 0328-9113 STRT TO BM CLMP SQ U-BOLT2-7/16&3-1/4 HD 100

SBCLAMP1S4 0304-9020 STRUT TO BM CLP SQ U-BLT 2-7/16&3-1/4SS 100

SBCLAMP1S6 0305-8641 STRUT TO BM CLP SQ U-BLT 2-7/16 & 3-1/4 100

SBCLAMP1YC 0305-8644 STRUT TO BM CLP SQ U-BLT 2-7/16 & 3-1/4 100

SBCLAMPHD 0332-1624 STRT TO CM CLMP SQ U-BOLT 13/16&1-5/8 HD 100

SBCLAMPS4 0304-9017 STRT TO BM CLP SQ U-BLT 13/16&1-5/8 SS 100

SBCLAMPS6 0305-8647 STRT TO BM CLP SQ U-BLT 13/16 & 1-5/8 S6 100

HFH10

FCB1200EG

HFH10



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

144 145

PART# STOCK CODE DESCRIPTION PER

CABLE & CONDUIT SUPPORT

BCC100V 0425-4933 BM CLMP W/CNDT CLP 1” RIV-VER MNT 100

BCC125H 0425-4921 BM CLMP W/CNDT CLP1 1/4” RIVETED-HOR MNT 100

BCC125V 0425-4936 BM CLMP W/CNDT CLP 1 1/4” RIV-VER MNT 100

BCC150H 0425-4924 BM CLMP W/CNDT CLP1 1/2” RIVETED-HOR MNT 100

BCC150V 0425-4939 BM CLMP W/CNDT CLP 1 1/2” RIV-VER MNT 100

BCC200H 0425-4927 BM CLMP W/CNDT CLP 2” RIVETED-HOR MNT 100

BCC200V 0425-4942 BM CLMP W/CNDT CLP 2” RIV-VER MNT 100

BCCPI07 0536-2143 CONDUIT TO BEAM CLAMP - 3/4” EMT, 1/2” R 100

C037 0536-2062 3/8” CONDUIT CLIP 100

C0507 0425-4798 CNDT CLP 1/2” OR 3/4” W/ 9/32 THRU HOLE 100

C100 0425-4801 CNDT CLP 1” W/ 9/32 THRU HOLE 100

C100C0705 0425-4945 1” CNDT CLP TO 1/2”-3/4” CNDT CLP-RIV 100

C100C100 0425-4948 1” CNDT CLP TO 1”  CNDT CLP-RIV 100

C100C125 0425-4951 1” CNDT CLP TO 1 1/4”CNDT CLP-RIV 100

C100C150 0425-4954 1” CNDT CLP TO 1 1/2” CNDT CLP-RIV 100

C100C200 0425-4957 1” CNDT CLP TO 2” CNDT CLP-RIV 100

C12316M 0579-8736 1” CONDUIT TO Z PURLIN RETAINER 100

CHB112 0536-2359 MC/AC CABLE HANGER 1-1/8” DIA 100

CHB175 0536-2362 MC/AC CABLE HANGER 1-3/4” DIA 100

CHCC025 0536-2086 BOX/CONDUIT HANGER, 3/8” EMT- 1/4” HOLE 100

CHCC0507 0536-2107 BOX/CONDUIT HANGER, 1/2” TO 3/4” EMT 100

CHCC100 0536-1981 COMBINATION BOX AND CONDUIT HANGER,  1” 100

CHCSC0507 0536-2110 COMBINATION BOX/CONDUIT HANGER- 1/2”, 3/ 100

CHFCC0507 0536-2104 BOX/CONDUIT HANGER W/ FLANGE CLIP - 1/2” 100

CHWCC037 0536-2083 Z BOX/CONDUIT HANGER WITH ROD/WIRE CLIP 100

CHWCC0507 0536-2101 Z BOX/CONDUIT HANGER WIT ROD/WIRE CLIP_- 100

CHWCC100 0536-1978 Z BOX/CONDUIT HANGER WITH ROD/WIRE CLIP 100

CM-BARB 0385-3719 DROP ON BAR SLIDER BRACKET ~BHA SERIES 100

CM-BH-1 0288-1362 24” STR BAR HNGR FOR MNT CEILING BOX 100

CM-BH-1C 0288-1365 24” STR BR HGR TO MT CL BX, SLTD, W/BH-C 100

CM-BH-1S 0288-1368 20” STR BR HGR TO MT CL BX,SLTD,INCL STV 100

CM-BH-1SC 0288-1371 20” STR BR HGR TO MT CL BX,W/ BH-C BX CL 100

CM-BH-2 0288-1374 21” OFST BR HGR TO MT BX W/ RING 100

CM-BH-2NC 0288-1377 21” OFST BR HGR TO MT BX W/RG SLT INC ST 100

CM-BH-3 0288-0438 FIXED BAR HANGER, STRAIGHT BRKT 100

CM-BH-C 0288-1380 ADD BX CLIP & SCW ST USE W/BH-1, BH-1S, 100

CM-MBBH-16 0314-0931 MULTI BX BAR HNGR FLAT-16” STUD SPACING 100

CM-MBBH-24 0314-0934 MULTI BX BAR HNGR FLAT-24” STUD SPACING 100

CM-PLVP 0449-1246 PLASTIC LOW VOLTAGE MOUNTING PLATE 100

CM-TSB 0314-0928 TELESCOPING SUPPORT BRCKT ADJ FROM 16”-2 100

CPI05 0536-2089 PUSH-IN 1/2” CONDUIT 9/32” HOLE PLAIN 100

CPI05CPI05 0536-2134 PUSH IN CONDUIT TO CONDUIT CLAMP - 1/2” 100

CPI05CPI07 0536-2119 PUSH IN CONDUIT TO CONDUIT CLAMP- 1/2” E 100

PART# STOCK CODE DESCRIPTION PER

BRACKETS

HCB2400EG 0316-3371 BRKT CHAN 1-5/8” CHAN 2 HOLE HEAVY 24” 100

HCB600EG 0316-3341 BRKT CHAN 1-5/8” CHAN 2 HOLE HEAVY 6” 100

HCB900EG 0316-3344 BRKT CHAN 1-5/8” CHAN 2 HOLE HEAVY 9” 100

LB02337EG 0316-3773 LADDER BRACKET 2-3/8”X6” 100

LB0437EG 0316-3776 LADDER BRACKET 4-3/8”X8” 100

LB0637EG 0316-3779 LADDER BRACKET 6-3/8”X10” 100

LB0837EG 0316-3782 LADDER BRACKET 8-3/8”X12” 100

LB1037EG 0316-3785 LADDER BRACKET 10-3/8”X14” 100

LSSB1000EG 0305-8116 BRACKET SHELF SLOTTED 10” LEFT EG 100

LSSB1200EG 0305-8119 BRACKET SHELF SLOTTED 12” LEFT EG 100

LSSB1400EG 0305-8122 BRACKET SHELF SLOTTED 14” LEFT EG 100

LSSB1600EG 0305-8125 BRACKET SHELF SLOTTED 16” LEFT EG 100

LSSB1800EG 0305-8128 BRACKET SHELF SLOTTED 18” LEFT EG 100

LSSB600EG 0305-8131 BRACKET SHELF SLOTTED 6” LEFT EG 100

LSSB800EG 0305-8134 BRACKET SHELF SLOTTED 8” LEFT EG 100

NDCB1200EG 0305-8137 BRACKET CHANNEL NOTCHED DN 2 HL 12 EG 100

NDCB1800EG 0305-8140 BRACKET CHANNEL NOTCHED DN 2 HL 18 EG 100

NDCB2400EG 0305-8143 BRACKET CHANNEL NOTCHED DN 2 HL 24 EG 100

NDCB600EG 0305-8146 BRACKET CHANNEL NOTCHED DN 2 HL 6 EG 100

NDCB900EG 0305-8149 BRACKET CHANNEL NOTCHED DN 2 HL 9 EG 100

NUCB1200EG 0305-8170 BRACKET CHANNEL NOTCHED UP 2 HL 12 EG 100

NUCB1800EG 0305-8173 BRACKET CHANNEL NOTCHED UP 2 HL 18” EG 100

NUCB2400EG 0305-8176 BRACKET CHANNEL NOTCHED UP 2 HL 24” EG 100

NUCB600EG 0305-8179 BRACKET CHANNEL NOTCHED UP 2 HL 6” EG 100

NUCB900EG 0305-8182 BRACKET CHANNEL NOTCHED UP 2 HL 9” EG 100

RSSB1000EG 0305-8614 BRACKET SHELF SLOTTED 10” RIGHT EG 100

RSSB1200EG 0305-8617 BRACKET SHELF SLOTTED 12” RIGHT EG 100

RSSB1400EG 0305-8620 BRACKET SHELF SLOTTED 14” RIGHT EG 100

RSSB1600EG 0305-8623 BRACKET SHELF SLOTTED 16” RIGHT EG 100

RSSB1800EG 0305-8626 BRACKET SHELF SLOTTED 18” RIGHT EG 100

RSSB600EG 0305-8629 BRACKET SHELF SLOTTED 6” RIGHT EG 100

RSSB800EG 0305-8632 BRACKET SHELF SLOTTED 8” RIGHT EG 100

WCB1200EG 0304-8366 BRACKET CHAN WRAP AROUND 2 HL12” 100

WCB1800EG 0304-8369 BRACKET CHAN WRAP AROUND 2 HL 18” EG 100

WCB2400EG 0304-8372 BRACKET CHAN WRAP AROUND 2 HL 24” EG 100

WCB600EG 0304-8363 BRACKET CHAN WRAP AROUND 2 HL 6” 100

PART# STOCK CODE DESCRIPTION PER

CABLE & CONDUIT SUPPORT

BCC0507H 0425-4915 BM CLP W/CNDT CLP1/2-3/4” RIV-HOR MNT 100

BCC0507V 0425-4930 BM CLMP W/CNDT CLP 1/2-3/4” RIV-VER MNT 100

BCC100H 0425-4918 BM CLMP W/CNDT CLP 1” RIVETED-HOR MNT 100

FCB1200EG

CM-BH-3

CM-BH-3



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

146 147

PART# STOCK CODE DESCRIPTION PER

CABLE & CONDUIT SUPPORT

FCH075CPI100 0536-1999 CONDUIT TO FLANGE CLIP,  1” EMT,  9/16”- 100

FCHSM014 0536-2020 HAMMER-ON FLANGE CLIP, SIDE MOUNT - 3/32 100

FCHSM025CPI07 0536-1963 3/4” CONDUIT TO 1/8” - 1/4” FLG SIDE MOU 100

FCHSM025CPI100 0536-1990 CONDUIT TO FLANGE CLIP, SIDE MOUNT,  1” 100

FCHSM050 0425-4840 FLNG CLP HMR ON SIDE MNT 1/4”-1/2” FLNG 100

FCHSM050CPI07 0536-1969 3/4” CONDUIT TO 5/16” - 1/2” FLG SIDE MO 100

FCHSM050CPI100 0536-1996 CONDUIT TO FLANGE CLIP, SIDE MOUNT,  1” 100

FCHSM075C037 0536-2077 3/8”  CABLE TO 9/16”  TO 3/4”  FLG SIDE 100

FCHSM075CPI07 0536-1975 3/4” CONDUIT TO 9/16” - 3/4” FLG SIDE MO 100

FCHSM075CPI100 0536-2002 CONDUIT TO FLANGE CLIP, SIDE MOUNT,  1” 100

FH025CPI05 0536-2122 1/2” CONDIUT TO 1/8” - 1/4” FLG 100

FH031-RHP025 0425-5128 FLNG HMRON1/8-5/16W/RD HANG1/4”#8W RIV 100

FH031-RHP037 0425-5152 FLNG HMRON1/8-5/16W/ROD HANG3/8RD RIV 100

FH031C0507 0425-4966 FLNG HMR ON 1/8-5/16 W/CNDT CLP1/2-3/4RI 100

FH031C100 0425-4978 FLNG HMR ON 1/8-5/16 W/CNDT CLP 1”RIV 100

FH031C125 0425-4987 FLNG HMR ON 1/8-5/16 W/CNDT CLP 1-1/4RIV 100

FH031C126 0536-2005 CONDUIT TO FLANGE CLIP,  1 1/4” EMT,  ?” 100

FH031C150 0425-4996 FLNG HMR ON 1/8-5/16 W/CNDT CLP 1-1/2RIV 100

FH031C200 0425-5059 FLNG HMR ON 1/8-5/16 W/CNDT CLP 2”RIV 100

FH050-RHP025 0425-5134 FLNG HMRON 5/16-1/2W/RD HANG1/4”#8W RIV 100

FH050-RHP037 0425-5170 FLNG HMRON 5/16-1/2W/RD HANG3/8RD RIV 100

FH050-RHT025 0425-5179 FLNG HMRON 5/16-1/2W/RD HANG1/4”RD TH FR 100

FH050-RHT037 0425-5197 FLNG HMRON 5/16-1/2W/RD HANG3/8” THR FM 100

FH050-RHT406 0425-5188 FLNG HMRON 5/16-1/2W/RD HANG13/32” TH HL 100

FH050C0507 0425-4972 FLNG HMR ON 5/16-1/2 W/CNDT CLP 1/2-3/4R 100

FH050C100 0425-4981 FLNG HMR ON 5/16-1/2 W/CNDT CLP 1”RIV 100

FH050C125 0425-4990 FLNG HME ON 5/16-1/2 W/CNDT CLP 1-1/4RIV 100

FH050C150 0425-4999 FLNG HMR ON 5/16-1/2 W/CNDT CLP 1-1/2RIV 100

FH050C200 0425-5062 FLNG HMR ON 5/16-1/2 W/CNDT CLP 2”RIV 100

FH050CPI05 0536-2128 1/2” CONDUIT TO  5/16”- 1/2” FLG 100

FH075-RHP025 0425-5149 FLNG HMRON1/2-3/4W/RD HANG1/4”#8W RIV 100

FH075-RHP037 0425-5173 FLNG HMRON 1/2-3/4W/RD HANG3/8RD RIV 100

FH075-RHT025 0425-5182 FLNG HMRON 1/2-3/4W/RD HANG 1/4”RD TH FM 100

FH075-RHT037 0425-5209 FLNG HMRON 1/2-3/4W/RD HANG3/8”THR FM 100

FH075-RHT406 0425-5191 FLNG HMRON 1/2-3/4W/RD HANG13/32” TH HL 100

FH075C0507 0425-4975 FLNG HMR ON 1/2-3/4W/CNDT CLP 1/2-3/4RI 100

FH075C100 0425-4984 FLNG HMR ON 1/2-3/4 W/CNDT CLP 1”RIV 100

FH075C125 0425-4993 FLNG HMR ON 1/2-3/4 W/CNDT CLP 1-1/4RIV 100

FH075C150 0425-5053 FLNG HMR ON 1/2-3/4 W/CNDT CLP 1-1/2 RIV 100

FH075C200 0425-5068 FLNG HMR ON 1/2-3/4 W/CNDT CLP 2”RIV 100

FH075CPI05 0536-2137 1/2” CONDIUT TO 9/16” - 3/4” FLG 100

FHSM025C0507 0425-5080 FLNG HMRON SDMNT 1/8-1/4W/CT CLP 1/2-3/4 100

FHSM025CPI05 0536-2125 1/2” CONDIUT TO 1/8” - 1/4” FLG SIDE MOU 100

PART# STOCK CODE DESCRIPTION PER

CABLE & CONDUIT SUPPORT

CPI07 0536-1957 PUSH-IN 3/4” CONDUIT 9/32” HOLE PLAIN 100

CPI100 0536-1984 PUSH IN CONDUIT CLAMP - 1” EMT, 9/32” HO 100

CSB4 0536-2287 MC/AC CABLE SUPPORT BRACKET, MC/AC CABLE 100

CSB7 0536-2269 MC/AC CABLE SUPPORT BRACKET, MC/AC CABLE 100

CSB7FH025 0536-2272 MC/AC CABLE SUPPORT BRACKET 10-3 TO 8-3 100

CSB7FH050 0536-2278 MC/AC CABLE SUPPORT BRACKET 10-3 TO 8-3 100

CSB7FH075 0536-2284 MC/AC CABLE SUPPORT BRACKET 10-3 TO 8-3 100

CSB7MFC 0536-2275 MC/AC CABLE SUPPORT BRACKET 10-3 TO 8-3 100

CSB7MFC037 0536-2281 MC/AC CABLE SUPPORT BRACKET 10-3 TO 8-3 100

CSB8 0536-2251 MC/AC CABLE SUPPORT BRACKET, MC/AC CABLE 100

CSB8FH025 0536-2254 MC/AC CABLE SUPPORT BRACKET 14-3 TO 8-3 100

CSB8FH050 0536-2260 MC/AC CABLE SUPPORT BRACKET 14-3 TO 8-3 100

CSB8FH075 0536-2266 MC/AC CABLE SUPPORT BRACKET 14-3 TO 8-3 100

CSB8MFC 0536-2257 MC/AC CABLE SUPPORT BRACKET 14-3 TO 8-3 100

CSB8MFC037 0536-2263 MC/AC CABLE SUPPORT BRACKET 14-3 TO 8-3 100

CSC1A 0536-2329 CABLE SNAP CLIP, 1/16”–3/16” FLANGE, 0.2 100

CSC1C 0536-2332 CABLE SNAP CLIP,  1/16”–3/16” FLANGE, 0. 100

CSC1D 0536-2335 CABLE SNAP CLIP - 1/16”-3/16” FLANGE, 0. 100

CSC1E 0536-2338 CABLE SNAP CLIP - 1/16”-3/32” FLANGE, 0. 100

CSC2B 0536-2341 CABLE SNAP CLIP, 3/16”–9/32” FLANGE, 0.3 100

CSC2C 0536-2344 CABLE SNAP CLIP,  3/16”–9/32” FLANGE, 0. 100

CSC2D 0536-2347 CABLE SNAP CLIP - 3/16”-9/32” FLANGE, 0. 100

CSC2E 0536-2350 CABLE SNAP CLIP - 3/16”-9/32” FLANGE, 05 100

CSC3D 0536-2353 CABLE SNAP CLIP - 5/16”- 1/2” FLANGE, 0. 100

CSC3E 0536-2356 CABLE SNAP CLIP, 5/16”–1/2” FLANGE, 0.5” 100

CSS 0536-2215 CABLE SUPPORT TO STUD - 7/16” - 9/16” OD 100

CTH037 0536-2071 3/8” CONDUIT CLIP, 1/4” THREADED IMPRESS 100

CTH0507 0425-4813 CNDT CLP 1/2” OR 3/4”W/1/4 THREADED HOLE 100

CTH100 0425-4816 CNDT CLP 1” W/ 1/4 THREADED HOLE 100

CTH125 0425-4819 CNDT CLP 1 1/4” W/ 1/4 THREADED HOLE 100

CTH150 0425-4822 CNDT CLP 1 1/2” W/ 1/4 THREADED HOLE 100

CTH200 0425-4825 CNDT CLP 2” W/ 1/4 THREADED HOLE 100

CWC1 0536-2314 CABLE OR CONDUIT TO WIRE CLIP, 14-2 TO 1 100

CWC2 0536-2317 CABLE/CONDUIT TO WIRE CLIP - 1/2”, 3/4” 100

FCH025C037 0536-2065 3/8” CABLE TO 1/8” - 1/4” FLG 100

FCH025CPI07 0536-1960 3/4” CONDUIT TO 1/8” - 1/4” FLG 100

FCH025CPI100 0536-1987 CONDUIT TO FLANGE CLIP,  1” EMT,  ?” RIG 100

FCH050C037 0536-2074 CONDUIT/PIPE TO FLANGE CLIP - 14-2 TO12- 100

FCH050CPI07 0536-1966 3/4” CONDUIT TO 5/16” - 1/2” FLG 100

FCH050CPI100 0536-1993 CONDUIT TO FLANGE CLIP, 1” EMT,  5/16”-1 100

FCH050NMC 0536-2326 5/16”-1/2” FLG, 14-2 AND 12-2 GROUND WIR 100

FCH075 0425-4834 FLANGE CLIP HAMMER ON 1/2”-3/4” FLANGE 100

FCH075CPI07 0536-1972 3/4” CONDUIT TO 9/16” - 3/4” FLG 100

CM-BH-3 FCHSM050



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

148 149

PART# STOCK CODE DESCRIPTION PER

CABLE & CONDUIT SUPPORT

SHRZPC025 0536-2293 STRAP HANGER FOR Z PURLIN RIGHT 9/16”-3/ 100

SHZPC025 0536-2302 STRAP HANGER FOR Z PURLIN 100

SIS 0536-2233 MC/AC CABLE TO STUD CLIP 100

SISD 0536-2248 MC/AC DOUBLE CABLE TO STUD CLIP - 14-4 T 100

SISFCH050 0536-2242 MC/AC CABLE T FLANGE CLIP, BOTTOM MOUNT 100

SISFH025 0536-2236 MC/AC CABLE TO FLANGE CLIP,BOTTOM MOUNT, 100

SISFHSM025 0536-2239 MC/AC CABLE TO FANGE CLIP, SIDE MOUNT - 100

SISTGC 0536-2245 MC/AC CABLE TO T-GRID, 14-4 TO 10-3 MC/A 100

SOBS 0536-2290 SNAP-ON BOX SUPPORT 100

WBTC 0536-2224 WIRE BASKET TRAY CLIP, 3/16” – 5/16” WIR 100

WC050 0425-4876 WNG CLP CNDT HNG 1/2”TO ROD OR 1/4” FLNG 100

WC075 0425-4879 WNG CLP CNDUT HNG 3/4”TO ROD OR 1/4” FLN 100

WC100 0425-4882 WNG CLP CNDT HNG 1”TO ROD OR 1/4” FLNG 100

WC125 0425-4885 WNG CLP CNDT HNG1 1/4” TO ROD OR 1/4” FL 100

WCC 0425-4888 WNG CLP CNDT HNG MC/AC OR BX TO #8 WIRE 100

WI SPNUT1/4HD 0576-8244 CHAN NUT REG SPRING 1/4”-20 HOT DIP 100

ZPC025C0507 0536-1954 1/2” - 3/4” CONDUIT TO Z-PURLIN 100

ZPC025RHT025 0536-1948 THREADED ROD TO  Z PURLIN CLIP - 1/4” HO 100

ZPC025RHT037 0536-1951 Z PURLIN CLIP 3/8” THREADED - 1/16” TO 1 100

WI CG100-1050 0356-1897 1” STRAIN RELIEF CORD GRIP .95”-1.05” 100

WI CG100-560 0356-1882 1” STRAIN RELIEF CORD GRIP .45”-.56 100

WI CG100-650 0356-1885 1” STRAIN RELIEF CORD GRIP .50”-.65” 100

WI CG100-750 0356-1888 1” STRAIN RELIEF CORD GRIP .65”-.75” 100

WI CG100-850 0356-1891 1” STRAIN RELIEF CORD GRIP .75”-.85” 100

WI CG100-950 0356-1894 1” STRAIN RELIEF CORD GRIP .85”-.95” 100

WI CG125-1050 0356-1954 1-1/4” STRAIN RELIEF CORD GRIP.95”-1.05” 100

WI CG125-1150 0356-1957 1-1/4” STRAIN RLF CORD GRIP 1.05”-1.15” 100

WI CG125-1250 0356-1960 1-1/4 STRAIN RLF CORD GRIP 1.15”-1.25” 100

WI CG125-1375 0356-1963 1-1/4” STRAIN RLF CORD GRIP 1.25”-1.375” 100

WI CG125-850 0356-1948 1-1/4” STRAIN RELIEF CORD GRIP .75”-.85” 100

WI CG125-950 0356-1951 1-1/4” STRAIN RELIEF CORD GRIP .85”-.95” 100

WI CG150-1050 0356-1966 1-1/2” STRAIN RLF CORD GRIP .95”-1.05” 100

WI CG150-1150 0356-1969 1-1/2” STRAIN RLF CORD GRIP 1.05”-1.15” 100

WI CG150-1250 0356-1972 1-1/2” STRAIN RLF CORD GRIP 1.15”-1.25” 100

WI CG150-1375 0356-1975 1-1/2” STRAIN RLF CORD GRIP 1.25”-1.375” 100

WI CG50-250 0356-1828 1/2” STRAIN RELIEF CORD GRIP .15”-.25” 100

WI CG50-350 0356-1849 1/2” STRAIN RELIEF CORD GRIP .25”-.35 100

WI CG50-450 0356-1852 1/2” STRAIN RELIEF CORD GRIP .35”-.45” 100

WI CG50-560 0356-1855 1/2” STRAIN RELEIE CORD GRIP .45”-.56” 100

WI CG50-650 0356-1858 1/2” STRAIN RELIEF CORD GRIP .55”-.65” 100

WI CG75-250 0356-1861 3/4” STRAIN RELIEF CORD GRIP .15”-.25” 100

WI CG75-350 0356-1864 3/4” STRAIN RELIEF CORD GRIP .25”-.35” 100

WI CG75-450 0356-1879 3/4” STRAIN RELIEF CORD GRIP .35”-.45” 100

PART# STOCK CODE DESCRIPTION PER

CABLE & CONDUIT SUPPORT

FHSM025RC100 0425-5089 FLNG HMRON SDMNT1/8-1/4 W/CT CLP1”RIV 100

FHSM025RC125 0425-5098 FLNG HMRON SDMNT1/8-1/4W/CT CLP1-1/4RIV 100

FHSM025RC150 0425-5110 FLNG HMRON SDMNT1/8-1/4W/CT CLP1-1/2RIV 100

FHSM025RC200 0425-5119 FLNG HMRON SDMNT1/8-1/4W/CT CLP 2RIVI 100

FHSM050CPI05 0536-2131 1/2” CONDUIT TO  5/16”- 1/2” FLG SIDE MO 100

FHSM050RC075 0425-5083 FLNG HMRON SDMNT1/4-1/2 W/CT CLP1/2-3/4R 100

FHSM050RC100 0425-5092 FLNG HMRON SDMNT1/4-1/2W/CT CLP1”RIV 100

FHSM050RC125 0425-5104 FLNG HMRON SDMNT 1/4-1/2W/CT CLP1-1/4RIV 100

FHSM050RC150 0425-5113 FLNG HMRON SDMNT1/4-1/2W/CT CLP1-1/2RIV 100

FHSM050RC200 0425-5122 FLNG HMRON SDMNT1/4-1/2W/CT CLP 2”RIV 100

FHSM075CPI05 0536-2140 1/2” CONDIUT TO 9/16” - 3/4” FLG SIDE MO 100

FHSM075RC075 0425-5086 FLNG HMRON SDMNT1/2-3/4W/CT CLP1/2-3/4RI 100

FHSM075RC100 0425-5095 FLNG HMRON SDMNT 1/2-3/4W/CT CLP1”RIV 100

FHSM075RC125 0425-5107 FLNG HMRON SDMNT 1/2-3/4W/CT CLP 1-1/4RI 100

FHSM075RC150 0425-5116 FLNG HMRON SDMNT1/2-3/4W/CT CLP1-1/2RIV 100

FHSM075RC200 0425-5125 FLNG HMRON SDMNT1/2-3/4W/CT CLP2”RIV 100

FVL 0425-4780 FLG HNG-VERT LG LNG-BAR JOISTS 100

FVS 0425-4777 FLG HNG-VERT STND LNG “C” PURLIN 100

FVS-RHP025 0425-5212 FLNG HNG-VER C-PURLIN W/RD HNG1/4”RD#8W 100

FVS-RHP037 0425-5215 FLNG HNG-VER C-PURLIN W/RD HNG3/8”RD RIV 100

FVS-RHT025 0425-5224 FLNG HNG-VER C-PURLIN 1/4” RD THR FM RIV 100

FVS-RHT037 0425-5230 FLNG HNG-VER C-PURLIN 3/8” THR FM RIV 100

FVS-RHT040 0425-5227 FLNG HNG-VER C-PURLIN 13/32”THRU  HL RIV 100

FZ 0425-4783 FLANGE HANGER - “Z” PURLIN 100

FZ-RHP025 0425-5218 FLNG HNG-Z-PURLIN W/RD HNG1/4RD#8W RIV 100

FZ-RHP037 0425-5221 FLNG HNG-Z-PURLIN W/RD HNG 3/8”RD RIV 100

FZ-RHT025 0425-5233 FLNG HNG-Z PURLIN W/ROD HANG1/4”RD THR F 100

FZ-RHT037 0425-5242 FLN HNG-Z PURLIN W/RD HANG 3/8RD THR FM 100

FZ-RHT040 0425-5236 FLNG HNG-Z PURLIN W/RD HANG13/32 TH HL R 100

ISC65 0536-2221 INDEPENDENT SUPPORT CLIP, 9/16” T--GRID, 100

MFC-C0507 0425-5251 MULTI-FUNT CLP W/CNDT CLP 1/2-3/4 RIV 100

MFC-C0507AT 0536-2095 SNAP CLOSE CONDUIT TO WIRE/ROD CLIP-1/2” 100

MFC-C100 0425-5254 MULTI-FUNT CLP W/CNDT CLP 1” RIV 100

MFC-CPI05 0536-2059 ROD/WIRE CLIP 1/2” EMT, 1/4” ROD, #12 WI 100

MFC-CPI07 0536-2053 ROD/WIRE CLIP 3/4” EMT CONDUIT, 1/4” ROD 100

MFC-CPI100 0536-2056 ROD/WIRE CLIP 1” EMT CONDUIT , 1/4” ROD, 100

MFC037 0536-2092 3/8” ROD, MULTI-FUNCTION CLIP 100

MFCSS 0425-5257 MULTI FUNT CLP W/STKE STD1/4-20X9/16 100

SHFCH025 0536-2305 STRAP HANGER 1/8” - 1/4” FLANGE 100

SHFCH050 0536-2308 STRAP HANGER 5/16” TO 1/2” FLANGE 100

SHFCH075 0536-2311 STRAP HANGER 9/16” -3/4” FLG 100

SHRFCH025 0536-2296 STRAP HANGER RIGHT 1/8” - 1/4” FLG 100

SHRFCH050 0536-2299 STRAP HANGER RIGHT -5/16” TO 1/2” FLG 100

FHSM050RC125 FHSM050RC125



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

150 151

PART# STOCK CODE DESCRIPTION PER

CHANNEL NUTS

CBWN 0315-3645 1/4”X3/4” CARRIAGE BOLT & 1/4” WING NUT 100

CIN025EG 0305-7807 CONCRETE INSERT NUT 1/4-20 EG 100

CIN037EG 0305-7810 CONCRETE INSERT NUT 3/8-16 EG 100

CIN037PL 0305-7813 CONCRETE INSERT NUT 3/8-16 PL 100

CIN050EG 0305-7816 CONCRETE INSERT NUT 1/2-13 EG 100

CIN050PL 0315-2142 CONCRETE INS NUT 1/2”-13 PL 100

CIN062EG 0305-7819 CONCERTE INSERT NUT 5/8-11 EG 100

CIN062PL 0305-7822 CONCRETE INSERT NUT 5/8-11 PL 100

CIN075EG 0305-7825 CONCRETE INSERT NUT 3/4-10EG 100

CIN075PL 0305-7828 CONCRETE INSERT NUT 3/4-10 PL 100

CIN087EG 0315-3642 CONCRETE INS NUT 7/8”-9 EG 100

CIN087PL 0315-3639 CONCRETE INS NUT 7/8”-9 PL 100

CIN25PL 0305-7831 CONCRETE INSERT NUT 1/4-20 PL 100

CIPL 0315-3600 CONCRETE INS PL 100

CNC30025EG 0313-4160 1/4” CONE NUT 100

CNC30037EG 0309-6564 3/8” CONE NUT 100

CNC30050EG 0313-4154 1/2” CONE NUT 100

CNSQT2025EG 0315-2100 CHAN NUT SQ TAB 1/4-20 EG THK 1/4” 100

CNSQT3037EG 0315-2103 CHAN NUT SQ TAB 3/8-16 EG THK 3/8” 100

CNSQT3050EG 0315-2106 CHAN NUT SQ TAB 1/2-13 EG THK 3/8” 100

FSN 0305-8053 FIXTURE STUD NUT EG 100

SCCNS010EG2 0305-8662 CHANNEL NUT NO SPRG 10-24 (1/4 THK) EG 100

SCCNS025EG2 0304-8414 CHANNEL NUT NO SPRG 1/4-20 (1/4 THK) EG 100

SCCNS025S62 0304-9095 CHANNEL NUT NO SPRG 1/4-20 (1/4 THK) S6 100

SCCNS031EG3 0304-8417 CHANNEL NUT NO SPRG 5/16-18 (3/8 THK) EG 100

SCCNS037EG3 0304-8420 CHANNEL NUT NO SPRG 3/8-16 (3/8 THK) EG 100

SCCNS037S63 0304-9098 CHANNEL NUT NO SPRG 3/8-16 (3/8 THK) S6 100

SCCNS050EG3 0304-8423 CHANNEL NUT NO SPRG 1/2-13 (3/8 THK) EG 100

SCCNS050EG4 0305-8665 CHANNEL NUT NO SPRG 1/2-13 (1/2 THK) EG 100

SCCNS050S63 0305-8668 CHANNEL NUT NO SPRG 1/2-13 (3/8 THK) S6 100

SCCNS050S64 0305-8671 CHANNEL NUT NO SPRG 1/2-13 (1/2 THK) S6 100

SCCNS062EG3 0305-8674 CHANNEL NUT NO SPRG 5/8-11 (3/8 THK) EG 100

SCCNS062EG4 0305-8677 CHANNEL NUT NO SPRG 5/8-11 (1/2 THK) EG 100

SCCNS075EG3 0305-8680 CHANNEL NUT NO SPRG 3/4-10 (3/8 THK) EG 100

SCCNS075EG4 0305-8683 CHANNEL NUT NO SPRG 3/4-10 (1/2 THK) EG 100

SCCNS087EG4 0305-8686 CHANNEL NUT NO SPRG 7/8-9 (1/2 THK) EG 100

SCND25100EG 0316-3209 1” STUD NUT REG SPRG 1/4”-20 100

SCND25137EG 0316-3212 1-3/8” STUD NUT REG SPRG 1/4”-20 100

SCND25150EG 0316-3215 1-1/2” STUD NUT REG SPRG 1/4”-20 100

SCND37100EG 0316-3218 1” STUD NUT REG SPRG 3/8”-16 100

SCND37112EG 0316-3221 1-1/8” STUD NUT REG SPRG 3/8”-16 100

SCND37125EG 0316-3224 1-1/4” STUD NUT REG SPRG 3/8”-16 100

SCND37150EG 0316-3227 1-1/2” STUD NUT REG SPRG 3/8”-16 100

PART# STOCK CODE DESCRIPTION PER

CABLE & CONDUIT SUPPORT

WI CG75-560 0356-1867 3/4” STRAIN RELIEF CORD GRIP .45”-.56” 100

WI CG75-650 0356-1870 3/4” STRAIN RELIEF CORD GRIP .55”-.65” 100

WI CG75-750 0356-1873 3/4” STRAIN RELIEF CORD GRIP .65”-.75” 100

WI CG75-850 0356-1876 3/4” STRAIN RELIEF CORD GRIP .75”-.85” 100

PART# STOCK CODE DESCRIPTION PER

CEILING & ACOUSTICAL ATTACHMENTS

C-4G8 0576-1785 TWIST CLIP FOR TRACK LIGHTING - NO NUT 100

DWSC8 0536-2209 ELECTRICAL DROP WIRE SECURING CLIP- #8 W 100

ISC94 0536-2218 INDEPENDENT SUPPORT CLIP, 15/16” T--GRID 100

SCT 0425-4792 SPT CLP TROFFER AND LAY IN TO TEE GRID 100

TBSM 0425-4870 TEE BAR CLIP - SIDE MNT WITH 1/4” THREAD 100

TBSM-C0507 0425-5260 TEE BAR CLP-SDMNT TO CNDT CLP 1/2-3/4 100

TBSM-C100 0425-5263 TEE BAR CLP-SDMNT TO CNDT CLP 1” 100

TBTM 0425-4873 TEE BAR CLIP - TOP MOUNT WITH 1/4 THREAD 100

TBTM-C037 0536-2080 CONDUIT TO T-GRID CLIP - 1/2”, 3/4” EMT 100

TBTM-C0507 0425-5266 TEE BAR CLP-TOP MNT TO CNDT CLP1/2-3/4 100

TBTM-C100 0425-5269 TEE BAR CLP-TOP MNT TO CNDT CLP 1” 100

TCBSS 0425-5503 TWIST CLIP BASE 15/16 W/ STUD 1/4X3/4 100

TCBSS-TCWN 0425-5272 TWST CLP BS15/16 TEE1/4-20X3/4 TWST CLP 100

TCBSS-TCWNL 0536-2047 TWIST CLIP W/ WING NUT, 15/16” T-GRID 1 100

TCPH 0536-2050 TWIST CLIP WITH PLAIN HOLE,  ?”HOLE,  1/ 100

TCWN 0425-4795 TWIST CLIP WING NUT 1/4-20 100

PART# STOCK CODE DESCRIPTION PER

CEMENTS & PRIMERS

AT32 0296-7507 CENTAUR ALL TEMPERATURE CEMENT 100

CMT05P 0252-3399 1/2 PINT PVC CEMENT 100

PART# STOCK CODE DESCRIPTION PER

CEMENTS & PRIMERS

CMT1G 0295-7241 1 GALLON PVC GLUE 100

CMT1P 0252-3402 16 OZ PVC CEMENT 100

CMT1Q 0252-3405 32 OZ PVC CEMENT 100

G32 0320-9514 QUART PVC GRAY MED CEMENT 100

PP32 0268-0263 PURPLE PRIMER QT 100

SB16 0261-4383 PINT BLUE GLUE 100

38CQC 0542-8482 1/2” MC QUICK CONNECTOR INSULATED 100

40CQC 0542-8485 1/2” MC QUICK CONNECTOR INS. LRG 100

TBSM-C0507

WI CG75-650

AT32

CNSQT2025EG



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

152 153

PART# STOCK CODE DESCRIPTION PER

CLUTCH CLAMP

CCE10 0305-7771 CLUTCH CLAMP EMT 1” TP 100

CCE50 0305-7774 CLUTCH CLAMP EMT 1/2” TP 100

CCE75 0305-7777 CLUTCH CLAMP EMT 3/4” TP 100

CCT112 0305-7786 CLUTCH CLAMP TUBING 1-1/8” TP 100

CCT25 0315-8793 CLUTCH CLAMP TUBING 1/4” TP 100

CCT37 0305-7789 CLUTCH CLAMP TUBING 3/8” TP 100

CCT50 0305-7792 CLUTCH CLAMP TUBING 1/2” TP 100

CCT62 0305-7795 CLUTCH CLAMP TUBING 5/8” TP 100

CCT75 0305-7798 CLUTCH CLAMP TUBING 3/4” TP 100

CCT87 0305-7801 CLUTCH CLAMP TUBING 7/8” TP 100

PART# STOCK CODE DESCRIPTION PER

COMBINATION FITTINGS

WI EFL38-SS-SA 0556-7763 3/8” EMT-FLEX SS TO TOP BITE COMBO COUP 100

WI EFL50-C-SA 0556-7766 1/2” EMT TO FLEX-COMP TO TOP BITE CPLNG 100

WI EFL50-SS-SA 0556-7889 1/2” EMT-FLEX SS TO TOP BITE COMBO COUP 100

WI EFL75-C-SA 0556-7772 3/4” EMT TO FLEX-COMP TO TOP BITE CPLNG 100

WI EFL75-SS-SA 0556-7892 3/4” EMT-FLEX SS TO TOP BITE COMBO COUP 100

WI EFLXC100 0552-2034 1” EMT TO FLEX COMP/SCREW IN-ZDC 100

WI EFLXC50 0552-2028 1/2” EMT TO FLEX COMP/SCREW IN-ZDC 100

WI EFLXSSCL100 0556-7718 1” EMT-FLEX/SET SCREW-CLAMP TYPE COUP 100

WI EFLXSSCL50 0556-7712 1/2” EMT-FLEX/SET SCREW-CLAMP TYPE COUP 100

WI EFLXSSCL75 0556-7715 3/4” EMT-FLEX/SET SCREW-CLAMP TYPE COUP 100

WI EFSS3850 0576-7272 1/2” EMT TO NM/FLEX COMBO COUP - ZDC 100

WI ELTC100 0556-7709 1” EMT-LIQUIDTIGHT COMP TYPE COUP 100

WI ELTC50 0556-7703 1/2” EMT-LIQUIDTIGHT COMP TYPE COUP 100

WI ELTC75 0556-7706 3/4” EMT-LIQUIDTIGHT COMP TYPE COUP 100

WI ERC100 0576-7563 1” EMT TO RIGID COMP TYPE COMBO COUPLING 100

WI ERC50 0576-7557 1/2” EMT TO RIGID COMP TYPE COMBO COUP 100

WI ERC75 0576-7560 3/4” EMT TO RIGID COMP TYPE COMBO COUP 100

WI ERSS100 0322-6410 1”-1” EMT TO RIGID SET SCREW CPLG 100

WI ERSS50 0322-6404 1/2”-1/2” EMT TO RIGID SET SCREW CPLG 100

WI ERSS75 0322-6407 3/4”-3/4” EMT TO RIGID SET SCREW CPLG 100

WI LTR50 0557-9607 1/2” LIQUIDTIGHT TO RIGID COMBO COUPLING 100

WI LTR75 0557-9610 3/4” LIQUIDTIGHT TO RIGID COMBO COUPLING 100

PART# STOCK CODE DESCRIPTION PER

CONCRETE RING COVERS

CM-CB-B 0262-7970 4” OCT. CONCRETE BOX COVER, FLAT, BLANK 100

CM-CB-B-PT 0369-9711 4” OCT CONCRETE BOX CVER BLANK W/PIGTAIL 100

CM-CB-BK 0262-7973 4” OCT. CONCRETE BOX COVER, FLAT, 1/2” & 100

PART# STOCK CODE DESCRIPTION PER

CHANNEL NUTS

SCND37162EG 0316-3230 1-5/8” STUD NUT REG SPRG 3/8”-16 100

SCND37212EG 0316-3233 2-1/8” STUD NUT REG SPRG 3/8”-16 100

SCND50100EG 0316-3236 1” STUD NUT REG SPRG 1/2”-13 100

SCND50125EG 0316-3239 1-1/4” STUD NUT REG SPRG 1/2”-13 100

SCND50150EG 0316-3242 1-1/2” STUD NUT REG SPRG 1/2”-13 100

SCNLS025EG2 0315-2097 CHAN NUT LONG SPN (2) 1/4”-20 THK 1/4” 100

SCNLS037EG3 0305-8689 CHANNEL NUT LNG SPRG 3/8-16 (3/8 THK) EG 100

SCNLS050EG4 0305-8692 CHANNEL NUT LNG SPRG 1/2-13 (1/2 THK) EG 100

SCNRS010EG2 0304-8426 CHANNEL NUT REG SPRG 10-24 (1/4 THK)EG 100

SCNRS025S62 0304-9101 CHANNEL NUT REG SPRG 1/4-20(1/4 THK) S6 100

SCNRS031EG2 0315-2094 CHAN NUT REG SPN (2) EG 5/16”-18 1/4” TH 100

SCNRS031EG3 0304-8429 CHAN NUT REG SPRG 5/16-18 (3/8 THK) EG 100

SCNRS037EG2 0305-8695 CHANNEL NUT REG SPRG 3/8-16 (1/4 THK) EG 100

SCNRS037S63 0304-9104 CHANNEL NUT REG SPRG 3/8-16(3/8 THK) S6 100

SCNRS050EG4 0304-8432 CHANNEL NUT REG SPRG 1/2-13 (1/2 THK) EG 100

SCNRS050S63 0305-8698 CHANNEL NUT REG SPRG 1/2-13 (3/8 THK) S6 100

SCNRS050S64 0304-9107 CHANNEL NUT REG SPRG 1/2-13(1/2 THK) S6 100

SCNRS062EG4 0305-8701 CHANNEL NUT REG SPRG 5/8-11 (1/2 THK) EG 100

SCNRS075EG4 0305-8704 CHANNEL NUT REG SPRG 3/4-10 (1/2 THK) EG 100

SCNRS087EG4 0305-8707 CHANNEL NUT REG SPRG 7/8-9 (1/2 THK) EG 100

SCNRS20031EG2 0315-0531 CHANNEL NUT REG SPRG 5/16-18 (1/4 THK)EG 100

SCNS025EG2 0304-8435 CHAN NUT SHRT SPRG 1/4-20 (1/4 THK)EG 100

SCNS031EG2 0305-8710 CHAN NUT SHRT SPRG 5/16-18 (1/4 THK) EG 100

SCNS031EG3 0305-8713 CHAN NUT SHRT SPRG 5/16-18 (3/8 THK) EG 100

SCNS037EG2 0305-8716 CHAN NUT SHRT SPRG 3/8-16 (1/4 THK) EG 100

SCNS037EG3 0304-8438 CHAN NUT SHRT SPRG 3/8-16 (3/8” THK) EG 100

SCNS050EG3 0304-8441 CHAN NUT SHRT SPRG 1/2-13 (3/8 THK) EG 100

SCNS062EG3 0305-8719 CHAN NUT SHRT SPRG 5/8-11 (3/8 THK) EG 100

SCNTS025EG2 0353-1840 CHANNEL NUT TOP SPRG 1/4-20 (1/4 THK) EG 100

SCNTS037EG3 0304-8444 CHANNEL NUT TOP SPRG 3/8-16 (3/8 THK) EG 100

SCNTS050EG3 0304-8447 CHANNEL NUT TOP SPRG 1/2-13 (3/8 THK) EG 100

SCNTS050EG4 0304-8450 CHANNEL NUT TOP SPRG 1/2-13 (1/2 THK) EG 100

SNBC2520EG 0316-3275 SWIVEL NUT 1/4-20 100

SNBC3716EG 0316-3278 SWIVEL NUT 3/8-16 100

SNBC5013EG 0316-3287 SWIVEL NUT 1/2-13 100

WI SPNUT1/2 0261-2340 REGULAR SPRING NUT 1/2 100

WI SPNUT1/4 0261-2334 REGULAR SPRING NUT 1/4 100

WI SPNUT3/8 0261-2337 REGULAR  SPRING NUT 3/8 100

SCNS062EG3

WI ERSS50

CM-CB-B



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

154 155

PART# STOCK CODE DESCRIPTION PER

CONDUIT BODIES

WI 7LR250 0542-6769 2-1/2” LR CONDULET -FORM 7 100

WI 7LR75 0542-6754 3/4” LR CONDULET -FORM 7 100

WI 7T100 0542-6808 1” T CONDULET -FORM 7 100

WI 7T125 0542-6811 1-1/4” T CONDULET -FORM 7 100

WI 7T150 0542-6814 1-1/2” T CONDULET -FORM 7 100

WI 7T200 0542-6817 2” T CONDULET -FORM 7 100

WI 7T50 0542-6802 1/2” T CONDULET -FORM 7 100

WI 7T75 0542-6805 3/4” T CONDULET -FORM 7 100

WI C-C100 0358-0770 1” EMT/RIGID “C” CONDULET 100

WI C-C125 0358-0773 1-1/4” EMT/RIGID “C” CONDULET 100

WI C-C200 0358-0779 2” EMT/RIGID “C” CONDULET 100

WI C-C50 0358-0764 1/2” EMT/RIGID “C” CONDULET 100

WI C-C75 0358-0767 3/4” EMT/RIGID “C” CONDULET 100

WI C100 0256-4217 ALUM C CONDULET 1” W/COVER & GSKT 100

WI C125 0284-2446 ALUM C CONDULET 1 1/4” W/COVER & GSKT 100

WI C150 0256-4220 ALUM C CONDULET 1 1/2” W/COVER & GSKT 100

WI C200 0256-4223 ALUM C CONDULET 2” W/COVER & GSKT 100

WI C250 0268-3095 ALUM C CONDULET 2 1/2” W/COVER & GSKT 100

WI C300 0268-3098 ALUM C CONDULET 3” W/COVER & GSKT 100

WI C400 0268-3101 ALUM C CONDULET 4” W/COVER & GSKT 100

WI C50 0256-4211 ALUM C CONDULET 1/2” W/COBER & GSKT 100

WI C75 0256-4214 ALUM C CONDULET 3/4” W/COVER & GSKT 100

WI LB-C100 0358-0752 1” EMT/RIGID “LB” CONDULETS 100

WI LB-C125 0358-0755 1-1/4” EMT/RIGID “LB” CONDULET 100

WI LB-C150 0358-0758 1-1/2” EMT/RIGID “LB” CONDULET 100

WI LB-C200 0358-0761 2” EMT/RIGID “LB” CONDULET 100

WI LB-C50 0358-0728 1/2” EMT/RIGID “LB” CONDULET 100

WI LB-C75 0358-0749 3/4” EMT/RIGID “LB” CONDULET 100

WI LB100 0001-7515 ALUM CONDULET LB 1” W/ GSKT & COVER 100

WI LB125 0001-7527 ALUM CONDULET LB 1 1/4” W/ GSKT & COVER 100

WI LB150 0001-7536 ALUM CONDULET LB 1 1/2” W/ GSKT & COVER 100

WI LB200 0001-7548 ALUM CONDULET LB 2” W/ GSKT & COVER 100

WI LB250 0004-2730 ALUM CONDULET LB 2 1/2” W/ GSKT & COVER 100

WI LB300 0001-7572 ALUM CONDULET LB 3” W/ GSKT & COVER 100

WI LB350 0267-7413 ALUM CONDULET LB 3 1/2” W/ GSKT & COVER 100

WI LB400 0001-7581 ALUM CONDULET LB 4” W/ GSKT & COVER 100

WI LB50 0001-7467 ALUM CONDULET LB 1/2” W/GSKT & COVER 100

WI LB75 0001-7503 ALUM CONDULET LB 3/4” W/GSKT & COVER 100

WI LL-C100 0358-0812 1” EMT/RIGID “LL” CONDULET 100

WI LL-C125 0358-0815 1-1/4” EMT/RIGID “LL” CONDULET 100

WI LL-C150 0358-0818 1-1/2” EMT/RIGID “LL” CONDULET 100

WI LL-C200 0358-0821 2” EMT/RIGID “LL” CONDULET 100

WI LL-C50 0358-0803 1/2” EMT/RIGID “LL” CONDULET 100

PART# STOCK CODE DESCRIPTION PER

CONCRETE

CM-CB-BK-STUD 0288-0441 4” OCT BX CVR W/ #3/8-18 THRD FXT STUD 100

CIEG 0305-7804 CONCRETE SPOT INSERT 100

SRS 0353-4486 SEISMIC ROD STIFFENER 100

PART# STOCK CODE DESCRIPTION PER

CONCRETE RINGS

CM-25CB 0262-7634 4” OCT. CONCRETE RING, 2-1/2” DEEP 100

CM-2CB 0262-7637 4” OCT. CONCRETE RING, 2” DEEP 100

CM-35CB 0262-7640 4” OCT. CONCRETE RING, 3-1/2” DEEP 100

CM-3CB 0262-7643 4” OCT. CONCRETE RING, 3” DEEP 100

CM-3CB-75/100 0314-0871 4” OCT CONCRETE 3” DP 37.0 CU IN 100

CM-4CB 0262-7676 4” OCT. CONCRETE RING, 4” DEEP 100

CM-6CB 0288-0435 4” OCTAGONAL RING 6” DEEP 100

PART# STOCK CODE DESCRIPTION PER

CONDUIT ACCESSORIES

PLG25 0320-9646 (078424)2” PLUG W/PULL EYE 078424 100

PLG35 0320-9454 (078425)3” PLUG W/PULL EYE 078425 100

PLG4 0320-9628 (078427)4” PLUG W/PULL EYE 078427 100

PLG5 0288-9441 5” TAPERED CONDUIT PLUGS W/PULLING EYE 100

PLG6 0288-9444 6” TAPERED CONDUIT PLUGS W/PULLING EYE 100

PART# STOCK CODE DESCRIPTION PER

CONDUIT BODIES

WI 7C50 0542-6778 1/2” C CONDULET -FORM 7 100

WI 7LB100 0542-6700 1” LB CONDULET -FORM 7 100

WI 7LB125 0542-6703 1-1/4” LB CONDULET -FORM 7 100

WI 7LB150 0542-6706 1-1/2” LB CONDULET -FORM 7 100

WI 7LB200 0542-6709 2” LB CONDULET -FORM 7 100

WI 7LB250 0542-6712 2-1/2” LB CONDULET -FORM 7 100

WI 7LB300 0542-6715 3” LB CONDULET -FORM 7 100

WI 7LB50 0542-6694 1/2” LB CONDULET -FORM 7 100

WI 7LB75 0542-6697 3/4” LB CONDULET -FORM 7 100

WI 7LL100 0542-6730 1” LL CONDULET -FORM 7 100

WI 7LL150 0542-6736 1-1/2” LL CONDULET -FORM 7 100

WI 7LL200 0542-6739 2” LL CONDULET -FORM 7 100

WI 7LL75 0542-6727 3/4” LL CONDULET -FORM 7 100

WI 7LR100 0542-6757 1” LR CONDULET -FORM 7 100

WI 7LR150 0542-6763 1-1/2” LR CONDULET -FORM 7 100

WI 7LR200 0542-6766 2” LR CONDULET -FORM 7 100

CM-25CB

PLG25

WI LB-C50

WI LB-C50



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

156 157

PART# STOCK CODE DESCRIPTION PER

CONDUIT BODIES

WI MLB50 0322-6680 1/2” - MALL CONDULET LB 100

WI MLB75 0322-6683 3/4” - MALL CONDULET LB 100

WI MLL100 0322-6710 1” - MALL CONDULET LL 100

WI MLL125 0322-6713 1-1/4” - MALL CONDULET LL 100

WI MLL150 0322-6716 1-1/2” - MALL CONDULET LL 100

WI MLL200 0322-6719 2” - MALL CONDULET LL 100

WI MLL250 0322-6722 2-1/2” - MALL CONDULET LL 100

WI MLL300 0322-6725 3” -MALL CONDULET LL 100

WI MLL400 0322-6728 4” - MALL CONDULET LL 100

WI MLL50 0322-6704 1/2” - MALL CONDULET LL 100

WI MLL75 0322-6707 3/4” - MALL CONDULET LL 100

WI MLR100 0322-6737 1” - MALL CONDULET LR 100

WI MLR125 0322-6740 1-1/4” - MALL CONDULET LR 100

WI MLR150 0322-6743 1-1/2” - MALL CONDULET LR 100

WI MLR200 0322-6746 2” - MALL CONDULET LR 100

WI MLR250 0322-6749 2-1/2” - MALL CONDULET LR 100

WI MLR300 0322-6752 3” - MALL CONDULET LR 100

WI MLR400 0322-6755 4” - MALL CONDULET LR 100

WI MLR50 0322-6731 1/2” - MALL CONDULET LR 100

WI MLR75 0322-6734 3/4” - MALL CONDULET LR 100

WI MLRB17 0556-7751 2-1/2” - 1” REDUCING BUSHING - MALLEABLE 100

WI MT100 0322-6764 1” - MALL CONDULET T 100

WI MT125 0322-6767 1-1/4” - MALL CONDULET T 100

WI MT150 0322-6770 1-1/2” - MALL CONDULET T 100

WI MT200 0322-6773 2” - MALL CONDULET T 100

WI MT250 0322-6776 2-1/2” - MALL CONDULET T 100

WI MT300 0322-6779 3” - MALL CONDULET T 100

WI MT350 0322-6782 3-1/2” - MALL CONDULET T 100

WI MT400 0322-6785 4” - MALL CONDULET T 100

WI MT50 0322-6758 1/2” - MALL CONDULET T 100

WI MT75 0322-6761 3/4” - MALL CONDULET T 100

WI MTB100 0556-6146 1” TB CONDULET - MALLEABLE 100

WI MTB125 0556-6149 1 1/4” TB CONDULET - MALLEABLE 100

WI MTB150 0556-6152 1 1/2” TB CONDULET - MALLEABLE 100

WI MTB200 0556-6155 2” TB CONDULET - MALLEABLE 100

WI MTB50 0556-6140 1/2” TB CONDULET - MALLEABLE 100

WI MTB75 0556-6143 3/4” TB CONDULET - MALLEABLE 100

WI MX100 0556-6164 1” X CONDULET - MALLEABLE 100

WI MX125 0556-6167 1 1/4” X CONDULET - MALLEABLE 100

WI MX150 0556-6170 1 1/2” X CONDULET - MALLEABLE 100

WI MX200 0556-6173 2” X CONDULET - MALLEABLE 100

WI MX50 0556-6158 1/2” X CONDULET - MALLEABLE 100

WI MX75 0556-6161 3/4” X CONDULET - MALLEABLE 100

PART# STOCK CODE DESCRIPTION PER

CONDUIT BODIES

WI LL-C75 0358-0809 3/4” EMT/RIGID “LL” CONDULET 100

WI LL100 0256-4193 ALUM LL CONDULET 1” W/COVER & GSKT 100

WI LL125 0284-2449 ALUM LL CONDULET 1 1/4” W/COVER & GSKT 100

WI LL150 0256-4196 ALUM LL CONDULET 1 1/2” W/COVER & GSKT 100

WI LL200 0256-4199 ALUM LL CONDULET 2” W/COVER & GSKT 100

WI LL250 0268-3113 ALUM LL CONDULET 2 1/2” W/COVER & GSKT 100

WI LL300 0268-3116 ALUM LL CONDULET 3” W/COVER & GSKT 100

WI LL400 0268-3119 ALUM LL CONDULET 4” W/COVER & GSKT 100

WI LL50 0256-4187 ALUM LL CONDULET 1/2” W/COVER & GSKT 100

WI LL75 0256-4190 ALUM LL CONDULET 3/4” W/COVER & GSKT 100

WI LR-C100 0358-0830 1” EMT/RIGID “LR” CONDULET 100

WI LR-C125 0358-0833 1-1/4” EMT/RIGID “LR” CONDULET 100

WI LR-C150 0358-0836 1-1/2” EMT/RIGID “LR” CONDULET 100

WI LR-C200 0358-0839 1-1/2” EMT/RIGID “LR” CONDULET 100

WI LR-C50 0358-0824 1/2” EMT/RIGID “LR” CONDULET 100

WI LR-C75 0358-0827 3/4” EMT/RIGID “LR” CONDULET 100

WI LR100 0256-4208 ALUM LR CONDULET 1” W/COVER & GSKT 100

WI LR125 0284-2452 ALUM LR CONDULET 1 1/4” W/COVER & GSKT 100

WI LR150 0256-4226 ALUM LR CONDULET 1 1/2” W/COVER & GSKT 100

WI LR200 0256-4229 ALUM LR CONDULET 2: W/COVER & GSKT 100

WI LR250 0268-3104 ALUM LR CONDULET 2 1/2” W/COVER & GSKT 100

WI LR300 0268-3107 ALUM LR CONDULET 3” W/COVER & GSKT 100

WI LR400 0268-3110 ALUM LR CONDULET 4” W/COVER & GSKT 100

WI LR50 0256-4202 ALUM LR CONDULET 1/2” W/COVER & GSKT 100

WI LR75 0256-4205 ALUM LR CONDULET 3/4” W/COVER & GSKT 100

WI LRB1 0556-7613 1/2” - 3/8” REDUCING BUSHING - STEEL  100

WI MC100 0322-6656 1” - MALL CONDULET C 100

WI MC125 0322-6659 1-1/4” MALL CONDULET C 100

WI MC150 0322-6662 1-1/2” - MALL CONDULET C 100

WI MC200 0322-6665 2” - MALL CONDULET C 100

WI MC250 0322-6668 2-1/2” - MALL CONDULET C 100

WI MC300 0322-6671 3” - MALL CONDULET C 100

WI MC350 0322-6674 3-1/2” - MALL CONDULET C 100

WI MC400 0322-6677 4” - MALL CONDULET C 100

WI MC50 0322-6650 1/2” - MALL CONDULET C 100

WI MC75 0322-6653 3/4” -  MALL CONDULET C 100

WI MLB100 0295-6542 1” - MALL CONDULET LB 100

WI MLB125 0322-6686 1-1/4” - MALL CONDULET LB 100

WI MLB150 0322-6689 1-1/2” - MALL CONDULET LB 100

WI MLB200 0295-6545 2” - MALL CONDULET LB 100

WI MLB250 0322-6692 2-1/2” - MALL CONDULET LB 100

WI MLB300 0322-6695 3” -MALL CONDULET LB 100

WI MLB350 0322-6698 3-1/2” - MALL CONDULET LB 100

WI MLB400 0322-6701 4” - MALL CONDULET LB 100

WI LB-C50WI LB-C50



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

158 159

PART# STOCK CODE DESCRIPTION PER

CONDUIT SUPPORT

WI SPARC250 0322-6578 2-1/2” PARALLEL CONDUIT CLAMP FOR RIGID 100

WI SPARC300 0322-6581 3” PARALLEL CONDUIT CLAMP FOR RIGID 100

WI SPARC350 0322-6584 3-1/2” PARALLEL CONDUIT CLAMP FOR RIGID 100

WI SPARC400 0322-6587 4” PARALLEL CONDUIT CLAMP FOR RIGID 100

WI SPARC50 0322-6560 1/2” PARALLEL CONDUIT CLAMP FOR RIGID 100

WI SPARC75 0322-6563 3/4” PARALLEL CONDUIT CLAMP FOR RIGID 100

WI SRAC100 0320-6502 1” RIGHT ANGLE CONDUIT SUPPORT- MALL 100

WI SRAC125 0320-6505 1-1/4” RIGHT ANGLE CONDUIT SUPPORT-MALL 100

WI SRAC150 0320-6508 1-1/2” RIGHT ANGLE CONDUIT SUPPORT-MALL 100

WI SRAC200 0320-6511 2” RIGHT ANGLE CONDUIT SUPPORT-MALL 100

WI SRAC250 0320-6514 2-1/2” RIGHT ANGLE CONDUIT SUPPORT-MALL 100

WI SRAC300 0320-6517 3” RIGHT ANGLE CONDUIT SUPPORT-MALL 100

WI SRAC350 0320-6520 3-1/2” RIGHT ANGLE CONDUIT SUPPORT-MALL 100

WI SRAC400 0320-6523 4” RIGHT ANGLE CONDUIT SUPPORT-MALL 100

WI SRAC50 0320-6496 1/2” RIGHT ANGLE CONDUIT SUPPORT - MALL 100

WI SRAC75 0320-6487 RIGHT ANGLE CONDUIT SUPPORT- MALL 100

PART# STOCK CODE DESCRIPTION PER

CONDULET COVERS

WI 7C1 0542-6829 1/2”  STEEL CVR & GASKET - FORM 7 100

WI 7C2 0542-6832 3/4”  STEEL CVR & GASKET - FORM 7 100

WI 7C3 0542-6835 1”  STEEL CVR & GASKET - FORM 7 100

WI 7C5 0542-6841 1-1/2”  STEEL CVR & GASKET - FORM 7 100

WI 7C6 0542-6844 2”  STEEL CVR & GASKET - FORM 7 100

WI 7C7 0542-6847 2-1/2” TO 3”  STEEL CVR & GASKET - FORM 100

WI 7C8 0542-6850 3-1/2” TO 4”  STEEL CVR & GASKET - FORM 100

WI 7CM2 0542-6856 3/4”  CAST IRON CVR & GASKET - FORM 7 100

WI 7CM3 0542-6859 1”  CAST IRON CVR & GASKET - FORM 7 100

WI 7CM5 0542-6865 1-1/2”  CAST IRON CVR & GASKET - FORM 7 100

WI C1 0322-6788 1/2” RAISED DOME CONDULET CVR STAMPED 100

WI C1-AL 0322-6809 1/2” CONDULET CVR STAMPED ALUM 100

WI C2 0322-6791 3/4” RAISED DOME CONDULET CVR STAMPED 100

WI C2-AL 0322-6812 3/4” CONDULET CVR STAMPED ALUM 100

WI C3 0322-6794 1” RAISED DOME CONDULET CVR STAMPED 100

WI C3-AL 0322-6815 1” CONDULET CVR STAMPED ALUM 100

WI C4 0322-6797 1-1/4”-1-1/2” RAISED DOME CONDULET CVR 100

WI C4-AL 0322-6818 1-1/4”-1-1/2” CONDULET CVR STAMPED 100

WI C5 0322-6800 2” RAISED DOME CONDULET CVR STAMPED 100

WI C5-AL 0322-6821 2” CONDULET CVR STAMPED ALUM 100

WI C6 0322-6803 2-1/2” - 3” RAISED DOME CONDULET CVR 100

WI C6-AL 0322-6824 2-1/2”-3” CONDULET CVR STAMPED ALUM 100

WI C7 0322-6806 3-1/2”-4” RAISED DOME CONDULET CVR 100

PART# STOCK CODE DESCRIPTION PER

CONDUIT BODIES

WI T-C100 0358-0788 1” EMT/RIGID “T” CONDULET 100

WI T-C125 0358-0791 1-1/4” EMT/RIGID “T” CONDULET 100

WI T-C150 0358-0794 1” EMT/RIGID “T” CONDULET 100

WI T-C200 0358-0797 2” EMT/RIGID “T” CONDULET 100

WI T-C50 0358-0782 1/2” EMT/RIGID “T” CONDULET 100

WI T-C75 0358-0785 3/4” EMT/RIGID “T” CONDULET 100

WI T100 0001-7590 ALUM T CONDULET 1” W/COVER & GSKT 100

WI T125 0358-7730 ALUM T CONDULET 1-1/4” W/COVER & GSKT 100

WI T150 0358-7742 ALUM T CONDULET 1-1/2” W/COVER & GSKT 100

WI T200 0358-7745 ALUM T CONDULET 2” W/COVER & GSKT 100

WI T250 0358-7748 ALUM T CONDULET 2-1/2” W/COVER & GSKT 100

WI T300 0358-7778 ALUM T CONDULET 3” W/COVER & GSKT 100

WI T50 0001-7584 ALUM T CONDULET 1/2” W/COVER & GSKT 100

WI T75 0001-7587 ALUM T CONDULET 3/4” W/COVER & GSKT 100

WI XL SLB 100 0542-7075 1” SLB CONDULET W/COVER & GASKET - ALUMI 100

WI XL SLB 125 0542-7078 1-1/4” SLB CONDULET W/COVER & GASKET - A 100

WI XL SLB 150 0542-7081 1-1/2” SLB CONDULET W/COVER & GASKET - A 100

WI XL SLB 200 0542-7084 2” SLB CONDULET W/COVER & GASKET - ALUMI 100

WI XL SLB 50 0001-7593 ALUM SLB CONUDLET 1/2” W/GSKT & COVER 100

WI XL SLB 75 0001-7596 ALUM SLB CONDULET 3/4” W/GSKT & COVER 100

PART# STOCK CODE DESCRIPTION PER

CONDULET COVERS

CCP050EG 0305-7780 CONDUIT CONNECTION PLATE 1/2” EG 100

CCP075EG 0305-7783 CONDUIT CONNECTION PLATE 3/4” EG 100

PART# STOCK CODE DESCRIPTION PER

CONDUIT SUPPORT

WI SETC100 0322-6596 1” EDGE TYPE CONDUIT SUPPORT FOR RIGID 100

WI SETC125 0322-6599 1-1/4” EDGE TYPE CONDUIT SUPPORT FOR RIG 100

WI SETC150 0322-6602 1-1/2” EDGE TYPE CONDUIT SUPPORT FOR RIG 100

WI SETC200 0322-6605 2” EDGE TYPE CONDUIT SUPPORT FOR RIGID 100

WI SETC250 0322-6608 2-1/2” EDGE TYPE CONDUIT SUPPORT FOR RIG 100

WI SETC300 0322-6611 3” EDGE TYPE CONDUIT SUPPORT FOR RIGID 100

WI SETC50 0322-6590 1/2” EDGE TYPE CONDUIT SUPPORT FOR RIGID 100

WI SETC75 0322-6593 3/4” EDGE TYPE CONDUIT SUPPORT FOR RIGID 100

WI SPARC100 0322-6566 1” PARELLEL CONDUIT CLAMP FOR RIGID 100

WI SPARC125 0322-6569 1-1/4” PARALLEL CONDUIT CLAMP FOR RIGID 100

WI SPARC150 0322-6572 1-1/2” - PARALLEL CONDUIT CLAMP FOR RIGI 100

WI SPARC200 0322-6575 2” PARALLEL CONDUIT CLAMP FOR RIGID 100

WI LB-C50

WI SETC100

WI SETC100

WI C1-AL



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

160 161

PART# STOCK CODE DESCRIPTION PER

DATACOM & LOW VOLTAGE

BR2-1/4WS 0536-2038 THREADED BRIDLE RING - 1-1/4” DIA, 1/4” 100

BRT07-10MS 0536-2008 THREADED BRIDLE RING, ?” DIA, #10 SCREW, 100

BRT125-1/4MS 0536-2035 THREADED BRIDLE RING, 1 ?” DIA,1/4” SCRE 100

BRT125-10MS 0536-2011 THREADED BRIDLE RING, 1-1/4”DIA, #10 SCR 100

BRT2-1/4MS 0536-2041 THREADED BRIDLE RING, 2” DIA,  ?” SCREW, 100

BRT2-10MS 0536-2014 THREADED BRIDLE RING, 2” DIA, #10 SCREW, 100

BRT4-1/4MS 0536-2044 THREADED BRIDLE RING, 4” DIA, 1/4” SCREW 100

BSS 0536-2026 SCREW-ON BOX SUPPORT 100

CM-LVP 0449-1237 LOW VOLTAGE MOUNTING PLATE 1G 100

CM-LVPN 0449-1249 LOW VOLTAGE MOUNTING PLATE NEW CONST.1G 100

CM-LVPS 0449-1240 LOW VOLTAGE PLATE W/ SCREWS 100

CM-LVPS2 0449-1243 LOW VOLTAGE PLATE 2G W/ SCREWS 100

JH075 0536-2146 J-HOOK 3/4” DIA 100

JH075BC 0536-2158 J-HOOK 3/4” DIA WITH EBC BEAM CLAMP- 3/4 100

JH075FH025 0536-2149 J-HOOK 3/4” DIA W/HAMMER ON FLG CLIP 3/4 100

JH075MFC 0536-2152 J-HOOK 3/4” DIA WITH ROD/WIRE CLIP - 3/4 100

JH075MFC037 0536-2155 J-HOOK 3/4” DIA WITH CLIP, 3/4” DIA., 3/ 100

JH131 0536-2161 J-HOOK 1 5/16” DIA 100

JH131BC 0536-2173 J-HOOK 1 5/16” DIA WITH EBC BEAM CLAMP- 100

JH131FH025 0536-2164 J-HOOK 1 5/16” DIA W/HAMMER ON FLG CLIP 100

JH131MFC 0536-2167 J-HOOK  1 5/16” DIA WITH ROD/WIRE CLIP - 100

JH131MFC037 0536-2170 J-HOOK  1 5/16” DIA WITH CLIP, 3/4” DIA. 100

JH200 0536-2176 J-HOOK 2” DIA 100

JH200BC 0536-2185 J-HOOK 2” DIA WITH EBC BEAM CLAMP- 3/4” 100

JH200MFC 0536-2179 J-HOOK 2” WITH ROD/WIRE CLIP - 3/4” DIA, 100

JH200MFC037 0536-2182 J-HOOK  2” DIA WITH CLIP, 3/4” DIA., 3/8 100

JH300 0536-2188 J-HOOK 3” DIA 100

JH300BC 0536-2191 J-HOOK 3” DIA WITH EBC BEAM CLAMP- 3/4” 100

JH400 0536-2194 J-HOOK 4” DIA 100

JH400BC 0536-2197 J-HOOK 4” DIA WITH EBC BEAM CLAMP- 3/4” 100

MPC 0536-2017 MULTI PURPOSE CLIP FOR BRIDLE RINGS - 1/ 100

PART# STOCK CODE DESCRIPTION PER

ELECTRICAL

CSASP 0304-8486 CHAN SPLICE 4 HL W STUD PLATE & HDW EG 100

CSATP 0304-8483 CHAN SPLICE 4 HL W TAP PLATE & HDW EG 100

FLFHSM 0536-2227 FLUORESCENT LIGHT FIXTURE HANGER, SIDE M 100

FLFHTM 0536-2230 FLUORESCENT LIGHT FIXTURE HANGER, TOPMOU 100

ISJ80 0304-8492 STR INSIDE STRUT JNR W/2 CAM SCR 13/16EG 100

ISJ81 0304-8489 STR INSIDE STRUT JNR W/2 CAM SCR 1-5/8EG 100

PART# STOCK CODE DESCRIPTION PER

CONDULET COVERS

WI 7C100 0542-6784 1” C CONDULET -FORM 7 100

WI 7C125 0542-6787 1-1/4” C CONDULET -FORM 7 100

WI 7C150 0542-6790 1-1/2” C CONDULET -FORM 7 100

WI 7C200 0542-6793 2” C CONDULET -FORM 7 100

WI 7C250 0542-6796 2-1/2” C CONDULET -FORM 7 100

WI 7C300 0542-6799 3” C CONDULET -FORM 7 100

WI 7C4 0542-6838 1-1/4”  STEEL CVR & GASKET - FORM 7 100

WI 7C75 0542-6781 3/4” C CONDULET -FORM 7 100

WI 7CM1 0542-6853 1/2”  CAST IRON CVR & GASKET - FORM 7 100

WI 7CM4 0542-6862 1-1/4”  CAST IRON CVR & GASKET - FORM 7 100

WI 7CM6 0542-6868 2”  CAST IRON CVR & GASKET - FORM 7 100

WI 7CM7 0542-6871 2-1/2” TO 3”  CAST IRON CVR & GASKET - F 100

WI 7CM8 0542-6874 3-1/2” TO 4”  CAST IRON CVR & GASKET - F 100

WI 7LB350 0542-6718 3-1/2” LB CONDULET -FORM 7 100

WI 7LB400 0542-6721 4” LB CONDULET -FORM 7 100

WI 7LL125 0542-6733 1-1/4” LL CONDULET -FORM 7 100

WI 7LL250 0542-6742 2-1/2” LL CONDULET -FORM 7 100

WI 7LL300 0542-6745 3” LL CONDULET -FORM 7 100

WI 7LL400 0542-6748 4” LL CONDULET -FORM 7 100

WI 7LL50 0542-6724 1/2” LL CONDULET -FORM 7 100

WI 7LR125 0542-6760 1-1/4” LR CONDULET -FORM 7 100

WI 7LR300 0542-6772 3” LR CONDULET -FORM 7 100

WI 7LR400 0542-6775 4” LR CONDULET -FORM 7 100

WI 7LR50 0542-6751 1/2” LR CONDULET -FORM 7 100

WI 7T250 0542-6820 2-1/2” T CONDULET -FORM 7 100

WI 7T300 0542-6823 3” T CONDULET -FORM 7 100

WI CM1 0322-6830 1/2” -CONDULET CVR MALL 100

WI CM2 0322-6833 3/4” -CONDULET CVR MALL 100

WI CM3 0322-6836 1” - CONDULET CVR MALL 100

WI CM4 0322-6839 1-1/4”-1-1/2” CONDULET CVR-MALL 100

WI CM5 0322-6842 2” - CONDULET CVR MALL 100

WI CM6 0322-6845 2-1/2” - 3” - CONDULET CVR MALL 100

WI CM7 0322-6848 3-1/2” - 4” - CONDULET CVR MALL 100

WI NG1 0322-6851 1/2” - NEOPRENE RUBBER CONDULET GSKT 100

WI NG2 0322-6854 3/4” - NEOPRENE RUBBER CONDULET GSKT 100

WI NG3 0322-6857 1” - NEOPRENE RUBBER CONDULET GSKT 100

WI NG4 0322-6860 1-1/4”-1-1/2”-NEOPRENE RUBBER CONDULET 100

WI NG5 0322-6863 2” - NEOPRENE RUBBER CONDULET GSKT 100

WI NG6 0322-6866 2-1/2”-3” NEOPRENE RUBBER CONDULET GSKT 100

WI NG7 0322-6869 3-1/2”-4” NEOPRENE RUBBER CONDULET GSKT 100 CSASP

WI C1-AL



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

162 163

PART# STOCK CODE DESCRIPTION PER

EMT FITTINGS

WI MES-754B 0295-1238 1-1/2” EMT SS CONN - INSULATED 100

WI MES-755B 0295-1241 2” EMT SS CONN - INSULATED 100

WI MES-756B 0295-1244 2-1/2” EMT SS CONN - INSULATED 100

WI MES-757B 0295-1247 3” EMT SS CONN - INSULATED 100

WI MES-758B 0295-1250 3 -/2” EMT SS CONN - INSULATED 100

WI MES-759B 0295-1253 4” EMT SS CONN - INSULATED 100

WI ZEC-750 0321-1026 1/2” EMT COMP CONN ZINC DIE CAST 100

WI ZEC-751 0321-1029 3/4” EMT COMP CONN ZINC DIE CAST 100

WI ZEC-752 0321-1032 1” EMT COMP CONN ZINC DIE CAST 100

WI ZEC-753 0321-1035 1-1/4” EMT COMP CONN ZINC DIE CAST 100

WI ZEC-754 0321-1038 1-1/2” EMT COMP CONN ZINC DIE CAST 100

WI ZEC-755 0321-1041 2” EMT COMP CONN ZINC DIE CAST 100

WI ZEC-756 0321-1044 2-1/2” EMT COMP CONN ZINC DIE CAST 100

WI ZEC-757 0321-1047 3” EMT COMP CONN ZINC DIE CAST 100

WI ZEC-759 0321-1050 4” EMT COMP CONN ZINC DIE CAST 100

WI ZEC-760 0321-1053 1/2” EMT COMP CPLG ZINC DIE CAST 100

WI ZEC-761 0321-1056 3/4” EMT COMP CPLG ZINC DIE CAST 100

WI ZEC-762 0321-1059 1” EMT COMP CPLG ZINC DIE CAST 100

WI ZEC-763 0321-1062 1-1/4” EMT COMP CPLG ZINC DIE CAST 100

WI ZEC-764 0321-1065 1-1/2” EMT COMP CPLG ZINC DIE CAST 100

WI ZEC-765 0321-1068 2” EMT COMP CPLG ZINC DIE CAST 100

WI ZEC-766 0321-1071 2-1/2” EMT COMP CPLG ZINC DIE CAST 100

WI ZEC-767 0321-1074 3” EMT COMP CPLG ZINC DIE CAST 100

WI ZEC-769 0321-1077 4” EMT COMP CPLG ZINC DIE CAST 100

WI ZES-750 0321-1080 1/2” EMT SET SCREW CONN ZINC DIE CAST 100

WI ZES-750B 0576-7575 1/2” EMT SET SCREW CONN INSUL-ZDC 100

WI ZES-751 0321-1083 3/4” EMT SET SCREW CONN ZINC DIE CAST 100

WI ZES-751B 0576-7578 3/4” EMT SET SCREW CONN INSUL-ZDC 100

WI ZES-752 0321-1086 1” EMT SET SCREW CONN ZINC DIE CAST 100

WI ZES-752B 0576-7581 1” EMT SET SCREW CONN INSUL-ZDC 100

WI ZES-753 0321-1089 1-1/4” SET SCREW CONN ZINC DIE CAST 100

WI ZES-753B 0576-7584 1-1/4” EMT SET SCREW CONN INSUL-ZDC 100

WI ZES-754 0321-1092 1-1/2” SET SCREW CONN ZINC DIE CAST 100

WI ZES-754B 0576-7587 1-1/2” EMT SET SCREW CONN INSUL-ZDC 100

WI ZES-755 0321-1095 2” EMT SET SCREW CONN ZINC DIE CAST 100

WI ZES-755B 0576-7590 2” EMT SET SCREW CONN INSUL-ZDC 100

WI ZES-756 0321-1098 2-1/2” SET SCREW CONN ZINC DIE CAST 100

WI ZES-756B 0576-7593 2-1/2” EMT SET SCREW CONN INSUL-ZDC 100

WI ZES-757 0321-1101 3” EMT SET SCREW CONN ZINC DIE CAST 100

WI ZES-757B 0576-7596 3” EMT SET SCREW CONN INSUL-ZDC 100

WI ZES-758 0321-1104 3-1/2” EMT SET SCREW CONN ZINC DIE CAST 100

WI ZES-758B 0576-7599 3-1/2” EMT SET SCREW CONN INSUL-ZDC 100

WI ZES-759 0321-1107 4” EMT SET SCREW CONN ZINC DIE CAST 100

PART# STOCK CODE DESCRIPTION PER

EMT FITTINGS

WI 1600 0278-6484 WI NAIL STRAP HD 1/2” 100

WI 1605 0278-6487 WI NAIL STRAP HD 3/4” 100

WI 1615 0278-6490 WI NAIL STRAP HD 1” 100

WI EFLXC75 0552-2031 3/4” EMT TO FLEX COMP/SCREW IN-ZDC 100

WI EIB-050 0295-1316 1/2” EMT INSULATING BUSHING 100

WI EIB-075 0295-1319 3/4” EMT INSULATING BUSHING 100

WI EIB-100 0295-1322 1” EMT INSULATING BUSHING 100

WI EIB-125 0295-1325 1-1/4” EMT INSULATING BUSHING 100

WI EIB-150 0295-1328 1-1/2” EMT INSULATING BUSHING 100

WI EIB-200 0295-1331 2 EMT INSULATING BUSHING 100

WI EIB-250 0443-5449 2-1/2” EMT INSULATING BUSHING 100

WI EIB-300 0443-5455 3” EMT INSULATING BUSHING 100

WI EIB-350 0443-5458 3-1/2” EMT INSULATING BUSHING 100

WI EIB-400 0443-5467 4” EMT INSULATING BUSHING 100

WI L-145-1 0556-7622 1/2” EMT-BOX 90 DEG PULL EL-SS TYPE 100

WI L-145-2 0556-7625 3/4 EMT-BOX 90 DEG PULL EL-SS TYPE 100

WI L-146-1 0556-4538 1/2” EMT TO EMT 90 DEG PULL ELBOW SS TYP 100

WI L-146-2 0556-4541 3/4” EMT TO EMT 90 DEG PULL ELBOW SS TYP 100

WI L-146-3 0556-4544 1” EMT TO EMT 90 DEG PULL ELBOW SS TYPE 100

WI L-146-4 0556-4547 1 1/4” EMT- EMT 90 DEG PULL ELBOW SS TYP 100

WI MECR-750B 0285-2907 WI STL RT COMP CONN /INSUL THR 1-2” 100

WI MECR-751B 0285-2913 WI STL RT COMP CONN /INSUL THR 3/4” 100

WI MECR-752B 0285-2919 WI STL RT COMP CONN /INSUL THR 1” 100

WI MECR-753B 0285-2925 WI STL RT COMP CONN /INSUL THR 1-1/4” 100

WI MECR-754B 0285-2931 WI STL RT COMP CONN /INSUL THR 1-1/2” 100

WI MECR-755B 0285-2937 WI STL RT COMP CONN /INSUL THR 2” 100

WI MECR-756B 0285-2943 WI STL RT COMP CONN /INSUL THR 2-1/2” 100

WI MECR-757B 0285-2949 WI STL RT COMP CONN /INSUL THR 3” 100

WI MECR-759B 0285-2961 WI STL RT COMP CONN /INSUL THR 4” 100

WI MECR-760 0285-2964 WI STL RT COMP CPLG 1/2” 100

WI MECR-761 0285-2967 WI STL RT COMP CPLG 3/4” 100

WI MECR-762 0285-2970 WI STL RT COMP CPLG 1” 100

WI MECR-763 0285-2973 WI STL RT COMP CPLG 1-1/4” 100

WI MECR-764 0285-2976 WI STL RT COMP CPLG 1-1/2” 100

WI MECR-765 0285-2979 WI STL RT COMP CPLG 2” 100

WI MECR-766 0285-2982 WI STL RT COMP CPLG 2-1/2” 100

WI MECR-767 0285-2985 WI STL RT COMP CPLG 3” 100

WI MECR-768 0285-2988 WI STL RT COMP CPLG 3-1/2” 100

WI MECR-769 0285-2991 WI STL RT COMP CPLG 4” 100

WI MES-750B 0295-1226 1/2” EMT SS CONN - INSULATED 100

WI MES-751B 0295-1229 3/4” EMT SS CONN - INSULATED 100

WI MES-752B 0295-1232 1” EMT SS CONN - INSULATED 100

WI MES-753B 0295-1235 1-1/4” EMT SS CONN - INSULATED 100

WI 1600 WI EIB-100



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

164 165

PART# STOCK CODE DESCRIPTION PER

EMT FITTINGS

WI MEC-759B 0285-2871 WI STL COMP CONN INSUL THROAT 4” 100

WI MEC-760 0285-2874 WI STL COMP CPLG 1/2” 100

WI MEC-761 0285-2877 WI STL COMP CPLG 3/4” 100

WI MEC-762 0285-2880 WI STL COMP CPLG 1” 100

WI MEC-763 0285-2883 WI STL COMP CPLG 1-1/4” 100

WI MEC-764 0285-2886 WI STL COMP CPLG 1-1/2” 100

WI MEC-765 0285-2889 WI STL COMP CPLG 2” 100

WI MEC-766 0285-2892 WI STL COMP CPLG 2-1/2” 100

WI MEC-767 0285-2895 WI STL COMP CPLG 3” 100

WI MEC-768 0285-2898 WI STL COMP CPLG 3-1/2” 100

WI MEC-769 0285-2901 WI STL COMP CPLG 4” 100

WI MECR-750 0285-2904 WI STL RT COMP CONN 1/2” 100

WI MECR-751 0285-2910 WI STL RT COMP CONN 3/4” 100

WI MECR-752 0285-2916 WI STL RT COMP CONN 1” 100

WI MECR-753 0285-2922 WI STL RT COMP CONN 1-1/4” 100

WI MECR-754 0285-2928 WI STL RT COMP CONN 1-1/2” 100

WI MECR-755 0285-2934 WI STL RT COMP CONN 2” 100

WI MECR-756 0285-2940 WI STL RT COMP CONN 2-1/2” 100

WI MECR-757 0285-2946 WI STL RT COMP CONN 3” 100

WI MECR-758 0285-2952 WI STL RT COMP CONN 3-1/2” 100

WI MECR-759 0285-2958 WI STL RT COMP CONN 4” 100

WI MES-750 0285-2994 WI STL SET SCREW CONN 1/2” 100

WI MES-751 0285-2997 WI STL SET SCREW CONN 3/4” 100

WI MES-752 0285-3000 WI STL SET SCREW CONN 1” 100

WI MES-753 0285-3003 WI STL SET SCREW CONN 1-1/4” 100

WI MES-754 0285-3006 WI STL SET SCREW CONN 1-1/2” 100

WI MES-755 0285-3009 WI STL SET SCREW CONN 2” 100

WI MES-756 0285-3012 WI STL SET SCREW CONN 2-1/2” 100

WI MES-757 0285-3015 WI STL SET SCREW CONN 3” 100

WI MES-758 0285-3018 WI STL SET SCREW CONN 3-1/2” 100

WI MES-759 0285-3021 WI STL SET SCREW CONN 4” 100

WI MES-760 0285-3024 WI STL SET SCREW CPLG 1/2” 100

WI MES-761 0285-3027 WI STL SET SCREW CPLG 3/4” 100

WI MES-762 0285-3030 WI STL SET SCREW CPLG 1” 100

WI MES-763 0285-3033 WI STL SET SCREW CPLG 1-1/4” 100

WI MES-764 0285-3036 WI STL SET SCREW CPLG 1-1/2” 100

WI MES-765 0285-3039 WI STL SET SCREW CPLG 2” 100

WI MES-766 0285-3042 WI STL SET SCREW CPLG 2-1/2” 100

WI MES-767 0285-3045 WI STL SET SCREW CPLG 3” 100

WI MES-768 0285-3048 WI STL SET SCREW CPLG 3-1/2” 100

WI MES-769 0285-3051 WI STL SET SCREW CPLG 4” 100

PART# STOCK CODE DESCRIPTION PER

EMT FITTINGS

WI ZES-759B 0576-7602 4” EMT SET SCREW CONN INSUL-ZDC 100

WI ZES-760 0321-1110 1/2” EMT SET SCREW CPLG ZINC DIE CAST 100

WI ZES-761 0321-1113 3/4” EMT SET SCREW CPLG ZINC DIE CAST 100

WI ZES-762 0321-1116 1” EMT SET SCREW CPLG ZINC DIE CAST 100

WI ZES-763 0321-1119 1-1/4” SET SCREW CPLG ZINC DIE CAST 100

WI ZES-764 0321-1122 1-1/2” SET SCREW CPLG ZINC DIE CAST 100

WI ZES-765 0321-1125 2” EMT SET SCREW CPLG ZINC DIE CAST 100

WI ZES-766 0321-1128 2-1/2” SET SCREW CPLG ZINC DIE CAST 100

WI ZES-767 0321-1131 3” EMT SET SCREW CPLG ZINC DIE CAST 100

WI ZES-768 0321-1134 3-1/2” EMT SET SCREW CPLG ZINC DIE CAST 100

WI ZES-769 0321-1137 4” EMT SET SCREW CPLG ZINC DIE CAST 100

WI 1615M 0545-1597 WI NAIL STRAP MALLEABLE 1” 100

WI 1124 0278-0631 WI 1/2 EMT 2 HOLE STRAP 100

WI 1125 0278-0634 WI 3/4 EMT 2 HOLE STRAP 100

WI 1126 0278-0637 WI 1” EMT 2 HOLE STRAP 100

WI 1127 0278-0640 WI 1 1/4” EMT 2 HOLE STRAP 100

WI 1128 0278-0643 WI 1 1/2” EMT 2 HOLE STRAP 100

WI 1129 0278-0646 WI 2” EMT 2 HOLE STRAP 100

WI 1701 0278-0679 WI 1/2” EMT 1 HOLE STRAP 100

WI 1702 0278-0682 WI 3/4” EMT 1 HOLE STRAP 100

WI 1703 0278-0685 WI 1” EMT 1 HOLE STRAP 100

WI 1704 0278-0688 WI 1 1/4” EMT 1 HOLE STRAP 100

WI 1705 0278-0691 WI 1 1/2” EMT 1 HOLE STRAP 100

WI 1706 0278-0694 WI 2” EMT 1 HOLE STRAP 100

WI MEC-750 0285-2814 WI STL COMP CONN 1/2” 100

WI MEC-750B 0285-2817 WI STL COMP CONN W INSUL THROAT 1/2” 100

WI MEC-751 0285-2820 WI STL COMP CONN 3/4” 100

WI MEC-751B 0285-2823 WI STL COMP CONN / INSUL THROAT 3/4” 100

WI MEC-752 0285-2826 WI STL COMP CONN 1” 100

WI MEC-752B 0285-2829 WI STL COMP CONN /INSUL THROAT 1” 100

WI MEC-753 0285-2832 WI STL COMP CONN 1-1/4” 100

WI MEC-753B 0285-2835 WI STL COMP CONN INSUL THROAT 1-1/4” 100

WI MEC-754 0285-2838 WI STL COMP CONN 1-1/2” 100

WI MEC-754B 0285-2841 WI STL COMP CONN /INSUL THROAT 1-1/2” 100

WI MEC-755 0285-2844 WI STL COMP CONN 2” 100

WI MEC-755B 0285-2847 WI STL COMP CONN INSUL THROAT 2” 100

WI MEC-756 0285-2850 WI STL COMP CONN 2-1/2” 100

WI MEC-756B 0285-2853 WI STL COMP CONN /INSUL THROAT 2-1/2” 100

WI MEC-757 0285-2856 WI STL COMP CONN 3” 100

WI MEC-757B 0285-2859 WI STL COMP CONN INSUL THROAT 3” 100

WI MEC-758 0285-2862 WI STL COMP CONN 3-1/2” 100

WI MEC-758B 0285-2865 WI STL COMP CONN INSUL THROAT 3-1/2” 100

WI MEC-759 0285-2868 WI STL COMP CONN 4” 100

WI ZES-765 WI 1124



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

166 167

PART# STOCK CODE DESCRIPTION PER

ENT FITTINGS & BOXES

KTA1 0313-2327 089008 1” ENT TERMINAL ADAPTER 100

KTA125 0288-9588 1-1/4” ENT MALE ADAPTER THREADED CONN 100

KTA15 0244-9629 189681 ENT CONNECTOR 1 1/2” 100

KTA2 0288-9591 2” ENT MALE ADAPTER THREADED CONN W/LOC 100

KTA20 0256-9500 2” KWIKON CONN FOR CONCRETE 100

KTC05 0320-9484 (089012)1/2” ENT TRANS COUPLING 100

KTC07 0320-9664 089013 3/4” ENT TRANS COUPLING 100

KTC1 0320-9613 089014 1” ENT TRANS COUPLING 100

KTC125 0321-0321 1-1/4 ENT TRANS COUPLING 100

KTS05 0320-9259 (089146)1/2” ENT SNAP MALE 100

KTS07 0320-9244 089147 3/4” ENT SNAP MALE 100

KTS1 0320-9400 089148 1” ENT SNAP MALE 100

LB05 0009-6568 078140 1/2” TYPE LB 100

LB07 0009-6571 078141 3/4” TYPE LB 100

MB-10/20 0290-4012 089475 ENT SHLW SLAB BOX W/ KO 100

MBH-10 0290-4018 ENT SHLW SLAB BOX W/CONS (8) 1/2” KO 100

MBH-10/15 0290-4027 ENT SHLW SLB BX W/CONS (4) 1/2 (4)3/4 KO 100

MBH-10/20 0290-4024 ENT SHLW SLB BX W/CONS (4) 1/2 (2)3/4 100

MSTB-10 0290-4036 089026 1/2” ENT MULTI-LINK FORM STUBBY 100

MSTB-15 0290-4039 3/4” ENT MULTI-LINK FORM STUBBY 100

MSTB-20 0290-4042 1” ENT MULTI-LINK FORM STUBBY 100

SMB-10 0345-8100 ENT SLAB BX KO W/O CONN 8 1/2 KO 100

SMB-H-10 0290-3964 089465 ENT SLAB BOX W/CONS (8) 1/2” KO 100

SMB-H-10/15 0290-3967 ENT SLAB BOX W/CONS (4) 1/2” (4) 3/4” KO 100

SMB-H-15 0290-3970 089462 ENT SLAB BOX W/CONS (8) 3/4” KO 100

SMB-H-15/20 0290-3973 ENT SLAB BOX W/CONS (4) 3/4” (4)1” KO 100

SMBS-H-15/20 0290-3994 ENT SHLW SLAB BOX W/CONS KO 100

SE-J-20 0288-9501 77889 2” PVC EXPANSION & DEFLECTION FTNG 100

SMB-H-10/20 0290-3976 ENT SLAB BOX W/CONS KO 100

SMBR 0290-4033 ENT SLAB BX EXT-ADJ HGT OF SMB/SMBH BY 1 100

SMBS-10 0290-3979 ENT SHLW SLAB BX W/KO W/O CONS (8) 1/2” 100

SMBS-10/20 0290-3982 ENT SHLW SLAB BX W/KO W/O CONS 100

SMBS-H-10 0290-3985 089480ENT SHLW SLAB BOX W/CONS(8) 1/2”KO 100

SMBS-H-10/15 0290-3988 ENT SHLW SLAB BOX W/CONS KO 100

SMBS-H-10/20 0290-3997 ENT SHLW SLAB BOX W/CONS KO 100

SMBS-H-15 0290-3991 ENT SHLW SLAB BOX W/CONS (8) 3/4” KO 100

SMR25S80 0443-5476 SLIP METER RISE 2 1/2” SCH80 100

SMR2S80 0443-5473 SLIP METER RISE 2” SCH 80 100

SMR3S80 0443-5479 SLIP METER RISER 3” SCH 80 100

SR07 0288-9489 3/4” STRAIN RELIEF CONN 100

SSBH-10 0290-4000 ENT SHLW SLAB BX W/CONS (8) 1/2” KO 100

SSBH-10/15 0290-4003 ENT SHLW SLAB BX W/CONS (4) KO 100

SSBH-15 0290-4006 089468 ENT SHLW SLAB BX W/CONS (8) 3/4KO 100

PART# STOCK CODE DESCRIPTION PER

ENT

ENT0510 0234-7542 1/2” 10 FT STICKS (012001) 100

ENT051500 0234-7545 1/2” ENT 1500FT LENGTH REELS(012002) 100

ENT05200 0234-7548 1/2” ENT 200 FT COILS(012031) 100

ENT0710 0234-7551 3/4” 10 FT STICKS(012010) 100

ENT07100 0234-7554 3/4” 100 FT  COILS(012040) 100

ENT071000 0234-7557 3/4 1000FT LONG REELS(012011) 100

ENT110 0272-3994 1” ENT 10FT STICKS (012034) 100

ENT1100 0320-9136 1” ENT 100FT LENGHTS (012041) 100

ENT1251000 0288-9585 1-1/4” ENT COIL BLUE STRIPE 1000FT REEL 100

ENT125500 0288-9582 1-1/4” ENT COIL BLUE STRIPE 500FT COIL 100

ENT15300 0321-0291 1-1/2” ENT 300FT LENGTHS 100

ENT15750 0320-9274 1-1/2” ENT 750FT LENGTHS (REEL) 100

ENT1750 0321-0294 1” ENT 750FT LENGTHS (012021) (REEL) 100

ENT2225 0320-9367 2” ENT 225FT LENGHTS 100

ENT2500 0320-9253 2” ENT 500FT LENGTHS (REEL) 100

SMB-10/20 0587-5395 ENT SLB BX W/KO WO CN(4)1/2”(2)3/4”(2)1” 100

PART# STOCK CODE DESCRIPTION PER

ENT FITTINGS & BOXES

KASTB05 0288-9603 089233 1/2” 45° ANGLED ENT FORM STUBBY 100

KASTB07 0288-9606 089234 3/4” 45° ANGLED ENT FORM STUBBY 100

KASTB1 0288-9609 1” 45° ANGLED ENT FORM STUBBY 100

KASTB125 0288-9612 089236 1-1/4” 45° ANGLED ENT FORM STUBBY 100

KASTB15 0288-9615 089238 1-1/2” 45° ANGLED ENT FORM STUBBY 100

KC05 0320-9313 089000 1/2” ENT COUPLING 100

KC07 0320-9436 089001 3/4” ENT COUPLING 100

KC1 0313-2324 089002 1” ENT COUPLING 100

KC125 0288-9594 0189670 1-1/4” ENT CPLG 100

KC15 0244-9626 ENT COUPLING 1 1/2” 100

KC2 0288-9597 0189672 2” ENT CPLG 100

KRC-10 0270-0579 4” 1G ENT DEVICE RING 1/2” RAISE 100

KRCD 2-15 0321-0312 89504 2 GANG 5/8” ENT PLASTER RING 100

KRCD-2-10 0270-0582 89503  4” 2G ENT DEVICE RING 1/2” RAISED 100

KSTB05 0320-9412 089330 1/2” ENT FORM STUBBY 100

KSTB07 0320-9517 089331 3/4” ENT FORM STUBBY 100

KSTB1 0321-0318 089332 1” ENT FORM STUBBY 100

KSTB125 0288-9600 089333 1-1/4” ENT FORM STUBBY 100

KT90-10 0290-4045 1/2” ENT STUB DWN FITTING (ENT X THRD) 100

KT90-15 0290-4048 3/4” ENT STUB DWN FITTING (ENT X THRD) 100

KT90-20 0290-4051 1” ENT STUB DWN FITTING (ENT X THRD) 100

KTA05 0320-9286 089006 1/2” ENT TERMINAL ADAPTER 100

KTA07 0320-9295 089007 3/4” ENT TERMINAL ADAPTER 100

ENT0510

KC1

KC05



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

168 169

PART# STOCK CODE DESCRIPTION PER

FLAT FITTINGS

F34 0305-8002 FLAT FITTING SPLICE PLATE PAR 2 HOLE EG 100

F35 0315-2109 4 HOLE PARALLEL SPL PLT FLAT FTG 100

F40 0305-8005 FLAT FITTING SWIVEL PLATE 2 HOLE EG 100

F41 0304-8519 FLAT FITTING SWIVEL PLATE 3 HOLE EG 100

F50 0304-8522 FLAT FITTING CORNER PLATE 3 HOLE EG 100

F50GN 0304-8963 FLAT FITTING CORNER PLATE 3 HOLE GN 100

F50S4 0305-8008 FLAT FITTING CORNER PLATE 3 HOLE SS304 100

F50S6 0305-8011 FLAT FITTING CORNER PLATE 3 HOLE 316SS 100

F50YC 0305-8014 FLAT FITTING CORNER PLATE 3 HOLE YC 100

F51GN 0316-2831 4 HOLE CORNER PLATE GREEN 100

F51S4 0448-8153 DS-4 HOLE CORNER PLATE 304 STAINLESS 100

F51S6 0324-0699 4 HOLE CORNER PLATE 316 STAINLESS 100

F52 0304-8528 FLAT FITTING CORNER GUS PLATE 3 HOLE EG 100

F53 0304-8531 FLAT FITTING CORNER GUS PLATE 4 HOLE EG 100

F54 0304-8534 FLAT FITTING CORNER GUS PLATE 5 HOLE EG 100

F60GN 0304-8966 DS-FLAT FITTING TEE PLATE 4 HOLE GN 100

F60S4 0305-8017 FLAT FITTING TEE PLATE 4 HOLE SS304 100

F60S6 0305-8020 FLAT FITTING TEE PLATE 4 HOLE 316SS 100

F60YC 0305-8023 FLAT FITTING TEE PLATE 4 HOLE YC 100

F61 0304-8537 FLAT FITTING TEE GUSSET PLATE 3 HOLE EG 100

F62 0304-8540 FLAT FITTING TEE GUSSET PLATE 4 HOLE EG 100

F63 0304-8543 FLAT FITTING TEE GUSSET PLATE 5 HOLE EG 100

F70GN 0304-8969 FLAT FITTING CROSS PLATE 5 HOLE GN 100

F70S4 0305-8026 FLAT FITTING CROSS PLATE 5 HOLE SS304 100

F70S6 0305-8029 FLAT FITTING CROSS PLATE 5 HOLE 316SS 100

F71 0305-8032 FLAT FITTING CROSS GUS PLATE 7 HOLE EG 100

NSW25EG 0304-8501 SQUARE WASHER NOTCHED 1/4” EG 100

NSW25YC 0305-8152 SQUARE WASHER NOTCHED 1/4” YC 100

NSW37EG 0304-8504 SQUARE WASHER NOTCHED 3/8” EG 100

NSW37HD 0305-8155 SQUARE WASHER NOTCHED 3/8” HDG 100

NSW37YC 0305-8158 SQUARE WASHER NOTCHED 3/8” YC 100

NSW50EG 0304-8507 SQUARE WASHER NOTCHED 1/2” EG 100

NSW50HD 0305-8161 SQUARE WASHER NOTCHED 1/2” HDG 100

NSW50YC 0305-8164 SQUARE WASHER NOTCHED 1/2” YC 100

NSW62EG 0304-8510 SQUARE WASHER NOTCHED 5/8” EG 100

NSW75EG 0305-8167 SQUARE WASHER NOTCHED 3/4” EG 100

SW25GN 0305-8722 SQUARE WASHER 1/4” GN 100

SW25S4 0304-9023 SQUARE WASHER 1/4” SS304 100

SW25S6 0305-5812 SQUARE WASHER 1/4” 316SS 100

SW25YC 0305-8725 SQUARE WASHER 1/4” YC 100

SW31EG 0305-8728 SQUARE WASHER 5/16” EG 100

SW37GN 0305-8731 SQUARE WASHER 3/8” GN 100

SW37HD 0305-8734 SQUARE WASHER 3/8” HDG 100

PART# STOCK CODE DESCRIPTION PER

ENT FITTINGS & BOXES

SSBH-15/20 0290-4009 089475 ENT SHLW SLAB BX W/CONS KO 100

PART# STOCK CODE DESCRIPTION PER

EPR CONDUIT REPAIR KITS

EPR125 0288-9540 0779761-1/4” EPR KITS FOR CONDUIT REPAIR 100

EPR15 0288-9543 77971 1-1/2” EPR KITS FOR CONDUIT REPAIR 100

EPR2 0321-0018 (077980)2” PVC REPAIR KIT 077972 100

EPR25 0288-9549 77973 2-1/2” EPR KITS FOR CONDUIT REPAIR 100

EPR3 0321-0057 077974 3” PVC REPAIR KIT 100

EPR4 0321-0060 077975 4” PVC REPAIR KIT 100

EPR5 0321-0300 077977 5” PVC REPAIR KIT 100

EPR6 0495-1854 6” PVC REPAIR KIT 100

PART# STOCK CODE DESCRIPTION PER

FIRE ALARM COVERS

CM-FA-4BC 0276-9027 4”SQ RED FIRE ALARM BLANK CVR 100

CM-FA-4RBC 0288-0474 4” SQ RED FIRE ALARM OCT CVR 100

CM-FA-4RDB-MKO 0288-0477 4” SQ RED FIRE ALARM 2-1/8” DP OCT BX 100

CM-FA-4SB-MKO 0276-9030 4”SQ 1-1/2” DEEP RED FIRE ALARM BX 100

CM-FA-4SB-MKO-EXT 0288-0480 4” SQ RED FIRE ALARM 1-1/2” DP EXT BX MK 100

CM-FA-4SDB-MKO 0276-9033 4”SQ 2-1/2” DEEP RED FIRE ALARM BX 100

CM-FA-4SDB-MKO-FB 0288-0483 4” SQ RED FIRE ALARM 2-1/8” DP BX MKO FB 100

CM-FA-4SEDB-CKO 0288-0486 4” SQ RED FIRE ALARM 3-1/2” DEEP BOX 100

CM-FA-4SEDB-CKO-FB 0276-9036 FIRE ALARM 4SQ BX 3-1/2” DEEP W/FB 100

CM-FA-5BC 0288-0489 4-11/16” SQ RED FIRE ALARM BLANK CVR 100

CM-FA-5SDB-MKO 0288-0492 4-11/16” SQ RED FIRE ALARM 2-1/8” DP BX 100

CM-FA-5SXB-50/75 0314-0838 5-1/2” RED-FIRE ALARM SQ BX 3-1/2” DP 100

PART# STOCK CODE DESCRIPTION PER

FLAT FITTINGS

F30 0304-8513 FLAT FITTING SPLICE PLATE 2 HOLE EG 100

F30YC 0305-7987 FLAT FITTING SPLICE PLATE 2 HOLE YC 100

F31 0304-8516 FLAT FITTING SPLICE PLATE 3 HOLE EG 100

F31YC 0305-7990 FLAT FITTING SPLICE PLATE 3 HOLE YC 100

F32 0580-5135 4 HOLE FLAT SPLICE PLATE 100

F32GN 0304-8960 FLAT FITTING SPLICE PLATE 4 HOLE GN 100

F32HD 0304-8903 FLAT FITTING SPLICE PLATE 4 HOLE HDG 100

F32S4 0305-7993 FLAT FITTING SPLICE PLATE 4 HOLE SS304 100

F32YC 0305-7996 FLAT FITTING SPLICE PLATE 4 HOLE YC 100

F33 0305-7999 FLAT FITTING SPLICE PLATE 5 HOLE EG 100

EPR125

CM-FA-4BC

F30

SW25S4



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

170 171

PART# STOCK CODE DESCRIPTION PER

FLEX AC/MC FITTINGS

WI DB250-IC 0322-6455 2-1/2” DBL BITE SADDLE CONN W/INSD THROA 100

WI DB300-IC 0322-6458 3” DBL BITE SADDLE CONN W/INSD THROAT 100

WI DB350-IC 0322-6461 3-1/2” DBL BITE SADDLE CONN W/INSD THROA 100

WI DB38-IC 0322-6434 3/8” DBL BITE SADDLE CONN W/INSD THROAT 100

WI DB3845-IC 0322-6467 3/8” 45DEG DBL BITE SADDLE CONN W/INSD 100

WI DB3890-IC 0322-6476 3/8” 90 DEG DBL BITE CONN W/INSD THROAT 100

WI DB400-IC 0322-6464 4” DBL BITE SADDLE CONN W/INSD THROAT 100

WI DB50-IC 0322-6437 1/2” DBL BITE SADDLE CONN W/INSD THROAT 100

WI DB5045-IC 0322-6470 1/2” 45DEG DBL BITE SADDLE CONN W/INSD 100

WI DB5090-IC 0322-6479 1/2” 90 DEG DBL BITE CONN W/INSD THROAT 100

WI DB75-IC 0322-6440 3/4” DBL BITE SADDLE CONN W/INSD THROAT 100

WI DB7545-IC 0322-6473 3/4” 45DEG DBL BITE SADDLE CONN W/INSD 100

WI DB7590-IC 0322-6482 3/4” 90 DEG DBL BITE CONN W/INSD THROAT 100

WI E90AC-C-50 0552-2046 1/2” EMT 90 DEG ANGLE CONN-COMP 100

WI E90AC-C-75 0552-2052 3/4” EMT 90 DEG ANGLE CONN COMP 100

WI EEIC-SS-50 0552-2037 1/2” EMT TO EMT INSIDE CORNER ANGLE SS 100

WI EEIC-SS-75 0552-2040 3/4” EMT TO EMT INSIDE CORNER ANGLE SS 100

WI EFL38-C-SA 0556-7796 3/8” EMT TO FLEX-COMP TO TOP BITE CPLNG 100

WI L-158 0424-0506 3/8”  1 SCREW DUPLEX CONNECTOR 100

WI L-44 0295-1208 3/8” SCREW-IN FLEX CONN 100

WI L-44-1 0295-1211 1/2” SCREW-IN FLEX CONN 100

WI L-44-1-I 0556-6005 1/2” SCREW IN FLEX TO BOX INSUL COUPLING 100

WI L-44-2 0295-1214 3/4” SCREW-IN FLEX CONN 100

WI L-44-2-I 0556-6008 3/4” SCREW IN FLEX TO BOX INSUL COUPLING 100

WI L-44-3 0295-1217 1” SCREW-IN FLEX CONN 100

WI L-44-3-I 0556-6011 1” SCREW IN FLEX TO BOX INSUL COUPLING 100

WI L-44-4 0295-1256 1-1/4” SCREW-IN FLEX CONN 100

WI L-44-4-I 0556-6014 1 1/4” SCREW IN FLEX TO BOX INSUL COUP 100

WI L-44-5 0295-1220 1-1/2” SCREW-IN FLEX CONN 100

WI L-44-5-I 0556-6017 1 1/2” SCREW IN FLEX TO BOX INSUL COUP 100

WI L-44-6 0295-1223 2” SCREW-IN FLEX CONN 100

WI L-44-6-I 0556-6020 2” SCREW IN FLEX TO BOX INSUL COUPLING 100

WI L-45-1 0551-8803 1/2” SCREW IN FLEX COUPLING 100

WI L-45-2 0551-8806 3/4” SCREW IN FLEX COUPLING 100

WI L-45-3 0551-8809 1” SCREW IN FLEX COUPLING 100

WI L-45-4 0551-8812 1 1/4” SCREW IN FLEX COUPLING 100

WI L-45-5 0551-8815 1 1/2” SCREW IN FLEX COUPLING 100

WI L-45-6 0551-8818 2” SCREW IN FLEX COUPLING 100

WI L-48-1 0558-7410 1/2” SET SCREW BX CONNECTOR ZDC 100

WI L-57 0552-0120 3/8” 2 SCREW CLAMP BOX CONNECTOR ZDC 100

WI L110-1-I 0556-8021 1/2” 90 DEG SQUEEZE CONN - INSULATED 100

WI L110-2-I 0556-8024 3/4” 90 DEG SQUEEZE CONN - INSULATED 100

WI L51C 0315-2160 EMT/ ROMEX COMBINATION COUPLING - ZDC 100

PART# STOCK CODE DESCRIPTION PER

FLAT FITTINGS

F34 0305-8002 FLAT FITTING SPLICE PLATE PAR 2 HOLE EG 100

SW37S6 0304-9113 SQUARE WASHER 3/8” 316SS 100

SW37YC 0305-8737 SQUARE WASHER 3/8” YC 100

SW50GN 0305-8740 SQUARE WASHER 1/2” GN 100

SW50HD 0305-8743 SQUARE WASHER 1/2” HDG 100

SW50S4 0304-9029 SQUARE WASHER 1/2” SS304 100

SW50S6 0305-8746 SQUARE WASHER 1/2” 316SS 100

SW50YC 0305-8749 SQUARE WASHER 1/2” YC 100

SW62EG 0304-8495 SQUARE WASHER 5/8” EG 100

SW62GN 0305-8752 SQUARE WASHER 5/8” GN 100

SW62HD 0305-8755 SQUARE WASHER 5/8” HDG 100

SW62S4 0304-9032 SQUARE WASHER 5/8” SS304 100

SW62S6 0305-8758 SQUARE WASHER 5/8” 316SS 100

SW62YC 0305-8761 SQUARE WASHER 5/8” YC 100

SW75EG 0304-8498 SQUARE WASHER 3/4” EG 100

SW75HD 0305-8764 SQUARE WASHER 3/4” HDG 100

SW75S4 0304-9035 SQUARE WASHER 3/4” SS304 100

SW75S6 0305-8767 SQUARE WASHER 3/4” 316SS 100

SW75YC 0305-8770 SQUARE WASHER 3/4” YC 100

SW87EG 0305-8773 SQUARE WASHER 7/8” EG 100

WI 4HFLATPLATE 0294-2217 WI 4 HOLE FLAT PLATE 100

WI 4HTPLATE 0287-6280 WI 4HOLE TEE PLATE 100

WI 5HCROSSPL 0287-6283 WI 5 HOLE CROSS PLATE 100

WI SFP4H 0266-3777 STRUT FLAT PLATE 4 HOLE CORNER 100

WI SQUARE WASHER1/2 0267-2181 SQUARE WASHER 1/2” 100

WI SQUARE WASHER1/4 0267-2178 SQUARE WASHER 1/4” 100

WI SQUARE WASHER3/8 0267-2184 SQUARE WASHER 3/8” 100

PART# STOCK CODE DESCRIPTION PER

FLEX AC/MC FITTINGS

ASB038 0531-9117 ANTI SHORT BUSHING -3/8” 100

ASB050 0531-9126 ANTI SHORT BUSHING -1/2” 100

ASB075 0531-9129 ANTI SHORT BUSHING -3/4” 100

ASB516 0531-9111 ANTI SHORT BUSHING -5/16” 100

ASB716 0531-9120 ANTI SHORT BUSHING -7/16” 100

WI BX038 0315-1839 BX CONNECTOR 3/8” 100

WI BX100 0315-1842 1 HOLE BX STRAP 14/2 TO 10/3 100

WI DB100-IC 0322-6443 1” DBL BITE SADDLE CONN W/INSD THROAT 100

WI DB10090-IC 0322-6485 1” 90 DEG DBL BITE CONN W/INSD THROAT 100

WI DB125-IC 0322-6446 1-1/4” DBL BITE SADDLE CONN W/INSD THROA 100

WI DB150-IC 0322-6449 1-1/2” DBL BITE SADDLE CONN W/INSD THROA 100

WI DB200-IC 0322-6452 2” DBL BITE SADDLE CONN W/INSD THROAT 100

ASB038

WI BX100

SW25S4



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

172 173

PART# STOCK CODE DESCRIPTION PER

FLEX AC/MC FITTINGS

WI ML42-9 0285-3102 WI SQUEEZE CONN 3-1/2” 100

PART# STOCK CODE DESCRIPTION PER

FLEX AC/MC FITTINGS - D

WI L-67 0293-7573 SINGLE SCREW SADDLE CONNECTOR 3/8” 100

WI L-68 0293-7576 SINGLE SCREW SADDLE CONNECTOR 1/2” 100

WI L110 0285-2781 WI 90 DEG SQUEEZE CONN 3/8” 100

WI L110-1 0285-2784 WI 90 DEG SQUEEZE CONN 1/2” 100

WI L110-10 0285-2787 WI 90 DEG SQUEEZE CONN 4” 100

WI L110-2 0285-2790 WI 90 DEG SQUEEZE CONN 3/4” 100

WI L110-3 0285-2793 WI 90 DEG SQUEEZE CONN 1” 100

WI L110-3-I 0556-8027 1” 90 DEG SQUEEZE CONN - INSULATED 100

WI L110-4 0285-2796 WI 90 DEG SQUEEZE CONN 1-1/4” 100

WI L110-4-I 0556-8030 1-1/4” 90 DEG SQUEEZE CONN - INSULATED 100

WI L110-5 0285-2799 WI 90 DEG SQUEEZE CONN 1-1/2” 100

WI L110-5-I 0556-8033 1-1/2” 90 DEG SQUEEZE CONN-INSULATED 100

WI L110-6 0285-2802 WI 90 DEG SQUEEZE CONN 2” 100

WI L110-6-I 0556-8036 2” 90 DEG SQUEEZE CONN - INSULATED 100

WI L110-7 0285-2805 WI 90 DEG SQUEEZE CONN 2-1/2” 100

WI L110-8 0285-2808 WI 90 DEG SQUEEZE CONN 3” 100

WI L110-9 0285-2811 WI 90 DEG SQUEEZE CONN 3-1/2” 100

WI L110-I 0556-8018 3/8” 90 DEG SQUEEZE CONN - INSULATED 100

WI L111 0557-8596 3/8” 45 DEGREE SQUEEZE CONNECTOR-ZDC 100

WI L112-1 0556-7904 3/8” 90 DEG DUPLEX CONN-SQUEEZE TYPE ZDC 100

WI L42 0294-2469 WI ZDC SQUEEZE CONNECTOR 3/8” 100

WI L42-1 0294-2472 WI ZDC SQUEEZE CONNECTOR 1/2” 100

WI L42-1-I 0556-8048 1/2” STRAIGHT SQUEEZE CONN-INSUL-ZDC 100

WI L42-10 0294-2475 WI ZDC SQUEEZE CONNECTOR 4” 100

WI L42-2 0294-2478 WI ZDC SQUEEZE CONNECTOR 3/4” 100

WI L42-2-I 0556-8051 3/4” STRAIGHT SQUEEZE CONN-INSUL-ZDC 100

WI L42-3 0294-2481 WI ZDC SQUEEZE CONNECTOR 1” 100

WI L42-3-I 0556-8054 1” STRAIGHT SQUEEZE CONN-INSUL-ZDC 100

WI L42-4 0294-2484 WI ZDC SQUEEZE CONNECTOR 1-1/4” 100

WI L42-4-I 0556-8057 1-1/4” STRAIGHT SQUEEZE CONN-INSUL-ZDC 100

WI L42-5 0294-2487 WI ZDC SQUEEZE CONNECTOR 1-1/2” 100

WI L42-5-I 0556-8060 1-1/2” STRAIGHT SQUEEZE CONN-INSUL-ZDC 100

WI L42-6 0294-2490 WI ZDC SQUEEZE CONNECTOR 2” 100

WI L42-6-I 0556-8063 2” STRAIGHT SQUEEZE CONN-INSUL-ZDC 100

WI L42-7 0294-2493 WI ZDC SQUEEZE CONNECTOR 2-1/2” 100

WI L42-8 0294-2496 WI ZDC SQUEEZE CONNECTOR 3” 100

WI L42-9 0294-2532 WI ZDC SQUEEZE CONNECTOR 3-1/2” 100

WI L42-I 0563-1219 3/8” STRAIGHT SQUEEZE CONN-INSUL-ZDC 100

PART# STOCK CODE DESCRIPTION PER

FLEX AC/MC FITTINGS

WI ML-110-1-I 0558-8226 1/2” MALLEABLE 90 DEG SQZ CONN-INSUL    100

WI ML-110-10-I 0558-8262 4” MALLEABLE 90 DEG SQZ CONN-INSUL 100

WI ML-110-2-I 0558-8229 3/4” MALLEABLE 90 DEG SQZ CONN-INSUL 100

WI ML-110-3-I 0558-8232 1” MALLEABLE 90 DEG SQZ CONN-INSUL 100

WI ML-110-4-I 0558-8238 1-1/4” MALLEABLE 90 DEG SQZ CONN-INSUL 100

WI ML-110-5-I 0558-8241 1-1/2” MALLEABLE 90 DEG SQZ CONN-INSUL 100

WI ML-110-6-I 0558-8244 2” MALLEABLE 90 DEG SQZ CONN-INSUL 100

WI ML-110-7-I 0558-8247 2-1/2” MALLEABLE 90 DEG SQZ CONN-INSUL 100

WI ML-110-8-I 0558-8250 3” MALLEABLE 90 DEG SQZ CONN-INSUL 100

WI ML-110-9-I 0558-8253 3-1/2” MALLEABLE 90 DEG SQZ CONN-INSUL 100

WI ML-40-10 0576-7467 4” RIGID OFFSET NIPPLE - MALLEABLE  100

WI ML-42-1-I 0558-8196 1/2” MALLEABLE STR SQUEEZE CONN-INSUL 100

WI ML-42-10-I 0558-8223 4” MALLEABLE STR SQUEEZE CONN-INSUL 100

WI ML-42-2-I 0558-8199 3/4” MALLEABLE STR SQUEEZE CONN-INSUL 100

WI ML-42-3-I 0558-8202 1” MALLEABLE STR SQUEEZE CONN-INSUL 100

WI ML-42-4-I 0558-8205 1-1/4” MALLEABLE STR SQUEEZE CONN-INSUL 100

WI ML-42-5-I 0558-8208 1-1/2” MALLEABLE STR SQUEEZE CONN-INSUL 100

WI ML-42-6-I 0558-8211 2” MALLEABLE STR SQUEEZE CONN-INSUL 100

WI ML-42-7-I 0558-8214 2-1/2” MALLEABLE STR SQUEEZE CONN-INSUL 100

WI ML-42-8-I 0558-8217 3” MALLEABLE STR SQUEEZE CONN-INSUL 100

WI ML-42-9-I 0558-8220 3-1/2” MALLEABLE STR SQUEEZE CONN-INSUL 100

WI ML110 0294-2499 WI MAL 90 DEG SQUEEZE CONN 3/8” 100

WI ML110-1 0294-2502 WI MAL 90 DEG SQUEEZE CONN 1/2” 100

WI ML110-10 0294-2505 WI MAL 90 DEG SQUEEZE CONN 4” 100

WI ML110-2 0294-2508 WI MAL 90 DEG SQUEEZE CONN 3/4” 100

WI ML110-3 0294-2511 WI MAL 90 DEG SQUEEZE CONN 1” 100

WI ML110-4 0294-2514 WI MAL 90 DEG SQUEEZE CONN 1-1/4” 100

WI ML110-5 0294-2517 WI MAL 90 DEG SQUEEZE CONN 1-1/2” 100

WI ML110-6 0294-2520 WI MAL 90 DEG SQUEEZE CONN 2” 100

WI ML110-7 0294-2523 WI MAL 90 DEG SQUEEZE CONN 2-1/2” 100

WI ML110-8 0294-2526 WI MAL 90 DEG SQUEEZE CONN 3” 100

WI ML110-9 0294-2529 WI MAL 90 DEG SQUEEZE CONN 3-1/2” 100

WI ML112-1 0556-7895 3/8” 90 DEG DUPLEX CONN-SQUEEZE TYPE 100

WI ML42 0285-3072 WI SQUEEZE CONN 3/8” 100

WI ML42-1 0285-3075 WI SQUEEZE CONN 1/2 100

WI ML42-10 0285-3078 WI SQUEEZE CONN 4” 100

WI ML42-2 0285-3081 WI SQUEEZE CONN 3/4” 100

WI ML42-3 0285-3084 WI SQUEEZE CONN 1” 100

WI ML42-4 0285-3087 WI SQUEEZE CONN 1-1/4” 100

WI ML42-5 0285-3090 WI SQUEEZE CONN 1-1/2” 100

WI ML42-6 0285-3093 WI SQUEEZE CONN 2” 100

WI ML42-7 0285-3096 WI SQEEZE CONN 2-1/2” 100

WI ML42-8 0285-3099 WI SQUEEZE CONN 3” 100

WI ML110

WI ML42-3

WI L-67



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

174 175

PART# STOCK CODE DESCRIPTION PER

F-SERIES PVC BOXES

FD 0261-2790 078215 FD BLANK SINGLE GANG DEEP BOX 100

FD2G 0289-0218 0278038 2G BLANK F-SERIES WP DEEP BOX 100

FD3 0288-9417 0278069 BLANK F-SERIES WP 3G DEEP BOX 100

FDC 0320-9322 278051 1/2”-1” FSC SINGLE GANG DEEP 100

FDS 0320-9370 278050 1/2”-1” FSE SINGLE GANG DEEP 100

FSC05 0235-0638 078226 1/2 “FSC” F-SERIES 1G BOX 100

FSC07 0009-6844 078227 3/4” FSC BOX 100

FSC2G 0320-9328 278083 1/2”-1” DOUBLE GANG FSC 100

FSC3G 0288-9420 1/2”, 3/4”, 1” F-SERIES WP 3G DEEP BOX 100

FSCC05 0251-0919 078235 BOX 1/2 HUB 2 IN/OUT 100

FSCC07 0009-6850 078236 3/4” FSCC BOX 100

FSCC2G 0320-9655 278084 1/2”-1” DOUBLE GANG FSCC 100

FSE05 0235-0635 078229 1/2 “FSE” F-SERIES 1G BOX 100

FSE07 0248-9514 078230 3/4 FSE F-SERIES SINGLE BOX 100

FSE2G 0320-9481 278082 1/2”-1” DOUBLE GANG FSE 100

FSE3G 0288-9423 1/2”, 3/4”, 1” F-SERIES WP 3G DEEP BOX 100

FSS05 0251-0922 BOX 1/2 HUB 2 IN 100

FSS07 0235-0644 3/4 “FSS” F-SERIES 1G BOX 100

FSS2G 0320-9661 278087 1/2”-1” DOUBLE GANG FSS 100

BC 0314-1957 1G WP BLANK COVER 100

BC2 0320-9292 2 GANG BLANK COVER 278085 100

BRC20-3 0288-9438 F-SERIES 3G CVR PLATE BLANK 100

DRC 0320-9679 DUPLEX REC COVER DRC15/10 78889 100

DRC20-3 0288-9435 F-SERIES 3G CVR PLATE (3) RCPT 100

DRCDBL 0289-0221 2G COMBO CVR PLT DPLX RCPT DRC20/2 100

SC 0288-9372 F-SERIES 1G CVR PLATE TOG SW TSC15/10 100

SR 0320-9526 SINGLE REC COVER 20RC15/10 100

TBC 0297-9729 BLANK COVER W/GASKET FOR FS BOX 100

TSC20-2 0288-9402 F-SERIES 2G CVR PLATE (2) TOG SW 100

TSC20-3 0288-9426 (077744)F-SERIES 3G CVR PLATE (3) TOG SW 100

TSCDC20-3 0288-9432 F-SERIES 3G CVR PLATE (1) TOG (2) RCPT 100

TSDC20-2 0288-9405 F-SERIES 2G COMBO CVR PLATE TOG SW/DPLX 100

WDDRCDBL 0320-9772 078335 WP DBL DUP REC 2 DOOR VSDD20-2 100

WDGFIDBL 0288-9414 F-SERIES 2G WP DOUBLE DOOR GFI RCPT CVR 100

WDR15/10WH 0288-9381 78843 F-SERIES 1G WP DPLX RCPT CVR WHT 100

WDRC 0288-9378 F-SERIES 1G WP DPLX RCPT CVR WDR15/10 100

WDRDBL 0247-2819 78326 WP FS BOX COVER DUP REC DBL DOOR 100

WDRE15/10WH 0288-9387 F-SERIES 1G WP DOUBLE DOOR DPLX RCPT CVR 100

WDRPC 0288-9411 F-SERIES 2G WP TOG SW/DPLX RCPT CVR VSDR 100

WDTSC 0320-9745 (278090)WP DBL TOGGLE SW COVER VSC20-2 100

WGF15/10WH 0288-9384 F-SERIES 1G WP GRD FAULT RCPT CVR WHT 100

WGFIC 0289-0215 78902 1G WP GRD FAULT RCPT CVR WGF15/10 100

WGFIPC 0288-9408 F-SERIES 2G WP TOG SW/GFI RCPT CVR VSRC2 100

PART# STOCK CODE DESCRIPTION PER

FLEX AC/MC FITTINGS - D

WI MAFC-50 0293-7639 MULTI PURP MC CONNECT STL W/INS THROAT 100

WI MAFC-52 0293-7642 MULTI PURP DPLX MC CONNECT STL W/INS T 100

WI MAFC-75 0556-7610 MULTIPUR  MC CONNECTOR STL/INS 3/4” 100

WI MUF-50 0293-7651 UF CONNECTOR 1/2” 100

WI MUF-75 0293-7654 UF CONNECTOR 3/4” 100

WI SG38 0293-7672 MC CONNECTOR 3/8” 100

WI SG3838 0293-7675 DOUBLE MC CONNECTOR 3/8” 100

PART# STOCK CODE DESCRIPTION PER

FLEX COUPLINGS

WI FC-100 0424-0515 1” SCREW IN FLEX COUPLING 100

WI FC-125 0424-0518 1-1/4” SCREW IN FLEX COUPLING 100

WI FC-150 0424-0521 1-1/2” SCREW IN FLEX COUPLING 100

WI FC-200 0424-0524 2” SCREW IN FLEX COUPLING 100

WI FC-50 0424-0509 1/2” SCREW IN FLEX COUPLING 100

WI FC-75 0424-0512 3/4” SCREW IN FLEX COUPLING 100

PART# STOCK CODE DESCRIPTION PER

FLOOR BOX COVERS

FB-DSC-B 0427-1385 BRASS DOUBLE SCREW PLUG FLOOR BOX COVER 100

FB-DSC-N 0427-1400 NICKEL PLATED DOUBLE SCREW PLUG FB COVER 100

FB-SSC-B 0427-1397 BRASS SINGLE SREW PLUG FLOOR BOX COVER 100

FB-SSC-N 0427-1403 NICKEL PLATED SINGLE SCREW PLUG FB COVER 100

FBC-BR-R 0427-1361 BRASS COVER PLATE WITH DUAL FLIP LIDS 100

FBC-N-R 0427-1370 NICKEL COVER PLATE WITH DUAL FLIP LIDS 100

FBCA 0289-0224 (078841)NM DPLXRCPT CVR NMFLR BX LT ALM 100

FBCB 0320-9547 (07887)FLOOR BOX COVER BROWN 78877 100

FBCG 0320-9382 (078878)FLOOR BOX COVER GOLD 78878 100

FBCGR 0320-9694 FLOOR BOX COVER GREY 78618 100

PART# STOCK CODE DESCRIPTION PER

FLOOR BOXES & ACCESSORIES

FBDK 0320-9583 FLOOR BOX DIVIDER KIT L/V 100

FBR0705 0289-8174 1/2” X 3/4” FB REDUCER 100

FBR107 0320-9508 1” X 3/4” FLOOR BOX REDUCER 100

FBYC 0272-5788 78928 E/R PVC Y CONNECTOR 100

LRA-U 0252-3309 (078446)FBA ADAPTER FLOOR BOX 100

MB-10 0290-4015 ENT SHLW SLAB BOX W/ KO (8) 1/2” 100

MBH-15 0290-4021 89018ENT SHLW SLAB BOX W/CONS (8) 3/4”KO 100

MBH-15/20 0290-4030 ENT SHLW SLAB BX W/CONS (4) 3/4” (4) 1” 100

WI L42-6

FBDK

FD



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

176 177

PART# STOCK CODE DESCRIPTION PER

GANGABLE SWITCH BOXES

CM-GDB-1 0262-8111 GANGABLE SWITCH DEEP BOX, 3-1/2” DEEP, E 100

CM-GDB-1-MC 0262-8114 GANGABLE SWITCH DEEP BOX, 3-1/2” DEEP, M 100

CM-GDB-1-MC-B 0285-5841 1G GANGABLE MC SW BOX 3-1/2 DEEP W/BKT 100

CM-GDB-1-MC-FB 0262-8117 GANGABLE SWITCH DEEP BOX, 3-1/2” DEEP, M 100

CM-GDB-1-NE 0262-8120 GANGABLE SWITCH DEEP BOX, 3-1/2” DEEP, N 100

CM-GDB-1-NM 0262-8123 GANGABLE SWITCH DEEP BOX, 3-1/2” DEEP, N 100

CM-GDB-1-NM-B 0280-6752 3-1/2” DP SW BOX W/ BR 100

CM-GDB-1-NM-FB 0262-8126 GANGABLE SWITCH DEEP BOX, 3-1/2” DEEP, N 100

CM-GESB-1 0262-8129 EXTRA SHALLOW GANGABLE SWITCH BOX, 1-1/2 100

CM-GESB-1-MC 0262-8132 EXTRA SHALLOW GANGABLE SWITCH BOX, 1-1/2 100

CM-GESB-1-NM 0262-8135 EXTRA SHALLOW GANGABLE SWITCH BOX, 1-1/2 100

CM-GMB-1 0262-8138 GANGABLE SWITCH BOX, 2-3/4” DEEP, EARS O 100

CM-GMB-1-FB 0262-8141 GANGABLE SWITCH BOX, 2-3/4” DEEP, EARS O 100

CM-GMB-1-MC 0262-8144 GANGABLE SWITCH BOX, 2-3/4” DEEP, MC CLA 100

CM-GMB-1-MC-B 0288-0507 2-3/4” GNGL BX MC/BX CLMPS B BKT 100

CM-GMB-1-MC-FB 0262-8147 GANGABLE SWITCH BOX, 2-3/4” DEEP, MC CLA 100

CM-GMB-1-MC-OW 0288-0510 2-3/4” GNGBL BX MC/BX CLMPS FOR OLD WORK 100

CM-GMB-1-NE 0262-8150 GANGABLE SWITCH BOX, 2-3/4” DEEP, NO EAR 100

CM-GMB-1-NM 0262-8153 GANGABLE SWITCH BOX, 2-3/4” DEEP, NM CLA 100

CM-GMB-1-NM-B 0288-0513 2-3/4” GNGBL BX NM CLMPS B BKT 100

CM-GMB-1-NM-FB 0262-8156 GANGABLE SWITCH BOX, 2-3/4” DEEP, NM CLA 100

CM-GMB-1-NM-OW 0288-2322 2-3/4” DEEP GNGBL BX W/NM CLMP,PGTL,LG 100

CM-GMB-MC-NO 0288-0516 2-3/4” DP NG. NAIL ON SW BX BX/MC CLMPS 100

CM-GMB-NM-NO 0262-8159 NON-GANGABLE BOX, 2-3/4” DEEP, NAIL-ON, 100

CM-GS1032-PT-10 0369-6240 GROUND SCREW WITH 10” PIGTAIL 100

CM-GSB-1 0262-8162 SHALLOW GANGABLE SWITCH BOX, 2” DEEP 100

CM-GSB-1-MC 0262-8165 SHALLOW GANGABLE SWITCH BOX, 2” DEEP, MC 100

CM-GSB-1-NM 0262-8168 SHALLOW GANGABLE SWITCH BOX, 2” DEEP, NM 100

CM-GSB-1-OW 0269-6313 1G SHALLOW SW BOX OLD WORK W/LKG GRIPS 100

CM-SGM-1 0278-2449 GANGABLE OLD WORK SWITCH BOX 100

CM-SGM-1-MC 0288-0546 2-3/4” DP GNGBL SW BOX BX/MC CBL CLMP 100

CM-SGM-1-NM 0288-0549 2-3/4” DP GNGBL SW BX NM CBL CLMP 100

CM-TG-1 0262-8342 GANGABLE SW BOX 2-1/2” DEEP OLD WORK 100

CM-TG-1-MC 0262-8345 GANGABLE SWITCH BOX, 2-1/2” DEEP, OLD WO 100

CM-TG-1-NM 0262-8348 GANGABLE SWITCH BOX, 2-1/2” DEEP, OLD WO 100

CM-TGD-1 0262-8351 GANGABLE SWITCH DEEP BOX, 3-1/2” DEEP, O 100

CM-TGMW 0276-9039 WIDE T/G OLD-WORK BX 2-3/4 DEEP 100

CM-TGW 0276-9042 WIDE T/G OLD-WORK BX 2-1/2” DEEP 100

PART# STOCK CODE DESCRIPTION PER

F-SERIES PVC BOXES

WPSC 0320-9931 078899 WP PLUNGER TGL SW CVR VPT15/10 100

WRC15 0288-9390 F-SERIES 1G WP SGL RCPT CVR 15A DEVICE O 100

WRC20 0288-9393 F-SERIES 1G WP SGL RCPT CVR 20A DEVICE O 100

WRC30 0288-9396 F-SERIES 1G WP SGL RCPT CVR 30A DEVICE O 100

WRC50 0288-9399 F-SERIES 1G WP SGL RCPT CVR 50A DEVICE O 100

WSC 0288-9375 078903 F-SERIES 1G WP TOG SW CVRWTG15/10 100

WTSC 0252-3738 (078900)WP TOGGLE SW CVR VSC 15/10 100

PART# STOCK CODE DESCRIPTION PER

GANG BOXES

ICF-1-C 0581-8833 1 GANG ICF BOX-COMMERCIAL-AC OR NMD CABL 100

ICF-1-R 0581-8809 1 GANG ICF BOX - RESID-NMD CAB 14/2-10/3 100

ICF-2-C 0581-8836 2 GANG ICF BOX-COMMERCIAL-AC OR NMD CABL 100

ICF-2-R 0581-8827 2 GANG ICF BOX - RESID-NMD CAB 14/2-10/3 100

ICF-3-C 0581-8839 3 GANG ICF BOX-COMMERCIAL-AC OR NMD CABL 100

ICF-3-R 0581-8830 3 GANG ICF BOX - RESID-NMD CAB 14/2-10/3 100

LVD-R 0581-8842 LOW VOLTAGE DIVIDER - RESIDENTIAL 100

PART# STOCK CODE DESCRIPTION PER

GANGABLE SWITCH BOXES

CM-GB-1 0262-8066 GANGABLE SW BOX 2-1/2” DEEP EARS O 100

CM-GB-1-B 0262-8069 GANGABLE SW BOX 2-1/2” DP B BRACKET 100

CM-GB-1-FB 0262-8072 GANGABLE SW BOX 2-1/2” DEEP FB BRACKET 100

CM-GB-1-MC 0262-8075 GANGABLE SW BOX 2-1/2” DEEP MC CLAMP 100

CM-GB-1-MC-B 0262-8078 GANGABLE SW BOX  2-1/2” DEEP MC CLAMP 100

CM-GB-1-MC-FB 0262-8081 GANGABLE SW BOX  2-1/2” DEEP MC CLAMP 100

CM-GB-1-MC-OW 0262-8084 GANGABLE SW BOX  2-1/2” DEEP MC CLAMP 100

CM-GB-1-MKO 0267-4062 EARS ONLY M.K.O. 100

CM-GB-1-NE 0262-8087 GANGABLE SW BOX  2-1/2” DEEP NO EAR 100

CM-GB-1-NM 0262-8090 GANGABLE SW BOX  2-1/2” DEEP NM CLAMP 100

CM-GB-1-NM-B 0262-8093 GANGABLE SW BOX 2-1/2” DEEP NM CLAMP 100

CM-GB-1-NM-FB 0262-8096 GANGABLE SW BOX 2-1/2” DEEP NM CLAMP 100

CM-GB-1-NM-OW 0262-8099 GANGABLE SW BOX  2-1/2” DEEP NM CLAMP 100

CM-GB-1-OW 0268-0743 1G GANGABLE OLD-WRK BOX 2-1/2” DEEP 100

CM-GBV 0262-8102 GANGABLE SWITCH BOX, BEVELED CORNERS, 2- 100

CM-GBV-B 0288-0498 2-1/4” DP GNGBL BX BEVELED CRNR B BKT 100

CM-GBV-FB 0288-0501 2-1/4” DP GNGBL BX BEVELED CRNR FB BKT 100

CM-GBV-NE 0262-8105 GANGABLE SWITCH BOX, BEVELED CORNERS, 2- 100

CM-GBV-OW 0262-8108 GANGABLE SWITCH BOX, BEVELED CORNERS, 2- 100

CM-GC 0287-0769 GROUNDING CLIP 100

WDTSC

CM-GB-1

CM-GDB-1-MC-FB



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

178 179

PART# STOCK CODE DESCRIPTION PER

HARDWARE

FW050EG 0305-8062 FLAT WASHER 1/2” EG 100

FW062EG 0305-8065 FLAT WASHER 5/8” EG 100

FW075EG 0305-8068 FLAT WASHER 3/4” EG 100

HCS3710EG 0330-8403 HEX HEAD CAP SCREW 3/8” 1” 100

RT2BA 0304-8711 ROLLER TROLLEY 2 BEARING ASSEMBLY EG 100

RT4BA 0304-8714 ROLLER TROLLEY 4 BEARING ASSEMBLY EG 100

SWF037EG 0305-8776 SWIVEL FEMALE 3/8” EG 100

SWF050EG 0305-8779 SWIVEL FEMALE 1/2” EG 100

SWFF037EG 0305-8782 SWIVEL FEMALE-FEMALE 3/8” EG 100

SWFF050EG 0305-8785 SWIVEL FEMALE-FEMALE 1/2” EG 100

SWM037EG 0305-8788 SWIVEL MALE 3/8” EG 100

SWM050EG 0305-8791 SWIVEL MALE 1/2” EG 100

SWMF037EG 0305-8794 SWIVEL MALE-FEMALE 3/8” EG 100

SWMF050EG 0305-8797 SWIVEL MALE-FEMALE 1/2” EG 100

PART# STOCK CODE DESCRIPTION PER

INSTALLATION & SUPPORT ACCESSORIES

AC 85124 0253-3836 AC WHIP 1/2”X4FT-3X10G THHN FTGS & WSHRS 100

AC 85126-10 0320-5179 AC WHIP 1/2”X6FT-3X10G THHN FTGS & WSHRS 100

AC 85346 0253-3860 AC WHIP 3/4”X6FT-2X8G&1X10G FTGS & WSHRS 100

AC 85346-10 0253-3839 AC WHIP 3/4”X 6FT-3X10G THHN FTGS & WSHR 100

BS050 0542-6688 BOX SPACER- 1/2” 100

BS075 0542-6691 BOX SPACER- 3/4” 100

CM-BCHS-10 0314-0937 BX & COND HANGER SUPPORT UP TO 6”X6” BX 100

CM-BCHS-12 0314-0940 BX & COND HNGR SUPPORT-HORIZ &VERT MNTNG 100

CM-BCHS-6 0314-0943 BX & COND HNGR SUPPORT-HORI & VERT MNTNG 100

CM-BCHS-6S 0314-0946 BX & COND HNGR SUPPORT-HORI & VERT MNTNG 100

TSRCU05 0248-9508 STRAIN RELIEF 1/2 100

TSRCU07 0248-9511 (278101)STRAIN RELIEF 3/4 100

WI 0-WBA-B 0321-1275 1/2” EMT-3/8” RIGID CONDUIT HANGER W/BOL 100

WI 1-WBA-B 0321-1278 3/4” EMT & RIGID CONDUIT HANGER W/BOLT 100

WI 2-1/2-WBA-B 0321-1284 1-1/4” EMT CONDUIT HANGER W/BOLT & EX 100

WI 2-WBA-B 0321-1281 1” EMT & RIGID CONDUIT HANGER W/BOLT 100

WI 3-WBA-B 0321-1287 1-1/2” EMT/1-1/4” RIGID CONDUIT HANGER 100

WI 4-WBA-B 0321-1290 1-1/2” RIGID CONDUIT HANGER W/BOLT 100

WI 5-WBA-B 0321-1293 2” EMT & RIGID CONDUIT HANGER W/BOLT 100

UB050HDG 0542-7354 U-BOLT 1/2” - HDG 100

UB075HDG 0542-7357 U-BOLT 3/4” - HDG 100

UB100HDG 0542-7360 U-BOLT 1”- HDG 100

UB125HDG 0542-7363 U-BOLT 1-1/4” - HDG 100

UB150HDG 0542-7366 U-BOLT 1-1/2” - HDG 100

UB200HDG 0542-7369 U-BOLT 2” - HDG 100

PART# STOCK CODE DESCRIPTION PER

HANDY BOX COVERS

CM-HBC-B 0262-8189 HANDY BOX COVER, BLANK 100

CM-HBC-BK 0262-8192 HANDY BOX COVER, 1/2” K.O. 100

CM-HBC-DR 0262-8195 HANDY BOX COVER, DUPLEX RECEPTACLE 100

CM-HBC-GFI 0262-8198 HANDY BOX COVER, GFCI/DECORATIVE 100

CM-HBC-PO 0262-8201 HANDY BOX COVER, 1.594” DIA. 20A POWER O 100

CM-HBC-SR 0262-8204 HANDY BOX COVER, 1.406” DIA. 15A SINGLE 100

CM-HBC-TS 0262-8207 HANDY BOX COVER, TOGGLE SWITCH 100

CM-WHBC-B 0288-0564 3/16” RAISED CVR, BLANK 100

CM-WHBC-BK 0288-0567 3/16” RAISED CVR, 1/2” KO 100

CM-WHBC-DR 0277-2000 UTILITY BOX DUPLEX REC 100

CM-WHBC-GFI 0288-0570 3/16” RAISED CVR, GFCI 100

CM-WHBC-SR 0288-0261 UTILITY COVER 2-1/2”X4-1/8” - SR 1.40” 100

CM-WHBC-TS 0288-0264 UTILITY COVER 2-1/2”X4-1/8” - TOGGLE SW 100

PART# STOCK CODE DESCRIPTION PER

HANDY BOXES

CM-DHB-1-50 0262-8021 HANDY BOX, 1/2” K.O., 1-7/8” DEEP - DRAW 100

CM-DHB-1-75 0262-8024 HANDY BOX, 3/4” K.O., 1-7/8” DEEP - DRAW 100

CM-DHSSB-1-50 0262-8039 SUPER SHALLOW HANDY BOX, 1-1/4” DEEP - D 100

CM-HB-1-50 0262-8171 HANDY BOX, 1-7/8” DEEP, 1/2” K.O. - WELD 100

CM-HB-1-50-EXT 0262-8174 HANDY BOX EXT., 1-7/8” DEEP, 1/2” K.O. - 100

CM-HB-1-50-FB 0262-8177 HANDY BOX, 1-7/8” DEEP, 1/2” K.O., FB BR 100

CM-HB-1-MKO 0262-8180 HANDY BOX, 1-7/8” DEEP, M.K.O. - WELDED 100

CM-HB-1-MKO-AB 0262-8183 HANDY BOX, 1-7/8” DEEP, 1/2” K.O. - WELD 100

CM-HB-1-MKO-EXT 0262-8186 HANDY BOX EXT., 1-7/8” DEEP, M.K.O. - WE 100

CM-HB-1-MKO-FB 0288-0519 1-7/8” HANDY BOX MKO FB BRCKT 100

CM-HDB-1-50 0262-8210 HANDY DEEP BOX, 2-1/8” DEEP, 1/2” K.O. - 100

CM-HDB-1-50-FB 0262-8213 HANDY DEEP BOX, 2-1/8” DEEP, 1/2” K.O., 100

CM-HDB-1-MKO 0262-8216 HANDY DEEP BOX, 2-1/8” DEEP, M.K.O. - WE 100

CM-HDB-1-MKO-AB 0288-0522 2-1/8” HANDY BOX MKO ANGLE BRCKT 100

CM-HDB-1-MKO-FB 0272-3472 HANDY BOX 2-1/8” DEEP M.K.O. - W/B 100

CM-HSB-1-50 0262-8219 SHALLOW HANDY BOX, 1-1/2” DEEP - WELDED 100

CM-HSB-1-50-B 0262-8222 SHALLOW HANDY BOX, 1-1/2” DEEP, B BRACKE 100

CM-HSB-1-50-EXT 0262-8225 SHALLOW HANDY BOX EXT., 1-1/2” DEEP - WE 100

CM-HTB-FB 0286-2762 *OBSOLETE* NO RPLCMNT 100

CM-WDHB-1-50 0267-9663 1 7/8” DEEP UTILITY BOX 100

PART# STOCK CODE DESCRIPTION PER

HARDWARE

FW025EG 0305-8056 -OBS FLAT WASHER 1/4” EG 100

FW037EG 0305-8059 -OBS FLAT WASHER 3/8” EG 100

CM-HBC-B

CM-DHB-1-50

FW025EG

AC 85124

FW025EG



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

180 181

PART# STOCK CODE DESCRIPTION PER

JBX PVC BOXES

JBX887 0314-7390 8X8X7 FASTENER SYSTEM JBX BOX 100

JBXH12106 0346-8195 12106 HINGED JUNCTION BOX 100

JBXH12124 0346-8198 12124 HINGED JUNCTION BOX 100

JBXH12126 0346-8201 12126 HINGED JUNCTION BOX 100

JBXH12128 0346-8204 12128 HINGED JUNCTION BOX 100

JBXH141410 0346-8210 HINGED JUNCTION BOX 100

JBXH14148 0346-8207 14148 HINGED JUNCTION BOX 100

JBXH161610 0346-8213 161610 HINGED JUNCTION BOX 100

JBXH884 0346-8183 884 HINGED JUNCTION BOX 100

JBXH887 0346-8192 887 HINGED JUNCTION BOX 100

PART# STOCK CODE DESCRIPTION PER

JUNCTION BOX ACCESSORIES

BP1210 0369-8919 12X10 BACK PLATE 100

BP1212 0324-1449 12X12 BACK PLATE 100

BP1414 0582-8445 14X14 BACK PLATE 100

BP1616 0473-7405 16X16 BACK PLATE 100

BP66 0472-3176 6X6 BACK PLATE 100

BP88 0324-1452 8X8 BACK PLATE 100

PART# STOCK CODE DESCRIPTION PER

JUNCTION BOX COVERS

JB1212C 0582-7215 077885 12X12 JB COVER W. GASKET & SCREWS 100

JB66C 0443-4597 077883 6X6 JB COVER W/ GASKET & SCREW 100

JB88C 0582-7212 077884 8X8 JB COVER W/ GASKET & SCREWS 100

PART# STOCK CODE DESCRIPTION PER

JUNCTION BOXES

JB1C 0305-8101 JUNCTION BOX UNIV WITH 1 CONNECTOR EG 100

JB2C 0305-8104 JUNCTION BOX UNIV WITH 2 CONN OPPOS EG 100

JB2C90 0305-8107 JUNCTION BOX UNIV W 2 CONN AT 90 DEG EG 100

JB3C 0305-8110 JUNCTION BOX UNIV WITH 3 CONNECTORS EG 100

JB4C 0305-8113 JUNCTION BOX UNIV WITH 4 CONNECTORS EG 100

PART# STOCK CODE DESCRIPTION PER

LAMP HOLDERS & ACCESSORIES - D

WI CR1 0278-8095 WI 4” RND L-HOLDER COVER 1X1/2” H 100

WI CR3 0278-8098 WI 4” RND L-HOLDER COVER 3X1/2” H 100

WI CR3A 0278-8101 WI 4” RND L-HOLDER COVER DIRNL 3X1/2” H 100

PART# STOCK CODE DESCRIPTION PER

INSTALLATION & SUPPORT ACCESSORIES

UB250HDG 0542-7372 U-BOLT 2-1/2” - HDG 100

UB300HDG 0542-7375 U-BOLT 3” - HDG 100

UB400HDG 0542-7378 U-BOLT 4” - HDG 100

WI 2-WBA-SS 0558-8349 2” EMT CONDUIT HANGER-304 STAIN STEEL 100

PART# STOCK CODE DESCRIPTION PER

INSTALLATION & SUPPORT ACCESSORIES - D

WI 3-1/2-WBA-SS 0558-8358 3-1/2” EMT CONDUIT HANGER-304STAIN STEEL 100

WI 3-WBA-SS 0558-8355 3” EMT CONDUIT HANGER-304 STAIN STEEL 100

WI 4-WBA-SS 0558-8361 4” EMT CONDUIT HANGER-304 STAIN STEEL 100

WI 1 1/2-WBA 0278-0619 WI 1-1/2 EMT CONDUIT HANGER 100

WI 1 1/4-WBA 0278-0622 WI 1-1/4 EMT CONDUIT HANGER 100

WI 1-WBA 0278-0625 WI 1” EMT CONDUIT HANGER 100

WI 1-WBA-SS 0558-8340 1” EMT CONDUIT HANGER-304 STAIN STEEL 100

WI 1/2-WBA 0278-0628 WI 1/2 EMT CONDUIT HANGER 100

WI 2 1/2-WBA 0278-0697 WI 2 1/2 EMT CONDUIT HANGER 100

WI 2-1/2-WBA-SS 0558-8352 2-1/2” EMT CONDUIT HANGER-304STAIN STEEL 100

WI 2-WBA 0278-0700 WI 2” EMT CONDUIT HANGER 100

WI 3 1/2-WBA 0278-0703 WI 3 1/2” EMT CONDUIT HANGER 100

WI 3-WBA 0278-0706 WI 3” EMT CONDUIT HANGER 100

WI 3/4-WBA 0278-0709 WI 3/4 EMT CONDUIT HANGER 100

WI 3/4-WBA-SS 0558-8337 3/4” EMT CONDUIT HANGER-304 STAIN STEEL 100

WI 4-WBA 0278-0712 WI 4” EMT CONDUIT HANGER 100

WI 0-WBA-B-SS 0566-9028 1/2” EMT/RIGID COND HNGR EXT BLT 304SS 100

WI 1-1/2-WBA-SS 0558-8346 1-1/2” EMT CONDUIT HANGER-304STAIN STEEL 100

WI 1-1/4-WBA-SS 0558-8343 1-1/4” EMT CONDUIT HANGER-304STAIN STEEL 100

WI 1/2-WBA-SS 0558-8334 1/2” EMT CONDUIT HANGER-304 STAIN STEEL 100

PART# STOCK CODE DESCRIPTION PER

JBX PVC BOXES

JBX12124 0314-7393 12X12X4 FASTENER SYSTEM JBX BOX 100

JBX12126 0314-7396 12X12X6 FASTENER SYSTEM JBX BOX 100

JBX12128 0314-7399 12X12X8 FASTENER SYSTEM JBX BOX 100

JBX161610 0581-1966 16X16X10 FASTENER SYSTEM JBX BOX 100

JBX442 0314-7369 4X4X2 FASTENER SYSTEM JBX BOX 100

JBX444 0314-7372 4X4X4 FASTENER SYSTEM JBX BOX 100

JBX552 0314-7375 5X5X2 FASTENER SYSTEM JBX BOX 100

JBX634 0314-7378 6X3X4 FASTENER SYSTEM JBX BOX 100

JBX664 0314-7381 6X6X4 FASTENER SYSTEM JBX BOX 100

JBX666 0314-7384 6X6X6 FASTENER SYSTEM JBX BOX 100

JBX884 0314-7387 8X8X4 FASTENER SYSTEM JBX BOX 100

JBX12124

BP88

WI CR1

JBX12124

AC 85124



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

182 183

PART# STOCK CODE DESCRIPTION PER

LIQUIDTIGHT FITTINGS

WI LQA150-AL 0557-8569 1-1/2” STRAIGHT LIQ T CONN W/ ALUM LUG 100

WI LQA150-IC 0321-1155 1-1/2” STRAIGHT LIQUID-TIGHT CONN MALL 100

WI LQA15045-AL 0576-6387 1-1/2” 45° LIQUIDTIGHT CONN W/ALUM LUG 100

WI LQA15045-IC 0321-1221 1-1/2” 45 DEGREE LIQUID-TIGHT CONN MALL 100

WI LQA15090-AL 0576-6435 1-1/2” 90° LIQUIDTIGHT CONN W/ALUM LUG 100

WI LQA15090-IC 0321-1188 1-1/2” 90 DEGREE LIQUID-TIGHT CONN MALL 100

WI LQA200-AL 0557-8572 2” STRAIGHT LIQ TIGHT CONN W/ ALUM LUG 100

WI LQA200-IC 0321-1158 2” STRAIGHT LIQUID-TIGHT CONN MALLEABLE 100

WI LQA20045-AL 0576-6390 1-1/2” 45° LIQUIDTIGHT CONN W/ALUM LUG 100

WI LQA20045-IC 0321-1224 2” 45 DEGREE LIQUID-TIGHT CONN MALLEABLE 100

WI LQA20090-AL 0576-6438 2” 90° LIQUIDTIGHT CONN W/ALUM LUG 100

WI LQA20090-IC 0321-1191 2” 90 DEGREE LIQUID-TIGHT CONN MALLEABLE 100

WI LQA250-AL 0557-8575 2-1/2” STRAIGHT LIQ T CONN W/ ALUM LUG 100

WI LQA250-IC 0321-1161 2-1/2” STRAIGHT LIQUID-TIGHT CONN MALL 100

WI LQA25045-AL 0576-6393 2-1/2” 45° LIQUIDTIGHT CONN W/ALUM LUG 100

WI LQA25045-IC 0321-1227 2-1/2” 45 DEGREE LIQUID-TIGHT CONN MALL 100

WI LQA25090-AL 0576-6441 2-1/2” 90° LIQUIDTIGHT CONN W/ALUM LUG 100

WI LQA25090-IC 0321-1194 2-1/2” 90 DEGREE LIQUID-TIGHT CONN MALLE 100

WI LQA300-AL 0557-8578 3” STRAIGHT LIQ TIGHT CONN W/ ALUM LUG 100

WI LQA300-IC 0321-1164 3” STRAIGHT LIQUID-TIGHT CONN MALLEABLE 100

WI LQA30045-AL 0576-6399 3” 45° LIQUIDTIGHT CONN W/ALUM LUG 100

WI LQA30045-IC 0321-1230 3” 45 DEGREE LIQUID-TIGHT CONN MALLEABLE 100

WI LQA30090-AL 0576-6444 3” 90° LIQUIDTIGHT CONN W/ALUM LUG 100

WI LQA30090-IC 0321-1197 3” 90 DEGREE LIQUID-TIGHT CONN MALLEABLE 100

WI LQA350-AL 0557-8584 3-1/2” STRAIGHT LIQ T CONN W/ ALUM LUG 100

WI LQA350-IC 0321-1167 3-1/2” STRAIGHT LIQUID-TIGHT CONN MALL 100

WI LQA35045-AL 0576-6402 3-1/2” 45° LIQUIDTIGHT CONN W/ALUM LUG 100

WI LQA35045-IC 0321-1233 3-1/2” 45 DEGREE LIQUID-TIGHT CONN MALLE 100

WI LQA35090-AL 0576-6447 3-1/2” 90° LIQUIDTIGHT CONN W/ALUM LUG 100

WI LQA35090-IC 0321-1200 3-1/2” 90 DEGREE LIQUID-TIGHT CONN MALL 100

WI LQA38-AL 0557-8554 3/8” STRAIGHT LIQ TIGHT CONN W/ ALUM LUG 100

WI LQA38-IC 0321-1140 3/8”  1/2”KO STRAIGHT LIQUID-TIGHT CONN 100

WI LQA3845-AL 0576-6372 3/8” 45° LIQUIDTIGHT CONN W/ALUMINUM LUG 100

WI LQA3845-IC 0321-1206 3/8”  1/2”KO 45 DEGREE LIQUID-TIGHT CONN 100

WI LQA3890-AL 0576-6408 3/8” 90° LIQUIDTIGHT CONN W/ALUM LUG 100

WI LQA3890-IC 0321-1173 3/8”  1/2”KO 90 DEGREE LIQUID-TIGHT CONN 100

WI LQA400-AL 0557-8590 4” STRAIGHT LIQ TIGHT CONN W/ ALUM LUG 100

WI LQA400-IC 0321-1170 4” STRAIGHT LIQUID-TIGHT CONN MALLEABLE 100

WI LQA40045-AL 0576-6405 4” 45° LIQUIDTIGHT CONN W/ALUM LUG 100

WI LQA40045-IC 0321-1236 4” 45 DEGREE LIQUID-TIGHT CONN MALLEABLE 100

WI LQA40090-AL 0576-6450 4” 90° LIQUIDTIGHT CONN W/ALUM LUG 100

WI LQA40090-IC 0321-1203 4” 90 DEGREE LIQUID-TIGHT CONN MALLEABLE 100

WI LQA50-AL 0557-8557 1/2” STRAIGHT LIQ TIGHT CONN W/ ALUM LUG 100

PART# STOCK CODE DESCRIPTION PER

LAMP HOLDERS & ACCESSORIES - D

WI CR3W 0281-0568 WI 4” RND L-HOLDER COVER 3X1/2” H WH 100

WI CT10 0278-8104 WI L-HOLDER COVER RECTANGULAR 1X1/2” H 100

WI CT10BZ 0278-8107 WI L-HOLDER COVER RECT-BZ 1X1/2” H 100

WI CT10W 0278-8110 WI L-HOLDER COVER RECT-WH 1X1/2” H 100

WI CT20 0278-8113 WI L-HOLDER COVER RECT DIRNL 3X1/2” H 100

WI CT20BZ 0278-8116 WI L-HOLDER COVER RECT-BZ DIRNL 3X1/2” H 100

WI CT20W 0278-8119 WI L-HOLDER COVER RECT-WH DIRNL 3X1/2” H 100

WI F150 0278-9622 WI FLOOD LAMP HOLDER 100

WI F150 2DB 0293-4084 TWIN L-HOLDER 4” ROUND D-BASE 100

WI F150 2DBBZ 0293-4087  TWIN L-HOLDER 4” ROUND D-BASE BRZ 100

WI F150 2DBWH 0293-4090 TWIN L-HOLDER 4” ROUND D-BASE WHT 100

WI F150 2RABZ 0287-8602 TWIN PAR LMPHLDR W RND CVR 4” BRZ 100

WI F150 2RAGY 0280-7883 WI TWIN PAR LAMPHOLDER ON BASE 100

WI F150 2RAW 0287-8605 TWIN PAR LMPHLDR W RND CVR 4” WHT 100

WI F150BZ 0287-8608 OUTDOOR FLD LMPHLDR BRZ 100

WI F150W 0281-0571 WI FLOOD LAMP HOLDER WHITE 100

PART# STOCK CODE DESCRIPTION PER

LIQUIDTIGHT FITTINGS

WI LQA100-AL 0557-8563 1” STRAIGHT LIQ TIGHT CONN W/ ALUM LUG 100

WI LQA100-IC 0321-1149 1” STRAIGHT LIQUID-TIGHT CONN MALLEABLE 100

WI LQA10045-AL 0576-6381 1” 45° LIQUIDTIGHT CONN W/ALUMINUM LUG 100

WI LQA10045-IC 0321-1215 1” 45 DEGREE LIQUID-TIGHT CONN MALLEABLE 100

WI LQA10090-AL 0576-6423 1” 90° LIQUIDTIGHT CONN W/ALUM LUG 100

WI LQA10090-IC 0321-1182 1” 90 DEGREE LIQUID-TIGHT CONN MALLEABLE 100

WI LQA1038 0552-1821 3/8” STRAIGHT LIQUID TIGHT CONN- ZDC 100

WI LQA1038-IC 0552-1800 3/8” STEEL-ZINC LIQ TIGHT STR-INS 100

WI LQA1050-IC 0552-1803 1/2” STEEL-ZINC LIQ TIGHT STR-INS 100

WI LQA1075-IC 0552-1806 3/4STEEL-ZINC LIQ TIGHT STR-INS 100

WI LQA1100-IC 0552-1809 1” STEEL-ZINC LIQ TIGHT STR-INS 100

WI LQA1125-IC 0552-1812 1 1/4” STEEL-ZINC LIQ TIGHT STR-INS 100

WI LQA1150-IC 0552-1815 1 1/2” STEEL-ZINC LIQ TIGHT STR-INS 100

WI LQA125-AL 0557-8566 1-1/4” STRAIGHT LIQ T CONN W/ ALUM LUG 100

WI LQA125-IC 0321-1152 1-1/4” STRAIGHT LIQUID-TIGHT CONN MALL 100

WI LQA1250-IC 0574-5822 2-1/2” STEEL-ZINC LIQ TIGHT STR-INS 100

WI LQA12545 0576-6384 1-1/4” 45° LIQUIDTIGHT CONN W/ALUM LUG 100

WI LQA12545-AL 0576-6396 1-1/4” 45° LIQUIDTIGHT CONN W/ALUM LUG 100

WI LQA12545-IC 0321-1218 1-1/4” 45 DEGREE LIQUID-TIGHT CONN MALL 100

WI LQA12590-AL 0576-6426 1-1/4” 90° LIQUIDTIGHT CONN W/ALUM LUG 100

WI LQA12590-IC 0321-1185 1-1/4” 90 DEGREE LIQUID-TIGHT CONN MALL 100

WI LQA1300-IC 0574-5825 3” STEEL-ZINC LIQ TIGHT STR-INS 100

WI LQA1400-IC 0574-5828 4” STEEL-ZINC LIQ TIGHT STR-INS 100

WI CR1

WI LQA30090-IC

WI LQA100-IC



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

184 185

PART# STOCK CODE DESCRIPTION PER

LIQUIDTIGHT FITTINGS - D

WI LQA9250-IC 0574-5834 2-1/2” LIQ TIGHT CONN INSUL ZDC 100

WI LQA9300 0272-2428 STEEL-ZINC LIQUID TIGHT FTTING 3” 90 100

WI LQA9300-IC 0574-5837 3” 90 DEG LIQ TIGHT CONN INSUL ZDC 100

WI LQA9400 0272-2431 STEEL-ZINC LIQUID TIGHT FTTING 4” 90 100

WI LQA9400-IC 0574-5840 4” 90 DEG LIQ TIGHT CONN INSUL ZDC 100

WI NMFA038 0282-8439 WI 2PC 90 DEG CONN 3/8” 100

WI NMFA038-B 0550-6833 WI 2PC 90 DEG CONN 3/8”-BLACK 100

WI NMFA050 0279-8286 WI 2PC 90 DEG CONN 1/2” 100

WI NMFA050-B 0550-6836 WI 2PC 90 DEG CONN 1/2”-BLACK 100

WI NMFA075 0279-8289 WI 2PC 90 DEG CONN 3/4” 100

WI NMFA075-B 0550-6839 WI 2PC 90 DEG CONN 3/4”-BLACK 100

WI NMFA100 0279-8292 WI 2PC 90 DEG CONN  1” 100

WI NMFA100-B 0550-6842 WI 2PC 90 DEG CONN  1”-BLACK 100

WI NMFA125 0279-8295 WI 2PC 90 DEG CONN 1-1/4” 100

WI NMFA125-B 0550-6845 WI 2PC 90 DEG CONN 1-1/4”-BLACK 100

WI NMFA150 0279-8298 WI 2PC 90 DEG CONN 1-1/2” 100

WI NMFA150-B 0550-6848 WI 2PC 90 DEG CONN 1-1/2”-BLACK 100

WI NMFA200 0279-8301 WI 2PC 90 DEG CONN 2” 100

WI NMFA200-B 0550-6851 WI 2PC 90 DEG CONN 2” 100

WI NMFS038 0282-8442 WI 2PC STRAIGHT CONN 3/8” 100

WI NMFS038-B 0550-6854 WI 2PC STRAIGHT CONN 3/8”-BLACK 100

WI NMFS050 0279-8304 WI 2PC STRAIGHT CONN 1/2” 100

WI NMFS050-B 0550-6857 WI 2PC STRAIGHT CONN 1/2”-BLACK 100

WI NMFS075 0279-8307 WI 2PC STRAIGHT CONN 3/4” 100

WI NMFS075-B 0550-6860 WI 2PC STRAIGHT CONN 3/4”-BLACK 100

WI NMFS100 0279-8310 WI 2PC STRAIGHT CONN 1” 100

WI NMFS100-B 0550-6863 WI 2PC STRAIGHT CONN 1”-BLACK 100

WI NMFS125 0279-8313 WI 2PC STRAIGHT CONN 1-1/4” 100

WI NMFS125-B 0550-6866 WI 2PC STRAIGHT CONN 1-1/4”-BLACK 100

WI NMFS150 0279-8316 WI 2PC STRAIGHT CONN 1-1/2” 100

WI NMFS150-B 0550-6869 WI 2PC STRAIGHT CONN 1-1/2”-BLACK 100

WI NMFS200 0279-8319 WI 2PC STRAIGHT CONN 2” 100

PART# STOCK CODE DESCRIPTION PER

LONG RADIUS RIGID ELBOWS

WI ELRA10090 0581-8902 90° RIGID ELBOW - ALUMINUM - 1” 100

WI ELRA12545 0581-8944 45° RIGID ELBOW - ALUMINUM - 1-1/4” 100

WI ELRA12590 0581-8905 90° RIGID ELBOW - ALUMINUM - 1-1/4” 100

WI ELRA15045 0581-8947 45° RIGID ELBOW - ALUMINUM - 1-1/2” 100

WI ELRA15090 0581-8908 90° RIGID ELBOW - ALUMINUM - 1-1/2” 100

WI ELRA20045 0581-8950 45° RIGID ELBOW - ALUMINUM - 2” 100

WI ELRA20090 0581-8911 90° RIGID ELBOW - ALUMINUM - 2” 100

PART# STOCK CODE DESCRIPTION PER

LIQUIDTIGHT FITTINGS

WI LQA50-IC 0321-1143 1/2” STRAIGHT LIQUID-TIGHT CONN MALLEABL 100

WI LQA500-IC 0576-7503 5” STRAIGHT LIQ TIGHT CONN-INSUL-MALL 100

WI LQA5045-AL 0576-6375 1/2” 45° LIQUIDTIGHT CONN W/ALUMINUM LUG 100

WI LQA5045-IC 0321-1209 1/2” 45 DEGREE LIQUID-TIGHT CONN MALLEAB 100

WI LQA5090-AL 0576-6417 1/2” 90° LIQUIDTIGHT CONN W/ALUM LUG 100

WI LQA5090-IC 0321-1176 1/2” 90 DEGREE LIQUID-TIGHT CONN MALLEAB 100

WI LQA600-IC 0576-7506 6” STR LIQ TIGHT CONN - INSULATED - MALL 100

WI LQA75-AL 0557-8560 3/4” STRAIGHT LIQ TIGHT CONN W/ ALUM LUG 100

WI LQA75-IC 0321-1146 3/4” STRAIGHT LIQUID-TIGHT CONN MALLEABL 100

WI LQA7545-AL 0576-6378 3/4” 45° LIQUIDTIGHT CONN W/ALUMINUM LUG 100

WI LQA7545-IC 0321-1212 3/4” 45 DEGREE LIQUID-TIGHT CONN MALLEAB 100

WI LQA7590-AL 0576-6420 3/4” 90° LIQUIDTIGHT CONN W/ALUM LUG 100

WI LQA7590-IC 0321-1179 3/4” 90 DEGREE LIQUID-TIGHT CONN MALLEAB 100

WI LQA9030 0552-2064 3/8” 90° LIQUID TIGHT CONNECTOR - ZDC 100

WI LQA9038 0574-5780 3/8” 90 DEG LIQUIDTIGHT CONN - ZDC 100

WI LQA9038-IC 0556-6107 3/8” 90 DEG LIQ TIGHT CONN INSUL ZDC 100

WI LQA9050-IC 0556-6110 1/2” 90 DEG LIQ TIGHT CONN INSUL ZDC 100

WI LQA9075-IC 0556-6113 3/4” 90 DEG LIQ TIGHT CONN INSUL ZDC 100

WI LQA9100-IC 0556-6119 1” 90 DEG LIQ TIGHT CONN INSUL ZDC 100

PART# STOCK CODE DESCRIPTION PER

LIQUIDTIGHT FITTINGS - D

WI LQA1050 0258-2916 STEEL-ZINC LIQUID TIGHT FTTING 1/2” STR 100

WI LQA1075 0258-2919 STEEL-ZINC LIQUID TIGHT FTTING 3/4” STR 100

WI LQA1100 0263-6331 STEEL-ZINC LIQUID TIGHT FTTING 1” STR 100

WI LQA1125 0263-6334 STEEL-ZINC LIQUID TIGHT FTTNG 1-1/4” STR 100

WI LQA1150 0263-6337 STEEL-ZINC LIQUID TIGHT FTTNG 1-1/2” STR 100

WI LQA1200 0263-6340 STEEL-ZINC LIQUID TIGHT FTTING 2” STR 100

WI LQA1200-IC 0552-1818 2” STEEL-ZINC LIQ TIGHT STR-INS 100

WI LQA1250 0272-2416 STEEL-ZINC LIQUID TIGHT FTTNG 2-1/2” STR 100

WI LQA1300 0272-2419 STEEL-ZINC LIQUID TIGHT FTTING 3” STR 100

WI LQA1400 0272-2422 STEEL-ZINC LIQUID TIGHT FTTING 4” STR 100

WI LQA9050 0258-2922 STEEL-ZINC LIQUID TIGHT FTTING 1/2” 90 100

WI LQA9075 0258-2925 STEEL-ZINC LIQUID TIGHT FTTING 3/4” 90 100

WI LQA9100 0263-6343 STEEL-ZINC LIQUID TIGHT FTTING 1” 90 100

WI LQA9125 0263-6346 STEEL-ZINC LIQUID TIGHT FTTNG 1-1/4” 90 100

WI LQA9125-IC 0556-6122 1 1/4” 90 DEG LIQ TIGHT CONN INSUL ZDC 100

WI LQA9150 0263-6349 STEEL-ZINC LIQUID TIGHT FTTNG 1-1/2” 90 100

WI LQA9150-IC 0556-6125 1 1/2” 90 DEG LIQ TIGHT CONN INSUL ZDC 100

WI LQA9200 0263-6352 STEEL-ZINC LIQUID TIGHT FTTING 2” 90 100

WI LQA9200-IC 0556-6131 2” 90 DEG LIQ TIGHT CONN INSUL ZDC 100

WI LQA9250 0272-2425 STEEL-ZINC LIQUID TIGHT FTTING 2-1/2” 90 100

WI LQA1050

WI NMFS150

WI LQA30090-IC



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

186 187

PART# STOCK CODE DESCRIPTION PER

METALLIC LIQUIDTIGHT

WI 620524REEL 0549-9435 1 1/4” UL LISTED LIQUID TIGHT REEL 100

WI 620624REEL 0549-9438 1 1/2” UL LISTED LIQUID TIGHT REEL 100

WI 620724REEL 0549-9441 2” UL LISTED LIQUID TIGHT100 FT  REEL 100

PART# STOCK CODE DESCRIPTION PER

METALLIC LIQUIDTIGHT - D

WI 620130 0287-8800 WI LT FLEXMT COND 100FT X 3/8” 100

WI 620130REEL 0549-9423 3/8” UL LISTED LIQUID TIGHT REEL 100

WI 620230 0287-8803 WI LT FLEXMT COND 100FT X 1/2 100

WI 620330 0287-8806 WI LT FLEXMT COND 100FT X 3/4 100

WI 620430 0287-8809 WI LT FLEXMT COND 100FT X 1” 100

WI 620524 0287-8812 WI LT FLEXMT COND 50FT X 1-1/4” 100

WI 620624 0287-8815 WI LT FLEXMT COND 50FT X 1-1/2” 100

WI 620724 0287-8818 WI LT FLEXMT COND 50FT X 2” 100

WI 620822 0287-8821 WI LT FLEXMT COND 25FT X 2-1/2 100

WI 620922 0287-8824 WI LT FLEXMT COND 25FT X 3” 100

WI 621011 0439-2642 WI LT FLEXMT COND 25FT X 3-1/2” 100

WI 621022 0287-8827 WI LT FLEXMT COND 25FT X 4” 100

PART# STOCK CODE DESCRIPTION PER

METALLIC LIQUIDTIGHT NON-UL

WI 610130NUL 0549-9444 3/8” NON UL LIQUID TIGHT 100/FT 100

WI 610130NUL-REEL 0549-9447 3/8” NON UL LIQUID TIGHT REEL 100

WI 610230NUL 0549-9450 1/2” NON UL LIQUID TIGHT 100/FT 100

WI 610230NUL-REEL 0549-9453 1/2” NON UL LIQUID TIGHT REEL 100

WI 610330NUL 0549-9456 3/4” NON UL LIQUID TIGHT 100/FT 100

WI 610330NUL-REEL 0549-9384 3/4” NON UL LIQUID TIGHT REEL 100

WI 610430NUL 0549-9387 1” NON UL LIQUID TIGHT 100/FT 100

WI 610430NUL-REEL 0549-9390 1” NON UL LIQUID TIGHT REEL 100

WI 610524NUL 0549-9393 1 1/4” NON UL LIQUID TIGHT 50/FT 100

WI 610524NUL-REEL 0549-9396 1 1/4” NON UL LIQUID TIGHT REEL 100

WI 610624NUL 0549-9399 1 1/2” NON UL LIQUID TIGHT 50/FT 100

WI 610624NUL-REEL 0549-9402 1 1/2” NON UL LIQUID TIGHT REEL 100

WI 610724NUL 0549-9405 2” NON UL LIQUID TIGHT 50/FT 100

WI 610724NUL-REEL 0549-9408 2” NON UL LIQUID TIGHT REEL 100

WI 610822NUL 0549-9411 2 1/2” NON UL LIQUID TIGHT 25/FT 100

WI 610922NUL 0549-9414 3” NON UL LIQUID TIGHT 25/FT 100

WI 611022NUL 0549-9417 4” NON UL LIQUID TIGHT 25/FT 100

WI 612022NUL 0549-9420 3 1/2” NON UL LIQUID TIGHT 100

PART# STOCK CODE DESCRIPTION PER

LONG RADIUS RIGID ELBOWS

WI ELRA25045 0581-8953 45° RIGID ELBOW - ALUMINUM - 2-1/2” 100

WI ELRA25090 0581-8914 90° RIGID ELBOW - ALUMINUM - 2-1/2” 100

WI ELRA30045 0581-8956 45° RIGID ELBOW - ALUMINUM - 3” 100

WI ELRA30090 0581-8917 90° RIGID ELBOW - ALUMINUM - 3” 100

WI ELRA35045 0581-8959 45° RIGID ELBOW - ALUMINUM - 3-1/2” 100

WI ELRA35090 0581-8920 90° RIGID ELBOW - ALUMINUM - 3-1/2” 100

WI ELRA40045 0581-8962 45° RIGID ELBOW - ALUMINUM - 4” 100

WI ELRA40090 0581-8932 90° RIGID ELBOW - ALUMINUM - 4” 100

WI ELRA5045 0581-8935 45° RIGID ELBOW - ALUMINUM - 1/2” 100

WI ELRA5090 0581-8896 90° RIGID ALUMINUM ELBOW 1/2” 100

WI ELRA7545 0581-8938 45° RIGID ELBOW - ALUMINUM - 3/4” 100

WI ELRA7590 0581-8899 90° RIGID ELBOW - ALUMINUM - 3/4” 100

PART# STOCK CODE DESCRIPTION PER

MASONRY BOXES

CM-MB-1 0262-8228 1G MASONRY BOX 3-1/2” DEEP C.K.O. 100

CM-MB-2 0262-8231 2G MASONRY BOX 3-1/2” DEEP C.K.O. 100

CM-MB-3 0262-8234 3G MASONRY BOX 3-1/2” DEEP C.K.O. 100

CM-MB-4 0262-8237 4G MASONRY BOX 3-1/2” DEEP C.K.O. 100

CM-MB-5 0262-8240 5G MASONRY BOX 3-1/2” DEEP C.K.O. 100

CM-MB-6 0262-8243 6G MASONRY BOX 3-1/2” DEEP C.K.O. 100

CM-MB-D 0262-8246 2-1/2” / 3-1/2” PARTITION FOR MSB AND MB 100

CM-MBG-1 0262-8249 1G GANGABLE MASONRY BOX 3-1/2” C.K.O 100

CM-MSB-1 0262-8252 1G MASONRY BOX 2-1/2” DEEP 100

CM-MSB-2 0262-8255 2G MASONRY BOX 2-1/2” DEEP C.K.O. 100

CM-MSB-3 0262-8258 3G MASONRY BOX 2-1/2” DEEP C.K.O. 100

CM-MSB-3-FB 0262-8261 3G SW BOX 2-1/8” DEEP B BRACKET 100

CM-MSB-4 0262-8264 4G MASONRY BOX 2-1/2” DEEP C.K.O. 100

CM-MSB-4-FB 0262-8267 4G SW BOX 2-1/8” DEEP B BRACKET 100

CM-MSB-5 0262-8270 5G MASONRY BOX 2-1/2” DEEP C.K.O. 100

CM-MSB-5-FB 0262-8273 5G SW BOX 2-1/8” DEEP B BRACKET 100

CM-MSB-6 0262-8276 6G MASONRY BOX 2-1/2” DEEP C.K.O. 100

CM-MSBG-1 0262-8279 1G GANGABLE MASONRY BOX 2-1/2” C.K.O 100

CM-MTB-350 0288-0525 MASONRY THRU BOX 3-1/2” DEEP 100

CM-MTB-550 0288-0528 MASONRY THRU BOX 5-1/2” DEEP 100

PART# STOCK CODE DESCRIPTION PER

METALLIC LIQUIDTIGHT

WI 620230REEL 0549-9426 1/2” UL LISTED LIQUID TIGHT REEL 100

WI 620330REEL 0549-9429 3/4” UL LISTED LIQUID TIGHT500 FT REEL 100

WI 620430REEL 0549-9432 1” UL LISTED LIQUID TIGHT REEL 100

CM-MB-1

WI 620922

WI 620230REEL

WI 610230NUL

WI 620230REEL



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

188 189

PART# STOCK CODE DESCRIPTION PER

MULTIGANG COVERS

CM-4M8-B 0288-0324 8G SWITCH BOX CVR BLANK 100

CM-4M8-DR 0288-0327 8G SWITCH BOX CVR DUP REC 100

CM-4M8-GFI 0288-0330 8G SWITCH BOX CVR GFCI 100

CM-4M8-TS 0288-0333 8G SWITCH BOX CVR TOGGLE SW 100

CM-4M9-B 0288-0336 9G SWITCH BOX CVR BLANK 100

CM-4M9-DR 0288-0339 9G SWITCH BOX CVR-DUP REC 100

CM-4M9-GFI 0288-0342 9G SWITCH BOX CVR-GFCI 100

CM-4M9-TS 0288-0345 9G SWITCH BOX CVR-TOGGLE SW 100

PART# STOCK CODE DESCRIPTION PER

MULTIGANG MUDRINGS

CM-SR-10 0288-0552 10G DEVICE RING 3/4” RAISED 100

CM-SR-2 0262-8321 2G DEVICE RING 3/4” RAISED 100

CM-SR-3 0262-8324 3G DEVICE RING 3/4” RAISED 100

CM-SR-4 0262-8327 4G DEVICE RING 3/4” RAISED 100

CM-SR-5 0262-8330 5G DEVICE RING 3/4” RAISED 100

CM-SR-6 0262-8333 6G DEVICE RING 3/4” RAISED 100

CM-SR-7 0262-8336 7G DEVICE RING 3/4” RAISED 100

CM-SR-8 0262-8339 8G DEVICE RING 3/4” RAISED 100

CM-SR-9 0288-0555 9G DEVICE RING 3/4” RAISED 100

PART# STOCK CODE DESCRIPTION PER

MULTIGANG STEEL BOXES

CM-DHB-2 0288-0258 2G DRAWN HANDY BOX 2-1/8” DEEP 100

CM-DHB-2-B 0281-1765 2G SW BOX 2-1/8” DEEP W/BRACKET 100

CM-DHB-2-FB 0262-8027 2G SW BOX, 2-1/8” DEEP B BRACKET 100

CM-DHB-3 0262-8030 3G SW BOX  2-1/8” DEEP DRAWN 100

CM-DHB-3-B 0262-8033 3G SW BOX 2-1/8” DEEP FB BRACKET 100

CM-DHB-3-FB 0285-7104 3G 2-1/8 SW BOX W/BRKT 100

CM-DHB-3-PT 0314-0841 2-1/8” 3G DRAWN BX W/RAISED GRND EMBOSS 100

CM-DHB-4 0262-8036 4G SW BOX 2-1/8” DEEP DRAWN 100

CM-DHB-4-B 0272-3616 2-1/8 4G DEEP W/BRACKET 100

CM-DHB-4-FB 0285-7107 4G 2-1/8 SW BOX W/BRKT 100

CM-SB-2 0262-8285 2G SWITCH BOX 1-7/8” DEEP  WELDED 100

CM-SB-3 0262-8288 3G SWITCH BOX 1-7/8” DEEP WELDED 100

CM-SB-4 0262-8291 4G SWITCH BOX 1-7/8” DEEP WELDED 100

CM-SB-5 0262-8294 5G SWITCH BOX 1-7/8” DEEP WELDED 100

CM-SB-6 0262-8297 6G SWITCH BOX 1-7/8” DEEP WELDED 100

CM-SB-7 0262-8300 7G SWITCH BOX 1-7/8” DEEP WELDED 100

CM-SB-8 0262-8303 8G SWITCH BOX 1-7/8” DEEP WELDED 100

CM-SB-9 0277-4118 9G SWITCH BOX 1-7/8 DEEP 100

PART# STOCK CODE DESCRIPTION PER

METER HUB

MHB125 0542-6679 METER HUB -1-1/4” DIE CAST ALUMINUM 100

MHB150 0542-6682 METER HUB -1-1/2” DIE CAST ALUMINUM 100

MHB200 0542-6685 METER HUB -2” DIE CAST ALUMINUM 100

MHB100 0542-6676 METER HUB -1” DIE CAST ALUMINUM 100

PMHB125 0574-2822 METER HUB 1-1/4” PLASTIC 100

PMHB150 0574-2819 METER HUB 1-1/2” PLASTIC 100

PMHB200 0574-2825 METER HUB 2” - PLASTIC 100

PMHB250 0574-2828 METER HUB 2-1/2” - PLASTIC 100

PMHB300 0574-2831 METER HUB 3” - PLASTIC 100

PART# STOCK CODE DESCRIPTION PER

MULTIGANG COVERS

CM-4CB-75/100 0314-0877 4” OCT CONCRETE RING 4” DP 49.2 CU IN 100

CM-4CB-F 0314-0880 4” FAN RATED OCT CONCRETE RING 4” DP 100

CM-4M10-B 0288-0282 1G SWITCH BOX CVR BLANK 100

CM-4M10-DR 0288-0285 10G SWITCH BOX CVR DUP REC 100

CM-4M10-GFI 0288-0288 10G SWITCH BOX CVR-GFCI 100

CM-4M10-TS 0288-0240 10G SWITCH BOX CVR TOG 100

CM-4M2-B 0262-7679 2G BOX CVR, FLAT, BLANK 100

CM-4M2-DR 0288-0291 DS-2G SWITCH BOX CVR DUP REC 100

CM-4M2-GFI 0288-0294 2G SWITCH BOX CVR GFCI 100

CM-4M2-TS 0288-0297 2G SWITCH BOX CVR TOGGLE SW 100

CM-4M3-B 0262-7682 3G BOX CVR, FLAT, BLANK 100

CM-4M3-DR 0288-0300 DS-3G SWITCH BOX CVR DUP REC 100

CM-4M3-GFI 0288-0243 3G SWITCH BOX CVR GFI 100

CM-4M3-TS 0268-2678 3G FLAT TOGGLE SWITCH COVER 100

CM-4M4-B 0262-7685 4G BOX COVER, FLAT, BLANK 100

CM-4M4-DR 0288-0246 DS-4G SWITCH BOX CVR DUPLEX 100

CM-4M4-GFI 0288-0249 DS-4G SWITCH BOX CVR GFI 100

CM-4M4-TS 0278-6760 4G FLAT TGL SW CVR 100

CM-4M5-B 0262-7688 5G BOX CVR, FLAT, BLANK 100

CM-4M5-DR 0288-0303 DS-5G SWITCH BOX CVR DUP REC 100

CM-4M5-GFI 0288-0252 DS-5G SWITCH BOX CVR GFI 100

CM-4M5-TS 0275-5986 DS-5G FLAT TOGGLE SWITCH COVER 100

CM-4M6-B 0262-7691 6G BOX COVER, FLAT, BLANK 100

CM-4M6-DR 0285-6867 6G FLAT DPLX RCPT CVR 100

CM-4M6-GFI 0288-0306 6G SWITCH BOX CVR GFCI 100

CM-4M6-TS 0288-0309 6G SWITCH BOX CVR TOGGLE SW 100

CM-4M7-B 0288-0312 7G SWITCH BOX CVR BLANK 100

CM-4M7-DR 0288-0315 7G SWITCH BOX CVR DUP REC 100

CM-4M7-GFI 0288-0318 7G SWITCH BOX CVR GFCI 100

CM-4M7-TS 0288-0321 7G SWITCH BOX CVR TOGGLE SW 100

CM-4M4-GFI

CM-SR-10

CM-DHB-2

CM-4M4-GFI



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

190 191

PART# STOCK CODE DESCRIPTION PER

NEMA SCREW COVER BOXES

GN1BSC-24244NK 0579-9942 NEMA 1 SCR COV BOX - GALV-NO KO-24X24X4 100

GN1BSC-24246NK 0579-9945 NEMA 1 SCR COV BOX - GALV-NO KO-24X24X6 100

GN1BSC-24248NK 0579-9948 NEMA 1 SCR COV BOX - GALV-NO KO-24X24X8 100

GN1BSC-303010NK 0579-9993 NEMA 1 SCR COV BOX - GALV-NO KO-30X30X10 100

GN1BSC-303012NK 0579-9996 NEMA 1 SCR COV BOX - GALV-NO KO-30X30X12 100

GN1BSC-303018NK 0579-9999 NEMA 1 SCR COV BOX - GALV-NO KO-30X30X18 100

GN1BSC-30306NK 0579-9987 NEMA 1 SCR COV BOX - GALV-NO KO-30X30X6 100

GN1BSC-30308NK 0579-9990 NEMA 1 SCR COV BOX - GALV-NO KO-30X30X8 100

GN1BSC-363610NK 0580-0008 NEMA 1 SCR COV BOX - GALV-NO KO-36X36X10 100

GN1BSC-363612NK 0580-0011 NEMA 1 SCR COV BOX - GALV-NO KO-36X36X12 100

GN1BSC-363618NK 0580-0014 NEMA 1 SCR COV BOX - GALV-NO KO-36X36X18 100

GN1BSC-363624NK 0580-0017 NEMA 1 SCR COV BOX - GALV-NO KO-36X36X24 100

GN1BSC-36366NK 0580-0002 NEMA 1 SCR COV BOX - GALV-NO KO-36X36X6 100

GN1BSC-36368NK 0580-0005 NEMA 1 SCR COV BOX - GALV-NO KO-36X36X8 100

GN1BSC-484812NK 0580-0020 NEMA 1 SCR COV BOX - GALV-NO KO-48X48X12 100

GN1BSC-484824NK 0580-0023 NEMA 1 SCR COV BOX - GALV-NO KO-48X48X24 100

GN1BSC-664NK 0579-9900 NEMA 1 SCR COV BOX - GALV-NO KO-6X6X4 100

GN1BSC-884NK 0579-9903 NEMA 1 SCR COV BOX - GALV-NO KO-8X8X4 100

GN3RBC-10104NK 0576-8865 GALV NEMA 3R BOX, SCREW COV 10X10X4 NO K 100

GN3RBC-10106NK 0576-8874 GALV NEMA 3R BOX, SCREW COV 10X10X6 NO K 100

GN3RBC-12124NK 0576-8868 GALV NEMA 3R BOX, SCREW COV 12X12X4 NO K 100

GN3RBC-12126NK 0576-8877 GALV NEMA 3R BOX, SCREW COV 12X12X6 NO K 100

GN3RBC-16164NK 0576-8889 GALV NEMA 3R BOX, SCREW COV 16X16X4 NO K 100

GN3RBC-16168NK 0576-8901 GALV NEMA 3R BOX, SCREW COV 16X16X8 NO K 100

GN3RBC-18126NK 0576-8895 GALV NEMA 3R BOX, SCREW COV 18X12X6 NO K 100

GN3RBC-18128NK 0576-8898 GALV NEMA 3R BOX, SCREW COV 18X12X8 NO K 100

GN3RBC-18184NK 0576-8892 GALV NEMA 3R BOX, SCREW COV 18X18X4 NO K 100

GN3RBC-18186NK 0576-8880 GALV NEMA 3R BOX, SCREW COV 18X18X6 NO K 100

GN3RBC-18188NK 0576-8904 GALV NEMA 3R BOX, SCREW COV 18X18X8 NO K 100

GN3RBC-24244NK 0576-8907 GALV NEMA 3R BOX, SCREW COV 24X24X4 NO K 100

GN3RBC-24246NK 0576-8883 GALV NEMA 3R BOX, SCREW COV 24X24X6 NO K 100

GN3RBC-24248NK 0576-8910 GALV NEMA 3R BOX, SCREW COV 24X24X8 NO K 100

GN3RBC-444NK 0576-8886 GALV NEMA 3R BOX, SCREW COV 4X4X4 NO KO 100

GN3RBC-664NK 0576-8859 GALV NEMA 3R BOX, SCREW COV, 6X6X4 NO KO 100

GN3RBC-666NK 0576-8871 GALV NEMA 3R BOX, SCREW COV 6X6X6 NO KO 100

GN3RBC-884NK 0576-8862 GALV NEMA 3R BOX, SCREW COV 8X8X4 NO KO 100

GN3RBC-886NK 0576-8913 GALV NEMA 3R BOX, SCREW COV 8X8X6 NO KO 100

N1BSC-10104 0553-2651 NEMA 1 BOX, SCREW COVER 10X10X4, WITH KN 100

N1BSC-10104NK 0553-2708 NEMA 1 BOX, SCREW COVER 10X10X4, NO KNOC 100

N1BSC-10106 0553-2654 NEMA 1 BOX, SCREW COVER 10X10X6, WITH KN 100

N1BSC-10106NK 0553-2711 NEMA 1 BOX, SCREW COVER 10X10X6, NO KNOC 100

N1BSC-12124 0553-2657 NEMA 1 BOX, SCREW COVER 12X12X4, WITH KN 100

N1BSC-12124NK 0553-2714 NEMA 1 BOX, SCREW COVER 12X12X4, NO KNOC 100

PART# STOCK CODE DESCRIPTION PER

MULTIGANG STEEL BOXES

CM-SDB-2 0288-0534 2G SWITCH BOX 2-1/2” DEEP 100

CM-SDB-3 0288-0537 3G SWITCH BOX 2-1/2” DEEP 100

CM-SDB-4 0280-8423 4G 2-1/2 DEEP SWITCH BOX 100

CM-SDB-5 0280-8426 5G 2-1/2 DEEP SWITCH BOX 100

CM-SDB-6 0288-0540 6G SWITCH BOX 2-1/2” DEEP 100

CM-SDBL-3 0314-0847 2-1/2” 3G WELDED BX 8-5/8”X4-9/16” 100

CM-SDBL-4 0314-0850 2-1/2” 4G WELDED BX 10-7/16”X4-9/16” 100

CM-SDBL-5 0314-0853 2-1/2” 5G WELDED BX 12-1/4”X4-9/16” 100

CM-SDBL-6 0314-0856 2-1/2” 6G WELDED BX 14-1/16”X4-9/16” 100

PART# STOCK CODE DESCRIPTION PER

NEMA SCREW COVER BOXES

GN3RWT-4412 0579-9165 NEMA 3R GALV WIRE TROUGH - 4X4X12 100

GN3RWT-4424 0579-9168 NEMA 3R GALV WIRE TROUGH - 4X4X24 100

GN3RWT-4436 0579-9177 NEMA 3R GALV WIRE TROUGH - 4X4X36 100

GN3RWT-4448 0579-9180 NEMA 3R GALV WIRE TROUGH - 4X4X48 100

GN3RWT-4460 0579-9183 NEMA 3R GALV WIRE TROUGH - 4X4X60 100

GN3RWT-6612 0579-9186 NEMA 3R GALV WIRE TROUGH - 6X6X12 100

GN3RWT-6624 0579-9189 NEMA 3R GALV WIRE TROUGH - 6X6X24 100

GN3RWT-6636 0579-9192 NEMA 3R GALV WIRE TROUGH - 6X6X36 100

GN3RWT-6648 0579-9195 NEMA 3R GALV WIRE TROUGH - 6X6X48 100

GN3RWT-6660 0579-9198 NEMA 3R GALV WIRE TROUGH - 6X6X60 100

GN3RWT-8812 0579-9201 NEMA 3R GALV WIRE TROUGH 8X8X12 100

GN3RWT-8824 0579-9204 NEMA 3R GALV WIRE TROUGH - 8X8X24 100

GN3RWT-8836 0579-9207 NEMA 3R GALV WIRE TROUGH - 8X8X36 100

GN3RWT-8848 0579-9210 NEMA 3R GALV WIRE TROUGH - 8X8X48 100

GN3RWT-8860 0579-9213 NEMA 3R GALV WIRE TROUGH - 8X8X60 100

GN1BSC-10104NK 0579-9906 NEMA 1 SCR COV BOX - GALV-NO KO-10X10X4 100

GN1BSC-10106NK 0579-9909 NEMA 1 SCR COV BOX - GALV-NO KO-10X10X6 100

GN1BSC-12124NK 0579-9912 NEMA 1 SCR COV BOX - GALV-NO KO-12X12X4 100

GN1BSC-12126NK 0579-9915 NEMA 1 SCR COV BOX - GALV-NO KO-12X12X6 100

GN1BSC-12128NK 0579-9918 NEMA 1 SCR COV BOX - GALV-NO KO-12X12X8 100

GN1BSC-16164NK 0579-9921 NEMA 1 SCR COV BOX - GALV-NO KO-16X16X4 100

GN1BSC-16166NK 0579-9924 NEMA 1 SCR COV BOX - GALV-NO KO-16X16X6 100

GN1BSC-181810NK 0579-9972 NEMA 1 SCR COV BOX - GALV-NO KO-18X18X10 100

GN1BSC-181812NK 0579-9975 NEMA 1 SCR COV BOX - GALV-NO KO-18X18X12 100

GN1BSC-18184NK 0579-9927 NEMA 1 SCR COV BOX - GALV-NO KO-18X18X4 100

GN1BSC-18186NK 0579-9930 NEMA 1 SCR COV BOX - GALV-NO KO-18X18X6 100

GN1BSC-18188NK 0579-9933 NEMA 1 SCR COV BOX - GALV-NO KO-18X18X8 100

GN1BSC-242410NK 0579-9978 NEMA 1 SCR COV BOX - GALV-NO KO-24X24X10 100

GN1BSC-242412NK 0579-9981 NEMA 1 SCR COV BOX - GALV-NO KO-24X24X12 100

GN1BSC-242418NK 0579-9984 NEMA 1 SCR COV BOX - GALV-NO KO-24X24X18 100

CM-DHB-2



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

192 193

PART# STOCK CODE DESCRIPTION PER

NEMA SCREW COVER BOXES

N1BSC-484824NK 0580-0119 NEMA 1 BOX, SCREW COVER 48X48X24, NO KO 100

N1BSC-664 0553-2642 NEMA 1 BOX, SCREW COVER 6X6X4, WITH KNOC 100

N1BSC-664NK 0553-2699 NEMA 1 BOX, SCREW COVER 6X6X4, NO KNOCKO 100

N1BSC-884 0553-2645 NEMA 1 BOX, SCREW COVER 8X8X4, WITH KNOC 100

N1BSC-884NK 0553-2702 NEMA 1 BOX, SCREW COVER 8X8X4, NO KNOCKO 100

N1BSC-886 0553-2648 NEMA 1 BOX, SCREW COVER 8X8X6, WITH KNOC 100

N1BSC-886NK 0553-2705 NEMA 1 BOX, SCREW COVER 8X8X6, NO KNOCKO 100

N3RBC-10104 0576-8661 NEMA 3R BOX, SCREW COVER 10X10X4 100

N3RBC-10104NK 0576-8715 NEMA 3R BOX, SCREW COVER 10X10X4 NO KO 100

N3RBC-10106 0576-8673 NEMA 3R BOX, SCREW COVER 10X10X6 100

N3RBC-10106NK 0576-8727 NEMA 3R BOX, SCREW COVER 10X10X6 NO KO 100

N3RBC-12124 0576-8664 NEMA 3R BOX, SCREW COVER 12X12X4 100

N3RBC-12124NK 0576-8718 NEMA 3R BOX, SCREW COVER 12X12X4 NO KO 100

N3RBC-12126 0576-8676 NEMA 3R BOX, SCREW COVER 12X12X6 100

N3RBC-12126NK 0576-8730 NEMA 3R BOX, SCREW COVER 12X12X6 NO KO 100

N3RBC-12128 0576-8694 NEMA 3R BOX, SCREW COVER 12X12X8 100

N3RBC-12128NK 0576-8733 NEMA 3R BOX, SCREW COVER 12X12X8 NO KO 100

N3RBC-16164 0576-8688 NEMA 3R BOX, SCREW COVER 16X16X4 100

N3RBC-16164NK 0576-8799 NEMA 3R BOX, SCREW COVER 16X16X4 NO KO 100

N3RBC-16168 0576-8697 NEMA 3R BOX, SCREW COVER 16X16X8 100

N3RBC-16168NK 0576-8736 NEMA 3R BOX, SCREW COVER 16X16X8 NO KO 100

N3RBC-18126 0576-8691 NEMA 3R BOX, SCREW COVER 18X12X6 100

N3RBC-18126NK 0576-8805 NEMA 3R BOX, SCREW COVER 18X12X6 NO KO 100

N3RBC-18184 0576-8808 NEMA 3R BOX, SCREW COVER 18X18X4 100

N3RBC-18184NK 0576-8802 NEMA 3R BOX, SCREW COVER 18X18X4 NO KO 100

N3RBC-18186 0576-8679 NEMA 3R BOX, SCREW COVER 18X18X6 100

N3RBC-18186NK 0576-8790 NEMA 3R BOX, SCREW COVER 18X18X6 NO KO 100

N3RBC-18188 0576-8700 NEMA 3R BOX, SCREW COVER 18X18X8 100

N3RBC-18188NK 0576-8739 NEMA 3R BOX, SCREW COVER 18X18X8 NO KO 100

N3RBC-24244 0576-8703 NEMA 3R BOX, SCREW COVER 24X24X4 100

N3RBC-24244NK 0576-8742 NEMA 3R BOX, SCREW COVER 24X24X4 NO KO 100

N3RBC-24246 0576-8682 NEMA 3R BOX, SCREW COVER 24X24X6 100

N3RBC-24246NK 0576-8793 NEMA 3R BOX, SCREW COVER 24X24X6 NO KO 100

N3RBC-24248 0576-8706 NEMA 3R BOX, SCREW COVER 24X24X8 100

N3RBC-24248NK 0576-8811 NEMA 3R BOX, SCREW COVER 24X24X8 NO KO 100

N3RBC-444 0576-8685 NEMA 3R BOX, SCREW COVER 4X4X4 100

N3RBC-444NK 0576-8796 NEMA 3R BOX, SCREW COVER 4X4X4 NO KO 100

N3RBC-664 0576-8655 NEMA 3R BOX, SCREW COVER 6X6X4 100

N3RBC-664NK 0576-8709 NEMA 3R BOX, SCREW COVER 6X6X4 NO KO 100

N3RBC-666 0576-8667 NEMA 3R BOX, SCREW COVER 6X6X6 100

N3RBC-666NK 0576-8721 NEMA 3R BOX, SCREW COVER 6X6X6 NO KO 100

N3RBC-884 0576-8658 NEMA 3R BOX, SCREW COVER 8X8X4 100

N3RBC-884NK 0576-8712 NEMA 3R BOX, SCREW COVER 8X8X4 NO KO 100

PART# STOCK CODE DESCRIPTION PER

NEMA SCREW COVER BOXES

N1BSC-12126 0553-2660 NEMA 1 BOX, SCREW COVER 12X12X6, WITH KN 100

N1BSC-12126NK 0553-2717 NEMA 1 BOX, SCREW COVER 12X12X6, NO KNOC 100

N1BSC-12128 0553-2663 NEMA 1 BOX, SCREW COVER 12X12X8, WITH KN 100

N1BSC-12128NK 0553-2720 NEMA 1 BOX, SCREW COVER 12X12X8, NO KNOC 100

N1BSC-12186 0553-2666 NEMA 1 BOX, SCREW COVER 12X18X6, WITH KN 100

N1BSC-12186NK 0553-2723 NEMA 1 BOX, SCREW COVER 12X18X6, NO KNOC 100

N1BSC-16164 0553-2669 NEMA 1 BOX, SCREW COVER 16X16X4, WITH KN 100

N1BSC-16164NK 0553-2726 NEMA 1 BOX, SCREW COVER 16X16X4, NO KNOC 100

N1BSC-16166 0553-2672 NEMA 1 BOX, SCREW COVER 16X16X6, WITH KN 100

N1BSC-16166NK 0553-2729 NEMA 1 BOX, SCREW COVER 16X16X6, NO KNOC 100

N1BSC-16168 0553-2675 NEMA 1 BOX, SCREW COVER 16X16X8, WITH KN 100

N1BSC-16168NK 0553-2732 NEMA 1 BOX, SCREW COVER 16X16X8, NO KNOC 100

N1BSC-181810NK 0580-0044 NEMA 1 BOX, SCREW COVER 18X18X10, NO KO 100

N1BSC-181812NK 0580-0059 NEMA 1 BOX, SCREW COVER - 18X18X12 NO KO 100

N1BSC-18184 0553-2678 NEMA 1 BOX, SCREW COVER 18X18X4, WITH KN 100

N1BSC-18184NK 0553-2735 NEMA 1 BOX, SCREW COVER 18X18X4, NO KNOC 100

N1BSC-18186 0553-2681 NEMA 1 BOX, SCREW COVER 18X18X6, WITH KN 100

N1BSC-18186NK 0553-2738 NEMA 1 BOX, SCREW COVER 18X18X6, NO KNOC 100

N1BSC-18188 0553-2684 NEMA 1 BOX, SCREW COVER 18X18X8, WITH KN 100

N1BSC-18188NK 0553-2741 NEMA 1 BOX, SCREW COVER 18X18X8, NO KNOC 100

N1BSC-242410NK 0580-0062 NEMA 1 BOX, SCREW COVER - 24X24X10 NO KO 100

N1BSC-242412NK 0580-0065 NEMA 1 BOX, SCREW COVER 24X24X12, NO KO 100

N1BSC-242418NK 0580-0068 NEMA 1 BOX, SCREW COVER 24X24X18, NO KO 100

N1BSC-24244 0553-2687 NEMA 1 BOX, SCREW COVER 24X24X4, WITH KN 100

N1BSC-24244NK 0553-2744 NEMA 1 BOX, SCREW COVER 24X24X4, NO KNOC 100

N1BSC-24246 0553-2690 NEMA 1 BOX, SCREW COVER 24X24X6, WITH KN 100

N1BSC-24246NK 0553-2747 NEMA 1 BOX, SCREW COVER 24X24X6, NO KNOC 100

N1BSC-24248 0553-2693 NEMA 1 BOX, SCREW COVER 24X24X8, WITH KN 100

N1BSC-24248NK 0553-2750 NEMA 1 BOX, SCREW COVER 24X24X8, NO KNOC 100

N1BSC-303010NK 0580-0080 NEMA 1 BOX, SCREW COVER 30X30X10, NO KO 100

N1BSC-303012NK 0580-0083 NEMA 1 BOX, SCREW COVER 30X30X12, NO KO 100

N1BSC-303018NK 0580-0086 NEMA 1 BOX, SCREW COVER 30X30X18, NO KO 100

N1BSC-30306NK 0580-0071 NEMA 1 BOX, SCREW COVER 30X30X6, NO KO 100

N1BSC-30308NK 0580-0077 NEMA 1 BOX, SCREW COVER 30X30X8, NO KO 100

N1BSC-363610NK 0580-0095 NEMA 1 BOX, SCREW COVER 36X36X10, NO KO 100

N1BSC-363612NK 0580-0104 NEMA 1 BOX, SCREW COVER 36X36X12, NO KO 100

N1BSC-363618NK 0580-0107 NEMA 1 BOX, SCREW COVER 36X36X18, NO KO 100

N1BSC-363624NK 0580-0113 NEMA 1 BOX, SCREW COVER 36X36X24, NO KO 100

N1BSC-36366NK 0580-0089 NEMA 1 BOX, SCREW COVER 36X36X6, NO KO 100

N1BSC-36368NK 0580-0092 NEMA 1 BOX, SCREW COVER 36X36X8, NO KO 100

N1BSC-444 0553-2639 NEMA 1 BOX, SCREW COVER 4X4X4, WITH KNOC 100

N1BSC-444NK 0553-2696 NEMA 1 BOX, SCREW COVER 4X4X4, NO KNOCKO 100

N1BSC-484812NK 0580-0116 NEMA 1 BOX, SCREW COVER 48X48X12, NO KO 100



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

194 195

PART# STOCK CODE DESCRIPTION PER

NM CABLE FITTINGS - D

WI L106 0291-5745 CABLE CLAMP 1-1/4” 100

WI L108 0291-5748 CABLE CLAMP 2” 100

WIL104 0278-6493 WI CABLE CLAMP 3/4” 100

WIL105 0278-6496 WI CABLE CLAMP 1” 100

WIL107 0278-6499 WI CABLE CLAMP 1 1/2” 100

WIL51 0278-6502 WI ROMEX CENNECTOR 3/8” TO 1/2” 100

PART# STOCK CODE DESCRIPTION PER

NM FLEX TUBING BLACK

WI FET025-B 0554-4951 1/4” NM FLEX ELECTRICAL TUBING BLACK 100

WI FET038-B 0554-4954 3/8” NM FLEX ELECTRICAL TUBING BLACK 100

WI FET050-B 0554-4957 1/2” NM FLEX ELECTRICAL TUBING BLACK 100

WI FET075-B 0554-4960 3/4” NM FLEX ELECTRICAL TUBING BLACK 100

WI FET100-B 0554-4963 1” NM FLEX ELECTRICAL TUBING BLACK 100

WI FET125-B 0554-4966 1-1/4” NM FLEX ELECTRICAL TUBING BLACK 100

WI FET150-B 0554-4969 1-1/2” NM FLEX ELECTRICAL TUBING BLACK 100

WI FET200-B 0554-4972 2” NM FLEX ELECTRICAL TUBING BLACK 100

PART# STOCK CODE DESCRIPTION PER

NON-METALLIC LIQUIDTIGHT

WI NM038 0282-8436 WI NON-MET LQD TTE COND 3/8”X100 FT 100

WI NM038-BOX 0295-0869 WI NON METALLIC LIQUID TIGHT CONDUIT - 3 100

WI NM050 0278-3778 WI NON MET LQD TTE COND 1/2”X100 FT 100

WI NM050-BOX 0295-0872 WI NON METALLIC LIQUID TIGHT CONDUIT - 1 100

WI NM075 0278-3784 WI NON MET LQD TTE COND 3/4”X100 FT 100

WI NM075-BOX 0295-0875 WI NON METALLIC LIQUID TIGHT CONDUIT - 3 100

WI NM100 0278-3790 WI NON MET LQD TTE COND 1”X100 FT 100

WI NM100-BOX 0295-0878 WI NON METALLIC LIQUID TIGHT CONDUIT - 1 100

WI NM125 0278-3796 WI NON MET LQD TTE COND 1 1/4”X100 FT 100

WI NM150 0278-3799 WI NON MET LQD TTE COND 1 1/2”X50 FT 100

WI NM150-BOX 0295-0884 WI NON METALLIC LIQUID TIGHT CONDUIT - 1 100

WI NM200 0278-3802 WI NON MET LQD TTE COND 2”X50 FT 100

WI NM200-BOX 0295-0887 WI NON METALLIC LIQUID TIGHT CONDUIT - 2 100

WINM050REEL 0278-3781 WI NM LQD TTE COND 1/2”X1000FT 100

WINM050REEL-S 0321-4860 NM LQT CONDUIT 1/2”X1000FT W/O COUPLING 100

WINM075REEL 0278-3787 WI NM LQD TTE COND 3/4”X800FT 100

WINM075REEL-S 0321-4863 NM LQT CONDUIT 3/4”X500FT W/O COUPLING 100

WINM100REEL 0278-3793 WI NM LQD TTE COND 1”X500FT 100

PART# STOCK CODE DESCRIPTION PER

NEMA SCREW COVER BOXES

N3RBC-886 0576-8670 NEMA 3R BOX, SCREW COVER 8X8X6 100

N3RBC-886NK 0576-8724 NEMA 3R BOX, SCREW COVER 8X8X6 NO KO 100

N3RWT-4412 0576-8814 NEMA 3R WATERTIGHT WIRE TROUGH 4X4X12 100

N3RWT-4424 0576-8817 NEMA 3R WATERTIGHT WIRE TROUGH 4X4X24 100

N3RWT-4436 0576-8820 NEMA 3R WATERTIGHT WIRE TROUGH 4X4X36 100

N3RWT-4448 0576-8823 NEMA 3R WATERTIGHT WIRE TROUGH 4X4X48 100

N3RWT-4460 0576-8826 NEMA 3R WATERTIGHT WIRE TROUGH 4X4X60 100

N3RWT-6612 0576-8829 NEMA 3R WATERTIGHT WIRE TROUGH 6X6X12 100

N3RWT-6624 0576-8832 NEMA 3R WATERTIGHT WIRE TROUGH 6X6X24 100

N3RWT-6636 0576-8835 NEMA 3R WATERTIGHT WIRE TROUGH 6X6X36 100

N3RWT-6648 0576-8838 NEMA 3R WATERTIGHT WIRE TROUGH 6X6X48 100

N3RWT-6660 0576-8841 NEMA 3R WATERTIGHT WIRE TROUGH 6X6X60 100

N3RWT-8812 0576-8844 NEMA 3R WATERTIGHT WIRE TROUGH 8X8X12 100

N3RWT-8824 0576-8847 NEMA 3R WATERTIGHT WIRE TROUGH 8X8X24 100

N3RWT-8836 0576-8850 NEMA 3R WATERTIGHT WIRE TROUGH 8X8X36 100

N3RWT-8848 0576-8853 NEMA 3R WATERTIGHT WIRE TROUGH 8X8X48 100

N3RWT-8860 0576-8856 NEMA 3R WATERTIGHT WIRE TROUGH 8X8X60 100

PART# STOCK CODE DESCRIPTION PER

NM CABLE FITTINGS

NMRC050 0531-9150 ROMEX CONNECTOR - 1/2” 100

NMRC075 0531-9153 ROMEX CONNECTOR - 3/4” 100

WI 1200 0293-7519 PLASTIC POP-IN CONNECTOR 1/2” 100

WI 1202 0293-7522 PLASTIC POP-IN CONNECTOR 3/4” 100

WI BUSHING 1/2” 0279-9927 WI NYLON BUSHING 1/2” FLAME RETARDANT 100

WI BUSHING 3/4” 0279-9930 WI NYLON BUSHING 3/4” FLAME RETARDANT 100

WI NMBC-125 0551-8827 1 1/4” 2 PIECE NM CLAMP- BUTTERFLY TYPE 100

WI NMBC-150 0551-8830 1 1/2” TO 1/2” 2 PIECE NM CLAMP- BUTTERF 100

WI NMBC-3850 0551-8821 3/8” TO 1/2” 2 PIECE NM CLAMP- BUTTERFLY 100

WI NMBC-75100 0551-8824 3/4” TO 1” 2 PIECE NM CLAMP- BUTTERFLY T 100

WI OV100 0321-3801 1” OVAL NM CABLE CLAMP 8-3 TO 4-3 100

WI OV125 0321-3819 1-1/4” OVAL NM CABLE CLAMP 4-3 TO 1-3 100

WI OV150 0321-3822 1-1/2” OVAL NM CABLE CLAMP 1-3 TO 1/0-3 100

WI OV200 0321-3825 2” OVAL NM CABLE CLAMP 1/0-3 TO 4/0-3 100

WI RX100 0315-1845 NM 1 HOLE STRAP 100

WI SB1 0293-7669 UNIVERSAL SNAP-IN BUSHING 100

WI TA100 0321-1245 1” TAKE ALL CONN 100

WI TA125 0321-1248 1-1/4” TAKE ALL CONN 100

WI TA150 0321-1251 1-1/2” TAKE ALL CONN 100

WI TA200 0321-1254 2” TAKE ALL CONN 100

WI TA50 0321-1239 1/2” TAKE ALL CONN 100

WI TA75 0321-1242 3/4” TAKE ALL CONN 100

WI TA125

WI FET025-B

WI L106



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

196 197

PART# STOCK CODE DESCRIPTION PER

POST BASES

P152S6 0305-8437 POST BASE SGL CHAN 4 HOLE STD 1-5/8 316S 100

P153GR 0304-8984 DS-POST BASE SGL CHN 4H STD 3 1/2 GR 100

P153HD 0305-8440 DS-POST BASE SGL CHAN 4H SQ 3-1/2 HDG 100

P153S4 0305-8443 DS-POST BASE SGL CHAN 4H STD 3-1/2 SS30 100

P153S6 0305-8446 POST BASE SGL CHAN 4 HOLE STD 3-1/2 316S 100

P153YC 0305-8449 POST BASE SGL CHAN 4 HOLE STD 3-1/2 YC 100

P154EG 0583-9044 DS-POST BASE SGL CHN 4 HOLE SQ 3 1/2 EG 100

P154GR 0304-8987 DS-POST BASE SGL CHN 4 HOLE SQ 3 1/2 GR 100

P154HD 0305-8452 POST BASE SGL CHAN 4 HOLE SQ 3-1/2 HDG 100

P154S4 0304-9059 POST BASE SGL CHAN 4 HOLE SQ 3 1/2 SS304 100

P154S6 0305-8455 DS-POST BASE SGL CHAN 4H SQ 3-1/2 316SS 100

P154YC 0305-8458 POST BASE SGL CHAN 4 HOLE SQ 3-1/2 YC 100

P155 0304-8660 POST BASE SGL CHAN 4 HOLE SQ GUSSET 3 100

P156 0304-8663 POST BASE DOUBLE CHAN 1 HOLE 5/8 EG 100

P157 0304-8666 POST BASE DBL CHAN 2 HL SQ 3 1/2 BOXED 100

P158 0304-8669 POST BASE DBL CHAN 4 HL STD 1 5/8 EG 100

P159 0304-8672 POST BASE DBL CHAN 4 HOLE STD 3 1/2 EG 100

P159GR 0305-8461 POST BASE DBL CHN 4 HOLE SQ 3-1/2 GR 100

P159HD 0305-8464 POST BASE DBL CHAN 4 HOLE STD 3-1/2 HDG 100

P159S4 0305-8467 POST BASE DBL CHAN 4 HOLE STD 3-1/2 SS30 100

P159S6 0305-8470 POST BASE DBL CHAN 4 HOLE STD 3-1/2 316S 100

P160 0304-8675 POST BASE DBL CHAN 4 HOLE SQ 3 1/2 EG 100

P160GR 0305-8473 POST BASE DBL CHN 4 HOLE SQ 3-1/2 GR 100

P160HD 0305-8476 POST BASE DBL CHAN 4 HOLE SQR 3-1/2 HD 100

P160S4 0305-8479 POST BASE DBL CHAN 4 HOLE SQ 3-1/2 SS304 100

P160S6 0305-8482 POST BASE DBL CHAN 4 HOLE SQ 3-1/2 316SS 100

P160YC 0305-8485 POST BASE DBL CHAN 4 HOLE SQ 3-1/2 YC 100

P161 0315-3648 POST BASE SGL CHAN 2 HL FLUSH 1-5/8” 100

P162 0304-8678 POST BASE SGL CHAN 4 HOLE STD SQ 1 5/8 100

P163 0305-8488 POST BASE DBL CHA 2 HOLE STD 3-1/2 FLUSH 100

P164 0305-8491 POST BASE DBL CHA 2 HOLE STD 1-5/8 FLUSH 100

P165 0305-8494 POST BASE SGL CHA 2 HOLE STD 3-1/2 FL 100

P166 0315-3651 POST BASE 4 CHAN COMBO 4 HL SQ 100

P167 0305-8497 POST BASE DBL CHAN 4 HL STD 1-5/8 SQ 100

P168 0314-6853 POST BASE DBL 100

WI POST4H3-1/2EG 0287-6286 WI POST BASE SGL CHAN 4H STD 3-1/2”EG 100

WI POST4HSQ3-1/2EG 0287-6289 WI POST BASE SGL CHAN 4H SQ 3-1/2”EG 100

PART# STOCK CODE DESCRIPTION PER

PVC ADAPTERS

BA05 0320-9361 078276 1/2” BOX ADAPTER 100

BA07 0320-9430 078277 3/4” BOX ADAPTER 078277 100

PART# STOCK CODE DESCRIPTION PER

PANCAKE BOXES

CM-3PB 0262-7646 3-1/2” PANCAKE BOX, 1/2” DEEP 100

CM-3PB-NM 0262-7649 3-1/2” PANCAKE BOX, 1/2” DEEP, W/NM C 100

CM-3PDB-NM 0262-7652 3-1/2” PANCAKE DEEP BOX, 3/4” DEEP 100

CM-4PB 0262-7694 4” PANCAKE BOX 100

CM-4PB-NM 0262-7697 4” PANCAKE BOX, 1/2” DEEP, W/NM CLAMP 100

PART# STOCK CODE DESCRIPTION PER

PIPE ROLLER

PR1-4P 0305-8500 PIPE ROLLER 1”-4” PIPE EG 100

PR16-24 0305-8503 PIPE ROLLER HEAVY DUTY 16”-24” PIPE EG 100

PR3740EG 0305-8506 PIPE ROLLER 3-1/2”-4” PIPE EG 100

PR4360EG 0305-8509 PIPE ROLLER 4-1/2”-6” PIPE EG 100

PR6-16 0305-8512 PIPE ROLLER HEAVY DUTY 6”-16” PIPE EG 100

PR6380EG 0305-8515 PIPE ROLLER 6-1/2”-8” PIPE EG 100

PR9010EG 0305-8518 PIPE ROLLER 9”-10” PIPE EG 100

PART# STOCK CODE DESCRIPTION PER

PLASTIC BOX EXTENDER

PBE1G 0583-2945 1 GANG PLASTIC BOX EXTENDER 100

PBE2G 0583-2948 2 GANG BOX ENTENDER 100

PBE3G 0583-2951 3 GANG PLASTIC BOX EXTENDER 100

PBE4G 0583-2954 4 GANG PLASTIC BOX EXTENDER 100

PBER 0583-2957 ROUND PLASTIC BOX EXTENDER 100

PART# STOCK CODE DESCRIPTION PER

POST BASES

P150 0304-8651 POST BASE SGL CHAN 2 HOLE SQ 3 1/2 EG 100

P150GR 0305-8410 POST BASE SGL CHN 2 HL SQ 3-1/2 GR 100

P150HD 0304-8921 POST BASE SGL CHAN 2 HOLE SQ 3 1/2 HDG 100

P150S4 0305-8413 POST BASE SGL CHAN 2 HOLE SQ 3-1/2 304SS 100

P150S6 0305-8416 POST BASE SGL CHAN 2 HOLE SQ 3-1/2 316SS 100

P150YC 0305-8419 POST BASE SGL CHAN 2 HOLE SQ 3-1/2 YC 100

P151 0304-8654 POST BASE SGL CHAN 2 HL SQ FL 3 1/2 EG 100

P151HD 0305-8422 POST BASE SGL CHAN 2 HOLE FL 3-1/2 HDG 100

P151S4 0304-9056 POST BASE SGL CHAN 2 HL FL 3 1/2 SS304 100

P151S6 0305-8425 POST BASE SGL CHAN 2 HL FL 3-1/2 316SS 100

P151YC 0305-8428 POST BASE SGL CHAN 2 HL SQ FL 3-1/2 YC 100

P152 0304-8657 POST BASE SGL CHAN 4 HOLE STD 1 5/8 EG 100

P152HD 0305-8431 POST BASE SGL CHAN 4 HOLE STD 1-5/8 HDG 100

P152S4 0305-8434 POST BASE SGL CHAN 4 HOLE STD 1-5/8 SS30 100

CM-3PB

PR1-4P

P150

P160GR

BA05



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

198 199

PART# STOCK CODE DESCRIPTION PER

PVC CONDUIT BODIES

C3 0321-0105 078123 3” TYPE C ACCESS FITTING 100

C35 0321-0090 078124 3-1/2” TYPE C ACCESS FITTING 100

C4 0274-0614 078125 4” TYPE C ACCESS FITTING 100

E05 0321-0186 078128 1/2” TYPE E ACCESS FITTING 100

E07 0321-0189 078129 3/4” TYPE E ACCESS FITTING 100

E1 0321-0192 078130 1” TYPE E ACCESS FITTING 100

E125 0321-0195 078131  1-1/4” TYPE E ACCESS FITTING 100

E15 0321-0198 078132 1-1/2” TYPE E ACCESS FITTING 100

E2 0321-0201 078133 2” TYPE E ACCESS FITTING 100

E25 0321-0204 078134 2-1/2” TYPE E ACCESS FITTING 100

E3 0321-0015 078135 3” TYPE E ACCESS FITTING 100

E35 0321-0207 078136 3-1/2” TYPE E ACCESS FITTING 100

E4 0321-0210 078137 4” TYPE E ACCESS FITTING 100

LB1 0320-9211 078142 1” TYPE LB ACCESS FITTING 100

LB125 0320-9235 078143 1-1/4” TYPE LB ACCESS FITTING 100

LB15 0235-2243 078144 1-1/2” TYPE LB 100

LB2 0320-9190 078145 2” TYPE LB ACCESS FITTING 100

LB25 0235-2246 078146 2-1/2” TYPE LB 100

LB3 0320-9568 078147 3” TYPE LB ACCESS FITTING 100

LB35 0255-3405 (078148)3-1/2” “LB” CONDULET 100

LB4 0320-9670 (078149)4” TYPE LB ACCESS FITTING 100

LL05 0235-2255 (078152)1/2” TYPE LL 100

LL07 0235-2258 (078153)3/4” TYPE LL 100

LL1 0320-9616 (078154)1” TYPE LL ACCESS FITTING 100

LL125 0320-9796 (078155)1-1/4” TYPE LL ACCESS FITTING 100

LL15 0235-2267 (078156)1 1/2” TYPE LL 100

LL2 0320-9706 (078157)2” TYPE LL ACCESS FITTING 100

LL25 0263-7447 2 1/2 TYPE LL ACCESS FITTING 100

LL3 0321-0042 078159 3” TYPE LL ACCESS FITTING 100

LL35 0263-7453 078160 3-1/2 TYPE LL ACCESS FITTING 100

LL4 0321-0021 078161 4” TYPE LL ACCESS FITTING 100

LR05 0262-6035 (078164)1/2” LR ACCESS FITTING 100

LR07 0262-6038 (078165)3/4” LR ACCESS FITTING 100

LR1 0320-9619 (078166)1” TYPE LR ACCESS FITTING 100

LR125 0320-9802 (078167)1-1/4” TYPE LR ACCESS FITTING 100

LR15 0262-6047 (078168)1-1/2” LR ACCESS FITTING 100

LR2 0320-9691 (078169)2” TYPE LR ACCESS FITTING 100

LR25 0265-4307 2-1/2” ACCESS TYPE LR 100

LR3 0320-9982 078171 3” TYPE LR ACCESS FITTING 100

LR35 0265-4313 078172 3-1/2” ACCESS TYPE LR 100

LR4 0321-0045 078173 4” TYPE LR ACCESS FITTING 100

T05 0255-3399 078176 1/2” “T” CONDULET 100

T07 0255-3402 078177 3/4” “T” CONDULET 100

PART# STOCK CODE DESCRIPTION PER

PVC ADAPTERS

BA1 0320-9364 078278 1” BOX ADAPTER 100

BA125 0320-9340 078279 1-1/4” BOX ADAPTER 100

BA15 0320-9466 078280 1-1/2” BOX ADAPTER 100

BA2 0320-9199 (078281)2” BOX ADAPTER 078281 100

BA25 0320-9625 078282 2-1/2” BOX ADAPTER 100

BA3 0320-9592 078283 3” BOX ADAPTER 100

BA35 0320-9775 078284 3-1/2” BOX ADAPTER 100

BA4 0320-9637 078285 4” BOX ADAPTER 100

FA05 0008-2081 (078070)1/2” PVC FEMALE ADAPTER SCH 40 100

FA07 0008-2084 (078071)3/4” PVC FEMALE ADAPTER SCH 40 100

FA1 0320-9145 078072 1” FEMALE ADAPTER 100

FA125 0321-3813 (078073)1-1/4” FEMALE ADAPTER 100

FA15 0009-6475 078074 1-1/2” FEMALE ADAPTER 100

FA2 0320-9220 078075 2” FEMALE ADAPTER 078075 100

FA25 0240-6375 078076 2-1/2 PVC FEMALE ADAPTER 100

FA3 0320-9379 078077 3” FEMALE ADAPTER 100

FA35 0240-6378 078078 3-1/2 PVC FEMALE ADAPTER 100

FA4 0320-9448 078079 4” FEMALE ADAPTER 100

FA5 0320-9868 078080 5” FEMALE ADAPTER 100

FA6 0321-0063 078081 6” FEMALE ADAPTER 100

TA05 0008-2069 78084 1/2” PVC TERM ADAPTER SCH 40 100

TA07 0008-2072 (078085)3/4” PVC TERM ADAPTER SCH 40 100

TA1 0320-9130 (078086)1” TERMINAL ADAPTER 100

TA125 0320-9148 (078087)1-1/4” TERMINAL ADAPTER 100

TA15 0009-6874 (078088)1 1/2” TERMINAL ADAPTER 100

TA2 0320-9124 (078089)2” TERMINAL ADAPTER 100

TA25 0009-6877 78090 2 1/2” TERMINAL ADAPTER 100

TA3 0320-9181 (078091)3” TERMINAL ADAPTER 100

TA35 0009-6883 078092 3-1/2” TERMINAL ADAPTER 100

TA4 0320-9217 078093 4” TERMINAL ADAPTER 100

TA5 0320-9487 078094 5” TERMINAL ADAPTER 100

TA6 0320-9385 078095 6” TERMINAL ADAPTER 100

PART# STOCK CODE DESCRIPTION PER

PVC CONDUIT BODIES

C05 0234-8364 078116 C05 1/2C PVC 100

C07 0234-8367 078117 C07 3/4C PVC 100

C1 0320-9460 078118 1” TYPE C ACCESS FITTING 100

C125 0320-9733 078119 1-1/4” TYPE C ACCESS FITTING 100

C15 0263-7429 078120 1- 1/2 TYPE C ACCESS FITTING 100

C2 0320-9640 078121 2” TYPE C ACCESS FITTING 100

C25 0263-7432 078122 2 1/2 TYPE C ACCESS FITTING 100

FA05

C05

T05



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

200 201

PART# STOCK CODE DESCRIPTION PER

PVC DUCT SPACERS

DS215B 0556-6521 2 X 1 1/2 BASE SPACER 100

DS215I 0582-6579 2 X 1-1/2 IN INTER DUCT SPACE 100

DS22B 0320-9730 029567 2X2 BASE SPACERS 100

DS22I 0346-7892 2X2 INTERMEDIATE DUCT SPACER 100

DS23B 0320-9748 029568 2X3 BASE SPACER 100

DS23I 0320-9505 029552  2X3 INTERMEDIATE SPACER 100

DS315B 0582-6576 3 X 1-1/2 BASE SPACER 100

DS315I 0582-6582 3 X 1-1/2 IN INTER DUCT SPACER 100

DS32B 0328-9674 3 X 2 BASE SPACER 100

DS32I 0320-9658 029554 3X2 INTERMEDIATE SPACER 100

DS33B 0331-9311 3X3 BASE SPACER 100

DS33I 0320-9304 029555 3X3 INTERMEDIATE SPACERS 100

DS415B 0321-0144 029573 4X1-1/2 BASE SPACER 100

DS415I 0321-0147 029557 4X1-1/2 INTERMEDIATE SPACER 100

DS41B 0321-0150 029572 4X1 BASE SPACER 100

DS41I 0288-9510 029555 INT.VERTICAL-LOK SPACER 4”X1” 100

DS42B 0320-9736 029574  4X2 BASE SPACER 100

DS42I 0320-9532 029558 4X2 INTERMEDIATE SPACERS 100

DS43B 0320-9463 029575 4X3 BASE SPACERS 100

DS43I 0320-9355 029559 4X3 INTERMEDIATE SPACERS 100

DS515B 0321-0153 029576 5X1-1/2 BASE SPACER 100

DS515I 0321-0156 029560 5X1-1/2 INTERMEDIATE SPACER 100

DS52B 0321-0159 029577 5X2 BASE SPACER 100

DS52I 0321-0162 029561 5X2 INTERMEDIATE SPACER 100

DS53B 0321-0165 029578 5X3 BASE SPACERS 100

DS53I 0321-0168 029562 5X3 INTERMEDIATE SPACER 100

DS615B 0321-0171 029579 6X1-1/2 BASE SPACER 100

DS615I 0321-0174 029563 6X1-1/2 INTERMEDIATE SPACER 100

DS62B 0321-0177 029580 6X2 BASE SPACER 100

DS62I 0321-0180 029564 6X2 INTERMEDIATE SPACERS 100

DS63B 0320-9829 029581 6X3 BASE SPACER 100

DS63I 0321-0183 029565 6X3 INTERMEDIATE SPACER 100

PART# STOCK CODE DESCRIPTION PER

PVC END BELLS

EB05 0320-9913 078288 1/2” END BELLS 100

EB07 0320-9319 078289 3/4” END BELLS 100

EB1 0320-9358 078290 1” END BELLS 100

EB10 0563-4348 178270 10” END BELLS 100

EB125 0320-9529 078291 1-1/4” END BELLS 100

EB15 0320-9649 078292 1-1/2” END BELLS 100

EB2 0320-9445 078293 2” END BELLS 100

PART# STOCK CODE DESCRIPTION PER

PVC CONDUIT BODIES

T1 0320-9421 078178 1” TYPE T ACCESS FITTING 100

T125 0320-9790 078179 1-1/4” TYPE T ACCESS FITTING 100

T15 0262-6059 078180 1-1/2” T ACCESS FITTING 100

T2 0320-9823 078181 2” TYPE T ACCESS FITTING 100

T25 0263-7486 078182 2-1/2” TYPE T ACCESS FITTING 100

T3 0321-0075 078183 3” TYPE T ACCESS FITTING 100

T35 0263-7492 078184 3-1/2” TYPE T ACCESS FITTING 100

T4 0321-0102 078185 4” TYPE T ACCESS FITTING 100

C125 0425-4804 CNDT CLP 1 1/4” W/ 9/32 THRU HOLE 100

C150 0425-4807 CNDT CLP 1 1/2” W/ 9/32 THRU HOLE 100

C200 0425-4810 CNDT CLP 2” W/ 9/32 THRU HOLE 100

TB05 0574-6458 1/2” TYPE TB PVC ACCESS FITTING 100

TB07 0574-6461 3/4” TYPE TB PVC ACCESS FITTING 100

TB1 0574-6464 1” TYPE TB PVC ACCESS FITTING 100

TB125 0574-6467 1-1/4” TYPE TB PVC ACCESS FITTING 100

TB15 0574-6470 1-1/2” TYPE TB PVC ACCESS FITTING 100

TB2 0574-6473 2” TYPE TB PVC ACCESS FITTING 100

PART# STOCK CODE DESCRIPTION PER

PVC COUPLING

CP05 0008-2057 (078001)1/2” PVC COUPLIING SCH40 100

CP1 0320-9115 078003 1” COUPLING 100

CP125 0320-9142 (078004)1-1/4” COUPLING 078004 100

CP15 0009-6457 078005 1-1/2” PVC COUPLING SCH 40 100

CP2 0320-9127 (078006)2” COUPLING 078006 100

CP25 0009-6460 (078007)2-1/2” PVC COUPLING SCH 40 100

CP3 0320-9178 (078008)3” COUPLING 078008 100

CP35 0240-6372 078009 3-1/2 PVC COUPLING 100

CP4 0320-9163 (078010)4” COUPLING 078010 100

CP5 0320-9697 078012 5” COUPLING 100

CP6 0320-9817 078014 6” COUPLING 100

LC2 0320-9310 78063 2” LONG LINE COUPLING W/STOP 100

LC25 0320-9499 78065 2-1/2” LONG LINE COUPLING W/STOP 100

LC3 0320-9478 78066 3” LONG LINE COUPLING W/STOP 100

LC4 0320-9541 78067 4” LONG LINE COUPLING W/STOP 100

LC5 0321-0324 78068 5” LONG LINE COUPLING W/STOP 100

LC6 0321-0327 78069 6” LONG LINE COUPLING W/STOP 100

CP05

DS315B

EB05

T05



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

202 203

PART# STOCK CODE DESCRIPTION PER

PVC FAN & FIXTURE SUPPORT

CM-FSLPB 0309-3714 4” PLASTIC L SHAPE FAN/FIXT SUPPORT BOX 100

CM-FSSB 0374-3850 4” FAN SUPPORT SADDLE BOX 12.5 CU. IN. 100

CM-FSSB-XL 0542-5347 4” FS SADDLE BOX 16 CU.IN 100

PART# STOCK CODE DESCRIPTION PER

PVC LONG RADIUS ELBOWS

EL11.254436 0549-5532 PVC ELBOW 11.25° SCH 40 4” 36” RADIUS 100

EL11.2545 0321-0219 ELBOW 11.25 DEG SCH 40 5” 178067 100

EL22.5407 0549-6474 PVC ELBOW 22.5° SCH40 3/4” 100

EL22.541518 0288-9246 1-1/2” 22-1/2° PLAIN END ELB SCH40 18” 100

EL22.541524 0288-9264 1-1/2” 22-1/2° PLAIN END ELB SCH40 24” 100

EL22.541530 0288-9276 1-1/2” 22-1/2° PLAIN END ELB SCH40 30” 100

EL22.541536 0288-9306 1-1/2” 22-1/2° PLAIN END ELB SCH40 36” 100

EL22.541548 0288-9333 1-1/2” 22-1/2° PLAIN END ELB SCH40 48” 100

EL22.54218 0288-9249 2” 22-1/2° PLAIN END ELB SCH40 18” RADIU 100

EL22.54224 0353-3229 2” SCH40 22.5DEG 24” RAD 100

EL22.54224B 0321-0234 2” 22DEG X 24 RAD BELL END 100

EL22.54230 0288-9279 2” 22-1/2° PLAIN END ELB SCH40 30” RADIU 100

EL22.54236 0288-9309 2” 22-1/2° PLAIN END ELB SCH40 36” RADIU 100

EL22.54248 0288-9336 2” 22-1/2° PLAIN END ELB SCH40 48” RADIU 100

EL22.542518 0288-9252 2-1/2” 22-1/2° PLAIN END ELB SCH40 18” 100

EL22.542524 0321-0096 2-1/2” 22-1/2 SCH40 PE ELBOW 24” RAD 100

EL22.542524B 0320-9988 2-1/2” 22DEG X 24 RAD BELL END 100

EL22.542530 0288-9282 2-1/2” 22-1/2° PLAIN END ELB SCH40 30” 100

EL22.542536 0288-9312 2-1/2” 22-1/2° PLAIN END ELB SCH40 36” 100

EL22.542548 0288-9339 2-1/2” 22-1/2° PLAIN END ELB SCH40 48” 100

EL22.542560 0321-0237 ELBOW 22.5 DEG 2 1/2 IN 60IN RADIUS 100

EL22.5425B 0353-1819 2-1/2” 22DEG SCH40 BE ELBOW 100

EL22.54318 0288-9255 3” 22-1/2° PLAIN END ELB SCH40 18” RADIU 100

EL22.54324 0354-3171 22.5 DEGREE SCH40 3” 24RAD. ELBOW 100

EL22.54330 0288-9285 3” 22-1/2° PLAIN END ELB SCH40 30” RADIU 100

EL22.54336 0321-0240 3” 22.5 SCH40 PE ELBOW 36” RAD 068517 100

EL22.54348 0288-9342 3” 22-1/2° PLAIN END ELB SCH40 48” RADIU 100

EL304336 0288-9186 3” 30° PLAIN END ELB SCH40 36” RADIUS 100

EL304348 0288-9216 3” 30° PLAIN END ELB SCH40 48” RADIUS 100

EL304436 0288-9192 4” 30° PLAIN END ELB SCH40 36” RADIUS 100

EL304448 0288-9222 4” 30° PLAIN END ELB SCH40 48” RADIUS 100

EL304460 0288-9231 4” 30° PLAIN END ELB SCH40 60” RADIUS 100

EL3045 0288-8562 5” 30° PLAIN END ELB SCH40 100

EL304530 0288-9168 5” 30° PLAIN END ELB SCH40 30” RADIUS 100

EL304536 0288-9195 5” 30° PLAIN END ELB SCH40 36” RADIUS 100

EL304548 0288-9225 5” 30° PLAIN END ELB SCH40 48” RADIUS 100

PART# STOCK CODE DESCRIPTION PER

PVC END BELLS

EB25 0320-9700 078294 2-1/2” END BELLS 100

EB3 0320-9550 078295 3” END BELLS 100

EB35 0320-9739 078296 3-1/2” END BELLS 100

EB4 0320-9589 078297 4” END BELLS 100

EB5 0320-9724 078298 5” END BELLS 100

EB6 0321-0006 078299 6” END BELLS 100

EB8 0563-4345 278123 8” END BELLS 100

EBE10 0567-0204 10” END BELL EXTERNAL 100

EBE8 0567-0201 8” END BELL EXTERNAL 100

CPS05 0320-9427 078314 1/2” CAPS 100

CPS07 0320-9559 (078315)3/4” CAPS 078315 100

CPS1 0320-9343 078316 1” CAPS 100

CPS125 0320-9742 078317 1-1/4” CAPS 100

CPS15 0320-9631 078318 1-1/2” CAPS 100

CPS2 0320-9316 078319 2” CAPS 100

CPS25 0320-9610 078320 2-1/2” CAPS 100

CPS3 0320-9799 078321 3” CAPS 100

CPS35 0320-9838 078322 3-1/2” CAPS 100

CPS4 0320-9511 078323 4” CAPS 100

CPS5 0320-9967 078324 5” CAPS 100

CPS6 0321-0093 078325 6” CAPS 100

PART# STOCK CODE DESCRIPTION PER

PVC EXPANSION COUPLINGS

EC05 0257-4093 1/2” EXPANSION COUPLING 100

EC07 0259-3632 3/4” EXPANSION COUPLING 100

EC1 0320-9493 1” EXP CPLG-2PC 078330 100

EC125 0320-9586 1-1/4” EXP CPLG-2PC 078331 100

EC15 0259-3638 1-1/2” EXPANSION COUPLING 100

EC2 0320-9442 2” EXP CPLG-2PC 078333 100

EC25 0259-3641 2-1/2” EXPANSION COUPLING 100

EC3 0320-9538 (078336)3” EXP CPLG-2PC 078336 100

EC35 0259-3647 3-1/2” EXPANSION COUPLING 100

EC4 0320-9769 4” EXP CPLG-2PC 078338 100

EC5 0321-0108 5” EXP CPLG-2PC 078339 100

EC6 0321-0213 6” EXP CPLG-2PC 078340 100

OPEJ05 0321-0330 078240 1/2” EXP CPLG 1PC 100

OPEJ07 0320-9919 078209 3/4” EXP CPLG 1PC 100

OPEJ1 0321-0333 078208 1” EXP CPLG 1PC 100

OPEJ125 0321-0336 078204 1-1/4” EXP CPLG 1PC 100

OPEJ15 0321-0339 078045 1-1/2” EXP CPLG 1PC 100

OPEJ2 0321-0342 078388 2” EXP CPLG 1PC 100

EC05

EL11.2545

CM-FSLPB

EB05



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

204 205

PART# STOCK CODE DESCRIPTION PER

PVC LONG RADIUS ELBOWS

EL454648 0289-0230 6” 45D PE ELB SCH40 48” RADIUS 100

EL454648B 0288-9084 6” 45° BELL END ELB SCH40 48” RADIUS 100

EL454660 0288-9099 6” 45° PLAIN END ELB SCH40 60” RADIUS 100

EL4546B 0288-8586 6” 45° BELL END ELB SCH40 100

EL4548 0595-5207 8” 45° SCH40 PE ELBOW 100

EL45805 0320-9535 1/2” 45 SCH80 PE ELBOW 100

EL458230 0288-8919 2” 45° PLAIN END ELB SCH80 30” RADIUS 100

EL458236 0288-8967 2” 45° PLAIN END ELB SCH80 36” RADIUS 100

EL458248 0288-9030 2” 45° PLAIN END ELB SCH80 48” RADIUS 100

EL904118 0288-8589 1” 90° PLAIN END ELB SCH40 18” RADIUS 100

EL904124 0321-0264 1” 90 ELBOW SCH40 24” RADIUS 068722 100

EL90412524 0288-8637 1-1/4” 90° PLAIN END ELB SCH40 24” RADIU 100

EL90412530 0288-8661 1-1/4” 90° PLAIN END ELB SCH40 30” RADIU 100

EL90412536 0288-8709 1-1/4” 90° PLAIN END ELB SCH40 36” RADIU 100

EL90412548 0288-8739 1-1/4” 90° PLAIN END ELB SCH40 48” RADIU 100

EL904130 0288-8655 1” 90° PLAIN END ELB SCH40 30” RADIUS 100

EL904136 0289-0146 1” 90D PE ELB SCH40 36” RADIUS 100

EL904148 0288-8733 1” 90° PLAIN END ELB SCH40 48” RADIUS 100

EL9041518 0288-8601 1-1/2” 90° PLAIN END ELB SCH40 18” RADIU 100

EL9041524 0289-0110 1-1/2” 90D PE ELB SCH40 24” RADIUS 100

EL9041524B 0321-0072 1-1/2” 90 SCH40 BE ELBOW 24” RADIUS 100

EL9041530 0288-8667 1-1/2” 90° PLAIN END ELB SCH40 30” RADIU 100

EL9041536 0289-0149 1-1/2” 90D PE ELB SCH40 36” RADIUS 100

EL9041548 0288-8745 1-1/2” 90° PLAIN END ELB SCH40 48” RADIU 100

EL904218 0288-8607 2” 90° PLAIN END ELB SCH40 18” RADIUS 100

EL904218B 0288-8625 2” 90° BELL END ELB SCH40 18” RADIUS 100

EL904224 0320-9607 2” 90 SCH40 PE ELBOW 24” RADIUS 068725 100

EL904224B 0289-0131 2” 90D BE ELB SCH40 24” RADIUS 100

EL904230 0288-8673 2” 90° PLAIN END ELB SCH40 30” RADIUS 100

EL904236 0320-9409 2” 90 SCH40 PE ELBOW 36” RAD 068765 100

EL904236B 0320-9808 2” 90 SCH40 BE ELBOW 36” RADIUS 100

EL904248 0289-0170 2” 90D PE ELB SCH40 48” RADIUS 100

EL904248B 0289-0203 2” 90D BE ELB SCH40 48” RADIUS 100

EL9042518 0288-8613 2-1/2” 90° PLAIN END ELB SCH40 18” RADIU 100

EL9042518B 0288-8628 2-1/2” 90° BELL END ELB SCH40 18” RADIUS 100

EL9042524 0289-0116 2-1/2” 90D PE ELB SCH40 24” RADIUS 100

EL9042524B 0289-0134 2-1/2” 90D BE ELB SCH40 24” RADIUS 100

EL9042530 0288-8679 2-1/2” 90° PLAIN END ELB SCH40 30” RADIU 100

EL9042536 0320-9502 2-1/2” 90 SCH40 PE ELBOW 36” RAD 068766 100

EL9042536B 0289-0164 2-1/2” 90D BE ELB SCH40 36” RADIUS 100

EL9042548 0289-0176 2-1/2” 90D PE ELB SCH40 48” RADIUS 100

EL9042548B 0288-8760 2-1/2” 90° BELL END ELB SCH40 48” RADIUS 100

EL9042560 0288-8775 2-1/2” 90° PLAIN END ELB SCH40 60” RADIU 100

PART# STOCK CODE DESCRIPTION PER

PVC LONG RADIUS ELBOWS

EL304560 0288-9234 5” 30° PLAIN END ELB SCH40 60” RADIUS 100

EL304636 0288-9198 6” 30° PLAIN END ELB SCH40 36” RADIUS 100

EL304648 0288-9228 6” 30° PLAIN END ELB SCH40 48” RADIUS 100

EL304660 0288-9237 6” 30° PLAIN END ELB SCH40 60” RADIUS 100

EL454218 0288-8811 2” 45° PLAIN END ELB SCH40 18” RADIUS 100

EL454218B 0288-8829 2” 45° BELL END ELB SCH40 18” RADIUS 100

EL454224 0288-8868 2” 45° PLAIN END ELB SCH40 24” RADIUS 100

EL454224B 0320-9901 2” 45 SCH40 BE ELBOW 24” RADIUS 100

EL454230 0288-8916 2” 45° PLAIN END ELB SCH40 30” RADIUS 100

EL454236 0288-8964 2” 45° PLAIN END ELB SCH40 36” RADIUS 100

EL454236B 0320-9991 2” 45 SCH40 BE ELBOW 36” RADIUS 100

EL454248 0288-9027 2” 45° PLAIN END ELB SCH40 48” RADIUS 100

EL454248B 0288-9066 2” 45° BELL END ELB SCH40 48” RADIUS 100

EL4542524B 0320-9682 2-1/2” 45 SCH40 BE ELBOW 24” RADIUS 100

EL4542530 0288-8922 2-1/2” 45° PLAIN END ELB SCH40 30” RADIU 100

EL4542536 0288-8970 2-1/2” 45° PLAIN END ELB SCH40 36” RADIU 100

EL4542536B 0320-9721 2-1/2” 45 SCH40 BE ELBOW 36” RADIUS 100

EL4542548 0288-9033 2-1/2” 45° PLAIN END ELB SCH40 48” RADIU 100

EL4542548B 0288-9069 2-1/2” 45° BELL END ELB SCH40 48” RADIUS 100

EL4542560 0288-9087 2-1/2” 45° PLAIN END ELB SCH40 60” RADIU 100

EL454318B 0288-8835 3” 45° BELL END ELB SCH40 18” RADIUS 100

EL454324 0288-8880 3” 45° PLAIN END ELB SCH40 24” RADIUS 100

EL454324B 0320-9787 3” 45 SCH40 BE ELBOW 24” RADIUS 100

EL454330 0288-8928 3” 45° PLAIN END ELB SCH40 30” RADIUS 100

EL454336 0321-0039 3” 45 SCH40 PE ELBOW 36” RADIUS 100

EL454336B 0305-3856 3” 45 DEG BELL END SCH40 36” RADIUS 100

EL454348 0288-9039 3” 45° PLAIN END ELB SCH40 48” RADIUS 100

EL454424 0288-8892 4” 45° PLAIN END ELB SCH40 24” RADIUS 100

EL454424B 0320-9937 4” 45 SCH40 BE ELBOW 24” RADIUS 100

EL454430 0288-8934 4” 45° PLAIN END ELB SCH40 30” RADIUS 100

EL454436 0288-8985 4” 45° PLAIN END ELB SCH40 36” RADIUS 100

EL454436B 0321-0009 4” 45 SCH40 BE ELBOW 36” RADIUS 100

EL454448 0288-9051 4” 45° PLAIN END ELB SCH40 48” RADIUS 100

EL454448B 0288-9078 4” 45° BELL END ELB SCH40 48” RADIUS 100

EL454460 0288-9093 4” 45° PLAIN END ELB SCH40 60” RADIUS 100

EL454530 0288-8940 5” 45° PLAIN END ELB SCH40 30” RADIUS 100

EL454536 0288-8991 5” 45° PLAIN END ELB SCH40 36” RADIUS 100

EL454536B 0288-9006 5” 45° BELL END ELB SCH40 36” RADIUS 100

EL454548 0288-9057 5” 45° PLAIN END ELB SCH40 48” RADIUS 100

EL454548B 0288-9081 5” 45° BELL END ELB SCH40 48” RADIUS 100

EL4545B 0288-8583 5” 45° BELL END ELB SCH40 100

EL454636 0288-8997 6” 45° PLAIN END ELB SCH40 36” RADIUS 100

EL454636B 0288-9009 6” 45° BELL END ELB SCH40 36” RADIUS 100

EL454218B EL454218B



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

206 207

PART# STOCK CODE DESCRIPTION PER

PVC LONG RADIUS ELBOWS

EL9081530 0288-8670 1-1/2” 90° PLAIN END ELB SCH80 30” RADIU 100

EL9081536 0288-8715 1-1/2” 90° PLAIN END ELB SCH80 36” RADIU 100

EL9081548 0288-8748 1-1/2” 90° PLAIN END ELB SCH80 48” RADIU 100

EL908218 0288-8610 2” 90° PLAIN END ELB SCH80 18” RADIUS 100

EL908224 0289-0113 2” 90D PE ELB SCH80 24” RADIUS 100

EL908230 0288-8676 2” 90° PLAIN END ELB SCH80 30” RADIUS 100

EL908236 0320-9979 2” 90 SCH80 PE ELBOW 36” RADIUS 100

EL908248 0289-0173 2” 90D PE ELB SCH80 48” RADIUS 100

EL9082524 0289-0119 2-1/2” 90D PE ELB SCH80 24” RADIUS 100

EL9082530 0288-8682 2-1/2” 90° PLAIN END ELB SCH80 30” RADIU 100

EL9082536 0321-0012 2-1/2” 90 SCH80 PE ELBOW 36” RADIUS 100

EL9082548 0288-8751 2-1/2” 90° PLAIN END ELB SCH80 48” RADIU 100

EL9082B 0558-8142 90° SCH 80 2” BELL END 100

EL908424 0289-0128 4” 90D PE ELB SCH80 24” RADIUS 100

EL908436 0289-0155 4” 90D PE ELB SCH80 36” RADIUS 100

EL908448 0289-0191 4” 90D PE ELB SCH80 48” RADIUS 100

EL908536 0288-8721 5” 90° PLAIN END ELB SCH80 36” RADIUS 100

EL908548 0289-0197 5” 90D PE ELB SCH80 48” RADIUS 100

EL908548B 0583-4040 5” 90° BELL END ELB SCH80 48” RADIUS 100

EL9086 0321-0033 6” 90 SCH80 PE ELBOW 100

EL908636 0288-8724 6” 90° PLAIN END ELB SCH80 36” RADIUS 100

EL908648 0288-8757 6” 90° PLAIN END ELB SCH80 48” RADIUS 100

PART# STOCK CODE DESCRIPTION PER

PVC OCTAGON JUNCTION BOX

JBO 0288-9366 OCTAGON JUNCTION BOX 4” X 1-1/2” (1/2” 100

JBO42 0288-9369 78415 OCTAGON JUNCTION BOX 4” X 2”1” HUB 100

PART# STOCK CODE DESCRIPTION PER

PVC PULL ELBOW

PL07 0288-9483 (078386)1/2” & 3/4” PULL ELB 100

PART# STOCK CODE DESCRIPTION PER

PVC REDUCERS

R105 0320-9373 078354 1”X1/2” REDUCER 100

R107 0320-9238 078355 1”X3/4” REDUCER 100

R12507 0320-9388 078356 1-1/4” X 3/4” REDUCER 100

R1251 0320-9283 1-1/4”X 1” REDUCER 078357 100

R151 0320-9415 1-1/2”X1” REDUCER 078359 100

R15125 0320-9406 1-1/2”X1-1/4” REDUCER 078360 100

PART# STOCK CODE DESCRIPTION PER

PVC LONG RADIUS ELBOWS

EL904318 0288-8619 3” 90° PLAIN END ELB SCH40 18” RADIUS 100

EL904318B 0288-8631 3” 90° BELL END ELB SCH40 18” RADIUS 100

EL904324 0289-0122 3” 90D PE ELB SCH40 24” RADIUS 100

EL904324B 0289-0137 3” 90D BE ELB SCH40 24” RADIUS 100

EL904330 0289-0143 3” 90D PE ELB SCH40 30” RADIUS 100

EL904336 0320-9604 3” 90 SCH40 PE ELBOW 36” RADIUS 100

EL904336B 0320-9859 3” 90 SCH40 BE ELBOW 36” RAD 068058 100

EL904348 0289-0179 3” 90D PE ELB SCH40 48” RADIUS 100

EL904348B 0289-0206 3” 90D BE ELB SCH40 48” RADIUS 100

EL9043524 0288-8646 3-1/2” 90° PLAIN END ELB SCH40 24” RADIU 100

EL9043524B 0288-8652 3-1/2” 90° BELL END ELB SCH40 24” RADIUS 100

EL9043530 0288-8688 3-1/2” 90° PLAIN END ELB SCH40 30” RADIU 100

EL9043536 0289-0152 3-1/2” 90D PE ELB SCH40 36” RADIUS 100

EL9043536B 0289-0167 3-1/2” 90D BE ELB SCH40 36” RADIUS 100

EL9043548 0289-0185 3-1/2” 90D PE ELB SCH40 48” RADIUS 100

EL9043548B 0288-8763 3-1/2” 90° BELL END ELB SCH40 48” RADIUS 100

EL904424 0320-9595 4” 90 SCH40 PE ELBOW 24” RADIUS 068729 100

EL904424B 0289-0140 4” 90D BE ELB SCH40 24” RADIUS 100

EL904430 0288-8694 4” 90° PLAIN END ELB SCH40 30” RADIUS 100

EL904436 0320-9472 4” 90 SCH40 PE ELBOW 36” RAD 068769 100

EL904436B 0320-9826 4” 90 SCH40 BE ELBOW 36” RAD 068072 100

EL904448 0289-0188 4” 90D PE ELB SCH40 48” RADIUS 100

EL904448B 0289-0209 4” 90D BE ELB SCH40 48” RADIUS 100

EL904460 0288-8784 4” 90° PLAIN END ELB SCH40 60” RADIUS 100

EL904536 0289-0158 5” 90D PE ELB SCH40 36” RADIUS 100

EL904536B 0288-8727 5” 90° BELL END ELB SCH40 36” RADIUS 100

EL904548 0289-0194 5” 90D PE ELB SCH40 48” RADIUS 100

EL904548B 0288-8766 5” 90° BELL END ELB SCH40 48” RADIUS 100

EL904560 0288-8787 5” 90° PLAIN END ELB SCH40 60” RADIUS 100

EL904636 0289-0161 6” 90D PE ELB SCH40 36” RADIUS 100

EL904636B 0288-8730 6” 90° BELL END ELB SCH40 36” RADIUS 100

EL904648 0289-0200 6” 90D PE ELB SCH40 48” RADIUS 100

EL904648B 0288-8769 6” 90° BELL END ELB SCH40 48” RADIUS 100

EL904660 0288-8790 6” 90° PLAIN END ELB SCH40 60” RADIUS 100

EL9046B 0288-8580 6” 90° BELL END ELB SCH40 100

EL9048 0580-5273 8” 90 DEG SCH40 ELBOW 100

EL904848 0321-0273 ELBOW 90DEG BEND SCHEDULE 40 8IN, 48IN R 100

EL908124 0288-8634 1” 90° PLAIN END ELB SCH80 24” RADIUS 100

EL908124B 0587-8797 1” 90 SCH80 BE 24” RADIUS 100

EL908136 0288-8706 1” 90° PLAIN END ELB SCH80 36” RADIUS 100

EL908148 0288-8736 1” 90° PLAIN END ELB SCH80 48” RADIUS 100

EL9081518 0288-8604 1-1/2” 90° PLAIN END ELB SCH80 18” RADIU 100

EL9081524 0288-8643 1-1/2” 90° PLAIN END ELB SCH80 24” RADIU 100

EL904348

JBO

PL07

R105

EL904348



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

208 209

PART# STOCK CODE DESCRIPTION PER

PVC SPECIAL BEND ELBOWS

EL22.5412548 0288-9330 1-1/4” 22-1/2° PLAIN END ELB SCH40 48” 100

EL22.54130 0288-9270 1” 22-1/2° PLAIN END ELB SCH40 30” RADIU 100

EL22.54136 0288-9300 1” 22-1/2° PLAIN END ELB SCH40 36” RADIU 100

EL22.54148 0288-9327 1” 22-1/2° PLAIN END ELB SCH40 48” RADIU 100

EL22.5415 0321-0231 1-1/2” 22-1/2 SCH40 PE ELBOW 100

EL22.542 0320-9778 2” 22-1/2 SCH40 PE ELBOW 100

EL22.5425 0288-8568 2-1/2” 22-1/2° PLAIN END ELB SCH40 100

EL22.542BE 0320-9862 ELBOW 22 1/2 DEGREE SCH 40 2IN BELL END 100

EL22.543 0320-9976 3” 22-1/2 SCH40 PE ELBOW (40930) 100

EL22.5435 0288-8571 3-1/2” 22-1/2° PLAIN END ELB SCH40 100

EL22.543524 0288-9267 3-1/2” 22-1/2° PLAIN END ELB SCH40 24” 100

EL22.543530 0288-9288 3-1/2” 22-1/2° PLAIN END ELB SCH40 30” 100

EL22.543536 0288-9315 3-1/2” 22-1/2° PLAIN END ELB SCH40 36” 100

EL22.543548 0288-9345 3-1/2” 22-1/2° PLAIN END ELB SCH40 48” 100

EL22.544 0320-9940 4” 22-1/2 SCH40 PE ELBOW 100

EL22.54430 0288-9291 4” 22-1/2° PLAIN END ELB SCH40 30” RADIU 100

EL22.54436 0288-9318 4” 22-1/2° PLAIN END ELB SCH40 36” RADIU 100

EL22.54460 0288-9357 4” 22-1/2° PLAIN END ELB SCH40 60” RADIU 100

EL22.544B 0321-0243 ELBOW 22.5 DEG SCH 40 4INCH BELL END 100

EL22.545 0288-8574 5” 22-1/2° PLAIN END ELB SCH40 100

EL22.54530 0288-9294 5” 22-1/2° PLAIN END ELB SCH40 30” RADIU 100

EL22.54536 0288-9321 5” 22-1/2° PLAIN END ELB SCH40 36” RADIU 100

EL22.54548 0288-9348 5” 22-1/2° PLAIN END ELB SCH40 48” RADIU 100

EL22.54560 0288-9360 5” 22-1/2° PLAIN END ELB SCH40 60” RADIU 100

EL22.546 0288-8577 6” 22-1/2° PLAIN END ELB SCH40 100

EL22.54636 0288-9324 6” 22-1/2° PLAIN END ELB SCH40 36” RADIU 100

EL22.54648 0288-9351 6” 22-1/2° PLAIN END ELB SCH40 48” RADIU 100

EL22.54660 0288-9363 6” 22-1/2° PLAIN END ELB SCH40 60” RADIU 100

EL22.546B 0551-5413 ELBOW 22.5 DEG, SCH 40, 6” W BELL END 100

EL22.584 0451-6089 ELBOW 22.5 DEG. SCH. 80, 4IN PE 100

EL30405 0288-8511 1/2” 30° PLAIN END ELB SCH40 100

EL30407 0288-8517 3/4” 30° PLAIN END ELB SCH40 100

EL3041 0288-8523 1” 30° PLAIN END ELB SCH40 100

EL304118 0288-9102 1” 30° PLAIN END ELB SCH40 18” RADIUS 100

EL304124 0288-9120 1” 30° PLAIN END ELB SCH40 24” RADIUS 100

EL304125 0288-8529 1-1/4” 30° PLAIN END ELB SCH40 100

EL30412518 0288-9105 1-1/4” 30° PLAIN END ELB SCH40 18” RADIU 100

EL30412524 0288-9123 1-1/4” 30° PLAIN END ELB SCH40 24” RADIU 100

EL30412530 0288-9147 1-1/4” 30° PLAIN END ELB SCH40 30” RADIU 100

EL30412536 0288-9174 1-1/4” 30° PLAIN END ELB SCH40 36” RADIU 100

EL30412548 0288-9204 1-1/4” 30° PLAIN END ELB SCH40 48” RADIU 100

EL304130 0288-9144 1” 30° PLAIN END ELB SCH40 30” RADIUS 100

EL304136 0288-9171 1” 30° PLAIN END ELB SCH40 36” RADIUS 100

PART# STOCK CODE DESCRIPTION PER

PVC REDUCERS

R21 0320-9469 2” X 1” REDUCER 078361 100

R2125 0320-9841 2” X 1-1/4” REDUCER 078363 100

R215 0320-9562 2”X1-1/2” REDUCER 078362 100

R252 0320-9622 2-1/2”X2” REDUCER 078364 100

R32 0320-9556 3”X2” REDUCER 078365 100

R325 0320-9763 3”X2-1/2” REDUCER 078366 100

R42 0320-9760 4” X 2” REDUCER 078369 100

R43 0320-9832 4”X3” REDUCER 078367 100

R435 0320-9712 4”X3-1/2” REDUCER 078368 100

SW2125 0288-9447 2” X 1-1/4” FABRICATED PVC SWEDGE REDUCE 100

SW215 0288-9450 2” X 1-1/2” FABRICATED PVC SWEDGE REDUCE 100

SW252 0288-9453 2-1/2” X 2” FABRICATED PVC SWEDGE REDUCE 100

SW32 0288-9456 3” X 2” FABRICATED PVC SWEDGE REDUCER CP 100

SW325 0288-9459 3” X 2-1/2” FABRICATED PVC SWEDGE REDUCE 100

SW353 0288-9462 3-1/2” X 3” FABRICATED PVC SWEDGE REDUCE 100

SW43 0288-9465 4” X 3” FABRICATED PVC SWEDGE REDUCER CP 100

SW435 0288-9468 4” X 3-1/2” FABRICATED PVC SWEDGE REDUCE 100

SW54 0288-9471 5” X 4” FABRICATED PVC SWEDGE REDUCER CP 100

SW65 0288-9474 6” X 5” FABRICATED PVC SWEDGE REDUCER CP 100

THR0705 0558-7758 3/4” - 1/2” PVC REDUCER BUSH. THREADED 100

THR105 0563-0331 1” - 1/2” PVC REDUCER BUSH. THREADED 100

THR107 0563-0334 1” - 3/4” PVC REDUCER BUSH. THREADED 100

TR0705 0320-9121 3/4 X 1/2 REDUCER 100

SW42 0320-9952 SWEDGE REDUCER 4”X2” 077322 100

EPR60 0288-9561 EPR6 100

PART# STOCK CODE DESCRIPTION PER

PVC SPECIAL BEND ELBOWS

EL11.2542 0320-9985 ELBOW 11.25 DEG SCH40 2INCH 100

EL11.254236 0549-5541 PVC ELBOW 11.25° SCH 40 2” 36” RADIUS 100

EL11.25425 0353-5491 2-1/2” 11.25 PLAIN END ELBOW SCH 40 100

EL11.2543 0353-5494 3” 11.25 D PLAIN END ELBOW SCH 40 100

EL11.254336 0549-5535 PVC ELBOW 11.25° SCH 40 3” 36” RADIUS 100

EL11.2544 0321-0216 ELBOW 11.25 DEG SCH40 4INCH 100

EL22.541 0321-0225 1” 22-1/2” SCH40 PE ELBOW 100

EL22.54118 0288-9240 1” 22-1/2 PLAIN END ELB SCH40 18” RADIUS 100

EL22.54124 0288-9258 1” 22-1/2° PLAIN END ELB SCH40 24” RADIU 100

EL22.54125 0321-0228 22.5 DEGREE 1-1/4 100

EL22.5412518 0288-9243 1-1/4” 22-1/2° PLAIN END ELB SCH40 18” 100

EL22.5412524 0288-9261 1-1/4” 22-1/2° PLAIN END ELB SCH40 24” 100

EL22.5412530 0288-9273 1-1/4” 22-1/2° PLAIN END ELB SCH40 30” 100

EL22.5412536 0288-9303 1-1/4” 22-1/2° PLAIN END ELB SCH40 36” 100

EL11.2542

SW252

EL11.2542



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

210 211

PART# STOCK CODE DESCRIPTION PER

PVC STANDARD ELBOWS

EL45405 0320-9223 1/2” 45 SCH40 PE ELBOW 100

EL45405B 0320-9133 1/2” 45 SCH40 BE ELBOW 100

EL45407 0320-9205 3/4” 45 SCH 40 PE ELBOW 100

EL45407B 0320-9160 3/4” 45 SCH40 BE ELBOW 100

EL4541 0320-9187 (078554)1” 45 SCH 40 PE ELBOW 100

EL454118 0288-8793 1” 45° PLAIN END ELB SCH40 18” RADIUS 100

EL454124 0288-8850 1” 45° PLAIN END ELB SCH40 24” RADIUS 100

EL454125 0320-9265 1-1/4” 45 SCH40 PE ELBOW 100

EL45412518 0288-8799 1-1/4” 45° PLAIN END ELB SCH40 18” RADIU 100

EL45412524 0288-8856 1-1/4” 45° PLAIN END ELB SCH40 24” RADIU 100

EL45412530 0288-8904 1-1/4” 45° PLAIN END ELB SCH40 30” RADIU 100

EL45412536 0288-8952 1-1/4” 45° PLAIN END ELB SCH40 36” RADIU 100

EL45412548 0288-9018 1-1/4” 45° PLAIN END ELB SCH40 48” RADIU 100

EL454125B 0320-9196 1-1/4” 45 SCH40 BE ELBOW 100

EL454130 0288-8898 1” 45° PLAIN END ELB SCH40 30” RADIUS 100

EL454136 0288-8946 1” 45° PLAIN END ELB SCH40 36” RADIUS 100

EL454148 0288-9012 1” 45° PLAIN END ELB SCH40 48” RADIUS 100

EL45415 0320-9262 1-1/2” 45 SCH40 PE ELBOW 100

EL4541518 0288-8805 1-1/2” 45° PLAIN END ELB SCH40 18” RADIU 100

EL4541524 0288-8862 1-1/2” 45° PLAIN END ELB SCH40 24” RADIU 100

EL4541530 0288-8910 1-1/2” 45° PLAIN END ELB SCH40 30” RADIU 100

EL4541536 0288-8958 1-1/2” 45° PLAIN END ELB SCH40 36” RADIU 100

EL4541548 0289-0212 1-1/2” 45D PE ELB SCH40 48” RADIUS 100

EL45415B 0320-9175 1-1/2” 45 SCH40 BE ELBOW 100

EL4541B 0320-9289 1” 45 SCH40 BE ELBOW 100

EL4542 0320-9193 (078557)2” 45 SCH40 PE ELBOW 100

EL45425 0320-9337 2-1/2” 45 SCH40 PE ELBOW 100

EL4542518 0288-8817 2-1/2” 45° PLAIN END ELB SCH40 18” RADIU 100

EL4542518B 0288-8832 2-1/2” 45° BELL END ELB SCH40 18” RADIUS 100

EL4542524 0288-8874 2-1/2” 45° PLAIN END ELB SCH40 24” RADIU 100

EL45425B 0320-9643 2-1/2” 45 SCH40 BE ELBOW 100

EL4542B 0320-9376 2” 45 SCH40 BE ELBOW 100

EL4543 0320-9298 3” 45 SCH40 PE ELBOW 078559 100

EL454318 0288-8823 3” 45° PLAIN END ELB SCH40 18” RADIUS 100

EL454348B 0288-9072 3” 45° BELL END ELB SCH40 48” RADIUS 100

EL45435 0320-9727 3-1/2” 45 SCH40 PE ELBOW 100

EL4543524 0288-8886 3-1/2” 45° PLAIN END ELB SCH40 24” RADIU 100

EL4543536 0288-8979 3-1/2” 45° PLAIN END ELB SCH40 36” RADIU 100

EL4543536B 0288-9003 3-1/2” 45° BELL END ELB SCH40 36” RADIUS 100

EL4543548 0288-9045 3-1/2” 45° PLAIN END ELB SCH40 48” RADIU 100

EL4543548B 0288-9075 3-1/2” 45° BELL END ELB SCH40 48” RADIUS 100

EL45435B 0320-9754 3-1/2” 45 SCH40 BE ELBOW 100

EL454360 0288-9090 3” 45° PLAIN END ELB SCH40 60” RADIUS 100

PART# STOCK CODE DESCRIPTION PER

PVC SPECIAL BEND ELBOWS

EL304148 0288-9201 1” 30° PLAIN END ELB SCH40 48” RADIUS 100

EL30415 0288-8535 1-1/2” 30° PLAIN END ELB SCH40 100

EL3041518 0288-9108 1-1/2” 30° PLAIN END ELB SCH40 18” RADIU 100

EL3041524 0288-9126 1-1/2” 30° PLAIN END ELB SCH40 24” RADIU 100

EL3041530 0288-9150 1-1/2” 30° PLAIN END ELB SCH40 30” RADIU 100

EL3041536 0288-9177 1-1/2” 30° PLAIN END ELB SCH40 36” RADIU 100

EL3041548 0288-9207 1-1/2” 30° PLAIN END ELB SCH40 48” RADIU 100

EL3042 0320-9943 2” 30 SCH40 PE ELBOW 100

EL304218 0288-9111 2” 30° PLAIN END ELB SCH40 18” RADIUS 100

EL304224 0288-9129 2” 30° PLAIN END ELB SCH40 24” RADIUS 100

EL304230 0288-9153 2” 30° PLAIN END ELB SCH40 30” RADIUS 100

EL304236 0288-9180 2” 30° PLAIN END ELB SCH40 36” RADIUS 100

EL304248 0288-9210 2” 30° PLAIN END ELB SCH40 48” RADIUS 100

EL30425 0288-8544 2-1/2” 30° PLAIN END ELB SCH40 100

EL3042518 0288-9114 2-1/2” 30° PLAIN END ELB SCH40 18” RADIU 100

EL3042524 0288-9132 2-1/2” 30° PLAIN END ELB SCH40 24” RADIU 100

EL3042530 0288-9156 2-1/2” 30° PLAIN END ELB SCH40 30” RADIU 100

EL3042536 0288-9183 2-1/2” 30° PLAIN END ELB SCH40 36” RADIU 100

EL3042548 0288-9213 2-1/2” 30° PLAIN END ELB SCH40 48” RADIU 100

EL3043 0288-8550 3” 30° PLAIN END ELB SCH40 100

EL304318 0288-9117 3” 30° PLAIN END ELB SCH40 18” RADIUS 100

EL304324 0288-9135 3” 30° PLAIN END ELB SCH40 24” RADIUS 100

EL304330 0288-9159 3” 30° PLAIN END ELB SCH40 30” RADIUS 100

EL30435 0288-8556 3-1/2” 30° PLAIN END ELB SCH40 100

EL3043524 0288-9138 3-1/2” 30° PLAIN END ELB SCH40 24” RADIU 100

EL3043530 0288-9162 3-1/2” 30° PLAIN END ELB SCH40 30” RADIU 100

EL3043536 0288-9189 3-1/2” 30° PLAIN END ELB SCH40 36” RADIU 100

EL3043548 0288-9219 3-1/2” 30° PLAIN END ELB SCH40 48” RADIU 100

EL3044 0320-9955 4” 30 SCH40 PE ELBOW 100

EL304424 0288-9141 4” 30° PLAIN END ELB SCH40 24” RADIUS 100

EL304430 0288-9165 4” 30° PLAIN END ELB SCH40 30” RADIUS 100

EL3046 0321-0249 6” 30 SCH40 PE ELBOW 100

EL30805 0288-8514 1/2” 30° PLAIN END ELB SCH80 100

EL30807 0288-8520 3/4” 30° PLAIN END ELB SCH80 100

EL3081 0288-8526 1” 30° PLAIN END ELB SCH80 100

EL308125 0288-8532 1-1/4” 30° PLAIN END ELB SCH80 100

EL30815 0288-8538 1-1/2” 30° PLAIN END ELB SCH80 100

EL3082 0288-8541 2” 30° PLAIN END ELB SCH80 100

EL30825 0288-8547 2-1/2” 30° PLAIN END ELB SCH80 100

EL3083 0288-8553 3” 30° PLAIN END ELB SCH80 100

EL3084 0288-8559 4” 30° PLAIN END ELB SCH80 100

EL3085 0289-0227 5” 30D PE ELB SCH80 100

EL3086 0288-8565 6” 30° PLAIN END ELB SCH80 100

EL90807



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

212 213

PART# STOCK CODE DESCRIPTION PER

PVC STANDARD ELBOWS

EL458436 0288-8988 4” 45° PLAIN END ELB SCH80 36” RADIUS 100

EL458448 0288-9054 4” 45° PLAIN END ELB SCH80 48” RADIUS 100

EL4585 0321-0255 5” 45 SCH80 PE ELBOW 100

EL458530 0288-8943 5” 45° PLAIN END ELB SCH80 30” RADIUS 100

EL458536 0288-8994 5” 45° PLAIN END ELB SCH80 36” RADIUS 100

EL458548 0288-9060 5” 45° PLAIN END ELB SCH80 48” RADIUS 100

EL4586 0321-0099 6” 45 SCH80 PE ELBOW 100

EL458636 0288-9000 6” 45° PLAIN END ELB SCH80 36” RADIUS 100

EL458648 0288-9063 6” 45° PLAIN END ELB SCH80 48” RADIUS 100

EL90405 0320-9157 (078540)1/2” 90 SCH40 PE ELBOW 100

EL90405B 0320-9334 1/2” 90 SCH40 BE ELBOW 100

EL90407 0320-9118 3/4” 90 SCH40 PE ELBOW 100

EL90407B 0320-9301 (078541)3/4” 90 SCH40 BE ELBOW 100

EL9041 0315-4917 (078542) 1” 90 SCH40 PE ELBOW 100

EL904125 0320-9268 1 1/4” 90 SCH40 PE ELBOW 100

EL90412518 0288-8595 1-1/4” 90° PLAIN END ELB SCH40 18” RADIU 100

EL904125B 0320-9208 1-1/4” 90 SCH40 BE ELBOW 100

EL90415 0320-9172 1-1/2” 90 SCH40 PE ELBOW 100

EL90415B 0320-9277 1-1/2” 90 SCH40 BE ELBOW 100

EL9041B 0320-9247 1” 90 SCH40 BE ELBOW 100

EL9042 0320-9139 (078545)2” 90 SCH40 PE ELBOW 100

EL90425 0320-9226 2-1/2 SCH 40 90 DEG PE ELBOW 100

EL90425B 0320-9565 2 1/2” 90 SCH40 BE ELBOW 078594 100

EL904260 0288-8772 2” 90° PLAIN END ELB SCH40 60” RADIUS 100

EL9042B 0320-9271 2” 90 SCH40 BE ELBOW 100

EL9043 0320-9202 3” 90 SCH40 PE ELBOW 078547 100

EL90435 0320-9490 3-1/2” 90 SCH40 PE ELBOW 100

EL90435B 0320-9580 3-1/2” 90 SCH40 BE ELBOW 100

EL904360 0288-8778 3” 90° PLAIN END ELB SCH40 60” RADIUS 100

EL9043B 0320-9523 3” 90 SCH40 BE ELBOW 078595 100

EL9044 0320-9280 4” 90 SCH40 PE ELBOW 078549 100

EL9044B 0320-9574 4” 90 SCH40 BE ELBOW 078597 100

EL9045 0321-0267 5” 90 SCH40 PE ELBOW 100

EL904530 0288-8700 5” 90° PLAIN END ELB SCH40 30” RADIUS 100

EL9045B 0289-0107 5” 90D BELL END ELB SCH40 100

EL9046 0320-9835 6” 90 SCH40 PE ELBOW 078551 100

EL904630 0321-0270 6” SCH40 PE ELBOW 30” RADIUS 100

EL90805 0320-9403 1/2” 90 SCH80 PE ELBOW 100

EL90807 0320-9325 3/4” 90 SCH80 PE ELBOW 100

EL9081 0320-9475 1” 90 SCH80 PE ELBOW 100

EL908118 0288-8592 1” 90° PLAIN END ELB SCH80 18” RADIUS 100

EL908125 0320-9496 1-1/4” 90 SCH80 PE ELBOW 100

EL90812518 0288-8598 1-1/4” 90° PLAIN END ELB SCH80 18” RADIU 100

PART# STOCK CODE DESCRIPTION PER

PVC STANDARD ELBOWS

EL4543B 0320-9571 3” 45 SCH40 BE ELBOW 100

EL4544 0320-9307 4” 45 SCH40 PE ELBOW 078561 100

EL4544B 0320-9688 4” 45 SCH40 BE ELBOW 078609 100

EL4545 0320-9964 5” 45 SCH40 PE ELBOW 100

EL4546 0321-0030 6” 45 SCH40 PE ELBOW 100

EL45807 0320-9685 3/4” 45 SCH80 PE ELBOW 100

EL4581 0320-9820 1” 45 SCH80 PE ELBOW 100

EL458118 0288-8796 1” 45° PLAIN END ELB SCH80 18” RADIUS 100

EL458124 0288-8853 1” 45° PLAIN END ELB SCH80 24” RADIUS 100

EL458125 0320-9652 1-1/4” 45 SCH80 PE ELBOW 100

EL45812518 0288-8802 1-1/4” 45° PLAIN END ELB SCH80 18” RADIU 100

EL45812524 0288-8859 1-1/4” 45° PLAIN END ELB SCH80 24” RADIU 100

EL45812530 0288-8907 1-1/4” 45° PLAIN END ELB SCH80 30” RADIU 100

EL45812536 0288-8955 1-1/4” 45° PLAIN END ELB SCH80 36” RADIU 100

EL45812548 0288-9021 1-1/4” 45° PLAIN END ELB SCH80 48” RADIU 100

EL458130 0288-8901 1” 45° PLAIN END ELB SCH80 30” RADIUS 100

EL458136 0288-8949 1” 45° PLAIN END ELB SCH80 36” RADIUS 100

EL458148 0288-9015 1” 45° PLAIN END ELB SCH80 48” RADIUS 100

EL45815 0320-9709 1-1/2” 45 SCH80 PE ELBOW 100

EL4581518 0288-8808 1-1/2” 45° PLAIN END ELB SCH80 18” RADIU 100

EL4581524 0288-8865 1-1/2” 45° PLAIN END ELB SCH80 24” RADIU 100

EL4581530 0288-8913 1-1/2” 45° PLAIN END ELB SCH80 30” RADIU 100

EL4581536 0288-8961 1-1/2” 45° PLAIN END ELB SCH80 36” RADIU 100

EL4581548 0288-9024 1-1/2” 45° PLAIN END ELB SCH80 48” RADIU 100

EL4582 0320-9916 2” 45 SCH80 PE ELBOW 100

EL458218 0288-8814 2” 45° PLAIN END ELB SCH80 18” RADIUS 100

EL458224 0288-8871 2” 45° PLAIN END ELB SCH80 24” RADIUS 100

EL45825 0320-9946 2-1/2” 45 SCH80 PE ELBOW 100

EL4582518 0288-8820 2-1/2” 45° PLAIN END ELB SCH80 18” RADIU 100

EL4582524 0288-8877 2-1/2” 45° PLAIN END ELB SCH80 24” RADIU 100

EL4582530 0288-8925 2-1/2” 45° PLAIN END ELB SCH80 30” RADIU 100

EL4582536 0288-8973 2-1/2” 45° PLAIN END ELB SCH80 36” RADIU 100

EL4582548 0288-9036 2-1/2” 45° PLAIN END ELB SCH80 48” RADIU 100

EL4583 0321-0252 3” 45 SCH80 PE ELBOW 100

EL458318 0288-8826 3” 45° PLAIN END ELB SCH80 18” RADIUS 100

EL458324 0288-8883 3” 45° PLAIN END ELB SCH80 24” RADIUS 100

EL458330 0288-8931 3” 45° PLAIN END ELB SCH80 30” RADIUS 100

EL458336 0288-8976 3” 45° PLAIN END ELB SCH80 36” RADIUS 100

EL458348 0288-9042 3” 45° PLAIN END ELB SCH80 48” RADIUS 100

EL45835 0542-0268 3 1/2” 45° PLAIN END SCH 80 ELBOW 100

EL4584 0321-0051 4” 45 SCH80 PE ELBOW 100

EL458424 0288-8895 4” 45° PLAIN END ELB SCH80 24” RADIUS 100

EL458430 0288-8937 4” 45° PLAIN END ELB SCH80 30” RADIUS 100

EL90807EL90807



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

214

PART# STOCK CODE DESCRIPTION PER

PVC STANDARD ELBOWS

EL90812524 0288-8640 1-1/4” 90° PLAIN END ELB SCH80 24” RADIU 100

EL90812530 0288-8664 1-1/4” 90° PLAIN END ELB SCH80 30” RADIU 100

EL90812536 0288-8712 1-1/4” 90° PLAIN END ELB SCH80 36” RADIU 100

EL90812548 0288-8742 1-1/4” 90° PLAIN END ELB SCH80 48” RADIU 100

EL908130 0288-8658 1” 90° PLAIN END ELB SCH80 30” RADIUS 100

EL90815 0320-9433 1-1/2” 90 SCH80 PE ELBOW 100

EL9082 0320-9553 2” 90 SCH80 PE ELBOW 100

EL90825 0320-9895 2-1/2” 90 SCH80 PE ELBOW 100

EL9082518 0288-8616 2-1/2” 90° PLAIN END ELB SCH80 18” RADIU 100

EL9083 0320-9856 3” 90 SCH80 PE ELBOW 100

EL908318 0288-8622 3” 90° PLAIN END ELB SCH80 18” RADIUS 100

EL908324 0289-0125 3” 90D PE ELB SCH80 24” RADIUS 100

EL908330 0288-8685 3” 90° PLAIN END ELB SCH80 30” RADIUS 100

EL908336 0321-0054 3” 90 SCH80 PE ELBOW 36” RADIUS 100

EL908336B 0321-0276 3” SCH80 90 DEGREE 36” RADIUS ELBOW 100

EL908348 0289-0182 3” 90D PE ELB SCH80 48” RADIUS 100

EL90835 0545-1615 ELBOW 90 DEG, SCH 80, 3 1/2” 100

EL9083536 0288-8718 3-1/2” 90° PLAIN END ELB SCH80 36” RADIU 100

EL9083B 0558-8145 90° SCH80 3” BELL END 100

EL9084 0320-9970 4” 90 SCH80 PE ELBOW 100

EL9085 0321-0279 5” 90 SCH80 PE ELBOW 100

EL908530 0288-8703 5” 90° PLAIN END ELB SCH80 30” RADIUS 100

PART# STOCK CODE DESCRIPTION PER

PVC STRAPS & CLAMPS

CCS10 0288-9564 0278106 1/2” CONDUIT CLAMP & SPACER 100

CCS15 0288-9567 0278095 3/4” CONDUIT CLAMP & SPACER 100

CCS20 0288-9570 0278096 1” CONDUIT CLAMP & SPACER 100

CCS25 0288-9573 0278097 1-1/4” CONDUIT CLAMP & SPACER 100

CCS3 0320-9889 CONDUIT CLAMP AND SPACERS 1-1/2” [278098 100

CCS35 0288-9579 0278099 2” CONDUIT CLAMP & SPACER 100

CCSB 0582-7554 CONDUIT CLAMP & SPACER BASE 100

PS05 0008-2090 (078375)1/2” PVC 2H STRAP SCH 40 100

PS07 0008-2093 (078376)3/4” PVC 2H STRAP SCH 40 100

PS1 0320-9154 (078377)1” TWO-HOLE PIPE STRAP 100

PS125 0320-9151 (078378)1-1/4” TWO-HOLE PIPE STRAP 100

PS15 0009-6691 (078379)1 1/2” PIPE STRAP 100

PS2 0320-9166 (078380) 2” TWO-HOLE PIPE STRAP 100

PS25 0263-7474 178108 2 HOLE PVC STRAP 2-1/2 100

PS3 0320-9673 (178109)3” TWO-HOLE PIPE STRAP 100

PS4 0320-9520 178110 4” TWO-HOLE PIPE STRAP 100

PSC35 0288-8502 3-1/2” 2-HL PVC COATED STL PIPE STRAP 100

PS05

215

PART# STOCK CODE DESCRIPTION PER

QUARTZ CLEANER

C32  0320-9451 QUARTZ CLEANER 100

PART# STOCK CODE DESCRIPTION PER

RIGID & IMC FITTINGS 

WI BLNS100 0321-0936 1” STEEL BONDING LOCKNUT 100

WI BLNS125 0321-0939 1-1/4” STEEL BONDING LOCKNUT 100

WI BLNS150 0321-0942 1-1/2” STEEL BONDING LOCKNUT 100

WI BLNS200 0321-0945 2” STEEL BONDING LOCKNUT 100

WI BLNS250 0321-0948 2-1/2” STEEL BONDING LOCKNUT 100

WI BLNS350 0321-0954 3-1/2” STEEL BONDING LOCKNUT 100

WI BLNS300 0321-0951 3” STEEL BONDING LOCKNUT 100

WI BLNS400 0321-0957 4” STEEL BONDING LOCKNUT 100

WI BLNS50 0321-0930 1/2” STEEL BONDING LOCKNUT 100

WI BLNS75 0321-0933 3/4” STEEL BONDING LOCKNUT 100

WI CB100 0322-6530 1” CLAMP BACK FOR EMT/RIGID CONDUIT MALL 100

WI CB125 0322-6533 1-1/4” CLAMP BACK FOR EMT/RIGID CONDUIT 100

WI CB150 0322-6536 1-1/2” CLAMP BACK FOR EMT/RIGID CONDUIT 100

WI CB200 0322-6539 2” CLAMP BACK FOR EMT/RIGID CONDUIT MALL 100

WI CB250 0322-6542 2-1/2” CLAMP BACK FOR EMT/RIGID CONDUIT 100

WI CB300 0322-6545 3” CLAMP BACK FOR EMT/RIGID CONDUIT MALL 100

WI CB350 0322-6548 3-1/2” CLAMP BACK FOR EMT/RIGID CONDUIT 100

WI CB500 0322-6554 5” CLAMP BACK FOR EMT/RIGID CONDUIT MALL 100

WI CB600 0322-6557 6” CLAMP BACK FOR EMT/RIGID CONDUIT MALL 100

WI CB400 0322-6551 4” CLAMP BACK FOR EMT/RIGID CONDUIT MALL 100

WI CB50 0322-6524 1/2” CLAMP BACK FOR EMT/RIGID CONDUIT MA 100

WI CB75 0322-6527 3/4” CLAMP BACK FOR EMT/RIGID CONDUIT 100

WI FD100 0322-6353 1” DEEP SINGLE HUB CAST DEVICE BOX MALL 100

WI FD50 0322-6347 1/2” DEEP SINGLE HUB CAST DEVICE BOX MAL 100

WI FD75 0322-6350 3/4” DEEP SINGLE HUB CAST DEVICE BOX MAL 100

WI FDC100 0322-6371 1” DEEP DUAL HUB CAST BOX MALL 100

WI FDC50 0322-6365 1/2” DEEP DUAL HUB CAST BOX MALL 100

WI FDC75 0322-6368 3/4” DEEP DUAL HUB CAST BOX MALL 100

WI FS100 0322-6344 1” SINGLE HUB CAST DEVICE BOX MALL 100

WI FS50 0322-6338 1/2” SINGLE HUB CAST DEVICE BOX MALL 100

WI FS75 0322-6341 3/4” SINGLE HUB CAST DEVICE BOX MALL 100

WI FSC100 0322-6362 1” DUAL HUB CAST DEVICE BOX MALL 100

WI FSC50 0322-6356 1/2” DUAL HUB CAST DEVICE BOX MALL 100

WI FSC75 0322-6359 3/4” DUAL HUB CAST DEVICE BOX MALL 100

WI FSFDCG1 0322-6383 GSKT FOR CAST DEVICE CVRS 100

WI FSFDCM1 0322-6374 BLANK CVR FOR SPLICES AND TAPS MALL 100

WI FSFDCM2 0322-6377 GUARDED SQUARE HANDLE SWITCH MALL 100

WI FSFDCM3 0322-6380 DUPLEX RECEPTACLE MALL 100

EL908530

C32

WI BLNS100



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

216 217

PART# STOCK CODE DESCRIPTION PER

RIGID & IMC FITTINGS 

WI LWH75 0278-8422 WP WATERTIGHT HUB 3/4” 100

WI LWH75-MB 0322-6170 3/4” WT HUB W/INSD THROAT & BONDING LOCK 100

WI MECR-758B 0285-2955 WI STL RT COMP CONN /INSUL THR 3-1/2” 100

WI ML-40-1 0322-6185 1/2” RIGID OFFSET NIPPLE MALL 100

WI ML-40-2 0322-6188 3/4” RIGID OFFSET NIPPLE MALL 100

WI ML-40-3 0322-6191 1” RIGID OFFSET NIPPLE MALL 100

WI ML-40-4 0576-7449 1 1/4” RIGID OFFSET NIPPLE - MALLEABLE  100

WI ML-40-5 0576-7452 1 1/2” RIGID OFFSET NIPPLE - MALLEABLE  100

WI ML-40-6 0576-7455 2” RIGID OFFSET NIPPLE - MALLEABLE  100

WI ML-40-7 0576-7458 2-1/2” RIGID OFFSET NIPPLE - MALLEABLE  100

WI ML-40-8 0576-7461 3” RIGID OFFSET NIPPLE - MALLEABLE  100

WI ML-40-9 0576-7464 3-1/2” RIGID OFFSET NIPPLE - MALLEABLE  100

WI MLRB18 0556-7754 2-1/2” - 1-1/4” REDUCING BUSHING - MALLE 100

WI MLRB19 0556-7757 2-1/2” - 1-1/2” REDUCING BUSHING - MALLE 100

WI MLRB20 0556-7760 2-1/2” - 2” REDUCING BUSHING - MALLEABLE 100

WI MLRB21 0556-7769 3” - 1-1/4” REDUCING BUSHING - MALLEABLE 100

WI MLRB22 0556-7775 3” - 1-1/2” REDUCING BUSHING - MALLEABLE 100

WI MLRB23 0556-7778 3” - 2” REDUCING BUSHING - MALLEABLE 100

WI MLRB24 0556-7781 3” - 2-1/2” REDUCING BUSHING - MALLEABLE 100

WI MLRB25 0556-7784 3-1/2” - 1-1/2” REDUCING BUSHING - MALLE 100

WI MLRB26 0556-7787 3-1/2” - 2” REDUCING BUSHING - MALLEABLE 100

WI MLRB27 0556-7790 3-1/2” - 2-1/2” REDUCING BUSHING - MALLE 100

WI MLRB28 0556-7793 3-1/2” - 3” REDUCING BUSHING - MALLEABLE 100

WI MLRB29 0556-7799 4” - 2” REDUCING BUSHING - MALLEABLE 100

WI MLRB30 0556-7802 4” - 2-1/2” REDUCING BUSHING - MALLEABLE 100

WI MLRB31 0556-7811 4” - 3” REDUCING BUSHING - MALLEABLE 100

WI MLRB32 0556-7814 4” - 3-1/2” REDUCING BUSHING - MALLEABLE 100

WI RC3M050 0312-9570 MALLEABLE 3 PC RIGID COUPLING 1/2” 100

WI RC3M075 0312-9573 MALLEABLE 3 PC RIGID COUPLING 3/4” 100

WI RC3M100 0312-9576 MALLEABLE 3 PC RIGID COUPLING 1” 100

WI RC3M125 0312-9579 MALLEABLE 3PC RIGID COUPLING 1 1/4” 100

WI RC3M150 0312-9582 MALLEABLE 3PC RIGID COUPLING 1 1/2” 100

WI RC3M200 0312-9585 MALLEABLE 3 PC RIGID COUPLING 2” 100

WI RC3M250 0312-9588 MALLEABLE 3PC RIGID COUPLING 2 1/2” 100

WI RC3M300 0312-9591 MALLEABLE 3PC RIGID COUPLLING 3” 100

WI RC3M350 0312-9597 MALLEABLE 3PC RIGID COUPLING 3 1/2” 100

WI RC3M400 0312-9600 MALLEABLE 3PC RIGID COUPLING 4” 100

WI RC3M500 0576-7536 5” 3 PIECE COUPLING - MALLEABLE 100

WI RC3M600 0576-7539 3 PIECE RIGID COUPLING - MALLEABLE 100

WI RCC-200M 0322-6209 2” RIGID COMP CONN - MALLEABLE 100

WI RCC-200M-IC 0322-6239 2” RIGID COMP CONN - MAL/INS 100

WI RCC-200MR-IC 0579-8901 2” RT RIGID COMP CONN - INSUL-MALL 100

WI RCC-250M 0322-6212 2-1/2” RIGID COMP CONN - MALLEABLE 100

PART# STOCK CODE DESCRIPTION PER

RIGID & IMC FITTINGS 

WI L-40-1 0293-7555 OFFSET NIPPLE ZINC DIE CAST 1/2” 100

WI L-40-1-C 0556-7634 1/2” EMT TO BOX OFFSET CONN-COMP TYPE 100

WI L-40-1-SS 0556-7628 1/2” EMT TO BOX OFFSET CONN SS TYPE 100

WI L-40-2 0293-7558 OFFSET NIPPLE ZINC DIE CAST 3/4” 100

WI L-40-2-C 0556-7637 3/4” EMT TO BOX OFFSET CONN-COMP TYPE 100

WI L-40-2-SS 0556-7631 3/4” EMT TO BOX OFFSET CONN SS TYPE 100

WI L-40-3 0293-7561 OFFSET NIPPLE ZINC DIE CAST 1” 100

WI L-40-4 0293-7564 OFFSET NIPPLE ZINC DIE CAST 1-1/4” 100

WI L-40-5 0293-7567 OFFSET NIPPLE ZINC DIE CAST 1-1/2” 100

WI L-40-6 0293-7570 OFFSET NIPPLE ZINC DIE CAST 2” 100

WI L-40-7 0552-1824 2 1/2” RIGID OFFSET NIPPLE - ZDC 100

WI L-40-8 0552-1827 3” RIGID OFFSET NIPPLE - ZDC 100

WI L-701M 0545-1600 CONDUIT NIPPLE MALLEABLE 1/2” 100

WI LG-141-1 0552-1635 1/2” 90° RIGID-RIGID PULL ELBOW-ZDC 100

WI LG-141-2 0552-1641 3/4” 90° RIGID-RIGID PULL ELBOW-ZDC 100

WI LG-141-3 0552-1647 1” 90° RIGID-RIGID PULL ELBOW-ZDC 100

WI LG-144-1-CB 0552-1659 1/2” EMT/RIGID TO EMT/RIGID 90° PULL ELL 100

WI LG-144-2-CB 0552-1662 3/4” EMT/RIGID TO EMT/RIGID 90° PULL EL 100

WI LG-144-3-CB 0552-1683 1” EMT/RIGID TO EMT/RIGID 90° PULL ELL 100

WI LNS500 0551-6421 WI STEEL LOCKNUT 5” 100

WI LNS600 0551-6424 WI STEEL LOCKNUT 6” 100

WI LRB12 0556-7616 2” - 1/2” REDUCING BUSHING - STEEL  100

WI LRB13 0556-7619 2” - 3/4” REDUCING BUSHING - STEEL  100

WI LWH100 0278-8407 WP WATERTIGHT HUB 1” 100

WI LWH100-MB 0322-6173 1” WT HUB W/INSD THROAT & BONDING LOCKNU 100

WI LWH125 0278-8410 WP WATERTIGHT HUB 1-1/4” 100

WI LWH125-MB 0322-6176 1-1/4” WT HUB W/INSD THROAT & BONDING LO 100

WI LWH150 0278-8413 WP WATERTIGHT HUB 1-1/2” 100

WI LWH150-MB 0322-6179 1-1/2” WT HUB W/INSD THROAT & BONDING LO 100

WI LWH200 0278-8416 WP WATERTIGHT HUB 2” 100

WI LWH200-MB 0322-6182 2” WT HUB W/INSD THROAT & BONDING LOCKNU 100

WI LWH250 0424-0818 WP WATERTIGH HUB 2-1/2” 100

WI LWH250-MB 0576-7380 2-1/2” WT HUB W/INSD THROAT & BONDING LO 100

WI LWH300 0424-0821 WP WATERTIGHT HUB 3” 100

WI LWH300-MB 0576-7383 3” WT HUB W/INSD THROAT & BONDING LO 100

WI LWH350 0424-0824 WP WATERTIGHT HUB 3-1/2” 100

WI LWH350-MB 0576-7386 3-1/2” WT HUB W/INSD THROAT & BONDING LO 100

WI LWH400 0424-0827 WP WATERTIGHT HUBS 100

WI LWH400-MB 0576-7395 4” WT HUB W/INSD THROAT & BONDING LO 100

WI LWH50 0278-8419 WP WATERTIGHT HUB 1/2” 100

WI LWH50-MB 0322-6167 1/2” WT HUB W/INSD THROAT & BONDING LOCK 100

WI LWH500-MB 0576-7398 5” WT HUB W/INSD THROAT & BONDING LO 100

WI LWH600-MB 0576-7401 6” WT HUB W/INSD THROAT & BONDING LO 100

WI LWH100 WI LWH100



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

218 219

PART# STOCK CODE DESCRIPTION PER

RIGID & IMC FITTINGS 

WI RSC-200M 0322-6299 2” SET SCREW CONN FOR THRDLS RIGID & IMC 100

WI RSC-200M-IC 0322-6317 2” SET SCREW CONN FOR THRDLS RIGID & IMC 100

WI RSC-500M 0576-7509 5” SET SCREW CONN FOR THRDLS RIGID & IMC 100

WI RSC-50M 0322-6284 1/2” SET SCREW CONN FOR THRDLS RIGID & I 100

WI RSC-50M-IC 0322-6302 1/2” SET SCREW CONN FOR THRDLS RIGID & I 100

WI RSC-600M 0576-7512 6” SET SCREW CONN FOR THRDLS RIGID & IMC 100

WI RSC-75M 0322-6287 3/4” SET SCREW CONN FOR THRDLS RIGID & I 100

WI RSC-75M-IC 0322-6305 3/4” SET SCREW CONN FOR THRDLS RIGID & I 100

WI RSK-100M 0322-6326 1” SET SCREW CPLG FOR THRDLS RIGID & IMC 100

WI RSK-125M 0322-6329 1-1/4” SET SCREW CPLG FOR THRDLS RIGID 100

WI RSK-150M 0322-6332 1-1/2” SET SCREW CPLG FOR THRDLS RIGID 100

WI RSK-200M 0322-6335 2” SET SCREW CPLG FOR THRDLS RIGID & IMC 100

WI RSK-500M 0576-7515 5” SET SCREW COUP FOR THRDLS RIGID & IMC 100

WI RSK-50M 0322-6320 1/2” SET SCREW CPLG FOR THRDLS RIGID & I 100

WI RSK-600M 0576-7518 6” SET SCREW COUP FOR THRDLS RIGID & IMC 100

WI RSK-75M 0322-6323 3/4” SET SCREW CPLG FOR THRDLS RIGID 100

WI SG-100 0322-6620 1” SEALING GSKT W/STL RETAINING RING 100

WI SG-125 0322-6623 1-1/4” SEALING GSKT W/STL RETAINING RING 100

WI SG-150 0322-6626 1-1/2” SEALING GSKT W/STL RETAINING RING 100

WI SG-200 0322-6629 2” SEALING GSKT W/STL RETAINING RING 100

WI SG-250 0322-6632 2-1/2” SEALING GSKT W/STL RETAINING RING 100

WI SG-300 0322-6635 3” SEALING GSKT W/STL RETAINING RING 100

WI SG-350 0322-6638 3-1/2” SEALING GSKT W/STL RETAINING RING 100

WI SG-400 0322-6641 4” SEALING GSKT W/STL RETAINING RING 100

WI SG-50 0322-6614 1/2” SEALING GSKT W/STL RETAINING RING 100

WI SG-500 0322-6644 5” SEALING GSKT W/STL RETAINING RING 100

WI SG-600 0322-6647 6” SEALING GSKT W/STL RETAINING RING 100

WI SG-75 0322-6617 3/4” SEALING GSKT W/STL RETAINING RING 100

WI SRCC-100S 0321-0996 1” RIGID COMP CONN - STEEL 100

WI SRCC-125S 0321-0999 1-1/4” RIGID COMP CONN - STEEL 100

WI SRCC-150S 0321-1002 1-1/2” RIGID COMP CONN - STEEL 100

WI SRCC-200S 0321-1005 2” RIGID COMP CONN - STEEL 100

WI SRCC-50S 0321-0990 1/2” RIGID COMP CONN - STEEL 100

WI SRCC-75S 0321-0993 3/4”RIGID COMP CONN - STEEL 100

WI SRCK-100S 0321-1014 1” RIGID COMP COUP - STEEL 100

WI SRCK-125S 0321-1017 1-1/4” RIGID COMP COUP - STEEL 100

WI SRCK-150S 0321-1020 1-1/2” RIGID COMP COUP - STEEL 100

WI SRCK-200S 0321-1023 2” RIGID COMP COUP - STEEL 100

WI SRCK-50S 0321-1008 1/2” RIGID COMP COUP - STEEL 100

WI SRCK-75S 0321-1011 3/4” RIGID COMP COUP - STEEL 100

WI SS38 0556-7640 3/8” SINGLE SCREW DUPLEX CLAMP 100

WI ST100 0322-6494 1” 1-HOLE STRAP FOR RIGID & IMC CONDUIT 100

WI ST125 0322-6497 1-1/4”-1-HOLE STRAP FOR RIGID & IMC COND 100

PART# STOCK CODE DESCRIPTION PER

RIGID & IMC FITTINGS 

WI RCC-250M-IC 0322-6242 2-1/2” RIGID COMP CONN - MAL/INS 100

WI RCC-250MR-IC 0579-8904 2-1/2” RT RIGID COMP CONN - INSUL-MALL 100

WI RCC-300M 0322-6215 3” RIGID COMP CONN - MALLEABLE 100

WI RCC-300M-IC 0322-6245 3”  RIGID COMP CONN - MAL/INS 100

WI RCC-300MR-IC 0579-8907 3” RT RIGID COMP CONN - INSUL-MALL 100

WI RCC-350M 0322-6218 3-1/2” RIGID COMP CONN - MALLEABLE 100

WI RCC-350M-IC 0322-6248 3-1/2” RIGID COMP CONN - MAL/INS 100

WI RCC-350MR-IC 0579-8910 3-1/2” RT RIGID COMP CONN - INSUL-MALL 100

WI RCC-400M 0322-6221 4” RIGID COMP CONN - MALLEABLE 100

WI RCC-400M-IC 0322-6251 4” RIGID COMP CONN - MAL/INS 100

WI RCC-400MR-IC 0579-8913 4” RT RIGID COMP CONN - INSUL-MALL 100

WI RCC-50M 0322-6194 1/2” RIGID COMP CONN - MALLEABLE 100

WI RCC-50M-IC 0322-6224 1/2” RIGID COMP CONN - MAL/INS 100

WI RCC-50MR-IC 0579-8886 1/2” RT RIGID COMP CONN - INSUL-MALL 100

WI RCC-75M 0322-6197 3/4” RIGID COMP CONN - MALLEABLE 100

WI RCC-75M-IC 0322-6227 3/4” RIGID COMP CONN - MAL/INS 100

WI RCC-75MR-IC 0579-8889 3/4” RT RIGID COMP CONN - INSUL-MALL 100

WI RCK-100M 0322-6260 1” RIGID COMP COUP - MALLEABLE 100

WI RCK-100MR 0579-8727 1” RT RIGID COMP COUPLING - MALLEABLE 100

WI RCK-125M 0322-6263 1-1/4” RIGID COMP COUP - MALLEABLE 100

WI RCK-125MR 0579-8730 1-1/4” RT RIGID COMP COUPLING - MALLEABL 100

WI RCK-150M 0322-6266 1-1/2” RIGID COMP COUP - MALLEABLE 100

WI RCK-150MR 0579-8733 1-1/2” RT RIGID COMP COUPLING - MALLEABL 100

WI RCK-200M 0322-6269 2” RIGID COMP COUP - MALLEABLE 100

WI RCK-200MR 0579-8739 2” RT RIGID COMP COUPLING - MALLEABLE 100

WI RCK-250M 0322-6272 2-1/2” RIGID COMP COUP - MALLEABLE 100

WI RCK-250MR 0579-8742 2-1/2” RT RIGID COMP COUPLING - MALLEABL 100

WI RCK-300M 0322-6275 3” RIGID COMP COUP - MALLEABLE 100

WI RCK-300MR 0579-8745 3” RT RIGID COMP COUPLING - MALLEABLE 100

WI RCK-350M 0322-6278 3-1/2” RIGID COMP COUP - MALLEABLE 100

WI RCK-350MR 0579-8748 3-1/2” RT RIGID COMP COUPLING - MALLEABL 100

WI RCK-400M 0322-6281 4” RIGID COMP COUP - MALLEABLE 100

WI RCK-400MR 0579-8751 4” RT RIGID COMP COUPLING - MALLEABLE 100

WI RCK-50M 0322-6254 1/2” RIGID COMP COUP - MALLEABLE 100

WI RCK-50MR 0579-8721 1/2” RT RIGID COMP COUPLING - MALLEABLE 100

WI RCK-75M 0322-6257 3/4” RIGID COMP COUP - MALLEABLE 100

WI RCK-75MR 0579-8724 3/4” RT RIGID COMP COUPLING - MALLEABLE 100

WI RSC-100M 0322-6290 1” SET SCREW CONN FOR THRDLS RIGID & IMC 100

WI RSC-100M-IC 0322-6308 1” SET SCREW CONN FOR THRDLS RIGID & IMC 100

WI RSC-125M 0322-6293 1-1/4” SET SCREW CONN FOR THRDLS RIGID 100

WI RSC-125M-IC 0322-6311 1-1/4” SET SCREW CONN FOR THRDLS RIGID 100

WI RSC-150M 0322-6296 1-1/2” SET SCREW CONN FOR THRDLS RIGID 100

WI RSC-150M-IC 0322-6314 1-1/2” SET SCREW CONN FOR THRDLS RIGID 100

WI RCC-50M WI SG-125



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

220 221

PART# STOCK CODE DESCRIPTION PER

RIGID & IMC FITTINGS - D

WI 708 0278-0736 WI 3” RIGID 1 HOLE STRAP 100

WI 709 0278-0739 WI 3 1/2” RIGID 1 HOLE STRAP 100

WI 710 0278-0742 WI 4” RIGID 1 HOLE STRAP 100

WI CBGI-100 0293-7525 MALLEABLE GROUNDING BUSHING 1” 100

WI CBGI-125 0293-7528 MALLEABLE GROUNDING BUSHING 1-1/4” 100

WI CBGI-150 0293-7531 MALLEABLE GROUNDING BUSHING 1-1/2” 100

WI CBGI-200 0293-7534 MALLEABLE GROUNDING BUSHING 2” 100

WI CBGI-250 0293-7537 MALLEABLE GROUNDING BUSHING 2-1/2” 100

WI CBGI-300 0293-7540 MALLEABLE GROUNDING BUSHING 3” 100

WI CBGI-350 0293-7543 MALLEABLE GROUNDING BUSHING 3-1/2” 100

WI CBGI-400 0293-7546 MALLEABLE GROUNDING BUSHING 4” 100

WI CBGI-50 0293-7549 MALLEABLE GROUNDING BUSHING 1/2” 100

WI CBGI-75 0293-7552 MALLEABLE GROUNDING BUSHING 3/4” 100

WI CPB050 0283-0971 WI PLASTIC BUSHING 1/2” 100

WI CPB075 0283-0974 WI PLASTIC BUSHING 3/4” 100

WI CPB100 0283-0977 WI PLASTIC BUSHING 1” 100

WI CPB125 0283-0980 WI PLASTIC BUSHING 1-1/4” 100

WI CPB150 0283-0983 WI PLASTIC BUSHING 1-1/2” 100

WI CPB200 0283-0986 WI PLASTIC BUSHING 2” 100

WI CPB250 0283-0989 WI PLASTIC BUSHING 2-1/2” 100

WI CPB300 0283-0992 WI PLASTIC BUSHING 3” 100

WI CPB350 0283-0995 WI PLASTIC BUSHING 3-1/2” 100

WI CPB400 0283-0998 WI PLASTIC BUSHING 4” 100

WI CPB500 0549-6087 WI PLASTIC BUSHING 5” 100

WI CPB600 0549-6090 WI PLASTIC BUSHING 6” 100

WI L-701 0293-7579 CONDUIT NIPPLE ZINC DIE CAST 1/2” 100

WI L-701-I 0556-5954 1/2” INSULATED CHASE NIPPLE - ZDC 100

WI L-702 0293-7582 CONDUIT NIPPLE ZINC DIE CAST 3/4” 100

WI L-702-I 0556-5957 3/4” INSULATED CHASE NIPPLE - ZDC 100

WI L-703 0293-7585 CONDUIT NIPPLE ZINC DIE CAST 1” 100

WI L-703-I 0556-5960 1” INSULATED CHASE NIPPLE - ZDC 100

WI L-703M 0549-9633 CONDUIT NIPPLE MALLEABLE 1” 100

WI L-704 0293-7588 CONDUIT NIPPLE ZINC DIE CAST 1-1/4” 100

WI L-704-I 0556-5963 1-1/4” INSULATED CHASE NIPPLE - ZDC 100

WI L-704M 0549-9630 CONDUIT NIPPLE MALLEABLE 1 1/4” 100

WI L-705 0293-7591 CONDUIT NIPPLE ZINC DIE CAST 1-1/2” 100

WI L-705-I 0556-5969 1-1/2” INSULATED CHASE NIPPLE - ZDC 100

WI L-705M 0545-1603 CONDUIT NIPPLE MALLEABLE 1-1/2” 100

WI L-706 0293-7594 CONDUIT NIPPLE ZINC DIE CAST 2” 100

WI L-706-I 0556-5972 2” INSULATED CHASE NIPPLE - ZDC 100

WI L-706M 0545-1606 CONDUIT NIPPLE MALLEABLE 2” 100

WI L-707 0293-7597 CONDUIT NIPPLE ZINC DIE CAST 2-1/2” 100

WI L-707-I 0556-5975 2-1/2” INSULATED CHASE NIPPLE - ZDC 100

PART# STOCK CODE DESCRIPTION PER

RIGID & IMC FITTINGS 

WI ST150 0322-6500 1-1/2” - 1-HOLE STRAP FOR RIGID & IMC 100

WI ST200 0322-6503 2” - 1-HOLE STRAP FOR RIGID & IMC CONDUI 100

WI ST250 0322-6506 2-1/2” 1-HOLE STRAP FOR RIGID & IMC COND 100

WI ST300 0322-6509 3” 1-HOLE STRAP FOR RIGID & IMC CONDUIT 100

WI ST350 0322-6512 3-1/2” 1-HOLE STRAP FOR RIGID & IMC COND 100

WI ST400 0322-6515 4” 1-HOLE STRAP FOR RIGID & IMC CONDUIT 100

WI ST50 0322-6488 1/2” 1-HOLE STRAP FOR RIGID & IMC COND 100

WI ST500 0322-6518 5” 1-HOLE STRAP FOR RIGID & IMC CONDUIT 100

WI ST600 0322-6521 6” 1-HOLE STRAP FOR RIGID & IMC CONDUIT 100

WI ST75 0322-6491 3/4” 1-HOLE STRAP FOR RIGID & IMC COND 100

WI ZLNS100 0321-0966 1” LOCKNUT ZINC DIE CAST 100

WI ZLNS125 0321-0969 1-1/4” LOCKNUT ZINC DIE CAST 100

WI ZLNS150 0321-0972 1-1/2” LOCKNUT ZINC DIE CAST 100

WI ZLNS200 0321-0975 2” LOCKNUT ZINC DIE CAST 100

WI ZLNS250 0321-0978 2-1/2” LOCKNUT ZINC DIE CAST 100

WI ZLNS300 0321-0981 3” LOCKNUT ZINC DIE CAST 100

WI ZLNS350 0321-0984 3-1/2” LOCKNUT ZINC DIE CAST 100

WI ZLNS400 0321-0987 4” LOCKNUT ZINC DIE CAST 100

WI ZLNS50 0321-0960 1/2” LOCKNUT ZINC DIE CAST 100

WI ZLNS75 0321-0963 3/4” LOCKNUT ZINC DIE CAST 100

PART# STOCK CODE DESCRIPTION PER

RIGID & IMC FITTINGS - D

WI 124 0278-0649 WI 1/2 RIGID 2 HOLE STRAP 100

WI 125 0278-0652 WI 3/4 RIGID 2 HOLE STRAP 100

WI 126 0278-0655 WI 1” RIGID 2 HOLE STRAP 100

WI 127 0278-0658 WI 1 1/4 RIGID 2 HOLE STRAP 100

WI 128 0278-0661 WI 1 1/2 RIGID 2 HOLE STRAP 100

WI 129 0278-0664 WI 2” RIGID 2 HOLE STRAP 100

WI 130 0278-0667 WI 2 1/2” RIGID 2 HOLE STRAP 100

WI 131 0278-0670 WI 3” RIGID 2 HOLE STRAP 100

WI 132 0278-0673 WI 3 1/2” RIGID 2 HOLE STRAP 100

WI 133 0278-0676 WI 4” RIGID 2 HOLE STRAPS 100

WI 699 0284-6673 WI 1/4” RIGID 1 HOLE STRAP 100

WI 700 0283-8867 WI 3/8” RIGID 1 HOLE STRAP 100

WI 701 0278-0715 WI 1/2” RIGID 1 HOLE STRAP 100

WI 702 0278-0718 WI 3/4” RIGID 1 HOLE STRAP 100

WI 703 0278-0721 WI 1” RIGID 1 HOLE STRAP 100

WI 704 0278-0724 WI 1 1/4” RIGID 1 HOLE STRAP 100

WI 705 0278-0727 WI 1 1/2” RIGID 1 HOLE STRAP 100

WI 706 0278-0730 WI 2” RIGID 1 HOLE STRAP 100

WI 707 0278-0733 WI 2 1/2” RIGID 1 HOLE STRAP 100

WI ST250

WI 124

WI 124



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

222 223

PART# STOCK CODE DESCRIPTION PER

RIGID & IMC FITTINGS - D

WI ML141-1 0285-3054 90D RIGID PULL ELB 1/2” - MALL 100

WI ML141-2 0285-3057 90D RIGID PULL ELB 3/4” - MALL 100

WI ML141-3 0285-3060 90D RIGID PULL ELB 1” - MALL 100

WI ML141-4 0285-3063 90D RIGID PULL ELB 1-1/4 - MALL 100

WI ML141-5 0285-3066 90D RIGID PULL ELB 1-1/2” - MALL 100

WI ML141-6 0285-3069 90D RIGID PULL ELB 2” - MALL 100

WI N100-1000 0283-7301 WI GALVAN RIGID NIPPLES 1” / 10” 100

WI N100-1200 0283-7304 WI GALVAN RIGID NIPPLES 1” / 12” 100

WI N100-200 0283-7307 WI GALVAN RIGID NIPPLES 1” / 2” 100

WI N100-250 0283-7310 WI GALVAN RIGID NIPPLES 1” / 2-1/2” 100

WI N100-300 0283-7313 WI GALVAN RIGID NIPPLES 1” / 3” 100

WI N100-350 0283-7316 WI GALVAN RIGID NIPPLES 1” / 3-1/2” 100

WI N100-400 0283-7319 WI GALVAN RIGID NIPPLES 1” / 4” 100

WI N100-500 0283-7322 WI GALVAN RIGID NIPPLES 1” / 5” 100

WI N100-600 0283-7325 WI GALVAN RIGID NIPPLES 1” / 6” 100

WI N100-800 0283-7328 WI GALVAN RIGID NIPPLES 1” / 8” 100

WI N100-CL 0283-7331 WI GALVAN RIGID NIPPLES 1” / CLOSE 100

WI N125-1000 0283-7334 WI GALVAN RIGID NIPPLES 1-1/4” / 10” 100

WI N125-1200 0283-7337 WI GALVAN RIGID NIPPLES 1-1/4” / 12” 100

WI N125-200 0283-7340 WI GALVAN RIGID NIPPLES 1-1/4” / 2” 100

WI N125-250 0283-7343 WI GALVAN RIGID NIPPLES 1-1/4” / 2-1/2” 100

WI N125-300 0283-7346 WI GALVAN RIGID NIPPLES 1-1/4” / 3” 100

WI N125-350 0283-7349 WI GALVAN RIGID NIPPLES 1-1/4” / 3-1/2” 100

WI N125-400 0283-7352 WI GALVAN RIGID NIPPLES 1-1/4 / 4” 100

WI N125-500 0283-7355 WI GALVAN RIGID NIPPLES 1-1/4” / 5” 100

WI N125-600 0283-7358 WI GALVAN RIGID NIPPLES 1-1/4” / 6” 100

WI N125-800 0283-7361 WI GALVAN RIGID NIPPLES 1-1/4” / 8” 100

WI N125-CL 0283-7364 WI GALVAN RIGID NIPPLES 1-1/4” / CLOSE 100

WI N150-1000 0283-7367 WI GALVAN RIGID NIPPLES 1-1/2”/ 10” 100

WI N150-1200 0283-7370 WI GALVAN RIGID NIPPLES 1-1/2” / 12” 100

WI N150-200 0283-7373 WI GALVAN RIGID NIPPLES 1-1/2” / 2” 100

WI N150-250 0283-7376 WI GALVAN RIGID NIPPLES 1-1/2” / 2-1/2” 100

WI N150-300 0283-7379 WI GALVAN RIGID NIPPLES 1-1/2” / 3” 100

WI N150-350 0283-7382 WI GALVAN RIGID NIPPLES 1-1/2” / 3-1/2” 100

WI N150-400 0283-7385 WI GALVAN RIGID NIPPLES 1-1/2” / 4” 100

WI N150-500 0283-7388 WI GALVAN RIGID NIPPLES 1-1/2” / 5” 100

WI N150-600 0283-7391 WI GALVAN RIGID NIPPLES 1-1/2” / 6” 100

WI N150-800 0283-7394 WI GALVAN RIGID NIPPLES 1-1/2” / 8” 100

WI N150-CL 0283-7397 WI GALVAN RIGID NIPPLES 1-1/2” / CLOSE 100

WI N200-1000 0283-7400 WI GALVAN RIGID NIPPLES 2” / 10” 100

WI N200-1200 0283-7403 WI GALVAN RIGID NIPPLES 2” / 12” 100

WI N200-250 0283-7592 WI GALVAN RIGID NIPPLES 2” / 2-1/2” 100

WI N200-300 0283-7406 WI GALVAN RIGID NIPPLES 2” / 3” 100

PART# STOCK CODE DESCRIPTION PER

RIGID & IMC FITTINGS - D

WI L-708 0293-7600 CONDUIT NIPPLE ZINC DIE CAST 3” 100

WI L-708-I 0556-5978 3” INSULATED CHASE NIPPLE - ZDC 100

WI L-709 0293-7603 CONDUIT NIPPLE ZINC DIE CAST 3-1/2” 100

WI L-710 0293-7606 CONDUIT NIPPLE ZINC DIE CAST 4” 100

WI L-710-I 0556-5981 4” INSULATED CHASE NIPPLE - ZDC 100

WI LNS-100-I 0293-7609 SEALING LOCKNUT STEEL 1” 100

WI LNS-125-I 0293-7612 SEALING LOCKNUT STEEL 1-1/4” 100

WI LNS-150-I 0293-7615 SEALING LOCKNUT STEEL 1-1/2” 100

WI LNS-200-I 0293-7618 SEALING LOCKNUT STEEL 2” 100

WI LNS-250-I 0293-7621 SEALING LOCKNUT STEEL 2-1/2” 100

WI LNS-300-I 0293-7624 SEALING LOCKNUT STEEL 3” 100

WI LNS-350-I 0293-7627 SEALING LOCKNUT STEEL 3-1/2” 100

WI LNS-400-I 0293-7630 SEALING LOCKNUT STEEL 4” 100

WI LNS-50-I 0293-7633 SEALING LOCKNUT STEEL 1/2” 100

WI LNS-75-I 0293-7636 SEALING LOCKNUT STEEL 3/4” 100

WI LNS100 0279-9933 WI STEEL LOCKNUT 1” 100

WI LNS125 0279-9936 WI STEEL LOCKNUT 1-1/4” 100

WI LNS150 0279-9939 WI STEEL LOCKNUT 1-1/2” 100

WI LNS200 0279-9942 WI STEEL LOCKNUT 2” 100

WI LNS250 0279-9945 WI STEEL LOCKNUT 2-1/2” 100

WI LNS300 0279-9948 WI STEEL LOCKNUT 3” 100

WI LNS350 0279-9951 WI STEEL LOCKNUT 3-1/2” 100

WI LNS400 0279-9954 WI STEEL LOCKNUT 4” 100

WI LNS50 0279-9957 WI STEEL LOCKNUT 1/2” 100

WI LNS75 0279-9960 WI STEEL LOCKNUT 3/4” 100

WI LRB10 0279-9963 WI REDUCING BUSHING 11/2” - 1” 100

WI LRB11 0279-9966 WI REDUCING BUSHING 11/2” - 11/4” 100

WI LRB14 0279-9969 WI REDUCING BUSHING 2” - 1” 100

WI LRB15 0279-9972 WI REDUCING BUSHING 2” - 11/4” 100

WI LRB16 0279-9975 WI REDUCING BUSHING 2” - 11/2” 100

WI LRB2 0279-9978 WI REDUCING BUSHING 3/4” - 1/2” 100

WI LRB3 0279-9981 WI REDUCING BUSHING 1” - 1/2” 100

WI LRB4 0279-9984 WI REDUCING BUSHING 1” - 3/4” 100

WI LRB5 0279-9987 WI REDUCING BUSHING 11/4” - 1/2” 100

WI LRB6 0279-9990 WI REDUCING BUSHING 11/4” - 3/4” 100

WI LRB7 0279-9993 WI REDUCING BUSHING 11/4” - 1” 100

WI LRB8 0279-9996 WI REDUCING BUSHING 11/2” - 1/2” 100

WI LRB9 0279-9999 WI REDUCING BUSHING 11/2” - 3/4” 100

WI LTR100 0557-9613 1” LIQUIDTIGHT TO RIGID COMBO COUPLING 100

WI LTR125 0557-9616 1-1/4” LIQUIDTIGHT TO RIGID COMBO COUP 100

WI LTR150 0557-9619 1-1/2” LIQUIDTIGHT TO RIGID COMBO COUP 100

WI LTR200 0557-9622  2” LIQUIDTIGHT TO RIGID COMBO COUPLING 100

WI LTR38 0557-9604 3/8” LIQUIDTIGHT TO RIGID COMBO COUPLING 100

WI LNS75

WI N100-500



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

224 225

PART# STOCK CODE DESCRIPTION PER

RIGID COUPLINGS - D

WI N50-300 0283-7538 WI GALVAN RIGID NIPPLES 1/2” / 3” 100

WI N50-350 0283-7541 WI GALVAN RIGID NIPPLES 1/2” / 3-1/2” 100

WI N50-400 0283-7544 WI GALVAN RIGID NIPPLES 1/2” / 4” 100

WI N50-500 0283-7547 WI GALVAN RIGID NIPPLES 1/2” / 5” 100

WI N50-600 0283-7550 WI GALVAN RIGID NIPPLES 1/2” / 6” 100

WI N50-800 0283-7553 WI GALVAN RIGID NIPPLES 1/2” / 8” 100

WI N50-CL 0283-7556 WI GALVAN RIGID NIPPLES 1/2” /  CLOSE 100

WI N75-1000 0283-7559 WI GALVAN RIGID NIPPLES 3/4” / 10” 100

WI N75-1200 0283-7562 WI GALVAN RIGID NIPPLES 3/4” / 12” 100

WI N75-200 0283-7565 WI GALVAN RIGID NIPPLES 3/4” / 2” 100

WI N75-250 0283-7568 WI GALVAN RIGID NIPPLES 3/4” / 2-1/2” 100

WI N75-300 0283-7571 WI GALVAN RIGID NIPPLES 3/4” / 3” 100

WI N75-350 0283-7574 WI GALVAN RIGID NIPPLES 3/4” / 3-1/2” 100

WI N75-400 0283-7577 WI GALVAN RIGID NIPPLES 3/4” / 4” 100

WI N75-500 0283-7580 WI GALVAN RIGID NIPPLES 3/4” / 5” 100

WI N75-600 0283-7583 WI GALVAN RIGID NIPPLES 3/4” / 6” 100

WI N75-800 0283-7586 WI GALVAN RIGID NIPPLES 3/4” / 8” 100

WI N75-CL 0283-7589 WI GALVAN RIGID NIPPLES 3/4” / CLOSE 100

WI RC050 0281-1954 WI STEEL COUPLING 1/2” 100

WI RC075 0281-1957 WI STEEL COUPLING 3/4” 100

WI RC100 0281-1960 WI STEEL COUPLING 1” 100

WI RC125 0281-1963 WI STEEL COUPLING 1-1/4” 100

WI RC150 0281-1966 WI STEEL COUPLING 1-1/2” 100

WI RC200 0281-1969 WI STEEL COUPLING 2” 100

WI RC250 0281-1972 WI STEEL COUPLING 2-1/2” 100

WI RC300 0281-1975 WI STEEL COUPLING 3” 100

WI RC350 0281-1978 WI STEEL COUPLING 3-1/2” 100

WI RC400 0281-1981 WI STEEL COUPLING 4” 100

WI RC500 0281-1984 WI STEEL COUPLING 5” 100

WI RC600 0281-1987 WI STEEL COUPLING 6” 100

WI RCA050 0581-8965 1/2” RIGID COUPLING - ALUMINUM 100

WI RCA075 0581-8968 3/4” RIGID COUPLING - ALUMINUM 100

WI RCA100 0581-8971 1” RIGID COUPLING - ALUMINUM 100

WI RCA125 0581-8974 1-1/4” RIGID COUPLING - ALUMINUM 100

WI RCA150 0581-8977 1-1/2” RIGID COUPLING - ALUMINUM 100

WI RCA200 0581-8980 2” RIGID COUPLING - ALUMINUM 100

WI RCA250 0581-8983 2-1/2” RIGID COUPLING - ALUMINUM 100

WI RCA300 0581-8986 3” RIGID COUPLING - ALUMINUM 100

WI RCA350 0581-8989 3-1/2” RIGID COUPLING - ALUMINUM 100

WI RCA400 0581-8992 4” RIGID COUPLING - ALUMINUM 100

WI RCC-100M 0322-6200 1” RIGID COMP CONN - MALLEABLE 100

WI RCC-100M-IC 0322-6230 1” RIGID COMP CONN - MAL/INS 100

WI RCC-100MR-IC 0579-8892 1” RT RIGID COMP CONN - INSUL-MALL 100

PART# STOCK CODE DESCRIPTION PER

RIGID & IMC FITTINGS - D

WI N200-350 0283-7409 WI GALVAN RIGID NIPPLES 2” / 3-1/2” 100

WI N200-400 0283-7412 WI GALVAN RIGID NIPPLES 2” / 4” 100

WI N200-500 0283-7415 WI GALVAN RIGID NIPPLES 2” / 5” 100

WI N200-600 0283-7418 WI GALVAN RIGID NIPPLES 2” / 6” 100

WI N200-800 0283-7421 WI GALVAN RIGID NIPPLES 2” / 8” 100

WI N200-CL 0283-7424 WI GALVAN RIGID NIPPLES 2” / CLOSE 100

WI N250-1000 0283-7427 WI GALVAN RIGID NIPPLES 2-1/2” / 10” 100

WI N250-1200 0283-7430 WI GALVAN RIGID NIPPLES 2-1/2” / 12” 100

WI N250-300 0283-7433 WI GALVAN RIGID NIPPLES 2-1/2” / 3” 100

WI N250-350 0283-7436 WI GALVAN RIGID NIPPLES 2-1/2” / 3-1/2” 100

WI N250-400 0283-7439 WI GALVAN RIGID NIPPLES 2-1/2” / 4” 100

WI N250-500 0283-7442 WI GALVAN RIGID NIPPLES 2-1/2” / 5” 100

WI N250-600 0283-7445 WI GALVAN RIGID NIPPLES 2-1/2” / 6” 100

WI N250-800 0283-7448 WI GALVAN RIGID NIPPLES 2-1/2” / 8” 100

WI N250-CL 0283-7451 WI GALVAN RIGID NIPPLES 2-1/2” / CLOSE 100

WI N300-1000 0283-7454 WI GALVAN RIGID NIPPLES 3” / 10” 100

WI N300-1200 0283-7457 WI GALVAN RIGID NIPPLES 3” / 12” 100

WI N300-300 0283-7460 WI GALVAN RIGID NIPPLES 3” / 3” 100

WI N300-350 0283-7463 WI GALVAN RIGID NIPPLES 3” / 3-1/2” 100

WI N300-400 0283-7466 WI GALVAN RIGID NIPPLES 3” / 4” 100

WI N300-500 0283-7469 WI GALVAN RIGID NIPPLES 3” / 5” 100

WI N300-600 0283-7472 WI GALVAN RIGID NIPPLES 3” / 6” 100

WI N300-800 0283-7475 WI GALVAN RIGID NIPPLES 3” / 8” 100

WI N300-CL 0283-7478 WI GALVAN RIGID NIPPLES 3” / CLOSE 100

WI N350-1000 0283-7481 WI GALVAN RIGID NIPPLES 3-1/2” / 10” 100

WI N350-1200 0283-7484 WI GALVAN RIGID NIPPLES 3-1/2” / 12” 100

WI N350-400 0283-7487 WI GALVAN RIGID NIPPLES 3-1/2” / 4” 100

WI N350-500 0283-7490 WI GALVAN RIGID NIPPLES 3-1/2” / 5” 100

WI N350-600 0283-7493 WI GALVAN RIGID NIPPLES 3-1/2” / 6” 100

WI N350-800 0283-7496 WI GALVAN RIGID NIPPLES 3-1/2” / 8” 100

WI N350-CL 0283-7499 WI GALVAN RIGID NIPPLES 3-1/2” / CLOSE 100

WI N400-1000 0283-7502 WI GALVAN RIGID NIPPLES 4” / 10” 100

WI N400-1200 0283-7505 WI GALVAN RIGID NIPPLES 4” / 12” 100

WI N400-400 0283-7508 WI GALVAN RIGID NIPPLES 4” / 4” 100

WI N400-500 0283-7511 WI GALVAN RIGID NIPPLES 4” / 5” 100

WI N400-600 0283-7514 WI GALVAN RIGID NIPPLES 4” / 6” 100

WI N400-800 0283-7517 WI GALVAN RIGID NIPPLES 4” / 8” 100

WI N400-CL 0283-7520 WI GALVAN RIGID NIPPLES 4” / CLOSE 100

WI N50-1000 0283-7523 WI GALVAN RIGID NIPPLES 1/2” / 10” 100

WI N50-1200 0283-7526 WI GALVAN RIGID NIPPLES 1/2” / 12” 100

WI N50-150 0283-7529 WI GALVAN RIGID NIPPLES 1/2” / 1-1/2” 100

WI N50-200 0283-7532 WI GALVAN RIGID NIPPLES 1/2” / 2” 100

WI N50-250 0283-7535 WI GALVAN RIGID NIPPLES 1/2” / 2-1/2” 100

WI N50-150 WI RC050



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

226 227

PART# STOCK CODE DESCRIPTION PER

SERVICE ENTRANCE

MO2 0320-9232 078352 2” METER OFFSET 100

SMR20TA 0322-8942 068063 SLIP METER RISER 2” 100

SMR25TA 0321-0036 68372 SLIP METER RISER 2-1/2” 100

SMR30TA 0320-9886 68373 3” SLIP METER RISER 100

SMR40TA 0320-9922 068065 SLIP METER RISER 4” 100

UPS0510 0542-7063 UNIVERSAL PIPE SUPPORT 1/2” X 10” BOLT 100

WGC1 0542-7066 WEDGE GRIP CLAMP, 6-2 100

WGC2 0542-7069 WEDGE GRIP CLAMP, 4-1/0 100

WGC3 0542-7072 WEDGE GRIP CLAMP, 2/0-4/0 100

WI 220 0551-8866 2-HOLE SEU STRAP 3 #8 OR #6 100

WI 221 0551-8869 2-HOLE SEU STRAP 3 #4 OR #3 100

WI 222 0551-8872 2-HOLE SEU STRAP #1/0 OR #2/0 100

WI 223 0551-8875 2-HOLE SEU STRAP #4/0 100

WI 261 0551-8860 1-HOLE SEU STRAP 3 #8,#6 OR #4 OVAL 100

WI 262 0551-8863 1-HOLE SEU STRAP 3 #3 OR #2 100

WI 264 0551-8992 1-HOLE SEU STRAP 3 #4/0 100

WI 805-TH 0551-8848 2” SERVICE ENTRANCE CAPS - THREADED - AL 100

WI 90 0556-8078 3#8-3#1 SE ENTRANCE CAP W/SPL INSUL ALUM 100

WI 92 0556-8081 1/0-4/0 SE ENTRANCE CAP W/SPL INSUL ALUM 100

WI NMFS200-B 0550-6872 WI 2PC STRAIGHT CONN 2”-BLACK 100

WI NRF-125/150 0380-5866 NEOPRENE ROOF FLASHING 1-1/4” & 1-1/2” 100

WI NRF-200 0380-5887 NEOPRENE ROOF FLASHING 2” 100

WI NRF-250 0380-5890 NEOPRENE ROOF FLASHING 2-1/2” 100

WI NRF-300 0380-5893 NEOPRENE ROOF FLASHING 3” 100

WI P-38 0293-7657 ROOF FLASHING W/RUBBER BOOT 1-1/4” 100

WI P-39 0293-7660 ROOF FLASHING W/RUBBER BOOT 1-1/2” 100

WI P-40 0293-7663 ROOF FLASHING W/RUBBER BOOT 2” 100

WI P-41 0293-7666 ROOF FLASHING W/RUBBER BOOT 2-1/2” 100

WI 263 0551-8989 1-HOLE SEU STRAP 3 #1,#1/0, #2 OR #2/0 100

PART# STOCK CODE DESCRIPTION PER

SERVICE ENTRANCE - D

WI 7T400 0542-6826 4” T CONDULET -FORM 7 100

WI 800-TH 0551-8833 1/2” SERVICE ENTRANCE CAPS - THREADED - 100

WI 801-TH 0551-8836 3/4” SERVICE ENTRANCE CAPS - THREADED - 100

WI 802-TH 0551-8839 1” SERVICE ENTRANCE CAPS - THREADED - AL 100

WI 803-TH 0551-8842 1 1/4” SERVICE ENTRANCE CAPS - THREADED 100

WI 804-TH 0551-8845 1 1/2” SERVICE ENTRANCE CAPS - THREADED 100

WI 806-TH 0551-8851 2 1/2” SERVICE ENTRANCE CAPS - THREADED 100

WI 807-TH 0551-8854 3” SERVICE ENTRANCE CAPS - THREADED - AL 100

WI 809-TH 0551-8857 4” SERVICE ENTRANCE CAPS - THREADED - AL 100

PART# STOCK CODE DESCRIPTION PER

RIGID COUPLINGS - D

WI RCC-125M 0322-6203 1-1/4” RIGID COMP CONN - MALLEABLE 100

WI RCC-125M-IC 0322-6233 1-1/4”  RIGID COMP CONN - MAL/INS 100

WI RCC-125MR-IC 0579-8895 1-1/4” RT RIGID COMP CONN - INSUL-MALL 100

WI RCC-150M 0322-6206 1-1/2” RIGID COMP CONN - MALLEABLE 100

WI RCC-150M-IC 0322-6236 1-1/2”  RIGID COMP CONN - MAL/INS 100

WI RCC-150MR-IC 0579-8898 1-1/2” RT RIGID COMP CONN - INSUL-MALL 100

PART# STOCK CODE DESCRIPTION PER

RTS SERIES ROOFTOP SUPPORT

RTS12HPG 0539-0460 12” HIGH X 9.32” LONG 1 BASE W/13/16” HI 100

RTS1PG 0531-9075 ROOFTOP BLOCK 10.5IN,  13/16  PREGALV 100

RTS1PG-6P 0545-3586 RTS1PG 6 PACK 1= 1 BOX 100

RTS8HPG 0539-0457 8” HIGH X 9.32” LONG 1 BASE W/13/16” HIG 100

RTSN 0539-0412 BASE ONLY 10.875” LONG 100

PART# STOCK CODE DESCRIPTION PER

SERVICE ENT CAP

SEC05  0320-9418 SERVICE ENT CAP 100

SEC07  0320-9634 SERVICE ENT CAP 100

SEC1  0320-9676 SERVICE ENT CAP 100

SEC125  0320-9601 SERVICE ENT CAP 100

SEC15  0320-9544 SERVICE ENT CAP 100

SEC2  0320-9352 SERVICE ENT CAP 100

SEC25  0320-9871 SERVICE ENT CAP 100

SEC3  0320-9907 SERVICE ENT CAP 100

SEC35  0320-9997 SERVICE ENT CAP 100

SEC4  0320-9958 SERVICE ENT CAP 100

PART# STOCK CODE DESCRIPTION PER

SERVICE ENTRANCE

AWH 0542-7045 1-1/4”- 3” ADJUSTABLE WIRE HOLDER 100

DSC1 0539-5932 ASBESTOS FREE DUCT SEAL COMPOUND 1LB 100

DSC5 0539-5935 ASBESTOS FREE DUCT SEAL COMPOUND 5 LB 100

HDWH 0542-7054 2-1/4” WIREHOLDER HVY DUTY LAG SCREW 100

HDWH5 0542-7057 5” WIREHOLDER HVY DUTY BOLT 100

HDWHH 0542-7060 2” SERVICE-MAST WIREHOLDER WITH HANGER 100

LDWH 0542-7048 1-11/16” WIREHOLDER LIGHT DUTY LAG SCREW 100

MDWH 0542-7051 2-1/4” WIREHOLDER MED DUTY LAG SCREW 100

MO125 0320-9346 078351 1-1/4” METER OFFSET 100

WI RCC-125M

SEC05

RTS1PG

SMR20TA

SMR20TA



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

228 229

PART# STOCK CODE DESCRIPTION PER

SPECIAL BEND EMT ELBOWS

WI ELR30015 0542-7099 WI 15D RIGID CONDUIT ELBOW 3” 100

WI ELR30022.5 0542-7141 WI 22.5D RIGID CONDUIT ELBOW 3” 100

WI ELR30030 0542-7120 WI 30D RIGID CONDUIT ELBOW 3” 100

WI ELR35022.5 0542-7144 WI 22.5D RIGID CONDUIT ELBOW 3-1/2” 100

WI ELR35030 0542-7123 WI 30D RIGID CONDUIT ELBOW 3-1/2” 100

WI ELR40022.5 0542-7147 WI 22.5D RIGID CONDUIT ELBOW 4” 100

WI ELR40030 0542-7126 WI 30D RIGID CONDUIT ELBOW 4” 100

PART# STOCK CODE DESCRIPTION PER

STANDARD EMT ELBOWS - D

WI ELE10045 0281-2386 WI 45D EMT CONDUIT ELBOW 1” 100

WI ELE10090 0281-2389 WI 90D EMT CONDUIT ELBOW 1” 100

WI ELE12545 0281-2392 WI 45D EMT CONDUIT ELBOW 1-1/4” 100

WI ELE12590 0281-2395 WI 90D EMT CONDUIT ELBOW 1-1/4” 100

WI ELE15045 0281-2398 WI 45D EMT CONDUIT ELBOW 1-1/2” 100

WI ELE15090 0281-2401 WI 90D EMT CONDUIT ELBOW 1-1/2” 100

WI ELE20045 0281-2404 WI 45D EMT CONDUIT ELBOW 2” 100

WI ELE20090 0281-2407 WI 90D EMT CONDUIT ELBOW 2” 100

WI ELE25045 0281-2410 WI 45D EMT CONDUIT ELBOW 2-1/2” 100

WI ELE25090 0281-2413 WI 90D EMT CONDUIT ELBOW 2-1/2” 100

WI ELE30045 0281-2416 WI 45D EMT CONDUIT ELBOW 3” 100

WI ELE30090 0281-2419 WI 90D EMT CONDUIT ELBOW 3” 100

WI ELE35045 0281-2422 WI 45D EMT CONDUIT ELBOW 3-1/2” 100

WI ELE35090 0281-2425 WI 90D EMT CONDUIT ELBOW 3-1/2” 100

WI ELE40045 0281-2428 WI 45D EMT CONDUIT ELBOW 4” 100

WI ELE40090 0281-2431 WI 90D EMT CONDUIT ELBOW 4” 100

WI ELE5045 0281-2434 WI 45D EMT CONDUIT ELBOW  1/2” 100

WI ELE5090 0281-2437 WI 90D EMT CONDUIT ELBOW 1/2” 100

WI ELE7545 0281-2440 WI 45D EMT CONDUIT ELBOW 3/4” 100

WI ELE7590 0281-2443 WI 90D EMT CONDUIT ELBOW 3/4” 100

PART# STOCK CODE DESCRIPTION PER

STANDARD PVC JUNCTION BOXES

JB12124 0009-6754 078250 12X12X4 JUNCTION BOX 100

JB12126 0009-6757 078251 12X12X6 JUNCTION BOX 100

JB12128 0255-5469 078252 12 X 12 X 8 PVC JUNCTION BOX 100

JB442 0009-6760 078242 4X4X2 JUNCTION BOX 100

JB444 0235-0632 078243 4X4X4 JUNCTION BOX 100

JB446 0234-8529 078244 4X4X6 JUNCTION BOX 100

JB552 0264-4941 078245 5X5X2 JUNCTION BOX 100

JB55C 0582-7218 077882 5X5 JB COVER W. GASKET & SCREWS 100

PART# STOCK CODE DESCRIPTION PER

SERVICE ENTRANCE - D

WI 800-CL 0278-8200 SERVICE ENT CAPS ALUM CLAMP-ON TYPE 1/2” 100

WI 801-CL 0278-8203 SERVICE ENT CAPS ALUM CLAMP-ON TYPE 3/4” 100

WI 802-CL 0278-8206 SERVICE ENT CAPS ALUM CLAMP-ON TYPE 1” 100

WI 803-CL 0278-8209 SERVICE ENT CAPS ALUM CLAMP-ON TYPE 1-1/ 100

WI 804-CL 0278-8212 SERVICE ENT CAPS ALUM CLAMP-ON TYPE 1-1/ 100

WI 805-CL 0278-8215 SERVICE ENT CAPS ALUM CLAMP-ON TYPE 2” 100

WI 806-CL 0278-8218 SERVICE ENT CAPS ALUM CLAMP-ON TYPE 2-1/ 100

WI 807-CL 0278-8221 SERVICE ENT CAPS ALUM CLAMP-ON TYPE 3” 100

WI 808-CL 0278-8224 SERVICE ENT CAPS ALUM CLAMP-ON TYPE 3-1/ 100

WI 809-CL 0278-8227 SERVICE ENT CAPS ALUM CLAMP-ON TYPE 4” 100

PART# STOCK CODE DESCRIPTION PER

SPECIAL BEND EMT ELBOWS

WI ELE12515 0542-7150 WI 15D EMT CONDUIT ELBOW 1-1/4” 100

WI ELE12522.5 0542-7192 WI 22.5D EMT CONDUIT ELBOW 1-1/4” 100

WI ELE12530 0542-7171 WI 30D EMT CONDUIT ELBOW 1-1/4” 100

WI ELE15015 0542-7153 WI 15D EMT CONDUIT ELBOW 1-1/2” 100

WI ELE15022.5 0542-7195 WI 22.5D EMT CONDUIT ELBOW 1-1/2” 100

WI ELE15030 0542-7174 WI 30D EMT CONDUIT ELBOW 1-1/2” 100

WI ELE20015 0542-7156 WI 15D EMT CONDUIT ELBOW 2” 100

WI ELE20022.5 0542-7198 WI 22.5D EMT CONDUIT ELBOW 2” 100

WI ELE20030 0542-7177 WI 30D EMT CONDUIT ELBOW 2” 100

WI ELE25015 0542-7159 WI 15D EMT CONDUIT ELBOW 2-1/2” 100

WI ELE25022.5 0542-7201 WI 22.5D EMT CONDUIT ELBOW 2-1/2” 100

WI ELE25030 0542-7180 WI 30D EMT CONDUIT ELBOW 2-1/2” 100

WI ELE30015 0542-7162 WI 15D EMT CONDUIT ELBOW 3” 100

WI ELE30022.5 0542-7204 WI 22.5D EMT CONDUIT ELBOW 3” 100

WI ELE30030 0542-7183 WI 30D EMT CONDUIT ELBOW 3” 100

WI ELE35015 0542-7165 WI 15D EMT CONDUIT ELBOW 3-1/2” 100

WI ELE35022.5 0542-7207 WI 22.5D EMT CONDUIT ELBOW 3-1/2” 100

WI ELE35030 0542-7186 WI 30D EMT CONDUIT ELBOW 3-1/2” 100

WI ELE40015 0542-7168 WI 15D EMT CONDUIT ELBOW 4” 100

WI ELE40022.5 0542-7210 WI 22.5D EMT CONDUIT ELBOW 4” 100

WI ELE40030 0542-7189 WI 30D EMT CONDUIT ELBOW 4” 100

WI ELR12522.5 0542-7129 WI 22.5D RIGID CONDUIT ELBOW 1-1/4” 100

WI ELR12530 0542-7108 WI 30D RIGID CONDUIT ELBOW 1-1/4” 100

WI ELR15030 0542-7111 WI 30D RIGID CONDUIT ELBOW 1-1/2” 100

WI ELR20022.5 0542-7135 WI 22.5D RIGID CONDUIT ELBOW 2” 100

WI ELR20030 0542-7114 WI 30D RIGID CONDUIT ELBOW 2” 100

WI ELR25015 0542-7096 WI 15D RIGID CONDUIT ELBOW 2-1/2” 100

WI ELR25022.5 0542-7138 WI 22.5D RIGID CONDUIT ELBOW 2-1/2” 100

WI ELR25030 0542-7117 WI 30D RIGID CONDUIT ELBOW 2-1/2” 100

WI 801-CL

WI ELE10045

JB12124



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

230 231

PART# STOCK CODE DESCRIPTION PER

STEEL BOX ACCESSORIES

3PKO-250 0542-4792 3 PIECE KO SEAL - 2 1/2” 100

3PKO-300 0542-4795 3 PIECE KO SEAL - 3” 100

3PKO-350 0542-4798 3 PIECE KO SEAL - 3 1/2” 100

3PKO-400 0542-4801 3 PIECE KO SEAL - 4” 100

3PKO-50 0542-4774 3 PIECE KO SEAL - 1/2” 100

3PKO-75 0542-4777 3 PIECE KO SEAL - 3/4” 100

CM-4SDP-100 0262-7907 LOW-VOLTAGE PARTITION FOR 4” SQ. 2-1/8” 100

CM-4SDP-200 0262-7910 LOW-VOLTAGE PARTITION FOR 4” SQ. 2-1/8” 100

CM-4SP-100 0262-7913 LOW-VOLTAGE PARTITION FOR 4” SQ. 1-1/2” 100

CM-4SP-200 0286-0134 LOW VOLT BOX PARTITION 100

CM-5SDP-200 0272-7222 4-11/16” LOW VOLTAGE DIVIDER 100

CM-ABS 0262-7955 FAR-SIDE BOX SUPPORT FOR 1-1/2” & 2-1/8” 100

CM-ABS-6 0280-1253 FAR-SIDE BOX SUPPORT 100

CM-CP-5 0288-1383 HARD ALUM 5” DIA BLANK CVR PLATE WHT 100

CM-CP-5NM 0363-5280 5” ROUND PVC CEILING CLOSURE PLATE (WHT) 100

CM-DLR-1G 0320-7327 DEVICE LEVELER RING SINGLE GANG 100

CM-GS-1032 0277-1769 10-32X3/8 GROUND SCREW 100

CM-GS-1032-PT 0275-7366 10-32X3/8 GRD SCREW 100

CM-GS-1032-PT-10 0363-5277 GS-1032 W/10 LONG #12 AWG INSULATED SO 100

CM-OWG 0262-8282 CLIPS & LOCKS OLD-WORK STEEL BOXES TIGHT 100

CM-PBS 0427-3272 PLASTIC FAR SIDE  BACK SUPP.  1 1/2” 100

CM-PBSD 0550-1673 PLASTIC BACK SUPPORT - 2 1/8” DP BOX 100

CM-SB-10 0277-4115 10G SWITCH BOX 1-7/8 DEEP 100

CM-SB-D 0262-8306 1-7/8” / 2-5/8” PARTITION FOR SB BOXES 100

CM-SB-EXT 0262-8309 SWITCH BOX EXTENTION FOR 1G BOX 1/4 100

CM-SBS 0262-8312 SWITCH BOX SUPPORT W/BENDABLE TABS 100

CM-SDB-D 0288-0543 LV PARTITION FOR DEEP MG BOX 100

CM-SDBL-2 0314-0844 2-1/2” 2G WELDED BX 6-13/16”X4-9/16” 100

WI KIB-100P 0321-1263 1” SNAP-IN KNOCK-OUT BUSHING 100

WI KIB-125P 0321-1266 1-1/4” SNAP-IN KNOCK-OUT BUSHING 100

WI KIB-150P 0321-1269 1-1/2” SNAP-IN KNOCK-OUT BUSHING 100

WI KIB-200P 0321-1272 2” SNAP-IN KNOCK-OUT BUSHING 100

WI KIB-50P 0321-1257 1/2” SNAP-IN KNOCK-OUT BUSHING 100

WI KIB-75P 0321-1260 3/4” SNAP-IN KNOCK-OUT BUSHING 100

PART# STOCK CODE DESCRIPTION PER

STEEL BOX ACCESSORIES - D

WI 150 0278-6466 WI STEEL KO SEAL 1/2” 100

WI 151 0278-6469 WI STEEL KO SEAL 3/4” 100

WI 152 0278-6472 WI STEEL KO SEAL 1” 100

WI 153 0278-6475 WI STEEL KO SEAL 1 1/4” 100

WI 154 0278-6478 WI STEEL KO SEAL 1 1/2” 100

PART# STOCK CODE DESCRIPTION PER

STANDARD PVC JUNCTION BOXES

JB664 0009-6772 078246 6X6X4 JUNCTION BOX 100

JB666 0235-0629 078247 6X6X6 JUNCTION BOX 100

JB884 0009-6778 078248 8X8X4 JUNCTION BOX 100

JB887 0235-0641 8X8X7 JUNCTION BOX 100

PART# STOCK CODE DESCRIPTION PER

STANDARD RIGID ELBOWS - D

WI ELR10045 0281-2326 WI 45D RIGID CONDUIT ELBOW 1” 100

WI ELR10090 0281-2329 WI 90D RIGID CONDUIT ELBOW 1” 100

WI ELR12515 0542-7087 WI 15D RIGID CONDUIT ELBOW 1-1/4” 100

WI ELR12545 0281-2332 WI 45D RIGID CONDUIT ELBOW 1-1/4” 100

WI ELR12590 0281-2335 WI 90D RIGID CONDUIT ELBOW 1-1/4” 100

WI ELR15015 0542-7090 WI 15D RIGID CONDUIT ELBOW 1-1/2” 100

WI ELR15022.5 0542-7132 WI 22.5D RIGID CONDUIT ELBOW 1-1/2” 100

WI ELR15045 0281-2338 WI 45D RIGID CONDUIT ELBOW 1-1/2” 100

WI ELR15090 0281-2341 WI 90D RIGID CONDUIT ELBOW 1-1/2” 100

WI ELR20015 0542-7093 WI 15D RIGID CONDUIT ELBOW 2” 100

WI ELR20045 0281-2344 WI 45D RIGID CONDUIT ELBOW 2” 100

WI ELR20090 0281-2347 WI 90D RIGID CONDUIT ELBOW 2” 100

WI ELR25045 0281-2350 WI 45D RIGID CONDUIT ELBOW 2-1/2” 100

WI ELR25090 0281-2353 WI 90D RIGID CONDUIT ELBOW 2-1/2” 100

WI ELR30045 0281-2356 WI 45D RIGID CONDUIT ELBOW 3” 100

WI ELR30090 0281-2359 WI 90D RIGID CONDUIT ELBOW 3” 100

WI ELR35015 0542-7102 WI 15D RIGID CONDUIT ELBOW 3-1/2” 100

WI ELR35045 0281-2362 WI 45D RIGID CONDUIT ELBOW 3-1/2” 100

WI ELR35090 0281-2365 WI 90D RIGID CONDUIT ELBOW 3-1/2” 100

WI ELR40015 0542-7105 WI 15D RIGID CONDUIT ELBOW 4” 100

WI ELR40045 0281-2368 WI 45D RIGID CONDUIT ELBOW 4” 100

WI ELR40090 0281-2371 WI 90D RIGID CONDUIT ELBOW 4” 100

WI ELR5045 0281-2374 WI 45D RIGID CONDUIT ELBOW 1/2” 100

WI ELR5090 0281-2377 WI 90D RIGID CONDUIT ELBOW 1/2” 100

WI ELR7545 0281-2380 WI 45D RIGID CONDUIT ELBOW 3/4” 100

WI ELR7590 0281-2383 WI 90D RIGID CONDUIT ELBOW 3/4” 100

WI ELRA10045 0581-8941 45° RIGID ELBOW - ALUMINUM - 1” 100

PART# STOCK CODE DESCRIPTION PER

STEEL BOX ACCESSORIES

3PKO-100 0542-4780 3 PIECE KO SEAL - 1” 100

3PKO-125 0542-4783 3 PIECE KO SEAL - 1 1/4” 100

3PKO-150 0542-4786 3 PIECE KO SEAL - 1 1/2” 100

3PKO-200 0542-4789 3 PIECE KO SEAL - 2” 100

WI ELR10045

WI KIB-100P
WI MR10

WI KIB-100P



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

232 233

PART# STOCK CODE DESCRIPTION PER

STEEL COUPLINGS

WI R3K-050 0582-2457 1/2” RIGID 3 PIECE COUPLING - STEEL 100

WI R3K-075 0582-2460 3/4” RIGID 3 PIECE COUPLING - STEEL 100

WI R3K-100 0582-2463 1” RIGID 3 PIECE COUPLING - STEEL 100

WI R3K-125 0582-2466 1-1/4” RIGID 3 PIECE COUPLING - STEEL 100

WI R3K-150 0582-2469 1-1/2” RIGID 3 PIECE COUPLING - STEEL 100

WI R3K-200 0582-2472 2” RIGID 3 PIECE COUPLING - STEEL 100

PART# STOCK CODE DESCRIPTION PER

STEEL FAN & FIXTURE SUPPORT

CM-FS4PB 0262-8042 4” ROUND FAN SUPPORT BOX, 1/2” DEEP 100

CM-FS4PB-NBH 0262-8045 4” ROUND FAN SUPPORT BOX, 1/2” DEEP, WIT 100

CM-FSB 0262-8048 4” OCT. FAN SUPPORT BOX, 1-1/2” DEEP 100

CM-FSB-FB 0280-8831 4” OCT FAN SUPPORT BOX 1-1/2 100

CM-FSB-NBH 0262-8051 4” OCT. FAN SUPPORT BOX, 1-1/2” DEEP, WI 100

CM-FSB-NBH-CP 0542-5017 4” FS BOX, 1 1/2IN DP, CONTRACTOR PACK 100

CM-FSB-OBH 0262-8054 4” OCT. FAN SUPPORT BOX, 1-1/2” DEEP, OL 100

CM-FSDB 0262-8057 4” OCT. FAN SUPPORT DEEP BOX, 2-1/8” DEE 100

CM-FSDB-FB 0262-8060 4” OCT. FAN SUPPORT DEEP BOX, 2-1/8” DEE 100

CM-FSDB-NBH 0280-8834 4” OCT FAN SUPPORT BOX 2-1/8” W/BAR 100

CM-FSDB-OBH 0288-0495 4” CEIL FAN/LIGHT FXT SUPPORT 2-1/8” W/B 100

CM-FSDB-SC 0316-4391 4” CEIL FAN & LGT FIXT SUPPORT 2-1/8” DP 100

PART# STOCK CODE DESCRIPTION PER

STEEL FLEX

WI 550230REEL 0553-2543 1/2” STEEL FLEX CONDUIT 1000FT REEL 100

WI 550330REEL 0553-2546 3/4” STEEL FLEX CONDUIT 500FT REEL 100

WI 550424REEL 0553-2549 1” STEEL FLEX CONDUIT 400FT REEL 100

WI 550524REEL 0553-2552 1-1/4” STEEL FLEX CONDUIT 200FT REEL 100

WI 550722REEL 0553-2558 2” STEEL FLEX CONDUIT 100FT REEL 100

PART# STOCK CODE DESCRIPTION PER

STEEL FLEX - D

WI 550130 0287-8734 WI STL FLEX COND 100FT X 3/8” 100

WI 550130REEL 0553-2540 3/8” STEEL FLEX CONDUIT 1000FT REEL 100

WI 550230 0287-8737 WI STL FLEX COND 100FT X 1/2” 100

WI 550330 0287-8740 WI STL FLEX COND 100FT X 3/4” 100

WI 550424 0287-8743 WI STL FLEX COND 100FT X 1” 100

WI 550524 0287-8746 WI STL FLEX COND 50FT X 1-1/4” 100

WI 550622 0287-8749 WI STL FLEX COND 50FT X 1-1/2” 100

WI 550622REEL 0553-2555 1-1/2” STEEL FLEX CONDUIT 150FT REEL 100

PART# STOCK CODE DESCRIPTION PER

STEEL BOX ACCESSORIES - D

WI 155 0278-6481 WI STEEL KO SEAL 2” 100

WI MR10 0284-3229 WI REDUCING WASHER 1-1/2” X 1” 100

WI MR11 0284-3232 WI REDUCING WASHER 1-1/2” X 1-1/4” 100

WI MR12 0284-3235 WI REDUCING WASHER 2” X 1/2” 100

WI MR13 0284-3238 WI REDUCING WASHER 2”  X 3/4” 100

WI MR14 0284-3241 WI REDUCING WASHER 2” X 1” 100

WI MR15 0284-3244 WI REDUCING WASHER 2” X 1-1/4” 100

WI MR16 0284-3247 WI REDUCING WASHER 2” X 1-1/2” 100

WI MR19 0284-3250 WI REDUCING WASHER 2-1/2” X 1” 100

WI MR2 0284-3253 WI REDUCING WASHER 3/4” X 1/2” 100

WI MR20 0284-3256 WI REDUCING WASHER 2-1/2” X 1-1-1/4” 100

WI MR21 0284-3259 WI REDUCING WASHER 2-1/2” X 1-1/2” 100

WI MR22 0284-3262 WI REDUCING WASHER 2-1/2” X 2” 100

WI MR23 0284-3265 WI REDUCING WASHER 3” X 1-2” 100

WI MR24 0284-3268 WI REDUCING WASHER 3” X 3/4” 100

WI MR25 0284-3271 WI REDUCING WASHER 3” X 1” 100

WI MR26 0284-3274 WI REDUCING WASHER 3” X 1-1/4” 100

WI MR27 0284-3277 WI REDUCING WASHER 3” X 1-1/2” 100

WI MR28 0284-3280 WI REDUCING WASHER 3” X 2” 100

WI MR29 0284-3283 WI REDUCING WASHER 3” X 2-1/2” 100

WI MR3 0284-3286 WI REDUCING WASHER 1” X 1/2” 100

WI MR35 0284-3289 WI REDUCING WASHER 3-1/2” X 2” 100

WI MR36 0284-3292 WI REDUCING WASHER 3-1/2” X 2-1/2” 100

WI MR37 0284-3295 WI REDUCING WASHER 3-1/2” X 3” 100

WI MR4 0284-3298 WI REDUCING WASHER 1” X 3/4” 100

WI MR43 0284-3301 WI REDUCING WASHER 4” X 2” 100

WI MR44 0284-3304 WI REDUCING WASHER 4” X 2-1/2” 100

WI MR45 0284-3307 WI REDUCING WASHER 4” X 3” 100

WI MR46 0284-3310 WI REDUCING WASHER 4” X 3-1/2” 100

WI MR5 0284-3313 WI REDUCING WASHER 1-1/4” X 1/2” 100

WI MR6 0284-3316 WI REDUCING WASHER 1-1/4” X 3/4” 100

WI MR7 0284-3319 WI REDUCING WASHER 1-1/4” X 1” 100

WI MR8 0284-3322 WI REDUCING WASHER 1-1/2” X 1/2” 100

WI MR9 0284-3325 WI REDUCING WASHER 1-1/2” X 3/4” 100

WI WPSEAL050 0287-6406 WI W-PROOF SEAL 1/2” 100

WI WPSEAL075 0287-6409 WI W-PROOF SEAL 3/4” 100

WI WPSEAL100 0287-6412 WI W-PROOF SEAL1” 100

WI WPSEAL125 0287-6415 WI W-PROOF SEAL1-1/4” 100

WI WPSEAL150 0287-6418 WI W-PROOF SEAL 1-1/2” 100

WI WPSEAL200 0287-6421 WI W-PROOF SEAL 2” 100

WI WPSEAL250 0287-6424 WI W-PROOF SEAL 2-1/2” 100

WI WPSEAL050

CM-FS4PB

WI 551022



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

234 235

PART# STOCK CODE DESCRIPTION PER

STRUCTURAL ATTACHMENTS

FCHSM025C037 0536-2068 3/8” CABLE TO 1/8” - 1/4” FLG SIDE MOUNT 100

FCHSM075 0425-4843 FLNG CLP HMR ON SIDE MNT 1/2”-3/4” FLNG 100

FH031-RHT025 0425-5176 FLNG HMRON 1/8-5/16W/RD HANG1/4”RD TH FR 100

FH031-RHT037 0425-5194 FLNG HMRON 1/8-5/16W/RD HANG3/8”RD THR F 100

FH031-RHT406 0425-5185 FLNG HMRON 1/8-5/16W/RD HANG13/32 THR HL 100

FHS025 0425-5071 FLNG HMRON1/8-5/16W/STKD STD1/4-20X9/16 100

FHS050 0425-5074 FLNG HMRON 5/16-1/2W/STKD STD1/4-20X9/16 100

FHS075 0425-5077 FLNG HMR ON 1/2-3/4W/STKD STD1/4-20X9/16 100

MFC 0425-4786 MULTI-FUNCTION CLIP 100

ZPC025 0536-1945 Z PURLIN CLIP - 1/4” HOLE, 1/16” MAX FAN 100

PART# STOCK CODE DESCRIPTION PER

STRUT CLAMPS

CPSC100S6 0385-8558 CUSHIONED PIPE CLAMP 1” 316 SS 100

CPSC100YC 0305-7834 DS-CUSHION CLAMP PIPE 1” YC 100

CPSC125YC 0305-7837 CUSHION CLAMP PIPE 1-1/4” YC 100

CPSC150YC 0305-7840 CUSHION CLAMP PIPE 1-1/2” YC 100

CPSC200YC 0305-7843 CUSHION CLAMP PIPE 2” YC 100

CPSC250YC 0305-7846 CUSHION CLAMP PIPE 2-1/2” YC 100

CPSC300YC 0305-7849 CUSHION CLAMP PIPE 3” YC 100

CPSC350YC 0305-7852 CUSHION CLAMP PIPE 3-1/2” YC 100

CPSC37YC 0305-7855 CUSHION CLAMP PIPE 3/8” YC 100

CPSC400YC 0305-7858 CUSHION CLAMP PIPE 4” YC 100

CPSC500YC 0305-7861 CUSHION CLAMP PIPE 5” YC 100

CPSC50S6 0385-8552 CUSHIONED PIPE CLAMP 1/2 316 SS 100

CPSC50YC 0305-7864 CUSHION CLAMP PIPE 1/2” YC 100

CPSC75S6 0385-8555 CUSHINED PIPE CLAMP 3/4” 316 SS 100

CPSC75YC 0305-7867 CUSHION CLAMP PIPE 3/4” YC 100

CPW25 0305-7870 PIPE WRAP 25FT ROLL EP 100

CSC025EG 0305-7873 COPPER TUBING STRUT CLAMP 1/4” CP 100

CSC037EG 0305-7876 COPPER TUBING STRUT CLAMP 3/8” CP 100

CSC050EG 0305-7879 COPPER TUBING STRUT CLAMP 1/2” CP 100

CSC075EG 0305-7882 COPPER TUBING STRUT CLAMP 3/4” CP 100

CSC100EG 0305-7885 COPPER TUBING STRUT CLAMP 1” CP 100

CSC125EG 0305-7888 COPPER TUBING STRUT CLAMP 1-1/4” CP 100

CSC150EG 0305-7891 COPPER TUBING STRUT CLAMP 1-1/2” CP 100

CSC200EG 0305-7894 COPPER TUBING STRUT CLAMP 2” CP 100

CSC250EG 0305-7897 COPPER TUBING STRUT CLAMP 2-1/2” CP 100

CSC300EG 0305-7900 COPPER TUBING STRUT CLAMP 3” CP 100

CSC350EG 0305-7903 COPPER TUBING STRUT CLAMP 3-1/2” CP 100

CSC400EG 0305-7906 COPPER TUBING STRUT CLAMP 4” CP 100

CSC500EG 0305-7909 COPPER TUBING STRUT CLAMP 5” CP 100

PART# STOCK CODE DESCRIPTION PER

STEEL FLEX - D

WI 550722 0287-8752 WI STL FLEX COND 25FT X 2” 100

WI 550822 0287-8755 WI STL FLEX COND 25FT X 2-1/2” 100

WI 550922 0287-8758 WI STL FLEX COND 25FT X 3” 100

WI 551022 0287-8761 WI STL FLEX COND 25FT X 3-1/2” 100

WI 551122 0287-8764 WI STL FLEX COND 25FT X 4” 100

PART# STOCK CODE DESCRIPTION PER

STEEL FLEX NON-UL

WI 520130NUL 0553-2510 3/8” STEEL NON-UL FLEX CONDUIT 100FT COI 100

WI 520130NUL-REEL 0553-2561 3/8” STEEL NON-UL FLEX CONDUIT 1000FT RE 100

WI 520330NUL 0553-2513 1/2” STEEL NON-UL FLEX CONDUIT 100FT COI 100

WI 520330NUL-REEL 0553-2564 1/2” STEEL NON-UL FLEX CONDUIT 1000FT RE 100

WI 520430NUL 0553-2516 3/4” STEEL NON-UL FLEX CONDUIT 100FT COI 100

WI 520430NUL-REEL 0553-2567 3/4” STEEL NON-UL FLEX CONDUIT 1000FT RE 100

WI 520524NUL 0553-2519 1” STEEL NON-UL FLEX CONDUIT 100FT COIL 100

WI 520524NUL-REEL 0553-2570 1” STEEL NON-UL FLEX CONDUIT 500FT REEL 100

WI 520624NUL 0553-2522 1-1/4” STEEL NON-UL FLEX CONDUIT 50FT CO 100

WI 520624NUL-REEL 0553-2573 1-1/4” STEEL NON-UL FLEX CONDUIT 300FT R 100

WI 520722NUL 0553-2525 1-1/2” STEEL NON-UL FLEX CONDUIT 50FT CO 100

WI 520722NUL-REEL 0553-2576 1-1/2” STEEL NON-UL FLEX CONDUIT 300FT R 100

WI 520822NUL 0553-2528 2” STEEL NON-UL FLEX CONDUIT 25FT COIL 100

WI 520822NUL-REEL 0553-2579 2” STEEL NON-UL FLEX CONDUIT 200FT REEL 100

WI 520922NUL 0553-2531 2-1/2” STEEL NON-UL FLEX CONDUIT 25FT CO 100

WI 521022NUL 0553-2534 3” STEEL NON-UL FLEX CONDUIT 25FT COIL 100

WI 521222NUL 0553-2537 4” STEEL NON-UL FLEX CONDUIT 25FT COIL 100

PART# STOCK CODE DESCRIPTION PER

STRAIN RELIEF

TSRC05  0320-9424 STRAIN RELIEF 100

TSRCU07  0248-9511 STRAIN RELIEF 100

PART# STOCK CODE DESCRIPTION PER

STRUCTURAL ATTACHMENTS

AB25 0425-4765 ANGLE BRACKET 1/4” HOLES 100

ABRHT025 0425-4900 ANGLBRCK W/ROD HNG THREAD INST 1/4” ROD 100

ABRHT037 0425-4906 ANG BRCK W/ROD HNG THREAD INST 3/8” RIV 100

BC050 0425-4912 BM CLP UP TO 1/2” FLNG W/7/16” 1/4-20 SS 100

FCH031 0425-4828 FLANGE CLIP HAMMER ON 1/8”-5/16” FLANGE 100

FCH050 0425-4831 FLANGE CLIP HAMMER ON 5/16”-1/2” FLANGE 100

FCHSM025 0425-4837 FLNG CLP HMR ON SIDE MNT 1/8”-1/4” FLNG 100

WI 551022

AB25

TSRC05

AB25

CTST412YC



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

236 237

PART# STOCK CODE DESCRIPTION PER

STRUT CLAMPS

ODSC137EG 0305-8212 O.D. STRUT CLAMP 1-3/8” EG 100

ODSC150EG 0305-8215 O.D. STRUT CLAMP 1-1/2” EG 100

ODSC162EG 0305-8218 O.D. STRUT CLAMP 1-5/8” EG 100

ODSC175EG 0305-8221 O.D. STRUT CLAMP 1-3/4” EG 100

ODSC187EG 0305-8224 O.D. STRUT CLAMP 1-7/8” EG 100

ODSC200EG 0305-8227 O.D. STRUT CLAMP 2” EG 100

ODSC212EG 0305-8230 O.D. STRUT CLAMP 2-1/8” EG 100

ODSC225EG 0305-8233 O.D. STRUT CLAMP 2-1/4” EG 100

ODSC237EG 0305-8236 O.D. STRUT CLAMP 2-3/8” EG 100

ODSC250EG 0305-8239 O.D. STRUT CLAMP 2-1/2” EG 100

ODSC262EG 0305-8242 O.D. STRUT CLAMP 2-5/8” EG 100

ODSC275EG 0305-8245 O.D. STRUT CLAMP 2-3/4” EG 100

ODSC287EG 0305-8248 O.D. STRUT CLAMP 2-7/8” EG 100

ODSC300EG 0305-8251 O.D. STRUT CLAMP 3” EG 100

ODSC312EG 0305-8254 O.D. STRUT CLAMP 3-1/8” EG 100

ODSC325EG 0305-8257 O.D. STRUT CLAMP 3-1/4” EG 100

ODSC337EG 0305-8260 O.D. STRUT CLAMP 3-3/8” EG 100

ODSC350EG 0305-8263 O.D. STRUT CLAMP 3-1/2” EG 100

ODSC362EG 0305-8266 O.D. STRUT CLAMP 3-5/8” EG 100

ODSC375EG 0305-8269 O.D. STRUT CLAMP 3-3/4” EG 100

ODSC387EG 0305-8272 O.D. STRUT CLAMP 3-7/8” EG 100

ODSC400EG 0305-8275 O.D. STRUT CLAMP 4” EG 100

ODSC412EG 0305-8278 O.D. STRUT CLAMP 4-1/8” EG 100

ODSC425EG 0305-8281 O.D. STRUT CLAMP 4-1/4” EG 100

ODSC437EG 0305-8284 O.D. STRUT CLAMP 4-3/8” EG 100

ODSC450EG 0305-8287 O.D. STRUT CLAMP 4-1/2” EG 100

ODSC462EG 0305-8290 O.D. STRUT CLAMP 4-5/8” EG 100

ODSC475EG 0305-8293 O.D. STRUT CLAMP 4-3/4” EG 100

ODSC487EG 0305-8296 O.D. STRUT CLAMP 4-7/8” EG 100

ODSC500EG 0305-8299 O.D. STRUT CLAMP 5” EG 100

ODSC512EG 0305-8302 O.D. STRUT CLAMP 5-1/8” EG 100

ODSC525EG 0305-8305 O.D. STRUT CLAMP 5-1/4” EG 100

ODSC537EG 0305-8308 O.D. STRUT CLAMP 5-3/8” EG 100

ODSC550EG 0305-8311 O.D. STRUT CLAMP 5-1/2” EG 100

ODSC562EG 0305-8314 O.D. STRUT CLAMP 5-5/8” EG 100

ODSC575EG 0305-8317 O.D. STRUT CLAMP 5-3/4” EG 100

ODSC587EG 0305-8320 O.D. STRUT CLAMP 5-7/8” EG 100

ODSC600EG 0305-8323 O.D. STRUT CLAMP 6” EG 100

ODSC612EG 0305-8326 O.D. STRUT CLAMP 6-1/8” EG 100

ODSC625EG 0305-8329 O.D. STRUT CLAMP 6-1/4” EG 100

ODSC637EG 0305-8332 O.D. STRUT CLAMP 6-3/8” EG 100

ODSC650EG 0305-8335 O.D. STRUT CLAMP 6-1/2” EG 100

ODSC662EG 0305-8338 O.D. STRUT CLAMP 6-5/8” EG 100

PART# STOCK CODE DESCRIPTION PER

STRUT CLAMPS

CSC600EG 0305-7912 COPPER TUBING STRUT CLAMP 6” CP 100

CTST100YC 0304-8411 CUSHION CLAMP TUBING 1” YC 100

CTST112YC 0305-7915 CUSHION CLAMP TUBING 1-1/8” YC 100

CTST125YC 0305-7918 CUSHION CLAMP TUBING 1-1/4” YC 100

CTST137YC 0305-7921 CUSHION CLAMP TUBING 1-3/8” YC 100

CTST150YC 0305-7924 CUSHION CLAMP TUBING 1-1/2” YC 100

CTST162YC 0305-7927 DS-CUSHION CLAMP TUBING 1-5/8” YC 100

CTST175YC 0305-7930 CUSHION CLAMP TUBING 1-3/4” YC 100

CTST187YC 0305-7933 CUSHION CLAMP TUBING 1-7/8” YC 100

CTST200YC 0305-7936 CUSHION CLAMP TUBING 2” YC 100

CTST212YC 0305-7939 CUSHION CLAMP TUBING 2-1/8” YC 100

CTST225YC 0305-7942 CUSHION CLAMP TUBING 2-1/4” YC 100

CTST250YC 0316-3251 CUSHIONED TUBING STRUT CLAMP 2-1/2” 100

CTST25YC 0305-7945 CUSHION CLAMP TUBING 1/4” YC 100

CTST262YC 0305-7948 CUSHION CLAMP TUBING 2-5/8” YC 100

CTST312YC 0305-7951 CUSHION CLAMP TUBING 3-1/8” YC 100

CTST362YC 0305-7954 CUSHION CLAMP TUBING 3-5/8” YC 100

CTST37YC 0304-8396 CUSHION CLAMP TUBING 3/8” YC 100

CTST412YC 0305-7957 CUSHION CLAMP TUBING 4-1/8” YC 100

CTST50YC 0304-8399 CUSHION CLAMP TUBING 1/2” YC 100

CTST62YC 0304-8402 CUSHION CLAMP TUBING 5/8” YC 100

CTST75YC 0304-8405 CUSHION CLAMP TUBING 3/4” YC 100

CTST87YC 0304-8408 CUSHION CLAMP TUBING 7/8” YC 100

DCB1200EG 0304-8375 BRACKET CHANNEL DOUBLE 2 HOLE 12” EG 100

DCB1800EG 0304-8378 BRACKET CHANNEL DOUBLE 2 HOLE 18” EG 100

DCB2400EG 0304-8381 BRACKET CHANNEL DOUBLE 2 HOLE 24” EG 100

DCB3000EG 0304-8384 BRACKET CHANNEL DOUBLE 2 HOLE 30” EG 100

DCB3600EG 0305-7960 BRACKET CHANNEL DOUBLE 2 HOLE 36” EG 100

DCNTS025EG3 0313-4430 DS-DOM CHN NUT TOP SPN (3) 1/4”-20 100

DCNTS037EG3 0313-4436 DS-DOM CHAN NUT TOP SPN (3) 3/8”-16 100

DSTBCLAMP 0316-3296 STR TO BM CLP DBL 13/16”&5/8” CHAN 9-12” 100

DSTBCLAMP1 0316-3299 STR TO BM CLP DBL 2-7/16”&3-1/4”” CHAN 100

ODSC025EG 0305-8185 O.D. STRUT CLAMP 1/4” EG 100

ODSC037EG 0305-8188 O.D. STRUT CLAMP 3/8” EG 100

ODSC050EG 0305-8191 O.D. STRUT CLAMP 1/2” EG 100

ODSC062EG 0305-8194 O.D. STRUT CLAMP 5/8” EG 100

ODSC075EG 0305-8197 O.D. STRUT CLAMP 3/4” EG 100

ODSC087EG 0305-8200 O.D. STRUT CLAMP 7/8” EG 100

ODSC100EG 0305-8203 O.D. STRUT CLAMP 1” EG 100

ODSC112EG 0305-8206 O.D. STRUT CLAMP 1-1/8” EG 100

ODSC1137EG 0315-3564 O.D. STRUT CLAMP 11-3/8” 100

ODSC125EG 0305-8209 O.D. STRUT CLAMP 1-1/4” EG 100

ODSC1275EG 0315-3567 O.D. STRUT CLAMP 12-3/4” 100

CTST412YC CTST412YC



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

238 239

PART# STOCK CODE DESCRIPTION PER

STRUT CLAMPS

PS125EG 0304-8690 PIPE STRAP 2 HOLE 1 1/4” EG 100

PS150EG 0304-8693 PIPE STRAP 2 HOLE 1 1/2” EG 100

PS200EG 0304-8696 PIPE STRAP 2 HOLE 2” EG 100

PS250EG 0304-8699 PIPE STRAP 2 HOLE 2 1/2” EG 100

PS300EG 0304-8702 PIPE STRAP 2 HOLE 3” EG 100

PS350EG 0305-8521 PIPE STRAP 2 HOLE 3-1/2” EG 100

PS400EG 0305-8524 PIPE STRAP 2 HOLE 4” EG 100

PS500EG 0304-8705 PIPE STRAP 2 HOLE 5” EG 100

PS600EG 0304-8708 PIPE STRAP 2 HOLE 6” EG 100

PS800EG 0315-3573 PIPE STRAP 2 HOLE 8” EG 100

RC025EG 0305-8527 ROD COUPLING 1/4-20 EG 100

RC037EG 0305-8530 ROD COUPLING 3/8-16 EG 100

RC050EG 0305-8533 ROD COUPLING 1/2-13 EG 100

RSC025EG 0304-8789 RIGID STRUT CLAMP 1/4” EG 100

RSC037EG 0304-8792 RIGID STRUT CLAMP 3/8” EG 100

RSC037S4 0320-8899 RIGID STRUT CLAMP 3/8 SS304 100

RSC037YC 0305-8536 RIGID STRUT CLAMP 3/8” YC 100

RSC050AL 0304-8990 RIGID STRUT CLAMP 1/2” AL 100

RSC050EG 0304-8795 RIGID STRUT CLAMP 1/2” EG 100

RSC050HD 0304-8924 RIGID STRUT CLAMP 1/2” HDG 100

RSC050S4 0304-9062 RIGID STRUT CLAMP 1/2” SS304 100

RSC050S6 0304-9128 RIGID STRUT CLAMP 1/2” 316SS 100

RSC050YC 0305-8539 RIGID STRUT CLAMP 1/2” YC 100

RSC075AL 0304-8993 RIGID STRUT CLAMP 3/4” AL 100

RSC075EG 0304-8798 RIGID STRUT CLAMP 3/4” EG 100

RSC075HD 0304-8927 RIGID STRUT CLAMP 3/4” HDG 100

RSC075S4 0304-9065 RIGID STRUT CLAMP 3/4” SS304 100

RSC075S6 0304-9131 RIGID STRUT CLAMP 3/4” 316SS 100

RSC075YC 0305-8542 RIGID STRUT CLAMP 3/4” YC 100

RSC1000EG 0305-8545 RIGID STRUT CLAMP 10” EG 100

RSC1000S4 0305-8548 RIGID STRUT CLAMP 10” SS304 100

RSC1000S6 0305-8551 RIGID STRUT CLAMP 10” 316SS 100

RSC100AL 0304-8996 RIGID STRUT CLAMP 1” AL 100

RSC100EG 0304-8801 RIGID STRUT CLAMP 1” EG 100

RSC100HD 0304-8930 RIGID STRUT CLAMP 1” HDG 100

RSC100S4 0304-9068 RIGID STRUT CLAMP 1” SS304 100

RSC100S6 0304-9134 RIGID STRUT CLAMP 1” 316SS 100

RSC100YC 0305-8554 RIGID STRUT CLAMP 1” YC 100

RSC1200EG 0305-8557 RIGID STRUT CLAMP 12” EG 100

RSC1200S4 0305-8560 RIGID STRUT CLAMP 12” SS304 100

RSC1200S6 0305-8563 RIGID STRUT CLAMP 12” 316SS 100

RSC125AL 0304-8999 DS-RIGID STRUT CLAMP 1 1/4” AL 100

RSC125EG 0304-8804 RIGID STRUT CLAMP 1 1/4” EG 100

PART# STOCK CODE DESCRIPTION PER

STRUT CLAMPS

ODSC675EG 0305-8341 O.D. STRUT CLAMP 6-3/4” EG 100

ODSC687EG 0305-8344 O.D. STRUT CLAMP 6-7/8” EG 100

ODSC700EG 0305-8347 O.D. STRUT CLAMP 7” EG 100

ODSC712EG 0305-8350 O.D. STRUT CLAMP 7-1/8” EG 100

ODSC725EG 0305-8353 O.D. STRUT CLAMP 7-1/4” EG 100

ODSC737EG 0305-8356 O.D. STRUT CLAMP 7-3/8” EG 100

ODSC750EG 0305-8359 O.D. STRUT CLAMP 7-1/2” EG 100

ODSC762EG 0305-8362 O.D. STRUT CLAMP 7-5/8” EG 100

ODSC775EG 0305-8365 O.D. STRUT CLAMP 7-3/4” EG 100

ODSC787EG 0305-8368 O.D. STRUT CLAMP 7-7/8” EG 100

ODSC812EG 0305-8371 O.D. STRUT CLAMP 8-1/8” EG 100

ODSC825EG 0305-8374 O.D. STRUT CLAMP 8-1/4” EG 100

ODSC837EG 0305-8377 O.D. STRUT CLAMP 8-3/8” EG 100

ODSC850EG 0305-8380 O.D. STRUT CLAMP 8-1/2” EG 100

ODSC862EG 0305-8383 O.D. STRUT CLAMP 8-5/8” EG 100

ODSC875EG 0315-3516 O.D. STRUT CLAMP 3/4” 100

ODSC887EG 0315-3519 O.D. STRUT CLAMP 8-7/8” 100

ODSC900EG 0315-3522 O.D. STRUT CLAMP 9” 100

OPUSC037EG 0304-8753 ONE PIECE STRUT CLAMP 3/8” EMT EG 100

OPUSC050EG 0304-8756 ONE PIECE STRUT CLAMP 3/8” RIGID 1/2” EM 100

OPUSC075EG 0304-8759 ONE PIECE STRUT CLAMP 1/2” RIGID 3/4” EM 100

OPUSC100EG 0304-8762 ONE PIECE STRUT CLAMP 3/4” RIGID 1” EMT 100

OPUSC125EG 0304-8765 ONE PIECE STRUT CLAMP 1” RIGID 1 1/4” EM 100

OPUSC150EG 0304-8768 ONE PIECE STRUT CLAMP 1-1/4” RIGID 1-1/2 100

OPUSC200EG 0304-8771 ONE PIECE STRUT CLAMP 1 1/2” RIGID 2” EM 100

OPUSC200REG 0304-8774 ONE PIECE STRUT CLAMP 2” RIGID EG 100

OPUSC250EG 0304-8777 ONE PIECE STRUT CLAMP 2 1/2” RIGID & EMT 100

OPUSC300EG 0304-8780 ONE PIECE STRUT CLAMP 3” RIGID & EMT EG 100

OPUSC350EG 0304-8783 ONE PIECE STRUT CLAMP 3 1/2” RIGID & EMT 100

OPUSC400EG 0304-8786 ONE PIECE STRUT CLAMP 4” RIGID & EMT EG 100

OTC100EG 0305-8386 TUBING CLAMP 1 HOLE 1” EG 100

OTC25EG 0305-8389 TUBING CLAMP 1 HOLE 1/4” EG 100

OTC31EG 0305-8392 TUBING CLAMP 1 HOLE 5/16” EG 100

OTC37EG 0305-8395 TUBING CLAMP 1 HOLE 3/8” EG 100

OTC50EG 0305-8398 TUBING CLAMP 1 HOLE 1/2” EG 100

OTC62EG 0305-8401 TUBING CLAMP 1 HOLE 5/8” EG 100

OTC75EG 0305-8404 TUBING CLAMP 1 HOLE 3/4” EG 100

OTC87EG 0305-8407 TUBING CLAMP 1 HOLE 7/8” EG 100

PS050EG 0304-8681 PIPE STRAP 2 HOLE 1/2” EG 100

PS075EG 0304-8684 PIPE STRAP 2 HOLE 3/4” EG 100

PS1000EG 0315-3576 PIPE STRAP 2 HOLE 10” EG 100

PS100EG 0304-8687 PIPE STRAP 2 HOLE 1” EG 100

PS1200EG 0315-3579 PIPE STRAP 2 HOLE 12” EG 100

OPUSC050EG PS125EG



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

240 241

PART# STOCK CODE DESCRIPTION PER

STRUT CLAMPS

RSC600S4 0304-9092 RIGID STRUT CLAMP 6” SS304 100

RSC600S6 0304-9155 RIGID STRUT CLAMP 6” 316SS 100

RSC600YC 0305-8602 RIGID STRUT CLAMP 6” YC 100

RSC800EG 0304-8819 RIGID STRUT CLAMP 8” EG 100

RSC800HD 0305-8605 RIGID STRUT CLAMP 8” HDG 100

RSC800S4 0305-8608 RIGID STRUT CLAMP 8” SS304 100

RSC800S6 0305-8611 RIGID STRUT CLAMP 8” 316SS 100

USC050YC 0320-3889 1/2” UNIVERSAL STRUT CLAMP YELLOW ZN 100

USC075YC 0320-3892 3/4” UNIVERSAL STRUT CLAMP YELLOW ZN 100

USC100YC 0320-3898 1” UNIVERSAL STRUT CLAMP YELLOW ZN 100

USC125YC 0320-3913 1 1/4” UNIVERSAL STRUT CLAMP YELLOW ZN 100

USC150YC 0320-3916 1 1/2” UNIVERSAL STRUT CLAMP YELLOW ZN 100

USC200YC 0320-3919 2” UNIVERSAL STRUT CLAMP YELLOW ZN 100

WI RPC2 1/2 0261-2373 RIGID CONDUIT PIPE CLAMP 2 1/2 100

WI RPC3 0261-2376 RIGID CONDUIT  PIPE CLAMP 3 100

WI RPC3 1/2 0261-2379 RIGID CONDUIT PIPE CLAMP 3 1/2 100

WI RPC4 0261-2382 RIGID CONDUIT PIPE CLAMP 4 100

WI UPC1 0261-2355 UNIVERSAL PIPE CLAMP 1 100

WI UPC1 1/2 0261-2361 UNIVERSAL PIPE CLAMP 1-1/2 100

WI UPC1 1/4 0261-2358 UNIVERSAL PIPE CLAMP 1-1/4 100

WI UPC1/2 0261-2349 UNIVERSAL PIPE CLAMP 1/2 100

WI UPC2 0261-2364 UNIVERSAL PIPE CLAMP 2 100

WI UPC3/4 0261-2352 UNIVERSAL PIPE CLAMP 3/4 100

WS050 0305-8914 WIRING STUD EG 100

PART# STOCK CODE DESCRIPTION PER

STRUT END CAPS

CECA-138 0315-8802 CONCRETE END CAP ANCHOR FOR 1-3/8” CHAN 100

CECA-158 0315-8805 CONCRETE END CAP ANCHOR FOR 1-5/8” CHAN 100

EC101 0304-8462 END CAP 1 5/8” 12 GA EG 100

EC102 0304-8465 END CAP 1 5/8” 14 GA EG 100

EC103 0304-8468 END CAP 13/16” 12GA/14 GAGE EG 100

EC201RD 0316-3206 END CAP 1-5/8”X13/16” PVC PLASTIC RED 100

EC201WH 0304-8453 END CAP 13/16 PVC PLASTIC WHT VC 100

EC202RD 0304-8459 END CAP 1 5/8 PVC PLASTIC RED VC 100

EC202WH 0304-8456 END CAP 1 5/8” PVC PLASTIC WHT VC 100

EC203WH 0314-7933 ENDCAP 1 5/8” X 3 1/4” WHITE 100

ECKO050EG 0305-7963 END CAP KNOCK-OUT 1/2” EG 100

ECKO075EG 0305-7966 END CAP KNOCK-OUT 3/4” EG 100

ESC037EG 0315-3513 EMT STRUT CLAMP 3/8” 100

ESC050EG 0304-8735 EMT STRUT CLAMP 1/2” EG 100

ESC050YC 0305-7969 EMT STRUT CLAMP 1/2” YC 100

PART# STOCK CODE DESCRIPTION PER

STRUT CLAMPS

RSC125HD 0304-8933 RIGID STRUT CLAMP 1 1/4” HDG 100

RSC125S4 0304-9071 RIGID STRUT CLAMP 1 1/4” SS304 100

RSC125S6 0304-9137 RIGID STRUT CLAMP 1 1/4” 316SS 100

RSC125YC 0305-8566 RIGID STRUT CLAMP 1-1/4” YC 100

RSC150AL 0304-9002 RIGID STRUT CLAMP 1 1/2” AL 100

RSC150EG 0304-8807 RIGID STRUT CLAMP 1 1/2” EG 100

RSC150HD 0304-8936 RIGID STRUT CLAMP 1 1/2” HDG 100

RSC150S4 0304-9074 RIGID STRUT CLAMP 1 1/2” SS304 100

RSC150S6 0304-9140 RIGID STRUT CLAMP 1 1/2” 316SS 100

RSC150YC 0305-8569 RIGID STRUT CLAMP 1-1/2” YC 100

RSC200AL 0304-9005 RIGID STRUT CLAMP 2” AL 100

RSC200EG 0304-8810 RIGID STRUT CLAMP 2” EG 100

RSC200HD 0304-8939 RIGID STRUT CLAMP 2” HDG 100

RSC200S4 0304-9077 RIGID STRUT CLAMP 2” SS304 100

RSC200S6 0304-9143 RIGID STRUT CLAMP 2” 316SS 100

RSC200YC 0305-8572 DS-RIGID STRUT CLAMP 2” YC 100

RSC250AL 0304-9008 RIGID STRUT CLAMP 2 1/2” AL 100

RSC250HD 0304-8942 RIGID STRUT CLAMP 2 1/2” HDG 100

RSC250S4 0304-9080 RIGID STRUT CLAMP 2 1/2” SS304 100

RSC250S6 0304-9146 RIGID STRUT CLAMP 2 1/2” 316SS 100

RSC250YC 0305-8575 RIGID STRUT CLAMP 2-1/2” YC 100

RSC300AL 0304-9011 RIGID STRUT CLAMP 3” AL 100

RSC300HD 0304-8945 RIGID STRUT CLAMP 3” HDG 100

RSC300S4 0304-9083 DS-RIGID STRUT CLAMP 3” SS304 100

RSC300S6 0304-9149 RIGID STRUT CLAMP 3” 316SS 100

RSC300YC 0305-8578 RIGID STRUT CLAMP 3” YC 100

RSC350AL 0305-8581 RIGID STRUT CLAMP 3-1/2” AL 100

RSC350HD 0304-8948 RIGID STRUT CLAMP 3 1/2” HDG 100

RSC350S4 0304-9086 RIGID STRUT CLAMP 3 1/2” SS304 100

RSC350S6 0305-8584 RIGID STRUT CLAMP 3-1/2” 316SS 100

RSC350YC 0305-8587 RIGID STRUT CLAMP 3-1/2” YC 100

RSC400AL 0304-9014 RIGID STRUT CLAMP 4” AL 100

RSC400HD 0304-8951 RIGID STRUT CLAMP 4” HDG 100

RSC400S4 0304-9089 RIGID STRUT CLAMP 4” SS304 100

RSC400S6 0304-9152 RIGID STRUT CLAMP 4” 316SS 100

RSC400YC 0305-8590 RIGID STRUT CLAMP 4” YC 100

RSC500EG 0304-8813 RIGID STRUT CLAMP 5” EG 100

RSC500HD 0304-8954 RIGID STRUT CLAMP 5” HDG 100

RSC500S4 0305-8593 RIGID STRUT CLAMP 5” SS304 100

RSC500S6 0305-8596 RIGID STRUT CLAMP 5” 316SS 100

RSC500YC 0305-8599 RIGID STRUT CLAMP 5” YC 100

RSC600EG 0304-8816 RIGID STRUT CLAMP 6” EG 100

RSC600HD 0304-8957 RIGID STRUT CLAMP 6” HDG 100

RSC150HD

USC150YC

EC101



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

242 243

PART# STOCK CODE DESCRIPTION PER

STUD WALL ATTACHMENTS

RHT040 0425-4864 ROD HNGR THREAD INSTALL 13/32” THRU HOLE 100

SAB 0536-2200 STANDOFF DECK ANGLE BRACKET, 1-1/2” 100

SABC0507 0536-2113 1/2”, 3/4” EMT TO CONDUIT TO DECK ANGLE 100

SOKP 0536-2023 SNAP-ON NAIL PLATE,  3-1/8” X 1-1/2” 100

PART# STOCK CODE DESCRIPTION PER

U-FITTINGS

U100 0304-8822 U-FITTING CROSS 3 HOLE 13/16” EG 100

U101 0304-8825 U-FITTING CROSS 5 HOLE 1 5/8” EG 100

U101GN 0305-8800 U-FITTING CROSS 5 HOLE 1-5/8 GN 100

U101HD 0305-8803 U-FITTING CROSS 5 HOLE 1-5/8 HDG 100

U101S4 0305-8806 U-FITTING CROSS 5 HOLE 1-5/8” SS304 100

U101YC 0305-8809 U-FITTING CROSS 5 HOLE 1-5/8” YC 100

U102 0304-8828 U-FITTING CROSS 3 HOLE 2 7/16” EG 100

U103 0304-8831 U-FITTING CROSS 3 HOLE 3 1/4” EG 100

U104 0304-8834 U-FITTING CROSS 3 HOLE 4 7/8” EG 100

U105 0304-8837 U-FITTING CROSS 8 HOLE 1 5/8” EG 100

U106 0305-8812 U-FITTING CROSS 6 HL 1-5/8” DBL CHANNEL 100

U107 0305-8815 U-FITTING CROSS 1 HL 2 STL 1-5/8 (7-1/4) 100

U108 0305-8818 U-FITTING CROSS 1 HL 2 STL 1-5/8 (8-1/2) 100

U109 0305-8821 U-FITTING CRSS 1 HL 2 STL 1-5/8 (10-3/8) 100

U110 0305-8824 U-FITTING SPLICE 2 HL 1-5/8” CHANNEL EG 100

U111 0304-8840 U-FITTING SPLICE 3 HL 1 5/8” CHANNEL EG 100

U113 0304-8843 U-FITTING SPLICE 4 HL 13/16” CHANNEL EG 100

U114 0315-3681 U-FITTING SPLICE 4 HL 3-1/4” CHAN 100

U115 0304-8846 U-FITTING TROLLEY SUPPORT 3 HOLE STD EG 100

U116 0304-8849 U-FITTING TROLLEY SUP 3 HOLE HVY DTY EG 100

U117 0305-8827 U-FITTING 3 HOLE CUP SUPPORT EG 100

U32GN 0305-8830 U-FITTING SPLICE 4 HOLE 1-5/8 CHANNEL GN 100

U32HD 0305-8833 U-FITTING SPLICE 4 HL 1-5/8” CHANNEL HDG 100

U32S4 0305-8836 U-FITTING SPLICE 4 HL 1-5/8” CHANNEL SS3 100

U32YC 0305-8839 U-FITTING SPLICE 4 HL 1-5/8” CHANNEL YC 100

UFC400EG 0305-8842 U-FITTING CLEVIS 2 HOLE 4” EG 100

UFC500EG 0305-8845 U-FITTING CLEVIS 2 HOLE 5” EG 100

UFC600EG 0305-8848 U-FITTING CLEVIS 2 HOLE 6” EG 100

UFC700EG 0305-8851 U-FITTING CLEVIS 2 HOLE 7” EG 100

UFC800EG 0305-8854 U-FITTING CLEVIS 2 HOLE 8” EG 100

USW025EG 0315-5973 U-SHAPED CHANNEL WASHER 1/4” EG 100

USW037EG 0315-5976 U-SHAPED CHANNEL WASHER 3/8” EG 100

USW050EG 0315-5979 U-SHAPED CHANNEL WASHER 1/2” EG 100

USW062EG 0315-5982 U-SHAPED CHANNEL WASHER 5/8” EG 100

USW075EG 0315-5988 U-SHAPED CHANNEL WASHER 3/4” EG 100

PART# STOCK CODE DESCRIPTION PER

STRUT END CAPS

ESC075EG 0304-8738 EMT STRUT CLAMP 3/4” EG 100

ESC075YC 0305-7972 EMT STRUT CLAMP 3/4” YC 100

ESC100EG 0304-8741 EMT STRUT CLAMP 1” EG 100

ESC100YC 0305-7975 EMT STRUT CLAMP 1” YC 100

ESC125EG 0304-8744 EMT STRUT CLAMP 1 1/4” EG 100

ESC125YC 0305-7978 EMT STRUT CLAMP 1-1/4” YC 100

ESC150EG 0304-8747 EMT STRUT CLAMP 1 1/2” EG 100

ESC150YC 0305-7981 EMT STRUT CLAMP 1-1/2” YC 100

ESC200EG 0304-8750 EMT STRUT CLAMP 2” EG 100

ESC200YC 0305-7984 EMT STRUT CLAMP 2” YC 100

PART# STOCK CODE DESCRIPTION PER

STUD WALL ATTACHMENTS

AB37 0425-4768 ANGLE BRACKET 3/8” HOLE SIZE  100

ABC0507 0425-4891 ANGLE BRCK W/CNDT CLP 1/2”-3/4” RIVETED 100

ABRHP025 0425-4894 ANG BRCK W/ROD HNG PSH INST1/4” ROD #8 100

ABRHP037 0425-4897 ANG BRCK W/ROD HNG PSH INST 3/8” RD RIV 100

ABRHT040 0425-4903 ANG BRCK W/ROD HNG THREAD INS 13/32” RIV 100

ARS 0536-2098 ANTI-RATTLE SUPPORT 100

BC2J 0544-1496 BEAM CLAMP & JHOOK, 3” - 6” 100

BSSC0507 0536-2029 CONDUIT TO STUD ATTACHMENT, ?”, ?” EMT, 100

C-123812M 0576-6339 Z PURLIN CLIP FOR 1/2” TO 3/4” EMT, 0.06 100

C-12P12P 0583-6440 BACK TO BACK 3/4” TO 3/4” EMT CON. HANG. 100

CCM 0425-4771 CABLE CLIP MC/AC TO METAL STUD 100

CCTS 0536-2032 THROUGH STUD CABLE/CONDUIT CLIP - 0.433” 100

CCWM 0425-4774 CLIP-WD OR MTL STUD1/2”-3/4” EMT OR MC/A 100

CCWMD 0536-2206 CABLE/CONDUIT TO STUD ATTACHMENT- 1/2”, 100

CCWMD1 0536-2203 CABLE/CONDUIT TO STUD ATTACHMENT- 1” EMT 100

CM-BMA-23 0314-7981 BOX MOUNTING ADPT W/2-1/2” & 3-1/2” SUPP 100

CM-BMA-4 0314-7978 BOX MOUNTING ADPT W/2-1/2”, 3-1/2” & 4” 100

CM-BMA-6 0355-8057 BOX MOUNT BRKT W/ 2 1/2” TO 6” SUPPORT  100

CM-CJ6 0328-3806 STUD WALL CABLE SUPPORT 100

MPP025 0536-2320 1/4” BEAM CLAMP WITH SWIVEL FOR Z OR C P 100

MPP037 0536-2323 3/8” BEAM CLAMP WITH SWIVEL FOR Z OR C P 100

MSCC0507 0536-2116 CONDUIT TO STUD ATTACHMENT 1/2” TO  3/4” 100

MSG 0536-2212 METAL STUD GROMMENT FOR PIPE OR CONDUIT 100

NBC0507 0425-4909 NAIL BRCK W/CNDT CLP 1/2”-3/4” RIVETED 100

PSP 0425-4789 PIPE SLEEVE POSITIONER 100

RHP025 0425-4852 ROD HANGER PUSH INSTALL 1/4” ROD #8 WIRE 100

RHP037 0425-4858 ROD HANGER PUSH INSTALL 3/8” ROD 100

RHT025 0425-4861 ROD HNGR THREAD INSTALL 1/4” ROD THREAD 100

RHT037 0425-4867 ROD HNGR THREAD INSTALL 3/8” ROD THREAD 100

AB37

U100

EC101

AB37



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

244 245

PART# STOCK CODE DESCRIPTION PER

WEATHERPROOF BOXES - D

WI DB100/3 0278-8248 WI 1G 2-5/8” DEEP BOX  3X1” H 100

WI DB100/5X 0278-8251 WI 1G 2-5/8” DEEP BOX 5X1” H 100

WI DB50/3 0278-8254 WI 1G 2-5/8” DEEP BOX 3X1/2” H 100

WI DB50/4 0278-8257 WI 1G 2-5/8” DEEP BOX 4X1/2” H 100

WI DB50/5X 0278-8260 WI 1G 2-5/8” DEEP BOX  5X1/2” H 100

WI DB75/3 0278-8263 WI 1G 2-5/8” DEEP BOX 3X3/4” H 100

WI DB75/4 0278-8266 WI 1G 2-5/8 DEEP BOX 4X3/4” H 100

WI DB75/5X 0278-8269 WI 1G 2-5/8” DEEP BOX  5X3/4” H 100

WI DTB100/5 0278-8290 WI 2G 2-5/8” DEEP BOX 5X1” H 100

WI DTB100/7X 0278-8293 WI 2G 2-5/8” DEEP BOX 7X1” H 100

WI DTB50/5 0278-8296 WI 2G 2-5/8” DEEP BOX  5X1/2” H 100

WI DTB50/7X 0278-8299 WI 2G 2-5/8” DEEP BOX 7X1/2” H 100

WI DTB75/5 0278-8302 WI 2G 2-5/8” DEEP BOX 5X3/4” H 100

WI DTB75/7X 0278-8305 WI 2G 2-5/8” DEEP BOX 7X3/4” H 100

WI FSB100/3 0278-8362 WI 1G 2” DEEP BOX 3X1” H 100

WI FSB50/3 0278-8365 WI 1G 2” DEEP  BOX 3X1/2” H 100

WI FSB50/3BZ 0278-8368 WI 1G 2” DEEP BOX 3X1/2” H BZ 100

WI FSB50/3W 0278-8371 WI 1G 2” DEEP BOX 3X1/2” H WH 100

WI FSB50/4 0278-8374 WI 1G 2” DEEP BOX 4X1/2” H 100

WI FSB50/4BZ 0278-8377 WI 1G 2” DEEP BOX 4X1/2” H BZ 100

WI FSB50/4W 0278-8380 WI 1G 2” DEEP BOX 4X1/2” WH 100

WI FSB50/5 0278-8383 WI 1G 2” DEEP BOX 5X1/2” H 100

WI FSB50/5BZ 0280-0500 WI 1G 2” DEEP BOX 5 X 1/2” H BRZ 100

WI FSB50/5W 0280-0503 WI 1G 2” DEEP BOX 5 X 1/2”  H WHT 100

WI FSB50/5X 0278-9532 WI 1G 2” DEEP BOX 5X1/2” H 100

WI FSB75/3 0278-8386 WI 1G 2” DEEP BOX 3X3/4”H 100

WI FSB75/3BZ 0278-8389 WI 1G 2” DEEP BOX 3X34” H BZ 100

WI FSB75/3W 0278-8392 WI 1G 2” DEEP BOX 3X3/4” H WH 100

WI FSB75/4 0278-8395 WI 1G 2” DEEP BOX 4X3/4” H 100

WI FSB75/4BZ 0278-8398 WI 1G 2” DEEP BOX 4X3/4” H BZ 100

WI FSB75/4W 0278-8401 WI 1G 2” DEEP BOX 4X3/4” H WH 100

WI FSB75/5 0278-8197 WI 1 GANG 2” DEEP BOX 5X3/4” H 100

WI FSB75/5X 0278-8404 WI 1G 2” DEEP BOX 5X3/4” H 100

WI MUC1 0358-3383 1 GANG 10-IN-1 VERTICLE WP COVER 100

WI MUC2 0358-3389 2 GANG 16 IN 1 VERTICLE WP COVER 100

WI MUC3 0358-3809 3 GANG MULTI-USE WP COVER 64 IN 1 100

WI MUCT2 0358-3812 2 GANG 5-IN-1 TOGGLE SWITCH COMBO CVR 100

WI RBC 0278-8425 WI 4” RND STEEL CVR & GASKET 100

WI RBCBZ 0293-0010 4” ROUND STEEL CVR & GSKT BRZ 100

WI RBCW 0293-0013 4” ROUND STEEL CVR & GSKT WHT 100

WI TC100 0291-5157 1G TOGGLE SWITCH METAL COVER GRAY 100

WI TC100BZ 0291-5163 1G TOGGLE SWITCH METAL COVER BRONZE 100

WI TC100W 0291-5160 1G TOGGLE SWITCH METAL COVER WHITE 100

PART# STOCK CODE DESCRIPTION PER

U-FITTINGS

WI 4HSPLICEKIT 0287-6277 WI 4 HOLE SPLICE KIT 100

PART# STOCK CODE DESCRIPTION PER

WEATHERPROOF ACCESSORIES - D

WPBH050 0542-6673 WEATHERPROOF BOX HOLDER- 1/2” 100

WI PLUG1/2BZ 0280-7886 WI CLOSURE PLUG BRONZE 1/2” 100

WI PLUG1/2GY 0280-7889 WI CLOSURE PLUG GRAY 1/2” 100

WI PLUG1/2WH 0280-7892 WI CLOSURE PLUG WHITE 1/2” 100

WI PLUG1”BZ 0280-8432 WI CLOSURE PLUG BRONZE 1” 100

WI PLUG1”GY 0280-8435 WI CLOSURE PLUG GRAY 1” 100

WI PLUG1”WH 0280-8438 WI CLOSURE PLUG WHITE 1” 100

WI PLUG3/4BZ 0280-7895 WI CLOSURE PLUG BRONZE 3/4” 100

WI PLUG3/4GY 0280-7898 WI CLOSURE PLUG GRAY 3/4” 100

WI PLUG3/4WH 0280-7901 WI CLOSURE PLUG WHITE 3/4” 100

PART# STOCK CODE DESCRIPTION PER

WEATHERPROOF BOXES - D

WI TGB100/3 0278-8428 WI 2G 2-3/16” DEEP BOX 3X1” H 100

WI TGB100/4 0278-8431 WI 2G 2-3/16” DEEP BOX 4X1” H 100

WI TGB100/5X 0278-8434 WI 2G 2-3/16” DEEP BOX 5X1” H 100

WI TGB50/3 0278-8437 WI 2G 2-3/16: DEEP BOX 3X1/2” H 100

WI TGB50/4 0278-8440 WI 2G 2-3/16” DEEP BOX 4X1/2” H 100

WI TGB50/5 0278-8443 WI 2G 2-3/16” DEEP BOX 5X1/2” H 100

WI TGB50/5X 0278-8446 WI 2G 2-3/16” DEEP BOX 5X1/2” H 100

WI TGB50/7 0278-8449 WI 2G 2-3/16” DEEP BOX 7X1/2” H 100

WI TGB50/7X 0278-8452 WI 2G 2-3/16” DEEP BOX 7X1/2” H 100

WI TGB50/9 0278-8455 WI 2G 2-3/16” DEEP BOX 9X1/2” H 100

WI TGB75/3 0278-8458 WI 2G 2-3/16” DEEP BOX 3X3/4” H 100

WI TGB75/4 0278-8461 WI 2G 2-3/16” DEEP BOX 4X3/4” H 100

WI TGB75/5 0278-8464 WI 2G 2-3/16” DEEP BOX 5X3/4” H 100

WI TGB75/5X 0278-8467 WI 2G 2-3/16” DEEP BOX 5X3/4” H 100

WI TGB75/7 0278-8470 WI 2G 2-3/16” DEEP BOX 7X3/4” H 100

WI TGB75/7X 0278-8473 WI 2G 2-3/16” DEEP BOX 7X3/4” H 100

WI TGB75/9 0278-8476 WI 2G 2-3/16” DEEP BOX 9X3/4” H 100

WI BRD4 0278-8230 WI 4” ROUND BOX 100

WI BRD4BZ 0278-8233 WI 4” ROUND BOX BRONZE 100

WI BRD4W 0278-8236 WI 4” ROUND BOX WHITE 100

WI BRD5 0328-4754 4” WP ROUND BOX 3/4” HOLES 100

WI D3GB100/7 0278-8239 WI 3G 2-5/8” DEEP BOX 7X1” H 100

WI D3GB50/7 0278-8242 WI 3G 2-5/8” DEEP BOX 7X1/2” H 100

WI D3GB75/7 0278-8245 WI 3G 2-5/8” DEEP BOX 7X3/4” H 100

WI PLUG1”GY

WI TGB100/3

WI DTB100/5

U100



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

246 247

PART# STOCK CODE DESCRIPTION PER

WEATHERPROOF EXTENSION RINGS - D

WI EXF50/4 0278-8308 WI 1G FLANGED1-1/16” DEEP EXT BOX 4X 100

WI EXF75/4 0278-8311 WI 1G FLANGED 1-1/16” DEEP EXT BOX 4 100

WI EXR1 0278-8314 WI 1G 1-3/8” DEEP EXTENTION RING 100

WI EXR1BZ 0293-0004 1G OUTDOOR EXTENTION BOX BRZ 100

WI EXR1W 0293-0007 1G OUTDOOR EXTENTION BOX WHT 100

WI EXR2 0278-8317 WI 2G 1-3/8” DEEP EXTENTION RING 100

WI EXR50/4 0278-8320 WI 4” RND BOX & EXTENTION RING 4X1/2” 100

PART# STOCK CODE DESCRIPTION PER

W-FITTINGS

W200 0304-8852 WING FITTING SINGLE CNR 3 HOLE RIGHT EG 100

W201 0304-8855 WING FITTING SINGLE CNR 3 HOLE LEFT EG 100

W202 0304-8858 WING FITTING SINGLE CNR 4 HOLE RIGHT EG 100

W203 0304-8861 WING FITTING SINGLE CNR 4 HOLE LEFT EG 100

W204 0304-8864 WING FITTING SGL CNR 6 HL GUS RIGHT EG 100

W205 0304-8867 WING FITTING SGL CNR 6 HOLE GUS LEFT EG 100

W206 0304-8870 WING FITTING DOUBLE CORNER 4 HOLE EG 100

W206YC 0305-8875 WING FITTING DOUBLE CORNER 4 HOLE YC 100

W207 0304-8873 WING FITTING DOUBLE CORNER 6 HOLE EG 100

W208 0304-8876 WING FITTING DOUBLE CORNER 8 HOLE EG 100

W209 0304-8879 WING FITTING DBL CORNER GUS 8 HOLE EG 100

W210 0304-8882 WING FITTING DBL CNR DBL GUS 8 HOLE EG 100

W211 0305-8878 WING FITTING CNR CONN OPP 5 HOLE EG 100

W212 0305-8881 WING FITTING CNR CONN OPP 8 HOLE EG 100

W212S4 0305-8884 WING FITTING CNR CONN OPP 8 HOPE SS304 100

W212S6 0305-8887 WING FITTING CNR CONN OPP 8 HOLE 316SS 100

W212YC 0305-8890 WING FITTING CNR CONN OPP 8 HOLE YC 100

W213 0305-8893 WING FITTING CNR CONN OPP 10 HOLE EG 100

W214 0305-8896 WING FIT CNR CONN DBL GUS OPP 10 HOLE EG 100

W215 0305-8899 WING FITTING TRIPLE CORNER 6 HOLE EG 100

W216 0305-8902 WING FITTING TRIPLE CORNER 9 HOLE EG 100

W217 0305-8905 WING FITTING TRIPLE CORNER 12 HOLE EG 100

W218 0305-8908 WING FITTING TRIPLE CNR GUS 12 HOLE EG 100

W219 0305-8911 WING FITTING DBL CORNER CONN 8 HOLE EG 100

PART# STOCK CODE DESCRIPTION PER

Z-FITTINGS

Z300 0304-8885 Z-FITTING CROSS 2 HOLE 13/16” EG 100

Z301 0304-8888 Z-FITTING CROSS 2 HOLE 1 5/8” EG 100

Z301GN 0305-8917 Z-FITTING CROSS 2 HOLE 1-5/8 GN 100

Z301S4 0305-8920 Z-FITTING CROSS 2 HOLE 1/5/8” SS304 100

PART# STOCK CODE DESCRIPTION PER

WEATHERPROOF BOXES - D

WI TC200 0291-5166 2G TOGGLE SWITCH METAL COVER GRAY 100

WI BP10 0278-8089 WI 1G BLANK STEEL COVER 100

WI BP10BZ 0292-9995 1G OUTDOOR BLANK CVR BRZ 100

WI BP10G 0557-9739 1-GANG OUTDOOR BLANK STEEL COVER - GRAY 100

WI BP10W 0292-9998 1G OUTDOOR BLANK CVR WHT 100

WI BP20 0278-8092 WI P 2G BLANK STEEL COVER 100

WI BP20G 0557-9742 2-GANG OUTDOOR BLANK STEEL COVER - GRAY 100

WI BP30 0359-2506 WP 3 G BLANK STEEL COVER 100

WI CR3BZ 0293-0001 OUTDOOR ROUND CVR 3 X1/2” HOLES BRZ 100

WI DP1A 0278-8272 WI 1G VERTICLE CVR SGL RCPT 100

WI DP1ABZ 0278-8275 WI 1G VERTICLE CVR SGL RCPT 100

WI DP1AW 0278-8278 WI 1G VERTICLE CVR SGL RCPT 100

WI DP2A 0278-8281 WI 1G HORIZ CVR DUPLEX RCPT 100

WI DP2ABZ 0278-8284 WI 1G HORIZ CVR DUPLEX RCPT BZ 100

WI DP2AW 0278-8287 WI 1G HORIZ CVR DUPLEX RCPT WH 100

WI FC261 0281-0574 WI 2G 2 X DUPLEX RECEPTACLE COVER 100

WI FC271 0288-0138 WI OVERSIZED ONE DPLX HORIZONTAL CVR 100

WI FC281 0278-8323 WI 2G 2 X SGL RCPT CVR 100

WI FC281BZ 0288-0141 WI 2G S X SGL RCPT CVR BRZ 100

WI FC281W 0288-0144 WI 2G 2 X SGL RCPT CVR WHT 100

WI FC291 0278-8326 WI 2G COMBO SWITCH/RCPT CVR 100

WI FC361 0281-0577 WI 3G TRIPLE DUPLEX COVER 100

WI FC381 0281-0580 WI 3G SINGLE RECEPTACLE COVER 100

WI FC61 0278-8329 WI 1G VERTICLE DUPLEX RCPT CVR 100

WI FC61BZ 0278-8332 WI 1G VERTICLE DUPLEX RCPT CVR 100

WI FC61W 0278-8335 WI 1G  VERTICLE DPLX RCPT CVR 100

WI FCV291 0327-6138 2 GANG SWITCH/GFCI COVER 100

WI FG1DC 0278-8338 WI 1G HORIZONTAL GFCI CVR 100

WI FG1DCBZ 0278-8341 WI 1G HORIZONTAL GFCI CVR BZ 100

WI FG1DCW 0278-8344 WI 1G HORIZONTAL GFCI CVR WH 100

WI FGV1DC 0278-8347 WI 1G VERTICLE GFCI CVR 100

WI FGV1DCBZ 0278-8350 WI 1G VERTICLE GFCI CVR BZ 100

WI FGV1DCW 0278-8353 WI 1G VERTICLE GFCI CVR WH 100

WI FGV261 0278-8356 WI 2G 1 GFCI & 1 DUPLEX RCPT CVR 100

WI FGV2DC 0278-8359 WI 2G  2 X GFCI COVER 100

WI FGV3DC 0281-0583 WI 3G GFCI COVER 100

WI PO16 0278-9535 WI 1G 20A/30A TWIST LOCK RCPT 100

WI PO17 0278-9538 WI 1G 30A 3-4 TWIST LOCK RCPT 100

WI PO18 0313-4331 WI 1G 50A TWIST LOCK RCPT 100

WI RBCG 0557-9745 4” RND OUTDR STEEL COVER & GSKT - GRAY 100

WI EXF50/4

W200

Z300

WI DTB100/5



11675 SW TOM MACKIE BLVD.   |    PORT ST. LUCIE, FL 34987    |    P: 772.878.4944    |    WWW.TAMCOGROUP.COM

WWW.CENTAURINSTALLATION.COM
Visit our website

STANDARDS SUBJECT TO CHANGE. VISIT WWW.CENTAURINSTALLATION.COM FOR CURRENT INFORMATION

MASTER LINE CARD

248 249

PART# STOCK CODE DESCRIPTION PER

Z-FITTINGS

Z301S6 0305-8923 Z-FITTING CROSS 2 HOLE 1-5/8” 316SS 100

Z301YC 0305-8926 Z-FITTING CROSS 2 HOLE 1-5/8” YC 100

Z302 0304-8891 Z-FITTING CROSS 2 HOLE 2 7/16” EG 100

Z303 0304-8894 Z-FITTING CROSS 2 HOLE 3 1/4” EG 100

Z304 0304-8897 Z-FITTING CROSS 2 HOLE 1” EG 100

Z305 0304-8900 Z-FITTING OFFSET SPLICE 2 HOLE EG 100

Z306 0305-8929 Z-FITTING 2 HOLE SUPPORT 4” EG 100

Z307 0305-8932 Z-FITTING 2 HOLE SUPPORT 5” EG 100

Z308 0305-8935 Z-FITTING 2 HOLE SUPPORT 6” EG 100

Z309 0305-8938 Z-FITTING 2 HOLE SUPPORT 7” EG 100

Z310 0305-8941 Z-FITTING 2 HOLE SUPPORT 8” EG 100

Z311 0305-8944 Z-FITTING CHANNEL HANGER 13/16” EG 100

Z312 0305-8947 Z-FITTING CHANNEL HANGER 1-5/8” EG 100

Z313 0305-8950 Z-FITTING CHANNEL HANGER 2-7/16” EG 100

Z314 0305-8953 Z-FITTING CHANNEL HANGER 3-1/4” EG 100

Z315 0305-8956 Z-FITTING CORNER BRACE 3 HOLE EG 100

Z316 0305-8959 Z-FITTING CORNER BRACE 8 HOLE EG 100

Z317 0305-8962 Z-FITTING SLOTTED 3 HOLE SUPPORT EG 100

Z300



11675 SW TOM MACKIE BLVD.
PORT ST. LUCIE, FL 34987
P. 772.878.4944

Visit www.cityelectricsupply.com to find a branch near you.

USA

www.MCG-USA.com 

www.F4P-USA.com

www.RPP-USA.com 

w w w. TA M C O G R O U P . c o m

www.FUSION-LAMPS.com

www.TAMLITEUSA.com

www.CENTAURINSTALLATION.com 


